### BRADLEY COUNTY (Contract No. CNR928 Call 001)

06012-4223-04, HSIP-312(17), 06012-3223-94

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 312 FROM WHITE OAK ROAD (L.M. 4.77) TO U.S. 11 (U.S. 64, S.R. 2) (L.M. 8.51).

PROJECT LENGTH - 3.740 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Talley Construction Company, Inc.

\$312,412.62

Hudson Construction Company \$358,364.20

CONTRACT	CNR928
_\/T	

				CONTRACT CNR92
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		80.000 TON		
	Talley Construction Company, Inc. Hudson Construction Company		\$54.4400 \$67.5000	\$4,355.20 \$5,400.00
400.05.04				
403-05.01	BITUMINOUS MATERIAL (FOG SEAL) SHOULDER	1.000 TON		
	Talley Construction Company, Inc.	1.000 1014	\$1,147.1300	\$1,147.13
	Hudson Construction Company		\$300.0000	\$300.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		578.000 S.F.		
	Talley Construction Company, Inc.		\$36.7500	\$21,241.50
	Hudson Construction Company		\$53.0000	\$30,634.00
702-03	CONCRETE COMBINED CURB & GUTTER			
	Tallan Construction Comments Inc.	8.300 C.Y.	<b>#</b> 505,0000	<b>#4.057.50</b>
	Talley Construction Company, Inc. Hudson Construction Company		\$525.0000 \$1,400.0000	\$4,357.50 \$11,620.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Talley Construction Company, Inc.		\$2,306.8500	\$9,227.40
	Hudson Construction Company		\$2,197.0000	\$8,788.00
706-01	GUARDRAIL REMOVED			
		200.000 L.F.		
	Talley Construction Company, Inc.		\$1.1600 \$1.1000	\$232.00
	Hudson Construction Company		\$1.1000	\$220.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Talley Construction Company, Inc.	1.000 LS	\$9,300.0000	\$9,300.00
	Hudson Construction Company		\$28,500.0000	\$28,500.00
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
		158.000 EACH		
	Talley Construction Company, Inc.		\$23.1000	\$3,649.80
	Hudson Construction Company		\$22.0000	\$3,476.00
712-05.01	WARNING LIGHTS (TYPE A)			
		28.000 EACH	_	
	Talley Construction Company, Inc. Hudson Construction Company		\$15.7500 \$15.0000	\$441.00 \$420.00
712-06	SIGNS (CONSTRUCTION)			
112-00	S.S. (OCHO MOCHON)	639.000 S.F.		
	Talley Construction Company, Inc.	0001000 0.11	\$6.8300	\$4,364.37
	Hudson Construction Company		\$6.5000	\$4,153.50

				CONTRACT CNR928
			UNIT PRICE	EXTENSION
713-16 01	CHANGEABLE MESSAGE SIGN UNIT			
713-10.01	CHANGLABLE MESSAGE SIGN ONLY	2.000 EACH		
	Talley Construction Company, Inc.	2.000 2.1011	\$735.0000	\$1,470.00
	Hudson Construction Company		\$700.0000	\$1,400.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	200 200 54 011		
	Talloy Construction Company Inc	289.000 EACH	¢25 2000	<b>\$7,000,00</b>
	Talley Construction Company, Inc. Hudson Construction Company		\$25.2000 \$24.0000	\$7,282.80 \$6,936.00
	. ,		·	. ,
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		21.000 EACH		
	Talley Construction Company, Inc. Hudson Construction Company		\$25.2000 \$24.0000	\$529.20 \$504.00
	Tidason construction company		Ψ24.0000	φ304.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		440.000 S.Y.		
	Talley Construction Company, Inc.		\$16.5400	\$7,277.60
	Hudson Construction Company		\$15.7500	\$6,930.00
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
. 10 02.00		820.000 L.F.		
	Talley Construction Company, Inc.		\$8.6600	\$7,101.20
	Hudson Construction Company		\$8.2500	\$6,765.00
740 00 00	DI ACTIC DAVEMENT MADIZING (TUDNI LANE ADDOM)			
/16-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	9.000 EACH		
	Talley Construction Company, Inc.	9.000 EACH	\$136.5000	\$1,228.50
	Hudson Construction Company		\$130.0000	\$1,170.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	T. II. O	200.000 L.F.	Ф0.0000	0.470.00
	Talley Construction Company, Inc. Hudson Construction Company		\$2.3600 \$2.2500	\$472.00 \$450.00
	,,,,,,,,		<b>V</b> =:==000	*******
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
		154.000 L.F.		
	Talley Construction Company, Inc.		\$16.5400	\$2,547.16
	Hudson Construction Company		\$15.7500	\$2,425.50
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	, ,	2.000 EACH		
	Talley Construction Company, Inc.		\$183.7500	\$367.50
	Hudson Construction Company		\$175.0000	\$350.00
716-12 04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
7 10-13.01	OF THE THE TWIT WITHING (OF THE)	12.000 L.M.		
	Talley Construction Company, Inc.	. Z.VVV L.ITI.	\$1,968.7500	\$23,625.00
	Hudson Construction Company		\$1,875.0000	\$22,500.00

				CONTRACT CNR92	28
			UNIT PRICE	EXTENSION	
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)				
		120.000 L.F.			
	Talley Construction Company, Inc.		\$1.3100	\$157.20	
	Hudson Construction Company		\$1.2500	\$150.00	
717-01	MOBILIZATION				
		1.000 LS			
	Talley Construction Company, Inc.		\$8,425.0000	\$8,425.00	

\$21,850.0000

\$21,850.00

**Hudson Construction Company** 

				CONTRACT CNR928
ROADW	AY ALTERNATE AA1 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Talley Construction Company, Inc.	20.000 TON	\$562.0900	\$11,241.80
	Hudson Construction Company		φ302.0 <del>9</del> 00	\$11,241.00
411-03.05	ACS MIX(PG64-22) THIN LIFT ASPHALT			
		60,388.000 S.Y.		

Talley Construction Company, Inc.

Hudson Construction Company

\$182,371.76

\$3.0200

\$190,222.20

\$3.1500

			CONTRACT	CINK920
ROADWAY A	ALTERNATE AA2 CATEGORY	UNIT PRICE	EXTE	ENSION
403-01.01 BIT	TUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING) 10.000 TON			
	dson Construction Company lley Construction Company, Inc.	\$320.0000	\$3,	200.00
414-03.03 MIC	CRO SURFACING			

**Hudson Construction Company** 

Talley Construction Company, Inc.

60,388.000 S.Y.

Hudson Construction Company	\$164,942.00
Talley Construction Company, Inc.	\$118,799.06
SUB-TOTAL ROADWAY ALTERNATE AA1	
Talley Construction Company, Inc.	\$193,613.56
SUB-TOTAL ROADWAY ALTERNATE AA2	
Hudson Construction Company	\$193,422.20
TOTAL CONTRACT	
Talley Construction Company, Inc.	\$312,412.62
Hudson Construction Company	\$358,364.20

### COCKE COUNTY (Contract No. CNR920 Call 002)

HSIP-160(12),15013-3219-94,15013-4219-04,R-HSIP-9(88),15003-3240-94,15003-4240-04

THE RESURFACING ON U.S. 25 (U.S. 70, S.R. 9) FROM S.R. 107 TO THE NORTH CAROLINA STATE LINE AND ON S.R. 160 FROM NEAR SOUTH BUCKNER ROAD TO THE NOLICHUCKY RIVER.

PROJECT LENGTH - 14.250 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

DBE GOAL 3.50%

TOTAL CONTRACT

Newport Paving Company, Inc.

\$2,208,669.71

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNR920 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Newport Paving Company, Inc.	2,065.000 TON	\$39.5000	\$81,567.50
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	105.000 TON		
	Newport Paving Company, Inc.	105.000 TON	\$400.0000	\$42,000.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	1,641.000 TON		
	Newport Paving Company, Inc.	1,041.000 1010	\$119.2500	\$195,689.25
411-01.10	ACS MIX(PG64-22) GRADING D	8,431.000 TON		
	Newport Paving Company, Inc.	3,	\$119.2500	\$1,005,396.75
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	4,045.000 TON		
	Newport Paving Company, Inc.	·	\$117.2500	\$474,276.25
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (	(4IN WIDTH) 12.000 L.M.		
	Newport Paving Company, Inc.		\$605.0000	\$7,260.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Newport Paving Company, Inc.		\$59,000.0000	\$59,000.00
712-06	SIGNS (CONSTRUCTION)	1,040.000 S.F.		
	Newport Paving Company, Inc.	·	\$10.0000	\$10,400.00
713-16.20	SIGNS (W1-8)	8.000 EACH		
	Newport Paving Company, Inc.		\$300.0000	\$2,400.00
713-16.20	SIGNS (W11-3)	2.000 EACH		
	Newport Paving Company, Inc.		\$300.0000	\$600.00
713-16.21	SIGNS (OM-3)	25.000 EACH		
	Newport Paving Company, Inc.		\$300.0000	\$7,500.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	1,027.000 EACH		
	Newport Paving Company, Inc.		\$31.0000	\$31,837.00

			UNIT PRICE	CONTRACT CNR920 EXTENSION
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)	400 000 54 011		
	Newport Paving Company, Inc.	188.000 EACH	\$31.0000	\$5,828.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Newport Paving Company, Inc.	50.000 L.F.	\$9.6300	\$481.50
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Newport Paving Company, Inc.	15.000 L.M.	\$467.5000	\$7,012.50
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Newport Paving Company, Inc.	58.000 L.M.	\$3,850.0000	\$223,300.00
717-01	MOBILIZATION			
		1.000 LS		

Newport Paving Company, Inc.

\$54,120.96

\$54,120.9600

Newport Paving Company, Inc.

\$2,208,669.71

## **TOTAL CONTRACT**

Newport Paving Company, Inc.

\$2,208,669.71

#### CUMBERLAND AND RHEA COUNTIES (Contract No. CNR929 Call 003)

18003-4240-04,NH/HSIP-29(101),72079-3208-94,72079-8208-14,NH/HSIP-29(102),72079-3209-94,72079-8209-14,STP/HSIP-1(370),18003-3240-94,18003-8240-14

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON U.S. 70 (S.R. 1) IN CUMBERLAND COUNTY AND ON U.S. 27 (S.R. 29) IN RHEA COUNTY.

PROJECT LENGTH - 20.220 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

**Hudson Construction Company** 

\$2,632,487.29

Rogers Group, Inc.

\$3,590,562.21

				CONTRACT CNR929
201211			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
000 01		150.000 TON		
	Hudson Construction Company		\$35.0000	\$5,250.00
	Rogers Group, Inc.		\$51.2300	\$7,684.50
403-05.01	BITUMINOUS MATERIAL (FOG SEAL) SHOULDER			
		30.000 TON		
	Hudson Construction Company		\$600.0000	\$18,000.00
	Rogers Group, Inc.		\$946.2100	\$28,386.30
405-03.01	PM REJUVENATING SCRUB SEAL			
		303,448.000 S.Y.		
	Hudson Construction Company Rogers Group, Inc.		\$2.2700 \$2.9800	\$688,826.96 \$904,275.04
	Rogers Group, me.		Ψ2.3000	ψ504,275.04
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Hadron Construction Comment	16.400 L.M.	<b>#</b> 400,0000	Φ <b>7</b> .050.00
	Hudson Construction Company Rogers Group, Inc.		\$430.0000 \$440.1400	\$7,052.00 \$7,218.30
			•	, ,
611-07.03	STRUCTURAL STEEL (PIPE ENDWALLS)			
	Hudson Construction Company	3,417.000 LB.	\$7.0000	\$23,919.00
	Rogers Group, Inc.		\$7.7500	\$26,481.75
705-02.02	SINGLE GUARDRAIL (TYPE 2)	50.000   5		
	Hudson Construction Company	50.000 L.F.	\$17.5000	\$875.00
	Rogers Group, Inc.		\$19.9000	\$995.00
705 04 00	OLIABBRAII TERMINAL (TVRE 40)			
705-04.02	GUARDRAIL TERMINAL (TYPE 12)	1.000 EACH		
	Hudson Construction Company	1.000 EAGIT	\$1,200.0000	\$1,200.00
	Rogers Group, Inc.		\$775.3700	\$775.37
705-04 21	GUARDRAIL DELINEATION ENHANCEMENT			
700 04.21	COARDINAL DELINEATION ENTIANCEMENT	11,563.000 L.F.		
	Hudson Construction Company		\$2.9000	\$33,532.70
	Rogers Group, Inc.		\$2.2200	\$25,669.86
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		6.000 EACH		
	Hudson Construction Company		\$2,445.0000	\$14,670.00
	Rogers Group, Inc.		\$2,765.4900	\$16,592.94
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			

2.000 EACH

**Hudson Construction Company** 

Rogers Group, Inc.

\$6,000.00

\$3,000.0000

\$3,101.4800

				CONTRACT CNR929
			UNIT PRICE	EXTENSION
			0141114102	
706-01	GUARDRAIL REMOVED			
		375.000 L.F.		
	Hudson Construction Company		\$1.0000	\$375.00
	Rogers Group, Inc.		\$0.7800	\$292.50
711-04.21	CONCRETE BARRIER DELINEATION ENHANCEMENT			
		526.000 L.F.	ΦΕ 0000	<b>00.445.40</b>
	Hudson Construction Company Rogers Group, Inc.		\$5.9800 \$9.3100	\$3,145.48 \$4,897.06
	Nogers Group, Inc.		ψ9.5100	ψ4,037.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Hudson Construction Company		\$86,200.0000	\$86,200.00
	Rogers Group, Inc.		\$101,611.2100	\$101,611.21
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		300.000 L.F.		
	Hudson Construction Company		\$30.0000 \$31.0100	\$9,000.00 \$9,303.00
	Rogers Group, Inc.		\$31.0100	<b>\$9,303.00</b>
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
	,	120.000 EACH		
	Hudson Construction Company		\$31.0000	\$3,720.00
	Rogers Group, Inc.		\$29.2300	\$3,507.60
712-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		15.000 EACH		
	Hudson Construction Company		\$11.5000 \$14.0000	\$172.50 \$244.25
	Rogers Group, Inc.		\$14.0900	\$211.35
712-05.01	WARNING LIGHTS (TYPE A)			
		14.000 EACH		
	Hudson Construction Company		\$28.0000	\$392.00
	Rogers Group, Inc.		\$15.6600	\$219.24
712-06	SIGNS (CONSTRUCTION)			
		1,080.000 S.F.		
	Hudson Construction Company		\$8.8000	\$9,504.00
	Rogers Group, Inc.		\$7.8300	\$8,456.40
712_00 02	ARROW BOARD (TYPE C)			
114-00.03	ANNON BOARD (TIFE O)			

	Rogers Group, Inc.		\$15.6600	\$219.24
712-06	SIGNS (CONSTRUCTION)			
		1,080.000 S.F.		
	Hudson Construction Company		\$8.8000	\$9,504.00
	Rogers Group, Inc.		\$7.8300	\$8,456.40
712-08.03	3 ARROW BOARD (TYPE C)			
		2.000 EACH		
	Hudson Construction Company		\$2,100.0000	\$4,200.00
	Rogers Group, Inc.		\$1,409.4900	\$2,818.98
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
		1,280.000 L.F.		
	Hudson Construction Company		\$2.0000	\$2,560.00
	Rogers Group, Inc.		\$2.0500	\$2,624.00
				PAGE

				CONTRACT CNR929
			UNIT PRICE	EXTENSION
712-09 04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
712-03.04	REMOVABLE PAVEMENT MARKING (CTC)	24.000 L.F.		
	Hudson Construction Company		\$15.0000	\$360.00
	Rogers Group, Inc.		\$15.3500	\$368.40
713-02 14	FLEXIBLE DELINEATOR (WHITE)			
710 02.14	TEXASE SEEMENTON (WITTE)	253.000 EACH		
	Hudson Construction Company		\$31.5000	\$7,969.50
	Rogers Group, Inc.		\$41.2400	\$10,433.72
712-16 01	CHANGEABLE MESSAGE SIGN UNIT			
713-10.01	CHANGEABLE MESSAGE SIGN ONLY	4.000 EACH		
	Hudson Construction Company		\$6,100.0000	\$24,400.00
	Rogers Group, Inc.		\$2,192.5300	\$8,770.12
712-16 20	SIGNS (STOP SIGN, R1-1, 30"X30", SIGN, POST & ASSEMBLY)			
713-10.20	SIGNS (STOP SIGN, KT-1, SU ASU , SIGN, FOST & ASSEMBLT)	9.000 EACH		
	Hudson Construction Company	3.000 LAGIT	\$330.0000	\$2,970.00
	Rogers Group, Inc.		\$287.1200	\$2,584.08
740 04 04	Countrielle Direct Malare (Di Direct Color)			
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	947.000 EACH		
	Hudson Construction Company	947.000 LACIT	\$21.2500	\$20,123.75
	Rogers Group, Inc.		\$21.7500	\$20,597.25
740 04 00	Commission Direct Malors (Marca Pick) (College)			
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)	247.000 EACH		
	Hudson Construction Company	247.000 EACH	\$21.2500	\$5,248.75
	Rogers Group, Inc.		\$21.7500	\$5,372.25
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)	1,081.000 EACH		
	Hudson Construction Company	1,001.000 EACH	\$21.2500	\$22,971.25
	Rogers Group, Inc.		\$21.7500	\$23,511.75
740.04.00	DEMOVAL OF CHOUSE OWARD E DEEL FORTIVE MARKED			
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	2,080.000 EACH		
	Hudson Construction Company	2,000.000 EACH	\$4.0000	\$8,320.00
	Rogers Group, Inc.		\$4.0900	\$8,507.20
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	047.000 S V		
	Hudson Construction Company	917.000 S.Y.	\$15.0000	\$13,755.00
	Rogers Group, Inc.		\$15.3500	\$14,075.95
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			

995.000 L.F.

**Hudson Construction Company** 

Rogers Group, Inc.

\$8,955.00

\$9,163.95

\$9.0000

\$9.2100

			С	ONTRACT CNR929
			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		34.000 EACH		
	Hudson Construction Company		\$120.0000	\$4,080.00
	Rogers Group, Inc.		\$122.8300	\$4,176.22
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
		8.000 EACH		
	Hudson Construction Company		\$350.0000	\$2,800.00
	Rogers Group, Inc.		\$358.2600	\$2,866.08
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		2.000 EACH		
	Hudson Construction Company		\$300.0000	\$600.00
	Rogers Group, Inc.		\$307.0800	\$614.16
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		25.000 S.F.		
	Hudson Construction Company		\$9.0000	\$225.00
	Rogers Group, Inc.		\$9.2100	\$230.25
716-04.16	PLASTIC PAVEMENT MARKING (NOISE STRIP)			
		432.000 L.F.		
	Hudson Construction Company		\$8.5000	\$3,672.00
	Rogers Group, Inc.		\$8.7000	\$3,758.40
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		23.000 L.M.		
	Hudson Construction Company		\$375.0000	\$8,625.00
	Rogers Group, Inc.		\$383.8500	\$8,828.55
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		82.500 L.M.		
	Hudson Construction Company		\$1,992.0000	\$164,340.00
	Rogers Group, Inc.		\$2,038.9900	\$168,216.68
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		1,121.000 L.F.		
	Hudson Construction Company		\$1.0000	\$1,121.00
	Rogers Group, Inc.		\$1.2200	\$1,367.62
717-01	MOBILIZATION			
		1.000 LS		
	Hudson Construction Company		\$64,500.0000	\$64,500.00
	Rogers Group, Inc.		\$185,023.6100	\$185,023.61
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 EACH		
	Hudson Construction Company		\$10,000.0000	\$10,000.00
	Rogers Group, Inc.		\$10,338.2700	\$10,338.27

		CONTRACT CNR929
	UNIT PRICE	EXTENSION
BOX BRIDGE CATEGORY		
604-10.44 EXPANSION JOINT REPAIRS		
	94.000 L.F.	
Hudson Construction Company	\$280.0000	\$26,320.00
Rogers Group, Inc.	\$289.4700	\$27,210.18
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)		
	80.000 S.Y.	
Hudson Construction Company	\$330.0000	\$26,400.00
Rogers Group, Inc.	\$341.1600	\$27,292.80
617-04.02 TYPE 2 THIN EPOXY OVERLAY (LOW-MOD EPOXY)		
1	1,593.000 S.Y.	

Hudson Construction Company

Rogers Group, Inc.

\$71,685.00 \$74,106.36

\$45.0000

\$46.5200

				CONTRACT CNR929
ROADW	AY ALTERNATE AA1 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	174.000 TON		
	Rogers Group, Inc. Hudson Construction Company	174.500 1014	\$742.0000	\$129,108.00
411-03.05	5 ACS MIX(PG64-22) THIN LIFT ASPHALT			
		535,180.000 S.Y.		

Rogers Group, Inc.

Hudson Construction Company

\$1,685,817.00

\$3.1500

UNIT PRICE	EXTENSION

### 403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)

40.000 TON

Hudson Construction Company \$525.0000 \$21,000.00

Rogers Group, Inc.

**ROADWAY ALTERNATE AA2 CATEGORY** 

414-03.03 MICRO SURFACING

535,180.000 S.Y.

Hudson Construction Company \$2.2300 \$1,193,451.40

Rogers Group, Inc.

Rogers Group, Inc. Hudson Construction Company	\$1,647,027.87 \$1,293,630.89
SUB-TOTAL BOX BRIDGE	
Rogers Group, Inc. Hudson Construction Company	\$128,609.34 \$124,405.00
SUB-TOTAL ROADWAY ALTERNATE AA1	
Rogers Group, Inc.	\$1,814,925.00
SUB-TOTAL ROADWAY ALTERNATE AA2	
Hudson Construction Company	\$1,214,451.40
TOTAL CONTRACT	
Hudson Construction Company	\$2,632,487.29
Rogers Group, Inc.	\$3,590,562.21

#### DEKALB COUNTY (Contract No. CNR930 Call 004)

21001-4277-04,STP/HSIP-26(68),21001-3277-94,21001-8277-14,STP/HSIP-96(50),21038-3214-94,21038-8214-14

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 26 FROM EAST OF S.R. 96 TO THE DOWELLTOWN CITY LIMITS AND ON S.R. 96 FROM THE WILSON COUNTY LINE TO CENTER HILL DAM.

PROJECT LENGTH - 17.440 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

	TOTAL CONTRACT
Tinsley Asphalt, LLC	\$1,939,667.76
Hudson Construction Company	\$2,047,889.63
Rogers Group, Inc.	\$2,235,899.35
Vulcan Construction Materials, LLC	\$2,481,197.20

			CONTINUE CHINOC
		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY		
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
000 01	initerate Accretion 12, 111 E A BACE, CRADING D	80.000 TON	
	Tinsley Asphalt, LLC	\$20.000	\$1,600.00
		•	
	Hudson Construction Company	\$40.0000	\$3,200.00 \$3,962.40
	Rogers Group, Inc.	\$49.5300	
	Vulcan Construction Materials, LLC	\$25.0000	\$2,000.00
403-05.01	BITUMINOUS MATERIAL (FOG SEAL) SHOULDER		
.00 00.01	2.1. O	22.000 TON	
	Tinsley Asphalt, LLC	\$667.0000	\$14,674.00
	Hudson Construction Company	\$540.0000	\$11,880.00
	Rogers Group, Inc.	\$340.0000	\$17,830.12
	•	·	
	Vulcan Construction Materials, LLC	\$1,000.0000	\$22,000.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)		
	,	313.000 L.F.	
	Tinsley Asphalt, LLC	\$16.0000	\$5,008.00
	Hudson Construction Company	\$17.0000	\$5,321.00
	Rogers Group, Inc.	\$18.6800	\$5,846.84
	Vulcan Construction Materials, LLC	\$16.0000	\$5,008.00
	valouri Goristration Materials, ELO	Ψ10.0000	ψο,οσο.σσ
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT		
		4,840.000 L.F.	
	Tinsley Asphalt, LLC	\$2.4500	\$11,858.00
	Hudson Construction Company	\$2.4500	\$11,858.00
	Rogers Group, Inc.	\$2.7400	\$13,261.60
	Vulcan Construction Materials, LLC	\$3.0000	\$14,520.00
		<b>\$3.333</b>	ψ,σ=σ.σσ
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3		
		4.000 EACH	
	Tinsley Asphalt, LLC	\$2,300.0000	\$9,200.00
	Hudson Construction Company	\$2,485.0000	\$9,940.00
	Rogers Group, Inc.	\$2,730.1100	\$10,920.44
	Vulcan Construction Materials, LLC	\$2,300.0000	\$9,200.00
706-01	GUARDRAIL REMOVED		
		513.000 L.F.	
	Tinsley Asphalt, LLC	\$0.5000	\$256.50
	Hudson Construction Company	\$1.0000	\$513.00
	Rogers Group, Inc.	\$1.1000	\$564.30
	Vulcan Construction Materials, LLC	\$0.5000	\$256.50
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Tinsley Asphalt, LLC	\$47,100.0000	\$47,100.00
	Hudson Construction Company	\$80,000.0000	\$80,000.00
	Rogers Group, Inc.	\$21,123.9100	\$21,123.91
	Vulcan Construction Materials, LLC	\$50,000.0000	\$50,000.00

		UNIT PRICE	EXTENSION
712-04.02 FLEXIBLE DRUMS (CHANNELIZATION)			
712 04.02 TEEXIBEE BROING (GHARITEEEEATION)	100.000 EACH		
Tinsley Asphalt, LLC		\$4.0000	\$400.00
Hudson Construction Company		\$5.0000	\$500.00
Rogers Group, Inc.		\$28.5600	\$2,856.00
Vulcan Construction Materials, LLC		\$36.0000	\$3,600.00
712-05.01 WARNING LIGHTS (TYPE A)			
	40.000 EACH		
Tinsley Asphalt, LLC		\$2.0000	\$80.00
Hudson Construction Company		\$5.0000	\$200.00
Rogers Group, Inc.		\$27.4700	\$1,098.80
Vulcan Construction Materials, LLC		\$26.0000	\$1,040.00
712-06 SIGNS (CONSTRUCTION)			
	1,058.000 S.F.		
Tinsley Asphalt, LLC		\$5.6500	\$5,977.70
Hudson Construction Company		\$6.0000	\$6,348.00
Rogers Group, Inc.		\$7.1400	\$7,554.12
Vulcan Construction Materials, LLC		\$9.5000	\$10,051.00
712-08.03 ARROW BOARD (TYPE C)			
	4.000 EACH		
Tinsley Asphalt, LLC		\$500.0000	\$2,000.00
Hudson Construction Company		\$850.0000	\$3,400.00
Rogers Group, Inc.		\$1,098.6400	\$4,394.56
Vulcan Construction Materials, LLC		\$900.0000	\$3,600.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	4.000 EACH		
Tinsley Asphalt, LLC		\$1,500.0000	\$6,000.00
Hudson Construction Company		\$4,150.0000	\$16,600.00
Rogers Group, Inc.		\$2,416.9900	\$9,667.96
Vulcan Construction Materials, LLC		\$4,800.0000	\$19,200.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	2,457.000 EACH		
Tinsley Asphalt, LLC	_,	\$23.0000	\$56,511.00
Hudson Construction Company		\$23.0000	\$56,511.00
Rogers Group, Inc.		\$25.2700	\$62,088.39
Vulcan Construction Materials, LLC		\$25.0000	\$61,425.00
valour construction materials, 220		Ψ20.0000	φο1,120.00
716-01.22 Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)	040.000 EACH		
Timeless April 19 11 O	812.000 EACH	<b>#00.000</b>	M40.070.00
Tinsley Asphalt, LLC		\$23.0000	\$18,676.00
Hudson Construction Company		\$23.0000	\$18,676.00
Rogers Group, Inc.		\$25.2700	\$20,519.24
Vulcan Construction Materials, LLC		\$25.0000	\$20,300.00

	UNIT PRICE	EXTENSION
716-01.23 Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)		
45.000 EAC	СН	
Tinsley Asphalt, LLC	\$23.0000	\$1,035.00
Hudson Construction Company	\$23.0000	\$1,035.00
Rogers Group, Inc.	\$25.2700	\$1,137.15
Vulcan Construction Materials, LLC	\$25.0000	\$1,125.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
302.000 S.Y.		
Tinsley Asphalt, LLC	\$18.0000	\$5,436.00
Hudson Construction Company	\$18.0000	\$5,436.00
Rogers Group, Inc.	\$19.7700	\$5,970.54
Vulcan Construction Materials, LLC	\$20.0000	\$6,040.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
798.000 L.F.		
Tinsley Asphalt, LLC	\$9.0000	\$7,182.00
Hudson Construction Company	\$9.0000	\$7,182.00
Rogers Group, Inc.	\$9.8900	\$7,892.22
Vulcan Construction Materials, LLC	\$10.0000	\$7,980.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
72.000 EAC	ЭН	
Tinsley Asphalt, LLC	\$125.0000	\$9,000.00
Hudson Construction Company	\$125.0000	\$9,000.00
Rogers Group, Inc.	\$137.3300	\$9,887.76
Vulcan Construction Materials, LLC	\$150.0000	\$10,800.00
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)		
1.000 EAC	СН	
Tinsley Asphalt, LLC	\$350.0000	\$350.00
Hudson Construction Company	\$350.0000	\$350.00
Rogers Group, Inc.	\$384.5200	\$384.52
Vulcan Construction Materials, LLC	\$400.0000	\$400.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
343.000 L.F.		
Tinsley Asphalt, LLC	\$7.0000	\$2,401.00
Hudson Construction Company	\$7.0000	\$2,401.00
Rogers Group, Inc.	\$7.6900	\$2,637.67
Vulcan Construction Materials, LLC	\$10.0000	\$3,430.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		
60.000 S.F.		
Tinsley Asphalt, LLC	\$8.0000	\$480.00
Hudson Construction Company	\$8.0000	\$480.00
Rogers Group, Inc.	\$8.7900	\$527.40
Vulcan Construction Materials, LLC	\$10.0000	\$600.00

	UNIT PRICE	EXTENSION
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		
2.000 EACH		
Tinsley Asphalt, LLC	\$200.0000	\$400.00
Hudson Construction Company	\$200.0000	\$400.00
Rogers Group, Inc.	\$219.7300	\$439.46
Vulcan Construction Materials, LLC	\$200.0000	\$400.00
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)		
216.000 L.F.		
Tinsley Asphalt, LLC	\$8.5000	\$1,836.00
Hudson Construction Company	\$8.5000	\$1,836.00
Rogers Group, Inc.	\$9.3400	\$2,017.44
Vulcan Construction Materials, LLC	\$9.0000	\$1,944.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
23.900 L.M.		
Tinsley Asphalt, LLC	\$425.0000	\$10,157.50
Hudson Construction Company	\$425.0000	\$10,157.50
Rogers Group, Inc.	\$466.9300	\$11,159.63
Vulcan Construction Materials, LLC	\$450.0000	\$10,755.00
716-05.21 PAINTED PAVEMENT MARKING(4"DOTTED LINE)		
150.000 L.F.		
Tinsley Asphalt, LLC	\$0.8000	\$120.00
Hudson Construction Company	\$0.8000	\$120.00
Rogers Group, Inc.	\$0.8800	\$132.00
Vulcan Construction Materials, LLC	\$1.0000	\$150.00
716-10.30 TRUNCATED DOME DETECTABLE WARNING MAT		
210.000 S.F.		
Tinsley Asphalt, LLC	\$51.0000	\$10,710.00
Hudson Construction Company	\$51.0000	\$10,710.00
Rogers Group, Inc.	\$56.0300	\$11,766.30
Vulcan Construction Materials, LLC	\$55.0000	\$11,550.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
23.900 L.M.		
Tinsley Asphalt, LLC	\$3,950.0000	\$94,405.00
Hudson Construction Company	\$3,950.0000	\$94,405.00
Rogers Group, Inc.	\$4,339.6000	\$103,716.44
Vulcan Construction Materials, LLC	\$4,000.0000	\$95,600.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)		
150.000 L.F.		
Tinsley Asphalt, LLC	\$1.0000	\$150.00
Hudson Construction Company	\$1.0000	\$150.00
Rogers Group, Inc.	\$1.1000	\$165.00
Vulcan Construction Materials, LLC	\$1.0000	\$150.00

		CONTRACT	CNR930	

				. •
		UNIT	T PRICE EXTENSION	]
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		49.500 L.M.		
	Tinsley Asphalt, LLC	\$1,97	75.0000 \$97,762.50	
	Hudson Construction Company	\$1,97	75.0000 \$97,762.50	
	Rogers Group, Inc.	\$2,16	69.8100 \$107,405.60	
	Vulcan Construction Materials, LLC	\$2,00	00.0000 \$99,000.00	
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		433.000 L.F.		
	Tinsley Asphalt, LLC	\$	\$1.0000 \$433.00	
	Hudson Construction Company	9	\$1.0000 \$433.00	
	Rogers Group, Inc.	9	\$1.1000 \$476.30	
	Vulcan Construction Materials, LLC	\$	\$1.0000 \$433.00	
717-01	MOBILIZATION			
		1.000 LS		
	Tinsley Asphalt, LLC	\$39,30	00.0000 \$39,300.00	
	Hudson Construction Company	\$88,00	00.0000 \$88,000.00	
	Rogers Group, Inc.	\$70,28	85.2600 \$70,285.26	
	Vulcan Construction Materials, LLC	\$70,00	00.0000 \$70,000.00	

	,	CONTRACT CIRESO
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
604-10.44 EXPANSION JOINT REPAIRS		
510.000 L.I	F.	
Tinsley Asphalt, LLC	\$280.0000	\$142,800.00
Hudson Construction Company	\$280.0000	\$142,800.00
Rogers Group, Inc.	\$310.7000	\$158,457.00
Vulcan Construction Materials, LLC	\$280.0000	\$142,800.00
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)		
15.000 S.	Υ.	
Tinsley Asphalt, LLC	\$330.0000	\$4,950.00
Hudson Construction Company	\$330.0000	\$4,950.00
Rogers Group, Inc.	\$366.1800	\$5,492.70
Vulcan Construction Materials, LLC	\$330.0000	\$4,950.00
604-10.53 CONCRETE REPAIRS		
60.000 S.	Υ.	
Tinsley Asphalt, LLC	\$360.0000	\$21,600.00
Hudson Construction Company	\$360.0000	\$21,600.00
Rogers Group, Inc.	\$399.4600	\$23,967.60
Vulcan Construction Materials, LLC	\$360.0000	\$21,600.00
617-04.02 TYPE 2 THIN EPOXY OVERLAY (LOW-MOD EPOXY)		
8,809.000 S.	Υ.	
Tinsley Asphalt, LLC	\$35.0000	\$308,315.00
Hudson Construction Company	\$35.0000	\$308,315.00
Rogers Group, Inc.	\$38.8400	\$342,141.56
Vulcan Construction Materials, LLC	\$35.0000	\$308,315.00

T CNR930
CTENSION
52,275.00
•
43,050.00
86,100.00
\$≀

411-03.05	ACS MIX(PG64-22) THIN LIFT ASPHALT

376,678.000 S	S.Y.	
Tinsley Asphalt, LLC	\$2.5200	\$949,228.56
Rogers Group, Inc.	\$3.0400	\$1,145,101.12
Vulcan Construction Materials, LLC	\$3.6500	\$1,374,874.70
Hudson Construction Company		

UNIT PRICE EXTENSION

**ROADWAY ALTERNATE AA2 CATEGORY** 

403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)

63.000 TON

Hudson Construction Company \$333.1700 \$20,989.71

Tinsley Asphalt, LLC Rogers Group, Inc.

Vulcan Construction Materials, LLC

414-03.03 MICRO SURFACING

376,678.000 S.Y.

Hudson Construction Company

Tinsley Asphalt, LLC Rogers Group, Inc.

Vulcan Construction Materials, LLC

\$2.6400

\$994,429.92

Rogers Group, Inc. Vulcan Construction Materials, LLC Tinsley Asphalt, LLC Hudson Construction Company	\$517,689.37 \$542,557.50 \$460,499.20 \$554,805.00			
SUB-TOTAL BRIDGE				
Rogers Group, Inc. Vulcan Construction Materials, LLC Tinsley Asphalt, LLC Hudson Construction Company	\$530,058.86 \$477,665.00 \$477,665.00 \$477,665.00			
SUB-TOTAL ROADWAY ALTERNATE AA1				
Vulcan Construction Materials, LLC Rogers Group, Inc. Tinsley Asphalt, LLC	\$1,460,974.70 \$1,188,151.12 \$1,001,503.56			
SUB-TOTAL ROADWAY ALTERNATE AA2				
Hudson Construction Company	\$1,015,419.63			
TOTAL CONTRACT				
Tinsley Asphalt, LLC	\$1,939,667.76			
Hudson Construction Company	\$2,047,889.63			
Rogers Group, Inc.	\$2,235,899.35			
Vulcan Construction Materials, LLC	\$2,481,197.20			

### FENTRESS AND PICKETT COUNTIES (Contract No. CNR921 Call 005)

R-NH/HSIP-28(60),25043-3205-94,25043-8205-14,R-NH/HSIP-28(61),69001-3219-94,69001-8219-14

THE RESURFACING ON U.S. 127 (S.R. 28) FROM NORTH OF OLD S.R. 28 (L.M. 23.10) TO SOUTH OF DRY BRANCH BRIDGE (L.M. 27.90).

PROJECT LENGTH - 8.690 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 5.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,078,833.50

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNR921 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
303-01	Rogers Group, Inc.	475.000 TON	\$49.8000	\$23,655.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	68.000 TON	\$432.0000	\$29,376.00
411-03.07	ACS MIX(PG64-22) THIN LIFT ASPHALT			
	Rogers Group, Inc.	6,597.000 TON	\$95.4000	\$629,353.80
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	IN WIDTH) 13.900 L.M.		
	Rogers Group, Inc.	13.900 L.W.	\$472.7000	\$6,570.53
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	136,146.000 S.Y.		
	Rogers Group, Inc.	130,140.000 3.1.	\$1.1200	\$152,483.52
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN	7.000 FA OU		
	Rogers Group, Inc.	7.000 EACH	\$258.6800	\$1,810.76
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT	4 702 000   5		
	Rogers Group, Inc.	1,782.000 L.F.	\$3.7000	\$6,593.40
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	7 000 EACH		
	Rogers Group, Inc.	7.000 EACH	\$2,273.0000	\$15,911.00
706-01	GUARDRAIL REMOVED	350.000 L.F.		
	Rogers Group, Inc.		\$0.9000	\$315.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.		\$33,808.0000	\$33,808.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	44 000 54 011		
	Rogers Group, Inc.	14.000 EACH	\$37.6000	\$526.40
712-05.01	WARNING LIGHTS (TYPE A)	14.000 EACH		
	Rogers Group, Inc.		\$16.1000	\$225.40

			UNIT PRICE	CONTRACT CNR921  EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	1,000.000 S.F.	\$7.8000	\$7,800.00
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	Rogers Group, Inc.	32.000 EACH	\$41.3000	\$1,321.60
713-02.21	SIGN POST DELINEATION ENHANCEMENT	45.000   5		
	Rogers Group, Inc.	45.000 L.F.	\$7.0500	\$317.25
713-16.20	SIGNS (CHEVRONS, W1-8, POST AND INSTALLATION)	00 000 54011		
	Rogers Group, Inc.	30.000 EACH	\$160.7500	\$4,822.50
713-16.21	SIGNS (STOP SIGN, R1-1, POST AND INSTALLATION)	4 000 5 4 011		
	Rogers Group, Inc.	4.000 EACH	\$241.1500	\$964.60
713-16.22	SIGNS (OBJECT MARKER (LEFT)	0.000 54.011		
	Rogers Group, Inc.	2.000 EACH	\$198.3000	\$396.60
713-16.23	SIGNS (OBJECT MARKER (RIGHT)	2.000 EACH		
	Rogers Group, Inc.		\$198.3000	\$396.60
713-16.24	SIGNS (WINDING ROAD, W1-5, POST AND INSTALLATION)	2.000 EACH		
	Rogers Group, Inc.		\$241.1500	\$482.30
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	540 000 FAOU		
	Rogers Group, Inc.	549.000 EACH	\$28.3000	\$15,536.70
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	000 000 1 5		
	Rogers Group, Inc.	230.000 L.F.	\$11.0000	\$2,530.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	49.700 L.M.		
	Rogers Group, Inc.		\$586.5500	\$29,151.54
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	04.000 ! **		
	Rogers Group, Inc.	34.000 L.M.	\$2,080.0000	\$70,720.00

CONTRACT CNR921

UNIT PRICE EXTENSION

717-01 MOBILIZATION

1.000 LS

Rogers Group, Inc. \$43,765.000 \$43,765.00

Rogers Group, Inc. \$1,078,833.50

## **TOTAL CONTRACT**

Rogers Group, Inc. \$1,078,833.50

### FRANKLIN COUNTY (Contract No. CNR931 Call 006)

NH/HSIP-15(198),26001-3219-94,26001-8219-14

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON U.S. 64 (S.R. 15) FROM THE LINCOLN COUNTY LINE (L.M. 0.00) TO NEAR BRANNAN HILL ROAD (L.M. 8.65).

PROJECT LENGTH - 8.650 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

TOTAL CONTRACT

Tinsley Asphalt, LLC Hudson Construction Company \$939,341.77 \$1,138,897.02

		CONTRACT	CNR931
	UNIT PRICE	EXTE	ENSION
ROADWAY CATEGORY			

ROADWA	Y CATEGORY		UNIT PRICE	EXTENSION
403-05.01	BITUMINOUS MATERIAL (FOG SEAL) SHOULDER			
		27.000 TON	<b>*</b>	
	Tinsley Asphalt, LLC Hudson Construction Company		\$667.0000 \$555.5500	\$18,009.00 \$14,999.85
712-01	TRAFFIC CONTROL	4 000 1 0		
	Timeless Applied LLC	1.000 LS	<b>#0.500.0000</b>	<b>CO FOO OO</b>
	Tinsley Asphalt, LLC Hudson Construction Company		\$9,500.0000 \$55,500.0000	\$9,500.00 \$55,500.00
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
		50.000 EACH		_
	Tinsley Asphalt, LLC Hudson Construction Company		\$5.0000 \$5.0000	\$250.00 \$250.00
712-05.01	WARNING LIGHTS (TYPE A)			
		25.000 EACH		_
	Tinsley Asphalt, LLC Hudson Construction Company		\$5.0000 \$5.0000	\$125.00 \$125.00
712-06	SIGNS (CONSTRUCTION)			
	Tinalay Asabalt III C	553.000 S.F.	ФС 0500	<b>#2.700.05</b>
	Tinsley Asphalt, LLC Hudson Construction Company		\$6.8500 \$6.8500	\$3,788.05 \$3,788.05
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	Timeless Asselve III O	40.000 EACH	<b>#00 5000</b>	<b>#4</b> 000 00
	Tinsley Asphalt, LLC Hudson Construction Company		\$32.5000 \$32.5000	\$1,300.00 \$1,300.00
713-02.15	FLEXIBLE DELINEATOR (YELLOW)			
	T: 1 A 1 K 11 O	80.000 EACH	Фоо 5000	<b>#0.000.00</b>
	Tinsley Asphalt, LLC Hudson Construction Company		\$32.5000 \$32.5000	\$2,600.00 \$2,600.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	<del>-</del>	2.000 EACH	<b>#</b> =00.000	<b>44.000.00</b>
	Tinsley Asphalt, LLC Hudson Construction Company		\$500.0000 \$3,850.0000	\$1,000.00 \$7,700.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	T: 1 A 1 K 11 O	133.000 EACH	Фор ород	<b>#0.050.00</b>
	Tinsley Asphalt, LLC Hudson Construction Company		\$23.0000 \$23.0000	\$3,059.00 \$3,059.00
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
	Tigology Apply III O	1,276.000 EACH	Фоо оооо	<b>#</b> 00 040 00
	Tinsley Asphalt, LLC Hudson Construction Company		\$23.0000 \$23.0000	\$29,348.00 \$29,348.00

		CONTRACT CNR931
	UNIT PRICE	EXTENSION
	5.4.1.1.02	
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
200,000 S.	.Y.	
Tinsley Asphalt, LLC	\$18.0000	\$3,600.00
Hudson Construction Company	\$18.0000	\$3,600.00
· ·		
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
342.000 L.	F.	
Tinsley Asphalt, LLC	\$9.0000	\$3,078.00
Hudson Construction Company	\$9.0000	\$3,078.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
35.000 EA	ACH	
Tinsley Asphalt, LLC	\$125.0000	\$4,375.00
Hudson Construction Company	\$125.0000	\$4,375.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
41.900 L.		
Tinsley Asphalt, LLC	\$3,950.0000	\$165,505.00
Hudson Construction Company	\$3,950.0000	\$165,505.00
740 40 00 ENULANGED ELATUNE TUEDMO DIVIAT MOVAO (OIN DADDIED LINE)		
716-12.03 ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER LINE)	_	
1,800.000 L.		
Tinsley Asphalt, LLC	\$2.0000	\$3,600.00
Hudson Construction Company	\$2.0000	\$3,600.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)		
•	E	
260.000 L.		<b>\$260.00</b>
Tinsley Asphalt, LLC Hudson Construction Company	\$1.0000 \$1.0000	\$260.00 \$260.00
Fluction Construction Company	φ1.0000	Ψ200.00

1.000 LS

\$9,600.0000

\$20,000.0000

717-01

**MOBILIZATION** 

Tinsley Asphalt, LLC

**Hudson Construction Company** 

\$9,600.00

\$20,000.00

				CONTRACT CNR931
ROADW	AY ALTERNATE AA1 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	99.000 TON		
	Tinsley Asphalt, LLC Hudson Construction Company		\$450.0000	\$44,550.00
411-03.05	5 ACS MIX(PG64-22) THIN LIFT ASPHALT			
		304,208.000 S.Y.		

Tinsley Asphalt, LLC

Hudson Construction Company

\$635,794.72

\$2.0900

CONTRACT (	CN	R9	31
------------	----	----	----

\$16,700.00

\$334.0000

	`	CHINACI CHINSSI		
ROADWAY ALTERNATE AA2 CATEGORY	UNIT PRICE	EXTENSION		
414-03.03 MICRO SURFACING				
304,208.000 S.Y.				
Hudson Construction Company	\$2.6400	\$803,109.12		
Tinsley Asphalt, LLC				
403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)				
50.000 TON				

Hudson Construction Company

Tinsley Asphalt, LLC

### **SUB-TOTAL ROADWAY**

**Hudson Construction Company** 

Hudson Construction Company Tinsley Asphalt, LLC	\$319,087.90 \$258,997.05
SUB-TOTAL ROADWAY ALTERNATE AA1  Tinsley Asphalt, LLC	\$680,344.72
SUB-TOTAL ROADWAY ALTERNATE AA2  Hudson Construction Company	\$819,809.12
TOTAL CONTRACT Tinsley Asphalt, LLC	\$939,341.77

\$1,138,897.02

#### GILES COUNTY (Contract No. CNR919 Call 007)

NH/HSIP-7(32),28003-3224-94,28003-8224-14,STP/HSIP-11(86),28004-3251-94,28004-8251-14,STP/HSIP-7(33),28003-3225-94,28003-8225-14

THE RESURFACING ON S.R. 11 FROM WEST OF SOUTH 5TH STREET (L.M. 18.30) TO U.S. 31 (S.R. 7) (L.M. 19.08).

PROJECT LENGTH - 4.190 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 9.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,182,682.00

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNR919 EXTENSION
NO/NO W	W SALESSKI			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	350.000 TON		
	Rogers Group, Inc.	330.000 TON	\$25.0000	\$8,750.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	44.000 TON	\$640.0000	\$28,160.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Rogers Group, Inc.	5,035.000 TON	\$77.0000	\$387,695.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	Rogers Group, Inc.	1,665.000 TON	\$80.0000	\$133,200.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WII			
	Rogers Group, Inc.	7.500 L.M.	\$810.0000	\$6,075.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	6,636.000 TON	\$15.0000	\$99,540.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Rogers Group, Inc.	6,052.000 S.F.	\$31.5000	\$190,638.00
705-01.01	GUARDRAIL AT BRIDGE ENDS			
	Rogers Group, Inc.	108.000 L.F.	\$79.0000	\$8,532.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Rogers Group, Inc.	14.000 EACH	\$2,900.0000	\$40,600.00
706-01	GUARDRAIL REMOVED			
	Rogers Group, Inc.	500.000 L.F.	\$7.0000	\$3,500.00
706-10.83	DRILL BR. PAR. WALL FOR MICHIGAN END SHOE			
	Rogers Group, Inc.	8.000 EACH	\$205.0000	\$1,640.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.		\$47,256.0000	\$47,256.00

			UNIT PRICE	CONTRACT CNR919 EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	75 000 54 011		
	Rogers Group, Inc.	75.000 EACH	\$6.0000	\$450.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Rogers Group, Inc.	12.000 EACH	\$6.0000	\$72.00
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	2,244.000 S.F.	\$9.0000	\$20,196.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Rogers Group, Inc.	386.000 EACH	\$31.0000	\$11,966.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
	Rogers Group, Inc.	21.000 EACH	\$31.0000	\$651.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Rogers Group, Inc.	147.000 EACH	\$11.0000	\$1,617.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)		·	. ,
	Rogers Group, Inc.	1,359.000 L.F.	\$7.0000	\$9,513.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		ψ1.0000	φο,ο το.οο
	Rogers Group, Inc.	145.000 S.Y.	\$22.0000	\$3,190.00
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)		φ22.0000	<b>ф</b> 3,190.00
710-02.03		538.000 L.F.	<b>#40.0000</b>	Фо ооо оо
740.00.00	Rogers Group, Inc.		\$16.0000	\$8,608.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	24.000 EACH		
	Rogers Group, Inc.		\$160.0000	\$3,840.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)	2.000 EACH		
	Rogers Group, Inc.		\$210.0000	\$420.00

1.000 EACH

716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)

Rogers Group, Inc.

\$130.00

\$130.0000

		UNIT PRICE	CONTRACT CNR919 EXTENSION
716-04.10 PLASTIC PAVEMENT MARKING (HANDICAP SYMBOL)			
Rogers Group, Inc.	14.000 EACH	\$320.0000	\$4,480.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
Rogers Group, Inc.	15.600 L.M.	\$920.0000	\$14,352.00
716-05.08 PAINTED PAVEMENT MARKING (PARKING LINE)			
Rogers Group, Inc.	6,450.000 L.F.	\$0.5000	\$3,225.00
716-12.01 ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
Rogers Group, Inc.	1.800 L.M.	\$3,750.0000	\$6,750.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Rogers Group, Inc.	3.000 L.M.	\$4,750.0000	\$14,250.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
Rogers Group, Inc.	7.000 L.M.	\$2,250.0000	\$15,750.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
Rogers Group, Inc.	3.800 L.M.	\$2,850.0000	\$10,830.00
717-01 MOBILIZATION			
Rogers Group, Inc.	1.000 LS	\$68,942.0000	\$68,942.00
730-14.02 SAW SLOT			
Rogers Group, Inc.	5,800.000 L.F.	\$3.5000	\$20,300.00
730-14.03 LOOP WIRE	42.400.000 ! .		
	12,400.000 L.F.		

Rogers Group, Inc.

\$7,564.00

\$0.6100

## **SUB-TOTAL ROADWAY**

Rogers Group, Inc. \$1,182,682.00

## **TOTAL CONTRACT**

Rogers Group, Inc. \$1,182,682.00

GREENE COUNTY (Contract No. CNR924 Call 008)

30027-4225-04

THE REPAIR OF THE BRIDGE ON S.R. 172 OVER LICK CREEK (L.M. 9.90).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

TOTAL CONTRACT

Southern Constructors, Inc.

\$516,422.00

BRIDGE (	CATEGORY		UNIT PRICE	CONTRACT CNR924 EXTENSION
202-01.02	REMOVAL OF ASBESTOS			
	Southern Constructors, Inc.	1.000 LS	\$35,000.0000	\$35,000.00
209-05	SEDIMENT REMOVAL	2.000 C.Y.		
	Southern Constructors, Inc.		\$50.0000	\$100.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)	260.000 L.F.		
307-01 08	Southern Constructors, Inc.  ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		\$15.0000	\$3,900.00
307-01.00	Southern Constructors, Inc.	110.000 TON	\$220.0000	\$24,200.00
411-01.10	ACS MIX(PG64-22) GRADING D	80.000 TON		
	Southern Constructors, Inc.		\$230.0000	\$18,400.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT  Southern Constructors, Inc.	240.000 S.Y.	\$25.0000	\$6,000.00
604-03.01	CLASS A CONCRETE (BRIDGES)	11.000 C.Y.		
	Southern Constructors, Inc.		\$1,500.0000	\$16,500.00
604-03.04	PAVEMENT @ BRIDGE ENDS	150.000 S.Y.		
604.04.02	Southern Constructors, Inc.  APPLIED TEXTURE FINISH (EXISTING STRUCTURES)		\$450.0000	\$67,500.00
004-04.02	Southern Constructors, Inc.	260.000 S.Y.	\$12.0000	\$3,120.00
604-10.05	CONCRETE			
	Southern Constructors, Inc.	23.000 S.F.	\$300.0000	\$6,900.00
604-10.14	REMOVE EXISTING WEARING SURFACE	1.000 LS		
	Southern Constructors, Inc.		\$30,000.0000	\$30,000.00
604-10.18	REINFORCING STEEL (REPAIRS)	I,088.000 LB.		
			_	_

Southern Constructors, Inc.

\$6,528.00

\$6.0000

			UNIT PRICE	CONTRACT CNR924  EXTENSION
604-10.30	BRIDGE DECK REPAIRS (FULL DEPTH OF SLAB)			
	Southern Constructors, Inc.	5.000 S.Y.	\$600.0000	\$3,000.00
604-10.42	CONCRETE REPAIRS			
	Southern Constructors, Inc.	145.000 C.F.	\$60.0000	\$8,700.00
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
	Southern Constructors, Inc.	200.000 S.Y.	\$300.0000	\$60,000.00
604-10.54	CONCRETE REPAIRS			
	Southern Constructors, Inc.	23.000 S.F.	\$300.0000	\$6,900.00
604-10.58	EPOXY INJECTION (INJECTION)			
	Southern Constructors, Inc.	3.000 GAL.	\$200.0000	\$600.00
604-10.62	EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)			
	Southern Constructors, Inc.	52.000 L.F.	\$200.0000	\$10,400.00
604-10.89	MISCELLANEOUS BRIDGE ITEMS (Description)			
	Southern Constructors, Inc.	1.000 LS	\$4,000.0000	\$4,000.00
604-10.91	MISCELLANEOUS BRIDGE ITEMS (Description)			
	Southern Constructors, Inc.	1.000 LS	\$25,000.0000	\$25,000.00
617-01	BRIDGE DECK SEALANT			
	Southern Constructors, Inc.	937.000 S.Y.	\$18.0000	\$16,866.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	Southern Constructors, Inc.	2.000 EACH	\$5,000.0000	\$10,000.00
705-10.30	GUARDRAIL ATTACHMENT TO SLOPE FACE ENDPOST			
	Southern Constructors, Inc.	26.000 L.F.	\$150.0000	\$3,900.00
706-01	GUARDRAIL REMOVED	00 222 1 5		
	Southern Constructors, Inc.	26.000 L.F.	\$3.0000	\$78.00

			UNIT PRICE	CONTRACT CNR924 EXTENSION
706-05	GUARDRAIL ADJUSTMENT	00.0001.5		
	Southern Constructors, Inc.	30.000 L.F.	\$25.0000	\$750.00
712-01	TRAFFIC CONTROL			
	Southern Constructors, Inc.	1.000 LS	\$50,000.0000	\$50,000.00
712-02.02	2 INTERCONNECTED PORTABLE BARRIER RAIL			
	Southern Constructors, Inc.	540.000 L.F.	\$27.0000	\$14,580.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Southern Constructors, Inc.	40.000 EACH	\$40.0000	\$1,600.00
712-04.50	PORTABLE BARRIER RAIL DELINEATOR			
	Southern Constructors, Inc.	36.000 EACH	\$15.0000	\$540.00
712-05.03	WARNING LIGHTS (TYPE C)			
	Southern Constructors, Inc.	30.000 EACH	\$40.0000	\$1,200.00
712-06	SIGNS (CONSTRUCTION)			
	Southern Constructors, Inc.	328.000 S.F.	\$15.0000	\$4,920.00
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
	Southern Constructors, Inc.	5,300.000 L.F.	\$3.0000	\$15,900.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
	Southern Constructors, Inc.	24.000 L.F.	\$35.0000	\$840.00
716-12.02	2 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Southern Constructors, Inc.	0.700 L.M.	\$5,000.0000	\$3,500.00

1.000 LS

1.000 EACH

717-01

730-40

**MOBILIZATION** 

Southern Constructors, Inc.

Southern Constructors, Inc.

**TEMPORARY TRAFFIC SIGNAL SYSTEM** 

\$30,000.00

\$25,000.00

\$25,000.0000

\$30,000.0000

## SUB-TOTAL BRIDGE

Southern Constructors, Inc. \$516,422.00

## **TOTAL CONTRACT**

Southern Constructors, Inc. \$516,422.00

#### GRUNDY COUNTY (Contract No. CNR926 Call 009)

STP/HSIP-56(83),31005-3274-94,31005-8274-14

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 56 FROM NEAR PARSONS ROAD (L.M. 7.81) TO SOUTH OF DOGWOOD MANOR ROAD (L.M. 14.05).

PROJECT LENGTH - 6.240 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Tinsley Asphalt, LLC \$581,624.03
Hudson Construction Company \$698,425.73
Rogers Group, Inc. \$714,975.45

			CC	MIRACI CNR920
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
405 02 04	PM REJUVENATING SCRUB SEAL			
405-03.01	FIN REJUVENATING SCRUB SEAL	126,597.000 S.Y.		
	Tinsley Asphalt, LLC	120,397.000 3.1.	\$1.5000	\$189,895.50
	Hudson Construction Company		\$2.1600	\$273,449.52
	Rogers Group, Inc.		\$2.1500	\$272,183.55
705-04-21	GUARDRAIL DELINEATION ENHANCEMENT			
700 0 1121		219.000 L.F.		
	Tinsley Asphalt, LLC		\$3.2500	\$711.75
	Hudson Construction Company		\$2.9500	\$646.05
	Rogers Group, Inc.		\$3.4000	\$744.60
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Tinsley Asphalt, LLC		\$11,800.0000	\$11,800.00
	Hudson Construction Company		\$43,000.0000	\$43,000.00
	Rogers Group, Inc.		\$16,000.0000	\$16,000.00
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
		10.000 EACH		
	Tinsley Asphalt, LLC		\$5.0000	\$50.00
	Hudson Construction Company		\$38.0000	\$380.00
	Rogers Group, Inc.		\$5.0000	\$50.00
712-06	SIGNS (CONSTRUCTION)			
	·	774.000 S.F.		
	Tinsley Asphalt, LLC		\$6.5000	\$5,031.00
	Hudson Construction Company		\$9.1200	\$7,058.88
	Rogers Group, Inc.		\$6.5000	\$5,031.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Tinsley Asphalt, LLC		\$1,000.0000	\$2,000.00
	Hudson Construction Company		\$3,800.0000	\$7,600.00
	Rogers Group, Inc.		\$3,500.0000	\$7,000.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		550.000 EACH		
	Tinsley Asphalt, LLC		\$23.0000	\$12,650.00
	Hudson Construction Company		\$26.2500	\$14,437.50
	Rogers Group, Inc.		\$23.0000	\$12,650.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		8.000 EACH		
	Tinsley Asphalt, LLC		\$23.0000	\$184.00
	Hudson Construction Company		\$26.2500	\$210.00
	Rogers Group, Inc.		\$23.0000	\$184.00

CO	NTR	<b>ACT</b>	CNR926	

			`	JOHNAOT OHNSES
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		36.000 S.Y.		
	Tinsley Asphalt, LLC		\$17.0000	\$612.00
	Hudson Construction Company		\$19.5000	\$702.00
	Rogers Group, Inc.		\$17.0000	\$612.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		300.000 L.F.		
	Tinsley Asphalt, LLC		\$12.0000	\$3,600.00
	Hudson Construction Company		\$9.2500	\$2,775.00
	Rogers Group, Inc.		\$12.0000	\$3,600.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		3.000 EACH		
	Tinsley Asphalt, LLC		\$150.0000	\$450.00
	Hudson Construction Company		\$125.0000	\$375.00
	Rogers Group, Inc.		\$150.0000	\$450.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		23.500 L.M.		
	Tinsley Asphalt, LLC		\$1,975.0000	\$46,412.50
	Hudson Construction Company		\$1,775.0000	\$41,712.50
	Rogers Group, Inc.		\$1,975.0000	\$46,412.50
717-01	MOBILIZATION			
		1.000 LS		
	Tinsley Asphalt, LLC		\$6,200.0000	\$6,200.00
	Hudson Construction Company		\$15,000.0000	\$15,000.00
	Rogers Group, Inc.		\$24,700.0000	\$24,700.00

			CONTRACT CNR926
		UNIT PRICE	EXTENSION
ROADWAY ALTERNATE AA1 CATEGORY			
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01 BITOMINOGO MATERIAL FOR TACK COAT (10)	41.000 TON		
Tinsley Asphalt, LLC		\$450.0000	\$18,450.00
Rogers Group, Inc.		\$525.0000	\$21,525.00
Hudson Construction Company			
411-03.05 ACS MIX(PG64-22) THIN LIFT ASPHALT			
	126,597.000 S.Y.		
Tinsley Asphalt, LLC		\$2.2400	\$283,577.28

Rogers Group, Inc.

Hudson Construction Company

\$2.4000

\$303,832.80

UNIT PRICE EXTENSION

**ROADWAY ALTERNATE AA2 CATEGORY** 

403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)

22.000 TON

Hudson Construction Company \$341.0000 \$7,502.00

Tinsley Asphalt, LLC Rogers Group, Inc.

414-03.03 MICRO SURFACING

126,597.000 S.Y.

Hudson Construction Company \$2.2400 \$283,577.28

Tinsley Asphalt, LLC Rogers Group, Inc.

### **SUB-TOTAL ROADWAY**

Rogers Group, Inc. Hudson Construction Company Tinsley Asphalt, LLC	\$389,617.65 \$407,346.45 \$279,596.75
SUB-TOTAL ROADWAY ALTERNATE AA1	
Rogers Group, Inc. Tinsley Asphalt, LLC	\$325,357.80 \$302,027.28
SUB-TOTAL ROADWAY ALTERNATE AA2	
Hudson Construction Company	\$291,079.28
TOTAL CONTRACT	
Tinsley Asphalt, LLC	\$581,624.03
Hudson Construction Company	\$698,425.73
Rogers Group, Inc.	\$714,975.45

#### MORGAN AND UNION COUNTIES (Contract No. CNR932 Call 010)

65017-4225-04,87003-4218-04,87004-8215-14,HSIP-299(11),65017-3225-94, HSIP-61(42),87003-3218-94,STP/HSIP-131(45),87004-3215-94

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 299 FROM THE CUMBERLAND COUNTY LINE (L.M. 0.00) TO S.R. 328 (L.M. 10.14).

PROJECT LENGTH - 17.380 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

**DBE GOAL 3.50%** 

TOTAL CONTRACT

Hudson Construction Company \$981,761.90

Rogers Group, Inc. \$1,327,322.21

APAC-Atlantic, Inc. \$1,406,329.85

		CONTINUE CHILDRE
	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
411-12.03 SCORING FOR RUMBLE STRIPE (NON-C	ONTINUOUS) (8IN WIDTH)	
	15.000 L.M.	
Hudson Construction Company	\$470.0000	\$7,050.00
Rogers Group, Inc.	\$512.5000	\$7,687.50
APAC-Atlantic, Inc.	\$650.0000	\$9,750.00
705-04.09 EARTH PAD FOR TYPE 38 GR END TREA	ATMENT	
	26.000 EACH	
<b>Hudson Construction Company</b>	\$1,000.0000	\$26,000.00
Rogers Group, Inc.	\$3,541.7200	\$92,084.72
APAC-Atlantic, Inc.	\$1,750.0000	\$45,500.00
705-06.20 TANGENT ENERGY ABSORBING TERM N	MASH TL-3	
	26.000 EACH	
Hudson Construction Company	\$2,400.0000	\$62,400.00
Rogers Group, Inc.	\$1,383.4900	\$35,970.74
APAC-Atlantic, Inc.	\$3,000.0000	\$78,000.00
TOO OL CUADDDAN DEMOVED		
706-01 GUARDRAIL REMOVED	_	
	1,300.000 L.F.	
Hudson Construction Company	\$1.0000	\$1,300.00
Rogers Group, Inc. APAC-Atlantic, Inc.	\$2.2100 \$2.7000	\$2,873.00 \$3,510.00
AFAC-Atlantic, Inc.	\$2.7000	φ3,310.00
712-01 TRAFFIC CONTROL		
712-01 TRAFFIG CONTROL	4 000 LC	
Lludgen Construction Company	1.000 LS	\$24.0E0.00
Hudson Construction Company Rogers Group, Inc.	\$31,850.0000 \$36,491.0000	\$31,850.00 \$36,491.00
APAC-Atlantic, Inc.	\$14,000.0000	\$14,000.00
7 ii 7 io 7 iiianiio, mo.	Ψ11,000.0000	Ψ11,000.00
712-06 SIGNS (CONSTRUCTION)		
,	1,710.000 S.F.	
Hudson Construction Company	\$3.6000	\$6,156.00
Rogers Group, Inc.	\$7.1900	\$12,294.90
APAC-Atlantic, Inc.	\$4.5000	\$7,695.00
712-08.03 ARROW BOARD (TYPE C)		
	2.000 EACH	
Hudson Construction Company	\$450.0000	\$900.00
Rogers Group, Inc.	\$940.7900	\$1,881.58
APAC-Atlantic, Inc.	\$560.0000	\$1,120.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)		
	1,155.000 EACH	
<b>Hudson Construction Company</b>	\$22.0000	\$25,410.00
Rogers Group, Inc.	\$31.0200	\$35,828.10
APAC-Atlantic, Inc.	\$35.0000	\$40,425.00

			CC	MIRACI CNR932
			UNIT PRICE	EXTENSION
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		28.000 EACH		
	Hudson Construction Company		\$22.0000	\$616.00
	Rogers Group, Inc.		\$28.8200	\$806.96
	APAC-Atlantic, Inc.		\$35.0000	\$980.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIP	PING)		
		110.000 S.Y.		
	Hudson Construction Company		\$14.7500	\$1,622.50
	Rogers Group, Inc.		\$19.6300	\$2,159.30
	APAC-Atlantic, Inc.		\$22.0000	\$2,420.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		524.000 L.F.		
	Hudson Construction Company		\$9.5000	\$4,978.00
	Rogers Group, Inc.		\$8.7200	\$4,569.28
	APAC-Atlantic, Inc.		\$10.0000	\$5,240.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		7.000 EACH		
	Hudson Construction Company		\$125.0000	\$875.00
	Rogers Group, Inc.		\$109.0400	\$763.28
	APAC-Atlantic, Inc.		\$125.0000	\$875.00
716-04.03	PLASTIC PAVEMENT MARKING (4" DOTTED LINE)			
		200.000 L.F.		
	Hudson Construction Company		\$1.0000	\$200.00
	Rogers Group, Inc.		\$1.0900	\$218.00
	APAC-Atlantic, Inc.		\$1.2500	\$250.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		8.000 L.M.		
	Hudson Construction Company		\$525.0000	\$4,200.00
	Rogers Group, Inc.		\$436.1700	\$3,489.36
	APAC-Atlantic, Inc.		\$500.0000	\$4,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE	)		
		41.000 L.M.		
	Hudson Construction Company		\$3,750.0000	\$153,750.00
	Rogers Group, Inc.		\$4,034.6000	\$165,418.60
	APAC-Atlantic, Inc.		\$4,600.0000	\$188,600.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		29.000 L.M.		
	Hudson Construction Company		\$1,750.0000	\$50,750.00
	Rogers Group, Inc.		\$1,799.2100	\$52,177.09
	APAC-Atlantic, Inc.		\$2,000.0000	\$58,000.00

CONTRACT	CNIDO22

			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Hudson Construction Company		\$31,500.0000	\$31,500.00
	Rogers Group, Inc.		\$78,129.0000	\$78,129.00
	APAC-Atlantic, Inc.		\$35,000.0000	\$35,000.00

				CONTRACT CNR932
			UNIT PRICE	EXTENSION
ROADW	AY ALTERNATE AA1 CATEGORY			
400.04				
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		152.670 TON		
	Rogers Group, Inc.		\$430.0000	\$65,648.10
	APAC-Atlantic, Inc.		\$500.0000	\$76,335.00
	Hudson Construction Company			
411-03.05	5 ACS MIX(PG64-22) THIN LIFT ASPHALT			
		235,107.000 S.Y.		
	Rogers Group, Inc.		\$3.1000	\$728,831.70

APAC-Atlantic, Inc.

Hudson Construction Company

\$3.5500

\$834,629.85

**CONTRACT CNR932** 

\$557,203.59

UNIT PRICE EXTENSION

\$2.3700

**ROADWAY ALTERNATE AA2 CATEGORY** 

414-03.03 MICRO SURFACING

235,107.000 S.Y.

Hudson Construction Company

Rogers Group, Inc. APAC-Atlantic, Inc.

403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)

38.170 TON

Hudson Construction Company \$393.0000 \$15,000.81

Rogers Group, Inc. APAC-Atlantic, Inc.

## **SUB-TOTAL ROADWAY**

APAC-Atlantic, Inc. Rogers Group, Inc. Hudson Construction Company	\$495,365.00 \$532,842.41 \$409,557.50
SUB-TOTAL ROADWAY ALTERNATE AA1	
APAC-Atlantic, Inc.	\$910,964.85
Rogers Group, Inc.	\$794,479.80
SUB-TOTAL ROADWAY ALTERNATE AA2	
Hudson Construction Company	\$572,204.40
TOTAL CONTRACT	
Hudson Construction Company	\$981,761.90
Rogers Group, Inc.	\$1,327,322.21
APAC-Atlantic, Inc.	\$1,406,329.85

#### SEQUATCHIE COUNTY (Contract No. CNR927 Call 011)

STP/HSIP-8(50),77001-3244-94,77001-8244-14

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON U.S. 127 (S.R. 8) FROM NORTH OF PROGRESS DRIVE (L.M. 5.22) TO S.R. 28 (L.M. 14.83).

PROJECT LENGTH - 9.610 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

**Hudson Construction Company** 

\$638,335.36

Rogers Group, Inc.

\$775,098.64

ROADW/	AY CATEGORY		UNIT PRICE	CONTRACT CNR927 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING	D		
		80.000 TON		
	Hudson Construction Company Rogers Group, Inc.		\$40.0000 \$50.2000	\$3,200.00 \$4,016.00
705-04.07	TAN ENERGY ABSORBING TERM (NCHRP 350, TL	3)		
		4.000 EACH		
	Hudson Construction Company Rogers Group, Inc.		\$2,200.0000 \$2,300.0000	\$8,800.00 \$9,200.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		25,711.000 L.F.		
	Hudson Construction Company Rogers Group, Inc.		\$2.3000 \$2.2900	\$59,135.30 \$58,878.19
706-01	GUARDRAIL REMOVED	000 000 1 5		
	Hudson Construction Company	200.000 L.F.	\$1.0000	\$200.00
	Rogers Group, Inc.		\$0.8300	\$166.00
711-04.21	CONCRETE BARRIER DELINEATION ENHANCEME	NT 1,246.000 L.F.		
	Hudson Construction Company	1,240.000 L.1 .	\$4.0000	\$4,984.00
	Rogers Group, Inc.		\$6.6400	\$8,273.44
712-01	TRAFFIC CONTROL	1.000 LS		
	Hudson Construction Company	1.000 E3	\$28,250.0000	\$28,250.00
	Rogers Group, Inc.		\$11,500.0000	\$11,500.00
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
		8.000 EACH		
	Hudson Construction Company Rogers Group, Inc.		\$35.0000 \$38.7300	\$280.00 \$309.84
712-05.01	WARNING LIGHTS (TYPE A)			
	Hudon Construction Company	8.000 EACH	¢20,0000	\$160.00
	Hudson Construction Company Rogers Group, Inc.		\$20.0000 \$22.1300	\$177.04
712-06	SIGNS (CONSTRUCTION)			
	Hudson Construction Company	450.000 S.F.	\$8.0000	\$3,600.00
	Rogers Group, Inc.		\$8.8500	\$3,982.50
712-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
		2.000 EACH	<b>44.075.000</b>	

**Hudson Construction Company** 

Rogers Group, Inc.

\$3,950.00

\$1,975.0000

\$2,185.6000

			UNIT PRICE	CONTRACT CNR927 EXTENSION
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Hudson Construction Company		\$2,200.0000	\$4,400.00
	Rogers Group, Inc.		\$2,434.5900	\$4,869.18
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		972.000 EACH		
	Hudson Construction Company		\$23.0000	\$22,356.00
	Rogers Group, Inc.		\$25.2000	\$24,494.40
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		363.000 L.F.		
	Hudson Construction Company		\$10.0000	\$3,630.00
	Rogers Group, Inc.		\$10.9600	\$3,978.48
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		36.200 L.M.		
	Hudson Construction Company		\$1,975.0000	\$71,495.00
	Rogers Group, Inc.		\$2,163.9400	\$78,334.63
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		390.000 L.F.		
	Hudson Construction Company		\$1.0000	\$390.00
	Rogers Group, Inc.		\$1.1000	\$429.00
717-01	MOBILIZATION			
		1.000 LS		
	Hudson Construction Company		\$15,000.0000	\$15,000.00
	Rogers Group, Inc.		\$22,791.7700	\$22,791.77
	-			

\$398,430.06

\$2.2200

	CO	NIKACI CNK921			
	UNIT PRICE	EXTENSION			
ALTERNATE AA1 CATEGORY					
403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)					
24 222 TON					
31.000 TON					
Hudson Construction Company	\$325.0000	\$10,075.00			
Rogers Group, Inc.					
414-03.03 MICRO SURFACING					
414-U3.U3 MILKU SUKFACING					

Hudson Construction Company

Rogers Group, Inc.

179,473.000 S.Y.

CONTRACT C	N	IR	927
------------	---	----	-----

\$518,676.97

\$2.8900

			• • • • • • • • • • • • • • • • • • • •	
ALTERN	ATE AA2 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		59.000 TON		
	Rogers Group, Inc.		\$350.0000	\$20,650.00
	Hudson Construction Company			
411-03.05	ACS MIX(PG64-22) THIN LIFT ASPHALT			
		179,473.000 S.Y.		

Rogers Group, Inc.

Hudson Construction Company

## **SUB-TOTAL ROADWAY**

Rogers Group, Inc. \$235,771.67 **Hudson Construction Company** \$229,830.30

### **SUB-TOTAL ALTERNATE AA1**

**Hudson Construction Company** \$408,505.06

## **SUB-TOTAL ALTERNATE AA2**

Rogers Group, Inc. \$539,326.97

#### **TOTAL CONTRACT**

**Hudson Construction Company** \$638,335.36 Rogers Group, Inc. \$775,098.64

#### SHELBY COUNTY (Contract No. CNR922 Call 012)

79903-4122-04

THE INSTALLATION OF AN OVERHEAD SIGN STRUCTURE ON I-40 WB (L.M. 1.00).

PROJECT LENGTH - 0.0 MILES

Tri-State Guardrail & Sign Co., Inc.

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

TOTAL CONTRACT

George B. Stone Co., LLC \$259,190.00 LU, Inc. \$282,218.14

				CONTRACT CNR922
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
620-03	CONCRETE PARAPET (SEE PLANS)			
		25.000 L.F.		
	George B. Stone Co., LLC		\$600.0000	\$15,000.00
	LU, Inc.		\$158.3700	\$3,959.25
	Tri-State Guardrail & Sign Co., Inc.		\$375.0000	\$9,375.00
705-08.1	1 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	George B. Stone Co., LLC		\$5,000.0000	\$10,000.00
	LU, Inc.		\$5,399.0600	\$10,798.12
	Tri-State Guardrail & Sign Co., Inc.		\$16,250.0000	\$32,500.00
711-02.03	REINFORCED CONCRETE MEDIAN BARRIER (BRIDGES)			
		25.000 L.F.		
	George B. Stone Co., LLC		\$600.0000	\$15,000.00
	LU, Inc.		\$158.3700	\$3,959.25
	Tri-State Guardrail & Sign Co., Inc.		\$300.0000	\$7,500.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	George B. Stone Co., LLC		\$75,000.0000	\$75,000.00
	LU, Inc.		\$34,554.0000	\$34,554.00
	Tri-State Guardrail & Sign Co., Inc.		\$20,000.0000	\$20,000.00
712-02.02	2 INTERCONNECTED PORTABLE BARRIER RAIL			
		400.000 L.F.		
	George B. Stone Co., LLC		\$40.0000	\$16,000.00
	LU, Inc.		\$63.3500	\$25,340.00
	Tri-State Guardrail & Sign Co., Inc.		\$31.0000	\$12,400.00
712-04.0 <sup>-</sup>	1 FLEXIBLE DRUMS (CHANNELIZING)			
		60.000 EACH		
	George B. Stone Co., LLC		\$30.0000	\$1,800.00
	LU, Inc.		\$37.9400	\$2,276.40
	Tri-State Guardrail & Sign Co., Inc.		\$28.0000	\$1,680.00
712-04.50	0 PORTABLE BARRIER RAIL DELINEATOR			
		20.000 EACH		
	George B. Stone Co., LLC	-	\$30.0000	\$600.00
	LU, Inc.		\$15.0500	\$301.00
	Tri-State Guardrail & Sign Co., Inc.		\$10.0000	\$200.00
712-08.10	0 MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
		50.000 HOUR		
			<b>*</b> 40 <b>=</b> 0000	<b>*</b>

George B. Stone Co., LLC

Tri-State Guardrail & Sign Co., Inc.

LU, Inc.

\$6,750.00

\$6,119.00

\$5,500.00

\$135.0000

\$122.3800

\$110.0000

			CONTRACT CHR322
		UNIT PRICE	EXTENSION
713-09.20	STEEL OVERHEAD SIGN STRUCTURE		
		1.000 EACH	
	George B. Stone Co., LLC	\$90,000.0000	\$90,000.00
	LU, Inc.	\$153,385.2100	\$153,385.21
	Tri-State Guardrail & Sign Co., Inc.	\$175,000.0000	\$175,000.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS		
		368,000 S.F.	
	George B. Stone Co., LLC	\$30.0000	\$11,040.00
	LU, Inc.	\$25.0800	\$9,229.44
	Tri-State Guardrail & Sign Co., Inc.	\$41.0000	\$15,088.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT		
		2.000 EACH	
	George B. Stone Co., LLC	\$3,000.0000	\$6,000.00
	LU, Inc.	\$8,350.5500	\$16,701.10
	Tri-State Guardrail & Sign Co., Inc.	\$3,000.0000	\$6,000.00
717-01	MOBILIZATION		
		1.000 LS	
	George B. Stone Co., LLC	\$12,000.0000	\$12,000.00
	LU, Inc.	\$15,595.3700	\$15,595.37
	Tri-State Guardrail & Sign Co., Inc.	\$10,000.0000	\$10,000.00
	<b>~</b> ·		•

## **SUB-TOTAL ROADWAY**

Tri-State Guardrail & Sign Co., Inc.	\$295,243.00
LU, Inc.	\$282,218.14
George B. Stone Co., LLC	\$259,190.00

## **TOTAL CONTRACT**

George B. Stone Co., LLC	\$259,190.00
LU, Inc.	\$282,218.14
Tri-State Guardrail & Sign Co., Inc.	\$295,243.00

### SULLIVAN COUNTY (Contract No. CNR923 Call 013)

NH-I-81-1(128),82001-8183-44,PHSIP-I-81-1(124),82001-3181-94

THE GRADING, DRAINAGE AND PAVING ON I-81 AT THE TENNESSEE WELCOME CENTER SB EXIT RAMP (L.M. 21.97).

PROJECT LENGTH - 1.678 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2017

DBE GOAL 3.50%

TOTAL CONTRACT

Summers-Taylor, Inc.

\$2,717,850.70

W-L Construction & Paving, Inc.

\$2,949,197.08

CONTR	ΔCT	<b>CNR923</b>
	$\Delta C I$	CININGES

				CONTRACT CNR923
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Cummora Toylor Inc	1.000 LS	¢7.400.0000	\$7,100.00
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$7,100.0000 \$29,855.4100	\$29,855.41
201-01	CLEARING AND GRUBBING			
	Commence Trades Inc.	1.000 LS	<b>#40.500.0000</b>	<b>#40.500.00</b>
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$42,500.0000 \$58,737.0600	\$42,500.00 \$58,737.06
202-01.56	REMOVAL OF STRUCTURES & OBSTRUCTIONS (	SEE PLANS)		
		1.000 LS	Φο ορο ορο	<b>40.000.00</b>
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$2,300.0000 \$16,242.7900	\$2,300.00 \$16,242.79
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Currencers Tenders Inc.	5,970.000 S.Y.	Ф <b>7</b> ССОО	¢45,070,50
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$7.6500 \$6.1300	\$45,670.50 \$36,596.10
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIE			
	Summers-Taylor, Inc.	3,418.000 C.Y.	\$22.9500	\$78,443.10
	W-L Construction & Paving, Inc.		\$32.9500	\$112,623.10
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
	Summers-Taylor, Inc.	35.000 TON	\$42.0000	\$1,470.00
	W-L Construction & Paving, Inc.		\$49.1500	\$1,720.25
203-04	PLACING AND SPREADING TOPSOIL	400 000 O V		
	Summers-Taylor, Inc.	422.000 C.Y.	\$25.5000	\$10,761.00
	W-L Construction & Paving, Inc.		\$13.0200	\$5,494.44
203-07	FURNISHING & SPREADING TOPSOIL	96.000 C.Y.		
	Summers-Taylor, Inc.	96.000 C.1.	\$39.0000	\$3,744.00
	W-L Construction & Paving, Inc.		\$22.9600	\$2,204.16
203-15.03	COMPACTED CLAY	25 000 C V		
	Summers-Taylor, Inc.	25.000 C.Y.	\$45.8000	\$1,145.00
	W-L Construction & Paving, Inc.		\$66.1400	\$1,653.50
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)	4 000 C V		
	Summers-Taylor, Inc.	4.000 C.Y.	\$235.0000	\$940.00
	W-L Construction & Paving, Inc.		\$328.8500	\$1,315.40
				PAGE

				CONTRACT CNR923
			UNIT PRICE	EXTENSION
208-01	SHOULDERS AND DITCHES			
200-01	SHOULDERS AND DITCHES	5.800 L.M.		
	Summers-Taylor, Inc.	0.000	\$725.0000	\$4,205.00
	W-L Construction & Paving, Inc.		\$1,180.2100	\$6,845.22
209-05	SEDIMENT REMOVAL			
		27.000 C.Y.		
	Summers-Taylor, Inc.		\$10.8000	\$291.60
	W-L Construction & Paving, Inc.		\$27.3300	\$737.91
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		500.000 L.F.		
	Summers-Taylor, Inc.		\$1.9000	\$950.00
	W-L Construction & Paving, Inc.		\$2.6700	\$1,335.00
209-08.07	ROCK CHECK DAM PER			
		11.000 EACH		
	Summers-Taylor, Inc.		\$625.0000	\$6,875.00
	W-L Construction & Paving, Inc.		\$347.1200	\$3,818.32
209-08.08	ENHANCED ROCK CHECK DAM			
		4.000 EACH		
	Summers-Taylor, Inc.		\$875.0000	\$3,500.00
	W-L Construction & Paving, Inc.		\$494.0200	\$1,976.08
209-09.43	CURB INLET PROTECTION (TYPE 4)			
		2.000 EACH		
	Summers-Taylor, Inc.		\$200.0000	\$400.00
	W-L Construction & Paving, Inc.		\$531.0300	\$1,062.06
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
		3.000 EACH		
	Summers-Taylor, Inc.		\$525.0000	\$1,575.00
	W-L Construction & Paving, Inc.		\$233.4100	\$700.23
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
		3.000 EACH		
	Summers-Taylor, Inc.		\$535.0000	\$1,605.00
	W-L Construction & Paving, Inc.		\$634.9100	\$1,904.73
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		2,855.000 TON		
	Summers-Taylor, Inc.		\$29.8500	\$85,221.75
	W-L Construction & Paving, Inc.		\$34.2800	\$97,869.40

224.000 TON

303-01.01 GRANULAR BACKFILL (ROADWAY)

W-L Construction & Paving, Inc.

Summers-Taylor, Inc.

\$10,640.00

\$11,372.48

\$47.5000

\$50.7700

			CONTRACT CNR923
		UNIT PRICE	EXTENSION
202 10 01	MINIEDAL ACCRECATE (SIZE 57)		
303-10.01	MINERAL AGGREGATE (SIZE 57)  23.000 TON		
	Summers-Taylor, Inc.	\$44.0000	\$1,012.00
	W-L Construction & Paving, Inc.	\$53.6000	\$1,232.80
207.04.00	ASPILALT CONCRETE MIX (DCC4 22) (DDMD LIM) CDADING D M2		
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2 157.000 TON		
	Summers-Taylor, Inc.	\$109.5000	\$17,191.50
	W-L Construction & Paving, Inc.	\$92.8000	\$14,569.60
207 04 22	ASP. CONC. MIX(PG76-22) (BPMB-HM) GR. A-S		
307-01.22	180.000 TON		
	Summers-Taylor, Inc.	\$91.5000	\$16,470.00
	W-L Construction & Paving, Inc.	\$93.6600	\$16,858.80
307-03 01	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A		
307-03.01	542.000 TON		
	Summers-Taylor, Inc.	\$81.5000	\$44,173.00
	W-L Construction & Paving, Inc.	\$95.1600	\$51,576.72
307-03 08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B-M2		
007 00.00	133.000 TON		
	Summers-Taylor, Inc.	\$104.3000	\$13,871.90
	W-L Construction & Paving, Inc.	\$97.8900	\$13,019.37
307-03.09	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING C		
	8,407.000 TON		
	Summers-Taylor, Inc.	\$89.7500	\$754,528.25
	W-L Construction & Paving, Inc.	\$91.1800	\$766,550.26
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
	4.500 TON		
	Summers-Taylor, Inc.	\$330.0000	\$1,485.00
	W-L Construction & Paving, Inc.	\$675.2600	\$3,038.67
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	65.000 TON		
	Summers-Taylor, Inc.	\$825.0000	\$53,625.00
	W-L Construction & Paving, Inc.	\$660.1800	\$42,911.70
403-05	BITUMINOUS MATERIAL(TC/FOG SEAL)(UNDILUTED)		
	8.300 TON		
	Summers-Taylor, Inc.	\$950.0000	\$7,885.00
	W-L Construction & Paving, Inc.	\$728.5600	\$6,047.05
407-20.05	SAW CUTTING ASPHALT PAVEMENT		

1,152.000 L.F.

Summers-Taylor, Inc.

W-L Construction & Paving, Inc.

\$2,246.40

\$7,868.16

\$1.9500

\$6.8300

CONTRACT C	NR923
------------	-------

				CONTRACT CNR923
			UNIT PRICE	EXTENSION
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		90.000 TON		
	Summers-Taylor, Inc.		\$115.0000	\$10,350.00
	W-L Construction & Paving, Inc.		\$98.3200	\$8,848.80
	<b>3</b> , 1		*******	*-,-
411-03.23	ACS MIX (PG76-22) OGFC			
		5,404.000 TON		
	Summers-Taylor, Inc.		\$102.9500	\$556,341.80
	W-L Construction & Paving, Inc.		\$99.9700	\$540,237.88
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		5.930 L.M.		
	Summers-Taylor, Inc.		\$1,550.0000	\$9,191.50
	W-L Construction & Paving, Inc.		\$799.7800	\$4,742.70
	<u> </u>			
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		6,236.000 TON		
	Summers-Taylor, Inc.		\$16.7500	\$104,453.00
	W-L Construction & Paving, Inc.		\$20.2700	\$126,403.72
502-08 01	RESEALING JOINTS (HOT POURED ELASTIC)			
002 00.01	RESEALING SOUTH (NOT 1 SOURCE ELASTIS)	9,074.000 L.F.		
	Summers-Taylor, Inc.	-,	\$1.9500	\$17,694.30
	W-L Construction & Paving, Inc.		\$2.9500	\$26,768.30
	<u> </u>			
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)			
		105.000 L.F.		
	Summers-Taylor, Inc.		\$64.0000	\$6,720.00
	W-L Construction & Paving, Inc.		\$82.0700	\$8,617.35
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)			
		56.000 L.F.		
	Summers-Taylor, Inc.		\$102.0000	\$5,712.00
	W-L Construction & Paving, Inc.		\$86.4000	\$4,838.40
044.07.04	OLAGO A CONODETE (DIDE ENDWALLO)			
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)	2 000 C V		
	O T	2.000 C.Y.	<b>#</b> 005 0000	<b>#4.070.00</b>
	Summers-Taylor, Inc.		\$985.0000	\$1,970.00
	W-L Construction & Paving, Inc.		\$1,100.0000	\$2,200.00
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
		68.000 LB.		
	Summers-Taylor, Inc.		\$2.0000	\$136.00
	W-L Construction & Paving, Inc.		\$2.2000	\$149.60
611-41 02	CATCH BASINS, TYPE 41, > 4' - 8' DEPTH			
011-41.02	OATOH DAGING, 111 E 41, 24 - 0 DEFIN	2.000 EACH		
	Summers-Taylor, Inc.		\$5,500.0000	\$11,000.00
	W-L Construction & Paving, Inc.		\$5,804.6200	\$11,609.24
	<i>5.</i>		, , = = <del>=</del>	. ,

MIT PRICE   EXTENSION				С	ONTRACT CNR923
Summers-Taylor, Inc.   W-L Construction & Paving, Inc.				UNIT PRICE	EXTENSION
Summers-Taylor, Inc.   W-L Construction & Paving, Inc.					
Summers-Taylor, Inc.   \$3,700,000   \$3,700,000   \$5,407.1000   \$5,407.	611-42.02	CATCH BASINS, TYPE 42, > 4' - 8' DEPTH	1 000 EACH		
W.L. Construction & Paving, Inc.   \$5,407.100   \$5,407.100   \$1,400.00   \$1,		Summers-Taylor Inc	1.000 EACH	\$3,700,0000	\$3,700,00
				<b>4-,</b>	<b>40,</b> 101110
Summers-Taylor, Inc.   \$520,0000   \$11,440.00   \$10,890	703-01	CEMENT CONCRETE DITCH PAVING			
### Construction & Paving, Inc.    1000			22.000 C.Y.		
100   100					
Summers-Taylor, Inc.   \$0.000 EACH   \$0.0000   \$0.0000   \$0.0000   \$0.000   \$0.0000   \$0.0000   \$0.0000   \$0.0000   \$0.0000   \$0.0000		W-L Construction & Paving, Inc.		\$495.0000	\$10,890.00
Summers-Taylor, Inc.   \$87,0000   \$2,349.00   \$2,349.00   \$2,821.50   \$2,821	705-01.01	GUARDRAIL AT BRIDGE ENDS			
W-L Construction & Paving, Inc.   \$104.5000   \$2,821.50			27.000 L.F.		
705-04.50 PORTABLE BARRIER RAIL DELINEATOR  70.000 EACH  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  \$11.000 EACH  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  \$1.000 EACH  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  \$2.583,0500 \$2.583.05 \$5.280.000 \$5.280.000 \$5.280.000 \$5.280.000 \$5.280.000 \$5.280.000 \$5.280.000 \$5.280.000 \$5.280.000 \$5.280.000 \$5.800.					
Name		W-L Construction & Paving, Inc.		\$104.5000	\$2,821.50
Name	705-04 50	PORTABLE BARRIER RAIL DELINEATOR			
Summers-Taylor, Inc.   \$11.000   \$770.00   \$	700 01100		70.000 EACH		
W-L Construction & Paving, Inc.   \$11,000   \$770.00		Summers-Taylor, Inc.	. 0.000 =. 1011	\$11.0000	\$770.00
Numers-Taylor, Inc.					
Numers-Taylor, Inc.					
Summers-Taylor, Inc.	705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
W-L Construction & Paving, Inc.   \$5,280.0000   \$5,280.000     705-08.51   PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			1.000 EACH	Фо поо опоо	<b>40.500.05</b>
T05-08.51   PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3					
1.000 EACH   Summers-Taylor, Inc.   \$3,600.0000   \$3,600.000   \$6,083.290   \$6,08		W-L Constitution & Faving, Inc.		ψ5,200.0000	ψ5,200.00
Summers-Taylor, Inc.   \$3,600.000   \$3,600.000   \$3,600.000   \$3,600.000   \$3,600.000   \$3,600.000   \$3,600.000   \$6,083.290   \$6,083	705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
W-L Construction & Paving, Inc.       \$6,083.290       \$6,083.29         709-05.05 MACHINED RIP-RAP (CLASS A-3)         50.000 TON         Summers-Taylor, Inc.       \$441.0000       \$2,050.00         W-L Construction & Paving, Inc.       544.000 TON         Summers-Taylor, Inc.       \$46.0000       \$25,024.00         W-L Construction & Paving, Inc.       \$1,152.000 L.F.         Summers-Taylor, Inc.       \$7,9500       \$9,158.40         W-L Construction & Paving, Inc.       \$1,152.000 L.F.         \$10-05       LATERAL UNDERDRAIN         T10-05       LATERAL UNDERDRAIN         \$54.000 L.F.         Summers-Taylor, Inc.       \$11.0000       \$594.00			1.000 EACH		
709-05.05 MACHINED RIP-RAP (CLASS A-3)  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  MACHINED RIP-RAP (CLASS A-1)  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F. Summers-Taylor, Inc. Summers-Taylor, Inc. Summers-Taylor, Inc. Summers-Taylor, Inc.					
Summers-Taylor, Inc.   \$41.000   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,005.28   \$2,005.00   \$2,005.28   \$2,005.		W-L Construction & Paving, Inc.		\$6,083.2900	\$6,083.29
Summers-Taylor, Inc.   \$41.000   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,050.00   \$2,005.28   \$2,005.00   \$2,005.28   \$2,005.	709-05.05	MACHINED RIP-RAP (CLASS A-3)			
Summers-Taylor, Inc.   \$41.0000   \$2,050.00   \$2,050.00   \$46.0700   \$2,303.50   \$2,303.		(3 23 3)	50.000 TON		
709-05.06 MACHINED RIP-RAP (CLASS A-1)  544.000 TON  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  1,152.000 L.F.  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  \$7.9500 \$9,158.40 W-L Construction & Paving, Inc.  1,10000 L.F.  \$7.9500 \$9,158.40 \$11,740.80		Summers-Taylor, Inc.		\$41.0000	\$2,050.00
Summers-Taylor, Inc.   \$46.000   \$25,024.00   \$25,024.00   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$48.8700   \$26,585.28   \$48.8700   \$48.8700   \$26,585.28   \$48.8700		W-L Construction & Paving, Inc.		\$46.0700	\$2,303.50
Summers-Taylor, Inc.   \$46.000   \$25,024.00   \$25,024.00   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$26,585.28   \$48.8700   \$48.8700   \$26,585.28   \$48.8700   \$48.8700   \$26,585.28   \$48.8700	700 0E 06	MACHINED DID DAD (CLASS & 4)			
Summers-Taylor, Inc.   \$46.0000   \$25,024.00   \$26,585.28   \$26,585.	709-05.00	MACHINED RIF-RAF (CLASS A-1)	544 000 TON		
W-L Construction & Paving, Inc. \$48.8700 \$26,585.28  710-02 AGGREGATE UNDERDRAINS (WITH PIPE)  1,152.000 L.F.  Summers-Taylor, Inc. \$7.9500 \$9,158.40 W-L Construction & Paving, Inc. \$15.4000 \$17,740.80  710-05 LATERAL UNDERDRAIN  54.000 L.F.  Summers-Taylor, Inc. \$11.0000 \$594.00		Summers-Taylor Inc	344.000 1014	\$46,0000	\$25 024 00
710-02 AGGREGATE UNDERDRAINS (WITH PIPE)  1,152.000 L.F.  Summers-Taylor, Inc. W-L Construction & Paving, Inc.  710-05 LATERAL UNDERDRAIN  54.000 L.F.  Summers-Taylor, Inc.  \$11.0000 \$594.00					
1,152.000 L.F.         Summers-Taylor, Inc.       \$7.9500       \$9,158.40         W-L Construction & Paving, Inc.       \$15.4000       \$17,740.80         710-05       LATERAL UNDERDRAIN         54.000 L.F.         Summers-Taylor, Inc.       \$11.0000       \$594.00					
Summers-Taylor, Inc.       \$7.9500       \$9,158.40         W-L Construction & Paving, Inc.       \$15.4000       \$17,740.80         710-05       LATERAL UNDERDRAIN         54.000 L.F.         Summers-Taylor, Inc.       \$11.0000       \$594.00	710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
W-L Construction & Paving, Inc. \$15.4000 \$17,740.80  710-05 LATERAL UNDERDRAIN  54.000 L.F.  Summers-Taylor, Inc. \$11.0000 \$594.00			1,152.000 L.F.		
710-05 LATERAL UNDERDRAIN  54.000 L.F.  Summers-Taylor, Inc. \$11.0000 \$594.00					
<b>54.000 L.F.</b> Summers-Taylor, Inc. \$11.0000 \$594.00		vv-L Construction & Paving, Inc.		\$15.4000	\$17,740.80
Summers-Taylor, Inc. \$11.0000 \$594.00	710-05	LATERAL UNDERDRAIN			
Summers-Taylor, Inc. \$11.0000 \$594.00			54.000 L.F.		
W-L Construction & Paving, Inc. \$9.9000 \$534.60		Summers-Taylor, Inc.		\$11.0000	\$594.00
		W-L Construction & Paving, Inc.		\$9.9000	\$534.60

CONTRACT	CNR923
EVT.	ENIOLONI

			UNIT PRICE	EXTENSION
710-06.13	LATERAL UNDERDRAIN ENDWALL (4:1)			
		1.000 EACH		
	Summers-Taylor, Inc.		\$715.0000	\$715.00
	W-L Construction & Paving, Inc.		\$1,100.0000	\$1,100.00
710-06.15	LATERAL UNDERDRAIN ENDWALL (6:1)			
		2.000 EACH		
	Summers-Taylor, Inc.		\$715.0000	\$1,430.00
	W-L Construction & Paving, Inc.		\$1,100.0000	\$2,200.00
711-05.77	FLARED S/S CONCRETE MEDIAN BARRIER WALL			
		60.000 L.F.		
	Summers-Taylor, Inc.		\$175.0000	\$10,500.00
	W-L Construction & Paving, Inc.		\$201.6700	\$12,100.20
711-05.78	GRADE SEPARATED SINGE SLOPE MEDIAN WALL			
		450.000 L.F.		
	Summers-Taylor, Inc.		\$255.0000	\$114,750.00
	W-L Construction & Paving, Inc.		\$293.8600	\$132,237.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Summers-Taylor, Inc.		\$81,555.0000	\$81,555.00
	W-L Construction & Paving, Inc.		\$121,284.3800	\$121,284.38
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,340.000 L.F.		
	Summers-Taylor, Inc.		\$43.0000	\$57,620.00
	W-L Construction & Paving, Inc.		\$52.8000	\$70,752.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		317.000 EACH		
	Summers-Taylor, Inc.		\$22.0000	\$6,974.00
	W-L Construction & Paving, Inc.		\$22.0000	\$6,974.00
712-05.01	WARNING LIGHTS (TYPE A)			
	,	146.000 EACH		
	Summers-Taylor, Inc.	140.000 EAGI1	\$5.6500	\$824.90
	W-L Construction & Paving, Inc.		\$5.5000	\$803.00
712-06	SIGNS (CONSTRUCTION)			
112-00	SIGNO (CONSTRUCTION)	2,486.000 S.F.		
	Summers-Taylor, Inc.	۷, <del>4</del> 00.000 ک.۲.	\$8.2500	\$20,509.50
	W-L Construction & Paving, Inc.		\$8.5500	\$21,255.30
	The Constitution of avilly, inc.		ψυ.υυυ	ψε 1,200.00
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)			
		10.000 EACH		
	Summers-Taylor, Inc.		\$695.0000	\$6,950.00
	W-L Construction & Paving, Inc.		\$577.5000	\$5,775.00

		CONTRACT CNR923
	UNIT PRICE	EXTENSION
712-08.03 ARROW BOARD (TYPE C)		
6.000 EACH	•	
Summers-Taylor, Inc. W-L Construction & Paving, Inc.	\$365.0000 \$1,012.0000	\$2,190.00 \$6,072.00
712-08.10 MOBILE MESSAGE SIGN UNIT W/ATTENUATOR 300.000 HOUR		
Summers-Taylor, Inc.	\$125.0000	\$37,500.00
W-L Construction & Paving, Inc.	\$112.2000	\$33,660.00
712-09.01 REMOVABLE PAVEMENT MARKING LINE		
2,696.000 L.F.		
Summers-Taylor, Inc. W-L Construction & Paving, Inc.	\$2.2500 \$2.4800	\$6,066.00 \$6,686.08
<b>3</b> ,	•	¥-,,
712-09.31 REMOVABLE BLACK-OUT TAPE (8IN) 550.000 L.F.		
Summers-Taylor, Inc.	\$3.2500	\$1,787.50
W-L Construction & Paving, Inc.	\$3.5800	\$1,969.00
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)		
5.000 C.Y.		
Summers-Taylor, Inc. W-L Construction & Paving, Inc.	\$610.0000 \$660.0000	\$3,050.00 \$3,300.00
W-L Construction & Laving, Inc.	ψοσο.σσσσ	ψ3,300.00
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPORTS)		
1,425.000 LB. Summers-Taylor, Inc.	\$3.1000	\$4,417.50
W-L Construction & Paving, Inc.	\$3.3000	\$4,702.50
713-02.04 DELINEATOR (MILE MARKER) & STEEL POST		
2.000 EACH		
Summers-Taylor, Inc.	\$205.0000	\$410.00
W-L Construction & Paving, Inc.	\$220.0000	\$440.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)		
100.000 EACH		
Summers-Taylor, Inc. W-L Construction & Paving, Inc.	\$32.5000 \$35.2000	\$3,250.00 \$3,520.00
	****	¥-7,-
713-02.15 FLEXIBLE DELINEATOR (YELLOW)		
70.000 EACH Summers-Taylor, Inc.	\$32.5000	\$2,275.00
W-L Construction & Paving, Inc.	\$35.2000	\$2,464.00

4,988.000 LB.

713-06

Summers-Taylor, Inc.

W-L Construction & Paving, Inc.

STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPORT

\$21,697.80

\$23,343.84

\$4.3500

\$4.6800

				CONTRACT CNR923
			UNIT PRICE	EXTENSION
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		290.000 LB.		
	Summers-Taylor, Inc.		\$4.0000	\$1,160.00
	W-L Construction & Paving, Inc.		\$4.1300	\$1,197.70
713-11.21	P POST SLIP BASE			
		10.000 EACH		
	Summers-Taylor, Inc.		\$390.0000	\$3,900.00 \$4,335,00
	W-L Construction & Paving, Inc.		\$423.5000	\$4,235.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		81.000 S.F.		
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$14.0000 \$14.8500	\$1,134.00 \$1,202.85
	, a concension of the same		***************************************	<b>¥</b> ',======
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
	Currence Touley Inc	451.000 S.F.	<b>#20 5000</b>	<b>\$42.204.50</b>
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$29.5000 \$28.6000	\$13,304.50 \$12,898.60
	-			
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	4 000 1 0		
	Summers-Taylor, Inc.	1.000 LS	\$580.0000	\$580.00
	W-L Construction & Paving, Inc.		\$550.0000	\$550.00
740 40 04	CUANCEARI E MESSAGE CION UNIT			
/13-16.01	CHANGEABLE MESSAGE SIGN UNIT	3.000 EACH		
	Summers-Taylor, Inc.	0.000 E/(011	\$5,450.0000	\$16,350.00
	W-L Construction & Paving, Inc.		\$5,225.0000	\$15,675.00
714-01	STRUCTURAL LIGHTING			
		1.000 LS		
	Summers-Taylor, Inc.		\$11,000.0000	\$11,000.00
	W-L Construction & Paving, Inc.		\$5,346.0000	\$5,346.00
714-03.01	DIRECT BURIAL CONDUIT (2" PVC, SCHEDULE 40)			
		1,000.000 L.F.		
	Summers-Taylor, Inc.		\$5.7500	\$5,750.00
	W-L Construction & Paving, Inc.		\$8.8000	\$8,800.00
714-05.04	PULL BOXES (TYPE C)			
		1.000 EACH		
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$1,150.0000 \$2,750.0000	\$1,150.00 \$2,750.00
	W-L Constituction & Favilig, Inc.		φ2,750.0000	φ∠,7 50.00
744 05 05	DULL DOVES ( UNCTION DOV IN WALL)			

2.000 EACH

714-05.05 PULL BOXES (JUNCTION BOX IN WALL)

W-L Construction & Paving, Inc.

Summers-Taylor, Inc.

\$2,300.00

\$2,640.00

\$1,150.0000

\$1,320.0000

				CONTRACT CNR923
			UNIT PRICE	EXTENSION
714-06.08	CABLE (1/C 1/0 AWG.)			
		3,900.000 L.F.		
	Summers-Taylor, Inc.		\$1.1500	\$4,485.00
	W-L Construction & Paving, Inc.		\$2.9900	\$11,661.00
714-08.01	LIGHT STANDARDS (45' M.H., 15' ARM)			
		4.000 EACH		
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$5,145.0000 \$4,015.0000	\$20,580.00 \$16,060.00
	W-L Construction & Faving, Inc.		φ4,013.0000	\$10,000.00
714-08.09	LIGHT STANDARDS (45' M.H., 15' ARM, NEW WALL MOUNTED)			
		2.000 EACH		***
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$5,145.0000 \$3,696.0000	\$10,290.00 \$7,392.00
			40,000.000	ψ.,σσ <b>=</b> .σσ
714-08.32	REMOVAL OF LIGHT STANDARD & FOUNDATION			
	Curamana Taylor Inc	2.000 EACH	<b>#2 205 0000</b>	¢4.570.00
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$2,285.0000 \$275.0000	\$4,570.00 \$550.00
714-09.03	LUMINAIRES (250 WATT)	C 000 FACU		
	Summers-Taylor, Inc.	6.000 EACH	\$1,715.0000	\$10,290.00
	W-L Construction & Paving, Inc.		\$1,848.0000	\$11,088.00
74.0 04.00	Convertigable Digest Malare /Di Dig//2 Color)			
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)	635.000 EACH		
	Summers-Taylor, Inc.	200.000 = 7.01.	\$24.5000	\$15,557.50
	W-L Construction & Paving, Inc.		\$24.2000	\$15,367.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		635.000 EACH		
	Summers-Taylor, Inc.		\$6.2500	\$3,968.75
	W-L Construction & Paving, Inc.		\$6.6000	\$4,191.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		840.000 L.F.		
	Summers-Taylor, Inc.		\$7.8500	\$6,594.00
	W-L Construction & Paving, Inc.		\$8.5300	\$7,165.20
716-04.07	PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)			
		2.000 EACH	_	_
	Summers-Taylor, Inc. W-L Construction & Paving, Inc.		\$190.0000 \$203.5000	\$380.00 \$407.00
	2 Solicitation at army, no.		Ψ200.0000	ψ-07.00
746 04 4 4	DI ACTIC DAVEMENT MADIZING /LANE DEDUCTION ADDOM/			

4.000 EACH

716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)

Summers-Taylor, Inc.

W-L Construction & Paving, Inc.

\$800.00

\$814.00

\$200.0000

\$203.5000

CONTRACT CNR923	С	ONT	RA	CT	CN	R923
-----------------	---	-----	----	----	----	------

				CONTRACT CNR923
			UNIT PRICE	EXTENSION
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE	)		
		5,272.000 L.F.		
	Summers-Taylor, Inc.		\$0.3000	\$1,581.60
	W-L Construction & Paving, Inc.		\$0.2900	\$1,528.88
716-05.49	PAINTED PAVEMENT MARKINGS(8" LINE)			
		13.500 L.M.		
	Summers-Taylor, Inc.		\$795.0000	\$10,732.50
	W-L Construction & Paving, Inc.		\$830.5000	\$11,211.75
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6II	N LINE)		
		13.400 L.M.		
	Summers-Taylor, Inc.		\$4,486.0000	\$60,112.40
	W-L Construction & Paving, Inc.		\$4,537.5000	\$60,802.50
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8II	N BARRIER LINE)		
		5,272.000 L.F.		
	Summers-Taylor, Inc.		\$2.0000	\$10,544.00
	W-L Construction & Paving, Inc.		\$1.9800	\$10,438.56
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6II	N DOTTED LINE)		
		1,604.000 L.F.		
	Summers-Taylor, Inc.		\$1.5500	\$2,486.20
	W-L Construction & Paving, Inc.		\$1.4900	\$2,389.96
717-01	MOBILIZATION			
		1.000 LS		
	Summers-Taylor, Inc.		\$78,500.0000	\$78,500.00
	W-L Construction & Paving, Inc.		\$108,562.5600	\$108,562.56
740-06.01	GEOMEMBRANE			
		1,353.000 S.Y.		
	Summers-Taylor, Inc.		\$12.6500	\$17,115.45
	W-L Construction & Paving, Inc.		\$12.6600	\$17,128.98
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		253.000 S.Y.		
	Summers-Taylor, Inc.		\$3.3500	\$847.55
	W-L Construction & Paving, Inc.		\$5.7700	\$1,459.81
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		100.000 S.Y.		
	Summers-Taylor, Inc.		\$2.0000	\$200.00
	W-L Construction & Paving, Inc.		\$4.7900	\$479.00
740-11.01	TEMPORARY SEDIMENT TUBE 8IN			
		2,328.000 L.F.		
	Summers-Taylor, Inc.		\$2.1000	\$4,888.80
	W-L Construction & Paving, Inc.		\$3.2500	\$7,566.00

				CONTRACT CNR923
			UNIT PRICE	EXTENSION
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		11.000 UNIT		
	Summers-Taylor, Inc.		\$32.0000	\$352.00
	W-L Construction & Paving, Inc.		\$26.5400	\$291.94
	TV E concluded at average mon		Ψ20.0100	Ψ201.01
801-02	SEEDING (WITHOUT MULCH)			
		22.000 UNIT		
	Summers Toylor Inc	22.000 GN11	<b>\$20,000</b>	¢ee0 00
	Summers-Taylor, Inc.		\$30.0000 \$32.5000	\$660.00 \$715.00
	W-L Construction & Paving, Inc.		φ32.3000	\$715.00
801-03	WATER (SEEDING & SODDING)			
001-03	WATER (SEEDING & SODDING)			
		2.000 M.G.		
	Summers-Taylor, Inc.		\$51.0000	\$102.00
	W-L Construction & Paving, Inc.		\$62.0100	\$124.02
801-08	FERTILIZER (SUPPLEMENTAL APPLICATION)			
		1.000 TON		
	Summers-Taylor, Inc.		\$600.0000	\$600.00
	W-L Construction & Paving, Inc.		\$432.0000	\$432.00
805-12.03	EROSION CONTROL BLANKET (TYPE III)			
		2,484.000 S.Y.		

Summers-Taylor, Inc. W-L Construction & Paving, Inc.

\$3,850.20

\$4,868.64

\$1.5500

\$1.9600

# **SUB-TOTAL ROADWAY**

W-L Construction & Paving, Inc.	\$2,949,197.08
Summers-Taylor, Inc.	\$2,717,850.70

## TOTAL CONTRACT

••	
Summers-Taylor, Inc.	\$2,717,850.70
W-L Construction & Paving, Inc.	\$2,949,197.08

## TIPTON COUNTY (Contract No. CNR925 Call 014)

84008-4220-04, HSIP-179(10), 84008-3220-94

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 179 FROM S.R. 54 (L.M. 0.00) TO S.R. 14 (L.M. 5.80).

PROJECT LENGTH - 5.800 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

TOTAL CONTRACT

Hudson Construction Company Lehman-Roberts Company \$1,093,430.50 \$1,260,413.50

CON	ITRACT	CNR92	5

			CC	NTRACT CNR925
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
203-06	WATER			
		23.000 M.G.		
	Hudson Construction Company		\$7.0000	\$161.00
	Lehman-Roberts Company		\$6.5400	\$150.42
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING			
	Hudaan Canaturation Commons	3,070.000 TON	¢27 5000	¢445.405.00
	Hudson Construction Company Lehman-Roberts Company		\$37.5000 \$35.0000	\$115,125.00 \$107,450.00
	Lorinan Robotto Company		ψου.σσσσ	Ψ107,100.00
311-03.04	HOT IN PLACE RECYCLING OF ASPHALT PAVE	MENT (2.00IN)		
		81,664.000 S.Y.		
	Hudson Construction Company		\$3.0400	\$248,258.56
	Lehman-Roberts Company		\$3.2200	\$262,958.08
311-03.10	Asphalt Rejuvenating Agent			
		44,916.000 GAL.	<b>#0.0700</b>	<b>#407.000.40</b>
	Hudson Construction Company Lehman-Roberts Company		\$3.0700 \$3.2500	\$137,892.12 \$145,977.00
	Letiman Roberts Company		ψ0.2000	Ψ140,077.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINU	OUS) (4IN WIDTH)		
		9.300 L.M.		
	Hudson Construction Company		\$825.0000	\$7,672.50
	Lehman-Roberts Company		\$1,500.0000	\$13,950.00
607-39.04	30" PIPE CULVERT (SIDE DRAIN)			
	Hudgen Construction Company	160.000 L.F.	\$79.2500	¢42 690 00
	Hudson Construction Company Lehman-Roberts Company		\$19.2500 \$106.0000	\$12,680.00 \$16,960.00
			<b>V.00.000</b>	ψ.ο,οοοιοο
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TI	<b>3</b>		
		4.000 EACH		
	Hudson Construction Company		\$2,610.0000	\$10,440.00
	Lehman-Roberts Company		\$3,000.0000	\$12,000.00
740.04	TRAFFIC CONTROL			
712-01	TRAFFIC CONTROL	4 000 1 0		
	Hudson Construction Company	1.000 LS	\$45,000.0000	\$45,000.00
	Lehman-Roberts Company		\$52,000.0000	\$52,000.00
	, ,			
712-06	SIGNS (CONSTRUCTION)			
		1,056.000 S.F.		
	Hudson Construction Company		\$5.7500	\$6,072.00
	Lehman-Roberts Company		\$7.0000	\$7,392.00
712 00 04	DEMOVARI E DAVEMENT MARVING (STOR LINE			
112-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE			
	Hudson Construction Company	100.000 L.F.	\$18.0000	\$1,800.00
	Lehman-Roberts Company		\$20.0000	\$2,000.00
	, ,		,	
				PAGE

				CONTRACT CNR925
			UNIT PRICE	EXTENSION
713-16.20	SIGNS (CHEVRONS W1-8)	40.000.51.011		
		12.000 EACH		
	Hudson Construction Company		\$160.0000	\$1,920.00
	Lehman-Roberts Company		\$171.0000	\$2,052.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		430.000 EACH		
	Hudson Construction Company		\$36.0000	\$15,480.00
	Lehman-Roberts Company		\$38.0000	\$16,340.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		75.000 S.Y.		
	Hudson Construction Company		\$22.0000	\$1,650.00
	Lehman-Roberts Company		\$24.0000	\$1,800.00
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.03	FLASTIC FAVEMENT MARKING (STOP LINE)	250.000 L.F.		
	Hudeen Construction Company	230.000 L.F.	¢15 0000	¢2.750.00
	Hudson Construction Company Lehman-Roberts Company		\$15.0000 \$16.0000	\$3,750.00 \$4,000.00
	Lenman-Noberts Company		ψ10.0000	ψ+,000.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		2.000 EACH		
	Hudson Construction Company		\$200.0000	\$400.00
	Lehman-Roberts Company		\$212.0000	\$424.00
	, ,			
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		2.000 EACH		
	Hudson Construction Company		\$520.0000	\$1,040.00
	Lehman-Roberts Company		\$555.0000	\$1,110.00
716 12 02	ENHANCED ELATINE THEDMO DVMT MOKNE (CIN LINE)			
110-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	7 COO I M		
	Hudean Construction Company	7.600 L.M.	ФГ F00 0000	¢44,000,00
	Hudson Construction Company Lehman-Roberts Company		\$5,500.0000 \$5,850.0000	\$41,800.00 \$44,460.00
	Lenman-Roberts Company		\$3,830.0000	<del>\$44</del> ,400.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		11.600 L.M.		
	Hudson Construction Company		\$2,950.0000	\$34,220.00
	Lehman-Roberts Company		\$3,125.0000	\$36,250.00
717-01	MOBILIZATION			
		1.000 LS		
	Hudson Construction Company		\$61,000.0000	\$61,000.00
			<b>MAG AGA AGAA</b>	MAA AAA AA

Lehman-Roberts Company

\$83,000.00

\$83,000.0000

	CONTRACT	CNR925
UNIT PRICE	EXTE	ENSION

ROADWAY ALTERNATE AA1 CATEGORY	UNIT PRICE	EXTENSION
403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)		
15.000 TON  Hudson Construction Company Lehman-Roberts Company	\$500.0000	\$7,500.00
414-03.01 EMULSIFIED ASPHALT FOR MICRO-SURFACING		
174.000 TON  Hudson Construction Company Lehman-Roberts Company	\$909.5800	\$158,266.92
414-03.02 AGGREGATE FOR MICRO SURFACING		
1,444.000 TON  Hudson Construction Company  Lehman-Roberts Company	\$109.6000	\$158,262.40
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
19.200 L.M. Hudson Construction Company	\$1,200.0000	\$23,040.00

Lehman-Roberts Company

				CONTRACT CNR925
ROADWA	AY ALTERNATE AA2 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		28.000 TON		
	Lehman-Roberts Company Hudson Construction Company		\$800.0000	\$22,400.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		3,836.000 TON		
	Lehman-Roberts Company Hudson Construction Company		\$105.0000	\$402,780.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		19.200 L.M.		

\$1,300.0000

\$24,960.00

Lehman-Roberts Company

Hudson Construction Company

## **SUB-TOTAL ROADWAY**

Lehman-Roberts Company	\$810,273.50
Hudson Construction Company	\$746,361.18
SUB-TOTAL ROADWAY ALTERNATE AA1	
Hudson Construction Company	\$347,069.32
SUB-TOTAL ROADWAY ALTERNATE AA2	
Lehman-Roberts Company	\$450,140.00
TOTAL CONTRACT	
Hudson Construction Company	\$1,093,430.50
Lehman-Roberts Company	\$1,260,413.50

The construction of turn lanes on U.S. 5	1 (S.R. 3) at the intersection of C	harles Place (L.M. 2.	27) and the resurfacing on	S.R. 178 from U.S.	51 (S.R. 3)
to Starnes Road					

PROJECT LENGTH -

DBE GOAL 6.00%

PROPOSAL REJECTED

No Valid Bids

## ANDERSON COUNTY (Contract No. CNR093 Call 016)

01009-4208-04, HSIP-71(35), 01009-3208-94

THE RESURFACING ON U.S. 441 (S.R. 71) FROM THE KNOX COUNTY LINE (L.M. 0.00) TO S.R. 61 (L.M. 4.91).

PROJECT LENGTH - 4.910 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Duracap Asphalt Paving Co., Inc. \$521,286.50
APAC-Atlantic, Inc. \$530,736.20
Rogers Group, Inc. \$543,806.80

UNIT PRICE

**EXTENSION** 

ROADW	AY CATEGORY		5 ·	
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		100.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$40.0000	\$4,000.00
	APAC-Atlantic, Inc.		\$69.0000	\$6,900.00
	Rogers Group, Inc.		\$28.3000	\$2,830.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		55.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$680.0000	\$37,400.00
	APAC-Atlantic, Inc.		\$400.0000	\$22,000.00
	Rogers Group, Inc.		\$625.0000	\$34,375.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		393.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$82.0000	\$32,226.00
	APAC-Atlantic, Inc.		\$120.0000	\$47,160.00
	Rogers Group, Inc.		\$89.0000	\$34,977.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		3,529.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$88.0000	\$310,552.00
	APAC-Atlantic, Inc.		\$88.0000	\$310,552.00
	Rogers Group, Inc.		\$90.0000	\$317,610.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	BIN WIDTH)		
		7.900 L.M.		
	Duracap Asphalt Paving Co., Inc.		\$1,078.0000	\$8,516.20
	APAC-Atlantic, Inc.		\$1,750.0000	\$13,825.00
	Rogers Group, Inc.		\$375.0000	\$2,962.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		4.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$2,425.0000	\$9,700.00
	APAC-Atlantic, Inc.		\$1,165.0000	\$4,660.00
	Rogers Group, Inc.		\$1,100.0000	\$4,400.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$1,430.0000	\$5,720.00
	APAC-Atlantic, Inc.		\$2,500.0000	\$10,000.00
	Rogers Group, Inc.		\$2,375.0000	\$9,500.00
706-01	GUARDRAIL REMOVED			
		200.000 L.F.		
	Duracap Asphalt Paving Co., Inc.		\$1.0000	\$200.00
	APAC-Atlantic, Inc.		\$1.0000	\$200.00
	Rogers Group, Inc.		\$1.0500	\$210.00

			C	UNIRACI CNRU93
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Duracap Asphalt Paving Co., Inc.		\$9,500.0000	\$9,500.00
	APAC-Atlantic, Inc.		\$9,500.0000	\$9,500.00
	Rogers Group, Inc.		\$20,000.0000	\$20,000.00
712-06	SIGNS (CONSTRUCTION)			
		498.000 S.F.		
	Duracap Asphalt Paving Co., Inc.		\$6.6000	\$3,286.80
	APAC-Atlantic, Inc.		\$3.9000	\$1,942.20
	Rogers Group, Inc.		\$7.6500	\$3,809.70
712-08.03	3 ARROW BOARD (TYPE C)			
		2.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$1,650.0000	\$3,300.00
	APAC-Atlantic, Inc.		\$470.0000	\$940.00
	Rogers Group, Inc.		\$870.0000	\$1,740.00
713-16.22	2 SIGNS (W11-3)			
		1.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$200.0000	\$200.00
	APAC-Atlantic, Inc.		\$120.0000	\$120.00
	Rogers Group, Inc.		\$270.0000	\$270.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		325.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$26.0000	\$8,450.00
	APAC-Atlantic, Inc.		\$26.0000	\$8,450.00
	Rogers Group, Inc.		\$25.3000	\$8,222.50
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		37.000 S.Y.		
	Duracap Asphalt Paving Co., Inc.		\$20.0000	\$740.00
	APAC-Atlantic, Inc.		\$20.0000	\$740.00
	Rogers Group, Inc.		\$19.0000	\$703.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		114.000 L.F.		
	Duracap Asphalt Paving Co., Inc.		\$13.2500	\$1,510.50
	APAC-Atlantic, Inc.		\$13.0000	\$1,482.00
	Rogers Group, Inc.		\$12.6500	\$1,442.10
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		1.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$165.0000	\$165.00
	APAC-Atlantic, Inc.		\$165.0000	\$165.00
	Rogers Group, Inc.		\$155.0000	\$155.00

				CONTRACT CNR093
			UNIT PRICE	EXTENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		5.000 L.M.		
	Duracap Asphalt Paving Co., Inc.		\$424.0000	\$2,120.00
	APAC-Atlantic, Inc.		\$420.0000	\$2,100.00
	Rogers Group, Inc.		\$400.0000	\$2,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		20.000 L.M.		
	Duracap Asphalt Paving Co., Inc.		\$3,740.0000	\$74,800.00
	APAC-Atlantic, Inc.		\$3,750.0000	\$75,000.00
	Rogers Group, Inc.		\$3,580.0000	\$71,600.00
717-01	MOBILIZATION			
		1.000 LS		
	Duracap Asphalt Paving Co., Inc.		\$8,900.0000	\$8,900.00
	APAC-Atlantic, Inc.		\$15,000.0000	\$15,000.00

\$27,000.0000

Rogers Group, Inc.

\$27,000.00

## **SUB-TOTAL ROADWAY**

Rogers Group, Inc.	\$543,806.80
APAC-Atlantic, Inc.	\$530,736.20
Duracap Asphalt Paving Co., Inc.	\$521,286.50

## TOTAL CONTRACT

Duracap Asphalt Paving Co., Inc.	\$521,286.50
APAC-Atlantic, Inc.	\$530,736.20
Rogers Group, Inc.	\$543,806.80

COUNTIES ANDERSON, BLOUNT, CAMPBELL, CARTER, CLAIBORNE, COCKE, GRAINGER, JEFFERSON, KNOX, MONROE, ROANE, SULLIVAN, UNICOI, AND WASHINGTON (Contract No. CNR120 Call 017)

98019-4173-04

THE RANDOM ON-CALL ATTENUATOR REPAIRS ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

TOTAL CONTRACT

Site-Safe Products, LLC d/b/a Site-Safe, LLC

\$592,137.30

LU, Inc.

\$717,749.90

CONTR	ACT	CNR120	1

				CONTRACT C	NR120
MAINTEN	IANCE CATEGORY		UNIT PRICE	EXTEN	SION
705-07.96	REDIRECTIVE CRASH CUSHION(REACT 350)(9 BARREL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$25,000.0000 \$31,500.0000	\$25,00 \$31,50	
705-07.97	REACT 350 II (6 BARREL) (TL-3) ATTENUATOR	1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.500 LACIT	\$28,620.0000 \$24,250.0000	\$28,62 \$24,25	
705-08.21	IMPACT ATTENUATOR (TAU-II PARALLEL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$12,500.0000 \$14,000.0000	\$12,50 \$14,00	
705-08.22	IMPACT ATTENUATOR (TAU-II WIDE)	4 000 54 011			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$25,000.0000 \$26,500.0000	\$25,00 \$26,50	
705-08.23	REPOSITIONING IMPACT ATTENUATOR (TAU-II)	4 000 54 611			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,100.0000 \$1,350.0000	\$1,10 \$1,35	
705-08.25	TAU-II ENERGY ABSORBING CARTRIDGE TYPE A (UNIVERSAL)	4 000 54 011			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$565.0000 \$600.0000		65.00 00.00
705-08.26	TAU-II ENERGY ABSORBING CARTRIDGE TYPE B (UNIVERSAL)	1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.900 LACIT	\$565.0000 \$600.0000	*	65.00 00.00
705-08.28	TAU-II FRONT SUPPORT ASSEMBLY (UNIVERSAL)	4 000 54 011			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,053.3300 \$1,000.0000	\$1,05 \$1,00	
705-08.29	TAU-II FRONT SUPPORT LEG KIT (UNIVERSAL)	4 000 54 011			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$262.0000 \$275.0000		62.00 75.00
705-08.30	TAU-II MID SUPPORT ASSEMBLY (UNIVERSAL)	4 000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	4.000 EACH	\$1,150.0000 \$1,150.0000	\$4,60 \$4,60	
				PAG	E

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-08.32	TAU-II SLIDER KIT (UNIVERSAL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$280.0000 \$300.0000	\$280.00 \$300.00
705-08.33	TAU-II SLIDING PANEL (UNIVERSAL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$304.2900 \$300.0000	\$304.29 \$300.00
705-08.34	TAU-II NOSE PIECE (PARALLEL UNIT)			
		2.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$750.0000 \$680.0000	\$1,500.00 \$1,360.00
705-08.36	TAU-II NOSE PIECE (WIDE UNIT)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$828.5700 \$750.0000	\$828.57 \$750.00
705-08.66	RIP PLATE REPAIR KIT, STAGE 1			
		5.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$475.0000 \$1,000.0000	\$2,375.00 \$5,000.00
705-08.67	RIP PLATE REPAIR KIT, STAGE 2			
	0" 0 ( D ) 1 1 10 11 ( 0" 0 ( 110	5.000 EACH	<b>#4.474.0000</b>	<b>#5.070.00</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,174.0000 \$1,000.0000	\$5,870.00 \$5,000.00
705-08.69	PLASTIC NOSE PIECE/REFLECTOR			
		6.000 EACH	<b></b>	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$407.0000 \$510.0000	\$2,442.00 \$3,060.00
70F 00 00	CIDE DANIEL 25"			
705-08.80	SIDE PANEL - 35"	3.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	0.000 =7.0	\$219.0000	\$657.00
	LU, Inc.		\$340.0000	\$1,020.00
705-08.81	SIDE PANEL - 62"			
	Otto Oofe Products III O III / Otto O / III O	4.000 EACH	<b>#0.40.000</b>	4000.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$240.0000 \$399.0000	\$960.00 \$1,596.00
	LO, IIIC.		φοσοίσσο	<b>¥</b> 1,000100

1.000 EACH

Site-Safe Products, LLC d/b/a Site-Safe, LLC

LU, Inc.

\$11,049.99

\$12,500.00

\$11,049.9900 \$12,500.0000

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-08.91	REPOSITIONING VEHCULR IMP ATTN(2005TRACC)			
		7.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,441.4600 \$1,350.0000	\$10,090.22 \$9,450.00
705-08.92	05 RIP PLATE REPAIR KIT STAGE 2			
		5.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$576.8000 \$553.0000	\$2,884.00 \$2,765.00
705-09.10	IMPACT ATTENUATOR (SCI100GM)			
	0" 0 ( B ) 1 ( 110 11/ 0" 0 ( 110	1.000 EACH	<b>#04 #00</b> 0000	<b>#</b> 04 <b>5</b> 00 00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$21,500.0000 \$26,620.0000	\$21,500.00 \$26,620.00
705-09.11	REPOSITIONING OF IMPACT ATTENUATOR (SCI100GM)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,100.0000 \$1,000.0000	\$1,100.00 \$1,000.00
705-09.35	PANEL DELINEATOR (W/REFLECTIVE HAZARD MARKER)			
	0" 0 ( D ) 1 ( 110 11/ 0" 0 ( 110	1.000 EACH	Фоод оооо	<b>#</b> 000.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$206.0000 \$128.0000	\$206.00 \$128.00
705-14.21	SC B-U CABLE STRAP ASSY			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$65.0000 \$240.0000	\$65.00 \$240.00
705-14.22	CONC. B-U CABLE STRAP ASSY			
	Cita Cafa Basadasta III O d/le/a Cita Cafa III O	1.000 EACH	<b>#</b> 400,0000	<b>#</b> 400.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$133.3300 \$345.0000	\$133.33 \$345.00
705-14.30	REPOSITIONING IMPACT ATTENUATOR(REACT 350)			
	0" 0 ( D ) 1 ( 110 11/ 0" 0 ( 110	2.000 EACH	<b>#750.000</b>	<b>#4.500.00</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$750.0000 \$1,000.0000	\$1,500.00 \$2,000.00
705-14.56	REFLECTIVE NOSE LEFT/RIGHT			
	Site Sefe Broduste 11.0 d/h/s Site Sefe 11.0	2.000 EACH	<b>#204</b> 0000	Φ <b>Ε</b> ΩΩ ΩΩ
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$291.0000 \$425.0000	\$582.00 \$850.00
705-15.65	QUADGUARD II IMPACT ATTENUATOR (REPOSITIONING)			
	0" 0 ( B ) ( 10 ) (11 ) 0" 0 ( 11 )	8.000 EACH	<b>#</b> 4.44.7000	ФО 450 O4

Site-Safe Products, LLC d/b/a Site-Safe, LLC

LU, Inc.

\$9,158.24

\$10,800.00

\$1,144.7800

\$1,350.0000

			UNIT PRICE	CONTRACT CNR120 EXTENSION
705-15.66	QUADGUARD II IMPACT ATTENUATOR (WIDE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$16,700.0000 \$25,100.0000	\$16,700.00 \$25,100.00
705-15.67	QUADGUARD II IMPACT ATTENUATOR			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	5.000 EACH	\$13,044.8200 \$14,500.0000	\$65,224.10 \$72,500.00
705-15.68	NOSE ASSEMBLY QGII STEEL			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	5.000 EACH	\$820.6800 \$1,400.0000	\$4,103.40 \$7,000.00
705-15.69	SHIM KIT QGII			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	15.000 EACH	\$55.0000 \$50.0000	\$825.00 \$750.00
705-15.71	HEX FOAM CARTRIDGE, TYPE I			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	10.000 EACH	\$830.2800 \$940.0000	\$8,302.80 \$9,400.00
705-15.72	HEX FOAM CARTRIDGE, TYPE II			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	10.000 EACH	\$872.9000 \$900.0000	\$8,729.00 \$9,000.00
705-15.74	DIAPHRAGM ASSEMBLY, QC			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$875.2000 \$1,275.0000	\$875.20 \$1,275.00
705-15.75	FENDER PANEL ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$698.0400 \$750.0000	\$1,396.08 \$1,500.00
705-15.92	TRANS PANEL NEW JERSEY BARRIER WIDE			
	0. 0 ( D ) 1 1 1 0 1 ( 0. 0 ( 1. 0 )	1.000 EACH	<b>#000 5000</b>	<b>***</b>

Site-Safe Products, LLC d/b/a Site-Safe, LLC

Site-Safe Products, LLC d/b/a Site-Safe, LLC

LU, Inc.

LU, Inc.

705-15.93 TRANS PANEL QUAD TO W WIDE

\$663.53

\$881.00

\$1,400.00

\$1,050.00

\$663.5300

\$881.0000

\$1,400.0000

\$1,050.0000

1.000 EACH

CONTRACT CNR12	0
----------------	---

				DNIKACI CNR120
			UNIT PRICE	EXTENSION
705-16.75	HAZARD REFLECTORS			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	10.000 EACH	\$73.0000 \$128.0000	\$730.00 \$1,280.00
705-16.77	REPAIR OF CONCRETE BACKUP WALL			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	15.000 S.F.	\$22.0000 \$21.0000	\$330.00 \$315.00
705-17.08	CARTRIDGE SUPPORT BRACKETS			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	4.000 EACH	\$50.0000 \$50.0000	\$200.00 \$200.00
705-17.24	HDPE NOSE PIECE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$252.0000 \$782.0000	\$504.00 \$1,564.00
705-17.32	BREAKAWAY POST (TOP)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$142.0000 \$170.0000	\$284.00 \$340.00
705-17.33	BREAKAWAY BOLT ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$18.0000 \$9.0000	\$36.00 \$18.00
705-17.35	IMPACT ATTENUATOR (HEART)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$18,000.0000 \$24,900.0000	\$18,000.00 \$24,900.00
705-17.71	WIDETRACC CABLE SYSTEM (W/ HARDWARE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$225.0000 \$475.0000	\$225.00 \$475.00
705-17.72	WIDETRACC FRAME (W/ HARDWARE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$337.0000 \$675.0000	\$337.00 \$675.00
705-17.73	WIDETRACC EXTENSION FOOT (RIGHT) (W/ HARDWARE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$325.0000 \$625.0000	\$325.00 \$625.00

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-17.74	WIDETRACC EXTENSION FOOT (LEFT) (W/ HARDWARE)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$325.0000 \$625.0000	\$325.00 \$625.00
705-17.89	HEART REFLECTIVE TAPE			
		4.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$57.0000 \$85.0000	\$228.00 \$340.00
705-17.92	REPOSITIONING IMPACT ATTENUATOR (HEART)			
		2.000 EACH	<b>4040 7000</b>	<b>***</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$319.7800 \$1,000.0000	\$639.56 \$2,000.00
705-17.93	IMPACT ATTENUATOR (WIDETRACC 2005)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$22,000.0000 \$19,000.0000	\$22,000.00 \$19,000.00
705-20.01	M10 ATTENUATOR			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$19,477.0700 \$20,000.0000	\$19,477.07 \$20,000.00
705-20.02	QUADGUARD TO M10 ATTENUATOR RETROFIT			
		3.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$9,743.0000 \$13,000.0000	\$29,229.00 \$39,000.00
705-20.03	REPOSITIONING IMPACT ATTENUATOR (M10)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,100.0000 \$1,300.0000	\$1,100.00 \$1,300.00
	LO, IIIC.		ψ1,300.0000	ψ1,300.00
705-20.04	NOSE ASSEMBLY, M10			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 EACH	\$1,182.1600	\$3,546.48
	LU, Inc.		\$1,200.0000	\$3,600.00
705-20.05	HEX FOAM CARTRIDGE, TYPE M1			
		3.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$982.2900 \$1,000.0000	\$2,946.87 \$3,000.00
	20, 110.		ψ1,000.0000	ψ5,000.00
705-20.06	HEX FOAM CARTRIDGE, TYPE M2			
		3.000 EACH		

Site-Safe Products, LLC d/b/a Site-Safe, LLC

LU, Inc.

\$3,092.94

\$3,300.00

\$1,030.9800

\$1,100.0000

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-20 30	BELT NOSEPIECE, YELLOW, 24"-36" (QGE, QGEM)			
703-20.30	BEET NOSEL IESE, TELEOW, 24 -30 (QGE, QGEM)	2.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,900.0000 \$3,093.0000	\$3,800.00 \$6,186.00
705-20.31	BELT NOSEPIECE, YELLOW, 69"-90" (QGE, QGEM)			
	Cita Cafa Draducta II C d/b/a Cita Cafa II C	2.000 EACH	<u></u>	¢4 200 00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$2,100.0000 \$3,380.0000	\$4,200.00 \$6,760.00
705-20.32	QGE HIT INDICATOR			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 EACH	\$160.0000	\$480.00
	LU, Inc.		\$247.0000	\$741.00
705-20.33	QGE CYLINDER TYPE I (QGE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 EACH	\$1,300.0000	\$3,900.00
	LU, Inc.		\$2,021.0000	\$6,063.00
705-20.34	QGE CYLINDER TYPE II (QGE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 EACH	\$950.0000	\$2,850.00
	LU, Inc.		\$2,796.0000	\$8,388.00
705-20.35	QGE CYLINDER ME1 (QGEM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 EACH	¢050 0000	¢2.950.00
	LU, Inc.		\$950.0000 \$1,559.0000	\$2,850.00 \$4,677.00
705-20.36	QGE CYLINDER ME2 (QGEM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 EACH	\$960.0000	\$2,880.00
	LU, Inc.		\$1,576.0000	\$4,728.00
705-20.37	QGE CYLINDER ME3 (QGEM)	_		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 EACH	\$2,000.0000	\$6,000.00
	LU, Inc.		\$3,110.0000	\$9,330.00
705-20.38	QGEM EXTENSION BACKUP (BACKUP DIAPHRAGM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	2.000 EACH	\$1,500.0000	\$3,000.00
	LU, Inc.		\$2,388.9000	\$4,777.80
705-20.39	QGEM EXTENSION BACKUP (DIAPHRAGM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	2.000 EACH	\$1,500.0000	\$3,000.00
	LU, Inc.		\$2,388.9000	\$4,777.80

		CONTRACT CNR120
	UNIT PRIC	
705-20.40 QUAD GUARD ELITE RETROFIT TO QG ELITE M10		
	2.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$12,500.000	
LU, Inc.	\$20,821.000	0 \$41,642.00
712-01.50 MAINTENANCE OF TRAFFIC		
712-01.30 MAINTENANCE OF TRAITIO	12.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$807.000	0 \$9,684.00
LU, Inc.	\$900.000	' '
20, 116.	ψ300.000	υ ψ10,000.00
712-01.52 MAINTENANCE OF TRAFFIC (NIGHT WORK)		
	12.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$878.500	0 \$10,542.00
LU, Inc.	\$637.000	
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD		
	20.000 DAY	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$500.000	0 \$10,000.00
LU, Inc.	\$2,000.000	0 \$40,000.00

1.000 LS

\$25,500.0000

\$25,500.0000

717-01

**MOBILIZATION** 

LU, Inc.

Site-Safe Products, LLC d/b/a Site-Safe, LLC

\$25,500.00

\$25,500.00

				CONTRACT CNR120	
MAINTEN	IANCE CONTINGENCY CATEGORY		UNIT PRICE	EXTENSION	
705-07.20	TRANSITION TO SAFETY SHAPE (2005 TRACC)	1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$633.2500 \$633.2500	\$633.25 \$633.25	
705-07.21	TRANSITION TO BARRIER WALL END CAP (2005 TRACC)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$212.5000 \$212.5000	\$212.50 \$212.50	
705-07.22	SPLIT FRAME KIT-30IN BACK-UP (2005 TRACC)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$559.3000 \$559.3000	\$559.30 \$559.30	
705-08.18	TAU-II XXXL BULKHEAD (WIDE UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,500.0000	\$1,500.00	
	LU, Inc.		\$1,500.0000	\$1,500.00	
705-08.19	TAU-II XXXXL BULKHEAD (WIDE UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,000.0000 \$2,000.0000	\$2,000.00 \$2,000.00	
705-08.24	TAU-II CABLE GUIDE KIT (UNIVERSAL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$500.0000 \$500.0000	\$500.00 \$500.00	
705-08.27	TAU-II END PANEL (UNIVERSAL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$275.0000 \$275.0000	\$275.00 \$275.00	
705-08.31	TAU-II PIPE PANEL MOUNT (UNIVERSAL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$120.0000 \$120.0000	\$120.00 \$120.00	
705-08.35	TAU-II PCB BACKSTOP (PARALLEL UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$800.0000 \$800.0000	\$800.00 \$800.00	
705-08.37	TAU-II WIDE SUPPORT LEG ADAPTER (WIDE UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$200.0000 \$200.0000	\$200.00 \$200.00	
				PAGE 1	0

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-08.38	TAU-II WING ASSEMBLY (WIDE UNIT)			
	(,	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$400.0000 \$400.0000	\$400.00 \$400.00
705-08.39	TAU-II WING BRACE (WIDE UNIT)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$50.0000 \$50.0000	\$50.00 \$50.00
705-08.40	TAU-II XL BULKHEAD (WIDE UNIT)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$600.0000 \$600.0000	\$600.00 \$600.00
705-08.41	TAU-II XXL BULKHEAD (WIDE UNIT)			
		1.000 EACH		_
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,100.0000 \$1,100.0000	\$1,100.00 \$1,100.00
			, , , , , , , , , , , , , , , , , , , ,	, ,
705-08.52	QUADGUARD MONORAIL ASSEMBLY, 3 BAY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,275.0000	\$1,275.00
	LU, Inc.		\$1,275.0000	\$1,275.00
705-08.68	RIP PLATE REPAIR KIT, STAGE 3			
700 00.00	THE PERSON AND THE PE	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,620.2500	\$1,620.25
	LU, Inc.		\$1,620.2500	\$1,620.25
705-08.74	BASE ASSEMBLY - 9'			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$833.0000 \$833.0000	\$833.00 \$833.00
	20,		φοσ.σσσ	φοσο.σσ
705-08.76	BEAM GUIDE - 20'			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$636.6500	\$636.65
	LU, Inc.		\$636.6500	\$636.65
705 00 77	END SHOE (LEFT OR RIGHT)			
703-00.77	END SHOE (EEPT OK RIGHT)	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$238.0000	\$238.00
	LU, Inc.		\$238.0000	\$238.00
705-08.84	SLOT PLATE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$20.8500 \$20.8500	\$20.85 \$20.85
	20, 110.		Ψ20.0000	Ψ20.00

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-08.85	CROSSTIE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$109.6500 \$109.6500	\$109.65 \$109.65
705 00 00			·	
705-08.86	FORM CHANNEL - 3 X 2	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$187.0000	\$187.00
	LU, Inc.		\$187.0000	\$187.00
705-08.88	SLED/CUTTER ASSEMBLY	4 000 54 011		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$2,465.0000	\$2,465.00
	LU, Inc.		\$2,465.0000	\$2,465.00
705-08.93	05 RIP PLATE REPAIR KIT STAGE 3			
	0" 0 ( D ) 1 ( D ) 1 ( D )	1.000 EACH	<b>M4.440.4500</b>	04.440.45
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,119.4500 \$1,119.4500	\$1,119.45 \$1,119.45
705-08.94	05 FRONT ANCH WELDMENT			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$410.0000 \$410.0000	\$410.00 \$410.00
			•	,
705-08.95	05 SECTION MODULE	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,415.0000	\$1,415.00
	LU, Inc.		\$1,415.0000	\$1,415.00
705-08.97	05 SLED/SHREDDER ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$2,465.0000	\$2,465.00
	LU, Inc.		\$2,465.0000	\$2,465.00
705-08.98	05 FRAME WELDMENT			
	0" 0 ( D ) 1 ( D ) 1 ( D )	1.000 EACH	<b>#</b> 040.0500	<b>#040.05</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$310.2500 \$310.2500	\$310.25 \$310.25
705-08.99	05 BACK-UP FRAME			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$473.4500 \$473.4500	\$473.45 \$473.45
			ψ 17 0.7000	ψ 17 0.70
705-09.12	CONCRETE ANCHOR BOLT SET (3/4 IN X 7 IN)	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 LACII	\$306.0000	\$306.00
	LU, Inc.		\$306.0000	\$306.00

705-09.13 ASPHALT ANCHOR BOLT SET (3/4 IN X 18 IN)  Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.  705-09.14 BOLT CABLE ADJUSTER  Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.  1.000 EACH  Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.  \$120.0000 \$120.	00 00 00 00 00
1.000 EACH  Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.  \$871.0000 \$871. \$871.0000 \$871. \$871.0000 \$871.  T05-09.14 BOLT CABLE ADJUSTER  1.000 EACH Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc. \$120.0000 \$120.	00 00 00
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc. \$871.0000 \$871.0000 \$871.0000 \$871.0000 \$871.00000 \$871.00000 \$871.000000 \$871.000000 \$871.000000 \$120.0000 \$120	00 00 00
LU, Inc. \$871.0000 \$871.  705-09.14 BOLT CABLE ADJUSTER  1.000 EACH  Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc. \$120.0000 \$120.  705-09.15 BOLT SLED SIDE PANEL  1.000 EACH  Site-Safe Products, LLC d/b/a Site-Safe, LLC  \$6.0000 \$6.	00 00 00
705-09.14 BOLT CABLE ADJUSTER  1.000 EACH  Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.  \$120.0000 \$120.	00 00
1.000 EACH  Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.  \$120.0000 \$120.	00
Site-Safe Products, LLC d/b/a Site-Safe, LLC       \$120.0000       \$120.0000         LU, Inc.         705-09.15 BOLT SLED SIDE PANEL         1.000 EACH         Site-Safe Products, LLC d/b/a Site-Safe, LLC         \$6.0000       \$6.0000	00
LU, Inc. \$120.0000 \$120.0000  705-09.15 BOLT SLED SIDE PANEL  1.000 EACH  Site-Safe Products, LLC d/b/a Site-Safe, LLC \$6.0000 \$6.0000	00
1.000 EACH Site-Safe Products, LLC d/b/a Site-Safe, LLC \$6.0000 \$6.	
1.000 EACH Site-Safe Products, LLC d/b/a Site-Safe, LLC \$6.0000 \$6.	
Site-Safe Products, LLC d/b/a Site-Safe, LLC \$6.0000 \$6.	
LU, Inc. \$6.0000 \$6.	00
705-09.16 BOLT FRONT STOP	
1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC  LU, Inc.  \$3.0000 \$3.  \$3.0000 \$3.	
£0, mc. \$5.000 \$5.	50
705-09.17 BOLT SHEAR	
1.000 EACH Site-Safe Products, LLC d/b/a Site-Safe, LLC \$1.5000 \$1.	50
LU, Inc. \$1.5000 \$1.	
705-09.18 BOLT SIDE GUIDE	
1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC \$20.0000 \$20.	
LU, Inc. \$20.0000 \$20.	00
705-09.19 BOLT TERMINAL BRACE	
1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC  LU, Inc.  \$9.0000 \$9.	
705-09.20 BRACE TERMINAL 1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC \$414.0000 \$414.0000	00
LU, Inc. \$414.0000 \$414.	00
705-09.21 CABLE WIRE ROPE W/ SPELTER SOCKET	
1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC \$1,083.0000 \$1,083.	
LU, Inc. \$1,083.0000 \$1,083.	JU
705-09.22 CLIP WIRE ROPE	
1.000 EACH Site-Safe Products, LLC d/b/a Site-Safe, LLC \$34.0000 \$34.0000	
LU, Inc. \$34.0000 \$34.	വ

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705 00 02	CVI INDED SHOCK ADDESTING			
705-09.23	CYLINDER SHOCK ARRESTING	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	NOO EAGN	\$3,143.0000 \$3,143.0000	\$3,143.00 \$3,143.00
705-09.24	STRAP CYLINDER			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$89.0000 \$89.0000	\$89.00 \$89.00
705-09.25	FRAME MOBILE #1			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.26	FRAME MOBILE #2			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000	\$414.00
	LU, Inc.		\$414.0000	\$414.00
705-09.27	FRAME MOBILE #3			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
	20, 110.		ψ+1+.0000	ψ+1+.00
705-09.28	FRAME MOBILE #4			
		1.000 EACH		****
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
	25, 116.		<b>\$11.13000</b>	ψ11σσ
705-09.29	FRAME MOBILE #5			
	Cita Cafa Dandunta 11.0 d/k/a Cita Cafa 11.0	1.000 EACH	<b>#</b> 444.0000	<b>#</b> 444.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.30	FRAME MOBILE #6			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$414.0000	\$414.00
	LU, Inc.		\$414.0000	\$414.00
705-09.31	GUIDE SIDE	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$94.0000	\$94.00
	LU, Inc.		\$94.0000	\$94.00
705-00-22	KEEPER SIDE #1 (SLED PANEL)			
103-03.32	NEEL EN SIDE #1 (SEED FAMEL)	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$23.0000	\$23.00
	LU, Inc.		\$23.0000	\$23.00

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-09.33	KEEPER SIDE #2 (SIDE PANEL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$23.0000 \$23.0000	\$23.00 \$23.00
705-09.34	KEEPER SIDE #3 (REAR PANEL)			
	,	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$23.0000 \$23.0000	\$23.00 \$23.00
705-09.36	PANEL SIDE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$223.0000 \$223.0000	\$223.00 \$223.00
705-09.37	PANEL SLED			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.38	PANEL REAR			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$206.0000 \$206.0000	\$206.00 \$206.00
705-09.39	SHEAVE (PULLEY)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$103.0000 \$103.0000	\$103.00 \$103.00
705-09.40	SLED			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,917.0000 \$1,917.0000	\$1,917.00 \$1,917.00
705-09.41	TRANSITION JERSEY BARRIER RIGHT			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,263.0000 \$1,263.0000	\$1,263.00 \$1,263.00
	20, 110.		ψ1,200.0000	ψ1,200.00
705-09.42	TRANSITION JERSEY BARRIER LEFT			
	Sita Safa Braduata II C d/b/a Sita Safa II C	1.000 EACH	¢1 363 0000	\$1.262.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,263.0000 \$1,263.0000	\$1,263.00 \$1,263.00
705-09.43	TRANSITION 24IN CONCRETE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$794.0000 \$794.0000	\$794.00 \$794.00

			CONTRACT CNR120
		UNIT PRICE	EXTENSION
705-09.44 B	OOT CYLINDER		
		1.000 EACH	
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$57.0000 \$57.0000	\$57.00 \$57.00
705-14.31 C	YLINDER 0.8" CYLINDERS 1 & 2		
		1.000 EACH	
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
705-14.32 C	YLINDER 0.9" CYLINDERS 3 & 4		
0.		1.000 EACH	<b>#0.400.00</b>
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
705-14.33 C	YLINDER 1.0" CYLINDERS 5 & 6		
0.		1.000 EACH	<b>#0.400.00</b>
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
705-14.34 C	YLINDER 1.108" CYLINDER 7		
_		1.000 EACH	
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
705-14.35 C	YLINDER 1.385" CYLINDERS 8 & 9		
0.		1.000 EACH	<b>#0.400.00</b>
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
705-14.36 U	-BOLTS (1/2" X 3")		
_		1.000 EACH	
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$12.0000 \$12.0000	\$12.00 \$12.00
705-14.37 U	-BOLTS (3/8" X 3")		
		1.000 EACH	
	ite-Safe Products, LLC d/b/a Site-Safe, LLC	\$12.0000	\$12.00
L	U, Inc.	\$12.0000	\$12.00
705-14.38 B	OX BEAM (8" X 6" X 3/16")	1.000 EACH	
Si	ite-Safe Products, LLC d/b/a Site-Safe, LLC	\$35.0000	\$35.00
	U, Inc.	\$35.0000	\$35.00
705-14.50 C	YLINDER RETAINER (1' 3" X 5")		
C	ita Safa Braducta II C d/b/a Sita Safa II C	1.000 EACH	<b>ድ</b> ድስ ስለ
	ite-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.	\$60.0000 \$60.0000	\$60.00 \$60.00
		,	·

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
70E 14 E1	EDONIT ANICHOD DIN (4/4" V 4 4/9" V 2")			
705-14.51	FRONT ANCHOR PIN (1/4" X 1 1/2" X 3")	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 E/(011	\$23.0000	\$23.00
	LU, Inc.		\$23.0000	\$23.00
705-14.53	1/2" GALVANIZED CHAIN WITH HARDWARE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$82.0000	\$82.00
	LU, Inc.		\$82.0000	\$82.00
705-14.54	POLYVINYL COVER			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$71.0000	\$71.00
	LU, Inc.		\$71.0000	\$71.00
705-14.55	ANCHOR BOLT SET (CONCRETE/ASPHALT)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$895.0000 \$895.0000	\$895.00 \$895.00
	LO, IIIC.		φ893.0000	φο93.00
705-14.57	BACKUP SINGLE CABLE-(4 BARREL)			
		1.000 EACH		****
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$660.0000 \$660.0000	\$660.00 \$660.00
			,	******
705-14.58	BACKUP SINGLE CABLE-(6 BARREL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$840.0000	\$840.00
	LU, Inc.		\$840.0000	\$840.00
705-14.59	BACKUP SINGLE CABLE-(9 BARREL)	4 000 5 4 011		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,050.0000	\$1,050.00
	LU, Inc.		\$1,050.0000	\$1,050.00
705-14 60	CABLE SYSTEM FOR SIDE MOUNT-(4 BARREL)			
703-14.00	CABLE STOTEM FOR SIDE MODIVI-(4 BARKEL)	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,975.0000	\$1,975.00
	LU, Inc.		\$1,975.0000	\$1,975.00
705-14.61	CABLE SYSTEM FOR SIDE MOUNT-(6 BARREL)			
	, ,	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,415.0000	\$2,415.00
	LU, Inc.		\$2,415.0000	\$2,415.00
705-14.62	CABLE SYSTEM FOR SIDE MOUNT-(9 BARREL)			
		1.000 EACH	_	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$2,690.0000 \$2,690.0000	\$2,690.00 \$2,690.00
			Ψ2,000.0000	Ψ2,000.00

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-14.63	BOTTOM CABLE-(4 BARREL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$550.0000 \$550.0000	\$550.00 \$550.00
705-14.64	BOTTOM CABLE-(6 BARREL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$580.0000 \$580.0000	\$580.00 \$580.00
705-14.65	BOTTOM CABLE-(9 BARREL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,407.0000 \$1,407.0000	\$1,407.00 \$1,407.00
705-14.66	SIDE MNT ANCHR/CABLE ANCHR CVR PLT			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$770.0000 \$770.0000	\$770.00 \$770.00
705-14.67	PULLOUT BRACKET ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$91.3500 \$91.3500	\$91.35 \$91.35
705-14.68	3IN X 3IN TUBING			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$72.0000 \$72.0000	\$72.00 \$72.00
705-14.69	GALVANIZED STABALIZER BAR			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$190.0000 \$190.0000	\$190.00 \$190.00
705-14.70	TRANSITION PLATE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$490.0000 \$490.0000	\$490.00 \$490.00
705-14.71	TOP CABLE (OLD UNIT)-(4 BARREL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$560.0000 \$560.0000	\$560.00 \$560.00
705-14.72	TOP CABLE (OLD UNIT)-(6 BARREL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$609.0000 \$609.0000	\$609.00 \$609.00

				CONTRACT CNR120
			UNIT PRICE	EXTENSION
705-14.73	TOP CABLE (OLD UNIT)-(9 BARREL)			
	, (0.1.1.1)	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$955.0000 \$955.0000	\$955.00 \$955.00
705-15.77	BACKUP ASSEMBLY, TENSION STRUT	4 000 54 011		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
705-15.79	MONORAIL ASSEMBLY, 4-6 BAY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,850.0000 \$2,850.0000	\$2,850.00 \$2,850.00
705-15.80	MONORAIL ASSEMBLY, 7-9 BAY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,950.0000 \$2,950.0000	\$2,950.00 \$2,950.00
705-15.82	TRANSITION PANEL, NEW JERSEY BARRIER			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$638.0000 \$638.0000	\$638.00 \$638.00
705-15.83	TRANSITION PANEL, QUAD TO W			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$930.0000 \$930.0000	\$930.00 \$930.00
705-15.84	DIAPHRAGM ASSEMBLY, WIDE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,260.0000 \$1,260.0000	\$1,260.00 \$1,260.00
705-15.85	BACKUP ASSEMBLY, TENSION STRUT, WIDE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,425.0000 \$2,425.0000	\$2,425.00 \$2,425.00
705-15.87	BACKUP ASSEMBLY, CONCRETE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 C.Y.	\$1,230.0000 \$1,230.0000	\$1,230.00 \$1,230.00
705-15.88	END SHOE, CONCRETE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 C.Y.	\$370.0000 \$370.0000	\$370.00 \$370.00

			C	CONTRACT CNR120
			UNIT PRICE	EXTENSION
70E 4E 90	DACKLID ASSEMBLY CONCRETE WIDE			
705-15.89	BACKUP ASSEMBLY, CONCRETE, WIDE	1.000 C.Y.		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.500 0.11	\$1,423.0000 \$1,423.0000	\$1,423.00 \$1,423.00
705-15.90	EXTENSION PANEL			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$330.0000 \$330.0000	\$330.00 \$330.00
705-15.91	PIVOT SUPPORT BRACKET			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$85.0000 \$85.0000	\$85.00 \$85.00
705-17.18	CBL 3/4 X 6FT6IN /DLB SWG/NOHWI			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$113.5000 \$113.5000	\$113.50 \$113.50
705-17.19	CBL 3/4 X 19FT7IN /SNG SWG			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$209.0000 \$209.0000	\$209.00 \$209.00
705-17.20	DIAPHRAGM #1			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$456.0000 \$456.0000	\$456.00 \$456.00
705-17.21	DIAPHRAGM #2			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$505.7500 \$505.7500	\$505.75 \$505.75
705-17.23	DIAPHRAGM #10			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$352.7500 \$352.7500	\$352.75 \$352.75
705-17.25	HDPE FRONT PANEL			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$977.5000 \$977.5000	\$977.50 \$977.50
705-17.26	HDPE MIDDLE PANEL			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$980.0000 \$980.0000	\$980.00 \$980.00

			CONTRACT CNR120
		UNIT PRICE	EXTENSION
705-17.27 HDPE	REAR PANEL		
		1.000 EACH	
Site-S LU, In	Safe Products, LLC d/b/a Site-Safe, LLC nc.	\$985.0000 \$985.0000	\$985.00 \$985.00
705-17.28 COMP	PLETE BASE UNIT		
		1.000 EACH	
Site-S LU, In	Safe Products, LLC d/b/a Site-Safe, LLC nc.	\$2,195.0000 \$2,195.0000	\$2,195.00 \$2,195.00
705-17.29 PLATI	E WASHER 5/16IN X 2IN X 1FT2IN		
		1.000 EACH	
Site-S LU, In	Safe Products, LLC d/b/a Site-Safe, LLC nc.	\$20.0000 \$20.0000	\$20.00 \$20.00
705-17.30 BACK	C-UP POST		
		1.000 EACH	
Site-S LU, In	Safe Products, LLC d/b/a Site-Safe, LLC	\$952.0000 \$952.0000	\$952.00 \$952.00
705-17.31 FRON	IT BASEPLATE / POST ASSEMBLY		
Site-S	Safe Products, LLC d/b/a Site-Safe, LLC	<b>1.000 EACH</b> \$539.7500	\$539.75
LU, In		\$539.7500	\$539.75
705-17.36 TRAN	ISITION TO SAFETY SHAPE		
		1.000 EACH	
	Safe Products, LLC d/b/a Site-Safe, LLC	\$1,349.0000	\$1,349.00
LU, In	nc.	\$1,349.0000	\$1,349.00
705-17.37 TRAN	ISITION TO BARRIER WALL (END CAP)		
		1.000 EACH	
Site-S LU, In	Safe Products, LLC d/b/a Site-Safe, LLC	\$701.2500 \$701.2500	\$701.25 \$701.25
LO, III	IC.	\$701.2300	\$701.23
705-17.40 WIDE	TRACC LONG WING POST		
0:4- 0	2-fa Dandarda 11.0 d/h/a 0'ta 0-fa 11.0	1.000 EACH	<b>#074.00</b>
Site-S LU, In	Safe Products, LLC d/b/a Site-Safe, LLC	\$374.0000 \$374.0000	\$374.00 \$374.00
,		·	·
705-17.41 WIDE	TRACC SHORT WING POST		
Sito S	Safe Products, LLC d/b/a Site-Safe, LLC	<b>1.000 EACH</b> \$306.0000	\$306.00
LU, In		\$306.0000	\$306.00
705-17.42 WIDE	TRACC EXT CHANNEL		
		1.000 EACH	
	Safe Products, LLC d/b/a Site-Safe, LLC	\$743.7500	\$743.75
LU, In	nc.	\$743.7500	\$743.75

				CONTRACT	CNR120
			UNIT PRICE	EXTE	NSION
705-17.43	WIDETRACC PANEL				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$348.5000	\$3	348.50
	LU, Inc.		\$348.5000	\$3	348.50
705-17.90	HEART REPAIR DPHM-L WR BKT				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$102.8500	\$1	102.85
	LU, Inc.		\$102.8500	\$1	102.85
705-17.91	HEART CRS-RPR DPH 3-9				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$412.2500	\$4	112.25

LU, Inc.

\$412.25

\$412.2500

### **SUB-TOTAL MAINTENANCE**

LU, Inc. Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$623,305.60 \$497,693.00
SUB-TOTAL MAINTENANCE CONTINGENCY	
LU, Inc.	\$94,444.30
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$94,444.30
TOTAL CONTRACT	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$592,137.30
LU, Inc.	\$717,749.90

COUNTIES ANDERSON, BLOUNT, CAMPBELL, CARTER, CLAIBORNE, COCKE, GRAINGER, GREENE, HAMBLEN, HANCOCK, HAWKINS, JEFFERSON, JOHNSON, KNOX, LOUDON, MONROE, MORGAN, ROANE, SCOTT, SEVIER, SULLIVAN, UNICOI, UNION, AND WASHINGTON (Contract No. CNR121 Call 018)

98019-4174-04

THE ON-CALL GUARDRAIL REPAIR AND NEW GUARDRAIL INSTALLATION ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

**TOTAL CONTRACT** 

Tennessee Guardrail, Inc.

\$3,471,378.25

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNR121 EXTENSION
705-01.01 GUARDRAIL AT BRIDGE ENDS			
Tennessee Guardrail, Inc.	270.000 L.F.	\$44.5000	\$12,015.00
705-01.02 GUARDRAIL AT BRIDGE PIERS			
Tennessee Guardrail, Inc.	21.000 L.F.	\$5.0000	\$105.00
705-01.04 METAL BEAM GUARD FENCE			
Tennessee Guardrail, Inc.	180.000 L.F.	\$51.0000	\$9,180.00
705-02.01 SINGLE GUARDRAIL, WITH RUB-RAIL (TYPE 2)			
Tennessee Guardrail, Inc.	125.000 L.F.	\$18.2500	\$2,281.25
705-02.02 SINGLE GUARDRAIL (TYPE 2)	05.000.000   5		
Tennessee Guardrail, Inc.	25,000.000 L.F.	\$15.0000	\$375,000.00
705-02.20 SINGLE GUARDRAIL (TYPE 2) LONG POST (6 FT-9 FT)	40,000,000   5		
Tennessee Guardrail, Inc.	18,900.000 L.F.	\$21.0000	\$396,900.00
705-02.25 SINGLE GUARDRAIL (TYPE 2) LONG POST (9 FT-12 FT)	475.000   5		
Tennessee Guardrail, Inc.	475.000 L.F.	\$17.5000	\$8,312.50
705-03.01 MEDIAN DIVIDER GUARDRAIL, WITH RUB-RAIL (TYPE 2)	50.000   5		
Tennessee Guardrail, Inc.	50.000 L.F.	\$5.0000	\$250.00
705-03.02 MEDIAN DIVIDER GUARDRAIL (TYPE 2)	25.000   5		
Tennessee Guardrail, Inc.	25.000 L.F.	\$10.0000	\$250.00
705-03.03 MEDIAN DIVIDER GUARDRAIL (TYPE 2) (27" MT HT)	FF0 000 L F		
Tennessee Guardrail, Inc.	550.000 L.F.	\$10.0000	\$5,500.00
705-03.04 MEDIAN DIVIDER GUARDRAIL AT CONCRETE BARRIER	25,000   5		
Tennessee Guardrail, Inc.	25.000 L.F.	\$10.0000	\$250.00

2.000 EACH

705-04.02 GUARDRAIL TERMINAL (TYPE 12)

Tennessee Guardrail, Inc.

\$100.00

\$50.0000

			UNIT PRICE	CONTRACT CNR121 EXTENSION
705-04.03	GUARDRAIL TERMINAL (TYPE 13)			
	Tennessee Guardrail, Inc.	12.000 EACH	\$380.0000	\$4,560.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
	Tennessee Guardrail, Inc.	16.000 EACH	\$355.0000	\$5,680.00
705-04.11	STONE FOR GUARDRAIL END TERMINAL PAD			
	Tennessee Guardrail, Inc.	320.000 TON	\$28.0000	\$8,960.00
705-04.29	C-A-T CRASH CUSHION ATTENUATING TERMINAL			
	Tennessee Guardrail, Inc.	6.000 EACH	\$4,000.0000	\$24,000.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
	Tennessee Guardrail, Inc.	250.000 L.F.	\$15.0000	\$3,750.00
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL3	40.000 = 4.011		
	Tennessee Guardrail, Inc.	10.000 EACH	\$625.0000	\$6,250.00
705-06.11	GR TERMINAL (IN-INLINE) MASH TL3	40.000 = 4.011		
	Tennessee Guardrail, Inc.	10.000 EACH	\$380.0000	\$3,800.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Tennessee Guardrail, Inc.	1,019.000 EACH	\$2,170.0000	\$2,211,230.00
705-06.30	GR TERMINAL (TYPE 21) MASH TL2			
	Tennessee Guardrail, Inc.	10.000 EACH	\$1,600.0000	\$16,000.00
705-10.30	GUARDRAIL ATTACHMENT TO SLOPE FACE ENDPOST			
	Tennessee Guardrail, Inc.	61.000 L.F.	\$75.0000	\$4,575.00
705-10.31	GUARDRAIL ATTACHMENT TO VERTICAL FACE ENDPOST			
	Tennessee Guardrail, Inc.	26.000 L.F.	\$50.0000	\$1,300.00
705-10.32	GUARDRAIL ATTACHMENT TO EXISTING BRIDGE PIER PRO			
	Tennessee Guardrail, Inc.	2.000 EACH	\$50.0000	\$100.00

CONTRACT CNR12	1
----------------	---

				CONTRACT CNR121
			UNIT PRICE	EXTENSION
705-11.01	GUARDRAIL AT BRIDGE ENDS (POWDER COATED)			
	Tennessee Guardrail, Inc.	40.000 L.F.	\$10.0000	\$400.00
705-11.03	SINGLE GUARDRAIL (TYPE 2) (POWDER COATED)			
	Tennessee Guardrail, Inc.	220.000 L.F.	\$32.0000	\$7,040.00
705-11.08	GUARDRAIL TERMINAL (TYPE 13) (POWDER COATED)	0.000 54.00		
	Tennessee Guardrail, Inc.	2.000 EACH	\$50.0000	\$100.00
706-01	GUARDRAIL REMOVED			
	Tennessee Guardrail, Inc.	900.000 L.F.	\$0.7500	\$675.00
706-02.21	RESET SINGLE GUARDRAIL (TYPE 2)			
	Tennessee Guardrail, Inc.	900.000 L.F.	\$0.7500	\$675.00
706-03.01	POSTS FURNISHED			
	Tennessee Guardrail, Inc.	60.000 EACH	\$120.0000	\$7,200.00
706-06.02	MEDIAN DIVIDER THRIE RAIL (TYPE 2)			
	Tennessee Guardrail, Inc.	21.000 L.F.	\$10.0000	\$210.00
706-06.03	RADIUS RAIL			
	Tennessee Guardrail, Inc.	2,075.000 L.F.	\$21.7500	\$45,131.25
706-06.05	RADIUS RAIL LONG POST (6-9 FT)			
	Tennessee Guardrail, Inc.	900.000 L.F.	\$25.0000	\$22,500.00
706-06.06	RADIUS RAIL LONG POST (9-12 FT)			
	Tennessee Guardrail, Inc.	50.000 L.F.	\$17.0000	\$850.00
706-10.26	ROUNDED END ELEMENT			
	Tennessee Guardrail, Inc.	99.000 EACH	\$47.5000	\$4,702.50
706-10.54	RE-ALIGN GUARDRAIL			
	Tennessee Guardrail, Inc.	4,500.000 L.F.	\$1.0000	\$4,500.00

			UNIT PRICE	CONTRACT CNR121 EXTENSION
706-10.56 E	BUFFER ENDS 88"			
Т	Fennessee Guardrail, Inc.	5.000 EACH	\$10.0000	\$50.00
706-10.71 H	HAZARD MARKERS			
Т	Fennessee Guardrail, Inc.	6.000 EACH	\$5.0000	\$30.00
706-10.72 F	PULL AND REINSTALL GUARDARAIL POST FOR VERIFICATION			
Т	Fennessee Guardrail, Inc.	16.000 EACH	\$12.0000	\$192.00
706-10.74	CONCRETE BARRIER WALL REPAIR			
Т	Fennessee Guardrail, Inc.	6.000 C.Y.	\$3,000.0000	\$18,000.00
706-10.80 N	MICHIGAN AND MODIFIED MICHIGAN END SHOE			
Т	Fennessee Guardrail, Inc.	16.000 EACH	\$60.0000	\$960.00
706-10.81	GUARDRAIL REFLECTORS			
Т	Fennessee Guardrail, Inc.	45.000 EACH	\$4.7500	\$213.75
706-10.82	CONCRETE BRIDGE END OR PIER PROTECTION REPAIR			
Т	Fennessee Guardrail, Inc.	3.000 C.Y.	\$2,000.0000	\$6,000.00
706-10.83 E	DRILL BR. PAR. WALL FOR MICHIGAN END SHOE			
Т	Fennessee Guardrail, Inc.	18.000 EACH	\$300.0000	\$5,400.00
712-01.02 L	LANE CLOSURE			
Т	Fennessee Guardrail, Inc.	684.000 EACH	\$300.0000	\$205,200.00
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
Т	Fennessee Guardrail, Inc.	50.000 DAY	\$300.0000	\$15,000.00
717-01 N	MOBILIZATION			
ד	Fennessee Guardrail, Inc.	1.000 LS	\$7,500.0000	\$7,500.00
717-01.04 N	MOBILIZATION (EMERGENCY CALL-OUT)			
T	Fennessee Guardrail, Inc.	25.000 EACH	\$500.0000	\$12,500.00

CONTRACT CNR121

UNIT PRICE EXTENSION

705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN

500.000 EACH

Tennessee Guardrail, Inc. \$12.0000 \$6,000.00

## **SUB-TOTAL MAINTENANCE**

Tennessee Guardrail, Inc. \$3,471,378.25

## **TOTAL CONTRACT**

Tennessee Guardrail, Inc. \$3,471,378.25

#### BEDFORD COUNTY (Contract No. CNR107 Call 019)

02004-4216-04,02042-4205-04,HSIP-16(55),02004-3216-94,HSIP-270(13),02042-3205-94

THE RESURFACING ON U.S. 41A (S.R. 16) FROM WEST OF S.R. 270 TO EAST OF HUMMINGBIRD LANE AND ON S.R. 270 FROM THE MARSHALL COUNTY LINE TO U.S. 41A.

PROJECT LENGTH - 12.080 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Wright Paving Contractors, Inc.

\$1,494,316.58

Tennessee Valley Paving Co., Inc.

\$1,982,996.75

	CONTRACT	CNR107
:	EXTE	ENSION

	UNIT PRICE	EXTE
POADWAY CATEGORY	5141111102	

		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY		
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	150.000 TON	*	<b>.</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.	\$31.8500 \$36.2500	\$4,777.50 \$5,437.50
	Termessee valley I aving Co., Inc.	ψ30.2300	ψυ,407.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	1,585.000 TON		
	Wright Paving Contractors, Inc.	\$74.8300	\$118,605.55
	Tennessee Valley Paving Co., Inc.	\$85.0000	\$134,725.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
403-01	70.000 TON		
	Wright Paving Contractors, Inc.	\$529.0200	\$37,031.40
	Tennessee Valley Paving Co., Inc.	\$700.0000	\$49,000.00
403-05.01	BITUMINOUS MATERIAL (FOG SEAL) SHOULDER		
	20.000 TON	<b>#</b> 000 <b>#</b> 000	<b>*</b> 40.404.00
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.	\$809.7000 \$1,500.0000	\$16,194.00 \$30,000.00
	Termessee valley I aving Oo., Inc.	ψ1,500.0000	ψ30,000.00
411-01.10	ACS MIX(PG64-22) GRADING D		
	7,244.000 TON		
	Wright Paving Contractors, Inc.	\$77.0000	\$557,788.00
	Tennessee Valley Paving Co., Inc.	\$92.0000	\$666,448.00
<i>∆</i> 11₌03 12	ACS MIX(PG64-22) THIN LIFT D ASPHALT		
411-03.12	3,615.000 TON		
	Wright Paving Contractors, Inc.	\$80.3800	\$290,573.70
	Tennessee Valley Paving Co., Inc.	\$93.0000	\$336,195.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
	9.100 L.M.	<b>#470.000</b>	Φ4 044 F0
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.	\$473.8000 \$2,200.0000	\$4,311.58 \$20,020.00
		Ψ=,=00.0000	420,020.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
	10.300 L.M.		
	Wright Paving Contractors, Inc.	\$457.6000	\$4,713.28
	Tennessee Valley Paving Co., Inc.	\$2,200.0000	\$22,660.00
415-01-01	COLD PLANING BITUMINOUS PAVEMENT		
	4,242.000 TON		
	Wright Paving Contractors, Inc.	\$19.1500	\$81,234.30
	Tennessee Valley Paving Co., Inc.	\$23.7500	\$100,747.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT		
	5,481.000 S.Y.	Ф0,0000	<b>#40 440 00</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.	\$3.0000 \$23.7500	\$16,443.00 \$130,173.75
	Termessee valley I avilly Co., Inc.	φ23.7300	ψ100,173.73

				CONTRACT CNR107
			UNIT PRICE	EXTENSION
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
. 00 02.02		3,526.000 L.F.		
	Wright Paving Contractors, Inc.		\$17.0400	\$60,083.04
	Tennessee Valley Paving Co., Inc.		\$22.5000	\$79,335.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
		1.000 EACH		
	Wright Paving Contractors, Inc.		\$638.9600	\$638.96 \$650.00
	Tennessee Valley Paving Co., Inc.		\$650.0000	\$650.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		6.000 EACH	** ***	<b></b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$2,502.6100 \$3,000.0000	\$15,015.66 \$18,000.00
	3 · · · · · · · · · · · · · · · · · · ·		<b>,</b> , , , , , , , , , , , , , , , , , ,	¥ -,
706-01	GUARDRAIL REMOVED			
	Wright Paving Contractors, Inc.	3,876.000 L.F.	\$0.5300	\$2,054.28
	Tennessee Valley Paving Co., Inc.		\$7.5000	\$29,070.00
706-06.03	RADIUS RAIL	25 000 L E		
	Wright Paving Contractors, Inc.	25.000 L.F.	\$27.4200	\$685.50
	Tennessee Valley Paving Co., Inc.		\$36.0000	\$900.00
712-01	TRAFFIC CONTROL			
712-01	TRAFFIC CONTROL	1.000 LS		
	Wright Paving Contractors, Inc.		\$20,936.5000	\$20,936.50
	Tennessee Valley Paving Co., Inc.		\$17,500.0000	\$17,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	50.000 EACH		
	Wright Paving Contractors, Inc.		\$18.6000	\$930.00
	Tennessee Valley Paving Co., Inc.		\$50.0000	\$2,500.00
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Wright Paving Contractors, Inc.		\$12.0000	\$96.00
	Tennessee Valley Paving Co., Inc.		\$50.0000	\$400.00
712-06	SIGNS (CONSTRUCTION)			
	Will Discount of the Control of the	2,560.000 S.F.	<b>A</b>	<b>**</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$9.0000 \$14.0000	\$23,040.00 \$35,840.00
	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		Ţ	455,5 10.00
	010110 (0110 1)			

6.000 EACH

713-16.20 SIGNS (OM3-L)

Wright Paving Contractors, Inc.

Tennessee Valley Paving Co., Inc.

\$1,236.00

\$1,800.00

\$206.0000

\$300.0000

			co	NTRACT CNR107
			UNIT PRICE	EXTENSION
713-16.21	SIGNS (OM3-R)			
		6.000 EACH		
	Wright Paving Contractors, Inc.		\$206.0000	\$1,236.00
	Tennessee Valley Paving Co., Inc.		\$300.0000	\$1,800.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		866.000 EACH		
	Wright Paving Contractors, Inc.		\$20.6000	\$17,839.60
	Tennessee Valley Paving Co., Inc.		\$32.0000	\$27,712.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		866.000 EACH		
	Wright Paving Contractors, Inc.		\$10.3000	\$8,919.80
	Tennessee Valley Paving Co., Inc.		\$10.0000	\$8,660.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		20.100 S.Y.		
	Wright Paving Contractors, Inc.		\$20.6000	\$414.06
	Tennessee Valley Paving Co., Inc.		\$30.0000	\$603.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		632.000 L.F.		
	Wright Paving Contractors, Inc.		\$15.4500	\$9,764.40
	Tennessee Valley Paving Co., Inc.		\$20.0000	\$12,640.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		1.000 EACH		
	Wright Paving Contractors, Inc.		\$154.5000	\$154.50
	Tennessee Valley Paving Co., Inc.		\$200.0000	\$200.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		19.100 L.M.	<b>.</b>	•
	Wright Paving Contractors, Inc.		\$978.5000 \$1,000.0000	\$18,689.35 \$19,100.00
	Tennessee Valley Paving Co., Inc.		\$1,000.0000	\$19,100.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	W: 1. B : 0	28.500 L.M.	<b>4.700.000</b>	<b>0.105.000.00</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$4,738.0000 \$5,280.0000	\$135,033.00 \$150,480.00
	Termessee valley Paving Co., Inc.		\$5,260.0000	\$150,460.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	W. L. B	12.800 L.M.	<b>#</b> 0.000.000	<b>A</b> 00.000.00
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$2,369.0000 \$3,000.0000	\$30,323.20 \$38,400.00
	Termessee valley Paving Co., Inc.		\$3,000.0000	\$36,400.00
717-01	MOBILIZATION			
	Will Bir O	1.000 LS	04===4 :222	<b>**</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$15,554.4200 \$42,000.0000	\$15,554.42 \$42,000.00
	rennessee valley raving Co., Inc.		φ <del>4</del> 2,000.0000	φ <del>4</del> ∠,000.00

### **SUB-TOTAL ROADWAY**

Tennessee Valley Paving Co., Inc. \$1,982,996.75
Wright Paving Contractors, Inc. \$1,494,316.58

### **TOTAL CONTRACT**

Wright Paving Contractors, Inc. \$1,494,316.58
Tennessee Valley Paving Co., Inc. \$1,982,996.75

#### BEDFORD COUNTY (Contract No. CNR102 Call 020)

02017-4215-04, HSIP-269(30), 02017-3215-94

THE RESURFACING ON S.R. 269 FROM WEST OF S.R. 64 (L.M. 9.50) TO EAST OF THE BRIDGE OVER THE DUCK RIVER (L.M. 15.60).

PROJECT LENGTH - 6.100 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 5.00%

TOTAL CONTRACT

Wright Paving Contractors, Inc.
Tennessee Valley Paving Co., Inc.

\$757,665.95 \$1,137,259.50

				CONTRACT CNR102
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
303-01	MINERAL AGGREGATE, THE A BASE, GRADING D	150.000 TON		
	Wright Paving Contractors, Inc.	100.000 1014	\$32.4400	\$4,866.00
	Tennessee Valley Paving Co., Inc.		\$36.2500	\$5,437.50
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	6 B-M2		
		166.000 TON		
	Wright Paving Contractors, Inc.		\$114.1900	\$18,955.54
	Tennessee Valley Paving Co., Inc.		\$125.0000	\$20,750.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		32.000 TON		
	Wright Paving Contractors, Inc.		\$531.3700	\$17,003.84
	Tennessee Valley Paving Co., Inc.		\$700.0000	\$22,400.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		6,311.000 TON		
	Wright Paving Contractors, Inc.		\$81.9200	\$516,997.12
	Tennessee Valley Paving Co., Inc.		\$96.0000	\$605,856.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN	WIDTH)		
		9.100 L.M.		
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$340.1600 \$1,800.0000	\$3,095.46 \$16,380.00
	Termessee valley Faving Co., Inc.		\$1,800.0000	\$10,360.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		8,855.000 S.Y.		
	Wright Paving Contractors, Inc.		\$3.2600	\$28,867.30
	Tennessee Valley Paving Co., Inc.		\$24.0000	\$212,520.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Wild Discount of	5.000 EACH	<b>#704 0000</b>	<b>#0.050.50</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$731.3000 \$700.0000	\$3,656.50 \$3,500.00
	Tollinesess valley I aving See, inc.		Ψ7 00.0000	ψο,σσσ.σσ
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Wild Discount of	801.000 S.F.	<b>#04.0000</b>	<b>0.47.005.00</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$21.6300 \$60.0000	\$17,325.63 \$48,060.00
705 04 02	CHARDRAII AT BRIDGE ENDS BUR DAIL LONG BOST			
705-01.03	GUARDRAIL AT BRIDGE ENDS, RUB-RAIL LONG POST	100.000 L.F.		
	Wright Paving Contractors, Inc.		\$20.5500	\$2,055.00
	Tennessee Valley Paving Co., Inc.		\$75.0000	\$7,500.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		75.000 L.F.		
	Wright Paving Contractors, Inc.		\$17.0000	\$1,275.00
	Tennessee Valley Paving Co., Inc.		\$22.0000	\$1,650.00
				PAGE

CONTRACT CN
-------------

			CO	NIRACI CNR102
			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		6.000 EACH		
	Wright Paving Contractors, Inc.	3.333 <u>-</u> 2.1311	\$2,472.0000	\$14,832.00
	Tennessee Valley Paving Co., Inc.		\$2,500.0000	\$15,000.00
	Termessee valley Favilig Co., Inc.		ψ2,300.0000	φ13,000.00
706-01	GUARDRAIL REMOVED			
		400.000 L.F.		
	Wright Paving Contractors, Inc.		\$1.0300	\$412.00
	Tennessee Valley Paving Co., Inc.		\$5.0000	\$2,000.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Will Bit O to the	1.000 LS	Φο οπο οροο	<b>A</b> 0.070.00
	Wright Paving Contractors, Inc.		\$3,679.0000	\$3,679.00
	Tennessee Valley Paving Co., Inc.		\$18,500.0000	\$18,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Wright Paving Contractors, Inc.		\$18.6000	\$465.00
	Tennessee Valley Paving Co., Inc.		\$50.0000	\$1,250.00
	3		• • • • • • • • • • • • • • • • • • • •	, ,
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Wright Paving Contractors, Inc.		\$12.0000	\$48.00
	Tennessee Valley Paving Co., Inc.		\$50.0000	\$200.00
712-06	SIGNS (CONSTRUCTION)			
		792.000 S.F.		
	Wright Paving Contractors, Inc.		\$9.0000	\$7,128.00
	Tennessee Valley Paving Co., Inc.		\$12.0000	\$9,504.00
713-02-16	FLEXIBLE TYPE II OBJECT MARKER			
. 10 02.10		16.000 EACH		
	Wright Paving Contractors, Inc.	10.000 EACH	\$206.0000	\$3,296.00
	Tennessee Valley Paving Co., Inc.		\$300.0000	\$4,800.00
	refinessee valley r aving oo., inc.		ψ300.0000	Ψ+,000.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		403.000 EACH		
	Wright Paving Contractors, Inc.		\$25.7500	\$10,377.25
	Tennessee Valley Paving Co., Inc.		\$30.0000	\$12,090.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		26.000 L.F.	<b>.</b>	*
	Wright Paving Contractors, Inc.		\$12.3600	\$321.36
	Tennessee Valley Paving Co., Inc.		\$6.0000	\$156.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
- 33-	- (- 3- <del></del> )	213.000 L.F.		
	Wright Paving Contractors, Inc.	J. V V = I	\$15.4500	\$3,290.85
	Tennessee Valley Paving Co., Inc.		\$12.0000	\$2,556.00
			ψ.2.3000	Ψ=,000.00

CONTRACT	CNR102
----------	--------

### Tight Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  #### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  #### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  #### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  #### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  #### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  #### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  #### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  ##### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  ##### Viright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  ###################################				CONTRACT CNR102
1.600 L.M.   Wright Paving Contractors, Inc.   \$978.5000   \$1,565.60   \$1,600.0000   \$2,560.00   \$1,665.60   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$1,600.0000   \$1,600.000   \$1,000.00			UNIT PRICE	EXTENSION
Wright Paving Contractors, Inc.   \$978.5000   \$1,565.60   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$2,560.00   \$1,600.0000   \$1,000.0000   \$1,000.0000	716-05.01	PAINTED PAVEMENT MARKING (4" LINE)		
Tennessee Valley Paving Co., Inc. \$1,600.0000 \$2,560.00  716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc. \$4,738.0000 \$57,803.60 \$57,8			1.600 L.M.	
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)  12.200 L.M.  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  345.000 L.F.  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  12.200 L.M.  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  12.200 L.M.  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  \$2,163.0000 \$26,388.60 Tennessee Valley Paving Co., Inc.  \$2,163.0000 \$24,400.00  \$1717-01 MOBILIZATION  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  \$12,895.2500 \$12,895.250		Wright Paving Contractors, Inc.	\$978.5000	\$1,565.60
12.200 L.M.         Wright Paving Contractors, Inc.       \$4,738.0000       \$57,803.60         Tennessee Valley Paving Co., Inc.       \$5,000.0000       \$61,000.00         716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)         345.000 L.F.         Wright Paving Contractors, Inc.       \$3.0900       \$1,066.05         Tennessee Valley Paving Co., Inc.       \$2.0000       \$690.00         716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)         12.200 L.M.         Wright Paving Contractors, Inc.       \$2,163.0000       \$26,388.60         Tennessee Valley Paving Co., Inc.       \$2,000.0000       \$24,400.00         717-01 MOBILIZATION         MOBILIZATION         1.000 LS         Wright Paving Contractors, Inc.       \$12,895.2500       \$12,895.25		Tennessee Valley Paving Co., Inc.	\$1,600.0000	\$2,560.00
Wright Paving Contractors, Inc.       \$4,738.0000       \$57,803.60         Tennessee Valley Paving Co., Inc.       \$5,000.0000       \$61,000.00         716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)         Wright Paving Contractors, Inc.       \$3.0900       \$1,066.05         Tennessee Valley Paving Co., Inc.       \$2.0000       \$690.00         716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)         Uright Paving Contractors, Inc.       \$2,163.0000       \$26,388.60         Tennessee Valley Paving Co., Inc.       \$2,000.0000       \$24,400.00         717-01 MOBILIZATION         MOBILIZATION         1.000 LS         Wright Paving Contractors, Inc.       \$12,895.2500       \$12,895.25	716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
Tennessee Valley Paving Co., Inc. \$5,000.0000 \$61,000.00  716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)  Wright Paving Contractors, Inc. \$3.0900 \$1,066.05 Tennessee Valley Paving Co., Inc. \$2.0000 \$690.00  716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)  Wright Paving Contractors, Inc. \$2,163.0000 \$26,388.60 Tennessee Valley Paving Co., Inc. \$2,000.0000 \$24,400.00  717-01 MOBILIZATION  Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25		13	2.200 L.M.	
Tennessee Valley Paving Co., Inc. \$5,000.0000 \$61,000.00  716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)  Wright Paving Contractors, Inc. \$3.0900 \$1,066.05 Tennessee Valley Paving Co., Inc. \$2.0000 \$690.00  716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)  Wright Paving Contractors, Inc. \$2,163.0000 \$26,388.60 Tennessee Valley Paving Co., Inc. \$2,000.0000 \$24,400.00  717-01 MOBILIZATION  Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25		Wright Paving Contractors, Inc.	\$4,738.0000	\$57,803.60
345.000 L.F.  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  \$3,0900 \$1,066.05 \$2,0000 \$690.00  716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  \$2,163.0000 \$26,388.60 \$26,388.60 \$2,000.0000 \$24,400.00  717-01 MOBILIZATION  1.000 LS  Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25				
Wright Paving Contractors, Inc.       \$3.0900       \$1,066.05         T16-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)         12.200 L.M.         Wright Paving Contractors, Inc.       \$2,163.0000       \$26,388.60         T17-01 MOBILIZATION         1.000 LS         Wright Paving Contractors, Inc.       \$12,895.2500       \$12,895.25	716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)		
Tennessee Valley Paving Co., Inc. \$2.0000 \$690.00  716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)  12.200 L.M.  Wright Paving Contractors, Inc. \$2,163.0000 \$26,388.60 Tennessee Valley Paving Co., Inc. \$2,000.0000 \$24,400.00  717-01 MOBILIZATION  1.000 LS  Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25		34	5.000 L.F.	
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)  12.200 L.M.  Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.  \$2,163.0000 \$26,388.60 \$2,000.0000 \$24,400.00  717-01 MOBILIZATION  1.000 LS  Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25		Wright Paving Contractors, Inc.	\$3.0900	\$1,066.05
12.200 L.M.         Wright Paving Contractors, Inc.       \$2,163.0000       \$26,388.60         Tennessee Valley Paving Co., Inc.       \$2,000.0000       \$24,400.00         717-01       MOBILIZATION         1.000 LS         Wright Paving Contractors, Inc.       \$12,895.2500       \$12,895.25		Tennessee Valley Paving Co., Inc.	\$2.0000	\$690.00
Wright Paving Contractors, Inc.       \$2,163.0000       \$26,388.60         Tennessee Valley Paving Co., Inc.       \$2,000.0000       \$24,400.00         717-01       MOBILIZATION         1.000 LS         Wright Paving Contractors, Inc.       \$12,895.2500       \$12,895.25	716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
Tennessee Valley Paving Co., Inc. \$2,000.0000 \$24,400.00  717-01 MOBILIZATION  1.000 LS  Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25		13	2.200 L.M.	
Tennessee Valley Paving Co., Inc. \$2,000.0000 \$24,400.00  717-01 MOBILIZATION  1.000 LS  Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25		Wright Paving Contractors, Inc.	\$2,163.0000	\$26,388.60
1.000 LS         Wright Paving Contractors, Inc.       \$12,895.2500       \$12,895.25			• •	
Wright Paving Contractors, Inc. \$12,895.2500 \$12,895.25	717-01	MOBILIZATION		
			1.000 LS	
Tennessee Valley Paying Co., Inc. \$38,500,000 \$38,500,00		Wright Paving Contractors, Inc.	\$12,895.2500	\$12,895.25
+ 0.1.1.00000 Talley Factor 1000000000000000000000000000000000000		Tennessee Valley Paving Co., Inc.	\$38,500.0000	\$38,500.00

### **SUB-TOTAL ROADWAY**

Tennessee Valley Paving Co., Inc. \$1,137,259.50
Wright Paving Contractors, Inc. \$757,665.95

### **TOTAL CONTRACT**

Wright Paving Contractors, Inc. \$757,665.95
Tennessee Valley Paving Co., Inc. \$1,137,259.50

#### BEDFORD COUNTY (Contract No. CNR092 Call 021)

STP/HSIP-64(21),02007-3212-94,02007-8212-14

THE RESURFACING ON S.R. 64 FROM EAST OF BETHLEHEM CHURCH ROAD (L.M. 6.07) TO WEST OF U.S. 231 (S.R. 10) (L.M. 12.11).

PROJECT LENGTH - 6.040 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Wright Paving Contractors, Inc.

\$679,925.64

Tennessee Valley Paving Co., Inc.

\$873,210.25

100	NTRA	CT	CNR	092
- COI	1111/	<b>.</b>		UJE

				CONTRACT CNR092
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		325.000 TON		
	Wright Paving Contractors, Inc.		\$29.5600	\$9,607.00
	Tennessee Valley Paving Co., Inc.		\$34.7500	\$11,293.75
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		39.000 TON		
	Wright Paving Contractors, Inc.		\$529.0200	\$20,631.78
	Tennessee Valley Paving Co., Inc.		\$700.0000	\$27,300.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		5,490.000 TON		
	Wright Paving Contractors, Inc.		\$80.7600	\$443,372.40
	Tennessee Valley Paving Co., Inc.		\$93.0000	\$510,570.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOU	S) (8IN WIDTH)		
		9.700 L.M.		
	Wright Paving Contractors, Inc.		\$555.6400	\$5,389.71
	Tennessee Valley Paving Co., Inc.		\$2,100.0000	\$20,370.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		1.000 EACH		
	Wright Paving Contractors, Inc.		\$937.3000	\$937.30
	Tennessee Valley Paving Co., Inc.		\$2,000.0000	\$2,000.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		2,588.000 L.F.		
	Wright Paving Contractors, Inc.		\$16.2200	\$41,977.36
	Tennessee Valley Paving Co., Inc.		\$22.0000	\$56,936.00
705-04.04	GUARDRAIL TERMINAL (TYPE 21)			
		1.000 EACH		
	Wright Paving Contractors, Inc.		\$1,957.0000	\$1,957.00
	Tennessee Valley Paving Co., Inc.		\$2,795.0000	\$2,795.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		12.000 EACH		
	Wright Paving Contractors, Inc.		\$2,472.0000	\$29,664.00
	Tennessee Valley Paving Co., Inc.		\$3,000.0000	\$36,000.00
706-01	GUARDRAIL REMOVED			
		2,962.000 L.F.		
	Wright Paving Contractors, Inc.		\$0.5200	\$1,540.24
	Tennessee Valley Paving Co., Inc.		\$7.7500	\$22,955.50
706-06.03	RADIUS RAIL			
		25.000 L.F.	_	_
	Wright Paving Contractors, Inc.		\$26.5200	\$663.00 \$050.00
	Tennessee Valley Paving Co., Inc.		\$38.0000	\$950.00
				PAGE

				CONTRACT CNR092
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
712-01	TRAITIC GORTROL	1.000 LS		
	Wright Paving Contractors, Inc.		\$11,736.0000	\$11,736.00
	Tennessee Valley Paving Co., Inc.		\$14,500.0000	\$14,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Weight Basin a Contractor las	25.000 EACH	<b>#40.0000</b>	<b>#405.00</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$18.6000 \$50.0000	\$465.00 \$1,250.00
	Termessee valley I aving 66., me.		ψου.σσσσ	ψ1,230.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Wright Paving Contractors, Inc.		\$12.0000	\$48.00
	Tennessee Valley Paving Co., Inc.		\$50.0000	\$200.00
712-06	SIGNS (CONSTRUCTION)			
712-00		1,280.000 S.F.		
	Wright Paving Contractors, Inc.	1,200.000 0.1 1	\$9.0000	\$11,520.00
	Tennessee Valley Paving Co., Inc.		\$10.7500	\$13,760.00
713-16.20	SIGNS (OM3-L)			
		12.000 EACH	****	<b>*</b>
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$206.0000 \$500.0000	\$2,472.00 \$6,000.00
	Termessee valley I aving 66., me.		φοσο.σσσσ	ψο,οσο.σο
713-16.21	SIGNS (OM3-R)			
		12.000 EACH		
	Wright Paving Contractors, Inc.		\$206.0000	\$2,472.00
	Tennessee Valley Paving Co., Inc.		\$500.0000	\$6,000.00
716-01 21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
710-01.21	Chaptable I vint mixes (DI-Dil)(1 COICI)	399.000 EACH		
	Wright Paving Contractors, Inc.	000.000 EAOH	\$25.7500	\$10,274.25
	Tennessee Valley Paving Co., Inc.		\$35.0000	\$13,965.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Will Bir O to to I	311.000 L.F.	<b>045 4500</b>	<b>#</b> 4.004.05
	Wright Paving Contractors, Inc. Tennessee Valley Paving Co., Inc.		\$15.4500 \$20.0000	\$4,804.95 \$6,220.00
	Termessee valley I aving Oo., Inc.		Ψ20.0000	ψ0,220.00
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
		311.000 L.F.		
	Wright Paving Contractors, Inc.		\$5.1500	\$1,601.65
	Tennessee Valley Paving Co., Inc.		\$10.0000	\$3,110.00
716 12 02	ENHANCED EL ATLINE THERMO DVIAT MOUNO (CIN LINE)			
110-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			

8.700 L.M.

Wright Paving Contractors, Inc.

Tennessee Valley Paving Co., Inc.

\$41,220.60

\$46,110.00

\$4,738.0000

\$5,300.0000

				CONTRACT CNR092
			UNIT PRICE	EXTENSION
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		12.100 L.M.		
	Wright Paving Contractors, Inc.		\$2,369.0000	\$28,664.90
	Tennessee Valley Paving Co., Inc.		\$3,500.0000	\$42,350.00
717-01	MOBILIZATION			
		1.000 LS		
	Wright Paving Contractors, Inc.		\$8,906.5000	\$8,906.50
	Tennessee Valley Paving Co., Inc.		\$28,575.0000	\$28,575.00

Tennessee Valley Paving Co., Inc. \$873,210.25 Wright Paving Contractors, Inc. \$679,925.64

#### **TOTAL CONTRACT**

Wright Paving Contractors, Inc. \$679,925.64
Tennessee Valley Paving Co., Inc. \$873,210.25

COUNTIES BEDFORD, CHEATHAM, DAVIDSON, DICKSON, GILES, HICKMAN, HUMPHREYS, LAWRENCE, LINCOLN, MACON, MARSHALL, MAURY, MONTGOMERY, PERRY, ROBERTSON, RUTHERFORD, SMITH, SUMNER, WAYNE, WILLIAMSON, AND WILSON (Contract No. CNR094 Call 022)

STP-REG3(191),98302-8237-14

THE LONGITUDINAL JOINT STABILIZATION ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 135.180 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

**TOTAL CONTRACT** 

Pavement Restorations, Inc.

\$195,688.01

Pavement Technology, Inc.

\$306,840.60

\$8,000.00

\$44,800.00

				CONTRACT CNR094
			UNIT PRICE	EXTENSION
ROADWAY	CATEGORY			
411-01.12 L	LONGITUDINAL JOINT STABILIZATION			
		2,140,406. S.F.		
		000		
F	Pavement Restorations, Inc.		\$0.0690	\$147,688.01
F	Pavement Technology, Inc.		\$0.1000	\$214,040.60
712-01 T	FRAFFIC CONTROL			
		1.000 LS		
F	Pavement Restorations, Inc.		\$40,000.0000	\$40,000.00
F	Pavement Technology, Inc.		\$48,000.0000	\$48,000.00

1.000 LS

\$8,000.0000

\$44,800.0000

717-01

**MOBILIZATION** 

Pavement Restorations, Inc.

Pavement Technology, Inc.

Pavement Technology, Inc.	\$306,840.60
Pavement Restorations, Inc.	\$195,688.01

# **TOTAL CONTRACT**

Pavement Restorations, Inc. \$195,688.01
Pavement Technology, Inc. \$306,840.60

COUNTIES BEDFORD, CHEATHAM, DAVIDSON, DICKSON, GILES, HICKMAN, HOUSTON, HUMPHREYS, LAWRENCE, LEWIS, LINCOLN, MACON, MARSHALL, MAURY, MONTGOMERY, MOORE, PERRY, ROBERTSON, RUTHERFORD, SMITH, STEWART, SUMNER, TROUSDALE, WAYNE, WILLIAMSON, AND WILSON (Contract No. CNR123 Call 023)

98302-4144-04

THE ON-CALL GUARDRAIL REPAIR AND NEW GUARDRAIL INSTALLATION ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

**TOTAL CONTRACT** 

R.D. Construction, LLC

LU, Inc.

\$4,550,027.50

\$7,081,236.50

CONTRACT CNR123	C	ONTI	RACT	CNR	123
-----------------	---	------	------	-----	-----

			CC	NTRACT CNR123
MAINTEN	NANCE CATEGORY		UNIT PRICE	EXTENSION
705-01.01	GUARDRAIL AT BRIDGE ENDS			
	R.D. Construction, LLC LU, Inc.	216.000 L.F.	\$75.0000 \$45.0000	\$16,200.00 \$9,720.00
705-01.02	GUARDRAIL AT BRIDGE PIERS	35.000 L.F.		
	R.D. Construction, LLC LU, Inc.	33.000 L.F.	\$35.0000 \$30.0000	\$1,225.00 \$1,050.00
705-01.04	METAL BEAM GUARD FENCE			
	R.D. Construction, LLC LU, Inc.	240.000 L.F.	\$55.0000 \$45.0000	\$13,200.00 \$10,800.00
705-02.01	SINGLE GUARDRAIL, WITH RUB-RAIL (TYPE 2)			
	R.D. Construction, LLC LU, Inc.	75.000 L.F.	\$15.0000 \$37.5000	\$1,125.00 \$2,812.50
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
	R.D. Construction, LLC LU, Inc.	30,000.000 L.F.	\$17.0000 \$32.8100	\$510,000.00 \$984,300.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	R.D. Construction, LLC LU, Inc.	500.000 EACH	\$100.0000 \$250.0000	\$50,000.00 \$125,000.00
705-02.20	SINGLE GUARDRAIL (TYPE 2) LONG POST (6 FT-9 FT)			
	R.D. Construction, LLC LU, Inc.	350.000 L.F.	\$21.5000 \$28.8800	\$7,525.00 \$10,108.00
705-02.25	SINGLE GUARDRAIL (TYPE 2) LONG POST (9 FT-12 FT)			
	R.D. Construction, LLC LU, Inc.	125.000 L.F.	\$25.0000 \$37.5000	\$3,125.00 \$4,687.50
705-03.01	MEDIAN DIVIDER GUARDRAIL, WITH RUB-RAIL (TYPE 2)			
	R.D. Construction, LLC LU, Inc.	50.000 L.F.	\$15.0000 \$22.5000	\$750.00 \$1,125.00
705-03.02	MEDIAN DIVIDER GUARDRAIL (TYPE 2)			
	R.D. Construction, LLC LU, Inc.	50.000 L.F.	\$15.0000 \$22.5000	\$750.00 \$1,125.00
				PAGE

CONTRACT (	NR123
------------	-------

				JNIKACI CNK123
			UNIT PRICE	EXTENSION
705-03.03	MEDIAN DIVIDER GUARDRAIL (TYPE 2) (27" MT HT)			
		225.000 L.F.		
	R.D. Construction, LLC	220.000 2 1	\$15.0000	\$3,375.00
	LU, Inc.		\$22.5000	\$5,062.50
705 02 04	MEDIAN DIVIDER GUARDRAIL AT CONCRETE BARRIER			
705-03.04	MEDIAN DIVIDER GUARDRAIL AT CONCRETE BARRIER			
		50.000 L.F.	<b>*</b>	<b>^</b>
	R.D. Construction, LLC		\$15.0000	\$750.00
	LU, Inc.		\$22.5000	\$1,125.00
705-04.02	GUARDRAIL TERMINAL (TYPE 12)			
		4.000 EACH		
	R.D. Construction, LLC		\$500.0000	\$2,000.00
	LU, Inc.		\$75.0000	\$300.00
705-04.03	GUARDRAIL TERMINAL (TYPE 13)			
		44.000 EACH		
	R.D. Construction, LLC		\$650.0000	\$28,600.00
	LU, Inc.		\$612.5000	\$26,950.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
		10.000 EACH		
	R.D. Construction, LLC		\$650.0000	\$6,500.00
	LU, Inc.		\$612.5000	\$6,125.00
705-04.11	STONE FOR GUARDRAIL END TERMINAL PAD			
		10,000.000 TON		
	R.D. Construction, LLC	.,	\$17.0000	\$170,000.00
	LU, Inc.		\$9.0000	\$90,000.00
	,			. ,
705-04.29	C-A-T CRASH CUSHION ATTENUATING TERMINAL			
		4.000 EACH		
	R.D. Construction, LLC		\$4,000.0000	\$16,000.00
	LU, Inc.		\$4,500.0000	\$18,000.00
	,		. ,	. ,
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		250.000 L.F.		
	R.D. Construction, LLC		\$19.5000	\$4,875.00
	LU, Inc.		\$32.8100	\$8,202.50
			***	*-, -
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL3			
	,	10.000 EACH		
	R.D. Construction, LLC		\$900.0000	\$9,000.00
	LU, Inc.		\$612.5000	\$6,125.00
	•		,	, . , <del></del>
705-06.11	GR TERMINAL (IN-INLINE) MASH TL3			
	• •	10.000 EACH		
	R.D. Construction, LLC	10.000 EA011	\$900.0000	\$9,000.00
	LU, Inc.		\$900.0000 \$612.5000	\$6,125.00
	LO, IIIO.		φυ12.3000	φυ, 123.00

CONTRACT C	NR123
------------	-------

			CO	ONTRACT CNR123
			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH	HTL-3		
		999.000 EACH		
	R.D. Construction, LLC		\$2,500.0000	\$2,497,500.00
	LU, Inc.		\$3,700.0000	\$3,696,300.00
705-06.30	GR TERMINAL (TYPE 21) MASH TL2			
	·	10.000 EACH		
	R.D. Construction, LLC		\$2,000.0000	\$20,000.00
	LU, Inc.		\$5,000.0000	\$50,000.00
705-10.30	GUARDRAIL ATTACHMENT TO SLOPE FACE	ENDPOST		
		35.000 L.F.		
	R.D. Construction, LLC		\$25.0000	\$875.00
	LU, Inc.		\$37.5000	\$1,312.50
705 10 21	GUARDRAIL ATTACHMENT TO VERTICAL FA	CE ENDBOST		
705-10.31	GUARDRAIL ATTACHMENT TO VERTICAL FA	35.000 L.F.		
	R.D. Construction, LLC	33.000 L.F.	\$20.0000	\$700.00
	LU, Inc.		\$37.5000	\$1,312.50
705-10.32	GUARDRAIL ATTACHMENT TO EXISTING BR			
	D.D. Construction III.C	44.000 EACH	<b>#</b> 400,0000	<b>#4.400.00</b>
	R.D. Construction, LLC LU, Inc.		\$100.0000 \$375.0000	\$4,400.00 \$16,500.00
705-11.01	GUARDRAIL AT BRIDGE ENDS (POWDER CO			
		87.000 L.F.	<b>^</b>	
	R.D. Construction, LLC LU, Inc.		\$87.5000 \$37.5000	\$7,612.50 \$3,262.50
	LO, IIIC.		ψ37.3000	ψ3,202.50
705-11.03	SINGLE GUARDRAIL (TYPE 2) (POWDER COA	ATED)		
		700.000 L.F.		
	R.D. Construction, LLC		\$45.0000	\$31,500.00
	LU, Inc.		\$48.1300	\$33,691.00
705-11.08	GUARDRAIL TERMINAL (TYPE 13) (POWDER	COATED)		
		2.000 EACH		
	R.D. Construction, LLC		\$2,000.0000	\$4,000.00
	LU, Inc.		\$675.0000	\$1,350.00
706-01	GUARDRAIL REMOVED			
		2,800.000 L.F.		
	R.D. Construction, LLC		\$0.2500	\$700.00
	LU, Inc.		\$0.3800	\$1,064.00
706-02.21	RESET SINGLE GUARDRAIL (TYPE 2)			
3. <b>3</b>		560.000 L.F.		
	R.D. Construction, LLC	<del></del> -	\$0.2500	\$140.00
	LU, Inc.		\$1.5000	\$840.00

			UT DDIOE	CONTRACT CNR123
		UN	IIT PRICE	EXTENSION
706-03.01	POSTS FURNISHED			
	R.D. Construction, LLC	16.000 EACH	\$40.0000	\$640.00
	LU, Inc.		\$60.0000	\$960.00
706-06.02	MEDIAN DIVIDER THRIE RAIL (TYPE 2)			
		35.000 L.F.		
	R.D. Construction, LLC LU, Inc.		\$15.0000 \$22.5000	\$525.00 \$787.50
	20, 110.		<b>\$22.0000</b>	φ.σσ
706-06.03	RADIUS RAIL	1,400.000 L.F.		
	R.D. Construction, LLC	:	\$18.5000	\$25,900.00
	LU, Inc.	:	\$28.8800	\$40,432.00
706-06.05	RADIUS RAIL LONG POST (6-9 FT)			
	D.D. Occasionation 110	75.000 L.F.	ФОО <b>Г</b> ООО	<b>\$4.507.50</b>
	R.D. Construction, LLC LU, Inc.		\$20.5000 \$25.5000	\$1,537.50 \$1,912.50
706-06 06	RADIUS RAIL LONG POST (9-12 FT)			
700-00.00	RADIUS RAIL LONG FOST (5-12 FT)	75.000 L.F.		
	R.D. Construction, LLC		\$24.5000	\$1,837.50
	LU, Inc.	•	\$25.5000	\$1,912.50
706-10.26	ROUNDED END ELEMENT			
	R.D. Construction, LLC	36.000 EACH	\$45.0000	\$1,620.00
	LU, Inc.		\$70.0000	\$2,520.00
706-10.54	RE-ALIGN GUARDRAIL			
		2,100.000 L.F.		
	R.D. Construction, LLC LU, Inc.		\$0.2500 \$0.4400	\$525.00 \$924.00
706-10.56	BUFFER ENDS 88"	6.000 EACH		
	R.D. Construction, LLC	:	\$10.0000	\$60.00
	LU, Inc.	•	\$37.5000	\$225.00
706-10.71	HAZARD MARKERS			
	R.D. Construction, LLC	7.000 EACH	\$15.0000	\$105.00
	LU, Inc.		\$22.5000	\$105.00 \$157.50

20.000 EACH

706-10.72 PULL AND REINSTALL GUARDARAIL POST FOR VERIFICATION

R.D. Construction, LLC

LU, Inc.

\$3,000.00

\$1,350.00

\$150.0000

\$67.5000

CONTRACT	<b>CNR123</b>
----------	---------------

			(	CONTRACT CNR123
			UNIT PRICE	EXTENSION
706-10.74	CONCRETE BARRIER WALL REPAIR			
		20.000 C.Y.		
	R.D. Construction, LLC		\$3,500.0000	\$70,000.00
	LU, Inc.		\$4,950.0000	\$99,000.00
706-10.80	MICHIGAN AND MODIFIED MICHIGAN END SHOE			
		10.000 EACH		
	R.D. Construction, LLC		\$45.0000	\$450.00
	LU, Inc.		\$22.5000	\$225.00
706-10.81	GUARDRAIL REFLECTORS			
		80.000 EACH		
	R.D. Construction, LLC		\$5.0000	\$400.00
	LU, Inc.		\$6.0000	\$480.00
706-10.82	CONCRETE BRIDGE END OR PIER PROTECTION REPAIR			
		4.000 C.Y.		
	R.D. Construction, LLC		\$2,000.0000	\$8,000.00
	LU, Inc.		\$2,250.0000	\$9,000.00
706-10.83	DRILL BR. PAR. WALL FOR MICHIGAN END SHOE			
		12.000 EACH		
	R.D. Construction, LLC		\$200.0000	\$2,400.00
	LU, Inc.		\$75.0000	\$900.00
712-01.02	LANE CLOSURE			
		1,188.000 EACH		
	R.D. Construction, LLC	,	\$700.0000	\$831,600.00
	LU, Inc.		\$743.7500	\$883,575.00
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
		50.000 DAY		
	R.D. Construction, LLC		\$1,750.0000	\$87,500.00
	LU, Inc.		\$2,000.0000	\$100,000.00
717-01	MOBILIZATION			
		1.000 LS		
	R.D. Construction, LLC		\$80,000.0000	\$80,000.00
	LU, Inc.		\$750,000.0000	\$750,000.00
717-01.04	MOBILIZATION (EMERGENCY CALL-OUT)			
		25.000 EACH		
	R.D. Construction, LLC	-	\$500.0000	\$12,500.00
	LU, Inc.		\$2,500.0000	\$62,500.00

# **SUB-TOTAL MAINTENANCE**

 LU, Inc.
 \$7,081,236.50

 R.D. Construction, LLC
 \$4,550,027.50

#### **TOTAL CONTRACT**

R.D. Construction, LLC \$4,550,027.50 LU, Inc. \$7,081,236.50

#### BEDFORD AND MARSHALL COUNTIES (Contract No. CNR101 Call 024)

02013-4221-04,59015-4210-04,HSIP-130(24),59015-3210-94,HSIP-130(25),02013-3221-94

THE RESURFACING ON S.R. 130 FROM THE LINCOLN COUNTY LINE IN MARSHALL COUNTY (L.M. 0.00) TO GANT HOLLOW ROAD IN BEDFORD COUNTY (L.M. 3.89).

PROJECT LENGTH - 7.400 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Lincoln Paving, LLC

\$553,662.53

			СО	NTRACT CNR101
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Lincoln Paving, LLC	2,454.000 TON	\$28.4500	\$69,816.30
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAD			
	Lincoln Paving, LLC	132.000 TON	\$76.9000	\$10,150.80
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	33.000 TON		
	Lincoln Paving, LLC	33.000 TON	\$710.0000	\$23,430.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	4,171.000 TON		
	Lincoln Paving, LLC	4,171.000 1014	\$70.3300	\$293,346.43
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (	4IN WIDTH) 12.000 L.M.		
	Lincoln Paving, LLC		\$725.0000	\$8,700.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	875.000 S.Y.		
	Lincoln Paving, LLC		\$11.2000	\$9,800.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Lincoln Paving, LLC		\$8,200.0000	\$8,200.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	50.000 EACH		
	Lincoln Paving, LLC		\$35.0000	\$1,750.00
712-05.01	WARNING LIGHTS (TYPE A)	8.000 EACH		
	Lincoln Paving, LLC		\$25.0000	\$200.00
712-06	SIGNS (CONSTRUCTION)	926.000 S.F.		
	Lincoln Paving, LLC		\$6.0000	\$5,556.00
713-16.20	SIGNS (OM-3L)	8.000 EACH		
	Lincoln Paving, LLC		\$175.0000	\$1,400.00
713-16.21	SIGNS (OM-3R)	8.000 EACH		<b></b>
	Lincoln Paving, LLC		\$175.0000	\$1,400.00

			UNIT PRICE	CONTRACT CNR101  EXTENSION
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Lincoln Paving, LLC	490.000 EACH	\$20.0000	\$9,800.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Lincoln Paving, LLC	258.000 EACH	\$9.0000	\$2,322.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Lincoln Paving, LLC	88.000 L.F.	\$12.0000	\$1,056.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	00 400 L M		
	Lincoln Paving, LLC	26.100 L.M.	\$650.0000	\$16,965.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Lincoln Paving, LLC	11.200 L.M.	\$4,300.0000	\$48,160.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	Lincoln Paving, LLC	14.900 L.M.	\$1,900.0000	\$28,310.00
717-01	MOBILIZATION			
		1.000 LS		

Lincoln Paving, LLC

\$13,300.00

\$13,300.0000

Lincoln Paving, LLC \$553,662.53

# **TOTAL CONTRACT**

Lincoln Paving, LLC \$553,662.53

#### BENTON AND CARROLL COUNTIES (Contract No. CNR091 Call 025)

STP/HSIP-1(366),09004-3242-94,09004-8242-14,STP/HSIP-1(367),03004-3229-94,03004-8229-14

THE RESURFACING ON U.S. 70 (S.R. 1) FROM THE HUNTINGDON CITY LIMITS IN CARROLL COUNTY (L.M. 22.90) TO S.R. 391 IN BENTON COUNTY (L.M. 4.28).

PROJECT LENGTH - 13.750 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 4.50%

TOTAL CONTRACT

Delta Contracting Company, LLC

\$4,437,014.47

				CONTRACT CNR091
ROADWA	Y CATEGORY		UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Delta Contracting Company, LLC	1,056.000 S.Y.	\$48.3000	\$51,004.80
203-06	WATER		<b>V</b> .0.0000	ψο 1,00 1.00
	Delta Contracting Company, LLC	28.000 M.G.	\$5.0000	\$140.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (D)		ψ3.0000	φ140.00
303-02		3,668.000 TON	<b>\$</b> 00 <b>7</b> 500	<b>*</b> 405.455.00
	Delta Contracting Company, LLC		\$28.7500	\$105,455.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A	486.000 TON		
	Delta Contracting Company, LLC		\$107.0000	\$52,002.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	12.000 TON		
	Delta Contracting Company, LLC		\$554.0000	\$6,648.00
405-03.01	PM REJUVENATING SCRUB SEAL	365,190.000 S.Y.		
	Delta Contracting Company, LLC	·	\$3.5600	\$1,300,076.40
411-02.10	ACS MIX(PG70-22) GRADING D	3,100.000 TON		
	Delta Contracting Company, LLC	3,100.000 1014	\$91.9700	\$285,107.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT	40 F04 000 TON		
	Delta Contracting Company, LLC	16,564.000 TON	\$91.9700	\$1,523,391.08
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W			
	Delta Contracting Company, LLC	20.598 L.M.	\$650.0000	\$13,388.70
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Delta Contracting Company, LLC	161,785.000 S.Y.	\$1.8300	\$296,066.55
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
	Delta Contracting Company, LLC	1,960.000 L.F.	\$42.0000	\$82,320.00
607-39.03	24" PIPE CULVERT (SIDE DRAIN)	<b></b>		
	Delta Contracting Company, LLC	568.000 L.F.	\$48.0000	\$27,264.00

		UNIT PRICE	CONTRACT CNR091  EXTENSION
607-39.04 30" PIPE CULVERT (SIDE DRAIN)			
Delta Contracting Company, LLC	30.000 L.F.	\$56.0000	\$1,680.00
607-39.05 36" PIPE CULVERT (SIDE DRAIN)			
Delta Contracting Company, LLC	24.000 L.F.	\$58.0000	\$1,392.00
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT			
Delta Contracting Company, LLC	11.000 EACH	\$850.0000	\$9,350.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
Delta Contracting Company, LLC	12.000 EACH	\$2,900.0000	\$34,800.00
712-01 TRAFFIC CONTROL			
Delta Contracting Company, LLC	1.000 LS	\$67,400.0000	\$67,400.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
Delta Contracting Company, LLC	2.000 EACH	\$32.0000	\$64.00
712-04.02 FLEXIBLE DRUMS (CHANNELIZATION)			
Delta Contracting Company, LLC	2.000 EACH	\$32.0000	\$64.00
712-05.01 WARNING LIGHTS (TYPE A)			
Delta Contracting Company, LLC	4.000 EACH	\$32.0000	\$128.00
712-06 SIGNS (CONSTRUCTION)			
Delta Contracting Company, LLC	3,520.000 S.F.	\$8.5000	\$29,920.00
712-08.03 ARROW BOARD (TYPE C)			
Delta Contracting Company, LLC	4.000 EACH	\$2,550.0000	\$10,200.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
Delta Contracting Company, LLC	782.000 EACH	\$33.0000	\$25,806.00
716-01.22 Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
Delta Contracting Company, LLC	362.000 EACH	\$33.0000	\$11,946.00

			UNIT PRICE	CONTRACT CNR091 EXTENSION
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Delta Contracting Company, LLC	750.000 EACH	\$14.7700	\$11,077.50
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Delta Contracting Company, LLC	75.000 S.Y.	\$22.0000	\$1,650.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Delta Contracting Company, LLC	800.000 L.F.	\$15.0000	\$12,000.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Delta Contracting Company, LLC	58.000 EACH	\$180.0000	\$10,440.00
716-02.13	PLASTIC PAVEMENT MARKING (CROSSWALK)			
	Delta Contracting Company, LLC	450.000 S.F.	\$12.0000	\$5,400.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Delta Contracting Company, LLC	54.428 L.M.	\$1,310.0000	\$71,300.68
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Delta Contracting Company, LLC	27.228 L.M.	\$5,670.0000	\$154,382.76
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Delta Contracting Company, LLC	27.500 L.M.	\$3,580.0000	\$98,450.00
717-01	MOBILIZATION			
		1.000 LS		

Delta Contracting Company, LLC

\$136,700.00

\$136,700.0000

Delta Contracting Company, LLC

\$4,437,014.47

# **TOTAL CONTRACT**

Delta Contracting Company, LLC

\$4,437,014.47

COUNTIES BENTON, CARROLL, CHESTER, CROCKETT, DECATUR, DYER, GIBSON, HARDEMAN, HARDIN, HAYWOOD, HENDERSON, HENRY, LAKE, MADISON, MCNAIRY, OBION, AND WEAKLEY (Contract No. CNR124 Call 026)

98049-4151-04

THE ON-CALL GUARDRAIL REPAIR AND NEW GUARDRAIL INSTALLATION ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

٦	$\Gamma \cap \overline{}$	ΓΔΙ		$\cap$ N	TR	ACT	Г
			ᆫ	$\mathbf{v}$		$\sim$	

F8th Construction Company, LLC	\$976,156.50
Southern Guard Rail Company, Inc.	\$983,447.40
RMD Holdings, LTD DBA Nationwide Construction Group	\$1,192,504.75
Tri-State Guardrail & Sign Co., Inc.	\$1,279,058.00

\$3,876.00

\$68.0000

			CONTRACT CNR124
		UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY			
705-01.01 GUARDRAIL AT BRIDGE ENDS			
	80.000 L.F.		
F8th Construction Company, LLC		\$36.0000	\$2,880.00
Southern Guard Rail Company, Inc.		\$45.0000	\$3,600.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$40.0000	\$3,200.00
Tri-State Guardrail & Sign Co., Inc.		\$68.0000	\$5,440.00
705-01.02 GUARDRAIL AT BRIDGE PIERS			
	12.000 L.F.		
F8th Construction Company, LLC		\$36.0000	\$432.00
Southern Guard Rail Company, Inc.		\$40.0000	\$480.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$35.0000	\$420.00
Tri-State Guardrail & Sign Co., Inc.		\$68.0000	\$816.00
705-01.04 METAL BEAM GUARD FENCE			
	57.000 L.F.		
F8th Construction Company, LLC		\$38.0000	\$2,166.00
Southern Guard Rail Company, Inc.		\$65.0000	\$3,705.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$40.0000	\$2,280.00

# 705-02.01 SINGLE GUARDRAIL, WITH RUB-RAIL (TYPE 2)

Tri-State Guardrail & Sign Co., Inc.

75.000 L.F.		
F8th Construction Company, LLC	\$14.0000	\$1,050.00
Southern Guard Rail Company, Inc.	\$14.0000	\$1,050.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$20.0000	\$1,500.00
Tri-State Guardrail & Sign Co., Inc.	\$21.0000	\$1,575.00

# 705-02.02 SINGLE GUARDRAIL (TYPE 2)

F8th Construction Company, LLC	\$15.0000	\$225,000.00
Southern Guard Rail Company, Inc.	\$16.0000	\$240,000.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$18.6500	\$279,750.00
Tri-State Guardrail & Sign Co., Inc.	\$20.0000	\$300,000.00

15,000.000 L.F.

#### 705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN

500.000 EACH		
F8th Construction Company, LLC	\$250.0000	\$125,000.00
Southern Guard Rail Company, Inc.	\$35.0000	\$17,500.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$475.0000	\$237,500.00
Tri-State Guardrail & Sign Co., Inc.	\$200.0000	\$100,000.00

### 705-02.20 SINGLE GUARDRAIL (TYPE 2) LONG POST (6 FT-9 FT)

2,338.000 L.F.		
F8th Construction Company, LLC	\$13.7500	\$32,147.50
Southern Guard Rail Company, Inc.	\$16.3000	\$38,109.40
RMD Holdings, LTD DBA Nationwide Construction Group	\$19.0000	\$44,422.00
Tri-State Guardrail & Sign Co., Inc.	\$21.0000	\$49,098.00

	UNIT PRICE	EXTENSION
705-02.25 SINGLE GUARDRAIL (TYPE 2) LONG POST (9 FT-12 FT)		
2	100.000 L.F.	
F8th Construction Company, LLC	\$13.7500	\$28,875.00
Southern Guard Rail Company, Inc.	\$16.4000	\$34,440.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$19.0000	\$39,900.00
Tri-State Guardrail & Sign Co., Inc.	\$22.0000	\$46,200.00
705-03.01 MEDIAN DIVIDER GUARDRAIL, WITH RUB-RAIL (TYPE 2)		
	13.000 L.F.	
F8th Construction Company, LLC	\$22.0000	\$286.00
Southern Guard Rail Company, Inc.	\$18.0000	\$234.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$28.0000	\$364.00
Tri-State Guardrail & Sign Co., Inc.	\$22.0000	\$286.00
705-03.02 MEDIAN DIVIDER GUARDRAIL (TYPE 2)		
	75.000 L.F.	
F8th Construction Company, LLC	\$22.0000	\$1,650.00
Southern Guard Rail Company, Inc.	\$20.0000	\$1,500.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$22.0000	\$1,650.00
Tri-State Guardrail & Sign Co., Inc.	\$22.0000	\$1,650.00
705-03.03 MEDIAN DIVIDER GUARDRAIL (TYPE 2) (27" MT HT)		
	25.000 L.F.	
F8th Construction Company, LLC	\$22.0000	\$550.00
Southern Guard Rail Company, Inc.	\$17.0000	\$425.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$22.0000	\$550.00
Tri-State Guardrail & Sign Co., Inc.	\$22.0000	\$550.00
705-03.04 MEDIAN DIVIDER GUARDRAIL AT CONCRETE BARRIER		
	25.000 L.F.	
F8th Construction Company, LLC	\$22.0000	\$550.00
Southern Guard Rail Company, Inc.	\$17.0000	\$425.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$22.0000	\$550.00
Tri-State Guardrail & Sign Co., Inc.	\$22.0000	\$550.00
705-04.02 GUARDRAIL TERMINAL (TYPE 12)		
	2.000 EACH	
F8th Construction Company, LLC	\$100.0000	\$200.00
Southern Guard Rail Company, Inc.	\$300.0000	\$600.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$300.0000	\$600.00
Tri-State Guardrail & Sign Co., Inc.	\$1,000.0000	\$2,000.00
705-04.03 GUARDRAIL TERMINAL (TYPE 13)		
•	6.000 EACH	
F8th Construction Company, LLC	\$400.0000	\$2,400.00
Southern Guard Rail Company, Inc.	\$400.0000	\$2,400.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$450.0000	\$2,700.00
Tri-State Guardrail & Sign Co., Inc.	\$575.0000	\$3,450.00

	UNIT PRICE	EXTENSION
705-04.05 GUARDRAIL TERMINAL (TYPE-IN-LINE)		
5.	000 EACH	
F8th Construction Company, LLC	\$400.0000	\$2,000.00
Southern Guard Rail Company, Inc.	\$400.0000	\$2,000.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$450.0000	\$2,250.00
Tri-State Guardrail & Sign Co., Inc.	\$575.0000	\$2,875.00
705-04.11 STONE FOR GUARDRAIL END TERMINAL PAD		
	000 TON	
F8th Construction Company, LLC	\$5.0000	\$7,000.00
Southern Guard Rail Company, Inc.	\$8.0000	\$11,200.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$8.0000 \$24.0000	\$11,200.00 \$33,600.00
Tri-State Guardrail & Sign Co., Inc.	\$24.0000	φ33,000.00
705-04.29 C-A-T CRASH CUSHION ATTENUATING TERMINAL		
	000 EACH	
F8th Construction Company, LLC	\$1,500.0000	\$3,000.00
Southern Guard Rail Company, Inc.	\$3,900.0000	\$7,800.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$2,800.0000	\$5,600.00
Tri-State Guardrail & Sign Co., Inc.	\$5,000.0000	\$10,000.00
705-06.01 W BEAM GR (TYPE 2) MASH TL3		
125.	000 L.F.	
F8th Construction Company, LLC	\$16.0000	\$2,000.00
Southern Guard Rail Company, Inc.	\$17.9000	\$2,237.50
RMD Holdings, LTD DBA Nationwide Construction Group	\$18.6500	\$2,331.25
Tri-State Guardrail & Sign Co., Inc.	\$23.0000	\$2,875.00
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL3		
5.	000 EACH	
F8th Construction Company, LLC	\$500.0000	\$2,500.00
Southern Guard Rail Company, Inc.	\$945.0000	\$4,725.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$850.0000	\$4,250.00
Tri-State Guardrail & Sign Co., Inc.	\$1,200.0000	\$6,000.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL3		
5.	000 EACH	
F8th Construction Company, LLC	\$500.0000	\$2,500.00
Southern Guard Rail Company, Inc.	\$400.0000	\$2,000.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$850.0000	\$4,250.00
Tri-State Guardrail & Sign Co., Inc.	\$1,200.0000	\$6,000.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3		
166.	000 EACH	
F8th Construction Company, LLC	\$2,100.0000	\$348,600.00
Southern Guard Rail Company, Inc.	\$2,510.0000	\$416,660.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$2,575.0000	\$427,450.00
Tri-State Guardrail & Sign Co., Inc.	\$2,600.0000	\$431,600.00

		UNIT PRICE	EXTENSION
		ONITTRICE	EXTENSION
705-06.30 GR TERMINAL (TYPE 21) MASH TL2			
• •	5.000 EACH		
F8th Construction Company, LLC		\$1,500.0000	\$7,500.00
Southern Guard Rail Company, Inc.		\$2,300.0000	\$11,500.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$2,575.0000	\$12,875.00
Tri-State Guardrail & Sign Co., Inc.		\$2,500.0000	\$12,500.00
705-10.30 GUARDRAIL ATTACHMENT TO SLOPE FACE ENDPOST			
	45.000 L.F.		
F8th Construction Company, LLC		\$50.0000	\$2,250.00
Southern Guard Rail Company, Inc.		\$70.0000	\$3,150.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$49.0000	\$2,205.00
Tri-State Guardrail & Sign Co., Inc.		\$68.0000	\$3,060.00
705-10.31 GUARDRAIL ATTACHMENT TO VERTICAL FACE ENDPOST			
	9.000 L.F.		
F8th Construction Company, LLC		\$22.0000	\$198.00
Southern Guard Rail Company, Inc.		\$81.0000	\$729.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$35.0000	\$315.00
Tri-State Guardrail & Sign Co., Inc.		\$68.0000	\$612.00
705-10.32 GUARDRAIL ATTACHMENT TO EXISTING BRIDGE PIER PRO	DTECTION		
	2.000 EACH		
F8th Construction Company, LLC		\$100.0000	\$200.00
Southern Guard Rail Company, Inc.		\$900.0000	\$1,800.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$35.0000	\$70.00
Tri-State Guardrail & Sign Co., Inc.		\$1,200.0000	\$2,400.00
706-01 GUARDRAIL REMOVED			
	350.000 L.F.		
F8th Construction Company, LLC		\$1.0000	\$350.00
Southern Guard Rail Company, Inc.		\$4.0000	\$1,400.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$1.0000	\$350.00
Tri-State Guardrail & Sign Co., Inc.		\$8.0000	\$2,800.00
706-02.21 RESET SINGLE GUARDRAIL (TYPE 2)			
,	350.000 L.F.		
F8th Construction Company, LLC		\$1.0000	\$350.00
Southern Guard Rail Company, Inc.		\$3.5000	\$1,225.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$2.0000	\$700.00
Tri-State Guardrail & Sign Co., Inc.		\$5.0000	\$1,750.00
706-03.01 POSTS FURNISHED			
	9.000 EACH		
F8th Construction Company, LLC		\$38.0000	\$342.00
Southern Guard Rail Company, Inc.		\$70.0000	\$630.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$95.0000	\$855.00
Tri-State Guardrail & Sign Co., Inc.		\$90.0000	\$810.00

	UNIT PRICE	EXTENSION
	om mae	2/(12/10/01/
706-06.01 SINGLE THRIE RAIL (TYPE 2)		
2	25.000 L.F.	
F8th Construction Company, LLC	\$20.0000	\$500.00
Southern Guard Rail Company, Inc.	\$20.0000	\$500.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$28.0000	\$700.00
Tri-State Guardrail & Sign Co., Inc.	\$30.0000	\$750.00
706-06.02 MEDIAN DIVIDER THRIE RAIL (TYPE 2)		
2	25.000 L.F.	
F8th Construction Company, LLC	\$20.0000	\$500.00
Southern Guard Rail Company, Inc.	\$24.0000	\$600.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$28.0000	\$700.00
Tri-State Guardrail & Sign Co., Inc.	\$35.0000	\$875.00
706-06.03 RADIUS RAIL		
17	75.000 L.F.	
F8th Construction Company, LLC	\$20.0000	\$3,500.00
Southern Guard Rail Company, Inc.	\$29.1000	\$5,092.50
RMD Holdings, LTD DBA Nationwide Construction Group	\$20.0000	\$3,500.00
Tri-State Guardrail & Sign Co., Inc.	\$30.0000	\$5,250.00
706-06.05 RADIUS RAIL LONG POST (6-9 FT)		
	38.000 L.F.	
F8th Construction Company, LLC	\$20.0000	\$760.00
Southern Guard Rail Company, Inc.	\$20.0000	\$760.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$20.0000	\$760.00
Tri-State Guardrail & Sign Co., Inc.	\$32.0000	\$1,216.00
706-06.06 RADIUS RAIL LONG POST (9-12 FT)		
	38.000 L.F.	
F8th Construction Company, LLC	\$20.0000	\$760.00
Southern Guard Rail Company, Inc.	\$20.0000	\$760.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$20.0000	\$760.00
Tri-State Guardrail & Sign Co., Inc.	\$34.0000	\$1,292.00
706-10.26 ROUNDED END ELEMENT		
	2.000 EACH	
F8th Construction Company, LLC	\$50.0000	\$600.00
Southern Guard Rail Company, Inc.	\$100.0000	\$1,200.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$40.0000	\$480.00
Tri-State Guardrail & Sign Co., Inc.	\$75.0000	\$900.00
706-10.54 RE-ALIGN GUARDRAIL		
	50.000 L.F.	
F8th Construction Company, LLC	\$1.0000	\$1,050.00
Southern Guard Rail Company, Inc.	\$10.9000	\$11,445.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$2.0000	\$2,100.00
Tri-State Guardrail & Sign Co., Inc.	\$5.0000	\$5,250.00

		UNIT PRICE	EXTENSION
706-10.71 HAZARD MARKERS			
	3.000 EACH		
F8th Construction Company, LLC		\$10.0000	\$30.00
Southern Guard Rail Company, Inc.		\$50.0000	\$150.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$22.5000	\$67.50
Tri-State Guardrail & Sign Co., Inc.		\$24.0000	\$72.00
706-10.72 PULL AND REINSTALL GUARDARAIL POST FOR VERIFICATION			
	3.000 EACH		
F8th Construction Company, LLC		\$10.0000	\$30.00
Southern Guard Rail Company, Inc.		\$25.0000	\$75.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$35.0000	\$105.00
Tri-State Guardrail & Sign Co., Inc.		\$75.0000	\$225.00
706-10.74 CONCRETE BARRIER WALL REPAIR			
	3.000 C.Y.		
F8th Construction Company, LLC		\$1,500.0000	\$4,500.00
Southern Guard Rail Company, Inc.		\$2,600.0000	\$7,800.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$1,500.0000	\$4,500.00
Tri-State Guardrail & Sign Co., Inc.		\$3,000.0000	\$9,000.00
706-10.80 MICHIGAN AND MODIFIED MICHIGAN END SHOE			
	3.000 EACH		
F8th Construction Company, LLC		\$50.0000	\$150.00
Southern Guard Rail Company, Inc.		\$50.0000	\$150.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$50.0000	\$150.00
Tri-State Guardrail & Sign Co., Inc.		\$65.0000	\$195.00
706-10.81 GUARDRAIL REFLECTORS			
	30.000 EACH		
F8th Construction Company, LLC		\$10.0000	\$300.00
Southern Guard Rail Company, Inc.		\$28.0000	\$840.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$6.5000	\$195.00
Tri-State Guardrail & Sign Co., Inc.		\$32.0000	\$960.00
706-10.82 CONCRETE BRIDGE END OR PIER PROTECTION REPAIR			
	2.000 C.Y.		
F8th Construction Company, LLC		\$1,000.0000	\$2,000.00
Southern Guard Rail Company, Inc.		\$3,000.0000	\$6,000.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$1,000.0000	\$2,000.00
Tri-State Guardrail & Sign Co., Inc.		\$3,500.0000	\$7,000.00
706-10.83 DRILL BR. PAR. WALL FOR MICHIGAN END SHOE			
	2.000 EACH		
F8th Construction Company, LLC		\$250.0000	\$500.00
Southern Guard Rail Company, Inc.		\$300.0000	\$600.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$200.0000	\$400.00
Tri-State Guardrail & Sign Co., Inc.		\$350.0000	\$700.00

#### CONTRACT CNR124

		-	
		UNIT PRICE	EXTENSION
712-01.02 LANE CLOSURE			
	160.000 EACH		
F8th Construction Company, LLC		\$600.0000	\$96,000.00
Southern Guard Rail Company, Inc.		\$400.0000	\$64,000.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$400.0000	\$64,000.00
Tri-State Guardrail & Sign Co., Inc.		\$500.0000	\$80,000.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
	50.000 DAY		
F8th Construction Company, LLC		\$200.0000	\$10,000.00
Southern Guard Rail Company, Inc.		\$1,200.0000	\$60,000.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$300.0000	\$15,000.00
Tri-State Guardrail & Sign Co., Inc.		\$1,750.0000	\$87,500.00
717-01 MOBILIZATION			
	1.000 LS		
F8th Construction Company, LLC		\$40,000.0000	\$40,000.00
Southern Guard Rail Company, Inc.		\$10,000.0000	\$10,000.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$500.0000	\$500.00
Tri-State Guardrail & Sign Co., Inc.		\$26,000.0000	\$26,000.00
717-01.04 MOBILIZATION (EMERGENCY CALL-OUT)			
	13.000 EACH		
F8th Construction Company, LLC		\$1,000.0000	\$13,000.00
Southern Guard Rail Company, Inc.		\$150.0000	\$1,950.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$500.0000	\$6,500.00
Tri-State Guardrail & Sign Co., Inc.		\$1,500.0000	\$19,500.00

# **SUB-TOTAL MAINTENANCE**

RMD Holdings, LTD DBA Nationwide Construction Group	\$1,192,504.75
Tri-State Guardrail & Sign Co., Inc.	\$1,279,058.00
F8th Construction Company, LLC	\$976,156.50
Southern Guard Rail Company, Inc.	\$983,447.40

#### **TOTAL CONTRACT**

F8th Construction Company, LLC	\$976,156.50
Southern Guard Rail Company, Inc.	\$983,447.40
RMD Holdings, LTD DBA Nationwide Construction Group	\$1,192,504.75
Tri-State Guardrail & Sign Co., Inc.	\$1,279,058.00

COUNTIES BENTON, CARROLL, CHESTER, GIBSON, HARDEMAN, HARDIN, HENRY, MADISON, AND SHELBY (Contract No. CNR117 Call 027)

98049-4149-04

THE RANDOM ON-CALL ATTENUATOR REPAIRS ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

TOTAL CONTRACT

 LU, Inc.
 \$694,255.26

 F8th Construction Company, LLC
 \$782,829.30

Traf-Mark Industries, L.L.C. \$992,116.30

				CONTRACT CNR117
			UNIT PRICE	EXTENSION
MAINTEN	IANCE CATEGORY			
705-07.96	REDIRECTIVE CRASH CUSHION(REACT 350)(9 BARREL)			
		1.000 EACH		
	LU, Inc.		\$31,500.0000	\$31,500.00
	F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$32,500.0000 \$39,960.0000	\$32,500.00 \$39,960.00
705 07 07	DEACT SEGUIC DADDEL VITE SVATTENHATOD			
705-07.97	REACT 350 II (6 BARREL) (TL-3) ATTENUATOR	1.000 EACH		
	LU, Inc.	1.000 EACH	\$24,250.0000	\$24,250.00
	F8th Construction Company, LLC		\$25,000.0000	\$25,000.00
	Traf-Mark Industries, L.L.C.		\$32,000.0000	\$32,000.00
705-08.21	IMPACT ATTENUATOR (TAU-II PARALLEL)			
		1.000 EACH		
	LU, Inc.		\$14,000.0000	\$14,000.00
	F8th Construction Company, LLC		\$14,000.0000	\$14,000.00
	Traf-Mark Industries, L.L.C.		\$20,800.0000	\$20,800.00
705-08.22	IMPACT ATTENUATOR (TAU-II WIDE)			
		1.000 EACH		
	LU, Inc.		\$26,500.0000	\$26,500.00
	F8th Construction Company, LLC		\$27,000.0000	\$27,000.00
	Traf-Mark Industries, L.L.C.		\$36,990.0000	\$36,990.00
705-08.23	REPOSITIONING IMPACT ATTENUATOR (TAU-II)			
		2.000 EACH		
	LU, Inc.		\$1,350.0000	\$2,700.00
	F8th Construction Company, LLC		\$1,500.0000 \$1,900.0000	\$3,000.00 \$3,800.00
	Traf-Mark Industries, L.L.C.		\$1,900.0000	φ3,600.00
705-08.25	TAU-II ENERGY ABSORBING CARTRIDGE TYPE A (UNIVERSAL)			
	111 15-	6.000 EACH	Фооо оооо	<b>#0.000.00</b>
	LU, Inc. F8th Construction Company, LLC		\$600.0000 \$1,000.0000	\$3,600.00 \$6,000.00
	Traf-Mark Industries, L.L.C.		\$985.0000	\$5,910.00
705-08.26	TAU-II ENERGY ABSORBING CARTRIDGE TYPE B (UNIVERSAL)			
	· (	7.000 EACH		
	LU, Inc.		\$600.0000	\$4,200.00
	F8th Construction Company, LLC		\$1,000.0000	\$7,000.00
	Traf-Mark Industries, L.L.C.		\$985.0000	\$6,895.00
705-08.28	TAU-II FRONT SUPPORT ASSEMBLY (UNIVERSAL)			
		1.000 EACH		
			<b>*</b>	A

LU, Inc.

F8th Construction Company, LLC Traf-Mark Industries, L.L.C.

\$1,000.00

\$1,000.00

\$1,650.00

\$1,000.0000 \$1,000.0000

\$1,650.0000

	UNIT PRICE	EXTENSION
705-08.29 TAU-II FRONT SUPPORT LEG KIT (UNIVERSAL)		
	1.000 EACH	
LU, Inc.	\$275.0000	\$275.00
F8th Construction Company, LLC	\$250.0000	\$250.00
Traf-Mark Industries, L.L.C.	\$500.0000	\$500.00
705-08.30 TAU-II MID SUPPORT ASSEMBLY (UNIVERSAL)		
	6.000 EACH	
LU, Inc.	\$950.0000	\$5,700.00
F8th Construction Company, LLC	\$1,250.0000	\$7,500.00
Traf-Mark Industries, L.L.C.	\$2,065.0000	\$12,390.00
705-08.32 TAU-II SLIDER KIT (UNIVERSAL)		
	1.000 EACH	
LU, Inc.	\$238.0000	\$238.00
F8th Construction Company, LLC	\$500.0000	
Traf-Mark Industries, L.L.C.	\$715.0000	\$715.00
705-08.33 TAU-II SLIDING PANEL (UNIVERSAL)		
	6.000 EACH	
LU, Inc.	\$300.0000	\$1,800.00
F8th Construction Company, LLC	\$500.0000	
Traf-Mark Industries, L.L.C.	\$450.0000	\$2,700.00
705-08.34 TAU-II NOSE PIECE (PARALLEL UNIT)		
	3.000 EACH	
LU, Inc.	\$680.0000	\$2,040.00
F8th Construction Company, LLC	\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.	\$1,022.0000	\$3,066.00
705-08.36 TAU-II NOSE PIECE (WIDE UNIT)		
	1.000 EACH	
LU, Inc.	\$580.0000	\$580.00
F8th Construction Company, LLC	\$750.0000	
Traf-Mark Industries, L.L.C.	\$1,575.0000	\$1,575.00
705-08.66 RIP PLATE REPAIR KIT, STAGE 1		
	5.000 EACH	
LU, Inc.	\$750.0000	\$3,750.00
F8th Construction Company, LLC	\$1,000.0000	\$5,000.00
Traf-Mark Industries, L.L.C.	\$983.0000	\$4,915.00
705-08.67 RIP PLATE REPAIR KIT, STAGE 2		
	5.000 EACH	
LU, Inc.	\$1,000.0000	
F8th Construction Company, LLC	\$1,000.0000	
Traf-Mark Industries, L.L.C.	\$1,900.0000	\$9,500.00

CONTRACT (	С	N	IR	1	17	7
------------	---	---	----	---	----	---

		UNIT PRICE	EXTENSION
705-08.69 PLA	ASTIC NOSE PIECE/REFLECTOR		
	3.000 EAG	СН	
LU,	, Inc.	\$510.0000	\$1,530.00
	th Construction Company, LLC	\$500.0000	\$1,500.00
Tra	af-Mark Industries, L.L.C.	\$684.0000	\$2,052.00
705-08.80 SID	DE PANEL - 35"		
	3.000 EAG	СН	
LU,	, Inc.	\$283.3300	\$849.99
F8t	th Construction Company, LLC	\$500.0000	\$1,500.00
Tra	af-Mark Industries, L.L.C.	\$462.0000	\$1,386.00
705-08.81 SID	DE PANEL - 62"		
	1.000 EAG	СН	
LU,	, Inc.	\$375.0000	\$375.00
F8t	th Construction Company, LLC	\$500.0000	\$500.00
Tra	af-Mark Industries, L.L.C.	\$588.0000	\$588.00
705-08.90 IMP	PACT ATTENUATOR (2005 TRACC)		
	2.000 EAG	СН	
LU,	, Inc.	\$12,500.0000	\$25,000.00
F8t	th Construction Company, LLC	\$12,500.0000	\$25,000.00
Tra	af-Mark Industries, L.L.C.	\$19,357.0000	\$38,714.00
705-08.91 REI	POSITIONING VEHCULR IMP ATTN(2005TRACC)		
	5.000 EAG	СН	
LU,	, Inc.	\$1,350.0000	\$6,750.00
	th Construction Company, LLC	\$1,250.0000	\$6,250.00
Tra	af-Mark Industries, L.L.C.	\$1,400.0000	\$7,000.00
705-08.92 05 I	RIP PLATE REPAIR KIT STAGE 2		
	2.000 EAG	СН	
	, Inc.	\$552.5000	\$1,105.00
	th Construction Company, LLC	\$500.0000	\$1,000.00
Tra	af-Mark Industries, L.L.C.	\$1,085.0000	\$2,170.00
705-09.10 IMP	PACT ATTENUATOR (SCI100GM)		
	1.000 EAG	СН	
	, Inc.	\$26,620.0000	\$26,620.00
	th Construction Company, LLC	\$17,500.0000	\$17,500.00
Tra	af-Mark Industries, L.L.C.	\$24,700.0000	\$24,700.00
705-09.11 REI	POSITIONING OF IMPACT ATTENUATOR (SCI100GM)		
	2.000 EAG	СН	
	, Inc.	\$1,000.0000	\$2,000.00
	th Construction Company, LLC	\$1,000.0000	\$2,000.00
Tra	af-Mark Industries, L.L.C.	\$1,100.0000	\$2,200.00

				CONTRACT CNR117
			UNIT PRICE	EXTENSION
705-09.35	PANEL DELINEATOR (W/REFLECTIVE HAZARD MARKER)			
		1.000 EACH		
	LU, Inc.		\$128.0000	\$128.00
	F8th Construction Company, LLC		\$250.0000	\$250.00
	Traf-Mark Industries, L.L.C.		\$158.0000	\$158.00
705 14 21	SC B-U CABLE STRAP ASSY			
705-14.21	SC B-U CABLE STRAP ASST	4 000 54 011		
	LU, Inc.	1.000 EACH	¢4.40.0000	¢1.40.00
	F8th Construction Company, LLC		\$140.0000 \$250.0000	\$140.00 \$250.00
	Traf-Mark Industries, L.L.C.		\$270.0000	\$270.00
			<del></del>	<del>+</del> =:
705-14.22	CONC. B-U CABLE STRAP ASSY			
		1.000 EACH		
	LU, Inc.		\$140.0000	\$140.00
	F8th Construction Company, LLC		\$250.0000	\$250.00
	Traf-Mark Industries, L.L.C.		\$371.0000	\$371.00
705 44 20	DEDOCITIONING IMPACT ATTENUATOR/DEACT 250)			
705-14.30	REPOSITIONING IMPACT ATTENUATOR(REACT 350)	0.000 FAOU		
		2.000 EACH	£4 000 0000	¢2,000,00
	LU, Inc. F8th Construction Company, LLC		\$1,000.0000 \$1,000.0000	\$2,000.00 \$2,000.00
	Traf-Mark Industries, L.L.C.		\$1,100.0000	\$2,200.00
			<b>4</b> 1,1001000	<del>+-,</del>
705-14.56	REFLECTIVE NOSE LEFT/RIGHT			
		2.000 EACH		
	LU, Inc.		\$425.0000	\$850.00
	F8th Construction Company, LLC		\$500.0000	\$1,000.00
	Traf-Mark Industries, L.L.C.		\$822.0000	\$1,644.00
705 45 05	OUADOUADD II IMDAOT ATTENUATOD (DEDOCITIONINO)			
705-15.65	QUADGUARD II IMPACT ATTENUATOR (REPOSITIONING)			
	111.1	8.000 EACH	<b>#4</b> 050 0000	<b>#</b> 40,000,00
	LU, Inc. F8th Construction Company, LLC		\$1,350.0000 \$2,000.0000	\$10,800.00 \$16,000.00
	Traf-Mark Industries, L.L.C.		\$1,450.0000	\$11,600.00
	Tal Mark Hiddelioo, E.E.O.		ψ1, 100.0000	ψ11,000.00
705-15.66	QUADGUARD II IMPACT ATTENUATOR (WIDE)			
		1.000 EACH		
	LU, Inc.		\$24,100.0000	\$24,100.00
	F8th Construction Company, LLC		\$25,000.0000	\$25,000.00
	Traf-Mark Industries, L.L.C.		\$30,300.0000	\$30,300.00

5.000 EACH

705-15.67 QUADGUARD II IMPACT ATTENUATOR

Traf-Mark Industries, L.L.C.

F8th Construction Company, LLC

LU, Inc.

\$72,500.00

\$75,000.00

\$114,575.00

\$14,500.0000

\$15,000.0000

\$22,915.0000

CONTRACT	CNR117
CONTRACT	CNR117

		UNIT PRICE	EXTENSION
705-15.68 NOSE ASSEMBLY QGII STEEL			
	5.000 EACH		
LU, Inc.		\$1,400.0000	\$7,000.00
F8th Construction Company, LLC		\$1,500.0000	\$7,500.00
Traf-Mark Industries, L.L.C.		\$1,091.0000	\$5,455.00
705-15.69 SHIM KIT QGII			
	25.000 EACH		
LU, Inc.		\$50.0000	\$1,250.00
F8th Construction Company, LLC		\$100.0000	\$2,500.00
Traf-Mark Industries, L.L.C.		\$110.0000	\$2,750.00
705-15.71 HEX FOAM CARTRIDGE, TYPE I			
	15.000 EACH		
LU, Inc.		\$940.0000	\$14,100.00
F8th Construction Company, LLC		\$1,000.0000	\$15,000.00
Traf-Mark Industries, L.L.C.		\$1,050.0000	\$15,750.00
705-15.72 HEX FOAM CARTRIDGE, TYPE II			
	20.000 EACH		
LU, Inc.		\$900.0000	\$18,000.00
F8th Construction Company, LLC		\$1,000.0000	\$20,000.00
Traf-Mark Industries, L.L.C.		\$1,070.0000	\$21,400.00
705-15.74 DIAPHRAGM ASSEMBLY, QC			
	6.000 EACH		
LU, Inc.		\$1,275.0000	\$7,650.00
F8th Construction Company, LLC		\$1,250.0000	\$7,500.00
Traf-Mark Industries, L.L.C.		\$1,415.0000	\$8,490.00
705-15.75 FENDER PANEL ASSEMBLY			
	5.000 EACH		
LU, Inc.		\$750.0000	\$3,750.00
F8th Construction Company, LLC		\$750.0000	\$3,750.00
Traf-Mark Industries, L.L.C.		\$900.0000	\$4,500.00
705-15.92 TRANS PANEL NEW JERSEY BARRIER WIDE			
	1.000 EACH		
LU, Inc.		\$815.0000	\$815.00
F8th Construction Company, LLC		\$1,000.0000	\$1,000.00
Traf-Mark Industries, L.L.C.		\$1,050.0000	\$1,050.00
705-15.93 TRANS PANEL QUAD TO W WIDE			
	1.000 EACH		
LU, Inc.		\$1,300.0000	\$1,300.00
F8th Construction Company, LLC		\$1,500.0000	\$1,500.00
Traf-Mark Industries, L.L.C.		\$1,630.0000	\$1,630.00

CONTRACT CNR117	CO	NTR	ACT	CNR117	٠
-----------------	----	-----	-----	--------	---

		00	WINACI CINCIII
		UNIT PRICE	EXTENSION
705-16.75 HAZARD REFLECTORS			
	10.000 EACH		
LU, Inc.		\$127.5000	\$1,275.00
F8th Construction Company, LLC		\$200.0000	\$2,000.00
Traf-Mark Industries, L.L.C.		\$100.0000	\$1,000.00
705-16.77 REPAIR OF CONCRETE BACKUP WALL			
	5.000 S.F.		
LU, Inc.		\$21.2500	\$106.25
F8th Construction Company, LLC		\$25.0000	\$125.00
Traf-Mark Industries, L.L.C.		\$100.0000	\$500.00
705-17.08 CARTRIDGE SUPPORT BRACKETS			
	4.000 EACH		
LU, Inc.		\$45.0000	\$180.00
F8th Construction Company, LLC		\$100.0000	\$400.00
Traf-Mark Industries, L.L.C.		\$92.0000	\$368.00
'		·	
705-17.24 HDPE NOSE PIECE			
	2.000 EACH		
LU, Inc.	2.000 LAOI1	\$782.0000	\$1,564.00
F8th Construction Company, LLC		\$1,000.0000	\$2,000.00
Traf-Mark Industries, L.L.C.		\$1,075.0000	\$2,150.00
		<b>,</b> , ,	, ,
705-17.32 BREAKAWAY POST (TOP)			
,	1.000 EACH		
LU, Inc.	1.000 LAGIT	\$166.8200	\$166.82
F8th Construction Company, LLC		\$200.0000	\$200.00
Traf-Mark Industries, L.L.C.		\$354.0000	\$354.00
		<b>400000</b>	φουσσ
705-17.33 BREAKAWAY BOLT ASSEMBLY			
	1.000 EACH		
LU, Inc.	1.000 EAGH	\$8.5000	\$8.50
F8th Construction Company, LLC		\$10.0000	\$10.00
Traf-Mark Industries, L.L.C.		\$25.0000	\$25.00
Trai Mark maddines, E.E.O.		Ψ20.0000	Ψ20.00
705-17.35 IMPACT ATTENUATOR (HEART)			
	1.000 EACH		
	1.000 EACH	¢47.466.6700	\$47.466.67
LU, Inc. F8th Construction Company, LLC		\$17,466.6700 \$25,000.0000	\$17,466.67 \$25,000.00
Traf-Mark Industries, L.L.C.		\$25,000.0000	\$25,000.00 \$24,450.00
Har-Main Hidustiles, L.L.O.		Ψ <del>Δ+,+</del> JU.UUUU	ΨΔ4,430.00
705-17.71 WIDETRACC CABLE SYSTEM (W/ HARDWARE)			
100 THE THREE TRACE CADEL STOTEM (W) HARDWARE)	4 000 5 4 011		
111 1	1.000 EACH	<b>4075 7000</b>	4077 70
LU, Inc.		\$275.7300	\$275.73
F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$500.0000 \$400.0000	\$500.00 \$400.00
Har-wark industites, L.L.C.		φ400.0000	φ400.00

		CONTRACT CNR117
	UNIT PR	ICE EXTENSION
705-17.72 WIDETRACC FRAME (W/ HARDWARE)		
	1.000 EACH	
LU, Inc.	\$412.62	
F8th Construction Company, LLC Traf-Mark Industries, L.L.C.	\$750.00 \$600.00	
Trai mant maastros, E.E.S.	ψουσίοι	φουσ
705-17.73 WIDETRACC EXTENSION FOOT (RIGHT) (W/ HARDWARE)		
	1.000 EACH	
LU, Inc.	\$543.69	
F8th Construction Company, LLC	\$750.00	
Traf-Mark Industries, L.L.C.	\$750.00	000 \$750.00
705-17.74 WIDETRACC EXTENSION FOOT (LEFT) (W/ HARDWARE)		
(, (	1.000 EACH	
LU, Inc.	\$543.69	900 \$543.69
F8th Construction Company, LLC	\$750.00	
Traf-Mark Industries, L.L.C.	\$750.00	900 \$750.00
705-17.89 HEART REFLECTIVE TAPE		
III lea	4.000 EACH	000
LU, Inc. F8th Construction Company, LLC	\$85.00 \$100.00	
Traf-Mark Industries, L.L.C.	\$180.00	
,	·	·
705-17.92 REPOSITIONING IMPACT ATTENUATOR (HEART)		
	1.000 EACH	
LU, Inc.	\$1,000.00	
F8th Construction Company, LLC	\$1,000.00	
Traf-Mark Industries, L.L.C.	\$1,385.00	000 \$1,385.00
705-17.93 IMPACT ATTENUATOR (WIDETRACC 2005)		
700 mis min // 1 / 1 / 2 / 10 / 10 / 2 / 10 / 2 / 2 / 2 / 2 / 2 / 2 / 2 / 2 / 2 /	1.000 EACH	
LU, Inc.	\$19,000.00	\$19,000.00
F8th Construction Company, LLC	\$25,000.00	
Traf-Mark Industries, L.L.C.	\$29,970.00	
705-20.01 M10 ATTENUATOR	4 000 54 CU	
III Inc	1.000 EACH	)00
LU, Inc. F8th Construction Company, LLC	\$20,000.00 \$20,000.00	
Traf-Mark Industries, L.L.C.	\$27,530.00	
	<del></del> ,000.00	<del></del>
705-20.02 QUADGUARD TO M10 ATTENUATOR RETROFIT		

3.000 EACH

LU, Inc.

F8th Construction Company, LLC

Traf-Mark Industries, L.L.C.

\$39,000.00

\$75,000.00

\$51,900.00

\$13,000.0000

\$25,000.0000

\$17,300.0000

		UNIT PRICE	EXTENSION
705-20.03 REPOSITIONING IMPACT ATTENUATOR (M10)			
	3.000 EACH		
LU, Inc.	0.000 =	\$1,300.0000	\$3,900.00
F8th Construction Company, LLC		\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.		\$1,300.0000	\$3,900.00
Hai-Mark industries, E.E.O.		ψ1,500.0000	ψ3,300.00
705-20.04 NOSE ASSEMBLY, M10			
703-20.04 NOSE ASSEMBET, MT0			
	3.000 EACH		
LU, Inc.		\$1,200.0000	\$3,600.00
F8th Construction Company, LLC		\$250.0000	\$750.00
Traf-Mark Industries, L.L.C.		\$1,174.0000	\$3,522.00
705-20.05 HEX FOAM CARTRIDGE, TYPE M1			
	3.000 EACH		
LU, Inc.		\$1,000.0000	\$3,000.00
F8th Construction Company, LLC		\$500.0000	\$1,500.00
Traf-Mark Industries, L.L.C.		\$1,163.0000	\$3,489.00
705-20.30 BELT NOSEPIECE, YELLOW, 24"-36" (QGE, QGEM)			
	2.000 EACH		
LU, Inc.	2.000 LAGI1	\$3,200.0000	\$6,400.00
F8th Construction Company, LLC		\$5,200.0000	\$1,000.00
Traf-Mark Industries, L.L.C.		\$3,770.0000	\$7,540.00
Hai-iviaik ilidustiles, E.E.O.		φ3,770.0000	Ψ7,540.00
705 20 24 DELT NOCEDIFOE VELLOW COULOU! (OCE OCEM)			
705-20.31 BELT NOSEPIECE, YELLOW, 69"-90" (QGE, QGEM)			
	2.000 EACH		
LU, Inc.		\$3,400.0000	\$6,800.00
F8th Construction Company, LLC		\$500.0000	\$1,000.00
Traf-Mark Industries, L.L.C.		\$4,550.0000	\$9,100.00
705-20.32 QGE HIT INDICATOR			
	3.000 EACH		
LU, Inc.		\$300.0000	\$900.00
F8th Construction Company, LLC		\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.		\$530.0000	\$1,590.00
705-20.33 QGE CYLINDER TYPE I (QGE)			
	3.000 EACH		
LU, Inc.	0.000 E7(011	\$1,900.0000	\$5,700.00
F8th Construction Company, LLC		\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.		\$2,500.0000	\$7,500.00
Trai mant industries, L.L.O.		ΨΖ,000.0000	Ψ1,500.00
705-20.34 QGE CYLINDER TYPE II (QGE)			
100-20.07 WOL OTHINDER TIFE II (WOL)			
	3.000 EACH	<b>A</b> c	<b>.</b>
LU, Inc.		\$2,600.0000	\$7,800.00
F8th Construction Company, LLC		\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.		\$3,260.0000	\$9,780.00

CONTRACT CN	NKI	17
-------------	-----	----

	UNIT PRICE	EXTENSION
705-20.35 QGE CYLINDER ME1 (QGEM)		
· ·	3.000 EACH	
LU, Inc.	\$1,600.0000	\$4,800.00
F8th Construction Company, LLC	\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.	\$2,110.0000	\$6,330.00
705-20.36 QGE CYLINDER ME2 (QGEM)		
7.55 25:55 202 0.12:152:17 1122 (202111)	3.000 EACH	
LU, Inc.	\$1,650.0000	\$4,950.00
F8th Construction Company, LLC	\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.	\$2,290.0000	\$6,870.00
705-20.37 QGE CYLINDER ME3 (QGEM)		
	3.000 EACH	
LU, Inc.	\$3,200.0000	\$9,600.00
F8th Construction Company, LLC	\$1,000.0000	\$3,000.00
Traf-Mark Industries, L.L.C.	\$4,020.0000	\$12,060.00
705-20.38 QGEM EXTENSION BACKUP (BACKUP DIAPHRAGM)		
,	2.000 EACH	
LU, Inc.	\$250.0000	\$500.00
F8th Construction Company, LLC	\$1,000.0000	\$2,000.00
Traf-Mark Industries, L.L.C.	\$1,720.0000	\$3,440.00
705-20.39 QGEM EXTENSION BACKUP (DIAPHRAGM)		
	2.000 EACH	
LU, Inc.	\$185.0000	\$370.00
F8th Construction Company, LLC	\$1,500.0000	\$3,000.00
Traf-Mark Industries, L.L.C.	\$1,290.0000	\$2,580.00
705-20.40 QUAD GUARD ELITE RETROFIT TO QG ELITE M10		
	2.000 EACH	
LU, Inc.	\$1,800.0000	\$3,600.00
F8th Construction Company, LLC	\$2,500.0000	\$5,000.00
Traf-Mark Industries, L.L.C.	\$23,300.0000	\$46,600.00
712-01.50 MAINTENANCE OF TRAFFIC		
	12.000 EACH	
LU, Inc.	\$900.0000	\$10,800.00
F8th Construction Company, LLC	\$2,500.0000	\$30,000.00
Traf-Mark Industries, L.L.C.	\$1,000.0000	\$12,000.00
712-01.52 MAINTENANCE OF TRAFFIC (NIGHT WORK)		
	6.000 EACH	
LU, Inc.	\$637.0000	\$3,822.00
F8th Construction Company, LLC	\$2,500.0000	\$15,000.00
Traf-Mark Industries, L.L.C.	\$700.0000	\$4,200.00

				CONTRACT	CNR117
			UNIT PRICE	EXTE	ENSION
712-09 20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD				
7 12-00.20	TRUCK MOUNTED ATTENDATOR WIMSSAGE BOARD	20 000 DAV			
		20.000 DAY		• • •	
	LU, Inc.		\$2,000.0000	\$40	,000.00
	F8th Construction Company, LLC		\$1,500.0000	\$30	,000.00
	Traf-Mark Industries, L.L.C.		\$5,000.0000	\$100	,000.00
717-01	MOBILIZATION				
		1.000 LS			
	LU, Inc.		\$25,500.0000	\$25	,500.00
	F8th Construction Company, LLC		\$50,000.0000		,000.00

Traf-Mark Industries, L.L.C.

\$30,000.0000

\$30,000.00

			NIKACI CNKIII
MAINTENANCE CONTINGENCY CATEGORY		UNIT PRICE	EXTENSION
705-07.20 TRANSITION TO SAFETY SHAPE (2005 TRACC)			
	1.000 EACH	****	****
LU, Inc. F8th Construction Company, LLC		\$633.2500 \$633.2500	\$633.25 \$633.25
Traf-Mark Industries, L.L.C.		\$633.2500 \$633.2500	\$633.25 \$633.25
Trai Wark maddinos, E.E.O.		ψοσο.2000	ψ000.20
705-07.21 TRANSITION TO BARRIER WALL END CAP (2005 TRACC)			
	1.000 EACH		
LU, Inc.		\$212.5000	\$212.50
F8th Construction Company, LLC		\$212.5000	\$212.50
Traf-Mark Industries, L.L.C.		\$212.5000	\$212.50
705-07.22 SPLIT FRAME KIT-30IN BACK-UP (2005 TRACC)			
	1.000 EACH		
LU, Inc.		\$559.3000	\$559.30
F8th Construction Company, LLC		\$559.3000	\$559.30
Traf-Mark Industries, L.L.C.		\$559.3000	\$559.30
705-08.18 TAU-II XXXL BULKHEAD (WIDE UNIT)			
	1.000 EACH		
LU, Inc.		\$1,500.0000	\$1,500.00
F8th Construction Company, LLC		\$1,500.0000	\$1,500.00
Traf-Mark Industries, L.L.C.		\$1,500.0000	\$1,500.00
705-08.19 TAU-II XXXXL BULKHEAD (WIDE UNIT)			
	1.000 EACH		
LU, Inc.		\$2,000.0000	\$2,000.00
F8th Construction Company, LLC		\$2,000.0000	\$2,000.00
Traf-Mark Industries, L.L.C.		\$2,000.0000	\$2,000.00
705-08.24 TAU-II CABLE GUIDE KIT (UNIVERSAL)			
	1.000 EACH		
LU, Inc.		\$500.0000	\$500.00
F8th Construction Company, LLC		\$500.0000	\$500.00
Traf-Mark Industries, L.L.C.		\$500.0000	\$500.00
705-08.27 TAU-II END PANEL (UNIVERSAL)			
	1.000 EACH		
LU, Inc.		\$275.0000	\$275.00
F8th Construction Company, LLC		\$275.0000	\$275.00
Traf-Mark Industries, L.L.C.		\$275.0000	\$275.00
705-08.31 TAU-II PIPE PANEL MOUNT (UNIVERSAL)			
	1.000 EACH		
LU, Inc.		\$120.0000	\$120.00
F8th Construction Company, LLC		\$120.0000	\$120.00
Traf-Mark Industries, L.L.C.		\$120.0000	\$120.00

				CONTRACT	CNR117
		l	JNIT PRICE	EXTE	NSION
705-08.35	TAU-II PCB BACKSTOP (PARALLEL UNIT)				
		1.000 EACH			
	LU, Inc.		\$800.0000		800.00
	F8th Construction Company, LLC		\$800.0000		800.00
	Traf-Mark Industries, L.L.C.		\$800.0000	\$	800.00
705-08.37	TAU-II WIDE SUPPORT LEG ADAPTER (WIDE UNIT)				
		1.000 EACH			
	LU, Inc.		\$200.0000	\$.	200.00
	F8th Construction Company, LLC		\$200.0000		200.00
	Traf-Mark Industries, L.L.C.		\$200.0000		200.00
705-08.38	TAU-II WING ASSEMBLY (WIDE UNIT)				
		1.000 EACH			
	LU, Inc.		\$400.0000	\$	400.00
	F8th Construction Company, LLC		\$400.0000		400.00
	Traf-Mark Industries, L.L.C.		\$400.0000	\$	400.00
705-08 39	TAU-II WING BRACE (WIDE UNIT)				
700 00.00	TAO II WING BRAGE (WIDE OWN)	1.000 EACH			
	111 1	1.000 EACH	<b>#</b> F0 0000		<b>Ф</b> БО ОО
	LU, Inc.		\$50.0000		\$50.00
	F8th Construction Company, LLC		\$50.0000		\$50.00
	Traf-Mark Industries, L.L.C.		\$50.0000		\$50.00
705-08.40	TAU-II XL BULKHEAD (WIDE UNIT)				
		1.000 EACH			
	LU, Inc.		\$600.0000	\$	600.00
	F8th Construction Company, LLC		\$600.0000		600.00
	Traf-Mark Industries, L.L.C.		\$600.0000		600.00
			+-00.000	Ψ	

	LU, Inc.		\$800.0000	\$800.00
	F8th Construction Company, LLC		\$800.0000	\$800.00
	Traf-Mark Industries, L.L.C.		\$800.0000	\$800.00
	Trai Mark industries, E.E.S.		φοσο.σσσσ	φοσο.σσ
705-08.37	TAU-II WIDE SUPPORT LEG ADAPTER (WIDE UNIT)			
		1.000 EACH		
	LU, Inc.		\$200.0000	\$200.00
	F8th Construction Company, LLC		\$200.0000	\$200.00
	Traf-Mark Industries, L.L.C.		\$200.0000	\$200.00
			<del></del>	<b>V</b> =22112
705-08.38	TAU-II WING ASSEMBLY (WIDE UNIT)			
		1.000 EACH		
	LU, Inc.		\$400.0000	\$400.00
	F8th Construction Company, LLC		\$400.0000	\$400.00
	Traf-Mark Industries, L.L.C.		\$400.0000	\$400.00
	Trai Mark industries, E.E.S.		ψ100.0000	Ψ100.00
705-08.39	TAU-II WING BRACE (WIDE UNIT)			
		1.000 EACH		
	LU, Inc.		\$50.0000	\$50.00
	F8th Construction Company, LLC		\$50.0000	\$50.00
	Traf-Mark Industries, L.L.C.		\$50.0000	\$50.00
	Trai Walk Industries, E.E.S.		φου.σσσσ	φου.σσ
705-08.40	TAU-II XL BULKHEAD (WIDE UNIT)			
	, ,	1.000 EACH		
	LU, Inc.	1.000 LAGIT	\$600.0000	\$600.00
	F8th Construction Company, LLC		\$600.0000	\$600.00
			·	
	Traf-Mark Industries, L.L.C.		\$600.0000	\$600.00
705-08.41	TAU-II XXL BULKHEAD (WIDE UNIT)			
	,	1.000 EACH		
	LU, Inc.		\$1,100.0000	\$1,100.00
	F8th Construction Company, LLC		\$1,100.0000	\$1,100.00
	Traf-Mark Industries, L.L.C.		\$1,100.0000	\$1,100.00
	Trai Wark industries, E.E.O.		ψ1,100.0000	ψ1,100.00
705-08.52	QUADGUARD MONORAIL ASSEMBLY, 3 BAY			
		1.000 EACH		
	LU, Inc.		\$1,275.0000	\$1,275.00
	F8th Construction Company, LLC		\$1,275.0000	\$1,275.00
	Traf-Mark Industries, L.L.C.		\$1,275.0000	\$1,275.00
	Trai-wark industries, E.E.O.		ψ1,273.0000	Ψ1,273.00
705-08.68	RIP PLATE REPAIR KIT, STAGE 3			
		1.000 EACH		
	LU, Inc.	-	\$1,620.2500	\$1,620.25
	F8th Construction Company, LLC		\$1,620.2500	\$1,620.25
	i our constitution company, LLC		Ψ1,020.2000	Ψ1,020.23
			\$1,620,2500	\$1,620,25
	Traf-Mark Industries, L.L.C.		\$1,620.2500	\$1,620.25

	CONTRACT	CNR117
UNIT PRICE	EXTE	NSION

			UNIT PRICE	EXTENSION
705-08.74	BASE ASSEMBLY - 9'			
		1.000 EACH		
	LU, Inc.		\$833.0000	\$833.00
	F8th Construction Company, LLC		\$833.0000	\$833.00
	Traf-Mark Industries, L.L.C.		\$833.0000	\$833.00
705-08.76	BEAM GUIDE - 20'			
		1.000 EACH		
	LU, Inc.		\$636.6500	\$636.65
	F8th Construction Company, LLC		\$636.6500	\$636.65
	Traf-Mark Industries, L.L.C.		\$636.6500	\$636.65
705-08.77	END SHOE (LEFT OR RIGHT)			
	,	1.000 EACH		
	LU, Inc.		\$238.0000	\$238.00
	F8th Construction Company, LLC		\$238.0000	\$238.00
	Traf-Mark Industries, L.L.C.		\$238.0000	\$238.00
705-08.84	SLOT PLATE			
		1.000 EACH		
	LU, Inc.	1.000 E/(011	\$20.8500	\$20.85
	F8th Construction Company, LLC		\$20.8500	\$20.85
	Traf-Mark Industries, L.L.C.		\$20.8500	\$20.85
705-08.85	CROSSTIE			
		1.000 EACH		
	LU, Inc.	1.000 EAGI1	\$109.6500	\$109.65
	F8th Construction Company, LLC		\$109.6500	\$109.65
	Traf-Mark Industries, L.L.C.		\$109.6500	\$109.65
			¥.00.0000	<b>4.00.00</b>
705-08.86	FORM CHANNEL - 3 X 2			
		1.000 EACH	<b>#407</b> 0000	0407.00
	LU, Inc.		\$187.0000	\$187.00 \$487.00
	F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$187.0000 \$187.0000	\$187.00 \$187.00
	Hai-wark muusmes, L.L.C.		\$187.0000	\$107.00
705-08.88	SLED/CUTTER ASSEMBLY			
		1.000 EACH		
	LU, Inc.		\$2,465.0000	\$2,465.00
	F8th Construction Company, LLC		\$2,465.0000	\$2,465.00
	Traf-Mark Industries, L.L.C.		\$2,465.0000	\$2,465.00
705-08.93	05 RIP PLATE REPAIR KIT STAGE 3			
		1.000 EACH		
	LU, Inc.		\$1,119.4500	\$1,119.45
	F8th Construction Company, LLC		\$1,119.4500	\$1,119.45
	Traf-Mark Industries, L.L.C.		\$1,119.4500	\$1,119.45

			CONTRACT CNR117
		UNIT PRICE	EXTENSION
705-08.94 05 FRONT ANCH WELDMENT			
705-08.94 US FRONT ANCH WELDMENT	1.000 EACH		
LU, Inc.	11000 E/(011	\$410.0000	\$410.00
F8th Construction Company, LLC		\$410.0000	\$410.00
Traf-Mark Industries, L.L.C.		\$410.0000	\$410.00
705-08.95 05 SECTION MODULE			
	1.000 EACH		
LU, Inc.	11000 E/(011	\$1,415.0000	\$1,415.00
F8th Construction Company, LLC		\$1,415.0000	\$1,415.00
Traf-Mark Industries, L.L.C.		\$1,415.0000	\$1,415.00
705-08.97 05 SLED/SHREDDER ASSEMBLY			
	1.000 EACH		
LU, Inc.		\$2,465.0000	\$2,465.00
F8th Construction Company, LLC		\$2,465.0000	\$2,465.00
Traf-Mark Industries, L.L.C.		\$2,465.0000	\$2,465.00
705-08.98 05 FRAME WELDMENT			
703-00.90 US FRAME WELDMENT	1.000 EACH		
LU, Inc.	1.000 EAGH	\$310.2500	\$310.25
F8th Construction Company, LLC		\$310.2500	\$310.25 \$310.25
Traf-Mark Industries, L.L.C.		\$310.2500	\$310.25
705-08.99 05 BACK-UP FRAME			
703-00.99 03 BACK-OF FRAME	1.000 EACH		
LU, Inc.	1.000 EAGH	\$473.4500	\$473.45
F8th Construction Company, LLC		\$473.4500 \$473.4500	\$473.45
Traf-Mark Industries, L.L.C.		\$473.4500	\$473.45
705-09.12 CONCRETE ANCHOR BOLT SET (3/4 IN X 7 IN)			
103-03.12 CONORLIL ANGHOR BOLT SET (3/4 IN A / IN)	1 000 EACH		
LU, Inc.	1.000 EACH	\$306.0000	\$306.00
F8th Construction Company, LLC		\$306.0000	\$306.00 \$306.00
Traf-Mark Industries, L.L.C.		\$306.0000	\$306.00
705-09.13 ASPHALT ANCHOR BOLT SET (3/4 IN X 18 IN)			
	1.000 EACH	<b>^</b>	****
LU, Inc.		\$871.0000	\$871.00
F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$871.0000 \$871.0000	\$871.00 \$871.00
Trai-Mark industries, L.L.C.		φο/ 1.0000	φο/ 1.00
705-09.14 BOLT CABLE ADJUSTER			
	1.000 EACH		
LU, Inc.		\$120.0000	\$120.00
F8th Construction Company, LLC		\$120.0000	\$120.00
Traf-Mark Industries, L.L.C.		\$120.0000	\$120.00

		UNIT PRICE	EXTENSION
705-09.15 BOLT SLED SIDE PANEL			
	1.000 EACH		
LU, Inc.		\$6.0000	\$6.00 \$6.00
F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$6.0000 \$6.0000	\$6.00 \$6.00
Trai-Wark industries, E.E.O.		ψ0.0000	ψ0.00
705-09.16 BOLT FRONT STOP			
	1.000 EACH		
LU, Inc.		\$3.0000	\$3.00
F8th Construction Company, LLC		\$3.0000	\$3.00
Traf-Mark Industries, L.L.C.		\$3.0000	\$3.00
705-09.17 BOLT SHEAR			
	1.000 EACH		
LU, Inc.		\$1.5000	\$1.50
F8th Construction Company, LLC		\$1.5000	\$1.50
Traf-Mark Industries, L.L.C.		\$1.5000	\$1.50
705-09.18 BOLT SIDE GUIDE			
700 00.10 BOLT GIBL GOIDL	1.000 EACH		
LU, Inc.	1.000 LAGII	\$20.0000	\$20.00
F8th Construction Company, LLC		\$20.0000	\$20.00
Traf-Mark Industries, L.L.C.		\$20.0000	\$20.00
705-09.19 BOLT TERMINAL BRACE			
	1.000 EACH		
LU, Inc.		\$9.0000	\$9.00
F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$9.0000 \$9.0000	\$9.00 \$9.00
Hai-Mark industries, E.E.O.		ψ9.0000	ψ9.00
705-09.20 BRACE TERMINAL			
	1.000 EACH		
LU, Inc.		\$414.0000	\$414.00
F8th Construction Company, LLC		\$414.0000	\$414.00
Traf-Mark Industries, L.L.C.		\$414.0000	\$414.00
705-09.21 CABLE WIRE ROPE W/ SPELTER SOCKET			
	1.000 EACH		
LU, Inc.		\$1,083.0000	\$1,083.00
F8th Construction Company, LLC		\$1,083.0000	\$1,083.00
Traf-Mark Industries, L.L.C.		\$1,083.0000	\$1,083.00
705-09.22 CLIP WIRE ROPE			
	1.000 EACH		
LU, Inc.		\$34.0000	\$34.00
F8th Construction Company, LLC		\$34.0000	\$34.00
Traf-Mark Industries, L.L.C.		\$34.0000	\$34.00

				CONTRACT CNR117
			UNIT PRICE	EXTENSION
705 00 00	OVENIER SHOOK APPEATING			
705-09.23	CYLINDER SHOCK ARRESTING	1.000 EACH		
	LU, Inc.	1.000 EACH	\$3,143.0000	\$3,143.00
	F8th Construction Company, LLC		\$3,143.0000	\$3,143.00
	Traf-Mark Industries, L.L.C.		\$3,143.0000	\$3,143.00
705-09.24	STRAP CYLINDER			
		1.000 EACH		
	LU, Inc.		\$89.0000	\$89.00
	F8th Construction Company, LLC		\$89.0000 \$89.0000	\$89.00
	Traf-Mark Industries, L.L.C.		\$69.0000	\$89.00
705-09.25	FRAME MOBILE #1			
		1.000 EACH		
	LU, Inc.		\$414.0000	\$414.00
	F8th Construction Company, LLC		\$414.0000	\$414.00
	Traf-Mark Industries, L.L.C.		\$414.0000	\$414.00
705 00 00	FRAME MOBILE #2			
705-09.26	FRAME MOBILE #2	4 000 EACH		
		1.000 EACH	\$414.0000	\$414.00
	LU, Inc. F8th Construction Company, LLC		\$414.0000 \$414.0000	\$414.00 \$414.00
	Traf-Mark Industries, L.L.C.		\$414.0000	\$414.00
705-09.27	FRAME MOBILE #3			
		1.000 EACH		
	LU, Inc.		\$414.0000	\$414.00
	F8th Construction Company, LLC		\$414.0000	\$414.00
	Traf-Mark Industries, L.L.C.		\$414.0000	\$414.00
705-09.28	FRAME MOBILE #4			
. 00 00.20		1.000 EACH		
	LU, Inc.		\$414.0000	\$414.00
	F8th Construction Company, LLC		\$414.0000	\$414.00
	Traf-Mark Industries, L.L.C.		\$414.0000	\$414.00
705-09.29	FRAME MOBILE #5			
		1.000 EACH	• • • • •	
	LU, Inc.		\$414.0000	\$414.00
	F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$414.0000 \$414.0000	\$414.00 \$414.00
	TIAI-MAIN IIIUUSUIGS, L.L.C.		φ414.0000	φ <del>4</del> 14.00
705-09.30	FRAME MOBILE #6			
		1.000 EACH		
	LU, Inc.		\$414.0000	\$414.00
	F8th Construction Company, LLC		\$414.0000	\$414.00
	Traf-Mark Industries, L.L.C.		\$414.0000	\$414.00

		UNIT PRICE	EXTENSION
705-09.31	GUIDE SIDE		
		1.000 EACH	
	LU, Inc.	\$94.0000	\$94.00
	F8th Construction Company, LLC	\$94.0000	\$94.00
	Traf-Mark Industries, L.L.C.	\$94.0000	\$94.00
705-09.32	KEEPER SIDE #1 (SLED PANEL)		
	,	1.000 EACH	
	LU, Inc.	\$23.0000	\$23.00
	F8th Construction Company, LLC	\$23.0000	\$23.00
	Traf-Mark Industries, L.L.C.	\$23.0000	\$23.00
705-09.33	KEEPER SIDE #2 (SIDE PANEL)		
		1.000 EACH	
	LU, Inc.	\$23.0000	\$23.00
	F8th Construction Company, LLC	\$23.0000	\$23.00
	Traf-Mark Industries, L.L.C.	\$23.0000	\$23.00
705-09.34	KEEPER SIDE #3 (REAR PANEL)		
	, , , , , , , , , , , , , , , , , , , ,	1.000 EACH	
	LU, Inc.	\$23.0000	\$23.00
	F8th Construction Company, LLC	\$23.0000	\$23.00
	Traf-Mark Industries, L.L.C.	\$23.0000	\$23.00
	•		·
705-09.36	PANEL SIDE		
		1.000 EACH	
	LU, Inc.	\$223.0000	\$223.00
	F8th Construction Company, LLC	\$223.0000	\$223.00
	Traf-Mark Industries, L.L.C.	\$223.0000	\$223.00
705 00 27	DANIEL SLED		
705-09.57	PANEL SLED	1.000 EACH	
	LU, Inc.		£444.00
	F8th Construction Company, LLC	\$414.0000 \$414.0000	\$414.00 \$414.00
	Traf-Mark Industries, L.L.C.	\$414.0000	\$414.00 \$414.00
	Trai Mark maddines, E.E.e.	¥111.0000	Ψ111.00
705-09.38	PANEL REAR		
		1.000 EACH	
	LU, Inc.	\$206.0000	\$206.00
	F8th Construction Company, LLC	\$206.0000	\$206.00
	Traf-Mark Industries, L.L.C.	\$206.0000	\$206.00
705-09 39	SHEAVE (PULLEY)		
100-03.03	onente (i occer)	1.000 EACH	
	LU, Inc.	\$103.0000	\$103.00
	F8th Construction Company, LLC	\$103.0000	\$103.00
	Traf-Mark Industries, L.L.C.	\$103.0000	\$103.00
		Ţ.33.0000	,

		co	NTRACT CNR117
		UNIT PRICE	EXTENSION
705-09.40 SLED	4 000 EACH		
III loo	1.000 EACH	¢4 047 0000	¢4.047.00
LU, Inc. F8th Construction Company, LLC		\$1,917.0000 \$1,917.0000	\$1,917.00 \$1,917.00
Traf-Mark Industries, L.L.C.		\$1,917.0000	\$1,917.00
Trai Mark maastros, E.E.O.		ψ1,317.0000	ψ1,517.00
705-09.41 TRANSITION JERSEY BARRIER RIGHT			
	1.000 EACH		
LU, Inc.		\$1,263.0000	\$1,263.00
F8th Construction Company, LLC		\$1,263.0000	\$1,263.00
Traf-Mark Industries, L.L.C.		\$1,263.0000	\$1,263.00
705-09.42 TRANSITION JERSEY BARRIER LEFT			
	1.000 EACH		
LU, Inc.		\$1,263.0000	\$1,263.00
F8th Construction Company, LLC		\$1,263.0000	\$1,263.00
Traf-Mark Industries, L.L.C.		\$1,263.0000	\$1,263.00
705-09.43 TRANSITION 24IN CONCRETE			
	1.000 EACH		
LU, Inc.		\$794.0000	\$794.00
F8th Construction Company, LLC		\$794.0000	\$794.00
Traf-Mark Industries, L.L.C.		\$794.0000	\$794.00
705-09.44 BOOT CYLINDER			
	1.000 EACH		
LU, Inc.		\$57.0000	\$57.00
F8th Construction Company, LLC		\$57.0000	\$57.00
Traf-Mark Industries, L.L.C.		\$57.0000	\$57.00
705-14.31 CYLINDER 0.8" CYLINDERS 1 & 2	4 000 54 011		
111.1	1.000 EACH	<b>#0.400.0000</b>	<b>#0.400.00</b>
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC Traf-Mark Industries, L.L.C.		\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
Trai-iviaik iliuustiles, L.L.C.		\$2,120.0000	φ2,120.00
705-14.32 CYLINDER 0.9" CYLINDERS 3 & 4			
	1.000 EACH		
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
Traf-Mark Industries, L.L.C.		\$2,120.0000	\$2,120.00
705-14.33 CYLINDER 1.0" CYLINDERS 5 & 6			
	1.000 EACH		
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
Traf-Mark Industries, L.L.C.		\$2,120.0000	\$2,120.00
, , , , , , , , , , , , , , , , , , ,			

		C	ONTRACT CNR117
		UNIT PRICE	EXTENSION
705-14.34 CYLINDER 1.108" CYLINDER 7			
	1.000 EACH		
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
Traf-Mark Industries, L.L.C.		\$2,120.0000	\$2,120.00
705-14.35 CYLINDER 1.385" CYLINDERS 8 & 9			
	1.000 EACH		
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
Traf-Mark Industries, L.L.C.		\$2,120.0000	\$2,120.00
705-14.36 U-BOLTS (1/2" X 3")			
	1.000 EACH		
LU, Inc.		\$12.0000	\$12.00
F8th Construction Company, LLC		\$12.0000	\$12.00
Traf-Mark Industries, L.L.C.		\$12.0000	\$12.00
705-14.37 U-BOLTS (3/8" X 3")			
	1.000 EACH		
LU, Inc.		\$12.0000	\$12.00
F8th Construction Company, LLC		\$12.0000	\$12.00
Traf-Mark Industries, L.L.C.		\$12.0000	\$12.00
705-14.38 BOX BEAM (8" X 6" X 3/16")			
	1.000 EACH		
LU, Inc.		\$35.0000	\$35.00
F8th Construction Company, LLC		\$35.0000	\$35.00
Traf-Mark Industries, L.L.C.		\$35.0000	\$35.00
705-14.50 CYLINDER RETAINER (1' 3" X 5")			
	1.000 EACH		
LU, Inc.		\$60.0000	\$60.00
F8th Construction Company, LLC		\$60.0000	\$60.00
Traf-Mark Industries, L.L.C.		\$60.0000	\$60.00
705-14.51 FRONT ANCHOR PIN (1/4" X 1 1/2" X 3")			
	1.000 EACH		
LU, Inc.		\$23.0000	\$23.00
F8th Construction Company, LLC		\$23.0000	\$23.00
Traf-Mark Industries, L.L.C.		\$23.0000	\$23.00
705-14.53 1/2" GALVANIZED CHAIN WITH HARDWARE			
	1.000 EACH		
LU, Inc.		\$82.0000	\$82.00
F8th Construction Company, LLC		\$82.0000	\$82.00
Traf-Mark Industries, L.L.C.		\$82.0000	\$82.00

			C	CONTRACT CNR117
			UNIT PRICE	EXTENSION
705-14.54	POLYVINYL COVER			
		1.000 EACH	<b>.</b>	•
	LU, Inc.		\$71.0000	\$71.00
	F8th Construction Company, LLC		\$71.0000 \$71.0000	\$71.00 \$71.00
	Traf-Mark Industries, L.L.C.		\$71.0000	\$71.00
705-14.55	ANCHOR BOLT SET (CONCRETE/ASPHALT)			
		1.000 EACH		
	LU, Inc.		\$895.0000	\$895.00
	F8th Construction Company, LLC		\$895.0000	\$895.00
	Traf-Mark Industries, L.L.C.		\$895.0000	\$895.00
705-14.57	BACKUP SINGLE CABLE-(4 BARREL)			
		1.000 EACH		
	LU, Inc.		\$660.0000	\$660.00
	F8th Construction Company, LLC		\$660.0000	\$660.00
	Traf-Mark Industries, L.L.C.		\$660.0000	\$660.00
705-14.58	BACKUP SINGLE CABLE-(6 BARREL)			
		1.000 EACH		
	LU, Inc.		\$840.0000	\$840.00
	F8th Construction Company, LLC		\$840.0000	\$840.00
	Traf-Mark Industries, L.L.C.		\$840.0000	\$840.00
705-14.59	BACKUP SINGLE CABLE-(9 BARREL)			
	, ,	1.000 EACH		
	LU, Inc.		\$1,050.0000	\$1,050.00
	F8th Construction Company, LLC		\$1,050.0000	\$1,050.00
	Traf-Mark Industries, L.L.C.		\$1,050.0000	\$1,050.00
705-14 60	CABLE SYSTEM FOR SIDE MOUNT-(4 BARREL)			
700 17.00	5.522 51612m 1 GR GISE MOORT-(4 BARREL)	1.000 EACH		
	LU, Inc.	1.000 LAGII	\$1,975.0000	\$1,975.00
	F8th Construction Company, LLC		\$1,975.0000	\$1,975.00
	Traf-Mark Industries, L.L.C.		\$1,975.0000	\$1,975.00
			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,
705-14.61	CABLE SYSTEM FOR SIDE MOUNT-(6 BARREL)			
		1.000 EACH		
	LU, Inc.		\$2,415.0000	\$2,415.00
	F8th Construction Company, LLC		\$2,415.0000	\$2,415.00
	Traf-Mark Industries, L.L.C.		\$2,415.0000	\$2,415.00
705-14.62	CABLE SYSTEM FOR SIDE MOUNT-(9 BARREL)			
		1.000 EACH		
	LU, Inc.		\$2,690.0000	\$2,690.00
	F8th Construction Company, LLC		\$2,690.0000	\$2,690.00
	Traf-Mark Industries, L.L.C.		\$2,690.0000	\$2,690.00

			CONTRACT CNR117
		UNIT PRICE	EXTENSION
705-14.63 BOTTOM CABLE-(4 BARREL)			
,	1.000 EACH		
LU, Inc.		\$550.0000	\$550.00
F8th Construction Company, LLC		\$550.0000	\$550.00
Traf-Mark Industries, L.L.C.		\$550.0000	\$550.00
705-14.64 BOTTOM CABLE-(6 BARREL)			
	1.000 EACH		
LU, Inc.		\$580.0000	\$580.00
F8th Construction Company, LLC		\$580.0000	\$580.00
Traf-Mark Industries, L.L.C.		\$580.0000	\$580.00
705-14.65 BOTTOM CABLE-(9 BARREL)			
	1.000 EACH		
LU, Inc.		\$1,407.0000	\$1,407.00
F8th Construction Company, LLC		\$1,407.0000	\$1,407.00
Traf-Mark Industries, L.L.C.		\$1,407.0000	\$1,407.00
705-14.66 SIDE MNT ANCHR/CABLE ANCHR CVR PLT			
	1.000 EACH		
LU, Inc.		\$770.0000	\$770.00
F8th Construction Company, LLC		\$770.0000	\$770.00
Traf-Mark Industries, L.L.C.		\$770.0000	\$770.00
705-14.67 PULLOUT BRACKET ASSEMBLY			
	1.000 EACH		
LU, Inc.		\$91.3500	\$91.35
F8th Construction Company, LLC		\$91.3500	\$91.35
Traf-Mark Industries, L.L.C.		\$91.3500	\$91.35
705-14.68 3IN X 3IN TUBING			
	1.000 EACH		
LU, Inc.		\$72.0000	\$72.00
F8th Construction Company, LLC		\$72.0000	\$72.00
Traf-Mark Industries, L.L.C.		\$72.0000	\$72.00
705-14.69 GALVANIZED STABALIZER BAR			
	1.000 EACH		

	Traf-Mark Industries, L.L.C.		\$550.0000 \$550.0000	\$550.00 \$550.00
	Trai-Mark industries, E.E.O.		ψ330.0000	ψ330.00
705-14.64	BOTTOM CABLE-(6 BARREL)			
	,	1.000 EACH		
	LU, Inc.		\$580.0000	\$580.00
	F8th Construction Company, LLC		\$580.0000	\$580.00
	Traf-Mark Industries, L.L.C.		\$580.0000	\$580.00
705-14.65	BOTTOM CABLE-(9 BARREL)			
		1.000 EACH	<b>.</b>	
	LU, Inc.		\$1,407.0000	\$1,407.00
	F8th Construction Company, LLC		\$1,407.0000	\$1,407.00
	Traf-Mark Industries, L.L.C.		\$1,407.0000	\$1,407.00
705-14.66	SIDE MNT ANCHR/CABLE ANCHR CVR PLT			
		1.000 EACH		
	LU, Inc.		\$770.0000	\$770.00
	F8th Construction Company, LLC		\$770.0000	\$770.00
	Traf-Mark Industries, L.L.C.		\$770.0000	\$770.00
705-14.67	PULLOUT BRACKET ASSEMBLY			
		1.000 EACH		
	LU, Inc.		\$91.3500	\$91.35
	F8th Construction Company, LLC		\$91.3500	\$91.35
	Traf-Mark Industries, L.L.C.		\$91.3500	\$91.35
705-14.68	3IN X 3IN TUBING			
100 14.00	ON A ON TOBING	1.000 EACH		
	LU, Inc.	1.000 EACH	\$72.0000	\$72.00
	F8th Construction Company, LLC		\$72.0000	\$72.00
	Traf-Mark Industries, L.L.C.		\$72.0000	\$72.00
			¥. =	¥1 =133
705-14.69	GALVANIZED STABALIZER BAR			
		1.000 EACH		
	LU, Inc.		\$190.0000	\$190.00
	F8th Construction Company, LLC		\$190.0000	\$190.00
	Traf-Mark Industries, L.L.C.		\$190.0000	\$190.00
705-14.70	TRANSITION PLATE			
		1.000 EACH		
	LU, Inc.	1.000 EA011	\$490.0000	\$490.00
	F8th Construction Company, LLC		\$490.0000	\$490.00
	Traf-Mark Industries, L.L.C.		\$490.0000	\$490.00
			÷ :-0.000	<b>4.00.00</b>

		UNIT PRICE	EXTENSION
705-14.71 TOP CABLE (OLD UNIT)-(4 BARREL)	1.000 EACH		
	1.000 EACH		
LU, Inc.		\$560.0000	\$560.00
F8th Construction Company, LLC		\$560.0000	\$560.00
Traf-Mark Industries, L.L.C.		\$560.0000	\$560.00
705-14.72 TOP CABLE (OLD UNIT)-(6 BARREL)			
(01) (01)	1.000 EACH		
LU, Inc.		\$609.0000	\$609.00
F8th Construction Company, LLC		\$609.0000	\$609.00
· · ·			\$609.00
Traf-Mark Industries, L.L.C.		\$609.0000	ф009.00
705-14.73 TOP CABLE (OLD UNIT)-(9 BARREL)			
	1.000 EACH		
LU, Inc.		\$955.0000	\$955.00
F8th Construction Company, LLC		\$955.0000	\$955.00
Traf-Mark Industries, L.L.C.		\$955.0000	\$955.00
705-15.77 BACKUP ASSEMBLY, TENSION STRUT			
	1.000 EACH		
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
Traf-Mark Industries, L.L.C.		\$2,120.0000	\$2,120.00
,		. ,	
705-15.79 MONORAIL ASSEMBLY, 4-6 BAY			
	1.000 EACH		
LU, Inc.		\$2,850.0000	\$2,850.00
F8th Construction Company, LLC		\$2,850.0000	\$2,850.00
Traf-Mark Industries, L.L.C.		\$2,850.0000	\$2,850.00
		Ψ=,σσσ.σσσσ	ψΞ,000.00
705-15.80 MONORAIL ASSEMBLY, 7-9 BAY			
	1.000 EACH		
LU, Inc.		\$2,950.0000	\$2,950.00
F8th Construction Company, LLC		\$2,950.0000	\$2,950.00
Traf-Mark Industries, L.L.C.		\$2,950.0000	\$2,950.00
705-15.82 TRANSITION PANEL, NEW JERSEY BARRIER			
	1.000 EACH		
LU, Inc.		\$638.0000	\$638.00
F8th Construction Company, LLC		\$638.0000	\$638.00
Traf-Mark Industries, L.L.C.		\$638.0000	\$638.00
705-15.83 TRANSITION PANEL, QUAD TO W			
100-10.00 TRANSHION FANEL, WOAD TO W	1 000 EACH		
III lee	1.000 EACH	<b>#000</b> 0000	<b>#</b> 000 00
LU, Inc.		\$930.0000	\$930.00
F8th Construction Company, LLC		\$930.0000	\$930.00
Traf-Mark Industries, L.L.C.		\$930.0000	\$930.00

			CONTRACT CNR117
		UNIT PRICE	EXTENSION
705-15.84 DIAPHRAGM ASSEMBLY, WIDE			
III lee	1.000 EACH	<b>#4</b> 000 0000	<b>#4.000.00</b>
LU, Inc. F8th Construction Company, LLC		\$1,260.0000 \$1,260.0000	\$1,260.00 \$1,260.00
Traf-Mark Industries, L.L.C.		\$1,260.0000	\$1,260.00 \$1,260.00
· · · · · · · · · · · · · · · · · · ·		<b>¥</b> 1,=20.222	¥ ·,=
705-15.85 BACKUP ASSEMBLY, TENSION STRUT, WIDE			
	1.000 EACH		
LU, Inc.		\$2,425.0000	\$2,425.00
F8th Construction Company, LLC		\$2,425.0000	\$2,425.00
Traf-Mark Industries, L.L.C.		\$2,425.0000	\$2,425.00
705-15.87 BACKUP ASSEMBLY, CONCRETE			
Too total Broket resumblify sometime.	1.000 C.Y.		
LU, Inc.		\$1,230.0000	\$1,230.00
F8th Construction Company, LLC		\$1,230.0000	\$1,230.00
Traf-Mark Industries, L.L.C.		\$1,230.0000	\$1,230.00
705-15.88 END SHOE, CONCRETE			
	1.000 C.Y.		
LU, Inc.		\$370.0000	\$370.00
F8th Construction Company, LLC		\$370.0000	\$370.00
Traf-Mark Industries, L.L.C.		\$370.0000	\$370.00
705-15.89 BACKUP ASSEMBLY, CONCRETE, WIDE			
	1.000 C.Y.		
LU, Inc.		\$1,423.0000	\$1,423.00
F8th Construction Company, LLC		\$1,423.0000	\$1,423.00
Traf-Mark Industries, L.L.C.		\$1,423.0000	\$1,423.00
705-15.90 EXTENSION PANEL			
	1.000 EACH		
LU, Inc.		\$330.0000	\$330.00
F8th Construction Company, LLC		\$330.0000	\$330.00
Traf-Mark Industries, L.L.C.		\$330.0000	\$330.00
705-15.91 PIVOT SUPPORT BRACKET			
	1.000 EACH		
LU, Inc.		\$85.0000	\$85.00
F8th Construction Company, LLC		\$85.0000	\$85.00
Traf-Mark Industries, L.L.C.		\$85.0000	\$85.00
705-17.18 CBL 3/4 X 6FT6IN /DLB SWG/NOHWI			
	1.000 EACH		
LU, Inc.	LAGII	\$113.5000	\$113.50
F8th Construction Company, LLC		\$113.5000	\$113.50
Tref Merit ladvetries I.I.C		¢442.5000	¢440.50

Traf-Mark Industries, L.L.C.

\$113.50

\$113.5000

	UNIT PRICE	EXTENSION
705-17.19 CBL 3/4 X 19FT7IN /SNG SWG		
1.000	EACH	
LU, Inc.	\$209.0000	\$209.00
F8th Construction Company, LLC	\$209.0000	\$209.00
Traf-Mark Industries, L.L.C.	\$209.0000	\$209.00
705-17.20 DIAPHRAGM #1		
1.000	EACH	
LU, Inc.	\$456.0000	\$456.00
F8th Construction Company, LLC	\$456.0000	\$456.00
Traf-Mark Industries, L.L.C.	\$456.0000	\$456.00
705-17.21 DIAPHRAGM #2		
1.000	) EACH	
LU, Inc.	\$505.7500	\$505.75
F8th Construction Company, LLC	\$505.7500	\$505.75
Traf-Mark Industries, L.L.C.	\$505.7500	\$505.75
705-17.23 DIAPHRAGM #10		
1.000	EACH	
LU, Inc.	\$352.7500	\$352.75
F8th Construction Company, LLC	\$352.7500	\$352.75
Traf-Mark Industries, L.L.C.	\$352.7500	\$352.75
705-17.25 HDPE FRONT PANEL		
1.000	EACH	
LU, Inc.	\$977.5000	\$977.50
F8th Construction Company, LLC	\$977.5000	\$977.50
Traf-Mark Industries, L.L.C.	\$977.5000	\$977.50
705-17.26 HDPE MIDDLE PANEL		
1.000	EACH	
LU, Inc.	\$980.0000	\$980.00
F8th Construction Company, LLC	\$980.0000	\$980.00
Traf-Mark Industries, L.L.C.	\$980.0000	\$980.00
705-17.27 HDPE REAR PANEL		
1.000	EACH	
LU, Inc.	\$985.0000	\$985.00
F8th Construction Company, LLC	\$985.0000	\$985.00
Traf-Mark Industries, L.L.C.	\$985.0000	\$985.00
705-17.28 COMPLETE BASE UNIT		
1.000	DEACH	
LU, Inc.	\$2,195.0000	\$2,195.00
F8th Construction Company, LLC	\$2,195.0000	\$2,195.00
Traf-Mark Industries, L.L.C.	\$2,195.0000	\$2,195.00

CONTRACT CN	NKI	17
-------------	-----	----

		UNIT PRICE	EXTENSION
705-17.29 PLATE WASHER 5/16IN X 2IN X 1FT2IN			
	1.000 EACH		
LU, Inc.		\$20.0000	\$20.00
F8th Construction Company, LLC		\$20.0000	\$20.00
Traf-Mark Industries, L.L.C.		\$20.0000	\$20.00
705-17.30 BACK-UP POST			
	1.000 EACH		
LU, Inc.		\$952.0000	\$952.00
F8th Construction Company, LLC		\$952.0000	\$952.00
Traf-Mark Industries, L.L.C.		\$952.0000	\$952.00
705-17.31 FRONT BASEPLATE / POST ASSEMBLY			
	1.000 EACH		
LU, Inc.		\$539.7500	\$539.75
F8th Construction Company, LLC		\$539.7500	\$539.75
Traf-Mark Industries, L.L.C.		\$539.7500	\$539.75
705-17.36 TRANSITION TO SAFETY SHAPE			
	1.000 EACH		
LU, Inc.		\$1,349.0000	\$1,349.00
F8th Construction Company, LLC		\$1,349.0000	\$1,349.00
Traf-Mark Industries, L.L.C.		\$1,349.0000	\$1,349.00
705-17.37 TRANSITION TO BARRIER WALL (END CAP)			
	1.000 EACH		
LU, Inc.		\$701.2500	\$701.25
F8th Construction Company, LLC		\$701.2500	\$701.25
Traf-Mark Industries, L.L.C.		\$701.2500	\$701.25
705-17.40 WIDETRACC LONG WING POST			
	1.000 EACH		
LU, Inc.		\$374.0000	\$374.00
F8th Construction Company, LLC		\$374.0000	\$374.00
Traf-Mark Industries, L.L.C.		\$374.0000	\$374.00
705-17.41 WIDETRACC SHORT WING POST			
	1.000 EACH		
LU, Inc.		\$306.0000	\$306.00
F8th Construction Company, LLC		\$306.0000	\$306.00
Traf-Mark Industries, L.L.C.		\$306.0000	\$306.00
705-17.42 WIDETRACC EXT CHANNEL			
	1.000 EACH		
LU, Inc.		\$743.7500	\$743.75
F8th Construction Company, LLC		\$743.7500	\$743.75
Traf-Mark Industries, L.L.C.		\$743.7500	\$743.75

				CONTRACT CNR117
			UNIT PRICE	EXTENSION
705-17.43	WIDETRACC PANEL			
		1.000 EACH		
	LU, Inc.		\$348.5000	\$348.50
	F8th Construction Company, LLC		\$348.5000	\$348.50
	Traf-Mark Industries, L.L.C.		\$348.5000	\$348.50
705-17.90	HEART REPAIR DPHM-L WR BKT			
		1.000 EACH		
	LU, Inc.		\$102.8500	\$102.85
	F8th Construction Company, LLC		\$102.8500	\$102.85
	Traf-Mark Industries, L.L.C.		\$102.8500	\$102.85
705-17.91	HEART CRS-RPR DPH 3-9			
		1.000 EACH		
	LU, Inc.		\$412.2500	\$412.25
	F8th Construction Company, LLC		\$412.2500	\$412.25

Traf-Mark Industries, L.L.C.

\$412.2500

\$412.25

## **SUB-TOTAL MAINTENANCE**

Traf-Mark Industries, L.L.C.	\$897,672.00
F8th Construction Company, LLC	\$688,385.00
LU, Inc.	\$599,810.96
SUB-TOTAL MAINTENANCE CONTINGENCY	
Traf-Mark Industries, L.L.C.	\$94,444.30
F8th Construction Company, LLC	\$94,444.30
LU, Inc.	\$94,444.30
TOTAL CONTRACT	
LU, Inc.	\$694,255.26
F8th Construction Company, LLC	\$782,829.30
Traf-Mark Industries, L.L.C.	\$992,116.30

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MARCH 31, 2017

COUNTIES BLEDSOE, BRADLEY, CANNON, COFFEE, CUMBERLAND, DEKALB, FENTRESS, FRANKLIN, GRUNDY, HAMILTON, JACKSON, MARION, MCMINN, MEIGS, OVERTON, PICKETT, POLK, PUTNAM, RHEA, SEQUATCHIE, VAN BUREN, WARREN, AND WHITE (Contract No. CNR122 Call 028)

98029-4158-04

THE ON-CALL GUARDRAIL REPAIR AND NEW GUARDRAIL INSTALLATION ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

**TOTAL CONTRACT** 

Cumberland Guardrail, Inc.

\$3,550,890.50

MAINTENANCE CATEG	ORY		UNIT PRICE	CONTRACT CNR122 EXTENSION
705-01.01 GUARDRAIL A	T BRIDGE ENDS	070 000 L F		
Cumberland G	uardrail, Inc.	270.000 L.F.	\$48.0000	\$12,960.00
705-01.02 GUARDRAIL A	T BRIDGE PIERS	40,000   5		
Cumberland G	uardrail, Inc.	18.000 L.F.	\$10.0000	\$180.00
705-01.04 METAL BEAM	GUARD FENCE	400 000 1 5		
Cumberland G	uardrail, Inc.	100.000 L.F.	\$40.0000	\$4,000.00
705-02.01 SINGLE GUAR	DRAIL, WITH RUB-RAIL (TYPE 2)	75.000   5		
Cumberland G	uardrail, Inc.	75.000 L.F.	\$25.0000	\$1,875.00
705-02.02 SINGLE GUAR	DRAIL (TYPE 2)	30,000.000 L.F.		
Cumberland G	uardrail, Inc.		\$16.0000	\$480,000.00
705-02.10 GUARDRAIL T	RANSITION 27IN TO 31IN	500 000 FACU		
Cumberland G	uardrail, Inc.	500.000 EACH	\$75.0000	\$37,500.00
705-02.20 SINGLE GUAR	DRAIL (TYPE 2) LONG POST (6 FT-9 FT)	2 050 000 L 5		
Cumberland G	uardrail, Inc.	2,950.000 L.F.	\$19.0000	\$56,050.00
705-02.25 SINGLE GUAR	DRAIL (TYPE 2) LONG POST (9 FT-12 FT)	075 000 1 5		
Cumberland G	uardrail, Inc.	275.000 L.F.	\$19.0000	\$5,225.00
705-03.01 MEDIAN DIVID	ER GUARDRAIL, WITH RUB-RAIL (TYPE 2)	50 000 1 5		
Cumberland G	uardrail, Inc.	50.000 L.F.	\$18.0000	\$900.00
705-03.02 MEDIAN DIVID	ER GUARDRAIL (TYPE 2)			
Cumberland G	uardrail, Inc.	50.000 L.F.	\$15.0000	\$750.00
705-03.03 MEDIAN DIVID	ER GUARDRAIL (TYPE 2) (27" MT HT)			
Cumberland G	uardrail, Inc.	50.000 L.F.	\$10.0000	\$500.00
705-03.04 MEDIAN DIVID	ER GUARDRAIL AT CONCRETE BARRIER			

18.000 L.F.

Cumberland Guardrail, Inc.

\$180.00

\$10.0000

			UNIT PRICE	EXTENSION
			ONTTRICE	EXTENSION
705-04.02 GUARDRAIL TERMINAL (T	YPE 12)	4.000 EACH		
Cumberland Guardrail, Inc		4.000 LACIT	\$50.0000	\$200.00
705-04.03 GUARDRAIL TERMINAL (T	YPE 13)			
Cumberland Guardrail, Inc	:	10.000 EACH	\$450.0000	\$4,500.00
705-04.05 GUARDRAIL TERMINAL (T	YPE-IN-LINE)			
Cumberland Guardrail, Inc	:.	17.000 EACH	\$450.0000	\$7,650.00
705-04.11 STONE FOR GUARDRAIL E				
Cumberland Guardrail, Inc		3,200.000 TON	\$16.0000	\$51,200.00
705-04.29 C-A-T CRASH CUSHION AT	TTENUATING TERMINAL			
Cumberland Guardrail, Inc	;.	3.000 EACH	\$1,000.0000	\$3,000.00
705-06.01 W BEAM GR (TYPE 2) MAS	SH TL3			
Cumberland Guardrail, Inc	:.	250.000 L.F.	\$17.0000	\$4,250.00
705-06.10 GR TERMINALTRAILING E	ND (TYPE 13) MASH TL3			
Cumberland Guardrail, Inc	:.	10.000 EACH	\$895.0000	\$8,950.00
705-06.11 GR TERMINAL (IN-INLINE)	MASH TL3			
Cumberland Guardrail, Inc		10.000 EACH	\$650.0000	\$6,500.00
705-06.20 TANGENT ENERGY ABSOL				
Cumberland Guardrail, Inc		1,021.000 EACH	\$2,350.0000	\$2,399,350.00
705-06.30 GR TERMINAL (TYPE 21) N	MASH TL2			
Cumberland Guardrail, Inc	:.	10.000 EACH	\$1,800.0000	\$18,000.00
705-10.30 GUARDRAIL ATTACHMEN	T TO SLOPE FACE ENDPOST	53.000 L.F.		
Cumberland Guardrail, Inc	÷.		\$30.0000	\$1,590.00
705-10.31 GUARDRAIL ATTACHMEN	T TO VERTICAL FACE ENDPOST			
Oversk and and Oversides it has	26.000 L.F.	<b>#04.0000</b>	<b>#004.00</b>	

Cumberland Guardrail, Inc.

\$884.00

\$34.0000

			С	ONTRACT CNR122
			UNIT PRICE	EXTENSION
705-10.32	GUARDRAIL ATTACHMENT TO EXISTING BRIDGE PIER PRO			
	Cumberland Guardrail, Inc.	2.000 EACH	\$300.0000	\$600.00
705-11.01	GUARDRAIL AT BRIDGE ENDS (POWDER COATED)			
	Cumberland Guardrail, Inc.	18.000 L.F.	\$15.0000	\$270.00
705-11.03	SINGLE GUARDRAIL (TYPE 2) (POWDER COATED)			
	Cumberland Guardrail, Inc.	70.000 L.F.	\$15.0000	\$1,050.00
705-11.08	GUARDRAIL TERMINAL (TYPE 13) (POWDER COATED)			
	Cumberland Guardrail, Inc.	2.000 EACH	\$15.0000	\$30.00
706-01	GUARDRAIL REMOVED	800.000 L.F.		
	Cumberland Guardrail, Inc.		\$0.0500	\$40.00
706-02.21	RESET SINGLE GUARDRAIL (TYPE 2)	584.000 L.F.		
	Cumberland Guardrail, Inc.		\$1.0000	\$584.00
706-03.01	POSTS FURNISHED	40,000 54 611		
	Cumberland Guardrail, Inc.	40.000 EACH	\$75.0000	\$3,000.00
706-06.01	SINGLE THRIE RAIL (TYPE 2)	40,000   5		
	Cumberland Guardrail, Inc.	18.000 L.F.	\$5.0000	\$90.00
706-06.02	MEDIAN DIVIDER THRIE RAIL (TYPE 2)	40,000   5		
	Cumberland Guardrail, Inc.	18.000 L.F.	\$5.0000	\$90.00
706-06.03	RADIUS RAIL	550,000 L 5		
	Cumberland Guardrail, Inc.	550.000 L.F.	\$22.0000	\$12,100.00
706-06.05	RADIUS RAIL LONG POST (6-9 FT)	100.000 L.F.		
	Cumberland Guardrail, Inc.		\$22.5000	\$2,250.00
706-06.06	RADIUS RAIL LONG POST (9-12 FT)			

75.000 L.F.

Cumberland Guardrail, Inc.

\$1,462.50

\$19.5000

			UNIT PRICE	CONTRACT CNR122 EXTENSION
706-10.26	ROUNDED END ELEMENT	24.000 EACH		
	Cumberland Guardrail, Inc.	24.000 EAGI1	\$35.0000	\$840.00
706-10.54	RE-ALIGN GUARDRAIL	4,000.000 L.F.		
	Cumberland Guardrail, Inc.		\$1.0000	\$4,000.00
706-10.56	BUFFER ENDS 88"	40.000 54.00		
	Cumberland Guardrail, Inc.	10.000 EACH	\$15.0000	\$150.00
706-10.71	HAZARD MARKERS	4.000 EACH		
	Cumberland Guardrail, Inc.		\$15.0000	\$60.00
706-10.72	PULL AND REINSTALL GUARDARAIL POST FOR VERIFICATION			
	Cumberland Guardrail, Inc.	7.000 EACH	\$75.0000	\$525.00
706-10.74	CONCRETE BARRIER WALL REPAIR			
	Cumberland Guardrail, Inc.	4.000 C.Y.	\$3,000.0000	\$12,000.00
706-10.80	MICHIGAN AND MODIFIED MICHIGAN END SHOE			
	Cumberland Guardrail, Inc.	12.000 EACH	\$10.0000	\$120.00
706-10.81	GUARDRAIL REFLECTORS			
	Cumberland Guardrail, Inc.	14.000 EACH	\$2.5000	\$35.00
706-10.82	CONCRETE BRIDGE END OR PIER PROTECTION REPAIR			
	Cumberland Guardrail, Inc.	3.000 C.Y.	\$3,000.0000	\$9,000.00
706-10.83	DRILL BR. PAR. WALL FOR MICHIGAN END SHOE			
	Cumberland Guardrail, Inc.	18.000 EACH	\$50.0000	\$900.00

720.000 EACH

50.000 DAY

712-01.02 LANE CLOSURE

Cumberland Guardrail, Inc.

Cumberland Guardrail, Inc.

712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD

\$60,000.00

\$324,000.00

\$450.0000

\$1,200.0000

				CONTRACT	CNR122
			UNIT PRICE	EXTE	NSION
717-01	7-01 MOBILIZATION 1.000 LS	1.000 I S			
	Cumberland Guardrail, Inc.		\$1,500.0000	\$1,	500.00
717-01.04	MOBILIZATION (EMERGENCY CALL-OUT)				
		25.000 EACH			

Cumberland Guardrail, Inc.

\$10,000.00

\$400.0000

## **SUB-TOTAL MAINTENANCE**

Cumberland Guardrail, Inc. \$3,550,890.50

## **TOTAL CONTRACT**

Cumberland Guardrail, Inc. \$3,550,890.50

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MARCH 31, 2017

COUNTIES BLEDSOE, CLAY, COFFEE, DEKALB, FENTRESS, GRUNDY, MARION, PICKETT, PUTNAM, VAN BUREN, WARREN, AND WHITE (Contract No. CNR073 Call 029)

STP-REG2(192),98029-8247-14

THE CRACK SEALING AT VARIOUS LOCATIONS ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 120.790 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

TOTAL CONTRACT
Reynolds Sealing & Striping, Inc. \$443,377.04
Pavement Restorations, Inc. \$638,198.40
Scodeller Construction, Inc. \$730,931.20
Vulcan Construction Materials, LLC \$841,706.00
Remac, Inc. DBA Remac Asphalt Maintenance, Inc. \$894,345.68

\$25,000.00

\$15,000.00

\$20,000.00

\$25,000.00

\$25,000.0000

\$15,000.0000

\$20,000.0000

\$25,000.0000

				CONTRACT CNR073
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
411-04	CRACK SEALANT			
		431,832.000 LB.		
	Reynolds Sealing & Striping, Inc.		\$0.9700	\$418,877.04
	Pavement Restorations, Inc.		\$1.2000	\$518,198.40
	Scodeller Construction, Inc.		\$1.6000	\$690,931.20
	Vulcan Construction Materials, LLC		\$1.7500	\$755,706.00
	Remac, Inc. DBA Remac Asphalt Maintenance, Inc.		\$1.9900	\$859,345.68
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Reynolds Sealing & Striping, Inc.		\$20,000.0000	\$20,000.00
	Pavement Restorations, Inc.		\$95,000.0000	\$95,000.00
	Scodeller Construction, Inc.		\$25,000.0000	\$25,000.00
	Vulcan Construction Materials, LLC		\$66,000.0000	\$66,000.00
	Remac, Inc. DBA Remac Asphalt Maintenance, Inc.		\$10,000.0000	\$10,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Reynolds Sealing & Striping, Inc.		\$4,500.0000	\$4,500.00

Pavement Restorations, Inc.

Scodeller Construction, Inc.

Vulcan Construction Materials, LLC

Remac, Inc. DBA Remac Asphalt Maintenance, Inc.

### **SUB-TOTAL ROADWAY**

Vulcan Construction Materials, LLC	\$841,706.00
Remac, Inc. DBA Remac Asphalt Maintenance, Inc.	\$894,345.68
Scodeller Construction, Inc.	\$730,931.20
Reynolds Sealing & Striping, Inc.	\$443,377.04
Pavement Restorations, Inc.	\$638,198.40

### **TOTAL CONTRACT**

Reynolds Sealing & Striping, Inc.	\$443,377.04
Pavement Restorations, Inc.	\$638,198.40
Scodeller Construction, Inc.	\$730,931.20
Vulcan Construction Materials, LLC	\$841,706.00
Remac, Inc. DBA Remac Asphalt Maintenance, Inc.	\$894,345.68

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MARCH 31, 2017

#### COUNTIES BLOUNT, LOUDON, AND MONROE (Contract No. CNR131 Call 030)

R-PHSIP-33(114),98018-3290-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS INCLUDING RESURFACING ON S.R. 33 FROM THE MCMINN COUNTY LINE IN MONROE COUNTY TO THE KNOX COUNTY LINE IN BLOUNT COUNTY.

PROJECT LENGTH - 42.840 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.50%

TOTAL CONTRACT

Highway Markings, Inc.

\$898,833.10

Rogers Group, Inc.

\$1,002,324.11

CONTRACT (	CN	NR'	131
------------	----	-----	-----

			CO	NTRACT CNR131
PO A DWA	Y CATEGORY		UNIT PRICE	EXTENSION
NOADWA	AT CATEGORY			
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		455.000 C.Y.		
	Highway Markings, Inc.		\$55.0000	\$25,025.00
	Rogers Group, Inc.		\$51.9200	\$23,623.60
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		865.000 TON		
	Highway Markings, Inc.		\$40.0000	\$34,600.00
	Rogers Group, Inc.		\$38.2700	\$33,103.55
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADIN	G A		
		91.000 TON		
	Highway Markings, Inc.		\$145.0000	\$13,195.00
	Rogers Group, Inc.		\$138.5700	\$12,609.87
307-02.02	ASPHALT CEMENT (PG70-22)(BPMB-HM) GRADING A-S			
		3.000 TON		
	Highway Markings, Inc.		\$650.0000	\$1,950.00
	Rogers Group, Inc.		\$634.1400	\$1,902.42
307-02.03	AGGREGATE (BPMB-HM) GRADING A-S MIX			
	,	70.000 TON		
	Highway Markings, Inc.	10.000 10.1	\$145.0000	\$10,150.00
	Rogers Group, Inc.		\$138.1100	\$9,667.70
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADIN	G B-M2		
00. 02.00	, , , , , , , , , , , , , , , , , , ,	60.000 TON		
	Highway Markings, Inc.	30.000 1311	\$175.0000	\$10,500.00
	Rogers Group, Inc.		\$159.9200	\$9,595.20
402-01	DITUMINOUS MATERIAL FOR DRIME COAT (DC)			
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)	0.800 TON		
	Highway Markinga Inc	0.800 TON	\$900.0000	¢720.00
	Highway Markings, Inc. Rogers Group, Inc.		\$844.3400	\$720.00 \$675.47
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		3.200 TON	<b>^</b>	<b>*</b>
	Highway Markings, Inc.		\$55.0000	\$176.00
	Rogers Group, Inc.		\$50.7200	\$162.30
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		0.400 TON		
	Highway Markings, Inc.		\$800.0000	\$320.00
	Rogers Group, Inc.		\$722.8000	\$289.12
411-02.10	ACS MIX(PG70-22) GRADING D			
		50.000 TON		
	Highway Markings, Inc.		\$175.0000	\$8,750.00
	Rogers Group, Inc.		\$172.1100	\$8,605.50
				PAGE

				CONTRACT CNR131
			UNIT PRICE	EXTENSION
444 40 00	COORING CHOUL BERG (NON CONTINUOUS) (46IN MIRTH)			
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	15.300 L.M.		
	Highway Markings, Inc.	10.000 Limi	\$475.0000	\$7,267.50
	Rogers Group, Inc.		\$511.9500	\$7,832.84
411 12 04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIE	NTU\		
411-12.04	SCORING FOR RUMBLE STRIFE (NON-CONTINUOUS) (4III WIL	8.900 L.M.		
	Highway Markings, Inc.	0.000 Limi	\$475.0000	\$4,227.50
	Rogers Group, Inc.		\$511.9500	\$4,556.36
604 04 20	PAINTING CONCRETE SURFACES			
004-04.20	FAINTING CONCRETE SURFACES	550.000 S.F.		
	Highway Markings, Inc.	330.000 3.1 .	\$2.1500	\$1,182.50
	Rogers Group, Inc.		\$0.8500	\$467.50
705 04 00	EARTH PAD FOR TYPE 38 GR END TREATMENT			
705-04.09	EARTH PAD FOR TIPE 30 GR END TREATMENT	18.000 EACH		
	Highway Markings, Inc.	10.000 = 7.011	\$950.0000	\$17,100.00
	Rogers Group, Inc.		\$1,446.4000	\$26,035.20
705-04-21	GUARDRAIL DELINEATION ENHANCEMENT			
703-04.21	GUARDICALE DELINEATION ENTIANCEMENT	9,400.000 L.F.		
	Highway Markings, Inc.	o, 1001000 <u>-</u> 1	\$2.5000	\$23,500.00
	Rogers Group, Inc.		\$2.7400	\$25,756.00
705-06 20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
700 00.20	TANGENT ENERGY ADDONOMIC PERMITMAGNITES	18.000 EACH		
	Highway Markings, Inc.		\$2,450.0000	\$44,100.00
	Rogers Group, Inc.		\$3,702.7800	\$66,650.04
706-01	GUARDRAIL REMOVED			
700 01	GOARDINALE REMOVED	900.000 L.F.		
	Highway Markings, Inc.		\$0.5500	\$495.00
	Rogers Group, Inc.		\$2.3100	\$2,079.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		400.000 L.F.		
	Highway Markings, Inc.		\$15.0000	\$6,000.00
	Rogers Group, Inc.		\$17.0200	\$6,808.00
710-05	LATERAL UNDERDRAIN			
	2.1.210.12 5.1021.0.111	18.000 L.F.		
	Highway Markings, Inc.		\$7.5000	\$135.00
	Rogers Group, Inc.		\$8.5100	\$153.18
710-06.13	LATERAL UNDERDRAIN ENDWALL (4:1)			
		1.000 EACH		
	Highway Markings, Inc.		\$2,000.0000	\$2,000.00
	Rogers Group, Inc.		\$2,268.8600	\$2,268.86

CONTRACT C	NR131	
------------	-------	--

			CONTRACT	
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Highway Markings, Inc.		\$60,000.0000	\$60,000.00
	Rogers Group, Inc.		\$80,020.7600	\$80,020.76
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		47.000 EACH		
	Highway Markings, Inc.	47.000 E/(011	\$29.1500	\$1,370.05
	Rogers Group, Inc.		\$37.6900	\$1,771.43
	Rogers Group, inc.		ψ37.0300	Ψ1,771.40
713-02.15	5 FLEXIBLE DELINEATOR (YELLOW)			
		3.000 EACH		
	Highway Markings, Inc.		\$29.1500	\$87.45
	Rogers Group, Inc.		\$43.4000	\$130.20
713-02.20	ROADSIDE OBSTACLE DELINEATION			
		300.000 S.F.		
	Highway Markings, Inc.		\$7.7500	\$2,325.00
	Rogers Group, Inc.		\$14.2800	\$4,284.00
740.00.04	A CION DOOT DELINEATION ENVIANGEMENT			
/13-02.21	I SIGN POST DELINEATION ENHANCEMENT	4 000 000 1 5		
		1,968.000 L.F.		<b>.</b>
	Highway Markings, Inc.		\$4.8500	\$9,544.80
	Rogers Group, Inc.		\$6.0000	\$11,808.00
713-02.22	BARRIER WALL DELINEATION ENHANCEMENT			
		1,325.000 L.F.		
	Highway Markings, Inc.		\$9.2500	\$12,256.25
	Rogers Group, Inc.		\$4.8500	\$6,426.25
712 11 01	I "U" SECTION STEEL POSTS			
713-11.01	U SECTION STEEL POSTS	4 400 000 L D		
	Lliebura Maulinea Ina	1,489.000 LB.	<b>ሲ</b> ር 2500	Ф4 000 OF
	Highway Markings, Inc.		\$3.2500	\$4,839.25 \$5,956.00
	Rogers Group, Inc.		\$4.0000	<b>Ф</b> 5,956.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		10,355.000 LB.		
	Highway Markings, Inc.		\$3.2500	\$33,653.75
	Rogers Group, Inc.		\$3.7700	\$39,038.35
713-11-21	P POST SLIP BASE			
		26.000 EACH		
	Highway Markings, Inc.	20.000 EACH	\$300.0000	\$7,800.00
	Rogers Group, Inc.		\$342.6100	\$8,907.86
	Rogers Group, Inc.		φ3 <del>4</del> 2.0100	ψο,907.00
713-13.02	2 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		931.000 S.F.		
	Highway Markings, Inc.		\$13.1000	\$12,196.10
	Rogers Group, Inc.		\$14.3900	\$13,397.09

				CONTRACT CNR131
			UNIT PRICE	EXTENSION
713-13.03 F	LAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		2,381.000 S.F.		
	lighway Markings, Inc.		\$13.4500	\$32,024.45
F	Rogers Group, Inc.		\$15.3000	\$36,429.30
713-15.02 R	REMOVAL & RELOCATION OF SIGN & SUPPORT			
		11.000 EACH		
	lighway Markings, Inc.		\$125.0000	\$1,375.00
F	Rogers Group, Inc.		\$57.1000	\$628.10
713-15.36 R	REMOVE SIGN, SUPPORT & FOOTING			
		43.000 EACH		
	lighway Markings, Inc.		\$20.0000	\$860.00
F	Rogers Group, Inc.		\$11.4200	\$491.06
716-01.21 S	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		2,725.000 EACH		
	lighway Markings, Inc.		\$22.0000	\$59,950.00
F	Rogers Group, Inc.		\$20.9900	\$57,197.75
716-01.22 S	nwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		2,525.000 EACH		
	lighway Markings, Inc.		\$22.0000	\$55,550.00
F	Rogers Group, Inc.		\$20.9900	\$52,999.75
716-01.23 S	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
		1,400.000 EACH		
	lighway Markings, Inc.		\$22.0000	\$30,800.00
F	Rogers Group, Inc.		\$20.9900	\$29,386.00
716-02.04 F	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		450.000 S.Y.		
	Highway Markings, Inc.		\$19.2500	\$8,662.50
۲	Rogers Group, Inc.		\$16.7300	\$7,528.50
716-02.05 P	PLASTIC PAVEMENT MARKING (STOP LINE)			
		359.000 L.F.		
	Highway Markings, Inc.		\$9.0000	\$3,231.00
۲	Rogers Group, Inc.		\$8.2200	\$2,950.98
716-02.06 F	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		192.000 EACH		
	Highway Markings, Inc.		\$108.0000	\$20,736.00
F	Rogers Group, Inc.		\$113.4400	\$21,780.48
716-02.07 F	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		180.000 L.F.		
	Highway Markings, Inc.		\$9.2500	\$1,665.00
F	Rogers Group, Inc.		\$5.3900	\$970.20

				CONTRACT CNR131
			UNIT PRICE	EXTENSION
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		750.000 L.F.		
	Highway Markings, Inc. Rogers Group, Inc.		\$1.7500 \$1.0800	\$1,312.50 \$810.00
	Rogers Group, Inc.		\$1.0000	φο 10.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	Highway Markingo Inc	5.000 EACH	¢150,0000	¢750.00
	Highway Markings, Inc. Rogers Group, Inc.		\$150.0000 \$153.1500	\$750.00 \$765.75
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)	2.000 EACH		
	Highway Markings, Inc.	2.000 EACH	\$450.0000	\$900.00
	Rogers Group, Inc.		\$255.2500	\$510.50
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
		3.000 EACH		
	Highway Markings, Inc.		\$140.0000	\$420.00
	Rogers Group, Inc.		\$141.8000	\$425.40
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		75.000 S.F.		
	Highway Markings, Inc. Rogers Group, Inc.		\$6.5000 \$7.3700	\$487.50 \$552.75
	g		*********	<b>4</b> -5-2-11 5
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	Highway Markings, Inc.	137.000 L.M.	\$1,165.0000	\$159,605.00
	Rogers Group, Inc.		\$1,219.5100	\$167,072.87
716 12 04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
710-13.04	SPRAT THERING PVINT WIRKING (OUTIN) (4IN DOTTED LINE)	4,650.000 L.F.		
	Highway Markings, Inc.	,	\$0.4200	\$1,953.00
	Rogers Group, Inc.		\$0.3400	\$1,581.00
717-01	MOBILIZATION			
		1.000 LS		
	Highway Markings, Inc. Rogers Group, Inc.		\$120,000.0000 \$161,204.5600	\$120,000.00 \$161,204.56
	Nogers Group, Inc.		\$101,204.5000	ψ101,20 <del>4</del> .50
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	Highway Markings, Inc.	7.000 EACH	\$900.0000	\$6,300.00
	Highway Markings, Inc. Rogers Group, Inc.		\$900.0000 \$948.8400	\$6,300.00 \$6,641.88
	CIONAL LIEAD ACCEMBLY (450 ACLUMITH DACKDLATE)			

1.000 EACH

730-02.17 SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)

Highway Markings, Inc.

Rogers Group, Inc.

\$1,500.00

\$1,689.39

\$1,500.0000 \$1,689.3900

		CONTRACT CNR131
	UNIT PRICE	EXTENSION
730-02.41 SIGNAL HEAD MODIFICATION (BACKPLATE W/ REFLECTIVE BO	IRDER)	
TOO OZIAT GIGINAZ NIZAD INODII IOANION (BAOM ZATZ W NZI ZZOTIVZ BO	77.000 EACH	
Highway Markings, Inc.	\$305.0000	\$23,485.00
Rogers Group, Inc.	\$323.9900	\$24,947.23
730-02.42 SIGNAL HEAD MODIFICATION (BACKPLATE)		
	31.000 EACH	
Highway Markings, Inc.	\$300.0000	\$9,300.00
Rogers Group, Inc.	\$277.7100	\$8,609.01
740-11.03 TEMPORARY SEDIMENT TUBE 18IN		
	500.000 L.F.	

Highway Markings, Inc. Rogers Group, Inc. \$5.0000 \$5.1400 \$2,500.00 \$2,570.00

## **SUB-TOTAL ROADWAY**

 Rogers Group, Inc.
 \$1,002,324.11

 Highway Markings, Inc.
 \$898,833.10

## **TOTAL CONTRACT**

 Highway Markings, Inc.
 \$898,833.10

 Rogers Group, Inc.
 \$1,002,324.11

COUNTIES BRADLEY, CANNON, CLAY, COFFEE, CUMBERLAND, FRANKLIN, HAMILTON, JACKSON, MARION, MCMINN, MEIGS, OVERTON, POLK, PUTNAM, RHEA, SEQUATCHIE, AND WHITE (Contract No. CNR130 Call 031)

STP-REG2(194),98029-8249-14

THE LONGITUDINAL JOINT STABILIZATION ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 102.760 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

TOTAL CONTRACT

Pavement Restorations, Inc.

\$198,385.16

Pavement Technology, Inc.

\$248,020.50

\$23,000.00

\$23,000.0000

			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
411-01.12	LONGITUDINAL JOINT STABILIZATION			
		2,119,788. S.F. 000		
	Pavement Restorations, Inc.		\$0.0700	\$148,385.16
	Pavement Technology, Inc.		\$0.0920	\$195,020.50
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Pavement Restorations, Inc.		\$40,000.0000	\$40,000.00
	Pavement Technology, Inc.		\$30,000.0000	\$30,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Pavement Restorations, Inc.		\$10,000.0000	\$10,000.00

Pavement Technology, Inc.

## **SUB-TOTAL ROADWAY**

Pavement Technology, Inc.	\$248,020.50
Pavement Restorations, Inc.	\$198,385.16

## **TOTAL CONTRACT**

Pavement Restorations, Inc.	\$198,385.16
Pavement Technology, Inc.	\$248,020.50

COUNTIES BRADLEY, DEKALB, HAMILTON, MARION, POLK, PUTNAM, RHEA, AND WHITE (Contract No. CNR119 Call 032)

98029-4157-04

THE RANDOM ON-CALL ATTENUATOR REPAIRS ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

TOTAL CONTRACT

Site-Safe Products, LLC d/b/a Site-Safe, LLC

\$568,760.63

LU, Inc.

\$638,899.90

CONTRACT CNR	119	١
--------------	-----	---

			CO	NTRACT CNR119
MAINTEN	NANCE CATEGORY		UNIT PRICE	EXTENSION
705-07.96	REDIRECTIVE CRASH CUSHION(REACT 350)(9 BARREL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$25,000.0000 \$29,500.0000	\$25,000.00 \$29,500.00
705-08.21	IMPACT ATTENUATOR (TAU-II PARALLEL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$28,620.0000 \$14,000.0000	\$28,620.00 \$14,000.00
705-08.22	IMPACT ATTENUATOR (TAU-II WIDE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$12,500.0000 \$26,500.0000	\$12,500.00 \$26,500.00
705-08.23	REPOSITIONING IMPACT ATTENUATOR (TAU-II)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$25,500.0000 \$1,350.0000	\$25,500.00 \$1,350.00
705-08.25	TAU-II ENERGY ABSORBING CARTRIDGE TYPE A (UNIVERSAL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$565.0000 \$400.0000	\$565.00 \$400.00
705-08.26	TAU-II ENERGY ABSORBING CARTRIDGE TYPE B (UNIVERSAL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$565.0000 \$400.0000	\$565.00 \$400.00
705-08.28	TAU-II FRONT SUPPORT ASSEMBLY (UNIVERSAL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,053.3300 \$790.0000	\$1,053.33 \$790.00
705-08.29	TAU-II FRONT SUPPORT LEG KIT (UNIVERSAL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$262.0000 \$131.0000	\$262.00 \$131.00
705-08.30	TAU-II MID SUPPORT ASSEMBLY (UNIVERSAL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	4.000 EACH	\$1,150.0000 \$950.0000	\$4,600.00 \$3,800.00
705-08.32	TAU-II SLIDER KIT (UNIVERSAL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$280.0000 \$238.0000	\$280.00 \$238.00
				PAGE

				CONTRACT CNR119
			UNIT PRICE	EXTENSION
705-08.33	TAU-II SLIDING PANEL (UNIVERSAL)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$304.2900 \$213.0000	\$304.29 \$213.00
705-08.34	TAU-II NOSE PIECE (PARALLEL UNIT)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$750.0000 \$425.0000	\$1,500.00 \$850.00
705-08.36	TAU-II NOSE PIECE (WIDE UNIT)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$828.5700 \$580.0000	\$828.57 \$580.00
705-08.66	RIP PLATE REPAIR KIT, STAGE 1			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	5.000 EACH	\$530.8800 \$1,000.0000	\$2,654.40 \$5,000.00
705-08.67	RIP PLATE REPAIR KIT, STAGE 2			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	5.000 EACH	\$1,085.3600 \$1,000.0000	\$5,426.80 \$5,000.00
705-08.69	PLASTIC NOSE PIECE/REFLECTOR			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	6.000 EACH	\$397.4800 \$510.0000	\$2,384.88 \$3,060.00
705-08.80	SIDE PANEL - 35"			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$223.8700 \$340.0000	\$447.74 \$680.00
705-08.81	SIDE PANEL - 62"			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	4.000 EACH	\$240.0000 \$399.0000	\$960.00 \$1,596.00
705-08.90	IMPACT ATTENUATOR (2005 TRACC)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$11,049.9900 \$12,500.0000	\$11,049.99 \$12,500.00
705-08.91	REPOSITIONING VEHCULR IMP ATTN(2005TRACC)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	7.000 EACH	\$1,129.0900 \$1,150.0000	\$7,903.63 \$8,050.00

				CONTRACT CNR119
			UNIT PRICE	EXTENSION
705-08.92	05 RIP PLATE REPAIR KIT STAGE 2			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	3.000 EACH	\$576.8000 \$553.0000	\$1,730.40 \$1,659.00
705-09.10	IMPACT ATTENUATOR (SCI100GM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$21,500.0000 \$26,620.0000	\$21,500.00 \$26,620.00
705-09.11	REPOSITIONING OF IMPACT ATTENUATOR (SCI100GM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,100.0000 \$1,000.0000	\$1,100.00 \$1,000.00
705-09.35	PANEL DELINEATOR (W/REFLECTIVE HAZARD MARKER)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$221.6400 \$128.0000	\$221.64 \$128.00
705-14.21	SC B-U CABLE STRAP ASSY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$70.0300 \$75.0000	\$70.03 \$75.00
705-14.22	CONC. B-U CABLE STRAP ASSY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$133.3300 \$143.0000	\$133.33 \$143.00
705-14.30	REPOSITIONING IMPACT ATTENUATOR(REACT 350)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$750.0000 \$1,000.0000	\$1,500.00 \$2,000.00
705-14.56	REFLECTIVE NOSE LEFT/RIGHT			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$291.1600 \$339.0000	\$582.32 \$678.00
705-15.65	QUADGUARD II IMPACT ATTENUATOR (REPOSITIONING)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	8.000 EACH	\$1,144.3200 \$1,150.0000	\$9,154.56 \$9,200.00
705-15.66	QUADGUARD II IMPACT ATTENUATOR (WIDE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$16,700.0000 \$18,851,0000	\$16,700.00 \$18,851.00

\$18,851.00

\$18,851.0000

CONTRACT CNF	R119
--------------	------

				MIRACI CIRTIS
			UNIT PRICE	EXTENSION
705-15.67	QUADGUARD II IMPACT ATTENUATOR			
		5.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$13,044.8200	\$65,224.10
	LU, Inc.		\$14,500.0000	\$72,500.00
705-15.68	NOSE ASSEMBLY QGII STEEL			
		5.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$820.6800	\$4,103.40
	LU, Inc.		\$1,400.0000	\$7,000.00
705-15.69	SHIM KIT QGII			
		45 000 EACH		
	0" 0 ( D )	15.000 EACH	<b>455</b> 0000	<b>*</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$55.0000	\$825.00
	LU, Inc.		\$50.0000	\$750.00
705-15.71	HEX FOAM CARTRIDGE, TYPE I			
		5.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$830.2800	\$4,151.40
	LU, Inc.		\$940.0000	\$4,700.00
705-15.72	HEX FOAM CARTRIDGE, TYPE II			
	,	5.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 LACIT	\$872.9000	\$4,364.50
	LU, Inc.		\$900.0000	\$4,500.00
705 15 74	DIADUDACM ASSEMBLY OC			
705-15.74	DIAPHRAGM ASSEMBLY, QC	2 222 54 211		
		3.000 EACH	<b>^</b>	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$875.2000	\$2,625.60
	LU, Inc.		\$1,275.0000	\$3,825.00
705-15.75	FENDER PANEL ASSEMBLY			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$698.0400	\$698.04
	LU, Inc.		\$750.0000	\$750.00
705-15.92	TRANS PANEL NEW JERSEY BARRIER WIDE			
		1.000 EACH		
	Sita Safa Dradusta II C d/b/a Sita Safa II C	1.000 EACH	<b>የ</b> ድር2 <b>E</b> 200	<b>የ</b> ድርጋ <b>E</b> ጋ
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$663.5300 \$829.0000	\$663.53 \$829.00
705-15.93	TRANS PANEL QUAD TO W WIDE	4 000 5 4 011		
	Cita Cafa Draducta III C d/h/- Cit- C-f- III C	1.000 EACH	<b>#004 4000</b>	<b>0004.40</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$881.1000	\$881.10
	LU, Inc.		\$1,117.0000	\$1,117.00
705-16.75	HAZARD REFLECTORS			
		10.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$73.3300	\$733.30
	LU, Inc.		\$128.0000	\$1,280.00

			CONTRACT CNR119
		UNIT PRICE	EXTENSION
705-16.77 REPAIR OF CONCRETE BACKUP WALL			
0'' 0 ( D ) ( ) (0'' 0 ( ) (0'' 0 ( ) )	15.000 S.F.	<b>#00.0500</b>	<b>#</b> 000 75
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$22.2500 \$21.0000	\$333.75 \$315.00
705-17.08 CARTRIDGE SUPPORT BRACKETS			
705-17.06 CARTRIDGE SUPPORT BRACKETS	4.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$50.0000	\$200.00
LU, Inc.		\$50.0000	\$200.00
705-17.24 HDPE NOSE PIECE			
Site-Safe Products, LLC d/b/a Site-Safe, LLC	2.000 EACH	\$708.8800	\$1,417.76
LU, Inc.		\$782.0000	\$1,564.00
705-17.32 BREAKAWAY POST (TOP)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$142.5000 \$170.0000	\$142.50 \$170.00
EO, IIIC.		\$170.0000	φ170.00
705-17.33 BREAKAWAY BOLT ASSEMBLY			
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$18.2700	\$18.27
LU, Inc.		\$9.0000	\$9.00
705-17.35 IMPACT ATTENUATOR (HEART)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$18,000.0000 \$17,467.0000	\$18,000.00 \$17,467.00
705-17.71 WIDETRACC CABLE SYSTEM (W/ HARDWARE)	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	11000 EA011	\$200.6000	\$200.60
LU, Inc.		\$276.0000	\$276.00
705-17.72 WIDETRACC FRAME (W/ HARDWARE)			
Sita Safa Bradusta II.C d/b/a Sita Safa II.C	1.000 EACH	\$200,2000	\$300.20
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$300.2000 \$413.0000	\$300.20 \$413.00
705 17 72 MIDETDACC EVTENSION FOOT (BIOUT) (MI HARDMARE)			
705-17.73 WIDETRACC EXTENSION FOOT (RIGHT) (W/ HARDWARE)	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$289.6100	\$289.61
LU, Inc.		\$544.0000	\$544.00

1.000 EACH

705-17.74 WIDETRACC EXTENSION FOOT (LEFT) (W/ HARDWARE)

Site-Safe Products, LLC d/b/a Site-Safe, LLC

LU, Inc.

\$289.61

\$544.00

\$289.6100

\$544.0000

CONTRACT C	N	N	R1	19	9
------------	---	---	----	----	---

			00	MINAGI GIMINI
			UNIT PRICE	EXTENSION
705-17.89	HEART REFLECTIVE TAPE			
		4.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$63.0500	\$252.20
	LU, Inc.		\$85.0000	\$340.00
705-17.92	REPOSITIONING IMPACT ATTENUATOR (HEART)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$319.7800	\$319.78
	LU, Inc.		\$1,000.0000	\$1,000.00
	EO, IIIC.		φ1,000.0000	ψ1,000.00
705-17.93	IMPACT ATTENUATOR (WIDETRACC 2005)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$22,000.0000	\$22,000.00
	LU, Inc.		\$19,000.0000	\$19,000.00
705-20.01	M10 ATTENUATOR			
		1.000 EACH		
	0" 0 ( D ) ( ) ( ) ( ) ( ) ( ) ( )	1.000 EACH	<b>0.10.177.0700</b>	0.10, 177, 07
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$19,477.0700	\$19,477.07
	LU, Inc.		\$20,000.0000	\$20,000.00
705-20.02	QUADGUARD TO M10 ATTENUATOR RETROFIT			
		3.000 EACH		
	Sita Safa Draducta II C d/b/a Sita Safa II C	3.000 EACH	¢0.742.0000	¢20, 220, 00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$9,743.0000 \$13,000.0000	\$29,229.00 \$39,000.00
	EO, IIIC.		ψ13,000.0000	ψ39,000.00
705-20.03	REPOSITIONING IMPACT ATTENUATOR (M10)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,100.0000	\$1,100.00
	LU, Inc.		\$1,300.0000	\$1,300.00
705-20.04	NOSE ASSEMBLY, M10			
		3.000 EACH		
	Sita Safa Draducta II C d/b/a Sita Safa II C	3.000 EACH	¢4 400 4600	<b>\$2.546.40</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,182.1600 \$1,200.0000	\$3,546.48 \$3,600.00
	LU, Inc.		\$1,200.0000	\$3,600.00
705-20.05	HEX FOAM CARTRIDGE, TYPE M1			
		3.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$831.1700	\$2,493.51
	LU, Inc.		\$1,000.0000	\$3,000.00
705-20 06	HEX FOAM CARTRIDGE, TYPE M2			
103-20.00	HEAT OAK INDOL, TIPE MZ	3.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	3.000 E7.011	\$872.3700	\$2,617.11
	LU, Inc.		\$1,100.0000	\$3,300.00
			. ,	. ,
705-20.30	BELT NOSEPIECE, YELLOW, 24"-36" (QGE, QGEM)			
		2.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,900.0000	\$3,800.00
	LU, Inc.		\$3,093.0000	\$6,186.00

				CONTRACT CNR119
			UNIT PRICE	EXTENSION
705-20.31	BELT NOSEPIECE, YELLOW, 69"-90" (QGE, QGEM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$2,100.0000 \$3,380.0000	\$4,200.00 \$6,760.00
705-20.32	QGE HIT INDICATOR	0.000 54.011		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	3.000 EACH	\$160.0000 \$247.0000	\$480.00 \$741.00
705-20.33	QGE CYLINDER TYPE I (QGE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	3.000 EACH	\$1,300.0000 \$2,021.0000	\$3,900.00 \$6,063.00
705-20.34	QGE CYLINDER TYPE II (QGE)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	3.000 EACH	\$950.0000 \$2,796.0000	\$2,850.00 \$8,388.00
705-20.35	QGE CYLINDER ME1 (QGEM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	3.000 EACH	\$950.0000 \$1,559.0000	\$2,850.00 \$4,677.00
705-20.36	QGE CYLINDER ME2 (QGEM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	3.000 EACH	\$960.0000 \$1,576.0000	\$2,880.00 \$4,728.00
705-20.37	QGE CYLINDER ME3 (QGEM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	3.000 EACH	\$2,000.0000 \$3,110.0000	\$6,000.00 \$9,330.00
705-20.38	QGEM EXTENSION BACKUP (BACKUP DIAPHRAGM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$1,500.0000 \$2,388.9000	\$3,000.00 \$4,777.80
705-20.39	QGEM EXTENSION BACKUP (DIAPHRAGM)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	2.000 EACH	\$1,500.0000 \$2,388.9000	\$3,000.00 \$4,777.80
705-20.40	QUAD GUARD ELITE RETROFIT TO QG ELITE M10			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	2.000 EACH	\$12,500.0000 \$20,831,0000	\$25,000.00 \$41,642.00

\$41,642.00

\$20,821.0000

			c	CONTRACT	CNR119
		UNI	T PRICE	EXTE	NSION
740 04 50	MAINTENANCE OF TRAFFIC				
/12-01.50	MAINTENANCE OF TRAFFIC	12.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		23.7500	\$9.	885.00
	LU, Inc.	· ·	00.000		400.00
712-01.52	MAINTENANCE OF TRAFFIC (NIGHT WORK)				
		6.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		96.0000		376.00
	LU, Inc.	\$20	00.000	\$1,	200.00
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD				
		20.000 DAY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$50	00.000	\$10,	00.00
	LU, Inc.	\$2,00	00.000	\$40,	00.00
717-01	MOBILIZATION				
		1.000 LS			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$19,50	00.000	\$19,	500.00
	· · · ·	<b>.</b>			

\$18,500.00

\$18,500.0000

				CONTRACT CNR119	
MAINTEN	IANCE CONTINGENCY CATEGORY		UNIT PRICE	EXTENSION	
705-07.20	TRANSITION TO SAFETY SHAPE (2005 TRACC)	1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$633.2500 \$633.2500	\$633.25 \$633.25	
705-07.21	TRANSITION TO BARRIER WALL END CAP (2005 TRACC)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$212.5000 \$212.5000	\$212.50 \$212.50	
705-07.22	SPLIT FRAME KIT-30IN BACK-UP (2005 TRACC)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$559.3000 \$559.3000	\$559.30 \$559.30	
705-08.18	TAU-II XXXL BULKHEAD (WIDE UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,500.0000	\$1,500.00	
	LU, Inc.		\$1,500.0000	\$1,500.00	
705-08.19	TAU-II XXXXL BULKHEAD (WIDE UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,000.0000 \$2,000.0000	\$2,000.00 \$2,000.00	
705-08.24	TAU-II CABLE GUIDE KIT (UNIVERSAL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$500.0000 \$500.0000	\$500.00 \$500.00	
705-08.27	TAU-II END PANEL (UNIVERSAL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$275.0000 \$275.0000	\$275.00 \$275.00	
705-08.31	TAU-II PIPE PANEL MOUNT (UNIVERSAL)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$120.0000 \$120.0000	\$120.00 \$120.00	
705-08.35	TAU-II PCB BACKSTOP (PARALLEL UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$800.0000 \$800.0000	\$800.00 \$800.00	
705-08.37	TAU-II WIDE SUPPORT LEG ADAPTER (WIDE UNIT)				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$200.0000 \$200.0000	\$200.00 \$200.00	
				PAGE 1	0

			UNIT PRICE	CONTRACT CNR119 EXTENSION
705-08.38	TAU-II WING ASSEMBLY (WIDE UNIT)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$400.0000 \$400.0000	\$400.00 \$400.00
705-08.39	TAU-II WING BRACE (WIDE UNIT)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$50.0000 \$50.0000	\$50.00 \$50.00
705-08.40	TAU-II XL BULKHEAD (WIDE UNIT)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$600.0000 \$600.0000	\$600.00 \$600.00
705-08.41	TAU-II XXL BULKHEAD (WIDE UNIT)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,100.0000 \$1,100.0000	\$1,100.00 \$1,100.00
705-08.52	QUADGUARD MONORAIL ASSEMBLY, 3 BAY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,275.0000 \$1,275.0000	\$1,275.00 \$1,275.00
705-08.68	RIP PLATE REPAIR KIT, STAGE 3			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,620.2500 \$1,620.2500	\$1,620.25 \$1,620.25
705-08.74	BASE ASSEMBLY - 9'			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$833.0000 \$833.0000	\$833.00 \$833.00
705-08.76	BEAM GUIDE - 20'			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$636.6500 \$636.6500	\$636.65 \$636.65
705-08.77	END SHOE (LEFT OR RIGHT)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$238.0000 \$238.0000	\$238.00 \$238.00
705-08.84	SLOT PLATE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$20.8500	\$20.85

\$20.85

\$20.8500

				CONTRACT CNR119
			UNIT PRICE	EXTENSION
705-08.85	CROSSTIE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$109.6500 \$109.6500	\$109.65 \$109.65
705-08.86	FORM CHANNEL - 3 X 2			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$187.0000 \$187.0000	\$187.00 \$187.00
705-08.88	SLED/CUTTER ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,465.0000 \$2,465.0000	\$2,465.00 \$2,465.00
705-08.93	05 RIP PLATE REPAIR KIT STAGE 3			
		1.000 EACH	•	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,119.4500 \$1,119.4500	\$1,119.45 \$1,119.45
705-08.94	05 FRONT ANCH WELDMENT	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$410.0000 \$410.0000	\$410.00 \$410.00
705-08.95	05 SECTION MODULE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,415.0000 \$1,415.0000	\$1,415.00 \$1,415.00
705-08.97	05 SLED/SHREDDER ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,465.0000 \$2,465.0000	\$2,465.00 \$2,465.00
705-08.98	05 FRAME WELDMENT			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$310.2500 \$310.2500	\$310.25 \$310.25
705-08.99	05 BACK-UP FRAME			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$473.4500 \$473.4500	\$473.45 \$473.45
705-09.12	CONCRETE ANCHOR BOLT SET (3/4 IN X 7 IN)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$306.0000 \$306.0000	\$306.00 \$306.00

			CONTRACT CNR119
		UNIT PRICE	EXTENSION
705-09.13	ASPHALT ANCHOR BOLT SET (3/4 IN X 18 IN)		
		1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$871.0000 \$871.0000	
705 00 44	DOLT CARLE AD HISTER		
705-09.14	BOLT CABLE ADJUSTER	1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$120.0000	
	LU, Inc.	\$120.0000	\$120.00
705-09.15	BOLT SLED SIDE PANEL	4 000 54 011	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	<b>1.000 EACH</b> \$6.0000	\$6.00
	LU, Inc.	\$6.0000	\$6.00
705-09.16	BOLT FRONT STOP		
		1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$3.0000 \$3.0000	
705 00 17	BOLT SHEAR		
705-09.17	BULI SHEAR	1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$1.5000 \$1.5000	•
	LO, IIIC.	\$1.5000	\$1.50
705-09.18	BOLT SIDE GUIDE	4.000 54.00	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	<b>1.000 EACH</b> \$20.0000	\$20.00
	LU, Inc.	\$20.0000	\$20.00
705-09.19	BOLT TERMINAL BRACE		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	<b>1.000 EACH</b> \$9.0000	\$9.00
	LU, Inc.	\$9.0000	·
705-09.20	BRACE TERMINAL		
		1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$414.0000 \$414.0000	•
705-09.21	CABLE WIRE ROPE W/ SPELTER SOCKET	1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,083.0000	
	LU, Inc.	\$1,083.0000	\$1,083.00
705-09.22	CLIP WIRE ROPE	4.000 = 1.000	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH \$34.0000	\$34.00
	LU, Inc.	\$34.0000	

			cc	NTRACT CNR119
			UNIT PRICE	EXTENSION
705-09.23	CYLINDER SHOCK ARRESTING			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$3,143.0000 \$3,143.0000	\$3,143.00 \$3,143.00
705-09.24	STRAP CYLINDER			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$89.0000 \$89.0000	\$89.00 \$89.00
705-09.25	FRAME MOBILE #1			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.26	FRAME MOBILE #2			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.27	FRAME MOBILE #3			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.28	FRAME MOBILE #4			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.29	FRAME MOBILE #5			
	00 ( D ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( )	1.000 EACH	<b>0</b> 444.0000	<b>*</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.30	FRAME MOBILE #6			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.31	GUIDE SIDE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$94.0000 \$94.0000	\$94.00 \$94.00
705-09.32	KEEPER SIDE #1 (SLED PANEL)			
		1.000 EACH	*	_
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$23.0000 \$23.0000	\$23.00 \$23.00

			co	NTRACT CNR119
			UNIT PRICE	EXTENSION
705-09.33	KEEPER SIDE #2 (SIDE PANEL)			
		1.000 EACH	<b>.</b>	•
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$23.0000 \$23.0000	\$23.00 \$23.00
705-09.34	KEEPER SIDE #3 (REAR PANEL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$23.0000 \$23.0000	\$23.00 \$23.00
705-09.36	PANEL SIDE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$223.0000 \$223.0000	\$223.00 \$223.00
705-09.37	PANEL SLED			
	0" 0 ( D )	1.000 EACH	<b>#</b> 444.0000	<b>#</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$414.0000 \$414.0000	\$414.00 \$414.00
705-09.38	PANEL REAR			
	Cita Cafa Draducata II C d/b/a Cita Cafa II C	1.000 EACH	<b>#200 0000</b>	<b>#200.00</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$206.0000 \$206.0000	\$206.00 \$206.00
705-09.39	SHEAVE (PULLEY)			
	Site Sete Draducte 11 C d/b/e Site Sete 11 C	1.000 EACH	¢402 0000	¢402.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$103.0000 \$103.0000	\$103.00 \$103.00
705-09.40	SLED			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,917.0000	\$1,917.00
	LU, Inc.		\$1,917.0000	\$1,917.00
705-09.41	TRANSITION JERSEY BARRIER RIGHT			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,263.0000	\$1,263.00
	LU, Inc.		\$1,263.0000	\$1,263.00
705-09.42	TRANSITION JERSEY BARRIER LEFT	4		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,263.0000	\$1,263.00
	LU, Inc.		\$1,263.0000	\$1,263.00
705-09.43	TRANSITION 24IN CONCRETE	4 222 54 511		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$794.0000	\$794.00
	LU, Inc.		\$794.0000	\$794.00

			co	CONTRACT CNR11	
			UNIT PRICE	EXTENSION	
705-09.44	BOOT CYLINDER				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$57.0000 \$57.0000	\$57.00 \$57.00	
705-14.31	CYLINDER 0.8" CYLINDERS 1 & 2				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00	
705-14.32	CYLINDER 0.9" CYLINDERS 3 & 4				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00	
705-14.33	CYLINDER 1.0" CYLINDERS 5 & 6				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00	
705-14.34	CYLINDER 1.108" CYLINDER 7				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00	
705-14.35	CYLINDER 1.385" CYLINDERS 8 & 9				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00	
705-14.36	U-BOLTS (1/2" X 3")				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$12.0000 \$12.0000	\$12.00 \$12.00	
705-14.37	U-BOLTS (3/8" X 3")				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$12.0000 \$12.0000	\$12.00 \$12.00	
705-14.38	BOX BEAM (8" X 6" X 3/16")				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$35.0000 \$35.0000	\$35.00 \$35.00	
705-14.50	CYLINDER RETAINER (1' 3" X 5")				
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$60.0000 \$60.0000	\$60.00 \$60.00	

				CONTRACT CNR119
			UNIT PRICE	EXTENSION
705-14.51	FRONT ANCHOR PIN (1/4" X 1 1/2" X 3")			
	,	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$23.0000	\$23.00
	LU, Inc.		\$23.0000	\$23.00
705-14.53	1/2" GALVANIZED CHAIN WITH HARDWARE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$82.0000	\$82.00
	LU, Inc.		\$82.0000	\$82.00
705-14.54	POLYVINYL COVER			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$71.0000	\$71.00
	LU, Inc.		\$71.0000	\$71.00
705-14.55	ANCHOR BOLT SET (CONCRETE/ASPHALT)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$895.0000 \$895.0000	\$895.00
	LU, Inc.		\$695.0000	\$895.00
705-14.57	BACKUP SINGLE CABLE-(4 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$660.0000 \$660.0000	\$660.00 \$660.00
	LO, IIIC.		φοου.σοσ	φοου.ου
705-14.58	BACKUP SINGLE CABLE-(6 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$840.0000 \$840.0000	\$840.00 \$840.00
	LO, IIIC.		<b>Ф</b> 840.0000	φο40.00
705-14.59	BACKUP SINGLE CABLE-(9 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,050.0000 \$1,050.0000	\$1,050.00 \$1,050.00
	20, 110.		ψ1,000.0000	ψ1,000.00
705-14.60	CABLE SYSTEM FOR SIDE MOUNT-(4 BARREL)			
	0. 0 ( D ) 1 1 1 0 1 ( 0. 0 ( 11 0	1.000 EACH	<b>#4.075.0000</b>	<b>\$4.075.00</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,975.0000 \$1,975.0000	\$1,975.00 \$1,975.00
			ψ1,010.0000	Ψ1,010.00
705-14.61	CABLE SYSTEM FOR SIDE MOUNT-(6 BARREL)			
	Sita Safa Braducta II C d/b/a Sita Safa II C	1.000 EACH	¢2 445 0000	¢2.445.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$2,415.0000 \$2,415.0000	\$2,415.00 \$2,415.00
	, <del>-</del>		,	<del>-</del> -, · · · · · · · · · · · · · · · · · · ·
705-14.62	CABLE SYSTEM FOR SIDE MOUNT-(9 BARREL)	= -		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$2,690.0000	\$2,690.00
	LU, Inc.		\$2,690.0000	\$2,690.00 \$2,690.00
			•	•

				CONTRACT CNR119
			UNIT PRICE	EXTENSION
705-14.63	BOTTOM CABLE-(4 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$550.0000 \$550.0000	\$550.00 \$550.00
705-14.64	BOTTOM CABLE-(6 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$580.0000 \$580.0000	\$580.00 \$580.00
705-14.65	BOTTOM CABLE-(9 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,407.0000 \$1,407.0000	\$1,407.00 \$1,407.00
705-14.66	SIDE MNT ANCHR/CABLE ANCHR CVR PLT			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$770.0000 \$770.0000	\$770.00 \$770.00
705-14.67	PULLOUT BRACKET ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$91.3500	\$91.35
	LU, Inc.		\$91.3500	\$91.35
705-14.68	3IN X 3IN TUBING			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$72.0000 \$72.0000	\$72.00 \$72.00
	20, 110.		Ψ/2.0000	Ψ12.00
705-14.69	GALVANIZED STABALIZER BAR			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$190.0000	\$190.00
	LU, Inc.		\$190.0000	\$190.00
705-14 70	TRANSITION PLATE			
703-14.70	MANOMONTEATE	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$490.0000	\$490.00
	LU, Inc.		\$490.0000	\$490.00
705-14.71	TOP CABLE (OLD UNIT)-(4 BARREL)			
		1.000 EACH	<b>#</b> 500.0000	<b>#</b> 500.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$560.0000 \$560.0000	\$560.00 \$560.00
705 4 4 70	TOR CARLE (OLD HAIT) (CRARREL)			
/05-14./2	TOP CABLE (OLD UNIT)-(6 BARREL)	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	11000 E/1011	\$609.0000	\$609.00
	LU, Inc.		\$609.0000	\$609.00

			UNIT PRICE	CONTRACT CNR119  EXTENSION
705 44 72	TOR CARLE (OLD LINIT) (O DARREL)		•	
705-14.73	TOP CABLE (OLD UNIT)-(9 BARREL)	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$955.0000 \$955.0000	\$955.00 \$955.00
705-15.77	BACKUP ASSEMBLY, TENSION STRUT			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
705-15.79	MONORAIL ASSEMBLY, 4-6 BAY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$2,850.0000	\$2,850.00
	LU, Inc.		\$2,850.0000	\$2,850.00
705-15.80	MONORAIL ASSEMBLY, 7-9 BAY	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,950.0000 \$2,950.0000	\$2,950.00 \$2,950.00
705-15.82	TRANSITION PANEL, NEW JERSEY BARRIER			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$638.0000 \$638.0000	\$638.00 \$638.00
705-15.83	TRANSITION PANEL, QUAD TO W			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$930.0000 \$930.0000	\$930.00 \$930.00
705-15.84	DIAPHRAGM ASSEMBLY, WIDE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$1,260.0000	\$1,260.00
	LU, Inc.		\$1,260.0000	\$1,260.00
705-15.85	BACKUP ASSEMBLY, TENSION STRUT, WIDE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,425.0000 \$2,425.0000	\$2,425.00 \$2,425.00
705-15.87	BACKUP ASSEMBLY, CONCRETE			
		1.000 C.Y.	<b>.</b>	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$1,230.0000 \$1,230.0000	\$1,230.00 \$1,230.00
705-15.88	END SHOE, CONCRETE			
		1.000 C.Y.	_	_
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$370.0000	\$370.00

\$370.00

\$370.0000

			cc	NTRACT CNR119
			UNIT PRICE	EXTENSION
705-15.89	BACKUP ASSEMBLY, CONCRETE, WIDE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 C.Y.	\$1,423.0000 \$1,423.0000	\$1,423.00 \$1,423.00
705-15.90	EXTENSION PANEL			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$330.0000 \$330.0000	\$330.00 \$330.00
705-15.91	PIVOT SUPPORT BRACKET			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$85.0000 \$85.0000	\$85.00 \$85.00
705-17.18	CBL 3/4 X 6FT6IN /DLB SWG/NOHWI			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$113.5000 \$113.5000	\$113.50 \$113.50
705-17.19	CBL 3/4 X 19FT7IN /SNG SWG			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$209.0000 \$209.0000	\$209.00 \$209.00
705-17.20	DIAPHRAGM #1			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$456.0000 \$456.0000	\$456.00 \$456.00
705-17.21	DIAPHRAGM #2			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$505.7500 \$505.7500	\$505.75 \$505.75
705-17.23	DIAPHRAGM #10			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$352.7500 \$352.7500	\$352.75 \$352.75
705-17.25	HDPE FRONT PANEL			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$977.5000 \$977.5000	\$977.50 \$977.50
705-17.26	HDPE MIDDLE PANEL			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$980.0000 \$980.0000	\$980.00 \$980.00

			co	NTRACT CNR119
			UNIT PRICE	EXTENSION
705-17.27	HDPE REAR PANEL			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$985.0000 \$985.0000	\$985.00 \$985.00
705-17.28	COMPLETE BASE UNIT			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$2,195.0000 \$2,195.0000	\$2,195.00 \$2,195.00
705-17.29	PLATE WASHER 5/16IN X 2IN X 1FT2IN			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$20.0000 \$20.0000	\$20.00 \$20.00
705-17.30	BACK-UP POST			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$952.0000 \$952.0000	\$952.00 \$952.00
705-17.31	FRONT BASEPLATE / POST ASSEMBLY			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$539.7500 \$539.7500	\$539.75 \$539.75
705-17.36	TRANSITION TO SAFETY SHAPE			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$1,349.0000 \$1,349.0000	\$1,349.00 \$1,349.00
705-17.37	TRANSITION TO BARRIER WALL (END CAP)			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$701.2500 \$701.2500	\$701.25 \$701.25
705-17.40	WIDETRACC LONG WING POST			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$374.0000 \$374.0000	\$374.00 \$374.00
705-17.41	WIDETRACC SHORT WING POST			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	1.000 EACH	\$306.0000 \$306.0000	\$306.00 \$306.00
705-17.42	WIDETRACC EXT CHANNEL			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$743.7500 \$743.7500	\$743.75 \$743.75

\$743.75

\$743.7500

				CONTRACT CNR119
			UNIT PRICE	EXTENSION
705-17.43	WIDETRACC PANEL			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$348.5000	\$348.50
	LU, Inc.		\$348.5000	\$348.50
705-17.90	HEART REPAIR DPHM-L WR BKT			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$102.8500	\$102.85
	LU, Inc.		\$102.8500	\$102.85
705-17.91	HEART CRS-RPR DPH 3-9			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$412.2500	\$412.25
				_

\$412.2500

\$412.25

## **SUB-TOTAL MAINTENANCE**

LU, Inc. Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$544,455.60 \$474,316.33
SUB-TOTAL MAINTENANCE CONTINGENCY	
LU, Inc.	\$94,444.30
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$94,444.30
TOTAL CONTRACT	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$568,760.63
LU, Inc.	\$638,899.90

### CAMPBELL COUNTY (Contract No. CNR077 Call 033)

STP/HSIP-297(10),07015-3223-94,07015-8223-14,STP/HSIP-9(91),07002-3245-94,07002-8245-14

THE RESURFACING ON U.S. 25W (S.R. 9) FROM THE KENTUCKY STATE LINE TO NEAR WEST DAVIS LANE AND ON S.R. 297 FROM NEAR LOWWOOD LANE TO NEAR CREEKMORE HOUSLEY DRIVE.

PROJECT LENGTH - 6.810 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 15, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Potter South East LLC

\$1,323,525.96

Rogers Group, Inc.

\$1,373,273.17

			C	ONTRACT CNR077
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		56.000 TON		
	Potter South East LLC		\$560.0000	\$31,360.00
	Rogers Group, Inc.		\$430.0000	\$24,080.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	( 1 , 1	514.000 TON		
	Potter South East LLC		\$92.7000	\$47,647.80
	Rogers Group, Inc.		\$89.9000	\$46,208.60
411-01.10	ACS MIX(PG64-22) GRADING D	0.440.000.701		
	Potter South East LLC	8,112.000 TON	\$92.7000	\$751,982.40
	Rogers Group, Inc.		\$92.7000 \$91.8000	\$744,681.60
			·	. ,
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		0.700 L.M.		
	Potter South East LLC		\$508.0000	\$355.60
	Rogers Group, Inc.		\$355.2500	\$248.68
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDT	Ή)		
		0.600 L.M.		
	Potter South East LLC		\$560.0000	\$336.00
	Rogers Group, Inc.		\$355.2500	\$213.15
444 40 04	ACCRING FOR DUMPI F OTDIPF (NOV CONTINUOUS) (4	IN MADELLY		
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4			
	Potter South East LLC	8.030 L.M.	\$600.0000	\$4,818.00
	Rogers Group, Inc.		\$355.2500	\$2,852.66
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		8,538.000 TON		
	Potter South East LLC		\$12.7200	\$108,603.36 \$4.47.707.40
	Rogers Group, Inc.		\$17.3000	\$147,707.40
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	,	4,488.000 S.F.		
	Potter South East LLC	·	\$22.8000	\$102,326.40
	Rogers Group, Inc.		\$31.2400	\$140,205.12
705 04 00	FARTURAR FOR TYPE OF OR FAIR TREATMENT			
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	2 000 54 611		
	Potter South East LLC	2.000 EACH	\$1,500.0000	\$3,000.00
	Rogers Group, Inc.		\$1,400.0000	\$2,800.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
	Potter South East LLC		\$2,500.0000 \$3,175,0000	\$5,000.00 \$4,350.00
	Rogers Group, Inc.		\$2,175.0000	\$4,350.00
				PAGE 2

				CONTRACT CNR077
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL	1.000 LS		
	Potter South East LLC	1.000 LS	¢45 570 0000	¢15 570 00
	Rogers Group, Inc.		\$15,570.0000 \$31,332.0000	\$15,570.00 \$31,332.00
	Rogoro Group, mo.		ψ01,002.0000	ψ01,002.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		536.000 EACH		
	Potter South East LLC		\$15.0000	\$8,040.00
	Rogers Group, Inc.		\$5.1000	\$2,733.60
712-05.01	WARNING LIGHTS (TYPE A)			
	, ,	268.000 EACH		
	Potter South East LLC		\$10.0000	\$2,680.00
	Rogers Group, Inc.		\$5.1000	\$1,366.80
712-06	SIGNS (CONSTRUCTION)			
	D. W. O. W. E. (110)	1,736.000 S.F.	Φο οοοο	<b>A</b> 45 004 00
	Potter South East LLC Rogers Group, Inc.		\$9.0000 \$6.8200	\$15,624.00 \$11,839.52
	Nogers Group, inc.		ψ0.0200	ψ11,009.02
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Potter South East LLC		\$700.0000	\$1,400.00
	Rogers Group, Inc.		\$859.0800	\$1,718.16
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
710 10.00	NAILNOAD ADVANGE WANNING SIGN AND SOLVEN.	2.000 EACH		
	Potter South East LLC	2.000 EAGI1	\$300.0000	\$600.00
	Rogers Group, Inc.		\$328.4700	\$656.94
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		567.000 EACH		
	Potter South East LLC		\$25.3000	\$14,345.10 \$45,534.46
	Rogers Group, Inc.		\$27.3800	\$15,524.46
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		181.000 EACH		
	Potter South East LLC		\$25.3000	\$4,579.30
	Rogers Group, Inc.		\$23.0000	\$4,163.00
716-01 22	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
710-01.23	Shaphable Lattice (Bi-Dil)(2 color)	94.000 EACH		
	Potter South East LLC	34.000 EAGN	\$25.3000	\$2,378.20
	Rogers Group, Inc.		\$30.9200	\$2,906.48
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		352.000 L.F.		
	Potter South East LLC		\$9.9000	\$3,484.80
	Rogers Group, Inc.		\$9.0000	\$3,168.00

		CONTRACT CNR077
	UNIT PRICE	EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING) 98.000 S.Y.		
Potter South East LLC	\$20.0000	\$1,960.00
Rogers Group, Inc.	\$18.0000	\$1,764.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
996.000 L.F.		
Potter South East LLC	\$10.0000	\$9,960.00
Rogers Group, Inc.	\$9.0000	\$8,964.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
11.000 EACH		
Potter South East LLC	\$165.0000	\$1,815.00
Rogers Group, Inc.	\$150.0000	\$1,650.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)		
6.000 EACH		
Potter South East LLC	\$137.5000	\$825.00
Rogers Group, Inc.	\$125.0000	\$750.00
716-03.02 PLASTIC WORD PAVEMENT MARKING (RXR)		
2.000 EACH		
Potter South East LLC	\$415.0000	\$830.00
Rogers Group, Inc.	\$375.0000	\$750.00
716-03.09 PLASTIC WORD PAVEMENT MARKING (SLOW)		
1.000 EACH		
Potter South East LLC Rogers Group, Inc.	\$150.0000 \$125.0000	\$150.00 \$125.00
Rogers Group, Inc.	φ123.0000	φ123.00
716-04.03 PLASTIC PAVEMENT MARKING (4" DOTTED LINE)		
500.000 L.F.		
Potter South East LLC Rogers Group, Inc.	\$1.1500 \$1.0000	\$575.00 \$500.00
reggio creap, me.	<b>\$1.0000</b>	φοσοισσ
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		
4.000 EACH		<b>#4.200.00</b>
Potter South East LLC Rogers Group, Inc.	\$300.0000 \$275.0000	\$1,200.00 \$1,100.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
28.000 L.M. Potter South East LLC	\$495.0000	\$13,860.00
Rogers Group, Inc.	\$450.0000	\$12,600.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
8.000 L.M. Potter South East LLC	\$4,290.0000	\$34,320.00
Rogers Group, Inc.	\$3,900.0000	\$31,200.00

				CONTRACT CNR077
			UNIT PRICE	EXTENSION
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		20.000 L.M.		
	Potter South East LLC		\$2,145.0000	\$42,900.00
	Rogers Group, Inc.		\$1,950.0000	\$39,000.00
717-01	MOBILIZATION			
• .		1 000 1 8		
	D # 0 # F # 11 0	1.000 LS	<b>#50.000.0000</b>	ФЕО ООО ОО
	Potter South East LLC		\$58,000.0000	\$58,000.00
	Rogers Group, Inc.		\$55,514.0000	\$55,514.00
730-14.02	SAW SLOT			
		6,000.000 L.F.		
	Potter South East LLC		\$4.4000	\$26,400.00
	Rogers Group, Inc.		\$4.0800	\$24,480.00
730-14.03	LOOP WIRE			
		12,000.000 L.F.		
	Potter South East LLC		\$0.5500	\$6,600.00
	Rogers Group, Inc.		\$0.5100	\$6,120.00

## **SUB-TOTAL ROADWAY**

 Rogers Group, Inc.
 \$1,373,273.17

 Potter South East LLC
 \$1,323,525.96

## **TOTAL CONTRACT**

 Potter South East LLC
 \$1,323,525.96

 Rogers Group, Inc.
 \$1,373,273.17

### CAMPBELL COUNTY (Contract No. CNR132 Call 034)

07012-4235-04,STP/HSIP-90(5),07012-3235-94,07012-8235-14

THE RESURFACING ON S.R. 90 FROM U.S. 25W (S.R. 9) (L.M. 0.00) TO THE CLAIBORNE COUNTY LINE (L.M. 7.04), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 7.040 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Potter South East LLC Rogers Group, Inc.

\$966,348.32

\$1,004,662.90

CONTRACT CNR132
-----------------

			CC	NTRACT CNR132
ROADW/	AY CATEGORY		UNIT PRICE	EXTENSION
NOADWA	AT CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	)		
		200.000 TON		
	Potter South East LLC		\$22.8000	\$4,560.00
	Rogers Group, Inc.		\$45.1500	\$9,030.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		79.000 TON		
	Potter South East LLC		\$578.0000	\$45,662.00
	Rogers Group, Inc.		\$741.0000	\$58,539.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	5 400 000 TON		
	Potter South East LLC	5,198.000 TON	¢402 5000	\$532,795.00
	Rogers Group, Inc.		\$102.5000 \$96.2000	\$532,795.00 \$500,047.60
	Rogers Group, me.		ψ30.2000	φοου,υ-1.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOL	JS) (4IN WIDTH) 13.500 L.M.		
	Potter South East LLC	13.500 L.M.	\$500.0000	\$6,750.00
	Rogers Group, Inc.		\$470.0000	\$6,345.00
			*	+3,2 1313
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT	C 545 000 L 5		
	Potter South East LLC	6,515.000 L.F.	\$3.0800	\$20,066.20
	Rogers Group, Inc.		\$2.3000	\$14,984.50
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		3.000 EACH		
	Potter South East LLC		\$2,800.0000	\$8,400.00
	Rogers Group, Inc.		\$2,778.0000	\$8,334.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3	3		
		2.000 EACH		
	Potter South East LLC		\$4,500.0000	\$9,000.00
	Rogers Group, Inc.		\$4,026.8000	\$8,053.60
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Potter South East LLC		\$18,000.0000	\$18,000.00
	Rogers Group, Inc.		\$34,372.0000	\$34,372.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,305.000 L.F.	_	
	Potter South East LLC		\$28.0000	\$36,540.00
	Rogers Group, Inc.		\$35.2000	\$45,936.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		80.000 EACH	<b>.</b>	<b>4</b>
	Potter South East LLC Rogers Group, Inc.		\$20.0000 \$5.3500	\$1,600.00 \$428.00
	Nogera Group, me.		φυ.σουυ	
				PAGE

CONTRACT CNR132
-----------------

			00	TITIONO CITICION
			UNIT PRICE	EXTENSION
712-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		65.000 EACH		
	Potter South East LLC		\$12.0000	\$780.00
	Rogers Group, Inc.		\$12.7500	\$828.75
712-05 01	WARNING LIGHTS (TYPE A)			
7 12-03.01	WARRING Elonio (TTE A)	40.000 EACH		
	Potter South East LLC	40.000 E/(011	\$10.1800	\$407.20
	Rogers Group, Inc.		\$5.3500	\$214.00
	Rogers Group, Inc.		φ5.3300	φ214.00
712-06	SIGNS (CONSTRUCTION)			
		378.000 S.F.		
	Potter South East LLC		\$9.2400	\$3,492.72
	Rogers Group, Inc.		\$7.8500	\$2,967.30
712 00 01	REMOVABLE PAVEMENT MARKING LINE			
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
		4,363.000 L.F.		
	Potter South East LLC		\$2.2000	\$9,598.60
	Rogers Group, Inc.		\$2.3000	\$10,034.90
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
		24.000 L.F.		
	Potter South East LLC		\$20.0000	\$480.00
	Rogers Group, Inc.		\$24.0500	\$577.20
712 00 20	REMOVABLE BLACK-OUT TAPE (6")			
712-09.30	REMOVABLE BLACK-OUT TAPE (6 )	1,200.000 L.F.		
	Detter Courts Foot II C	1,200.000 L.F.	<b>#0.0500</b>	<b>#</b> 4.000.00
	Potter South East LLC Rogers Group, Inc.		\$3.8500 \$3.1000	\$4,620.00 \$3,720.00
	Rogers Group, Inc.		φ3.1000	φ3,720.00
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
		2.000 EACH		
	Potter South East LLC		\$300.0000	\$600.00
	Rogers Group, Inc.		\$345.4500	\$690.90
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		455.000 EACH		
	Potter South East LLC		\$26.5000	\$12,057.50
	Rogers Group, Inc.		\$26.1500	\$11,898.25
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		455.000 EACH		
	Potter South East LLC	400.000 EAGI1	\$6.7500	\$3,071.25
	Rogers Group, Inc.		\$8.1000	\$3,685.50
	rrogers Group, me.		φο. 1000	ψο,οσο.σο
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		204.000 L.F.		
	Potter South East LLC		\$11.0000	\$2,244.00
	Rogers Group, Inc.		\$10.1500	\$2,070.60

			CONTRACT CNR132
		UNIT PRICE	EXTENSION
716-03.02 PLAS	STIC WORD PAVEMENT MARKING (RXR)		
		2.000 EACH	
Potte	er South East LLC	\$415.0000	\$830.00
Roge	ers Group, Inc.	\$373.4500	\$746.90
716-13.01 SPR	AY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
		28.000 L.M.	
Potte	er South East LLC	\$2,150.0000	\$60,200.00
	ers Group, Inc.	\$1,998.6000	\$55,960.80
3		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	* ,
717-01 MOB	ILIZATION		
		1.000 LS	
Potte	er South East LLC	\$37,000.0000	\$37,000.00
Roge	ers Group, Inc.	\$48,920.2000	\$48,920.20
730-40.01 POR	TABLE TRAFFIC SIGNAL SYSTEM		
		2.000 EACH	
Potte	er South East LLC	\$10,000.0000	\$20,000.00
7 0116	o out Last LLO	Φ7.540.0000	\$20,000.00

Rogers Group, Inc.

\$15,080.00

\$7,540.0000

CONTRACT	<b>CNR132</b>
----------	---------------

BRIDGE CATEGORY	UNIT PRICE	EXTENSION
604-10.34 CONCRETE OVERLAYED BRIDGE DECK REPAIR (FULL DEPTH)		
	40.000 S.Y.	
Potter South East LLC	\$783.0000	\$31,320.00
Rogers Group, Inc.	\$892.5000	\$35,700.00
604-10.56 CONCRETE OVERLAYED BRIDGE DECK REPAIR (PARTIAL DEPT	ГН)	
	80.000 S.Y.	
Potter South East LLC	\$306.0000	\$24,480.00
Rogers Group, Inc.	\$740.5200	\$59,241.60
617-04.02 TYPE 2 THIN EPOXY OVERLAY (LOW-MOD EPOXY)		
	1,943.000 S.Y.	
Potter South East LLC	\$36.9500	\$71,793.85
Rogers Group, Inc.	\$34.1000	\$66,256.30
	·	• •

Rogers Group, Inc.	\$843,465.00
Potter South East LLC	\$838,754.47

## SUB-TOTAL BRIDGE

Rogers Group, Inc.	\$161,197.90
Potter South East LLC	\$127,593.85

TOTAL CONTRACT	
Potter South East LLC	\$966,348.32
Rogers Group, Inc.	\$1,004,662.90

### CANNON COUNTY (Contract No. CNR076 Call 035)

08006-4206-04, HSIP-146(7), 08006-3206-94

THE RESURFACING ON S.R. 146 FROM U.S. 70S (S.R. 1) (L.M. 0.00) TO THE DEKALB COUNTY LINE (L.M. 9.51).

PROJECT LENGTH - 9.510 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.00%

TOTAL CONTRACT

Tinsley Asphalt, LLC \$649,244.44
Rogers Group, Inc. \$790,075.00
Hoover, Inc. \$832,575.75
Vulcan Construction Materials, LLC \$987,481.00

				CONTRACT CNR076
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
.00 01		47.000 TON		
	Tinsley Asphalt, LLC	47.000 1014	\$425.0000	\$19,975.00
	Rogers Group, Inc.		\$540.0000	\$25,380.00
	Hoover, Inc.		\$600.0000	\$28,200.00
	Vulcan Construction Materials, LLC		\$700.0000	\$32,900.00
405-01.01	BITUMINOUS MATERIAL (BSC)			
		215.000 TON		
	Tinsley Asphalt, LLC		\$300.0000	\$64,500.00
	Rogers Group, Inc.		\$595.0000	\$127,925.00
	Hoover, Inc.		\$700.0000	\$150,500.00
	Vulcan Construction Materials, LLC		\$800.0000	\$172,000.00
405-01.02	MINERAL AGGREGATE (BSC)			
		1,790.000 TON		
	Tinsley Asphalt, LLC		\$15.0000	\$26,850.00
	Rogers Group, Inc.		\$46.0000	\$82,340.00
	Hoover, Inc.		\$40.0000	\$71,600.00
	Vulcan Construction Materials, LLC		\$67.5000	\$120,825.00
411-03.07	ACS MIX(PG64-22) THIN LIFT ASPHALT			
		4,661.000 TON		
	Tinsley Asphalt, LLC		\$77.0400	\$359,083.44
	Rogers Group, Inc.		\$79.0000	\$368,219.00
	Hoover, Inc.		\$80.0000	\$372,880.00
	Vulcan Construction Materials, LLC		\$90.0000	\$419,490.00
712-01	TRAFFIC CONTROL			
		1.000 LS		*
	Tinsley Asphalt, LLC		\$23,410.0000	\$23,410.00
	Rogers Group, Inc.		\$18,350.0000	\$18,350.00
	Hoover, Inc. Vulcan Construction Materials, LLC		\$35,000.0000	\$35,000.00 \$40,000.00
	vulcan Construction Materials, LLC		\$40,000.0000	\$40,000.00
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
		48.000 EACH	_	_
	Tinsley Asphalt, LLC		\$5.0000	\$240.00
	Rogers Group, Inc.		\$5.0000	\$240.00
	Hoover, Inc.		\$5.0000 \$5.0000	\$240.00
	Vulcan Construction Materials, LLC		\$5.0000	\$240.00
712-06	SIGNS (CONSTRUCTION)			

410.000 S.F.

Tinsley Asphalt, LLC

Vulcan Construction Materials, LLC

Rogers Group, Inc.

Hoover, Inc.

\$3,013.50

\$3,013.50

\$3,013.50 \$3,895.00

\$7.3500

\$7.3500

\$7.3500

\$9.5000

	UNIT PRICE	EXTENSION
713-02.14 FLEXIBLE DELINEATOR (WHITE)		
	22.000 EACH	
Tinsley Asphalt, LLC	\$35.0000	\$770.00
Rogers Group, Inc.	\$35.0000	\$770.00
Hoover, Inc.	\$35.0000	\$770.00
Vulcan Construction Materials, LLC	\$36.0000	\$792.00
713-16.20 SIGNS (ONE-DIRECTION LARGE ARROW, W1-6, 48"x24")		
	2.000 EACH	
Tinsley Asphalt, LLC	\$300.0000	\$600.00
Rogers Group, Inc.	\$300.0000	\$600.00
Hoover, Inc.	\$300.0000	\$600.00
Vulcan Construction Materials, LLC	\$275.0000	\$550.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)		
	690.000 EACH	
Tinsley Asphalt, LLC	\$25.0000	\$17,250.00
Rogers Group, Inc.	\$25.0000	\$17,250.00
Hoover, Inc.	\$26.5000	\$18,285.00
Vulcan Construction Materials, LLC	\$27.5000	\$18,975.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	690.000 EACH	
Tinsley Asphalt, LLC	\$3.0000	\$2,070.00
Rogers Group, Inc.	\$6.0000	\$4,140.00
Hoover, Inc.	\$7.5000	\$5,175.00
Vulcan Construction Materials, LLC	\$12.5000	\$8,625.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	339.000 L.F.	
Tinsley Asphalt, LLC	\$10.0000	\$3,390.00
Rogers Group, Inc.	\$10.0000	\$3,390.00
Hoover, Inc.	\$10.2500	\$3,474.75
Vulcan Construction Materials, LLC	\$11.0000	\$3,729.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	32.500 L.M.	
Tinsley Asphalt, LLC	\$425.0000	\$13,812.50
Rogers Group, Inc.	\$425.0000	\$13,812.50
Hoover, Inc.	\$575.0000	\$18,687.50
Vulcan Construction Materials, LLC	\$450.0000	\$14,625.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)		
	35.300 L.M.	
Tinsley Asphalt, LLC	\$2,600.0000	\$91,780.00
Rogers Group, Inc.	\$2,600.0000	\$91,780.00
Hoover, Inc.	\$2,375.0000	\$83,837.50
Vulcan Construction Materials, LLC	\$2,700.0000	\$95,310.00

				CONTRACT CNR076
			UNIT PRICE	EXTENSION
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		250.000 L.F.		
	Tinsley Asphalt, LLC		\$2.0000	\$500.00
	Rogers Group, Inc.		\$2.0000	\$500.00
	Hoover, Inc.		\$1.2500	\$312.50
	Vulcan Construction Materials, LLC		\$2.1000	\$525.00
717-01	MOBILIZATION			
		1.000 LS		
	Tinsley Asphalt, LLC		\$22,000.0000	\$22,000.00
	Rogers Group, Inc.		\$32,365.0000	\$32,365.00

Hoover, Inc.

Vulcan Construction Materials, LLC

\$40,000.0000

\$55,000.0000

\$40,000.00

\$55,000.00

Hoover, Inc.	\$832,575.75
Vulcan Construction Materials, LLC	\$987,481.00
Tinsley Asphalt, LLC	\$649,244.44
Rogers Group, Inc.	\$790,075.00

## **TOTAL CONTRACT**

Tinsley Asphalt, LLC	\$649,244.44
Rogers Group, Inc.	\$790,075.00
Hoover, Inc.	\$832,575.75
Vulcan Construction Materials, LLC	\$987,481.00

### CHEATHAM AND ROBERTSON COUNTIES (Contract No. CNR113 Call 036)

11009-4214-04,11010-4211-04,74015-4204-04,HSIP-112(35),11009-3214-94, HSIP-112(36),74015-3204-94,HSIP-112(37),11010-3211-94

THE RESURFACING ON U.S. 41A (S.R. 112) FROM S.R. 49 (L.M. 2.84) IN CHEATHAM COUNTY, THROUGH ROBERTSON COUNTY, TO THE MONTGOMERY COUNTY LINE IN CHEATHAM COUNTY (L.M. 2.13).

PROJECT LENGTH - 6.720 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.50%

	TOTAL CONTRACT
Eubank Asphalt Paving & Sealing	\$1,082,745.00
Vulcan Construction Materials, LLC	\$1,173,529.00
Jones Bros. Contractors, LLC	\$1,252,228.20

			CC	ONTRACT CNR113
			UNIT PRICE	EXTENSION
ROADW	VAY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		2,636.000 TON		
	Eubank Asphalt Paving & Sealing		\$18.5000	\$48,766.00
	Vulcan Construction Materials, LLC		\$18.5000	\$48,766.00
	Jones Bros. Contractors, LLC		\$25.0000	\$65,900.00
307-01.1	5 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		500.000 TON		
	Eubank Asphalt Paving & Sealing		\$70.0000	\$35,000.00
	Vulcan Construction Materials, LLC		\$70.0000	\$35,000.00
	Jones Bros. Contractors, LLC		\$68.0000	\$34,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		85.000 TON		
	Eubank Asphalt Paving & Sealing		\$450.0000	\$38,250.00
	Vulcan Construction Materials, LLC		\$625.0000	\$53,125.00
	Jones Bros. Contractors, LLC		\$515.0000	\$43,775.00
405-01.0	1 BITUMINOUS MATERIAL (BSC)			
		146.000 TON		
	Eubank Asphalt Paving & Sealing		\$760.0000	\$110,960.00
	Vulcan Construction Materials, LLC		\$755.0000	\$110,230.00
	Jones Bros. Contractors, LLC		\$655.0000	\$95,630.00
405-01.0	2 MINERAL AGGREGATE (BSC)			
		1,197.000 TON		
	Eubank Asphalt Paving & Sealing		\$42.0000	\$50,274.00
	Vulcan Construction Materials, LLC		\$63.0000	\$75,411.00
	Jones Bros. Contractors, LLC		\$60.0000	\$71,820.00
411-01.1	0 ACS MIX(PG64-22) GRADING D			
		1,700.000 TON		
	Eubank Asphalt Paving & Sealing		\$67.0000	\$113,900.00
	Vulcan Construction Materials, LLC		\$69.0000	\$117,300.00
	Jones Bros. Contractors, LLC		\$68.0000	\$115,600.00
411-03.1	0 ACS MIX(PG76-22) GRADING D			
		1,852.000 TON		
	Eubank Asphalt Paving & Sealing		\$72.0000	\$133,344.00
	Vulcan Construction Materials, LLC		\$72.0000	\$133,344.00
	Jones Bros. Contractors, LLC		\$72.0000	\$133,344.00
411-03.1	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		4,123.000 TON		
	Eubank Asphalt Paving & Sealing		\$68.0000	\$280,364.00
	Vulcan Construction Materials, LLC		\$72.0000	\$296,856.00
	longs Bros Contractors IIC		\$71 0000	\$202 <b>722</b> 00

Jones Bros. Contractors, LLC

\$292,733.00

\$71.0000

			UNIT PRICE	EXTENSION
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUO	DUS) (8IN WIDTH)		
		10.800 L.M.		
	Eubank Asphalt Paving & Sealing		\$250.0000	\$2,700.00
	Vulcan Construction Materials, LLC		\$605.0000	\$6,534.00
	Jones Bros. Contractors, LLC		\$605.0000	\$6,534.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		3,644.000 TON		
	Eubank Asphalt Paving & Sealing		\$12.0000	\$43,728.00
	Vulcan Construction Materials, LLC		\$13.5000	\$49,194.00
	Jones Bros. Contractors, LLC		\$20.0500	\$73,062.20
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$18,500.0000	\$18,500.00
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
	Jones Bros. Contractors, LLC		\$60,000.0000	\$60,000.00
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
712-04.01	TEXIBLE BROMO (OTAMILLIZINO)	05 000 FACU		
	Fulbouls Applied Devices 9 Cooling	85.000 EACH	<b>\$20,000</b>	¢4.700.00
	Eubank Asphalt Paving & Sealing		\$20.0000	\$1,700.00
	Vulcan Construction Materials, LLC		\$5.0000	\$425.00
	Jones Bros. Contractors, LLC		\$5.0000	\$425.00
712-05.01	WARNING LIGHTS (TYPE A)			
		12.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$60.00
	Vulcan Construction Materials, LLC		\$5.0000	\$60.00
	Jones Bros. Contractors, LLC		\$5.0000	\$60.00
712-06	SIGNS (CONSTRUCTION)			
		1,884.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$7.0000	\$13,188.00
	Vulcan Construction Materials, LLC		\$9.5000	\$17,898.00
	Jones Bros. Contractors, LLC		\$7.2500	\$13,659.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		3.000 EACH		
	Eubank Asphalt Paving & Sealing		\$2,000.0000	\$6,000.00
	Vulcan Construction Materials, LLC		\$4,200.0000	\$12,600.00
	Jones Bros. Contractors, LLC		\$5,100.0000	\$15,300.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		634.000 EACH		
	Eubank Asphalt Paving & Sealing	OSTIOUS ENGIN	\$30.0000	\$19,020.00
	Vulcan Construction Materials, LLC		\$30.0000	\$19,020.00
	Jones Bros. Contractors, LLC		\$30.0000	\$19,020.00
	2 2		<b>\$30.3000</b>	\$10,0 <u>2</u> 0.00

	UNIT PRICE	EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
470.000 S.Y.		
Eubank Asphalt Paving & Sealing	\$20.0000	\$9,400.00
Vulcan Construction Materials, LLC	\$20.0000	\$9,400.00
Jones Bros. Contractors, LLC	\$20.0000	\$9,400.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
148.000 L.F.		
Eubank Asphalt Paving & Sealing	\$12.0000	\$1,776.00
Vulcan Construction Materials, LLC	\$12.0000	\$1,776.00
Jones Bros. Contractors, LLC	\$12.0000	\$1,776.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
9.000 EACH	1	
Eubank Asphalt Paving & Sealing	\$150.0000	\$1,350.00
Vulcan Construction Materials, LLC	\$150.0000	\$1,350.00
Jones Bros. Contractors, LLC	\$150.0000	\$1,350.00
716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)		
100.000 L.F.		
Eubank Asphalt Paving & Sealing	\$4.0000	\$400.00
Vulcan Construction Materials, LLC	\$4.0000	\$400.00
Jones Bros. Contractors, LLC	\$4.0000	\$400.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)		
4.000 EACH	1	
Eubank Asphalt Paving & Sealing	\$500.0000	\$2,000.00
Vulcan Construction Materials, LLC	\$500.0000	\$2,000.00
Jones Bros. Contractors, LLC	\$500.0000	\$2,000.00
716-04.03 PLASTIC PAVEMENT MARKING (4" DOTTED LINE)		
1,510.000 L.F.		
Eubank Asphalt Paving & Sealing	\$2.0000	\$3,020.00
Vulcan Construction Materials, LLC	\$2.0000	\$3,020.00
Jones Bros. Contractors, LLC	\$2.0000	\$3,020.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
4.000 EACH	1	
Eubank Asphalt Paving & Sealing	\$150.0000	\$600.00
Vulcan Construction Materials, LLC	\$150.0000	\$600.00
Jones Bros. Contractors, LLC	\$150.0000	\$600.00
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		
2.000 EACH	1	
Eubank Asphalt Paving & Sealing	\$300.0000	\$600.00
Vulcan Construction Materials, LLC	\$300.0000	\$600.00
Jones Bros. Contractors, LLC	\$300.0000	\$600.00

			UNIT PRICE	EXTENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		24.000 L.M.		
	Eubank Asphalt Paving & Sealing		\$750.0000	\$18,000.00
	Vulcan Construction Materials, LLC		\$750.0000	\$18,000.00
	Jones Bros. Contractors, LLC		\$750.0000	\$18,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN L	INE)		
		10.400 L.M.		
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$52,000.00
	Vulcan Construction Materials, LLC		\$5,000.0000	\$52,000.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$52,000.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		13.500 L.M.		
	Eubank Asphalt Paving & Sealing		\$3,000.0000	\$40,500.00
	Vulcan Construction Materials, LLC		\$3,000.0000	\$40,500.00
	Jones Bros. Contractors, LLC		\$3,000.0000	\$40,500.00
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER	LINE)		
		965.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$3.0000	\$2,895.00
	Vulcan Construction Materials, LLC		\$3.0000	\$2,895.00
	Jones Bros. Contractors, LLC		\$3.0000	\$2,895.00
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$25,000.0000	\$25,000.00
	Vulcan Construction Materials, LLC		\$27,100.0000	\$27,100.00
	Jones Bros. Contractors, LLC		\$60,000.0000	\$60,000.00
730-14.02	SAW SLOT			
		1,600.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$3.0000	\$4,800.00
	Vulcan Construction Materials, LLC		\$3.7500	\$6,000.00
	Jones Bros. Contractors, LLC		\$3.7500	\$6,000.00
730-14.03	LOOP WIRE			
		3,500.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$0.9000	\$3,150.00
	Vulcan Construction Materials, LLC		\$0.7500	\$2,625.00
	Jones Bros. Contractors, LLC		\$0.7500	\$2,625.00
806-02.03	PROJECT MOWING			
		3.000 CYCL		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$1,500.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$4,500.00
	Jones Bros. Contractors, LLC		\$3,400.0000	\$10,200.00

Jones Bros. Contractors, LLC	\$1,252,228.20
Vulcan Construction Materials, LLC	\$1,173,529.00
Eubank Asphalt Paving & Sealing	\$1,082,745.00

## **TOTAL CONTRACT**

Eubank Asphalt Paving & Sealing	\$1,082,745.00
Vulcan Construction Materials, LLC	\$1,173,529.00
Jones Bros. Contractors, LLC	\$1,252,228.20

## COUNTIES CHESTER, DECATUR, HARDIN, AND MCNAIRY (Contract No. CNR135 Call 037)

98049-4144-04

THE LONGITUDINAL JOINT STABILIZATION ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

TOTAL CONTRACT

Pavement Restorations, Inc. Pavement Technology, Inc.

\$56,610.56

\$86,399.34

			CC	NTRACT CNR135
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
411-01.12	2 LONGITUDINAL JOINT STABILIZATION			
		524,832.000 S.F.		
	Pavement Restorations, Inc.		\$0.0690	\$36,213.41
	Pavement Technology, Inc.		\$0.1200	\$62,979.84
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Pavement Restorations, Inc.		\$10,000.0000	\$10,000.00
	Pavement Technology, Inc.		\$9,800.0000	\$9,800.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		204.000 EACH		
	Pavement Restorations, Inc.		\$13.2000	\$2,692.80
	Pavement Technology, Inc.		\$5.0000	\$1,020.00
712-05.01	WARNING LIGHTS (TYPE A)			
		26.000 EACH		
	Pavement Restorations, Inc.		\$2.2000	\$57.20
	Pavement Technology, Inc.		\$2.0000	\$52.00
712-06	SIGNS (CONSTRUCTION)			
		459.000 S.F.		
	Pavement Restorations, Inc.		\$3.8500	\$1,767.15
	Pavement Technology, Inc.		\$2.5000	\$1,147.50
712-08.03	3 ARROW BOARD (TYPE C)			
		2.000 EACH		
	Pavement Restorations, Inc.		\$440.0000	\$880.00
	Pavement Technology, Inc.		\$1,500.0000	\$3,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Pavement Restorations, Inc.		\$5,000.0000	\$5,000.00
	Pavement Technology, Inc.		\$8,400.0000	\$8,400.00

Pavement Technology, Inc.	\$86,399.34
Pavement Restorations, Inc.	\$56,610.56

## **TOTAL CONTRACT**

Pavement Restorations, Inc.	\$56,610.56
Pavement Technology, Inc.	\$86,399.34

### CLAY AND FENTRESS COUNTIES (Contract No. CNR127 Call 038)

HSIP-154(5),25006-3221-94,HSIP-51(7),14001-3205-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 51 AT THE INTERSECTION OF S.R. 52 (L.M. 0.00), AND ON S.R. 154 FROM NEAR S.R. 28 (L.M. 2.20) TO S.R. 297 (L.M. 10.75).

PROJECT LENGTH - 8.550 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Superior Traffic Control, Inc.

\$117,660.91

Highway Markings, Inc.

\$134,994.25

			CONTRACT CNR127
		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATM	4ENT		
100 04.00 EARTH AD FOR THE 2 00 OR END TREATM	2.000 EACH		
Superior Traffic Control, Inc.		\$1,400.0000	\$2,800.00
Highway Markings, Inc.		\$1,000.0000	\$2,000.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT	г		
	2,475.000 L.F.		
Superior Traffic Control, Inc.		\$2.8000	\$6,930.00
Highway Markings, Inc.		\$3.2500	\$8,043.75
705-06.20 TANGENT ENERGY ABSORBING TERM MA	SH TL-3		
	2.000 EACH		
Superior Traffic Control, Inc.		\$2,183.0000	\$4,366.00
Highway Markings, Inc.		\$2,675.0000	\$5,350.00
711-04.21 CONCRETE BARRIER DELINEATION ENHA	NCEMENT		
	710.000 L.F.		
Superior Traffic Control, Inc.		\$5.0000	\$3,550.00
Highway Markings, Inc.		\$6.7500	\$4,792.50
712-01 TRAFFIC CONTROL			
	1.000 LS		
Superior Traffic Control, Inc.		\$2,400.0000	\$2,400.00
Highway Markings, Inc.		\$7,500.0000	\$7,500.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
	18.000 EACH		
Superior Traffic Control, Inc.		\$31.0000	\$558.00
Highway Markings, Inc.		\$30.0000	\$540.00
713-02.20 ROADSIDE OBSTACLE DELINEATION			
	58.000 S.F.		
Superior Traffic Control, Inc.		\$12.0000	\$696.00
Highway Markings, Inc.		\$6.2500	\$362.50
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	720.000 L.F.		
Superior Traffic Control, Inc.		\$5.0000	\$3,600.00
Highway Markings, Inc.		\$5.0200	\$3,614.40
713-11.01 "U" SECTION STEEL POSTS			
	401.100 LB.		
Superior Traffic Control, Inc.		\$3.1500	\$1,263.47
Highway Markings, Inc.		\$4.0000	\$1,604.40

3,796.000 LB.

713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST

Superior Traffic Control, Inc.

Highway Markings, Inc.

\$13,855.40

\$3.6500

\$3.3500

CONTRACT C	NR127
------------	-------

			CC	NTRACT CNR127
			UNIT PRICE	EXTENSION
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		536.200 S.F.		
	Superior Traffic Control, Inc.		\$12.7500	\$6,836.55
	Highway Markings, Inc.		\$13.2000	\$7,077.84
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		718.900 S.F.		
	Superior Traffic Control, Inc.		\$13.6500	\$9,812.99
	Highway Markings, Inc.		\$13.7200	\$9,863.31
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		60.000 EACH		
	Superior Traffic Control, Inc.		\$8.0000	\$480.00
	Highway Markings, Inc.		\$15.0000	\$900.00
713-16.50	REMOVE AND REPLACE SIGN (SEE PLANS)			
	, ,	12.000 EACH		
	Superior Traffic Control, Inc.	.2.000 2, (0.1	\$200.0000	\$2,400.00
	Highway Markings, Inc.		\$150.0000	\$1,800.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	(=, =, )(, = =, )	169.000 EACH		
	Superior Traffic Control, Inc.	103.000 EAGI1	\$22.5000	\$3,802.50
	Highway Markings, Inc.		\$25.0000	\$4,225.00
716-01 22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
710-01.22	Shaphable I will mike (mono-bil)(1 color)	15.000 EACH		
	Superior Traffic Control, Inc.	13.000 EACH	\$22.5000	\$337.50
	Highway Markings, Inc.		\$22.5000 \$25.0000	\$337.50 \$375.00
	Thighway Markings, inc.		Ψ20.0000	ψ070.00
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
	O : T # O : L	14.000 EACH	<b>#00 5000</b>	<b>#</b> 045.00
	Superior Traffic Control, Inc. Highway Markings, Inc.		\$22.5000 \$25.0000	\$315.00 \$350.00
	Trigriway Markings, Inc.		Ψ23.0000	φ330.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	-		
		49.600 S.Y.	<b>*</b>	<b>^-</b>
	Superior Traffic Control, Inc. Highway Markings, Inc.		\$15.0000 \$21.5000	\$744.00 \$1,066.40
			·	. ,
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	290 000   E		
	Superior Traffic Control, Inc.	380.000 L.F.	\$8.0000	\$3,040.00
	Highway Markings, Inc.		\$10.0000	\$3,800.00
			*	<b>4</b> 0,200.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	0.000 51.00		
	Superior Troffic Control Inc	2.000 EACH	<b>\$405,000</b>	<u></u>
	Superior Traffic Control, Inc. Highway Markings, Inc.		\$125.0000 \$150.0000	\$250.00 \$300.00
	ingimay mainings, into		ψ150.0000	ψουυ.υυ

			CO	NTRACT CNR127
			UNIT PRICE	EXTENSION
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)	)		
		703.000 L.F.		
	Superior Traffic Control, Inc.		\$1.0000	\$703.00
	Highway Markings, Inc.		\$1.5000	\$1,054.50
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHE	EAD)		
		1.000 EACH		
	Superior Traffic Control, Inc.		\$350.0000	\$350.00
	Highway Markings, Inc.		\$475.0000	\$475.00
716-03.07	PLASTIC WORD PAVEMENT MARKING (STOP)			
		1.000 EACH		
	Superior Traffic Control, Inc.		\$125.0000	\$125.00
	Highway Markings, Inc.		\$300.0000	\$300.00
716-12.04	ENHANCED FLATLINE THERMO PVMT MRKNG (4	IN DOTTED LINE)		
	•	74.000 L.F.		
	Superior Traffic Control, Inc.	74.000 E.I .	\$1.0000	\$74.00
	Highway Markings, Inc.		\$1.2500	\$74.00 \$92.50
716-12 01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
710-13.01	STAT THERMOT VIIIT MIRRIES (00 IIII) (4114 EINE)			
		36.300 L.M.	<b>#</b> 4.400.0000	<b>#</b> 00.000.00
	Superior Traffic Control, Inc.		\$1,100.0000	\$39,930.00
	Highway Markings, Inc.		\$1,227.0000	\$44,540.10
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARE	RIER LINE)		
		121.000 L.F.		
	Superior Traffic Control, Inc.		\$2.0000	\$242.00
	Highway Markings, Inc.		\$1.7500	\$211.75
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTT	TED LINE)		
		1,598.000 L.F.		
	Superior Traffic Control, Inc.		\$0.2500	\$399.50
	Highway Markings, Inc.		\$0.6500	\$1,038.70
717-01	MOBILIZATION			
		1.000 LS		
	Superior Traffic Control, Inc.		\$2,500.0000	\$2,500.00
	Highway Markings, Inc.		\$5,000.0000	\$5,000.00
730-50.10	SOLAR POWERED FLASHING ASSEMBLY			
		2.000 EACH		
	Superior Traffic Control, Inc.	2.000 EAOII	\$2,650.0000	\$5,300.00
	Highway Markings, Inc.		\$3,000.0000	\$6,000.00
	gay manango, mo.		ψο,σσσ.σσσσ	ψο,ουσ.ου

Highway Markings, Inc.	\$134,994.25
Superior Traffic Control, Inc.	\$117,660.91

## **TOTAL CONTRACT**

Superior Traffic Control, Inc. \$117,660.91 Highway Markings, Inc. \$134,994.25

### COUNTIES CUMBERLAND, FRANKLIN, AND RHEA (Contract No. CNR030 Call 039)

HSIP-REG2(132),98028-3235-94,STP-SIP-156(10),26026-3207-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 156 AT THE INTERSECTION OF MIDWAY ROAD (L.M. 0.44), AND ON VARIOUS STATE ROUTES AND LOCAL ROADS.

PROJECT LENGTH - 0.430 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Highway Markings, Inc. Superior Traffic Control, Inc. \$1,483,835.25

\$1,525,569.86

CONTRACT CNR030
-----------------

			00	MINACI CINICOS
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
		400.000 S.Y.		
	Highway Markings, Inc.		\$20.0000	\$8,000.00
	Superior Traffic Control, Inc.		\$20.0000	\$8,000.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		200.000 C.Y.		
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$30.0000 \$30.0000	\$6,000.00 \$6,000.00
	Superior Traine Control, Inc.		ψ30.0000	φ0,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		0.700 TON	<b>#4 #00</b> 0000	<b>4.050.00</b>
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$1,500.0000 \$1,500.0000	\$1,050.00 \$1,050.00
	Cuperior Traine Control, Inc.		ψ1,000.0000	ψ1,000.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		125.000 TON	<b>#050.0000</b>	004.050.00
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$250.0000 \$250.0000	\$31,250.00 \$31,250.00
	Capana. Traine Control, me.		Ψ200.0000	ψο 1,200.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)			
	Highway Maddings Inc	23.000 L.M.	<b>\$000,0000</b>	<b>\$45,400,00</b>
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$660.0000 \$560.0000	\$15,180.00 \$12,880.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)			
	Highway Markings, Inc.	16.000 L.M.	\$580.0000	\$9,280.00
	Superior Traffic Control, Inc.		\$560.0000 \$560.0000	\$8,960.00
			·	,
411-12.05	SCORING FOR CENTERLINE RUMBLE (4IN WIDTH)	12.000 L.M.		
	Highway Markings, Inc.	12:000 L.W.	\$580.0000	\$6,960.00
	Superior Traffic Control, Inc.		\$560.0000	\$6,720.00
415 01 02	COLD PLANING BITUMINOUS PAVEMENT			
415-01.02	COLD FLANING BITOMINOUS PAVEMENT	1,400.000 S.Y.		
	Highway Markings, Inc.	1,400.000 0111	\$7.1500	\$10,010.00
	Superior Traffic Control, Inc.		\$7.1400	\$9,996.00
705-01-01	GUARDRAIL AT BRIDGE ENDS			
	Comment of the Commen	108.000 L.F.		
	Highway Markings, Inc.		\$68.2500	\$7,371.00
	Superior Traffic Control, Inc.		\$69.3900	\$7,494.12
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		231.000 L.F.		
	Highway Markings, Inc.		\$18.2500	\$4,215.75
	Superior Traffic Control, Inc.		\$17.6500	\$4,077.15
				PAGE 2

			C	CONTRACT CNR030
			UNIT PRICE	EXTENSION
705 04 02	CHARDRAIL TERMINAL (TYPE 12)			
705-04.03	GUARDRAIL TERMINAL (TYPE 13)	1.000 EACH		
	Highway Markings, Inc.	1.000 EAGI1	\$575.0000	\$575.00
	Superior Traffic Control, Inc.		\$950.0000	\$950.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)	1.000 EACH		
	Highway Markings Inc	1.000 EACH	\$63E 0000	¢625.00
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$625.0000 \$600.0000	\$625.00 \$600.00
	Cuponol Traine Control, Inc.		ψοσο.σσσσ	φοσο.σσ
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		3.000 EACH		
	Highway Markings, Inc.		\$875.0000	\$2,625.00
	Superior Traffic Control, Inc.		\$900.0000	\$2,700.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		64,018.000 L.F.		
	Highway Markings, Inc.	,	\$2.3600	\$151,082.48
	Superior Traffic Control, Inc.		\$2.4100	\$154,283.38
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	I Baharan Mankin an Ing	3.000 EACH	<b>#0.050.000</b>	<b>#7.050.00</b>
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$2,650.0000 \$2,450.0000	\$7,950.00 \$7,350.00
	Capanar Traine Control, Inc.		Ψ2, 100.0000	ψ1,500.00
711-04.21	CONCRETE BARRIER DELINEATION ENHANCEMENT			
		6,284.000 L.F.		
	Highway Markings, Inc.		\$6.0000	\$37,704.00
	Superior Traffic Control, Inc.		\$4.5000	\$28,278.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Highway Markings, Inc.		\$25,000.0000	\$25,000.00
	Superior Traffic Control, Inc.		\$35,950.0000	\$35,950.00
713-02 14	FLEXIBLE DELINEATOR (WHITE)			
713-02.14	TEENBLE BEENEATON (WIII'E)	22.000 EACH		
	Highway Markings, Inc.	ZZIOOO ZAON	\$30.0000	\$660.00
	Superior Traffic Control, Inc.		\$35.0000	\$770.00
713-02.20	ROADSIDE OBSTACLE DELINEATION			
		112.000 S.F.		
	Highway Markings, Inc.		\$7.5000	\$840.00
	Superior Traffic Control, Inc.		\$11.0000	\$1,232.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
		6,522.000 L.F.		
	Highway Markings, Inc.		\$4.7500	\$30,979.50
	Superior Traffic Control, Inc.		\$4.8000	\$31,305.60

		,	CONTRACT CNR030
		UNIT PRICE	EXTENSION
713-11.01 "U" SECTION STEEL POSTS	7 040 000 L D		
Highway Markinga Ina	7,319.000 LB.	\$3.0500	\$22,322.95
Highway Markings, Inc. Superior Traffic Control, Inc.		\$3.0500 \$3.2500	\$22,322.95 \$23,786.75
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
713-11.02 TENIONATED/MOCKOOT SQUARE TOBET GOT	32,189.000 LB.		
Highway Markings, Inc.	,	\$3.2200	\$103,648.58
Superior Traffic Control, Inc.		\$3.2000	\$103,004.80
713-11.21 P POST SLIP BASE			
	3.000 EACH		
Highway Markings, Inc.		\$300.0000	\$900.00
Superior Traffic Control, Inc.		\$300.0000	\$900.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	5,686.000 S.F.		
Highway Markings, Inc.		\$12.8500	\$73,065.10
Superior Traffic Control, Inc.		\$12.7500	\$72,496.50
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	5,905.560 S.F.		
Highway Markings, Inc.		\$13.2000	\$77,953.39
Superior Traffic Control, Inc.		\$13.5000	\$79,725.06
713-15.36 REMOVE SIGN, SUPPORT & FOOTING			
	860.000 EACH	<b>*</b>	<b></b>
Highway Markings, Inc.		\$12.5000 \$10.0000	\$10,750.00 \$8,600.00
Superior Traffic Control, Inc.		\$10.0000	\$8,600.00
713-16.05 RAILROAD CROSS-BUCK SIGN & SUPPORT			
Highway Markinga Inc	4.000 EACH	\$225 0000	¢4 200 00
Highway Markings, Inc. Superior Traffic Control, Inc.		\$325.0000 \$300.0000	\$1,300.00 \$1,200.00
Capeller Hame Control, me.		ψοσο.σσσσ	Ψ1,200.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	- 040 000 <b>-</b> 1000		
Highway Markings, Inc.	7,819.000 EACH	\$21.2500	\$166 152 75
Superior Traffic Control, Inc.		\$21.2500 \$19.5000	\$166,153.75 \$152,470.50
		********	<b>*</b>
716-01.22 Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
	153.000 EACH	<b>A-</b>	<b>AC</b> -
Highway Markings, Inc. Superior Traffic Control, Inc.		\$21.2500 \$19.5000	\$3,251.25 \$2,983.50
Superior Traine Control, Ille.		φ19.5000	φ <b>∠</b> ,ઝο૩.3U
716-01.23 Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)	•• •••		
Highway Markinga Inc	86.000 EACH	<b>#24.250</b> 0	¢4 007 50
Highway Markings, Inc.		\$21.2500 \$10.5000	\$1,827.50 \$1,677.00

Superior Traffic Control, Inc.

\$1,677.00

\$19.5000

				CONTRACT CNR030
			UNIT PRICE	EXTENSION
716-02 03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
710-02.03	FLASTIC FAVENIENT MARKING (CROSS-WALK)	42.000 L.F.		
	Highway Markings, Inc.		\$6.7500	\$283.50
	Superior Traffic Control, Inc.		\$9.0000	\$378.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	,	1,895.000 S.Y.		
	Highway Markings, Inc.		\$19.2500	\$36,478.75
	Superior Traffic Control, Inc.		\$14.0000	\$26,530.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		1,058.000 L.F.		
	Highway Markings, Inc.		\$9.5000	\$10,051.00
	Superior Traffic Control, Inc.		\$8.0000	\$8,464.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		42.000 EACH		
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$110.0000 \$100.0000	\$4,620.00 \$4,200.00
	Superior Traine Control, Inc.		ψ100.0000	ψ+,200.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		1.000 EACH	****	
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$225.0000 \$125.0000	\$225.00 \$125.00
			<b>V</b>	*
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
	Himburga Maulinga Ing	9.000 EACH	<b>#205.0000</b>	Ф2 20 <b>г</b> 00
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$365.0000 \$325.0000	\$3,285.00 \$2,925.00
			·	. ,
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
	Highway Markings, Inc.	4.000 EACH	\$425.0000	\$1,700.00
	Superior Traffic Control, Inc.		\$300.0000	\$1,700.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)	C 000 F4 OU		
	Highway Markings, Inc.	6.000 EACH	\$155.0000	\$930.00
	Superior Traffic Control, Inc.		\$125.0000	\$750.00

270.000 L.F.

3.000 EACH

716-04.03 PLASTIC PAVEMENT MARKING (4" DOTTED LINE)

716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)

Highway Markings, Inc.

Highway Markings, Inc.

Superior Traffic Control, Inc.

Superior Traffic Control, Inc.

PAGE

\$229.50

\$270.00

\$330.00

\$255.00

5

\$0.8500

\$1.0000

\$110.0000

\$85.0000

CONTRACT C	NR030
------------	-------

		CONTRACT		NTRACT CNR030
			UNIT PRICE	EXTENSION
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		90.000 S.F.		
	Highway Markings, Inc.		\$6.7500	\$607.50
	Superior Traffic Control, Inc.		\$8.0000	\$720.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARE	ROW)		
	•	1.000 EACH		
	Highway Markinga Ina	1.000 LAGII	\$275.0000	\$275.00
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$273.0000	\$275.00 \$250.00
746 04 46	DI ACTIC DAVEMENT MADVING (NOISE CTDID)			
710-04.10	PLASTIC PAVEMENT MARKING (NOISE STRIP)	CO 000 L F		
		60.000 L.F.	<b>4</b>	<b>.</b>
	Highway Markings, Inc.		\$8.7500	\$525.00
	Superior Traffic Control, Inc.		\$12.0000	\$720.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		0.350 L.M.		
	Highway Markings, Inc.		\$1,250.0000	\$437.50
	Superior Traffic Control, Inc.		\$400.0000	\$140.00
716-12.01	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LIN	E)		
	·	140.000 L.M.		
	Highway Markings, Inc.		\$1,725.0000	\$241,500.00
	Superior Traffic Control, Inc.		\$2,100.0000	\$294,000.00
716-12 04	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN DO	TTED LINE)		
710-12.04	ENTIANCED PEATEINE THERMIO PAINT MICKING (4114 DO	•		
	ART AND AND ART AND ART ARE	2,961.000 L.F.	<b>#0.0500</b>	<b>#4.004.05</b>
	Highway Markings, Inc.		\$0.6500 \$0.5000	\$1,924.65 \$4,480.50
	Superior Traffic Control, Inc.		\$0.5000	\$1,480.50
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		278.520 L.M.		
	Highway Markings, Inc.		\$1,145.0000	\$318,905.40
	Superior Traffic Control, Inc.		\$1,200.0000	\$334,224.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LII	NE)		
		10,992.000 L.F.		
	Highway Markings, Inc.	,	\$0.3500	\$3,847.20
	Superior Traffic Control, Inc.		\$0.2500	\$2,748.00
717-01	MOBILIZATION			
717 01	MODILIZATION	1.000 LS		
	Highway Markings, Inc.	1.000 20	\$37,500.0000	\$37,500.00
	Superior Traffic Control, Inc.		\$35,000.0000	\$35,000.00
904.02	WATER (SEEDING & SORDING)			
801-03	WATER (SEEDING & SODDING)	2.000 M.G.		
	Highway Markings, Inc.	2.000 141.9.	\$25.0000	\$50.00
	Superior Traffic Control, Inc.		\$25.0000	\$500.00
	25,200		Ψ200.0000	ψ550.00

CONTRACT CNR030

UNIT PRICE EXTENSION

803-01 SODDING (NEW SOD)

400.000 S.Y.

 Highway Markings, Inc.
 \$4.000
 \$1,600.00

 Superior Traffic Control, Inc.
 \$10.000
 \$4,000.00

Superior Traffic Control, Inc. \$1,525,569.86 Highway Markings, Inc. \$1,483,835.25

## **TOTAL CONTRACT**

Highway Markings, Inc. \$1,483,835.25 Superior Traffic Control, Inc. \$1,525,569.86

### DAVIDSON COUNTY (Contract No. CNR115 Call 040)

NH/HSIP-65(20),19043-3239-94,19043-8239-14,STP/HSIP-65(21),19043-3240-94,19043-8240-14

THE RESURFACING ON U.S. 431 (S.R. 65) FROM WEST TRINITY LANE (L.M. 1.33) TO LLOYD ROAD (L.M. 5.19).

PROJECT LENGTH - 3.860 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

	TOTAL CONTRACT
Hoover, Inc.	\$787,010.50
Rogers Group, Inc.	\$797,977.00
Charles Deweese Construction, Inc	\$809,757.87
Jones Bros. Contractors, LLC	\$899,853.25
Vulcan Construction Materials, LLC	\$995,327.88

			CC	ONTRACT CNR115
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		600.000 TON		
	Hoover, Inc.		\$18.0000	\$10,800.00
	Rogers Group, Inc.		\$23.0000	\$13,800.00
	Charles Deweese Construction, Inc		\$31.7000	\$19,020.00
	Jones Bros. Contractors, LLC		\$23.5000	\$14,100.00
	Vulcan Construction Materials, LLC		\$27.5000	\$16,500.00
307-01.0	7 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GR	RADING B-M		
		500.000 TON		
	Hoover, Inc.		\$50.0000	\$25,000.00
	Rogers Group, Inc.		\$72.0000	\$36,000.00
	Charles Deweese Construction, Inc		\$64.0700	\$32,035.00
	Jones Bros. Contractors, LLC		\$60.0000	\$30,000.00
	Vulcan Construction Materials, LLC		\$82.0000	\$41,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		42.000 TON		
	Hoover, Inc.		\$600.0000	\$25,200.00
	Rogers Group, Inc.		\$575.0000	\$24,150.00
	Charles Deweese Construction, Inc		\$864.0000	\$36,288.00
	Jones Bros. Contractors, LLC		\$850.0000	\$35,700.00
	Vulcan Construction Materials, LLC		\$750.0000	\$31,500.00
411-01.10	D ACS MIX(PG64-22) GRADING D			
		4,200.000 TON		
	Hoover, Inc.		\$78.0000	\$327,600.00
	Rogers Group, Inc.		\$73.5000	\$308,700.00
	Charles Deweese Construction, Inc		\$70.8800	\$297,696.00
	Jones Bros. Contractors, LLC		\$92.0000	\$386,400.00
	Vulcan Construction Materials, LLC		\$95.0000	\$399,000.00
411-03.12	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		1,101.000 TON		
	Hoover, Inc.		\$85.0000	\$93,585.00
	D O		<b>MAD ARA</b>	MAA AAA AA

5.000 L.M.

Rogers Group, Inc.

Hoover, Inc.

Rogers Group, Inc.

Charles Deweese Construction, Inc

Vulcan Construction Materials, LLC

Charles Deweese Construction, Inc

Vulcan Construction Materials, LLC

Jones Bros. Contractors, LLC

411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)

Jones Bros. Contractors, LLC

\$90,282.00

\$86,065.17

\$103,494.00

\$110,100.00

\$3,000.00

\$6,000.00

\$5,225.00

\$4,125.00

\$4,331.25

\$82.0000

\$78.1700

\$94.0000

\$100.0000

\$600.0000

\$1,200.0000

\$1,045.0000

\$825.0000

\$866.2500

			UNIT PRICE	EXTENSION
411-12.03	S SCORING FOR RUMBLE STRIPE (NON-CONTINUO	US) (8IN WIDTH)		
		2.300 L.M.		
	Hoover, Inc.		\$600.0000	\$1,380.00
	Rogers Group, Inc.		\$1,200.0000	\$2,760.00
	Charles Deweese Construction, Inc		\$1,045.0000	\$2,403.50
	Jones Bros. Contractors, LLC		\$825.0000	\$1,897.50
	Vulcan Construction Materials, LLC		\$866.2500	\$1,992.38
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		5,235.000 TON		
	Hoover, Inc.		\$17.0000	\$88,995.00
	Rogers Group, Inc.		\$18.5000	\$96,847.50
	Charles Deweese Construction, Inc		\$25.9100	\$135,638.85
	Jones Bros. Contractors, LLC		\$22.7500	\$119,096.25
	Vulcan Construction Materials, LLC		\$27.5000	\$143,962.50
611-09.02	REWORK CATCHBASIN			
		2.000 EACH		
	Hoover, Inc.		\$2,500.0000	\$5,000.00
	Rogers Group, Inc.		\$1,300.0000	\$2,600.00
	Charles Deweese Construction, Inc		\$2,000.0000	\$4,000.00
	Jones Bros. Contractors, LLC		\$1,000.0000	\$2,000.00
	Vulcan Construction Materials, LLC		\$1,312.5000	\$2,625.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-	3		
		4.000 EACH		
	Hoover, Inc.		\$2,425.0000	\$9,700.00
	Rogers Group, Inc.		\$2,506.0000	\$10,024.00
	Charles Deweese Construction, Inc		\$2,667.5000	\$10,670.00
	Jones Bros. Contractors, LLC		\$2,400.0000	\$9,600.00
	Vulcan Construction Materials, LLC		\$2,493.7500	\$9,975.00
706-01	GUARDRAIL REMOVED			
		200.000 L.F.		
	Hoover, Inc.		\$9.0000	\$1,800.00
	Rogers Group, Inc.		\$0.9500	\$190.00
	Charles Deweese Construction, Inc		\$0.9900	\$198.00
	Jones Bros. Contractors, LLC		\$1.0000	\$200.00
	Vulcan Construction Materials, LLC		\$1.0500	\$210.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Hoover, Inc.		\$30,000.0000	\$30,000.00
	Rogers Group, Inc.		\$30,000.0000	\$30,000.00
	Charles Deweese Construction, Inc		\$11,250.0000	\$11,250.00
	Jones Bros. Contractors, LLC		\$30,000.0000	\$30,000.00
	Vulcan Construction Materials, LLC		\$45,000.0000	\$45,000.00

			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		50.000 EACH		
	Hoover, Inc.		\$5.0000	\$250.00
	Rogers Group, Inc.		\$5.2000	\$260.00
	Charles Deweese Construction, Inc		\$27.0000	\$1,350.00
	Jones Bros. Contractors, LLC		\$5.0000	\$250.00
	Vulcan Construction Materials, LLC		\$5.0000	\$250.00
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Hoover, Inc.		\$5.0000	\$40.00
	Rogers Group, Inc.		\$5.2500	\$42.00
	Charles Deweese Construction, Inc		\$28.0000	\$224.00
	Jones Bros. Contractors, LLC		\$5.0000	\$40.00
	Vulcan Construction Materials, LLC		\$5.0000	\$40.00
712-06	SIGNS (CONSTRUCTION)			
		1,626.000 S.F.		
	Hoover, Inc.		\$6.7500	\$10,975.50
	Rogers Group, Inc.		\$7.0000	\$11,382.00
	Charles Deweese Construction, Inc		\$7.1000	\$11,544.60
	Jones Bros. Contractors, LLC		\$6.7500	\$10,975.50
	Vulcan Construction Materials, LLC		\$9.2500	\$15,040.50
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		606.000 EACH		
	Hoover, Inc.		\$25.0000	\$15,150.00
	Rogers Group, Inc.		\$25.0000	\$15,150.00
	Charles Deweese Construction, Inc		\$26.2500	\$15,907.50
	Jones Bros. Contractors, LLC		\$25.0000	\$15,150.00
	Vulcan Construction Materials, LLC		\$26.2500	\$15,907.50
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		6.000 EACH		
	Hoover, Inc.		\$25.0000	\$150.00
	Rogers Group, Inc.		\$150.0000	\$900.00
	Charles Deweese Construction, Inc		\$26.2500	\$157.50
	Jones Bros. Contractors, LLC		\$25.0000	\$150.00
	Vulcan Construction Materials, LLC		\$26.2500	\$157.50
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
		53.000 EACH		
	Hoover, Inc.		\$25.0000	\$1,325.00
	Rogers Group, Inc.		\$25.0000	\$1,325.00
	Charles Deweese Construction, Inc		\$26.2500	\$1,391.25
	Jones Bros. Contractors, LLC		\$25.0000	\$1,325.00
	Vulcan Construction Materials, LLC		\$26.2500	\$1,391.25

			CONTRACT CHRTTS
		UNIT PRICE	EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	730.000 S.Y.		
Hoover, Inc.		\$12.0000	\$8,760.00
Rogers Group, Inc.		\$12.0000	\$8,760.00
Charles Deweese Construction, Inc		\$12.6000	\$9,198.00
Jones Bros. Contractors, LLC		\$12.0000	\$8,760.00
Vulcan Construction Materials, LLC		\$12.7500	\$9,307.50
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
	90.000 L.F.		
Hoover, Inc.		\$10.0000	\$900.00
Rogers Group, Inc.		\$10.0000	\$900.00
Charles Deweese Construction, Inc		\$10.5000	\$945.00
Jones Bros. Contractors, LLC		\$60.0000	\$5,400.00
Vulcan Construction Materials, LLC		\$10.5000	\$945.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
·	15.000 EACH		
Hoover, Inc.		\$125.0000	\$1,875.00
Rogers Group, Inc.		\$125.0000	\$1,875.00
Charles Deweese Construction, Inc		\$131.2500	\$1,968.75
Jones Bros. Contractors, LLC		\$125.0000	\$1,875.00
Vulcan Construction Materials, LLC		\$131.2500	\$1,968.75
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
, ,	4.000 EACH		
Hoover, Inc.		\$150.0000	\$600.00
Rogers Group, Inc.		\$150.0000	\$600.00
Charles Deweese Construction, Inc		\$157.5000	\$630.00
Jones Bros. Contractors, LLC		\$160.0000	\$640.00
Vulcan Construction Materials, LLC		\$157.5000	\$630.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	16.700 L.M.		
Hoover, Inc.		\$650.0000	\$10,855.00
Rogers Group, Inc.		\$650.0000	\$10,855.00
Charles Deweese Construction, Inc		\$682.5000	\$11,397.75
Jones Bros. Contractors, LLC		\$650.0000	\$10,855.00
Vulcan Construction Materials, LLC		\$682.5000	\$11,397.75
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	14.000 L.M.		
Hoover, Inc.		\$4,600.0000	\$64,400.00
Rogers Group, Inc.		\$4,600.0000	\$64,400.00
Charles Deweese Construction, Inc		\$4,830.0000	\$67,620.00
Jones Bros. Contractors, LLC		\$4,600.0000	\$64,400.00
Vulcan Construction Materials, LLC		\$4,830.0000	\$67,620.00

			•	
			UNIT PRICE	EXTENSION
740 40 00 5111411		D 1 1115)		
716-12.03 ENHANG	CED FLATLINE THERMO PVMT MRKNG (8IN BARRIE	-		
		300.000 L.F.		
Hoover,	Inc.		\$2.0000	\$600.00
Rogers	Group, Inc.		\$2.0000	\$600.00
Charles	Deweese Construction, Inc		\$2.1000	\$630.00
Jones B	Bros. Contractors, LLC		\$2.0000	\$600.00
Vulcan (	Construction Materials, LLC		\$2.1000	\$630.00
716-13.02 SPRAY	THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	, ,	2.700 L.M.		
Hoover,	Inc		\$2,600.0000	\$7,020.00
	Group, Inc.		\$2,600.0000	\$7,020.00
-	Deweese Construction, Inc		\$2,730.0000	\$7,371.00
	Bros. Contractors, LLC		\$2,600.0000	\$7,020.00
Vuican	Construction Materials, LLC		\$2,730.0000	\$7,371.00
716-13.03 SPRAY	THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)			
		100.000 L.F.		
Hoover,	Inc.		\$1.5000	\$150.00
	Group, Inc.		\$1.5000	\$150.00
-	Deweese Construction, Inc		\$1.5800	\$158.00
	Bros. Contractors, LLC		\$1.5000	\$150.00
	Construction Materials, LLC		\$1.6000	\$160.00
vuicari	Construction Materials, LLC		φ1.0000	\$100.00
716-13.05 SPRAY	THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		500.000 L.F.		
Hoover,	Inc.		\$1.0000	\$500.00
	Group, Inc.		\$1.0500	\$525.00
•	Deweese Construction, Inc		\$1.0500	\$525.00
	Bros. Contractors, LLC		\$1.0000	\$500.00
	Construction Materials, LLC		\$1.0500	\$525.00
vuicari	Constituction Materials, LLO		ψ1.0300	ψ323.00
717-01 MOBILIZ	ZATION			
		1.000 LS		
Hoover,	Inc.		\$30,000.0000	\$30,000.00
Rogers	Group, Inc.		\$39,998.5000	\$39,998.50
Charles	Deweese Construction, Inc		\$28,100.0000	\$28,100.00
	Bros. Contractors, LLC		\$25,000.0000	\$25,000.00
	Construction Materials, LLC		\$45,000.0000	\$45,000.00
730-14.02 SAW SL	OT			
730-14.02 3AW SL		2,500.000 L.F.		
Hoover,	Inc	_,	\$3.5000	\$8,750.00
	Group, Inc.		\$3.6500	\$9,125.00
-				
	Deweese Construction, Inc		\$3.0000	\$7,500.00
	Bros. Contractors, LLC		\$3.0000	\$7,500.00
Vulcan (	Construction Materials, LLC		\$3.1500	\$7,875.00

	CNR115	

\$2,915.00

\$0.5500

		UNIT PRICE	EXTENSION
730-14.03 LOOP V	VIRE		
	5,30	0.000 L.F.	
Hoover	, Inc.	\$0.5000	\$2,650.00
Rogers	Group, Inc.	\$0.5200	\$2,756.00
Charles	Deweese Construction, Inc	\$0.5000	\$2,650.00
Jones E	Bros. Contractors, LLC	\$0.5000	\$2,650.00

Vulcan Construction Materials, LLC

### **SUB-TOTAL ROADWAY**

Jones Bros. Contractors, LLC	\$899,853.25
Vulcan Construction Materials, LLC	\$995,327.88
Charles Deweese Construction, Inc	\$809,757.87
Hoover, Inc.	\$787,010.50
Rogers Group, Inc.	\$797,977.00

### **TOTAL CONTRACT**

Hoover, Inc.	\$787,010.50
Rogers Group, Inc.	\$797,977.00
Charles Deweese Construction, Inc	\$809,757.87
Jones Bros. Contractors, LLC	\$899,853.25
Vulcan Construction Materials, LLC	\$995,327.88

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MARCH 31, 2017

DAVIDSON COUNTY	(Contract No. CNR002 Call 041)
-----------------	--------------------------------

The improvement of the intersection on	U.S. 31 (S.R. 6) at S.R	. 255 (Harding Place/	Battery Lane) (L.M. 3.69	) in Oak Hill, including	grading, drainage,
signals and paving.					

PROJECT LENGTH -

**DBE GOAL 10.00%** 

PROPOSAL REJECTED

No Valid Bids

### STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MARCH 31, 2017

COUNTIES DAVIDSON, HUMPHREYS, MAURY, ROBERTSON, RUTHERFORD, SMITH, STEWART, SUMNER, WAYNE, WILLIAMSON, AND WILSON (Contract No. CNR118 Call 042)

98302-4143-04

THE RANDOM ON-CALL ATTENUATOR REPAIRS ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

TOTAL CONTRACT

Site-Safe Products, LLC d/b/a Site-Safe, LLC
LU, Inc. \$783,097.90
F8th Construction Company, LLC \$867,344.30

UNIT PRICE	EXTENSION

MAINTENANCE CATEGORY	S	
705 07 00 DEDUDECTIVE CDACH CHCHION/DEACT 250/0 DADDEL)		
705-07.96 REDIRECTIVE CRASH CUSHION(REACT 350)(9 BARREL) 1.000 E.	ACH.	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$25,000.0000	\$25,000.00
LU, Inc.	\$31,500.0000	\$31,500.00
F8th Construction Company, LLC	\$25,000.0000	\$25,000.00
705-07.97 REACT 350 II (6 BARREL) (TL-3) ATTENUATOR		
1.000 E	ACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$28,620.0000	\$28,620.00
LU, Inc. F8th Construction Company, LLC	\$24,250.0000 \$35,000,0000	\$24,250.00
Four Construction Company, LLC	\$25,000.0000	\$25,000.00
705-08.21 IMPACT ATTENUATOR (TAU-II PARALLEL)		
1.000 E		<b>*</b>
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$12,500.0000 \$14,000.0000	\$12,500.00 \$14,000.00
LU, Inc. F8th Construction Company, LLC	\$14,000.0000 \$15,000.0000	\$14,000.00 \$15,000.00
Total Constitution Company, LLC	ψ10,000.0000	ψ10,000.00
705-08.22 IMPACT ATTENUATOR (TAU-II WIDE)		
1.000 E		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$25,000.0000	\$25,000.00
LU, Inc.	\$26,500.0000	\$26,500.00
F8th Construction Company, LLC	\$25,000.0000	\$25,000.00
705-08.23 REPOSITIONING IMPACT ATTENUATOR (TAU-II)		
5.000 E		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,100.0000	\$5,500.00
LU, Inc.	\$1,350.0000 \$1,500.0000	\$6,750.00 \$7,500.00
F8th Construction Company, LLC	\$1,500.0000	\$7,500.00
705-08.25 TAU-II ENERGY ABSORBING CARTRIDGE TYPE A (UNIVERSAL)		
15.000 E		_
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$565.0000	\$8,475.00
LU, Inc. F8th Construction Company, LLC	\$600.0000 \$1,000.0000	\$9,000.00 \$15,000.00
Total Constitution Company, LLC	ψ1,000.0000	ψ10,000.00
705-08.26 TAU-II ENERGY ABSORBING CARTRIDGE TYPE B (UNIVERSAL)		
10.000 E		<b>#= 0=0 00</b>
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$565.0000 \$600.0000	\$5,650.00 \$6,000.00
LU, Inc. F8th Construction Company, LLC	\$750.0000 \$750.0000	\$7,500.00
Tour conduction company, LLC	ψ/ 00.000	ψ1,000.00
705-08.28 TAU-II FRONT SUPPORT ASSEMBLY (UNIVERSAL)		
1.000 E.		Φ4 050 00
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$1,053.3300 \$1,000.0000	\$1,053.33 \$1,000.00
F8th Construction Company, LLC	\$1,500.0000	\$1,000.00 \$1,500.00
: 3 20	ψ1,000.000	Ţ.,000.00

	UNIT PRICE	EXTENSION
705-08.29 TAU-II FRONT SUPPORT LEG KIT (UNIVERSAL)		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	<b>3.000 EACH</b> \$262.0000	\$786.00
LU, Inc.	\$262.0000	\$825.00
F8th Construction Company, LLC	\$500.0000	\$1,500.00
705-08.30 TAU-II MID SUPPORT ASSEMBLY (UNIVERSAL)		
	4.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,150.0000	\$4,600.00
LU, Inc.	\$1,150.0000	\$4,600.00
F8th Construction Company, LLC	\$1,500.0000	\$6,000.00
705-08.32 TAU-II SLIDER KIT (UNIVERSAL)		
0:4- 0-4- Dandwate 11 0 d/k/- 0:4- 0-4- 11 0	1.000 EACH	<b>#000</b> 00
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$280.0000 \$300.0000	\$280.00 \$300.00
F8th Construction Company, LLC	\$500.0000 \$500.0000	\$500.00 \$500.00
roun conduction company, 220	<b>\$</b>	φοσο.σσ
705-08.33 TAU-II SLIDING PANEL (UNIVERSAL)	C 000 FACIL	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	<b>6.000 EACH</b> \$304.2900	\$1,825.74
LU, Inc.	\$304.2900	\$1,823.74 \$1,800.00
F8th Construction Company, LLC	\$350.0000	\$2,100.00
705-08.34 TAU-II NOSE PIECE (PARALLEL UNIT)		
	10.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$750.0000	\$7,500.00
LU, Inc.	\$680.0000	\$6,800.00
F8th Construction Company, LLC	\$1,000.0000	\$10,000.00
705-08.36 TAU-II NOSE PIECE (WIDE UNIT)		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$828.5700	\$828.57
LU, Inc. F8th Construction Company, LLC	\$750.0000 \$1,000.0000	\$750.00 \$1,000.00
Four Construction Company, LLC	\$1,000.0000	\$1,000.00
705-08.66 RIP PLATE REPAIR KIT, STAGE 1		
0" 0 ( D ) ( 110 111 / 0" 0 ( 110	2.000 EACH	000400
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$442.0000 \$1,000.0000	\$884.00 \$2,000.00
F8th Construction Company, LLC	\$500.000	\$2,000.00 \$1,000.00
Total Conditional Company, 220	φοσο.σσσσ	ψ1,000.00
705-08.67 RIP PLATE REPAIR KIT, STAGE 2		
Sita Safa Producto 11 C d/h/a Sita Safa 11 C	2.000 EACH	<b>#0.400.00</b>
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$1,096.0000 \$1,000.0000	\$2,192.00 \$2,000.00
F8th Construction Company, LLC	\$1,000.0000	\$2,000.00
1 7,	, ,	. ,

CONTRACT C	NR118
------------	-------

			UNIT PRICE	EXTENSION
705-08 60	PLASTIC NOSE PIECE/REFLECTOR			
703-00.03	T EAGIIG NOGE T IEGENET EEGTON			
		6.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$390.0000	\$2,340.00
	LU, Inc.		\$510.0000	\$3,060.00
	F8th Construction Company, LLC		\$500.0000	\$3,000.00
705-08.80	SIDE PANEL - 35"			
		3.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$269.8400	\$809.52
	LU, Inc.		\$283.0000	\$849.00
	F8th Construction Company, LLC		\$250.0000	\$750.00
	· · · · · · · · · · · · · · · · · · ·		Ψ=00.0000	ψ. σσ.σσ
705 00 01	SIDE PANEL - 62"			
703-00.61	SIDE FANCE - 02			
		8.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$240.0000	\$1,920.00
	LU, Inc.		\$375.0000	\$3,000.00
	F8th Construction Company, LLC		\$500.0000	\$4,000.00
705-08.90	IMPACT ATTENUATOR (2005 TRACC)			
		2.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$11,049.9900	\$22,099.98
	LU, Inc.		\$12,500.0000	\$25,000.00
	F8th Construction Company, LLC		\$12,500.0000	\$25,000.00
	Total Conditions Company, 220		ψ12,000.000	Ψ20,000.00
705-09 01	REPOSITIONING VEHCULR IMP ATTN(2005TRACC)			
703-00.91	REPOSITIONING VEHCUER INF ATTN(2003TRACC)			
		7.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,068.3000	\$7,478.10
	LU, Inc.		\$1,350.0000	\$9,450.00
	F8th Construction Company, LLC		\$1,000.0000	\$7,000.00
705-08.92	05 RIP PLATE REPAIR KIT STAGE 2			
		5.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$576.8000	\$2,884.00
	LU, Inc.		\$553.0000	\$2,765.00
	F8th Construction Company, LLC		\$1,000.0000	\$5,000.00
	• •			
705-09.10	IMPACT ATTENUATOR (SCI100GM)			
	(00.000)	4 000 EACH		
	0" 0 ( D ) + 110 1/1 / 0" 0 ( 110	1.000 EACH	<b>#47 F</b> 00 0000	047.500.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$17,500.0000	\$17,500.00
	LU, Inc.		\$26,620.0000	\$26,620.00
	F8th Construction Company, LLC		\$20,000.0000	\$20,000.00
705-09.11	REPOSITIONING OF IMPACT ATTENUATOR (SCI100GM)			
		2.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,100.0000	\$2,200.00
	LU, Inc.		\$1,000.0000	\$2,000.00
	F8th Construction Company, LLC		\$1,500.0000	\$3,000.00

	UNIT PRICE	EXTENSION
705-09.35 PANEL DELINEATOR (W/REFLECTIVE HAZARD MARKER)		
3.0	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$139.0000	\$417.00
LU, Inc.	\$128.0000	\$384.00
F8th Construction Company, LLC	\$200.0000	\$600.00
705-14.21 SC B-U CABLE STRAP ASSY		
1.0	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$65.0000	\$65.00
LU, Inc.	\$75.0000	\$75.00
F8th Construction Company, LLC	\$100.0000	\$100.00
705-14.22 CONC. B-U CABLE STRAP ASSY		
1.0	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$133.3300	\$133.33
LU, Inc.	\$143.0000	\$143.00
F8th Construction Company, LLC	\$250.0000	\$250.00
705-14.30 REPOSITIONING IMPACT ATTENUATOR(REACT 350)		
	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$750.0000	\$1,500.00
LU, Inc.	\$1,000.0000	\$2,000.00
F8th Construction Company, LLC	\$1,000.0000	\$2,000.00
705-14.56 REFLECTIVE NOSE LEFT/RIGHT		
2.0	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$265.0000	\$530.00
LU, Inc.	\$339.0000	\$678.00
F8th Construction Company, LLC	\$300.0000	\$600.00
705-15.65 QUADGUARD II IMPACT ATTENUATOR (REPOSITIONING)		
	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,226.8200	\$12,268.20
LU, Inc.	\$1,350.0000	\$13,500.00
F8th Construction Company, LLC	\$1,500.0000	\$15,000.00
705-15.66 QUADGUARD II IMPACT ATTENUATOR (WIDE)		
1.0	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$16,700.0000	\$16,700.00
LU, Inc.	\$18,581.0000	\$18,581.00
F8th Construction Company, LLC	\$17,500.0000	\$17,500.00
705-15.67 QUADGUARD II IMPACT ATTENUATOR		
5.0	000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$13,044.8200	\$65,224.10
LU, Inc.	\$14,500.0000	\$72,500.00
F8th Construction Company, LLC	\$15,000.0000	\$75,000.00

CONTRACT C	NR'	118
------------	-----	-----

		UNIT PRICE	EXTENSION
705-15.68 NOSE ASSEMBLY QGII STEEL			
	15.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$820.6800	\$12,310.20
LU, Inc.		\$1,400.0000	\$21,000.00
F8th Construction Company, LLC		\$1,000.0000	\$15,000.00
705-15.69 SHIM KIT QGII			
	35.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$55.0000	\$1,925.00
LU, Inc.		\$50.0000	\$1,750.00
F8th Construction Company, LLC		\$100.0000	\$3,500.00
705-15.71 HEX FOAM CARTRIDGE, TYPE I			
	20.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$830.2800	\$16,605.60
LU, Inc.		\$940.0000	\$18,800.00
F8th Construction Company, LLC		\$1,000.0000	\$20,000.00
705-15.72 HEX FOAM CARTRIDGE, TYPE II			
	20.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$872.9000	\$17,458.00
LU, Inc.		\$900.0000	\$18,000.00
F8th Construction Company, LLC		\$1,000.0000	\$20,000.00
705-15.74 DIAPHRAGM ASSEMBLY, QC			
	6.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$875.2000	\$5,251.20
LU, Inc.		\$1,275.0000	\$7,650.00
F8th Construction Company, LLC		\$1,000.0000	\$6,000.00
705-15.75 FENDER PANEL ASSEMBLY			
	5.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$698.0400	\$3,490.20
LU, Inc.		\$719.0000	\$3,595.00
F8th Construction Company, LLC		\$1,000.0000	\$5,000.00
705-15.92 TRANS PANEL NEW JERSEY BARRIER WIDE			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$638.0000	\$638.00
LU, Inc.		\$829.0000	\$829.00
F8th Construction Company, LLC		\$750.0000	\$750.00
705-15.93 TRANS PANEL QUAD TO W WIDE			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$930.0000	\$930.00
LU, Inc.		\$1,117.0000	\$1,117.00
F8th Construction Company, LLC		\$1,000.0000	\$1,000.00

		UNIT PRICE	EXTENSION
705-16.75 HAZARD REFLECTORS			
	10.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$68.0000	\$680.00
LU, Inc.		\$128.0000	\$1,280.00
F8th Construction Company, LLC		\$250.0000	\$2,500.00
705-16.77 REPAIR OF CONCRETE BACKUP WALL			
	5.000 S.F.		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$21.2500	\$106.25
LU, Inc. F8th Construction Company, LLC		\$21.0000 \$100.0000	\$105.00 \$500.00
Four Construction Company, LLC		\$100.0000	\$300.00
705-17.08 CARTRIDGE SUPPORT BRACKETS			
	4.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$50.0000	\$200.00
LU, Inc.		\$50.0000	\$200.00 \$400.00
F8th Construction Company, LLC		\$100.0000	\$ <del>4</del> 00.00
705-17.24 HDPE NOSE PIECE			
	2.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$659.0000	\$1,318.00
LU, Inc.		\$782.0000 \$1,000.0000	\$1,564.00 \$2,000.00
F8th Construction Company, LLC		\$1,000.0000	\$2,000.00
705-17.32 BREAKAWAY POST (TOP)			
	2.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$133.0000	\$266.00
LU, Inc.		\$167.0000 \$350.0000	\$334.00
F8th Construction Company, LLC		\$250.0000	\$500.00
705-17.33 BREAKAWAY BOLT ASSEMBLY			
	2.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$17.0000	\$34.00
LU, Inc. F8th Construction Company, LLC		\$9.0000 \$100.0000	\$18.00 \$200.00
Four Construction Company, LLC		\$100.0000	\$200.00
705-17.35 IMPACT ATTENUATOR (HEART)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$18,000.0000	\$18,000.00
LU, Inc.		\$24,900.0000	\$24,900.00
F8th Construction Company, LLC		\$20,000.0000	\$20,000.00
705-17.71 WIDETRACC CABLE SYSTEM (W/ HARDWARE)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$225.0000	\$225.00
LU, Inc.		\$276.0000	\$276.00
F8th Construction Company, LLC		\$250.0000	\$250.00

CONTRACT C	NR118
------------	-------

		UNIT PRICE	EXTENSION
705-17.72 WIDETRACC FRAME (W/ HARDWARE)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$337.0000	\$337.00
LU, Inc.		\$413.0000	\$413.00
F8th Construction Company, LLC		\$500.0000	\$500.00
705-17.73 WIDETRACC EXTENSION FOOT (RIGHT) (W/ HARDWARE)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$325.0000	\$325.00
LU, Inc.		\$544.0000	\$544.00
F8th Construction Company, LLC		\$500.0000	\$500.00
705-17.74 WIDETRACC EXTENSION FOOT (LEFT) (W/ HARDWARE)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$325.0000	\$325.00
LU, Inc.		\$544.0000	\$544.00
F8th Construction Company, LLC		\$500.0000	\$500.00
705-17.89 HEART REFLECTIVE TAPE			
	4.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$57.0000	\$228.00
LU, Inc.		\$85.0000	\$340.00
F8th Construction Company, LLC		\$100.0000	\$400.00
705-17.92 REPOSITIONING IMPACT ATTENUATOR (HEART)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$319.7800	\$319.78
LU, Inc.		\$1,000.0000	\$1,000.00
F8th Construction Company, LLC		\$1,000.0000	\$1,000.00
705-17.93 IMPACT ATTENUATOR (WIDETRACC 2005)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$22,000.0000	\$22,000.00
LU, Inc.		\$19,000.0000	\$19,000.00
F8th Construction Company, LLC		\$20,000.0000	\$20,000.00
705-20.01 M10 ATTENUATOR			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$19,477.0700	\$19,477.07
LU, Inc.		\$20,000.0000	\$20,000.00
F8th Construction Company, LLC		\$25,000.0000	\$25,000.00
705-20.02 QUADGUARD TO M10 ATTENUATOR RETROFIT			
	3.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$9,743.0000	\$29,229.00
LU, Inc.		\$13,000.0000	\$39,000.00
F8th Construction Company, LLC		\$15,000.0000	\$45,000.00

		UNIT PRICE	EXTENSION
705-20.03 REPOSITIONING IMPACT ATTENUATOR (M10)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,100.0000	\$1,100.00
LU, Inc. F8th Construction Company, LLC		\$1,300.0000 \$1,500.0000	\$1,300.00 \$1,500.00
Tour Constitution Company, LLC		φ1,300.0000	ψ1,300.00
705-20.04 NOSE ASSEMBLY, M10			
	3.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,182.1600	\$3,546.48
LU, Inc. F8th Construction Company, LLC		\$1,200.0000 \$1,500.0000	\$3,600.00 \$4,500.00
Four Construction Company, LLC		φ1,500.0000	\$4,500.00
705-20.05 HEX FOAM CARTRIDGE, TYPE M1			
	3.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$982.2900	\$2,946.87
LU, Inc.		\$1,000.0000	\$3,000.00
F8th Construction Company, LLC		\$1,500.0000	\$4,500.00
705-20.06 HEX FOAM CARTRIDGE, TYPE M2			
	3.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,030.9800	\$3,092.94
LU, Inc.		\$1,100.0000	\$3,300.00
F8th Construction Company, LLC		\$1,500.0000	\$4,500.00
705-20.30 BELT NOSEPIECE, YELLOW, 24"-36" (QGE, QGEM)			
	2.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,900.0000	\$3,800.00
LU, Inc.		\$3,093.0000	\$6,186.00
F8th Construction Company, LLC		\$250.0000	\$500.00
705-20.31 BELT NOSEPIECE, YELLOW, 69"-90" (QGE, QGEM)			
	2.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,100.0000	\$4,200.00
LU, Inc.		\$3,380.0000	\$6,760.00
F8th Construction Company, LLC		\$1,000.0000	\$2,000.00
705-20.32 QGE HIT INDICATOR			
	3.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$160.0000	\$480.00
LU, Inc.		\$247.0000	\$741.00
F8th Construction Company, LLC		\$1,000.0000	\$3,000.00
705-20.33 QGE CYLINDER TYPE I (QGE)			
	3.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,300.0000	\$3,900.00
LU, Inc.		\$2,021.0000	\$6,063.00
F8th Construction Company, LLC		\$2,500.0000	\$7,500.00

CONTRACT CN	IK	1	1	8
-------------	----	---	---	---

	UNIT PRICE	EXTENSION
705-20.34 QGE CYLINDER TYPE II (QGE)		
	3.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$950.0000	\$2,850.00
LU, Inc. F8th Construction Company, LLC	\$2,796.0000 \$2,500.0000	\$8,388.00 \$7,500.00
Four Construction Company, LLC	\$2,300.0000	\$7,500.00
705-20.35 QGE CYLINDER ME1 (QGEM)		
	3.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$950.0000	\$2,850.00
LU, Inc.	\$1,559.0000	\$4,677.00
F8th Construction Company, LLC	\$2,500.0000	\$7,500.00
705-20.36 QGE CYLINDER ME2 (QGEM)		
	3.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$960.0000	\$2,880.00
LU, Inc.	\$1,576.0000	\$4,728.00
F8th Construction Company, LLC	\$2,500.0000	\$7,500.00
705-20.37 QGE CYLINDER ME3 (QGEM)		
	3.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$2,000.0000	\$6,000.00
LU, Inc.	\$3,110.0000	\$9,330.00
F8th Construction Company, LLC	\$2,500.0000	\$7,500.00
705-20.38 QGEM EXTENSION BACKUP (BACKUP DIAPHRAGM)		
	2.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,500.0000	\$3,000.00
LU, Inc.	\$2,388.9000	\$4,777.80
F8th Construction Company, LLC	\$5,000.0000	\$10,000.00
705-20.39 QGEM EXTENSION BACKUP (DIAPHRAGM)		
	2.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,500.0000	\$3,000.00
LU, Inc.	\$2,388.9000	\$4,777.80
F8th Construction Company, LLC	\$5,000.0000	\$10,000.00
705-20.40 QUAD GUARD ELITE RETROFIT TO QG ELITE M10		
	2.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$12,500.0000	\$25,000.00
LU, Inc.	\$20,821.0000	\$41,642.00
F8th Construction Company, LLC	\$10,000.0000	\$20,000.00
712-01.50 MAINTENANCE OF TRAFFIC		
	12.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$511.6400	\$6,139.68
LU, Inc.	\$637.0000	\$7,644.00
F8th Construction Company, LLC	\$2,500.0000	\$30,000.00

		CONTRACT CNR118
	UNIT PRICE	EXTENSION
THE SALES MAINTENANCE OF TRAFFIC (MIGHT WORK)		
712-01.52 MAINTENANCE OF TRAFFIC (NIGHT WORK)		
12.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$782.6400	\$9,391.68
LU, Inc.	\$900.0000	\$10,800.00
F8th Construction Company, LLC	\$2,500.0000	\$30,000.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD		
20.000 DAY		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$500.0000	\$10,000.00
LU, Inc.	\$2,000.0000	\$40,000.00
F8th Construction Company, LLC	\$2,500.0000	\$50,000.00

1.000 LS

717-01

**MOBILIZATION** 

LU, Inc.

Site-Safe Products, LLC d/b/a Site-Safe, LLC

F8th Construction Company, LLC

\$27,500.00

\$20,000.00

\$50,000.00

\$27,500.0000

\$20,000.0000

\$50,000.0000

		CO	MIRACI CIRTIO
MAINTENANCE CONTINGENCY CATEGORY		UNIT PRICE	EXTENSION
705-07.20 TRANSITION TO SAFETY SHAPE (2005 TRACC)			
700 07.20 TRANSFIER TO GALETT SHALL (2000 TRACO)	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EAOH	\$633.2500	\$633.25
LU, Inc.		\$633.2500	\$633.25
F8th Construction Company, LLC		\$633.2500	\$633.25
705-07.21 TRANSITION TO BARRIER WALL END CAP (2005 TRACC)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$212.5000	\$212.50
LU, Inc.		\$212.5000	\$212.50
F8th Construction Company, LLC		\$212.5000	\$212.50
705-07.22 SPLIT FRAME KIT-30IN BACK-UP (2005 TRACC)	4 000 54 011		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$559.3000	\$559.30
LU, Inc.		\$559.3000 \$559.3000	\$559.30 \$559.30
F8th Construction Company, LLC		\$559.3000	\$559.30
705-08.18 TAU-II XXXL BULKHEAD (WIDE UNIT)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,500.0000	\$1,500.00
LU, Inc.		\$1,500.0000	\$1,500.00
F8th Construction Company, LLC		\$1,500.0000	\$1,500.00
705-08.19 TAU-II XXXXL BULKHEAD (WIDE UNIT)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,000.0000	\$2,000.00
LU, Inc.		\$2,000.0000	\$2,000.00 \$2,000.00
F8th Construction Company, LLC		\$2,000.0000	\$2,000.00
705-08.24 TAU-II CABLE GUIDE KIT (UNIVERSAL)	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$500.0000	\$500.00
LU, Inc.		\$500.0000	\$500.00
F8th Construction Company, LLC		\$500.0000	\$500.00
705-08.27 TAU-II END PANEL (UNIVERSAL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$275.0000	\$275.00
LU, Inc.		\$275.0000	\$275.00
F8th Construction Company, LLC		\$275.0000	\$275.00
705-08.31 TAU-II PIPE PANEL MOUNT (UNIVERSAL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$120.0000	\$120.00
LU, Inc.		\$120.0000 \$120.0000	\$120.00 \$120.00
F8th Construction Company, LLC		\$120.0000	\$120.00

	UNIT PRICE	EXTENSION
705-08.35 TAU-II PCB BACKSTOP (PARALLEL UNIT)		
0" 0 ( P	1.000 EACH	Ф000 00
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$800.0000 \$800.0000	
F8th Construction Company, LLC	\$800.0000	
705-08.37 TAU-II WIDE SUPPORT LEG ADAPTER (WIDE UNIT)		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$200.0000	
LU, Inc.	\$200.0000	
F8th Construction Company, LLC	\$200.0000	\$200.00
705-08.38 TAU-II WING ASSEMBLY (WIDE UNIT)		
· · · · · · · · · · · · · · · · · · ·	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$400.0000	\$400.00
LU, Inc.	\$400.0000	
F8th Construction Company, LLC	\$400.0000	\$400.00
705-08.39 TAU-II WING BRACE (WIDE UNIT)		
Sita Safa Producto II C d/b/a Sita Safa II C	1.000 EACH	\$50.00
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$50.0000 \$50.0000	·
F8th Construction Company, LLC	\$50.0000	
705-08.40 TAU-II XL BULKHEAD (WIDE UNIT)		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$600.0000	
LU, Inc. F8th Construction Company, LLC	\$600.0000 \$600.0000	
Total Constitution Company, LLC	φοσο.σσσσ	φοσο.σσ
705-08.41 TAU-II XXL BULKHEAD (WIDE UNIT)		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,100.0000	\$1,100.00
LU, Inc.	\$1,100.0000	
F8th Construction Company, LLC	\$1,100.0000	\$1,100.00
705-08.52 QUADGUARD MONORAIL ASSEMBLY, 3 BAY		
700 00:02 ROADOUARD MORORALE AGGEMBET, O BAT	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,275.0000	\$1,275.00
LU, Inc.	\$1,275.0000	
F8th Construction Company, LLC	\$1,275.0000	\$1,275.00
705-08.68 RIP PLATE REPAIR KIT, STAGE 3		
Cita Cafa Draduata II C d/b/a Cita Cafa II C	1.000 EACH	Φ4 COO OF
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.	\$1,620.2500 \$1,620.2500	
F8th Construction Company, LLC	\$1,620.2500	
1 //	, , , = ======	. /

CONTRACT	CNR118
----------	--------

	UNIT PRICE	EXTENSION
705-08.74 BASE ASSEMBLY - 9'		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$833.0000	\$833.00
LU, Inc.	\$833.0000	\$833.00
F8th Construction Company, LLC	\$833.0000	\$833.00
705-08.76 BEAM GUIDE - 20'		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$636.6500	\$636.65
LU, Inc.	\$636.6500	\$636.65
F8th Construction Company, LLC	\$636.6500	\$636.65
705-08.77 END SHOE (LEFT OR RIGHT)		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$238.0000	\$238.00
LU, Inc.	\$238.0000	\$238.00
F8th Construction Company, LLC	\$238.0000	\$238.00
705-08.84 SLOT PLATE		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$20.8500	\$20.85
LU, Inc.	\$20.8500	\$20.85
F8th Construction Company, LLC	\$20.8500	\$20.85
705-08.85 CROSSTIE		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$109.6500	\$109.65
LU, Inc.	\$109.6500	\$109.65
F8th Construction Company, LLC	\$109.6500	\$109.65
705-08.86 FORM CHANNEL - 3 X 2		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$187.0000	\$187.00
LU, Inc.	\$187.0000	\$187.00
F8th Construction Company, LLC	\$187.0000	\$187.00
705-08.88 SLED/CUTTER ASSEMBLY		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$2,465.0000	\$2,465.00
LU, Inc.	\$2,465.0000	\$2,465.00
F8th Construction Company, LLC	\$2,465.0000	\$2,465.00
705-08.93 05 RIP PLATE REPAIR KIT STAGE 3		
1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,119.4500	\$1,119.45
LU, Inc.	\$1,119.4500	\$1,119.45
F8th Construction Company, LLC	\$1,119.4500	\$1,119.45

			CONTRACT CNR118
		UNIT PRICE	EXTENSION
705-08.94 05 FRONT ANCH WELDMENT			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$410.0000	\$410.00
LU, Inc.		\$410.0000	\$410.00
F8th Construction Company, LLC		\$410.0000	\$410.00
705-08.95 05 SECTION MODULE			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,415.0000	\$1,415.00
LU, Inc.		\$1,415.0000	\$1,415.00
F8th Construction Company, LLC		\$1,415.0000	\$1,415.00
705-08.97 05 SLED/SHREDDER ASSEMBLY			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,465.0000	\$2,465.00
LU, Inc.		\$2,465.0000	\$2,465.00
F8th Construction Company, LLC		\$2,465.0000	\$2,465.00
705-08.98 05 FRAME WELDMENT			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$310.2500	\$310.25
LU, Inc.		\$310.2500	\$310.25
F8th Construction Company, LLC		\$310.2500	\$310.25
705-08.99 05 BACK-UP FRAME			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$473.4500	\$473.45
LU, Inc.		\$473.4500	\$473.45
F8th Construction Company, LLC		\$473.4500	\$473.45
705-09.12 CONCRETE ANCHOR BOLT SET (3/4 IN X 7 IN)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$306.0000	\$306.00
LU, Inc.		\$306.0000	\$306.00
F8th Construction Company, LLC		\$306.0000	\$306.00
705-09.13 ASPHALT ANCHOR BOLT SET (3/4 IN X 18 IN)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$871.0000	\$871.00
LU, Inc.		\$871.0000	\$871.00
F8th Construction Company, LLC		\$871.0000	\$871.00
705-09.14 BOLT CABLE ADJUSTER			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$120.0000	\$120.00
LU, Inc.		\$120.0000	\$120.00
F8th Construction Company, LLC		\$120.0000	\$120.00

	UNIT PRICE	EXTENSION
705-09.15 BOLT SLED SIDE PANEL		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$6.0000	\$6.00
LU, Inc.	\$6.0000	\$6.00
F8th Construction Company, LLC	\$6.0000	\$6.00
705-09.16 BOLT FRONT STOP		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$3.0000	\$3.00
LU, Inc.	\$3.0000	\$3.00
F8th Construction Company, LLC	\$3.0000	\$3.00
705-09.17 BOLT SHEAR		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1.5000	\$1.50
LU, Inc.	\$1.5000	\$1.50
F8th Construction Company, LLC	\$1.5000	\$1.50
705-09.18 BOLT SIDE GUIDE		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$20.0000	\$20.00
LU, Inc.	\$20.0000	\$20.00
F8th Construction Company, LLC	\$20.0000	\$20.00
705-09.19 BOLT TERMINAL BRACE		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$9.0000	\$9.00
LU, Inc.	\$9.0000	\$9.00
F8th Construction Company, LLC	\$9.0000	\$9.00
705-09.20 BRACE TERMINAL		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$414.0000	\$414.00
LU, Inc.	\$414.0000	\$414.00
F8th Construction Company, LLC	\$414.0000	\$414.00
705-09.21 CABLE WIRE ROPE W/ SPELTER SOCKET		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,083.0000	\$1,083.00
LU, Inc.	\$1,083.0000	\$1,083.00
F8th Construction Company, LLC	\$1,083.0000	\$1,083.00
705-09.22 CLIP WIRE ROPE		
	1.000 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$34.0000	\$34.00
LU, Inc.	\$34.0000	\$34.00
F8th Construction Company, LLC	\$34.0000	\$34.00

				CONTRACT C	NR118
			UNIT PRICE	EXTEN	SION
705-09.23	CYLINDER SHOCK ARRESTING				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$3,143.0000	\$3,14	3.00
	LU, Inc.		\$3,143.0000	\$3,14	
	F8th Construction Company, LLC		\$3,143.0000	\$3,14	3.00
705-09.24	STRAP CYLINDER				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$89.0000	\$8	9.00
	LU, Inc.		\$89.0000		9.00
	F8th Construction Company, LLC		\$89.0000	\$8	9.00
705-09.25	FRAME MOBILE #1				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000		4.00
	LU, Inc.		\$414.0000		4.00
	F8th Construction Company, LLC		\$414.0000	\$41	4.00
705-09.26	FRAME MOBILE #2				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000		4.00
	LU, Inc.		\$414.0000		4.00
	F8th Construction Company, LLC		\$414.0000	\$41	4.00
705-09.27	FRAME MOBILE #3				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000	·	4.00
	LU, Inc.		\$414.0000		4.00
	F8th Construction Company, LLC		\$414.0000	\$41	4.00
705-09.28	FRAME MOBILE #4				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000		4.00
	LU, Inc.		\$414.0000		4.00
	F8th Construction Company, LLC		\$414.0000	<b>\$41</b>	4.00
705-09.29	FRAME MOBILE #5				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000	·	4.00
	LU, Inc.		\$414.0000		4.00
	F8th Construction Company, LLC		\$414.0000	\$41	4.00
705-09.30	FRAME MOBILE #6				
		1.000 EACH			
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000		4.00
	LU, Inc.		\$414.0000 \$414.0000		4.00
	F8th Construction Company, LLC		\$414.0000	\$41	4.00

			UNIT PRICE	EXTENSION
705-09.31 G	SUIDE SIDE			
0	Site Cofe Broducto II C d/b/o Site Cofe II C	1.000 EACH	<b>CO4 0000</b>	<b>CO4.00</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.		\$94.0000 \$94.0000	\$94.00 \$94.00
	8th Construction Company, LLC		\$94.0000	\$94.00
705-09.32 K	(EEPER SIDE #1 (SLED PANEL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$23.0000	\$23.00
	U, Inc. 8th Construction Company, LLC		\$23.0000 \$23.0000	\$23.00 \$23.00
ı	our construction company, LLC		Ψ23.0000	Ψ23.00
705-09.33 K	(EEPER SIDE #2 (SIDE PANEL)			
c	Sita Safa Braduata II.C d/b/a Sita Safa II.C	1.000 EACH	\$22,0000	\$22.00
	Site-Safe Products, LLC d/b/a Site-Safe, LLC .U, Inc.		\$23.0000 \$23.0000	\$23.00 \$23.00
	8th Construction Company, LLC		\$23.0000	\$23.00
705-09.34 K	(EEPER SIDE #3 (REAR PANEL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$23.0000	\$23.00
	U, Inc.		\$23.0000	\$23.00 \$23.00
Г	8th Construction Company, LLC		\$23.0000	\$23.00
705-09.36 P	PANEL SIDE			
	W. O. C. D. J. J. 110 1/1 / 0W O. C. 110	1.000 EACH	<b>#</b> 000 0000	<b>*</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC .U, Inc.		\$223.0000 \$223.0000	\$223.00 \$223.00
	8th Construction Company, LLC		\$223.0000	\$223.00
705-09.37 P	PANEL SLED			
		1.000 EACH		
S	ite-Safe Products, LLC d/b/a Site-Safe, LLC		\$414.0000	\$414.00
	U, Inc.		\$414.0000	\$414.00
F	8th Construction Company, LLC		\$414.0000	\$414.00
705-09.38 P	PANEL REAR			
	W. O. C. D. J. J. 110 1/1 / 0W O. C. 110	1.000 EACH	<b>#</b> 000 0000	<b>*</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC U, Inc.		\$206.0000 \$206.0000	\$206.00 \$206.00
	8th Construction Company, LLC		\$206.0000	\$206.00
705-09.39 S	SHEAVE (PULLEY)			
	•	1.000 EACH		
	site-Safe Products, LLC d/b/a Site-Safe, LLC		\$103.0000	\$103.00
	U, Inc.		\$103.0000	\$103.00
F	8th Construction Company, LLC		\$103.0000	\$103.00

			CONTRACT CNR118
		UNIT PRICE	EXTENSION
705-09.40 SLED			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,917.0000	\$1,917.00
LU, Inc.		\$1,917.0000	\$1,917.00
F8th Construction Company, LLC		\$1,917.0000	\$1,917.00
705-09.41 TRANSITION JERSEY BARRIER RIGHT			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,263.0000	\$1,263.00
LU, Inc. F8th Construction Company, LLC		\$1,263.0000 \$1,263.0000	\$1,263.00 \$1,263.00
Four Construction Company, LLC		φ1,203.0000	φ1,203.00
705-09.42 TRANSITION JERSEY BARRIER LEFT			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,263.0000	\$1,263.00
LU, Inc. F8th Construction Company, LLC		\$1,263.0000 \$1,263.0000	\$1,263.00 \$1,263.00
1 our Construction Company, LLC		ψ1,203.0000	ψ1,203.00
705-09.43 TRANSITION 24IN CONCRETE			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$794.0000	\$794.00
LU, Inc. F8th Construction Company, LLC		\$794.0000 \$794.0000	\$794.00 \$794.00
Tour Constitution Company, 220		ψ. οοοο	ψ. σ π.σσ
705-09.44 BOOT CYLINDER			
	1.000 EACH	<b>^</b>	<b>^</b>
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$57.0000 \$57.0000	\$57.00 \$57.00
LU, Inc. F8th Construction Company, LLC		\$57.0000 \$57.0000	\$57.00 \$57.00
Tour Constitution Company, 220		ψονσσσσ	ψον.σσ
705-14.31 CYLINDER 0.8" CYLINDERS 1 & 2			
0" 0 ( D ) + 110 11/ 0" 0 ( 110	1.000 EACH	ФО 400 0000	Фо 400 00
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
705 44 22 CVI INDED 0.0% CVI INDEDC 2.9.4			
705-14.32 CYLINDER 0.9" CYLINDERS 3 & 4	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$2,120.0000	\$2,120.00
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
705-14.33 CYLINDER 1.0" CYLINDERS 5 & 6			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,120.0000	\$2,120.00
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00

			CONTRACT CNR118
		UNIT PRICE	EXTENSION
705-14.34 CYLINDER 1.108" CYLINDER 7			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,120.0000	\$2,120.00
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
705-14.35 CYLINDER 1.385" CYLINDERS 8 & 9			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,120.0000	\$2,120.00
LU, Inc.		\$2,120.0000	\$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
705-14.36 U-BOLTS (1/2" X 3")			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$12.0000	\$12.00
LU, Inc.		\$12.0000	\$12.00
F8th Construction Company, LLC		\$12.0000	\$12.00
705-14.37 U-BOLTS (3/8" X 3")			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$12.0000	\$12.00
LU, Inc.		\$12.0000	\$12.00
F8th Construction Company, LLC		\$12.0000	\$12.00
705-14.38 BOX BEAM (8" X 6" X 3/16")			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$35.0000	\$35.00
LU, Inc.		\$35.0000	\$35.00
F8th Construction Company, LLC		\$35.0000	\$35.00
705-14.50 CYLINDER RETAINER (1' 3" X 5")			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$60.0000	\$60.00
LU, Inc.		\$60.0000	\$60.00
F8th Construction Company, LLC		\$60.0000	\$60.00
705-14.51 FRONT ANCHOR PIN (1/4" X 1 1/2" X 3")			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$23.0000	\$23.00
LU, Inc.		\$23.0000	\$23.00
F8th Construction Company, LLC		\$23.0000	\$23.00
705-14.53 1/2" GALVANIZED CHAIN WITH HARDWARE			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$82.0000	\$82.00
LU, Inc.		\$82.0000	\$82.00
F8th Construction Company, LLC		\$82.0000	\$82.00

		С	ONTRACT CNR118
		UNIT PRICE	EXTENSION
TOT 44 54 POLYMBINI GOVER			
705-14.54 POLYVINYL COVER	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 LACI1	\$71.0000	\$71.00
LU, Inc.		\$71.0000	\$71.00
F8th Construction Company, LLC		\$71.0000	\$71.00
705-14.55 ANCHOR BOLT SET (CONCRETE/ASPHALT)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$895.0000	\$895.00
LU, Inc.		\$895.0000	\$895.00
F8th Construction Company, LLC		\$895.0000	\$895.00
705-14.57 BACKUP SINGLE CABLE-(4 BARREL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$660.0000	\$660.00
LU, Inc.		\$660.0000	\$660.00
F8th Construction Company, LLC		\$660.0000	\$660.00
705-14.58 BACKUP SINGLE CABLE-(6 BARREL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$840.0000	\$840.00
LU, Inc.		\$840.0000	\$840.00
F8th Construction Company, LLC		\$840.0000	\$840.00
705-14.59 BACKUP SINGLE CABLE-(9 BARREL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,050.0000	\$1,050.00
LU, Inc.		\$1,050.0000	\$1,050.00
F8th Construction Company, LLC		\$1,050.0000	\$1,050.00
705-14.60 CABLE SYSTEM FOR SIDE MOUNT-(4 BARREL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,975.0000	\$1,975.00
LU, Inc.		\$1,975.0000	\$1,975.00
F8th Construction Company, LLC		\$1,975.0000	\$1,975.00
705-14.61 CABLE SYSTEM FOR SIDE MOUNT-(6 BARREL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,415.0000	\$2,415.00
LU, Inc.		\$2,415.0000	\$2,415.00
F8th Construction Company, LLC		\$2,415.0000	\$2,415.00
705-14.62 CABLE SYSTEM FOR SIDE MOUNT-(9 BARREL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,690.0000	\$2,690.00
LU, Inc.		\$2,690.0000	\$2,690.00 \$3,600.00

F8th Construction Company, LLC

\$2,690.00

\$2,690.0000

				CONTRACT CNR118
			UNIT PRICE	EXTENSION
705-14.63	BOTTOM CABLE-(4 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$550.0000	\$550.00
	LU, Inc.		\$550.0000	\$550.00
	F8th Construction Company, LLC		\$550.0000	\$550.00
705-14.64	BOTTOM CABLE-(6 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$580.0000	\$580.00
	LU, Inc.		\$580.0000	\$580.00
	F8th Construction Company, LLC		\$580.0000	\$580.00
705-14.65	BOTTOM CABLE-(9 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,407.0000	\$1,407.00
	LU, Inc.		\$1,407.0000	\$1,407.00
	F8th Construction Company, LLC		\$1,407.0000	\$1,407.00
705-14.66	SIDE MNT ANCHR/CABLE ANCHR CVR PLT			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$770.0000	\$770.00
	LU, Inc.		\$770.0000	\$770.00
	F8th Construction Company, LLC		\$770.0000	\$770.00
705-14.67	PULLOUT BRACKET ASSEMBLY			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$91.3500	\$91.35
	LU, Inc.		\$91.3500	\$91.35
	F8th Construction Company, LLC		\$91.3500	\$91.35
705-14.68	3IN X 3IN TUBING			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$72.0000	\$72.00
	LU, Inc.		\$72.0000	\$72.00
	F8th Construction Company, LLC		\$72.0000	\$72.00
705-14.69	GALVANIZED STABALIZER BAR			
		1 000 EACH		

705-14.65	BOTTOM CABLE-(9 BARREL)			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,407.0000	\$1,407.00
	LU, Inc.		\$1,407.0000	\$1,407.00
	F8th Construction Company, LLC		\$1,407.0000	\$1,407.00
705-14.66	SIDE MNT ANCHR/CABLE ANCHR CVR PLT			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$770.0000	\$770.00
	LU, Inc.		\$770.0000	\$770.00
	F8th Construction Company, LLC		\$770.0000	\$770.00
705-14.67	PULLOUT BRACKET ASSEMBLY			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$91.3500	\$91.35
	LU, Inc.		\$91.3500	\$91.35
	F8th Construction Company, LLC		\$91.3500	\$91.35
			***************************************	******
705-14.68	3IN X 3IN TUBING			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$72.0000	\$72.00
	LU, Inc.		\$72.0000	\$72.00
	F8th Construction Company, LLC		\$72.0000	\$72.00
705-14.69	GALVANIZED STABALIZER BAR			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$190.0000	\$190.00
	LU, Inc.		\$190.0000	\$190.00
	F8th Construction Company, LLC		\$190.0000	\$190.00
705-14.70	TRANSITION PLATE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$490.0000	\$490.00
	LU, Inc.		\$490.0000	\$490.00
	F8th Construction Company, LLC		\$490.0000	\$490.00

CONTRACT CNR11	NTRACT	<b>CNR118</b>
----------------	--------	---------------

		UNIT PRICE	EXTENSION
705-14.71 TOP CABLE (OLD UNIT)-(4 BARREL)			
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$560.0000	\$560.00
LU, Inc.		\$560.0000	\$560.00 \$560.00
F8th Construction Company, LLC		\$560.0000	\$560.00
705-14.72 TOP CABLE (OLD UNIT)-(6 BARREL)			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$609.0000	\$609.00
LU, Inc. F8th Construction Company, LLC		\$609.0000 \$609.0000	\$609.00 \$609.00
r din construction company, ELC		ф009.0000	φουθ.ου
705-14.73 TOP CABLE (OLD UNIT)-(9 BARREL)			
0'' 0 ( D	1.000 EACH	<b>#055</b> 0000	<b>#</b> 055.00
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$955.0000 \$955.0000	\$955.00 \$955.00
F8th Construction Company, LLC		\$955.0000	\$955.00
		*****	,
705-15.77 BACKUP ASSEMBLY, TENSION STRUT			
	1.000 EACH	<b>*</b>	
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$2,120.0000 \$2,120.0000	\$2,120.00 \$2,120.00
F8th Construction Company, LLC		\$2,120.0000	\$2,120.00
705-15.79 MONORAIL ASSEMBLY, 4-6 BAY			
700 10.70 MONONALE ACCEMBET, 4 0 BAT	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,850.0000	\$2,850.00
LU, Inc.		\$2,850.0000	\$2,850.00
F8th Construction Company, LLC		\$2,850.0000	\$2,850.00
705-15.80 MONORAIL ASSEMBLY, 7-9 BAY			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,950.0000	\$2,950.00
LU, Inc. F8th Construction Company, LLC		\$2,950.0000 \$2,950.0000	\$2,950.00 \$2,950.00
Total Construction Company, ELC		Ψ2,930.0000	Ψ2,930.00
705-15.82 TRANSITION PANEL, NEW JERSEY BARRIER			
	1.000 EACH		
Site-Safe Products, LLC d/b/a Site-Safe, LLC LU, Inc.		\$638.0000 \$638.0000	\$638.00 \$638.00
F8th Construction Company, LLC		\$638.0000	\$638.00
705-15.83 TRANSITION PANEL, QUAD TO W	4 000 FACU		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EACH	\$930.0000	\$930.00
LU, Inc.		\$930.0000	\$930.00
F8th Construction Company, LLC		\$930.0000	\$930.00

			co	NTRACT CNR118
			UNIT PRICE	EXTENSION
705-15.84	DIAPHRAGM ASSEMBLY, WIDE			
		1.000 EACH	<b>.</b>	<b>.</b>
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,260.0000	\$1,260.00
	LU, Inc.		\$1,260.0000	\$1,260.00
	F8th Construction Company, LLC		\$1,260.0000	\$1,260.00
705-15.85	BACKUP ASSEMBLY, TENSION STRUT, WIDE			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$2,425.0000	\$2,425.00
	LU, Inc.		\$2,425.0000	\$2,425.00
	F8th Construction Company, LLC		\$2,425.0000	\$2,425.00
705-15.87	BACKUP ASSEMBLY, CONCRETE			
	, in the second	1.000 C.Y.		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,230.0000	\$1,230.00
	LU, Inc.		\$1,230.0000	\$1,230.00
	F8th Construction Company, LLC		\$1,230.0000	\$1,230.00
705-15.88	END SHOE, CONCRETE			
		1.000 C.Y.		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$370.0000	\$370.00
	LU, Inc.		\$370.0000	\$370.00
	F8th Construction Company, LLC		\$370.0000	\$370.00
705-15.89	BACKUP ASSEMBLY, CONCRETE, WIDE			
		1.000 C.Y.		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$1,423.0000	\$1,423.00
	LU, Inc.		\$1,423.0000	\$1,423.00
	F8th Construction Company, LLC		\$1,423.0000	\$1,423.00
705-15 90	EXTENSION PANEL			
705-15.50	EXTENSION FANCE	1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	1.000 EA011	\$330.0000	\$330.00
	LU, Inc.		\$330.0000	\$330.00
	F8th Construction Company, LLC		\$330.0000	\$330.00
705-15.91	PIVOT SUPPORT BRACKET			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$85.0000	\$85.00
	LU, Inc.		\$85.0000	\$85.00
	F8th Construction Company, LLC		\$85.0000	\$85.00
705-17.18	CBL 3/4 X 6FT6IN /DLB SWG/NOHWI			
		1.000 EACH		
	Site-Safe Products, LLC d/b/a Site-Safe, LLC		\$113.5000	\$113.50
	LU, Inc.		\$113.5000	\$113.50
	E9th Construction Company LLC		¢112 5000	¢112.50

F8th Construction Company, LLC

\$113.50

\$113.5000

CONTRACT CN	RΙ	18
-------------	----	----

	UNIT PRICE	EXTENSION
705-17.19 CBL 3/4 X 19FT7IN /SNG SWG		
1.000 I	EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$209.0000	\$209.00
LU, Inc.	\$209.0000	\$209.00
F8th Construction Company, LLC	\$209.0000	\$209.00
705-17.20 DIAPHRAGM #1		
1.000 I	EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$456.0000	\$456.00
LU, Inc.	\$456.0000	\$456.00
F8th Construction Company, LLC	\$456.0000	\$456.00
Tour conduction company, 220	ψ 100.0000	ψ 100.00
705-17.21 DIAPHRAGM #2	FACIL	
		<b>\$505.75</b>
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$505.7500	\$505.75
LU, Inc.	\$505.7500 \$505.7500	\$505.75 \$505.75
F8th Construction Company, LLC	\$505.7500	\$505.75
705-17.23 DIAPHRAGM #10		
1.000 I	EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$352.7500	\$352.75
LU, Inc.	\$352.7500	\$352.75
F8th Construction Company, LLC	\$352.7500	\$352.75
705-17.25 HDPE FRONT PANEL		
1.000 I	EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$977.5000	\$977.50
LU, Inc.	\$977.5000	\$977.50
F8th Construction Company, LLC	\$977.5000	\$977.50
705-17.26 HDPE MIDDLE PANEL		
1.000 I	FACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$980.0000	\$980.00
LU, Inc.	\$980.0000	\$980.00
F8th Construction Company, LLC	\$980.0000	\$980.00
705-17.27 HDPE REAR PANEL		
1.000 I		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$985.0000	\$985.00
LU, Inc.	\$985.0000	\$985.00
F8th Construction Company, LLC	\$985.0000	\$985.00
705-17.28 COMPLETE BASE UNIT		
1.000 I		
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$2,195.0000	\$2,195.00
LU, Inc.	\$2,195.0000	\$2,195.00
F8th Construction Company, LLC	\$2,195.0000	\$2,195.00

CONTRACT C	N	١R	1	18
------------	---	----	---	----

	UNIT PRICE	EXTENSION
705-17.29 PLATE WASHER 5/16IN X 2IN X 1FT2IN		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$20.0000	\$20.00
LU, Inc.	\$20.0000	\$20.00
F8th Construction Company, LLC	\$20.0000	\$20.00
705-17.30 BACK-UP POST		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$952.0000	\$952.00
LU, Inc.	\$952.0000	\$952.00
F8th Construction Company, LLC	\$952.0000	\$952.00
705-17.31 FRONT BASEPLATE / POST ASSEMBLY		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$539.7500	\$539.75
LU, Inc.	\$539.7500	\$539.75
F8th Construction Company, LLC	\$539.7500	\$539.75
705-17.36 TRANSITION TO SAFETY SHAPE		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$1,349.0000	\$1,349.00
LU, Inc.	\$1,349.0000	\$1,349.00
F8th Construction Company, LLC	\$1,349.0000	\$1,349.00
705-17.37 TRANSITION TO BARRIER WALL (END CAP)		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$701.2500	\$701.25
LU, Inc.	\$701.2500	\$701.25
F8th Construction Company, LLC	\$701.2500	\$701.25
705-17.40 WIDETRACC LONG WING POST		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$374.0000	\$374.00
LU, Inc.	\$374.0000	\$374.00
F8th Construction Company, LLC	\$374.0000	\$374.00
705-17.41 WIDETRACC SHORT WING POST		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$306.0000	\$306.00
LU, Inc.	\$306.0000	\$306.00
F8th Construction Company, LLC	\$306.0000	\$306.00
705-17.42 WIDETRACC EXT CHANNEL		
1.00	00 EACH	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$743.7500	\$743.75
LU, Inc.	\$743.7500	\$743.75
F8th Construction Company, LLC	\$743.7500	\$743.75

			CONTRACT CNR118
		UNIT PRICE	EXTENSION
705-17.43	WIDETRACC PANEL		
		1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$348.5000	\$348.50
	LU, Inc.	\$348.5000	\$348.50
	F8th Construction Company, LLC	\$348.5000	\$348.50
705-17.90	HEART REPAIR DPHM-L WR BKT		
		1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$102.8500	\$102.85
	LU, Inc.	\$102.8500	\$102.85
	F8th Construction Company, LLC	\$102.8500	\$102.85
705-17.91	HEART CRS-RPR DPH 3-9		
		1.000 EACH	
	Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$412.2500	\$412.25
	LU, Inc.	\$412.2500	\$412.25

F8th Construction Company, LLC

\$412.2500

\$412.25

### **SUB-TOTAL MAINTENANCE**

F8th Construction Company, LLC LU, Inc. Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$772,900.00 \$688,653.60 \$558,119.82
SUB-TOTAL MAINTENANCE CONTINGENCY	
F8th Construction Company, LLC	\$94,444.30
LU, Inc.	\$94,444.30
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$94,444.30
TOTAL CONTRACT	
Site-Safe Products, LLC d/b/a Site-Safe, LLC	\$652,564.12
LU, Inc.	\$783,097.90
F8th Construction Company, LLC	\$867,344.30

## STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MARCH 31, 2017

DECATUR COUNTY	(Contract No.	CNR071	Call 04	<del>1</del> 3)
----------------	---------------	--------	---------	-----------------

The full depth reclamation and paving with bituminous seal coat on S.R	. 114 from the end of the	Tennessee R	River bridge (L.M.	0.12) to S.F	₹. 69 (L.M.
2.15).					

PROJECT LENGTH -

DBE GOAL 4.50%

PROPOSAL REJECTED

No Valid Bids

### DECATUR AND HARDIN COUNTIES (Contract No. CNR004 Call 044)

36125-4205-04,NH/HSIP-114(14),36125-3206-94,36125-8206-14

THE RESURFACING ON U.S. 641 (S.R. 114) FROM S.R. 128 TO THE TENNESSEE RIVER AND REPAIR OF THE BRIDGE OVER THE TENNESSEE RIVER.

PROJECT LENGTH - 2.840 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2017

TOTAL CONTRACT

Delta Contracting Company, LLC

\$1,066,552.15

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNR004  EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Delta Contracting Company, LLC	284.000 S.Y.	\$30.0000	\$8,520.00
203-06	WATER			
	Delta Contracting Company, LLC	8.000 M.G.	\$10.0000	\$80.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (D)			
	Delta Contracting Company, LLC	944.000 TON	\$24.0000	\$22,656.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Delta Contracting Company, LLC	131.000 TON	\$114.0000	\$14,934.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Delta Contracting Company, LLC	26.000 TON	\$800.0000	\$20,800.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Delta Contracting Company, LLC	5,607.000 TON	\$88.0000	\$493,416.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	Delta Contracting Company, LLC	4.550 L.M.	\$2,450.0000	\$11,147.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Delta Contracting Company, LLC	1,540.000 S.Y.	\$12.0000	\$18,480.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
	Delta Contracting Company, LLC	7,050.000 L.F.	\$3.9000	\$27,495.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Delta Contracting Company, LLC	6.000 EACH	\$2,690.0000	\$16,140.00
712-01	TRAFFIC CONTROL			
	Delta Contracting Company, LLC	1.000 LS	\$69,000.0000	\$69,000.00
712-06	SIGNS (CONSTRUCTION)			

416.000 S.F.

Delta Contracting Company, LLC

\$4,160.00

\$10.0000

				CONTRACT CNR004
			UNIT PRICE	EXTENSION
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Delta Contracting Company, LLC	250.000 EACH	\$40.0000	\$10,000.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Delta Contracting Company, LLC	9.000 S.Y.	\$40.0000	\$360.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Delta Contracting Company, LLC	140.000 L.F.	\$20.0000	\$2,800.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Delta Contracting Company, LLC	3.000 EACH	\$200.0000	\$600.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Delta Contracting Company, LLC	4.000 L.M.	\$1,900.0000	\$7,600.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Delta Contracting Company, LLC	9.900 L.M.	\$5,700.0000	\$56,430.00

1.000 LS

\$52,000.0000

717-01

**MOBILIZATION** 

Delta Contracting Company, LLC

\$52,000.00

	(	CONTRACT C	NR004
	UNIT PRICE	EXTEN	SION
BRIDGE CATEGORY			

BRIDGE	CATEGORY		UNIT PRICE	EXTENSION
604-04.02	APPLIED TEXTURE FINISH (EXISTING STRUCTURES)	C 000 S V		
	Delta Contracting Company, LLC	6.000 S.Y.	\$76.0000	\$456.00
604-10.09	CONCRETE			
	Delta Contracting Company, LLC	28.000 C.Y.	\$965.0000	\$27,020.00
604-10.13	CONCRETE SLAB REMOVAL			
	Delta Contracting Company, LLC	1.000 LS	\$48,750.0000	\$48,750.00
604-10.18	REINFORCING STEEL (REPAIRS)			
	Delta Contracting Company, LLC	2,078.000 LB.	\$6.0000	\$12,468.00
604-10.54	CONCRETE REPAIRS	40.000.0.5		
	Delta Contracting Company, LLC	49.000 S.F.	\$728.0000	\$35,672.00
604-10.90	MISCELLANEOUS BRIDGE ITEMS	4.000   0		
	Delta Contracting Company, LLC	1.000 LS	\$8,000.0000	\$8,000.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3	2.000 EACH		
	Delta Contracting Company, LLC	2.000 EACH	\$6,000.0000	\$12,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL	501.000 L.F.		
	Delta Contracting Company, LLC	501.000 E.F.	\$46.0000	\$23,046.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	31.000 EACH		
	Delta Contracting Company, LLC	31.000 EACH	\$50.0000	\$1,550.00
712-04.10	TEMPORARY FLEXIBLE TUBULAR DELINEATOR	75 000 FACIL		
	Delta Contracting Company, LLC	75.000 EACH	\$75.0000	\$5,625.00
712-04.50	PORTABLE BARRIER RAIL DELINEATOR	C 000 FACIL		
	Delta Contracting Company, LLC	6.000 EACH	\$20.0000	\$120.00
712-06	SIGNS (CONSTRUCTION)	224 000 S E		
	Delta Contracting Company, LLC	221.000 S.F.	\$10.0000	\$2,210.00

				CONTRACT CNR004
			UNIT PRICE	EXTENSION
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
	Delta Contracting Company, LLC	6,162.000 L.F.	\$2.4000	\$14,788.80
715-01	ASPHALTIC CONCRETE CURB (4 INCHES)			
	Delta Contracting Company, LLC	3,881.000 L.F.	\$9.8500	\$38,227.85

## **SUB-TOTAL ROADWAY**

Delta Contracting Company, LLC \$836,618.50

## SUB-TOTAL BRIDGE

Delta Contracting Company, LLC \$229,933.65

## **TOTAL CONTRACT**

Delta Contracting Company, LLC \$1,066,552.15

## FAYETTE COUNTY (Contract No. CNR114 Call 045)

STP/HSIP-196(14),24017-3242-94,24017-8242-14

THE RESURFACING ON S.R. 196 FROM POPLAR ACRES ROAD (L.M. 4.72) TO S.R. 193 (L.M. 11.91).

PROJECT LENGTH - 7.190 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

 ${\bf Standard\ Construction\ Company,\ Inc.}$ 

\$1,343,390.30

Lehman-Roberts Company

\$1,428,140.47

CONTRACT C	N	IR	1	14	ŀ
------------	---	----	---	----	---

			C	ONTRACT CNR114
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
202-03 01	REMOVAL OF ASPHALT PAVEMENT			
202-03.01	REMOVAE OF ASPITALT PAVEMENT	1,093.000 S.Y.		
	Standard Construction Company, Inc.	1,000,000 0.11	\$40.3000	\$44,047.90
	Lehman-Roberts Company		\$21.1300	\$23,095.09
203-06	WATER			
	<u>-</u>	20.000 M.G.		
	Standard Construction Company, Inc.		\$15.0000	\$300.00
	Lehman-Roberts Company		\$6.0000	\$120.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (	C OR D)		
		2,643.000 TON		
	Standard Construction Company, Inc.		\$31.1000	\$82,197.30
	Lehman-Roberts Company		\$45.0000	\$118,935.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GI	RADING A		
		503.000 TON		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$116.8000 \$111.0000	\$58,750.40 \$55,833.00
	Lenman-Roberts Company		\$111.0000	φ35,633.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		2.000 TON	•	
	Standard Construction Company, Inc. Lehman-Roberts Company		\$1,750.0000 \$900.0000	\$3,500.00 \$1,800.00
	Zominan resorte company		ψοσο.σσσσ	Ψ1,000.00
405-03.01	PM REJUVENATING SCRUB SEAL			
	Standard Construction Company Inc	109,672.000 S.Y.	\$3.5000	\$383,852.00
	Standard Construction Company, Inc. Lehman-Roberts Company		\$3.3000 \$2.4000	\$263,212.80
				. ,
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	4 700 000 TON		
	Standard Construction Company, Inc.	4,792.000 TON	\$90.8500	\$435,353.20
	Lehman-Roberts Company		\$95.6900	\$458,546.48
/11 <sub>-</sub> 12 03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOU	S) (RIN WIDTH)		
411-12.03	SCOKING FOR KUMBLE STRIFE (NON-CONTINUOU	14.380 L.M.		
	Standard Construction Company, Inc.		\$700.0000	\$10,066.00
	Lehman-Roberts Company		\$588.0000	\$8,455.44
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		936.000 TON		
	Standard Construction Company, Inc.		\$33.6000	\$31,449.60
	Lehman-Roberts Company		\$40.0000	\$37,440.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		16.000 EACH		
	Standard Construction Company, Inc.		\$825.0000	\$13,200.00 \$13,600.00
	Lehman-Roberts Company		\$850.0000	\$13,600.00
				PAGE

				CONTRACT CNR114
			UNIT PRICE	EXTENSION
705-06 20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
703-06.20	TANGENT ENERGY ABSORBING TERM MASH IL-3	16.000 EACH		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$2,750.0000 \$2,860.0000	\$44,000.00 \$45,760.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$19,200.0000 \$70,000.0000	\$19,200.00 \$70,000.00
712-06	SIGNS (CONSTRUCTION)			
		1,440.000 S.F.		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$6.2500 \$6.3500	\$9,000.00 \$9,144.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
		70.000 L.F.		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$19.0000 \$19.2500	\$1,330.00 \$1,347.50
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		500.000 EACH		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$37.5000 \$38.5000	\$18,750.00 \$19,250.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		250.000 EACH		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$21.0000 \$16.7000	\$5,250.00 \$4,175.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		150.000 L.F.		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$15.5000 \$16.0500	\$2,325.00 \$2,407.50
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		3.000 EACH		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$525.0000 \$535.0000	\$1,575.00 \$1,605.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		27.556 L.M.		
	Standard Construction Company, Inc.		\$1,400.0000 \$1,385,0000	\$38,578.40 \$35,400,46
	Lehman-Roberts Company		\$1,285.0000	\$35,409.46
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		10.715 L.M.	<b>#5 700 0000</b>	004.075.50

Standard Construction Company, Inc.

Lehman-Roberts Company

\$61,075.50

\$63,004.20

\$5,700.0000

\$5,880.0000

			CONTRACT CNR114
		UNIT PRICE	EXTENSION
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	14.400 L.M.		
Standard Construction Company, Inc.		\$3,600.0000	\$51,840.00
Lehman-Roberts Company		\$3,750.0000	\$54,000.00
717-01 MOBILIZATION			
	1.000 LS		
Standard Construction Company, Inc.		\$27,750.0000	\$27,750.00
Lehman-Roberts Company		\$141,000.0000	\$141,000.00

## **SUB-TOTAL ROADWAY**

Lehman-Roberts Company	\$1,428,140.47
Standard Construction Company, Inc.	\$1,343,390.30

## TOTAL CONTRACT

Standard Construction Company, Inc.	\$1,343,390.30
Lehman-Roberts Company	\$1,428,140.47

### COUNTIES FAYETTE, LAUDERDALE, AND SHELBY (Contract No. CNR125 Call 046)

98049-4150-04

THE ON-CALL GUARDRAIL REPAIR AND NEW GUARDRAIL INSTALLATION ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2018

TOTAL CONTRACT

F8th Construction Company, LLC RMD Holdings, LTD DBA Nationwide Construction Group Tri-State Guardrail & Sign Co., Inc. \$836,016.00 \$1,218,904.75 \$1,288,258.00

	CONTRACT CNR125
UNIT PRICE	EXTENSION

	UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY		
705-01.01 GUARDRAIL AT BRIDGE ENDS		
	.000 L.F.	
		<b>#</b> 0.040.00
F8th Construction Company, LLC	\$38.0000	\$3,040.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$40.0000	\$3,200.00
Tri-State Guardrail & Sign Co., Inc.	\$68.0000	\$5,440.00
705-01.02 GUARDRAIL AT BRIDGE PIERS		
12	2.000 L.F.	
F8th Construction Company, LLC	\$38.0000	\$456.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$35.0000	\$420.00
Tri-State Guardrail & Sign Co., Inc.	\$68.0000	\$816.00
705-01.04 METAL BEAM GUARD FENCE		
	7000 L F	
	7.000 L.F.	<b>A</b> O 400 00
F8th Construction Company, LLC	\$38.0000	\$2,166.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$40.0000	\$2,280.00
Tri-State Guardrail & Sign Co., Inc.	\$68.0000	\$3,876.00
705-02.01 SINGLE GUARDRAIL, WITH RUB-RAIL (TYPE 2)		
75	5.000 L.F.	
F8th Construction Company, LLC	\$10.0000	\$750.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$20.0000	\$1,500.00
Tri-State Guardrail & Sign Co., Inc.	\$21.0000	\$1,575.00
<b>G</b>		
705-02.02 SINGLE GUARDRAIL (TYPE 2)		
	2001 5	
·	0.000 L.F.	<b>4.7</b> 0.000.00
F8th Construction Company, LLC	\$17.0000	\$170,000.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$18.6500	\$186,500.00
Tri-State Guardrail & Sign Co., Inc.	\$20.0000	\$200,000.00
705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN		
500	.000 EACH	
F8th Construction Company, LLC	\$25.0000	\$12,500.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$475.0000	\$237,500.00
Tri-State Guardrail & Sign Co., Inc.	\$200.0000	\$100,000.00
705-02.20 SINGLE GUARDRAIL (TYPE 2) LONG POST (6 FT-9 FT)		
	1000 L F	
	3.000 L.F.	<b>#00 700 00</b>
F8th Construction Company, LLC	\$14.0000	\$32,732.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$19.0000	\$44,422.00
Tri-State Guardrail & Sign Co., Inc.	\$21.0000	\$49,098.00
705-02.25 SINGLE GUARDRAIL (TYPE 2) LONG POST (9 FT-12 FT)		
2,100	.000 L.F.	
F8th Construction Company, LLC	\$14.0000	\$29,400.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$19.0000	\$39,900.00
Tri-State Guardrail & Sign Co., Inc.	\$22.0000	\$46,200.00

		UNIT PRICE	EXTENSION
705-03.01 MEDIAN DIVIDER GUARDRAIL, WITH RUB-RAIL (	TYPE 2)		
	13.000 L.F.		
F8th Construction Company, LLC		\$20.0000	\$260.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$28.0000	\$364.00
Tri-State Guardrail & Sign Co., Inc.		\$22.0000	\$286.00
705-03.02 MEDIAN DIVIDER GUARDRAIL (TYPE 2)			
	75.000 L.F.		
F8th Construction Company, LLC		\$22.0000	\$1,650.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$22.0000	\$1,650.00
Tri-State Guardrail & Sign Co., Inc.		\$22.0000	\$1,650.00
705-03.03 MEDIAN DIVIDER GUARDRAIL (TYPE 2) (27" MT H	łT)		
	25.000 L.F.		
F8th Construction Company, LLC		\$14.0000	\$350.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$22.0000	\$550.00
Tri-State Guardrail & Sign Co., Inc.		\$22.0000	\$550.00
705-03.04 MEDIAN DIVIDER GUARDRAIL AT CONCRETE BA	ARRIER		
	25.000 L.F.		
F8th Construction Company, LLC		\$14.0000	\$350.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$22.0000	\$550.00
Tri-State Guardrail & Sign Co., Inc.		\$22.0000	\$550.00
705-04.02 GUARDRAIL TERMINAL (TYPE 12)			
	2.000 EACH		
F8th Construction Company, LLC		\$300.0000	\$600.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$300.0000	\$600.00
Tri-State Guardrail & Sign Co., Inc.		\$1,000.0000	\$2,000.00
705-04.03 GUARDRAIL TERMINAL (TYPE 13)			
	6.000 EACH		
F8th Construction Company, LLC		\$400.0000	\$2,400.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$450.0000	\$2,700.00
Tri-State Guardrail & Sign Co., Inc.		\$575.0000	\$3,450.00
705-04.05 GUARDRAIL TERMINAL (TYPE-IN-LINE)			
	5.000 EACH		
F8th Construction Company, LLC		\$400.0000	\$2,000.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$450.0000	\$2,250.00
Tri-State Guardrail & Sign Co., Inc.		\$575.0000	\$2,875.00
705-04.11 STONE FOR GUARDRAIL END TERMINAL PAD			
	1,400.000 TON		
F8th Construction Company, LLC	-	\$5.0000	\$7,000.00
RMD Holdings, LTD DBA Nationwide Construction	on Group	\$8.0000	\$11,200.00
Tri-State Guardrail & Sign Co., Inc.		\$24.0000	\$33,600.00

		LINIT DDIOE	EXTENSION
		UNIT PRICE	EXTENSION
705-04.29 C-A-T CRASH CUSHION ATTENUATING TERMINAL			
705-04.29 C-A-1 CRASH COSHION ATTENDATING TERMINAL	2.000 EACH		
F8th Construction Company, LLC	2.000 EACH	\$1,500.0000	\$3,000.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$2,800.0000	\$5,600.00
Tri-State Guardrail & Sign Co., Inc.		\$5,000.0000	\$10,000.00
can can a can		<b>¥</b> 2,22222	***************************************
705-06.01 W BEAM GR (TYPE 2) MASH TL3			
	125.000 L.F.		
F8th Construction Company, LLC		\$16.0000	\$2,000.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$18.6500	\$2,331.25
Tri-State Guardrail & Sign Co., Inc.		\$23.0000	\$2,875.00
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL3			
	5.000 EACH		
F8th Construction Company, LLC		\$500.0000	\$2,500.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$850.0000	\$4,250.00
Tri-State Guardrail & Sign Co., Inc.		\$1,200.0000	\$6,000.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL3			
705-00.11 OK TEKMINAE (IN-INEINE) MASIT TES	5.000 EACH		
F8th Construction Company, LLC	3.000 EACH	\$500.0000	\$2,500.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$850.0000	\$4,250.00
Tri-State Guardrail & Sign Co., Inc.		\$1,200.0000	\$6,000.00
<b>,</b>		. ,	. ,
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
	208.000 EACH		
F8th Construction Company, LLC		\$2,050.0000	\$426,400.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$2,575.0000	\$535,600.00
Tri-State Guardrail & Sign Co., Inc.		\$2,600.0000	\$540,800.00
705 0C 20 OD TEDMINAL (TVDE 24) MACH TI 2			
705-06.30 GR TERMINAL (TYPE 21) MASH TL2	5 000 FACU		
F8th Construction Company, LLC	5.000 EACH	\$1,500.0000	\$7,500.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$2,575.0000	\$12,875.00
Tri-State Guardrail & Sign Co., Inc.		\$2,500.0000	\$12,500.00
•		. ,	
705-10.30 GUARDRAIL ATTACHMENT TO SLOPE FACE ENDPOST			
	45.000 L.F.		
F8th Construction Company, LLC		\$38.0000	\$1,710.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$49.0000	\$2,205.00
Tri-State Guardrail & Sign Co., Inc.		\$68.0000	\$3,060.00
705 40 24 CHADDDAIL ATTACHMENT TO VERTICAL FACE ENDROCE			
705-10.31 GUARDRAIL ATTACHMENT TO VERTICAL FACE ENDPOST	0.0001.5		
E0th Construction Company LLC	9.000 L.F.	<b>¢20,000</b>	<b>#340.00</b>
F8th Construction Company, LLC RMD Holdings, LTD DBA Nationwide Construction Group		\$38.0000 \$35.0000	\$342.00 \$315.00
Tri-State Guardrail & Sign Co., Inc.		\$68.0000	\$612.00
		<b>430.000</b>	ψο.2.00

			UNIT PRICE	EXTENSION
705-10.32 G	UARDRAIL ATTACHMENT TO EXISTING BRIDGE PIER PROTE	ECTION		
		2.000 EACH		
F8	8th Construction Company, LLC		\$200.0000	\$400.00
R	MD Holdings, LTD DBA Nationwide Construction Group		\$35.0000	\$70.00
Tı	ri-State Guardrail & Sign Co., Inc.		\$1,200.0000	\$2,400.00
706-01 G	UARDRAIL REMOVED			
		350.000 L.F.		
F	8th Construction Company, LLC		\$1.0000	\$350.00
	MD Holdings, LTD DBA Nationwide Construction Group		\$1.0000	\$350.00
	ri-State Guardrail & Sign Co., Inc.		\$8.0000	\$2,800.00
706-02 21 P	ESET SINGLE GUARDRAIL (TYPE 2)			
700-02.21	ESET SINGLE SCANDINALE (TTT E 2)	350.000 L.F.		
F	8th Construction Company, LLC		\$1.0000	\$350.00
	MD Holdings, LTD DBA Nationwide Construction Group		\$2.0000	\$700.00
	ri-State Guardrail & Sign Co., Inc.		\$5.0000	\$1,750.00
''	Totale Guardian & Oigh Co., inc.		ψο.σσσσ	ψ1,730.00
706-03.01 P	OSTS FURNISHED			
		9.000 EACH		
	8th Construction Company, LLC		\$38.0000	\$342.00
	MD Holdings, LTD DBA Nationwide Construction Group		\$95.0000	\$855.00
Tı	ri-State Guardrail & Sign Co., Inc.		\$90.0000	\$810.00
706-06.01 SI	INGLE THRIE RAIL (TYPE 2)			
		25.000 L.F.		
F8	8th Construction Company, LLC		\$22.0000	\$550.00
R	MD Holdings, LTD DBA Nationwide Construction Group		\$28.0000	\$700.00
Tı	ri-State Guardrail & Sign Co., Inc.		\$30.0000	\$750.00
706-06.02 M	EDIAN DIVIDER THRIE RAIL (TYPE 2)			
	····	25.000 L.F.		
F8	8th Construction Company, LLC		\$22.0000	\$550.00
	MD Holdings, LTD DBA Nationwide Construction Group		\$28.0000	\$700.00
	ri-State Guardrail & Sign Co., Inc.		\$35.0000	\$875.00
706-06.03 R	ADILIS RAII			
700-00.03	ADIOO RAIE	175.000 L.F.		
E	9th Capatruction Company II C	175.000 L.F.	0000	\$3,500.00
	8th Construction Company, LLC MD Holdings, LTD DBA Nationwide Construction Group		\$20.0000 \$20.0000	\$3,500.00
	ri-State Guardrail & Sign Co., Inc.		\$30.0000	\$5,250.00 \$5,250.00
11	n-State Guardian & Sign Co., Inc.		φ30.0000	φ3,230.00
706-06.05 R	ADIUS RAIL LONG POST (6-9 FT)			
		38.000 L.F.		
F	8th Construction Company, LLC		\$20.0000	\$760.00
R	MD Holdings, LTD DBA Nationwide Construction Group		\$20.0000	\$760.00
Tı	ri-State Guardrail & Sign Co., Inc.		\$32.0000	\$1,216.00

		UNIT PRICE	EXTENSION
706-06.06 RADIUS RAIL LONG POST (9-12 FT)			
	38.000 L.F.		
F8th Construction Company, LLC		\$20.0000	\$760.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$20.0000	\$760.00
Tri-State Guardrail & Sign Co., Inc.		\$34.0000	\$1,292.00
706-10.26 ROUNDED END ELEMENT			
	12.000 EACH		
F8th Construction Company, LLC		\$30.0000	\$360.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$40.0000	\$480.00
Tri-State Guardrail & Sign Co., Inc.		\$75.0000	\$900.00
706-10.54 RE-ALIGN GUARDRAIL			
	1,050.000 L.F.		
F8th Construction Company, LLC		\$2.0000	\$2,100.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$2.0000	\$2,100.00
Tri-State Guardrail & Sign Co., Inc.		\$5.0000	\$5,250.00
706-10.71 HAZARD MARKERS			
	3.000 EACH		
F8th Construction Company, LLC		\$8.0000	\$24.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$22.5000	\$67.50
Tri-State Guardrail & Sign Co., Inc.		\$24.0000	\$72.00
706-10.72 PULL AND REINSTALL GUARDARAIL POST FOR VERIFICA	ATION		
	3.000 EACH		
F8th Construction Company, LLC		\$38.0000	\$114.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$35.0000	\$105.00
Tri-State Guardrail & Sign Co., Inc.		\$75.0000	\$225.00
706-10.74 CONCRETE BARRIER WALL REPAIR			
	3.000 C.Y.		
F8th Construction Company, LLC		\$1,500.0000	\$4,500.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$1,500.0000	\$4,500.00
Tri-State Guardrail & Sign Co., Inc.		\$3,000.0000	\$9,000.00
706-10.80 MICHIGAN AND MODIFIED MICHIGAN END SHOE			
	3.000 EACH		
F8th Construction Company, LLC		\$100.0000	\$300.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$50.0000	\$150.00
Tri-State Guardrail & Sign Co., Inc.		\$65.0000	\$195.00
706-10.81 GUARDRAIL REFLECTORS			
	30.000 EACH		
F8th Construction Company, LLC		\$5.0000	\$150.00
RMD Holdings, LTD DBA Nationwide Construction Group		\$6.5000	\$195.00
Tri-State Guardrail & Sign Co., Inc.		\$32.0000	\$960.00

## **CONTRACT CNR125**

				CONTRACT CINKT25
			UNIT PRICE	EXTENSION
706-10.82	CONCRETE BRIDGE END OR PIER PROTECTION REPAIR			
		2.000 C.Y.		
	F8th Construction Company, LLC		\$1,500.0000	\$3,000.00
	RMD Holdings, LTD DBA Nationwide Construction Group		\$1,500.0000	\$3,000.00
	Tri-State Guardrail & Sign Co., Inc.		\$3,500.0000	\$7,000.00
706-10.83	DRILL BR. PAR. WALL FOR MICHIGAN END SHOE			
		2.000 EACH		
	F8th Construction Company, LLC		\$100.0000	\$200.00
	RMD Holdings, LTD DBA Nationwide Construction Group		\$200.0000	\$400.00
	Tri-State Guardrail & Sign Co., Inc.		\$350.0000	\$700.00
712-01.02	LANE CLOSURE			
		160.000 EACH		
	F8th Construction Company, LLC		\$250.0000	\$40,000.00
	RMD Holdings, LTD DBA Nationwide Construction Group		\$450.0000	\$72,000.00
	Tri-State Guardrail & Sign Co., Inc.		\$500.0000	\$80,000.00
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
		50.000 DAY		
	F8th Construction Company, LLC		\$1,250.0000	\$62,500.00
	RMD Holdings, LTD DBA Nationwide Construction Group		\$350.0000	\$17,500.00
	Tri-State Guardrail & Sign Co., Inc.		\$1,750.0000	\$87,500.00
717-01	MOBILIZATION			
		1.000 LS		
	F8th Construction Company, LLC		\$1,000.0000	\$1,000.00
	RMD Holdings, LTD DBA Nationwide Construction Group		\$500.0000	\$500.00
	Tri-State Guardrail & Sign Co., Inc.		\$26,000.0000	\$26,000.00
717-01.04	MOBILIZATION (EMERGENCY CALL-OUT)			
		13.000 EACH		
	F8th Construction Company, LLC		\$200.0000	\$2,600.00
	RMD Holdings, LTD DBA Nationwide Construction Group		\$500.0000	\$6,500.00
	Tri-State Guardrail & Sign Co., Inc.		\$1,500.0000	\$19,500.00

## **SUB-TOTAL MAINTENANCE**

Tri-State Guardrail & Sign Co., Inc.	\$1,288,258.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$1,218,904.75
F8th Construction Company, LLC	\$836,016.00

TOTAL CONTRACT	
F8th Construction Company, LLC	\$836,016.00
RMD Holdings, LTD DBA Nationwide Construction Group	\$1,218,904.75
Tri-State Guardrail & Sign Co., Inc.	\$1,288,258.00

### GILES COUNTY (Contract No. CNR089 Call 047)

28009-4210-04, HSIP-129(13), 28009-3210-94

THE RESURFACING ON S.R. 129 FROM U.S. 31 (S.R. 7) (L.M. 0.00) TO THE MARSHALL COUNTY LINE (L.M. 6.65).

PROJECT LENGTH - 6.650 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$799,782.00

ROADW/	AY CATEGORY		UNIT PRICE	CONTRACT CNR089 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	2,560.000 TON	\$23.0000	\$58,880.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-N			
	Rogers Group, Inc.	200.000 TON	\$77.0000	\$15,400.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	51.000 TON	\$600.0000	\$30,600.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Rogers Group, Inc.	5,030.000 TON	\$79.0000	\$397,370.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WID			
	Rogers Group, Inc.	10.700 L.M.	\$600.0000	\$6,420.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	536.000 TON	\$18.0000	\$9,648.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Rogers Group, Inc.	450.000 S.F.	\$36.5000	\$16,425.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)	400 000 1 5		
	Rogers Group, Inc.	100.000 L.F.	\$19.0000	\$1,900.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	00 000 54 011		
	Rogers Group, Inc.	32.000 EACH	\$2,450.0000	\$78,400.00
706-01	GUARDRAIL REMOVED			
	Rogers Group, Inc.	1,262.500 L.F.	\$1.0000	\$1,262.50
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$26,161.0000	\$26,161.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	25 000 5 4 0 1		
	Rogers Group, Inc.	25.000 EACH	\$5.5000	\$137.50

			UNIT PRICE	CONTRACT CNR089  EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
	Rogers Group, Inc.	4.000 EACH	\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	1,882.000 S.F.	\$7.5000	\$14,115.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	Rogers Group, Inc.	1.000 LS	\$400.0000	\$400.00
713-16.20	SIGNS (W4-4P, CROSS TRAFFIC DOES NOT STOP)			
	Rogers Group, Inc.	2.000 EACH	\$100.0000	\$200.00
713-16.50	REMOVE AND REPLACE SIGN (R1-1, STOP SIGN)			
	Rogers Group, Inc.	2.000 EACH	\$280.0000	\$560.00
713-16.51	REMOVE AND REPLACE SIGN (W10-1, HIGHWAY-RAIL GRAD ADVANCED WARNING SIGH)	E CROSSING		
	Rogers Group, Inc.	1.000 EACH	\$325.0000	\$325.00
713-16.52	REMOVE AND REPLACE SIGN (W10-4, HIGHWAY-RAIL GRAD ADVANCED WARNING SIGH)	E CROSSING		
	Rogers Group, Inc.	1.000 EACH	\$325.0000	\$325.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Rogers Group, Inc.	440.000 EACH	\$23.0000	\$10,120.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Rogers Group, Inc.	440.000 EACH	\$11.0000	\$4,840.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING			
	Rogers Group, Inc.	5.000 S.Y.	\$21.0000	\$105.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	115.000 L.F.	\$16.0000	\$1,840.00
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)	0.000 5 1.011		
	Rogers Group, Inc.	2.000 EACH	\$605.0000	\$1,210.00

		UNIT PRICE	CONTRACT CNR089 EXTENSION
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
Rogers Group, Inc.	3.000 EACH	\$460.0000	\$1,380.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
Rogers Group, Inc.	25.000 S.F.	\$26.0000	\$650.00
716-08.05 REMOVAL OF PAVEMENT MARKING (STOP LINE)			
Rogers Group, Inc.	65.000 L.F.	\$6.0000	\$390.00
716-10.30 TRUNCATED DOME DETECTABLE WARNING MAT			
Rogers Group, Inc.	40.000 S.F.	\$55.0000	\$2,200.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Rogers Group, Inc.	10.800 L.M.	\$4,650.0000	\$50,220.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
Rogers Group, Inc.	13.300 L.M.	\$2,320.0000	\$30,856.00
716-13.03 SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)	405 000 1 5		
Rogers Group, Inc.	135.000 L.F.	\$4.0000	\$540.00

1.000 LS

\$36,882.0000

717-01

**MOBILIZATION** 

Rogers Group, Inc.

\$36,882.00

## **SUB-TOTAL ROADWAY**

Rogers Group, Inc. \$799,782.00

## **TOTAL CONTRACT**

Rogers Group, Inc. \$799,782.00

### GILES COUNTY (Contract No. CNR116 Call 048)

HSIP-7(30),28002-3227-94

THE GRADING, DRAINAGE AND PAVING ON U.S. 31 (S.R. 7) FROM UNION HILL ROAD TO MORROW ROAD IN ARDMORE.

PROJECT LENGTH - 1.016 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 15, 2017

**DBE GOAL 10.00%** 

TOTAL CONTRACT

Rogers Group, Inc.

\$2,290,682.00

Civil Constructors, LLC

\$2,551,978.35

			CC	MIRACI CNRII
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Rogers Group, Inc.		\$39,000.0000	\$39,000.00
	Civil Constructors, LLC		\$49,400.0000	\$49,400.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Rogers Group, Inc.		\$21,100.0000	\$21,100.00
	Civil Constructors, LLC		\$112,500.0000	\$112,500.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	,	14,724.000 C.Y.		
	Rogers Group, Inc.		\$4.5000	\$66,258.00
	Civil Constructors, LLC		\$9.6500	\$142,086.60
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
	,	7,838.000 TON		
	Rogers Group, Inc.	.,	\$25.0000	\$195,950.00
	Civil Constructors, LLC		\$22.6000	\$177,138.80
203-04	PLACING AND SPREADING TOPSOIL			
_000.		299.000 C.Y.		
	Rogers Group, Inc.	200.000 0.11.	\$31.0000	\$9,269.00
	Civil Constructors, LLC		\$19.0000	\$5,681.00
203-06	WATER			
203-00	WAILK	168.000 M.G.		
	Rogers Group, Inc.	1001000 111101	\$6.0000	\$1,008.00
	Civil Constructors, LLC		\$8.0000	\$1,344.00
000 40 41	- WAGTE MATERIAL			
203-10.15	5 WASTE MATERIAL	11,999.000 C.Y.		
	Rogers Group, Inc.	11,393.000 G.1.	\$11.0000	\$131,989.00
	Civil Constructors, LLC		\$10.5000	\$125,989.50
209-02.07	7 18" TEMPORARY SLOPE DRAIN	284.000 L.F.		
	Rogers Group, Inc.	204.000 L.I .	\$31.0000	\$8,804.00
	Civil Constructors, LLC		\$21.0000	\$5,964.00
			<del></del>	<b>4</b> 2,02
209-03.20	FILTER SOCK (8 INCH)			
	Danier Orient Inc	1,130.000 L.F.	фо оооо	<b>#0.700.05</b>
	Rogers Group, Inc. Civil Constructors, LLC		\$6.0000 \$2.5500	\$6,780.00 \$2,881.50
	Civil Colistituctors, LLC		φ2.3300	φ∠,001.30
209-05	SEDIMENT REMOVAL			
		512.000 C.Y.		
	Rogers Group, Inc.		\$16.0000 \$40.0000	\$8,192.00
	Civil Constructors, LLC		\$10.0000	\$5,120.00

				CONTRACT CNR116
			UNIT PRICE	EXTENSION
200 00 02	TEMPODADY SILT EENICE (MITH DACKING)			
209-00.02	TEMPORARY SILT FENCE (WITH BACKING)	5,638.000 L.F.		
	Rogers Group, Inc. Civil Constructors, LLC	<u>-</u>	\$4.0000 \$4.8000	\$22,552.00 \$27,062.40
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		6,717.000 L.F.		
	Rogers Group, Inc. Civil Constructors, LLC		\$2.0000 \$2.0000	\$13,434.00 \$13,434.00
209-08.07	ROCK CHECK DAM PER			
		29.000 EACH	<b>#</b> 505,0000	<b>044.045.00</b>
	Rogers Group, Inc. Civil Constructors, LLC		\$505.0000 \$310.0000	\$14,645.00 \$8,990.00
209-08.08	ENHANCED ROCK CHECK DAM			
		19.000 EACH		
	Rogers Group, Inc. Civil Constructors, LLC		\$610.0000 \$450.0000	\$11,590.00 \$8,550.00
209-09.01	SANDBAGS			
		200.000 BAG		
	Rogers Group, Inc. Civil Constructors, LLC		\$5.5000 \$5.6000	\$1,100.00 \$1,120.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		2.000 EACH		
	Rogers Group, Inc. Civil Constructors, LLC		\$2,600.0000 \$505.0000	\$5,200.00 \$1,010.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		8,779.000 TON		
	Rogers Group, Inc. Civil Constructors, LLC		\$20.0000 \$28.5000	\$175,580.00 \$250,201.50
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		2,344.000 TON		
	Rogers Group, Inc. Civil Constructors, LLC		\$31.0000 \$29.2000	\$72,664.00 \$68,444.80
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
		1,595.000 TON		
	Rogers Group, Inc.		\$64.0000	\$102,080.00 \$134,440.00
	Civil Constructors, LLC		\$78.0000	\$124,410.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-N	12		
	Pagara Craup, Inc.	3,916.000 TON	<b>\$64,0000</b>	\$250 624 00

Rogers Group, Inc.

Civil Constructors, LLC

\$250,624.00

\$305,448.00

\$64.0000

\$78.0000

				CONTRACT CNR116
			UNIT PRICE	EXTENSION
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	· ,	17.000 TON		
	Rogers Group, Inc.		\$650.0000	\$11,050.00
	Civil Constructors, LLC		\$825.0000	\$14,025.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		62.000 TON		
	Rogers Group, Inc.		\$32.0000	\$1,984.00
	Civil Constructors, LLC		\$39.0000	\$2,418.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		42.000 TON		
	Rogers Group, Inc.		\$570.0000	\$23,940.00
	Civil Constructors, LLC		\$965.0000	\$40,530.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	1,	559.000 TON		
	Rogers Group, Inc.		\$77.0000	\$120,043.00
	Civil Constructors, LLC		\$110.0000	\$171,490.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)			
		1.700 L.M.		
	Rogers Group, Inc.		\$3,500.0000	\$5,950.00
	Civil Constructors, LLC		\$2,550.0000	\$4,335.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	•	269.000 TON		
	Rogers Group, Inc.		\$16.0000	\$20,304.00
	Civil Constructors, LLC		\$19.6000	\$24,872.40
607-20.01	18" CROSSDRAIN PIPE CULVERT(COLLECTORS & LOCAL ROADS)	•		
		13.000 L.F.		
	Rogers Group, Inc.		\$101.0000	\$1,313.00
	Civil Constructors, LLC		\$250.0000	\$3,250.00
607-20.02	24" CROSSDRAIN PIPE CULVERT(COLLECTORS & LOCAL ROADS)	1		
		9.000 L.F.		
	Rogers Group, Inc.		\$101.0000	\$909.00
	Civil Constructors, LLC		\$350.0000	\$3,150.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
		384.000 L.F.		
	Rogers Group, Inc.		\$36.0000	\$13,824.00
	Civil Constructors, LLC		\$48.0000	\$18,432.00
611-07.31	18IN ENDWALL (SIDE DRAIN)			
		26.000 EACH		
	Rogers Group, Inc.		\$3,500.0000	\$91,000.00
	Civil Constructors, LLC		\$2,200.0000	\$57,200.00

		C	ONTRACT CNR116
		UNIT PRICE	EXTENSION
611-07.32 24IN ENDWALL (SIDE DRAIN)	2.000 EACH		
Rogers Group, Inc.	2.000 EACH	\$5,000.0000	\$10,000.00
Civil Constructors, LLC		\$3,200.0000	\$6,400.00
611-07.34 36IN ENDWALL (SIDE DRAIN)			
	2.000 EACH	<b>#7</b> 000 0000	<b>#44.000.00</b>
Rogers Group, Inc. Civil Constructors, LLC		\$7,000.0000 \$6,500.0000	\$14,000.00 \$13,000.00
OWN CONSTRUCTOR, ELC		ψο,σσσ.σσσσ	Ψ10,000.00
611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1			
	1.000 EACH		
Rogers Group, Inc.		\$2,500.0000	\$2,500.00
Civil Constructors, LLC		\$1,770.0000	\$1,770.00
611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1			
	1.000 EACH		
Rogers Group, Inc.		\$4,100.0000	\$4,100.00
Civil Constructors, LLC		\$2,900.0000	\$2,900.00
621-03.02 18" TEMPORARY DRAINAGE PIPE			
	40.000 L.F.		
Rogers Group, Inc.		\$2.0000	\$80.00
Civil Constructors, LLC		\$29.0000	\$1,160.00
701-02 CONCRETE DRIVEWAY			
701-02 CONORETE BRIVEWAT	5,089.000 S.F.		
Rogers Group, Inc.	•,•••••	\$6.0000	\$30,534.00
Civil Constructors, LLC		\$9.5000	\$48,345.50
705 02 02 SINCLE CHARDDRAIL (TVDE 2)			
705-02.02 SINGLE GUARDRAIL (TYPE 2)	2,900.000 L.F.		
Rogers Group, Inc.	2,300.000 L.I .	\$19.0000	\$55,100.00
Civil Constructors, LLC		\$23.0000	\$66,700.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3	12.000 EACH		
Rogers Group, Inc.	12.000 EACH	\$2,400.0000	\$28,800.00
Civil Constructors, LLC		\$3,000.0000	\$36,000.00
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE			
Rogers Group, Inc.	2,339.000 L.F.	\$3.0000	\$7,017.00
Civil Constructors, LLC		\$3.0000 \$2.0000	\$7,017.00 \$4,678.00
, -		•	. ,
709-05.05 MACHINED RIP-RAP (CLASS A-3)			
	5,584.000 TON	40=	<b>M40 M40 M</b>
Rogers Group, Inc. Civil Constructors, LLC		\$35.0000 \$29.0000	\$195,440.00 \$161,936.00
Olvii Oolisii dolois, EEO		Ψ29.0000	φ101,930.00

				CONTRACT CNR116
			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Pagara Craus Inc	359.000 TON	¢25,0000	¢42 EGE 00
	Rogers Group, Inc. Civil Constructors, LLC		\$35.0000 \$48.0000	\$12,565.00 \$17,232.00
	· ·		·	
711-05.72	SINGLE SLOPE HALF CONCRETE BARRIER WALL			
	Pagara Craup, Inc.	450.000 L.F.	\$16E 0000	¢74.250.00
	Rogers Group, Inc. Civil Constructors, LLC		\$165.0000 \$150.0000	\$74,250.00 \$67,500.00
712-01	TRAFFIC CONTROL			
	Danier Orașie Ira	1.000 LS	<b>\$00.075.0000</b>	<b>\$00.075.00</b>
	Rogers Group, Inc. Civil Constructors, LLC		\$96,275.0000 \$68,250.0000	\$96,275.00 \$68,250.00
	,		,	. ,
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		270.000 EACH		
	Rogers Group, Inc. Civil Constructors, LLC		\$6.0000 \$5.0000	\$1,620.00 \$1,350.00
			•	, ,
712-05.01	WARNING LIGHTS (TYPE A)			
		6.000 EACH	Ф0.0000	Фоо оо
	Rogers Group, Inc. Civil Constructors, LLC		\$6.0000 \$5.0000	\$36.00 \$30.00
712-06	SIGNS (CONSTRUCTION)			
		396.000 S.F.	Ф0.0000	Фо 504 00
	Rogers Group, Inc. Civil Constructors, LLC		\$9.0000 \$7.5000	\$3,564.00 \$2,970.00
	,		·	, ,
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Danier Orașie Ira	96.000 L.F.	<b>#45</b> 0000	Φ4 440 00
	Rogers Group, Inc. Civil Constructors, LLC		\$15.0000 \$12.9000	\$1,440.00 \$1,238.40
712-08.03	ARROW BOARD (TYPE C)			
	Dawara Craum, Inc.	2.000 EACH	¢4 400 0000	<b>#2.200.00</b>
	Rogers Group, Inc. Civil Constructors, LLC		\$1,100.0000 \$925.0000	\$2,200.00 \$1,850.00
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
	Pagara Graup, Inc.	4,950.000 L.F.	<b>\$2,000</b>	<b>644 050 00</b>
	Rogers Group, Inc. Civil Constructors, LLC		\$3.0000 \$2.6000	\$14,850.00 \$12,870.00
				• •
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	Daniera Cararra Iva	66.000 L.F.	<b>#7.000</b>	<b>\$400.00</b>

Rogers Group, Inc.

Civil Constructors, LLC

\$462.00

\$445.50

\$7.0000

\$6.7500

				CONTRACT CNR116
			UNIT PRICE	EXTENSION
713-11.01	"U" SECTION STEEL POSTS			
		840.000 LB.	Ф4.0000	<b>#0.000.00</b>
	Rogers Group, Inc. Civil Constructors, LLC		\$4.0000 \$3.6500	\$3,360.00 \$3,066.00
			40.0000	40,000.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		109.000 LB.		
	Rogers Group, Inc. Civil Constructors, LLC		\$5.0000 \$4.2500	\$545.00 \$463.25
	Olvii Oolistiuotois, EEO		ψ4.2300	ψ+00.20
713-11.21	P POST SLIP BASE			
		4.000 EACH		
	Rogers Group, Inc. Civil Constructors, LLC		\$400.0000 \$370.0000	\$1,600.00 \$1,480.00
	Civil Constructors, LLC		φ370.0000	φ1,400.00
713-11.22	U POST SLIP BASE			
		13.000 EACH		
	Rogers Group, Inc.		\$400.0000	\$5,200.00
	Civil Constructors, LLC		\$370.0000	\$4,810.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		5.000 S.F.		
	Rogers Group, Inc.		\$14.0000	\$70.00
	Civil Constructors, LLC		\$13.0000	\$65.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		217.000 S.F.		
	Rogers Group, Inc.		\$15.0000	\$3,255.00
	Civil Constructors, LLC		\$14.0000	\$3,038.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Rogers Group, Inc.		\$800.0000	\$800.00
	Civil Constructors, LLC		\$525.0000	\$525.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Rogers Group, Inc.		\$7,500.0000	\$15,000.00
	Civil Constructors, LLC		\$6,400.0000	\$12,800.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	. , ,	156.000 EACH		
	Rogers Group, Inc.		\$42.0000	\$6,552.00
	Civil Constructors, LLC		\$40.0000	\$6,240.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		11.000 EACH		
	D O I		£40,0000	<b>#</b> 400.00

Rogers Group, Inc.

Civil Constructors, LLC

\$462.00

\$440.00

\$42.0000

\$40.0000

				CONTRACT CNR116
			UNIT PRICE	EXTENSION
716 02 04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
710-02.04	FLASTIC PAVEMENT MARKING (CHANNELIZATION STRIFING)	8.000 S.Y.		
	Rogers Group, Inc.	0.000 0.1.	\$26.0000	\$208.00
	Civil Constructors, LLC		\$25.0000	\$200.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	(2.0. 2,	107.000 L.F.		
	Rogers Group, Inc.		\$15.0000	\$1,605.00
	Civil Constructors, LLC		\$12.0000	\$1,284.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	,	10.000 EACH		
	Rogers Group, Inc.		\$200.0000	\$2,000.00
	Civil Constructors, LLC		\$175.0000	\$1,750.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		9.200 L.M.		
	Rogers Group, Inc.		\$900.0000	\$8,280.00
	Civil Constructors, LLC		\$835.0000	\$7,682.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		2.600 L.M.		
	Rogers Group, Inc.		\$5,800.0000	\$15,080.00
	Civil Constructors, LLC		\$5,500.0000	\$14,300.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		2.200 L.M.		
	Rogers Group, Inc.		\$3,500.0000	\$7,700.00
	Civil Constructors, LLC		\$3,200.0000	\$7,040.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$99,682.0000	\$99,682.00
	Civil Constructors, LLC		\$94,800.0000	\$94,800.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		5,042.000 S.Y.		
	Rogers Group, Inc.		\$4.0000	\$20,168.00
	Civil Constructors, LLC		\$2.1500	\$10,840.30
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			

1,527.000 S.Y.

2,074.000 L.F.

Rogers Group, Inc.

Rogers Group, Inc.

Civil Constructors, LLC

Civil Constructors, LLC

740-11.01 TEMPORARY SEDIMENT TUBE 8IN

\$6,108.00

\$2,290.50

\$7,259.00

\$4,355.40

\$4.0000

\$1.5000

\$3.5000

\$2.1000

				CONTRACT CNR116
			UNIT PRICE	EXTENSION
801-01	SEEDING (WITH MULCH)			
	<b>,</b>	6.000 UNIT		
	Rogers Group, Inc.		\$110.0000	\$660.00
	Civil Constructors, LLC		\$105.0000	\$630.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		132.000 UNIT		
	Rogers Group, Inc.		\$43.0000	\$5,676.00
	Civil Constructors, LLC		\$42.0000	\$5,544.00
801-02	SEEDING (WITHOUT MULCH)			
		14.000 UNIT		
	Rogers Group, Inc.		\$32.0000	\$448.00
	Civil Constructors, LLC		\$32.0000	\$448.00
801-03	WATER (SEEDING & SODDING)			
		156.000 M.G.		
	Rogers Group, Inc.		\$37.0000	\$5,772.00
	Civil Constructors, LLC		\$37.0000	\$5,772.00
803-01	SODDING (NEW SOD)			
		15,460.000 S.Y.		
	Rogers Group, Inc.		\$3.7500	\$57,975.00
	Civil Constructors, LLC		\$3.6500	\$56,429.00
805-12.02	EROSION CONTROL BLANKET (TYPE II)			
		1,320.000 S.Y.		
	Rogers Group, Inc.		\$1.4000	\$1,848.00
	Civil Constructors, LLC		\$1.3500	\$1,782.00
806-02.03	PROJECT MOWING			
		4.000 CYCL		

Rogers Group, Inc. Civil Constructors, LLC

\$10,400.00

\$10,800.00

\$2,600.0000

\$2,700.0000

## **SUB-TOTAL ROADWAY**

 Civil Constructors, LLC
 \$2,551,978.35

 Rogers Group, Inc.
 \$2,290,682.00

## **TOTAL CONTRACT**

 Rogers Group, Inc.
 \$2,290,682.00

 Civil Constructors, LLC
 \$2,551,978.35

## GREENE COUNTY (Contract No. CNR084 Call 049)

HSIP-349(10),30012-3225-94,30012-4225-04

THE RESURFACING ON S.R. 349 FROM S.R. 340 (L.M. 0.00) TO U.S. 321 (S.R. 35) (L.M. 13.25).

PROJECT LENGTH - 13.250 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Summers-Taylor, Inc.

\$1,132,378.25

APAC-Atlantic, Inc.

\$1,132,932.60

			co	ONTRACT CNR084
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		114.000 TON		
	Summers-Taylor, Inc.		\$725.0000	\$82,650.00
	APAC-Atlantic, Inc.		\$400.0000	\$45,600.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Current are Tender, Inc.	663.000 TON	¢444.0000	Ф <b>7</b> Е 500 00
	Summers-Taylor, Inc. APAC-Atlantic, Inc.		\$114.0000 \$109.0000	\$75,582.00 \$72,267.00
411 <b>-</b> 03 12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
411-03.12	AGO MIA(1 GG+22) THIN EIL 1 D AGI TIAET	7,262.000 TON		
	Summers-Taylor, Inc.	7,202.000 1014	\$88.2500	\$640,871.50
	APAC-Atlantic, Inc.		\$94.5000	\$686,259.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		560.000 L.F.		
	Summers-Taylor, Inc.		\$16.6500	\$9,324.00
	APAC-Atlantic, Inc.		\$21.0000	\$11,760.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
		1.000 EACH		
	Summers-Taylor, Inc. APAC-Atlantic, Inc.		\$650.0000 \$650.0000	\$650.00 \$650.00
705-04 09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
703-04.03	EARTH AD LOK THE 30 OK END TREATMENT	5.000 EACH		
	Summers-Taylor, Inc.		\$1,495.0000	\$7,475.00
	APAC-Atlantic, Inc.		\$1,550.0000	\$7,750.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		5.000 EACH		
	Summers-Taylor, Inc.		\$2,630.0000 \$2,700.0000	\$13,150.00 \$13,500.00
	APAC-Atlantic, Inc.		\$2,700.0000	\$13,500.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Summers-Taylor, Inc.	1.000 LS	\$27,300.0000	\$27,300.00
	APAC-Atlantic, Inc.		\$15,000.0000	\$15,000.00
712-06	SIGNS (CONSTRUCTION)			
	,	667.000 S.F.		
	Summers-Taylor, Inc.		\$8.5000	\$5,669.50
	APAC-Atlantic, Inc.		\$4.8000	\$3,201.60
713-16.20	SIGNS (OM-3)			
		11.000 EACH		
	Summers-Taylor, Inc.		\$395.0000	\$4,345.00
	APAC-Atlantic, Inc.		\$160.0000	\$1,760.00

			CONTRACT CNR084
		UNIT PRICE	EXTENSION
716-01 21 Snwn	plwble Pvmt Mrkrs (Bi-Dir)(1 Color)		
710-01.21 Onwp	Simple 1 vine minis (B1-Bit)(1 GGIGI)	875.000 EACH	
Sumn	mers-Taylor, Inc.	\$25.0000	\$21,875.00
APAC	C-Atlantic, Inc.	\$25.0000	\$21,875.00
716-01.30 REMO	OVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
		875.000 EACH	
Sumn	mers-Taylor, Inc.	\$6.7500	\$5,906.25
APAC	C-Atlantic, Inc.	\$6.8000	\$5,950.00
716-02.05 PLAS	STIC PAVEMENT MARKING (STOP LINE)		
		800.000 L.F.	
Sumn	mers-Taylor, Inc.	\$9.5000	\$7,600.00
APAC	C-Atlantic, Inc.	\$9.0000	\$7,200.00
716-04.03 PLAS	STIC PAVEMENT MARKING (4" DOTTED LINE)		
		100.000 L.F.	
Sumn	mers-Taylor, Inc.	\$1.5000	\$150.00
APAC	C-Atlantic, Inc.	\$1.4000	\$140.00
716-05.01 PAIN	ITED PAVEMENT MARKING (4" LINE)		
		13.000 L.M.	
Sumn	mers-Taylor, Inc.	\$495.0000	\$6,435.00
APAC	C-Atlantic, Inc.	\$540.0000	\$7,020.00
716-12.02 ENHA	ANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
		53.000 L.M.	
Sumn	mers-Taylor, Inc.	\$3,715.0000	\$196,895.00
APAC	C-Atlantic, Inc.	\$4,000.0000	\$212,000.00
717-01 MOBI	ILIZATION		
		1.000 LS	
Sumn	mers-Taylor, Inc.	\$26,500.0000	\$26,500.00
APAC	C-Atlantic, Inc.	\$21,000.0000	\$21,000.00

APAC-Atlantic, Inc.	\$1,132,932.60
Summers-Taylor, Inc.	\$1,132,378.25

# **TOTAL CONTRACT**

Summers-Taylor, Inc.	\$1,132,378.25
APAC-Atlantic, Inc.	\$1,132,932.60

#### HAMBLEN COUNTY (Contract No. CNR096 Call 050)

NH/HSIP-34(110),32004-3227-94,32004-8227-14

THE RESURFACING ON U.S. 11E (S.R. 34) FROM NEAR WALTERS DRIVE (L.M. 7.09) TO NEAR THE U.S. 25E (S.R. 32) OVERPASS (L.M. 11.13).

PROJECT LENGTH - 4.040 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 15, 2017

DBE GOAL 2.50%

TOTAL CONTRACT

APAC-Atlantic, Inc. \$1,656,785.20

			UNIT PRICE	CONTRACT CNR096  EXTENSION
ROADW	AY CATEGORY			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	APAC-Atlantic, Inc.	58.000 TON	\$400.0000	\$23,200.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	162.000 TON		
	APAC-Atlantic, Inc.	102.000 TON	\$140.0000	\$22,680.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	APAC-Atlantic, Inc.	8,710.000 TON	\$94.3000	\$821,353.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	0 C40 000 TON		
	APAC-Atlantic, Inc.	8,619.000 TON	\$20.3000	\$174,965.70
701-02.01	CONCRETE CURB RAMP (RETROFIT)	100.000 S.F.		
	APAC-Atlantic, Inc.		\$50.0000	\$5,000.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)	40		
	APAC-Atlantic, Inc.	185.000 L.F.	\$2.8000	\$518.00
705-04.07	TAN ENERGY ABSORBING TERM (NCHRP 350, TL3)			
	APAC-Atlantic, Inc.	1.000 EACH	\$2,550.0000	\$2,550.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	4 000 5 4 011		
	APAC-Atlantic, Inc.	1.000 EACH	\$1,200.0000	\$1,200.00
706-01	GUARDRAIL REMOVED	05.0001.5		
	APAC-Atlantic, Inc.	65.000 L.F.	\$1.0000	\$65.00
712-01	TRAFFIC CONTROL			
	APAC-Atlantic, Inc.	1.000 LS	\$55,000.0000	\$55,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	APAC-Atlantic, Inc.	314.000 EACH	\$5.5000	\$1,727.00
712-05.01	WARNING LIGHTS (TYPE A)			
	APAC-Atlantic, Inc.	157.000 EACH	\$5.5000	\$863.50

			UNIT PRICE	CONTRACT CNR096  EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	APAC-Atlantic, Inc.	1,620.000 S.F.	\$7.5000	\$12,150.00
712-08.03	ARROW BOARD (TYPE C)			
	APAC-Atlantic, Inc.	2.000 EACH	\$1,000.0000	\$2,000.00
713-16.20	SIGNS (W10-1)			
	APAC-Atlantic, Inc.	2.000 EACH	\$300.0000	\$600.00
713-16.21	SIGNS (W10-3)			
	APAC-Atlantic, Inc.	2.000 EACH	\$300.0000	\$600.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)	504 000 FACU		
	APAC-Atlantic, Inc.	594.000 EACH	\$31.0000	\$18,414.00
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)	505 000 54 011		
	APAC-Atlantic, Inc.	585.000 EACH	\$31.0000	\$18,135.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)	4 000 000 1 5		
	APAC-Atlantic, Inc.	1,000.000 L.F.	\$8.8000	\$8,800.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	4 000 000 O V		
	APAC-Atlantic, Inc.	1,600.000 S.Y.	\$15.0000	\$24,000.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	4 500 000 1 5		
	APAC-Atlantic, Inc.	1,500.000 L.F.	\$10.0000	\$15,000.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	440 000 54011		
	APAC-Atlantic, Inc.	110.000 EACH	\$135.0000	\$14,850.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)	00 000 1 5		
	APAC-Atlantic, Inc.	20.000 L.F.	\$2.2000	\$44.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK			
	APAC-Atlantic, Inc.	500.000 L.F.	\$20.0000	\$10,000.00

			UNIT PRICE	CONTRACT CNR096 EXTENSION
716-03.02 F	PLASTIC WORD PAVEMENT MARKING (RXR)			
A	APAC-Atlantic, Inc.	2.000 EACH	\$385.0000	\$770.00
716-03.04 F	PLASTIC WORD PAVEMENT MARKING (SCHOOL)			
A	APAC-Atlantic, Inc.	4.000 EACH	\$220.0000	\$880.00
716-04.01 F	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
A	APAC-Atlantic, Inc.	3.000 EACH	\$220.0000	\$660.00
716-04.03 F	PLASTIC PAVEMENT MARKING (4" DOTTED LINE)			
A	APAC-Atlantic, Inc.	760.000 L.F.	\$1.0000	\$760.00
716-05.01 F	PAINTED PAVEMENT MARKING (4" LINE)			
A	APAC-Atlantic, Inc.	20.000 L.M.	\$500.0000	\$10,000.00
716-12.02 E	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
A	APAC-Atlantic, Inc.	20.000 L.M.	\$4,000.0000	\$80,000.00
717-01 N	MOBILIZATION			
A	APAC-Atlantic, Inc.	1.000 LS	\$100,000.0000	\$100,000.00
730-14.02	SAW SLOT			
A	APAC-Atlantic, Inc.	100,000.000 L.F.	\$1.5000	\$150,000.00

200,000.000 L.F.

730-14.03 LOOP WIRE

APAC-Atlantic, Inc.

\$80,000.00

\$0.4000

APAC-Atlantic, Inc. \$1,656,785.20

# **TOTAL CONTRACT**

APAC-Atlantic, Inc. \$1,656,785.20

### HAMILTON COUNTY (Contract No. CNR133 Call 051)

NH/HSIP-153(11),33052-3250-94,33052-8250-14

THE RESURFACING ON S.R. 153 FROM THE CHICKAMAUGA DAM BRIDGE (L.M. 7.11) TO THE S.R. 319 BRIDGE (L.M. 8.89).

PROJECT LENGTH - 1.780 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

 $\label{thm:construction} \mbox{Wright Brothers Construction Company, Inc.}$ 

\$1,442,722.18

Talley Construction Company, Inc.

\$1,775,109.99

	CON	JTRAC1	Γ CNR133	Š
--	-----	--------	----------	---

			CC	ONTRACT CNR133
BOADW.	AY CATEGORY		UNIT PRICE	EXTENSION
ROADW	AT CATEGORT			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		118.000 TON		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$55.0000 \$67.5400	\$6,490.00 \$7,969.72
307-01.15	5 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		1,791.000 TON		
	Wright Brothers Construction Company, Inc.		\$85.7500	\$153,578.25
	Talley Construction Company, Inc.		\$103.5400	\$185,440.14
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRAD	ING A		
		122.000 TON		
	Wright Brothers Construction Company, Inc.		\$151.5000	\$18,483.00
	Talley Construction Company, Inc.		\$223.5200	\$27,269.44
403-02.01	TRACKLESS TACK COAT			
		76.000 TON		
	Wright Brothers Construction Company, Inc.		\$840.0000	\$63,840.00
	Talley Construction Company, Inc.		\$1,086.7600	\$82,593.76
407-20.05	S SAW CUTTING ASPHALT PAVEMENT			
		400.000 L.F.		
	Wright Brothers Construction Company, Inc.	400.000 E.I. I	\$2.7100	\$1,084.00
	Talley Construction Company, Inc.		\$5.7500	\$2,300.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		1,148.000 TON		
	Wright Brothers Construction Company, Inc.	,	\$84.0000	\$96,432.00
	Talley Construction Company, Inc.		\$119.8100	\$137,541.88
411-02.10	ACS MIX(PG70-22) GRADING D			
		6,129.000 TON		
	Wright Brothers Construction Company, Inc.	•	\$102.0000	\$625,158.00
	Talley Construction Company, Inc.		\$105.8000	\$648,448.20
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WID	ТН)		
		1.600 L.M.		
	Wright Brothers Construction Company, Inc.		\$1,969.0000	\$3,150.40
	Talley Construction Company, Inc.		\$1,725.0000	\$2,760.00
415-01.02	2 COLD PLANING BITUMINOUS PAVEMENT			
		120,775.000 S.Y.		
	Wright Brothers Construction Company, Inc.	,	\$1.5600	\$188,409.00
	Talley Construction Company, Inc.		\$2.0900	\$252,419.75
611-07.31	18IN ENDWALL (SIDE DRAIN)			
	•	4.000 EACH		
	Wright Brothers Construction Company, Inc.		\$2,589.0000	\$10,356.00
	Talley Construction Company, Inc.		\$2,300.0000	\$9,200.00
				PAGE
				FAGE

				DIVINACI CINKIS
			UNIT PRICE	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		105.000 S.F.		
	Wright Brothers Construction Company, Inc.		\$37.9000	\$3,979.50
	Talley Construction Company, Inc.		\$40.2500	\$4,226.25
702-03	CONCRETE COMBINED CURB & GUTTER			
		1.500 C.Y.		
	Wright Brothers Construction Company, Inc.		\$542.0000	\$813.00
	Talley Construction Company, Inc.		\$575.0000	\$862.50
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
	( ,	88.000 L.F.		
	Wright Brothers Construction Company, Inc.	00.000 E.I .	\$20.6000	\$1,812.80
	Talley Construction Company, Inc.		\$20.8500	\$1,922.80
705-06 20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
703-00.20	TANGENT ENERGY ADSORDING TERM MAGIT TE-3	2.000 EACH		
	Wright Brothers Construction Company Inc	2.000 EACH	<b>#0.700.0000</b>	ФГ <b>Г</b> О4 ОО
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$2,762.0000 \$2,932.5000	\$5,524.00 \$5,865.00
	railey Construction Company, Inc.		φ2,932.3000	φ5,805.00
705-07.11	TRUCK MOUNTED ENERGY ATTENUATOR			
		2.000 EACH		
	Wright Brothers Construction Company, Inc.		\$10,825.0000	\$21,650.00
	Talley Construction Company, Inc.		\$25,875.0000	\$51,750.00
706-01	GUARDRAIL REMOVED			
		100.000 L.F.		
	Wright Brothers Construction Company, Inc.		\$2.1700	\$217.00
	Talley Construction Company, Inc.		\$2.3000	\$230.00
706-05	GUARDRAIL ADJUSTMENT			
		3,136.000 L.F.		
	Wright Brothers Construction Company, Inc.	,	\$2.0000	\$6,272.00
	Talley Construction Company, Inc.		\$2.1300	\$6,679.68
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Wright Brothers Construction Company, Inc.		\$59,650.0000	\$59,650.00
	Talley Construction Company, Inc.		\$110,000.0000	\$110,000.00
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
7 12 04.01	LEADEL BROMO (GRANNELIZINO)	91.000 EACH		
	Wright Brothers Construction Company, Inc.	31.000 EAGI1	\$5.4000	\$491.40
	Talley Construction Company, Inc.		\$5.7500	\$523.25
712-05 04	WARNING LIGHTS (TYPE A)			
112-03.01	TAMANO LIGHTO (THE A)	12.000 EACH		
	Wright Brothers Construction Company, Inc.	12.000 EAGH	\$2.1700	\$26.04
	Talley Construction Company, Inc.		\$2.1700	\$26.04 \$27.60
	.a, Contraction Company, mo.		Ψ2.0000	Ψ21.00

CONTRACT CNR1	133
---------------	-----

			•	CONTRACT CIRTS
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
		1,078.000 S.F.		
	Wright Brothers Construction Company, Inc.	·	\$6.5000	\$7,007.00
	Talley Construction Company, Inc.		\$6.9000	\$7,438.20
712-08.03	ARROW BOARD (TYPE C)			
		5.000 EACH		
	Wright Brothers Construction Company, Inc.		\$867.0000	\$4,335.00
	Talley Construction Company, Inc.		\$920.0000	\$4,600.00
713-02.11	REMOVAL OF EXISTING DELINEATORS			
		72.000 EACH		
	Wright Brothers Construction Company, Inc.		\$10.8500	\$781.20
	Talley Construction Company, Inc.		\$11.5000	\$828.00
713-02.25	MEDIAN BARRIER DELINEATOR (DOUBLE)			
	, ,	66.000 EACH		
	Wright Brothers Construction Company, Inc.	00.000 =/.011	\$14.1000	\$930.60
	Talley Construction Company, Inc.		\$14.9500	\$986.70
713-02.30	FLEXIBLE TUBULAR DELINEATOR			
		6.000 EACH		
	Wright Brothers Construction Company, Inc.		\$36.8000	\$220.80
	Talley Construction Company, Inc.		\$39.1000	\$234.60
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		3.000 EACH		
	Wright Brothers Construction Company, Inc.		\$4,875.0000	\$14,625.00
	Talley Construction Company, Inc.		\$5,175.0000	\$15,525.00
713-16.20	SIGNS (YIELD, R1-2, 36"x36", SIGN, POST & INSTALL.)			
		1.000 EACH		
	Wright Brothers Construction Company, Inc.		\$217.0000	\$217.00
	Talley Construction Company, Inc.		\$230.0000	\$230.00
713-16.21	SIGNS (CHEVRON, W1-8, 16"x24", SIGN, POST & INSTALL.)			
		8.000 EACH		
	Wright Brothers Construction Company, Inc.		\$195.0000	\$1,560.00
	Talley Construction Company, Inc.		\$207.0000	\$1,656.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		120.000 EACH		
	Wright Brothers Construction Company, Inc.		\$26.0000	\$3,120.00
	Talley Construction Company, Inc.		\$34.5000	\$4,140.00
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
		490.000 EACH		
	Wright Brothers Construction Company, Inc.		\$26.0000	\$12,740.00
	Talley Construction Company, Inc.		\$34.5000	\$16,905.00

			C	ONIKACI CIKI33
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		170.000 S.Y.		
	Wright Brothers Construction Company, Inc.		\$16.5000	\$2,805.00
	Talley Construction Company, Inc.		\$17.5400	\$2,981.80
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		410.000 L.F.		
	Wright Brothers Construction Company, Inc.		\$9.2000	\$3,772.00
	Talley Construction Company, Inc.		\$9.7800	\$4,009.80
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	,	33.000 EACH		
	Wright Brothers Construction Company, Inc.	COLOGO EXTOR	\$135.5000	\$4,471.50
	Talley Construction Company, Inc.		\$143.7500	\$4,743.75
	railey construction company, inc.		ψ143.7300	ψ+,7+0.70
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		43.000 L.F.		
	Wright Brothers Construction Company, Inc.		\$1.6300	\$70.09
	Talley Construction Company, Inc.		\$5.7500	\$247.25
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
		410.000 L.F.		
	Wright Brothers Construction Company, Inc.		\$17.8500	\$7,318.50
	Talley Construction Company, Inc.		\$18.9800	\$7,781.80
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		9.000 EACH		
	Wright Brothers Construction Company, Inc.	0.000 =	\$189.5000	\$1,705.50
	Talley Construction Company, Inc.		\$201.2500	\$1,811.25
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
		3.000 EACH		
	Wright Brothers Construction Company, Inc.		\$179.0000	\$537.00
	Talley Construction Company, Inc.		\$189.7500	\$569.25
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		9.000 EACH		
	Wright Brothers Construction Company, Inc.		\$135.5000	\$1,219.50
	Talley Construction Company, Inc.		\$143.7500	\$1,293.75
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		70.000 S.F.		
	Wright Brothers Construction Company, Inc.		\$10.8500	\$759.50
	Talley Construction Company, Inc.		\$11.5000	\$805.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	- (,	17.000 L.M.		
	Wright Brothers Construction Company, Inc.	I I IVVV LIIII	\$639.0000	\$10,863.00
	Talley Construction Company, Inc.		\$678.5000	\$10,863.00 \$11,534.50
	. a.s., Sonoradan Company, mo.		ψο. σ.σσσσ	ψ11,00π.00

ITRACT	

				CONTRACT	CNR133
			UNIT PRICE	EXT	ENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		9.100 L.M.			
	Wright Brothers Construction Company, Inc.		\$4,198.0000	\$38	3,201.80
	Talley Construction Company, Inc.		\$4,456.2500	\$40	0,551.88
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIE	R LINE)			
		2,850.000 L.F.			
	Wright Brothers Construction Company, Inc.		\$1.9500	\$5	5,557.50
	Talley Construction Company, Inc.		\$2.0700	\$5	5,899.50
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED	LINE)			
		2,731.000 L.F.			
	Wright Brothers Construction Company, Inc.		\$1.9000	\$5	5,188.90
	Talley Construction Company, Inc.		\$2.0100	\$5	5,489.31
717-01	MOBILIZATION				
		1.000 LS			
	Wright Brothers Construction Company, Inc.		\$36,000.0000	\$36	6,000.00
	Talley Construction Company, Inc.		\$85,000.0000	\$85	5,000.00
730-14.02	SAW SLOT				
		1,605.000 L.F.			
	Wright Brothers Construction Company, Inc.		\$4.4200	\$7	7,094.10
	Talley Construction Company, Inc.		\$4.6000	\$7	7,383.00
730-14.03	LOOP WIRE				
		7,646.000 L.F.			
	Wright Brothers Construction Company, Inc.	·	\$0.5500	\$4	4,205.30
	Talley Construction Company, Inc.		\$0.5800	\$4	1,434.68

Talley Construction Company, Inc.	\$1,775,109.99
Wright Brothers Construction Company, Inc.	\$1,442,722.18

# TOTAL CONTRACT

Wright Brothers Construction Company, Inc.	\$1,442,722.18
Talley Construction Company, Inc.	\$1,775,109.99

#### HAMILTON COUNTY (Contract No. CNR109 Call 052)

NH/HSIP-29(103),33036-3290-94,33036-8290-14

THE RESURFACING ON U.S. 27 (S.R. 29) FROM SOUTH OF THE BRIDGE OVER SALE CREEK (L.M. 28.25) TO THE RHEA COUNTY LINE (L.M. 30.84).

PROJECT LENGTH - 2.590 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

**DBE GOAL 3.50%** 

TOTAL CONTRACT

Rogers Group, Inc.\$1,223,697.00Talley Construction Company, Inc.\$1,407,057.77Wright Brothers Construction Company, Inc.\$1,498,570.69

			Co	ONTRACT CNR109
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
303-01	MINEDAL ACCRECATE TYPE A DASE CRADING D			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	1,165.000 TON		
	Rogers Group, Inc.	1,100.000 1011	\$32.6600	\$38,048.90
	Talley Construction Company, Inc.		\$31.6800	\$36,907.20
	Wright Brothers Construction Company, Inc.		\$40.0000	\$46,600.00
307-01.15	S ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		421.000 TON		
	Rogers Group, Inc.		\$105.0900	\$44,242.89
	Talley Construction Company, Inc.		\$94.4500	\$39,763.45
	Wright Brothers Construction Company, Inc.		\$102.0000	\$42,942.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		63.000 TON		
	Rogers Group, Inc.		\$430.0000	\$27,090.00
	Talley Construction Company, Inc.		\$584.4900	\$36,822.87
	Wright Brothers Construction Company, Inc.		\$500.0000	\$31,500.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		2,055.000 TON		
	Rogers Group, Inc.		\$69.9000	\$143,644.50
	Talley Construction Company, Inc.		\$79.8700	\$164,132.85 \$467,483.50
	Wright Brothers Construction Company, Inc.		\$81.5000	\$167,482.50
411-02.10	ACS MIX(PG70-22) GRADING D			
		7,709.000 TON		
	Rogers Group, Inc.		\$81.5400	\$628,591.86
	Talley Construction Company, Inc.		\$92.5300	\$713,313.77
	Wright Brothers Construction Company, Inc.		\$101.2500	\$780,536.25
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		1.500 L.M.		
	Rogers Group, Inc.		\$616.0000	\$924.00
	Talley Construction Company, Inc.		\$615.2500 \$710,0000	\$922.88
	Wright Brothers Construction Company, Inc.		\$710.0000	\$1,065.00
411-12.02	2 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		4.200 L.M.	<b>A.</b>	<b>**</b>
	Rogers Group, Inc.		\$616.0000	\$2,587.20
	Talley Construction Company, Inc.		\$615.2500 \$710,0000	\$2,584.05
	Wright Brothers Construction Company, Inc.		\$710.0000	\$2,982.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		2,054.000 TON	_	

Rogers Group, Inc.

Talley Construction Company, Inc.

Wright Brothers Construction Company, Inc.

\$27,831.70

\$50,610.56

\$51,966.20

\$13.5500

\$24.6400 \$25.3000

				MINACI CINNIUS
			UNIT PRICE	EXTENSION
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		96,027.000 S.Y.		
	Rogers Group, Inc.		\$1.1000	\$105,629.70
	Talley Construction Company, Inc.		\$1.7200	\$165,166.44
	Wright Brothers Construction Company, Inc.		\$1.6200	\$155,563.74
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		3.000 EACH		
	Rogers Group, Inc.		\$3,023.0000	\$9,069.00
	Talley Construction Company, Inc.		\$2,621.5000	\$7,864.50
	Wright Brothers Construction Company, Inc.		\$2,643.0000	\$7,929.00
706-01	GUARDRAIL REMOVED			
		150.000 L.F.		
	Rogers Group, Inc.		\$0.8000	\$120.00
	Talley Construction Company, Inc.		\$0.8000	\$120.00
	Wright Brothers Construction Company, Inc.		\$0.8100	\$121.50
706-05	GUARDRAIL ADJUSTMENT			
		8,500.000 L.F.		
	Rogers Group, Inc.		\$1.5500	\$13,175.00
	Talley Construction Company, Inc.		\$1.5500	\$13,175.00
	Wright Brothers Construction Company, Inc.		\$1.5600	\$13,260.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$25,675.0000	\$25,675.00
	Talley Construction Company, Inc.		\$38,000.0000	\$38,000.00
	Wright Brothers Construction Company, Inc.		\$48,035.0000	\$48,035.00
712-04.02	P FLEXIBLE DRUMS (CHANNELIZATION)			
		150.000 EACH		
	Rogers Group, Inc.		\$30.7000	\$4,605.00
	Talley Construction Company, Inc.		\$25.6800	\$3,852.00
	Wright Brothers Construction Company, Inc.		\$10.8000	\$1,620.00
712-05.01	WARNING LIGHTS (TYPE A)			
		6.000 EACH		
	Rogers Group, Inc.		\$16.1500	\$96.90
	Talley Construction Company, Inc.		\$16.0500	\$96.30
	Wright Brothers Construction Company, Inc.		\$5.4000	\$32.40
712-05.03	WARNING LIGHTS (TYPE C)			
		40.000 EACH		
	Rogers Group, Inc.		\$16.1500	\$646.00
	Talley Construction Company, Inc.		\$16.0500	\$642.00
	Wright Brothers Construction Company, Inc.		\$5.4000	\$216.00

CONTRACT CNR109
-----------------

			UNIT PRICE	EXTENSION
			UNIT FRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	· ·	558.000 S.F.		
	Rogers Group, Inc.		\$8.3500	\$4,659.30
	Talley Construction Company, Inc.		\$7.4900	\$4,179.42
	Wright Brothers Construction Company, Inc.		\$6.4500	\$3,599.10
712-08 03	ARROW BOARD (TYPE C)			
1 12 00.00	, , , , , , , , , , , , , , , , , , ,	2.000 EACH		
	Rogers Group, Inc.		\$2,126.3000	\$4,252.60
	Talley Construction Company, Inc.		\$642.0000	\$1,284.00
	Wright Brothers Construction Company, Inc.		\$998.0000	\$1,996.00
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	- (	120.000 EACH		
	Rogers Group, Inc.		\$42.5000	\$5,100.00
	Talley Construction Company, Inc.		\$42.8000	\$5,136.00
	Wright Brothers Construction Company, Inc.		\$35.6000	\$4,272.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Rogers Group, Inc.		\$2,692.0000	\$5,384.00
	Talley Construction Company, Inc.		\$1,498.0000	\$2,996.00
	Wright Brothers Construction Company, Inc.		\$5,179.0000	\$10,358.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		248.000 EACH		
	Rogers Group, Inc.		\$32.0000	\$7,936.00
	Talley Construction Company, Inc.		\$32.1000	\$7,960.80
	Wright Brothers Construction Company, Inc.		\$25.9000	\$6,423.20
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
		342.000 EACH		
	Rogers Group, Inc.		\$32.0000	\$10,944.00
	Talley Construction Company, Inc.		\$32.1000	\$10,978.20
	Wright Brothers Construction Company, Inc.		\$25.9000	\$8,857.80
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		50.000 L.F.		
	Rogers Group, Inc.		\$10.3000	\$515.00
	Talley Construction Company, Inc.		\$10.4300	\$521.50
	Wright Brothers Construction Company, Inc.		\$10.5000	\$525.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		11.000 EACH		
	Rogers Group, Inc.		\$132.0000	\$1,452.00
	Talley Construction Company, Inc.		\$133.7500	\$1,471.25
	Wright Brothers Construction Company, Inc.		\$135.0000	\$1,485.00

			UNIT PRICE	CONTRACT CNR109 EXTENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		27.900 L.M.		
	Rogers Group, Inc.		\$607.0000	\$16,935.30
	Talley Construction Company, Inc.		\$615.2500	\$17,165.48
	Wright Brothers Construction Company, Inc.		\$620.0000	\$17,298.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		15.000 L.M.		
	Rogers Group, Inc.		\$4,038.0000	\$60,570.00
	Talley Construction Company, Inc.		\$4,092.7500	\$61,391.25
	Wright Brothers Construction Company, Inc.		\$4,127.0000	\$61,905.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$33,971.1500	\$33,971.15
				_

\$20,000.0000

\$30,000.0000

\$20,000.00

\$30,000.00

Talley Construction Company, Inc.

Wright Brothers Construction Company, Inc.

Wright Brothers Construction Company, Inc.	\$1,498,570.69
Talley Construction Company, Inc.	\$1,407,057.77
Rogers Group, Inc.	\$1,223,697.00

# **TOTAL CONTRACT**

Rogers Group, Inc.	\$1,223,697.00
Talley Construction Company, Inc.	\$1,407,057.77
Wright Brothers Construction Company, Inc.	\$1,498,570.69

#### HANCOCK COUNTY (Contract No. CNR098 Call 053)

STP/HSIP-63(61),34037-3224-94,34037-8224-14,STP/HSIP-66(51),34002-3214-94,34002-8214-14

THE RESURFACING ON S.R. 66 FROM THE HAWKINS COUNTY LINE TO NEAR THE CLINCH RIVER AND ON S.R. 63 FROM NEAR MULBERRY GAP ROAD TO S.R. 33.

PROJECT LENGTH - 11.700 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2017

DBE GOAL 2.50%

	TOTAL CONTRACT
Duracap Asphalt Paving Co., Inc.	\$1,557,428.29
Rogers Group, Inc.	\$1,568,511.18
W-L Construction & Paving, Inc.	\$1,675,533.59

			co	ONTRACT CNR098
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		100.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$40.0000	\$4,000.00
	Rogers Group, Inc.		\$56.4800	\$5,648.00
	W-L Construction & Paving, Inc.		\$68.5100	\$6,851.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		80.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$680.0000	\$54,400.00
	Rogers Group, Inc.		\$435.0000	\$34,800.00
	W-L Construction & Paving, Inc.		\$518.9800	\$41,518.40
411-01.0	7 ACS MIX (PG64-22) GRADING E SHOULDER			
		481.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$100.4800	\$48,330.88
	Rogers Group, Inc.		\$109.6500	\$52,741.65
	W-L Construction & Paving, Inc.		\$94.9000	\$45,646.90
411-01.10	0 ACS MIX(PG64-22) GRADING D			
		5,117.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$93.5000	\$478,439.50
	Rogers Group, Inc.		\$96.4000	\$493,278.80
	W-L Construction & Paving, Inc.		\$91.6800	\$469,126.56
411-03.12	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		3,554.000 TON		
	Duracap Asphalt Paving Co., Inc.		\$97.8400	\$347,723.36
	Rogers Group, Inc.		\$97.2000	\$345,448.80
	W-L Construction & Paving, Inc.		\$95.3800	\$338,980.52
705-02.02	2 SINGLE GUARDRAIL (TYPE 2)			
		12,065.000 L.F.		
	Duracap Asphalt Paving Co., Inc.		\$16.3000	\$196,659.50
	Rogers Group, Inc.		\$15.5000	\$187,007.50
	W-L Construction & Paving, Inc.		\$17.2300	\$207,879.95
705-04.09	9 EARTH PAD FOR TYPE 38 GR END TREATMENT			
		60.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$2,289.0000	\$137,340.00
	Rogers Group, Inc.		\$1,200.0000	\$72,000.00
	W-L Construction & Paving, Inc.		\$3,300.1100	\$198,006.60
705-06.20	0 TANGENT ENERGY ABSORBING TERM MASH TL-3			
		60.000 EACH		

Duracap Asphalt Paving Co., Inc.

W-L Construction & Paving, Inc.

Rogers Group, Inc.

\$75,600.00

\$130,800.00

\$81,151.80

\$1,260.0000

\$2,180.0000 \$1,352.5300

CONTRACT CNR098	3
-----------------	---

				CONTRACT CHRU98
			UNIT PRICE	EXTENSION
706-05	GUARDRAIL ADJUSTMENT			
700-03	COARDINALE ADDOORMENT	6,685.000 L.F.		
	Duracap Asphalt Paving Co., Inc.	3,000.000	\$2.2500	\$15,041.25
	Rogers Group, Inc.		\$2.0000	\$13,370.00
	W-L Construction & Paving, Inc.		\$4.9700	\$33,224.45
	The Education of average mon		ψ	φου,22 ιο
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Duracap Asphalt Paving Co., Inc.		\$18,500.0000	\$18,500.00
	Rogers Group, Inc.		\$28,508.0000	\$28,508.00
	W-L Construction & Paving, Inc.		\$65,250.3000	\$65,250.30
712-06	SIGNS (CONSTRUCTION)			
	Cierro (Correction)	1,284.000 S.F.		
	Duracap Asphalt Paving Co., Inc.	•	\$9.7000	\$12,454.80
	Rogers Group, Inc.		\$7.4000	\$9,501.60
	W-L Construction & Paving, Inc.		\$9.0000	\$11,556.00
713-16.20	SIGNS (OM-3)			
		4.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$253.0000	\$1,012.00
	Rogers Group, Inc.		\$229.5000	\$918.00
	W-L Construction & Paving, Inc.		\$200.0000	\$800.00
713-16.21	I SIGNS (W1-8)			
	• •	2.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$253.0000	\$506.00
	Rogers Group, Inc.		\$280.5000	\$561.00
	W-L Construction & Paving, Inc.		\$150.0000	\$300.00
	,g,		<b>V</b>	***************************************
713-16.22	2 SIGNS (R1-2)			
		1.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$253.0000	\$253.00
	Rogers Group, Inc.		\$280.5000	\$280.50
	W-L Construction & Paving, Inc.		\$175.0000	\$175.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		772.000 EACH		
	Duracap Asphalt Paving Co., Inc.		\$27.5000	\$21,230.00
	Rogers Group, Inc.		\$25.7600	\$19,886.72
	W-L Construction & Paving, Inc.		\$32.4700	\$25,066.84
716_02 05	5 PLASTIC PAVEMENT MARKING (STOP LINE)			
110-02.03	, I LAGIIO FAVEMENT MARKING (STOP LINE)	276.000 L.F.		
	Duracap Asphalt Paving Co., Inc.		\$11.5000	\$3,174.00
	Rogers Group, Inc.		\$10.6100	\$2,928.36
	W-L Construction & Paving, Inc.		\$12.7200	\$3,510.72
	Donot doubt & Faving, Inc.		ψ12.1200	ψ0,010.72

				CONTRACT CNR098
			UNIT PRICE	EXTENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		47.000 L.M.		
	Duracap Asphalt Paving Co., Inc.		\$605.0000	\$28,435.00
	Rogers Group, Inc.		\$555.5000	\$26,108.50
	W-L Construction & Paving, Inc.		\$622.1700	\$29,241.99
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		47.000 L.M.		
	Duracap Asphalt Paving Co., Inc.		\$2,007.0000	\$94,329.00
	Rogers Group, Inc.		\$1,843.2500	\$86,632.75
	W-L Construction & Paving, Inc.		\$2,158.6000	\$101,454.20
717-01	MOBILIZATION			
		1.000 LS		
	Duracap Asphalt Paving Co., Inc.		\$20,000.0000	\$20,000.00
	Rogers Group, Inc.		\$58,091.0000	\$58,091.00
			A	A

W-L Construction & Paving, Inc.

\$15,792.3600

\$15,792.36

W-L Construction & Paving, Inc.	\$1,675,533.59
Rogers Group, Inc.	\$1,568,511.18
Duracap Asphalt Paving Co., Inc.	\$1,557,428.29

TOTAL CONTRACT	
Duracap Asphalt Paving Co., Inc.	\$1,557,428.29
Rogers Group, Inc.	\$1,568,511.18
W-L Construction & Paving, Inc.	\$1,675,533.59

#### HARDEMAN COUNTY (Contract No. CNR017 Call 054)

35005-4249-04, HSIP-57(67), 35005-3249-94

THE RESURFACING ON S.R. 57 FROM THE FAYETTE COUNTY LINE (L.M. 0.00) TO SAULSBURY ROAD (L.M. 6.85).

PROJECT LENGTH - 6.850 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Standard Construction Company, Inc.

\$1,046,813.55

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNR017 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Standard Construction Company, Inc.	100.000 S.Y.	\$65.0000	\$6,500.00
203-06	WATER			
	Standard Construction Company, Inc.	14.000 M.G.	\$15.0000	\$210.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C or D)			
	Standard Construction Company, Inc.	1,877.000 TON	\$34.3000	\$64,381.10
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	G A		
	Standard Construction Company, Inc.	46.000 TON	\$135.0000	\$6,210.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	Standard Construction Company, Inc.	2,489.000 TON	\$91.2500	\$227,121.25
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Standard Construction Company, Inc.	69.000 TON	\$810.0000	\$55,890.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Standard Construction Company, Inc.	350.000 TON	\$96.1500	\$33,652.50
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Standard Construction Company, Inc.	4,953.000 TON	\$92.5000	\$458,152.50
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN			
	Standard Construction Company, Inc.	11.060 L.M.	\$825.0000	\$9,124.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Standard Construction Company, Inc.	3,814.000 S.Y.	\$4.3500	\$16,590.90
712-01	TRAFFIC CONTROL			
	Standard Construction Company, Inc.	1.000 LS	\$14,800.0000	\$14,800.00
712-06	SIGNS (CONSTRUCTION)			

1,152.000 S.F.

Standard Construction Company, Inc.

\$6,912.00

\$6.0000

		UNIT PRICE	CONTRACT CNR017 EXTENSION
713-16.09 RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
Standard Construction Company, Inc.	2.000 EACH	\$190.0000	\$380.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
Standard Construction Company, Inc.	453.000 EACH	\$37.0000	\$16,761.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Standard Construction Company, Inc.	216.000 L.F.	\$15.0000	\$3,240.00
716-03.02 PLASTIC WORD PAVEMENT MARKING (RXR)			
Standard Construction Company, Inc.	2.000 EACH	\$475.0000	\$950.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
Standard Construction Company, Inc.	19.668 L.M.	\$1,300.0000	\$25,568.40
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Standard Construction Company, Inc.	4.966 L.M.	\$5,900.0000	\$29,299.40
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
Standard Construction Company, Inc.	13.700 L.M.	\$3,600.0000	\$49,320.00

1.000 LS

\$21,750.0000

717-01

**MOBILIZATION** 

Standard Construction Company, Inc.

\$21,750.00

Standard Construction Company, Inc.

\$1,046,813.55

# **TOTAL CONTRACT**

Standard Construction Company, Inc.

\$1,046,813.55

#### HICKMAN COUNTY (Contract No. CNR090 Call 055)

41010-4222-04,HSIP-100(78),41010-3222-94,STP/HSIP-46(30),41050-3213-94,41050-8213-14

THE RESURFACING ON S.R. 46 FROM S.R. 7 (L.M. 0.00) TO THE DICKSON COUNTY LINE (L.M. 2.76) AND ON S.R. 100 FROM PRIMM SPRINGS ROAD (L.M. 21.29) TO S.R. 46 (L.M. 27.45).

PROJECT LENGTH - 8.920 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.50%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing

\$1,191,925.88

Vulcan Construction Materials, LLC

\$1,441,783.00

CON	NTRA	CT	CNR	090

			CC	NTRACT CNR090
ROADW	'AY CATEGORY		UNIT PRICE	EXTENSION
-				
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		2,436.000 TON		•
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$16.0000 \$21.0000	\$38,976.00 \$51,156.00
307-02.08	B ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADIN	G B-M2		
		1,200.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$62.0000 \$65.0000	\$74,400.00 \$78,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		83.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$450.0000 \$600.0000	\$37,350.00 \$49,800.00
411-02.10	D ACS MIX(PG70-22) GRADING D	4 000 000 TON		
	Fuhank Asphalt Daving & Sociling	4,833.000 TON	\$66.5000	¢221 204 50
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$80.0000	\$321,394.50 \$386,640.00
411-03.13	3 ACS MIX(PG70-22) THIN LIFT D ASPHALT	4,935.000 TON		
	Eubank Asphalt Paving & Sealing	4,933.000 TON	\$68.0000	\$335,580.00
	Vulcan Construction Materials, LLC		\$85.0000	\$419,475.00
411-12.03	3 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN	I WIDTH) 14.500 L.M.		
	Eubank Asphalt Paving & Sealing	14.500 E.M.	\$300.0000	\$4,350.00
	Vulcan Construction Materials, LLC		\$750.0000	\$10,875.00
415-01.01	1 COLD PLANING BITUMINOUS PAVEMENT	7,694.000 TON		
	Eubank Asphalt Paving & Sealing	.,	\$14.7700	\$113,640.38
	Vulcan Construction Materials, LLC		\$15.0000	\$115,410.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	3.000 EACH		
	Eubank Asphalt Paving & Sealing	**************************************	\$2,200.0000	\$6,600.00
	Vulcan Construction Materials, LLC		\$3,700.0000	\$11,100.00
706-01	GUARDRAIL REMOVED	150.000 L.F.		
	Eubank Asphalt Paving & Sealing	1001000 =111 1	\$2.0000	\$300.00
	Vulcan Construction Materials, LLC		\$15.5000	\$2,325.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$10,500.0000 \$40,000.0000	\$10,500.00 \$40,000.00
	**** ****		,	PAGE

				ATTION OTTINGED
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		50.000 EACH		
	Eubank Asphalt Paving & Sealing		\$8.0000	\$400.00
	Vulcan Construction Materials, LLC		\$5.0000	\$250.00
	vuican construction materials, LLC		ψ3.0000	Ψ230.00
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$40.00
	Vulcan Construction Materials, LLC		\$5.0000	\$40.00
712-06	SIGNS (CONSTRUCTION)			
	construction,	4 020 000 C E		
		1,920.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$7.0000	\$13,440.00
	Vulcan Construction Materials, LLC		\$9.5000	\$18,240.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		791.000 EACH		
	5	791.000 EACH	<b>#</b> 00.0000	<b>#00 700 00</b>
	Eubank Asphalt Paving & Sealing		\$30.0000	\$23,730.00
	Vulcan Construction Materials, LLC		\$31.0000	\$24,521.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		10.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$300.00
	Vulcan Construction Materials, LLC		\$31.0000	\$310.00
	vuican construction iviaterials, LLC		φ31.0000	ψ310.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		375.000 EACH		
	Eubank Asphalt Paving & Sealing		\$10.0000	\$3,750.00
	Vulcan Construction Materials, LLC		\$10.2500	\$3,843.75
	vulcari construction materials, LEC		ψ10.2300	ψο,ο+ο.7 ο
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		48.000 S.Y.		
	Eubank Asphalt Paving & Sealing		\$20.0000	\$960.00
	Vulcan Construction Materials, LLC		\$20.5000	\$984.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		25.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$12.0000	\$300.00
	Vulcan Construction Materials, LLC		\$12.2500	\$306.25
716 02 06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
710-02.00	PLASTIC PAVEMENT MARKING (TORN LANE ARROW)	5.000 EACH		
	Fuhank Asphalt Daving & Casling	3.500 EAST	\$150.0000	\$750.00
	Eubank Asphalt Paving & Sealing			
	Vulcan Construction Materials, LLC		\$155.0000	\$775.00
716-03.06	PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)			
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$800.0000	\$1,600.00
	Vulcan Construction Materials, LLC		\$820.0000	\$1,640.00

				CONTRACT CNR090
			UNIT PRICE	EXTENSION
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
		14.000 EACH		
	Eubank Asphalt Paving & Sealing		\$300.0000	\$4,200.00
	Vulcan Construction Materials, LLC		\$310.0000	\$4,340.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		36.700 L.M.		
	Eubank Asphalt Paving & Sealing		\$750.0000	\$27,525.00
	Vulcan Construction Materials, LLC		\$770.0000	\$28,259.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		18.700 L.M.		
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$93,500.00
	Vulcan Construction Materials, LLC		\$5,150.0000	\$96,305.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER L	INE)		
		380.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$3.0000	\$1,140.00
	Vulcan Construction Materials, LLC		\$3.1000	\$1,178.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LII	NE)		
		100.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$2.0000	\$200.00
	Vulcan Construction Materials, LLC		\$2.1000	\$210.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		18.000 L.M.		
	Eubank Asphalt Paving & Sealing		\$3,000.0000	\$54,000.00
	Vulcan Construction Materials, LLC		\$3,100.0000	\$55,800.00

1.000 LS

\$23,000.0000

\$40,000.0000

717-01

**MOBILIZATION** 

Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC

\$23,000.00

\$40,000.00

Vulcan Construction Materials, LLC	\$1,441,783.00
Eubank Asphalt Paving & Sealing	\$1,191,925.88

# **TOTAL CONTRACT**

Eubank Asphalt Paving & Sealing	\$1,191,925.88
Vulcan Construction Materials, LLC	\$1,441,783.00

#### HICKMAN AND HUMPHREYS COUNTIES (Contract No. CNR012 Call 056)

41049-4230-04,43061-4214-04,HSIP-230(16),41049-3230-94,HSIP-231(6),43061-3214-94

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 230 FROM S.R. 48 TO DODD HOLLOW ROAD AND ON S.R. 231 FROM U.S. 70 (S.R. 1) TO THE HOUSTON COUNTY LINE.

PROJECT LENGTH - 13.920 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Hudson Construction Company

\$925,853.00 \$1,378,124.40

CONTRACT C	NR012
------------	-------

				CONTRACT CNR012
POADW/	AY CATEGORY		UNIT PRICE	EXTENSION
NOADWA	AT CATEGORY			
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN N	•		
		24.000 L.M.		
	Eubank Asphalt Paving & Sealing		\$200.0000	\$4,800.00
	Hudson Construction Company		\$425.0000	\$10,200.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		4.000 EACH		
	Eubank Asphalt Paving & Sealing		\$100.0000	\$400.00
	Hudson Construction Company		\$640.0000	\$2,560.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		1,691.000 S.F.		
	Eubank Asphalt Paving & Sealing	1,0011000 011 1	\$18.0000	\$30,438.00
	Hudson Construction Company		\$53.0000	\$89,623.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing	1.000 LS	\$9,500.0000	\$9,500.00
	Hudson Construction Company		\$52,700.0000	\$52,700.00
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
712-04.01	FLEXIBLE DROWS (CHANNELIZING)	E0 000 EACH		
	Fuhank Ashalt Daving & Casling	50.000 EACH	<b>¢</b> E 0000	<b>\$250.00</b>
	Eubank Asphalt Paving & Sealing Hudson Construction Company		\$5.0000 \$31.0000	\$250.00 \$1,550.00
	Triduson Construction Company		ψ51.0000	ψ1,030.00
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$40.00
	Hudson Construction Company		\$28.0000	\$224.00
712-06	SIGNS (CONSTRUCTION)			
	,	1,736.000 S.F.		
	Eubank Asphalt Paving & Sealing	1,1 001000 011 1	\$6.5000	\$11,284.00
	Hudson Construction Company		\$6.5000	\$11,284.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		4.000 EACH		
	Eubank Asphalt Paving & Sealing		\$50.0000	\$200.00
	Hudson Construction Company		\$25.0000	\$100.00
713-16.05	RAILROAD CROSS-BUCK SIGN & SUPPORT			
		4.000 EACH		
	Eubank Asphalt Paving & Sealing		\$365.0000	\$1,460.00
	Hudson Construction Company		\$225.0000	\$900.00
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
		5.000 EACH		
	Eubank Asphalt Paving & Sealing		\$325.0000	\$1,625.00
	Hudson Construction Company		\$185.0000	\$925.00
				PAGE

				CONTRACT CNR012
			UNIT PRICE	EXTENSION
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		1,135.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$34,050.00
	Hudson Construction Company		\$30.0000	\$34,050.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		635.000 EACH		
	Eubank Asphalt Paving & Sealing		\$10.0000	\$6,350.00
	Hudson Construction Company		\$10.0000	\$6,350.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		11.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$12.0000	\$132.00
	Hudson Construction Company		\$15.0000	\$165.00
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
	· ·	2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$600.0000	\$1,200.00
	Hudson Construction Company		\$650.0000	\$1,300.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		29.000 L.M.		
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$145,000.00
	Hudson Construction Company		\$5,200.0000	\$150,800.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		29.000 L.M.		
	Eubank Asphalt Paving & Sealing	201000 <b>2</b> 11111	\$2,100.0000	\$60,900.00
	Hudson Construction Company		\$2,400.0000	\$69,600.00
			φ=, 100.0000	Ψου,ουσ.ου

1.000 LS

\$22,000.0000

\$22,500.0000

717-01

**MOBILIZATION** 

Eubank Asphalt Paving & Sealing

**Hudson Construction Company** 

\$22,000.00

\$22,500.00

ROADWAY ALTERNATE AA1 CATEGORY		UNIT PRICE	CONTRACT CNR012 EXTENSION
403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING Hudson Construction Company Eubank Asphalt Paving & Sealing	33.000 TON	\$363.6400	\$12,000.12
405-01.01 BITUMINOUS MATERIAL (BSC)  Hudson Construction Company Eubank Asphalt Paving & Sealing	166.000 TON	\$640.6900	\$106,354.54
405-01.02 MINERAL AGGREGATE (BSC)  Hudson Construction Company Eubank Asphalt Paving & Sealing	1,382.000 TON	\$76.9600	\$106,358.72
414-03.01 EMULSIFIED ASPHALT FOR MICRO-SURFACING  Hudson Construction Company Eubank Asphalt Paving & Sealing	374.000 TON	\$864.1400	\$323,188.36
414-03.02 AGGREGATE FOR MICRO SURFACING  Hudson Construction Company Eubank Asphalt Paving & Sealing	3,113.000 TON	\$103.8200	\$323,191.66

87.000 L.M.

\$600.0000

716-05.01 PAINTED PAVEMENT MARKING (4" LINE)

**Hudson Construction Company** 

Eubank Asphalt Paving & Sealing

\$52,200.00

				CONTRACT CNR012
ROADW	AY ALTERNATE AA2 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	05 000 TON		
	Eubank Asphalt Paving & Sealing Hudson Construction Company	85.000 TON	\$400.0000	\$34,000.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		8,268.000 TON		

Eubank Asphalt Paving & Sealing

Hudson Construction Company

\$562,224.00

\$68.0000

Hudson Construction Company	\$454,831.00
Eubank Asphalt Paving & Sealing	\$329,629.00
SUB-TOTAL ROADWAY ALTERNATE AA1	
Hudson Construction Company	\$923,293.40
SUB-TOTAL ROADWAY ALTERNATE AA2	
Eubank Asphalt Paving & Sealing	\$596,224.00
TOTAL CONTRACT	
Eubank Asphalt Paving & Sealing	\$925,853.00
Hudson Construction Company	\$1,378,124.40

### HOUSTON COUNTY (Contract No. CNR099 Call 057)

NHTSA-HE-49(35),97042-3210-04,STP/HSIP-13(71),42001-3219-94,42001-8219-14,STP/HSIP-49(44),42003-3230-94,42003-8230-14

THE RESURFACING ON S.R. 13 FROM THE HUMPHREYS COUNTY LINE TO S.R. 49, ON S.R. 49 FROM S.R. 13 TO EAST OF SALMON BRANCH ROAD AND SAFETY IMPROVEMENTS FROM CHURCH STREET TO S.R. 13.

PROJECT LENGTH - 15.820 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.00%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC

\$1,261,647.65 \$1,468,662.22

CONTRACT CNR099	CON	ITRA(	CT C	NR	099
-----------------	-----	-------	------	----	-----

			CONTRACT	CNR099
		UNIT PRICE	EXT	ENSION
ROADWA	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	3,819.000 TON		_	
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$16.0000 \$22.5000		1,104.00 5,927.50
	Jones Blos. Contractors, LLC	φ22.3000	φου	1,927.50
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
	1,000.000 TON			
	Eubank Asphalt Paving & Sealing	\$55.0000	\$55	5,000.00
	Jones Bros. Contractors, LLC	\$60.0000	\$60	0,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	94.000 TON			
	Eubank Asphalt Paving & Sealing	\$450.0000	\$42	2,300.00
	Jones Bros. Contractors, LLC	\$550.0000	\$51	1,700.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	9,274.000 TON			
	Eubank Asphalt Paving & Sealing	\$66.5000	\$616	5,721.00
	Jones Bros. Contractors, LLC	\$71.0000	\$658	3,454.00
444 40 00	COORING FOR RUMP! F OTRIPE (NON CONTINUOUS) (SIN WIRTH)			
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)			
	11.700 L.M. Eubank Asphalt Paving & Sealing	\$250.0000	\$1	2,925.00
	Jones Bros. Contractors, LLC	\$450.0000		5,265.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)			
	12.100 L.M.	<b>#</b> 050.000	•	
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC	\$250.0000 \$450.0000		3,025.00 5,445.00
	Solies Blos. Contractors, ELO	Ψ-30.0000	Ψ	7,443.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	8,556.000 TON			
	Eubank Asphalt Paving & Sealing	\$12.0000		2,672.00
	Jones Bros. Contractors, LLC	\$25.9000	\$221	1,600.40
604-04.20	PAINTING CONCRETE SURFACES			
	128.000 S.F.			
	Eubank Asphalt Paving & Sealing	\$6.0000		\$768.00
	Jones Bros. Contractors, LLC	\$10.0000	\$1	1,280.00
705-04 21	GUARDRAIL DELINEATION ENHANCEMENT			
705-04.21	2,579.000 L.F.			
	Eubank Asphalt Paving & Sealing	\$3.0000	\$7	7,737.00
	Jones Bros. Contractors, LLC	\$3.0000		7,737.00
740.01	TRAFFIC CONTROL			
712-01	TRAFFIC CONTROL			
	1.000 LS Eubank Asphalt Paving & Sealing	\$10,000.0000	\$10	0,000.00
	Jones Bros. Contractors, LLC	\$36,000.0000		5,000.00
				AGE
			F.	, .OL

CONTRACT C	1:	٧R	099	
------------	----	----	-----	--

			CC	MIRACI CINCUSS
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		50.000 EACH		
	Eubank Asphalt Paving & Sealing	00:000 =/ (01:	\$5.0000	\$250.00
	Jones Bros. Contractors, LLC		\$5.0000	\$250.00
	Jones Bios. Contractors, LLC		ψ3.0000	Ψ230.00
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$40.00
	Jones Bros. Contractors, LLC		\$5.0000	\$40.00
712-06	SIGNS (CONSTRUCTION)			
	,	2,247.000 S.F.		
	5 1 1 A 1 1 1 B 1 A 0 A 11	2,247.000 S.F.	<b>#0.000</b>	<b>#</b> 40,400,00
	Eubank Asphalt Paving & Sealing		\$6.0000	\$13,482.00
	Jones Bros. Contractors, LLC		\$7.2500	\$16,290.75
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
		120.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$6.0000	\$720.00
	Jones Bros. Contractors, LLC		\$6.0000	\$720.00
	Conce Bros. Contractors, LLC		ψο.σσσσ	Ψ/20.00
713-11.01	"U" SECTION STEEL POSTS			
		4.000 LB.		
	Eubank Asphalt Paving & Sealing		\$8.5000	\$34.00
	Jones Bros. Contractors, LLC		\$8.5000	\$34.00
742 44 02	PERFORATER//NOC/COUT COULARS TURE ROCT			
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST	4 005 000 LB		
	E	1,005.000 LB.	<b>#0.0500</b>	<b>#</b> 0.000.05
	Eubank Asphalt Paving & Sealing		\$3.8500	\$3,869.25
	Jones Bros. Contractors, LLC		\$3.9500	\$3,969.75
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		2.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$17.0000	\$34.00
	Jones Bros. Contractors, LLC		\$18.0000	\$36.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		230.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$14.0000	\$3,220.00
	Jones Bros. Contractors, LLC		\$14.0000	\$3,220.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
2 70.00		31.000 EACH		
	Fuhank Asphalt Daving & Casling	31.000 EACH	<b>\$20,000</b>	¢620.00
	Eubank Asphalt Paving & Sealing		\$20.0000	\$620.00 \$627.75
	Jones Bros. Contractors, LLC		\$20.2500	\$627.75
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		1,097.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$32,910.00
	Jones Bros. Contractors, LLC		\$30.0000	\$32,910.00

CONTRACT C	)	N	R	0	99	)
------------	---	---	---	---	----	---

			33	MINOTO CHINOGO
			UNIT PRICE	EXTENSION
746 04 22	Spurphyble Dymt Makro (Mone Dir)/4 Color)			
/10-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)	12.000 EACH		
	5 1 1 A 1 1 1 B 1 2 0 0 1 1	12.000 EACH	Фоо оооо	<b>#</b> 000 00
	Eubank Asphalt Paving & Sealing		\$30.0000	\$360.00
	Jones Bros. Contractors, LLC		\$30.0000	\$360.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	,	72.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$6.0000	\$432.00
	Jones Bros. Contractors, LLC		\$6.2500	\$450.00
	Conce Brook Contractors, EEC		ψ0.2000	ψ100.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRII	PING)		
		30.000 S.Y.		
	Eubank Asphalt Paving & Sealing		\$20.0000	\$600.00
	Jones Bros. Contractors, LLC		\$20.2500	\$607.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		338.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$12.0000	\$4,056.00
	Jones Bros. Contractors, LLC		\$12.2500	\$4,140.50
74.0 00 00	DI ACTIC DAVEMENT MADIZING (TUDNI ANE ADDOM)			
110-02.00	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	5.000 EACH		
	Full cale Acabalt Basin a 2 Cooling	5.000 EACH	<b>#450,0000</b>	<b>#750.00</b>
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$150.0000 \$155.0000	\$750.00 \$775.00
	Jones Bios. Contractors, LEC		φ133.0000	ψ113.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		1.000 EACH		
	Eubank Asphalt Paving & Sealing		\$600.0000	\$600.00
	Jones Bros. Contractors, LLC		\$615.0000	\$615.00
716-04.03	PLASTIC PAVEMENT MARKING (4" DOTTED LINE)			
		400.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$2.0000	\$800.00
	Jones Bros. Contractors, LLC		\$2.0000	\$800.00
716 04 04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULD	ED\		
710-04.04	FLASTIC FAVEMENT MARKING (TRANSVERSE SHOULD	•		
	5 1 1 A 1 1 1 B 1 A 0 B 1	50.000 L.F.	<b>#</b> 40.0000	<b>#</b> 500.00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$10.0000	\$500.00
	Jones Bros. Contractors, LLC		\$10.0000	\$500.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	(,	18.670 S.F.		
	Eubank Asphalt Paving & Sealing	10.070 0.1 .	\$20.0000	\$373.40
	Jones Bros. Contractors, LLC		\$20.2500	\$378.07
	2.00. 20		Ψ20.2000	ψο. σ.σ.
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		54.300 L.M.		
	Eubank Asphalt Paving & Sealing		\$750.0000	\$40,725.00
	Jones Bros. Contractors, LLC		\$750.0000	\$40,725.00

				CONTRACT CNR099
			UNIT PRICE	EXTENSION
716-12.01	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
		5.000 L.M.		
	Eubank Asphalt Paving & Sealing		\$3,200.0000	\$16,000.00
	Jones Bros. Contractors, LLC		\$3,275.0000	\$16,375.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		25.400 L.M.		
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$127,000.00
	Jones Bros. Contractors, LLC		\$5,100.0000	\$129,540.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		15.200 L.M.		
	Eubank Asphalt Paving & Sealing		\$2,100.0000	\$31,920.00
	Jones Bros. Contractors, LLC		\$2,145.0000	\$32,604.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	, ,,	13.700 L.M.		
	Eubank Asphalt Paving & Sealing		\$3,000.0000	\$41,100.00
	Jones Bros. Contractors, LLC		\$3,050.0000	\$41,785.00
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$39,000.0000	\$39,000.00
			<b>#7.500.0000</b>	<b>#7.500.00</b>

Jones Bros. Contractors, LLC

\$7,500.00

\$7,500.0000

Jones Bros. Contractors, LLC	\$1,468,662.22
Eubank Asphalt Paving & Sealing	\$1,261,647.65

## **TOTAL CONTRACT**

Eubank Asphalt Paving & Sealing	\$1,261,647.65
Jones Bros. Contractors, LLC	\$1,468,662.22

### HUMPHREYS COUNTY (Contract No. CNR105 Call 058)

STP/HSIP-13(69),43005-3244-94,43005-8244-14

THE RESURFACING ON S.R. 13 FROM THE PERRY COUNTY LINE (L.M. 0.00) TO NORTH OF TUMBLING CREEK ROAD/BURNED HOUSE ROAD (L.M. 8.30).

PROJECT LENGTH - 8.300 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 1.50%

TOTAL CONTRACT

**Eubank Asphalt Paving & Sealing** 

\$860,044.78

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNR105 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Eubank Asphalt Paving & Sealing	2,127.000 TON	\$18.0000	\$38,286.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Eubank Asphalt Paving & Sealing	600.000 TON	\$70.0000	\$42,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Eubank Asphalt Paving & Sealing	63.000 TON	\$450.0000	\$28,350.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	Eubank Asphalt Paving & Sealing	507.000 TON	\$72.0000	\$36,504.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Eubank Asphalt Paving & Sealing	5,800.000 TON	\$71.0000	\$411,800.00
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)				
	Eubank Asphalt Paving & Sealing	12.600 L.M.	\$400.0000	\$5,040.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	407 00 4 000 <b>0</b> V		
	Eubank Asphalt Paving & Sealing	137,234.000 S.Y.	\$0.6700	\$91,946.78
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
	Eubank Asphalt Paving & Sealing	137.500 L.F.	\$18.0000	\$2,475.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
	Eubank Asphalt Paving & Sealing	1.000 EACH	\$550.0000	\$550.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	0.000 54011		
	Eubank Asphalt Paving & Sealing	2.000 EACH	\$2,300.0000	\$4,600.00
706-01	GUARDRAIL REMOVED	205 222 1 5		
	Eubank Asphalt Paving & Sealing	265.000 L.F.	\$2.0000	\$530.00
700 00 00	P. P. 110 P. 11			

50.000 L.F.

706-06.03 RADIUS RAIL

Eubank Asphalt Paving & Sealing

\$1,250.00

\$25.0000

			UNIT PRICE	CONTRACT CNR105 EXTENSION
712-01	TRAFFIC CONTROL			
	Eubank Asphalt Paving & Sealing	1.000 LS	\$9,000.0000	\$9,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Eubank Asphalt Paving & Sealing	25.000 EACH	\$5.0000	\$125.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Eubank Asphalt Paving & Sealing	4.000 EACH	\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
	Eubank Asphalt Paving & Sealing	974.000 S.F.	\$7.0000	\$6,818.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	575.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$17,250.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Eubank Asphalt Paving & Sealing	4.000 EACH	\$150.0000	\$600.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	Eubank Asphalt Paving & Sealing	2.000 EACH	\$300.0000	\$600.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Eubank Asphalt Paving & Sealing	30.000 L.M.	\$750.0000	\$22,500.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	13.400 L.M.		
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$67,000.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Eubank Asphalt Paving & Sealing	16.600 L.M.	\$3,000.0000	\$49,800.00
717-01	MOBILIZATION			

1.000 LS

Eubank Asphalt Paving & Sealing

\$23,000.00

\$23,000.0000

Eubank Asphalt Paving & Sealing

\$860,044.78

## **TOTAL CONTRACT**

Eubank Asphalt Paving & Sealing

\$860,044.78

The resurfacing on U.S. 25W (U.S. 70, S.R. 9) from the Sevier County line (L.M. 0.00) to near S.R. 92 (L.M. 11.23).

PROJECT LENGTH -

DBE GOAL 2.50%

PROPOSAL REJECTED

No Valid Bids

### JOHNSON COUNTY (Contract No. CNR134 Call 060)

46001-4222-04,STP/HSIP-34(111),46001-3222-94,46001-8222-14

THE RESURFACING ON U.S. 421 (S.R. 34) FROM THE SULLIVAN COUNTY LINE (L.M. 0.00) TO NEAR S.R. 91 (L.M. 12.90), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 12.900 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 15, 2017

DBE GOAL 1.50%

TOTAL CONTRACT

\$2,421,294.00

Maymead, Inc.

			LINIT PRIOF	CONTRACT CNR134  EXTENSION
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01	SHOULDERS AND DITCHES			
	Maymead, Inc.	25.800 L.M.	\$2,500.0000	\$64,500.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	4 664 000 TON		
	Maymead, Inc.	4,664.000 TON	\$35.0000	\$163,240.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	59.000 TON		
	Maymead, Inc.	33.300 TON	\$800.0000	\$47,200.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	1,032.000 TON		
	Maymead, Inc.	1,002.000 1014	\$99.0000	\$102,168.00
411-01.10	ACS MIX(PG64-22) GRADING D	14,772.000 TON		\$1,462,428.00
	Maymead, Inc.	17,112.000 1014	\$99.0000	
712-01	TRAFFIC CONTROL	1.000 LS	\$29,500.0000	
	Maymead, Inc.	1.500 25		\$29,500.00
712-06	SIGNS (CONSTRUCTION)	604.000 S.F.	604 000 S F	
	Maymead, Inc.	004.000 0.1 .	\$10.0000	\$6,040.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	851.000 EACH		
	Maymead, Inc.		\$35.0000	\$29,785.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	300.000 L.F.		
	Maymead, Inc.		\$12.5000	\$3,750.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	52.000 L.M.		
	Maymead, Inc.		\$900.0000	\$46,800.00
716-40.01	POLYUREA PAVEMENT MARKING (6IN LINE)	52.000 L.M.		
	Maymead, Inc.	<del></del>	\$5,050.0000	\$262,600.00
716-40.02	POLYUREA PAVEMENT MARKINGS-WORDS-SYMBOLS	1.000 EACH		
	Maymead, Inc.	1.000 EACH	\$575.0000	\$575.00

				CONTRACT CNR	134
			UNIT PRICE	EXTENSIO	N
716-40.03	POLYUREA PAVEMENT MARKING (STOP BAR)				
		25.000 L.F.			
	Maymead, Inc.		\$25.0000	\$625.0	00
716-40.42	GROOVING FOR RECESSED PAVEMENT MARKING (SOLID)				
		4.000 L.M.			
	Maymead, Inc.		\$6,250.0000	\$25,000.0	00
717-01	MOBILIZATION				
		1.000 LS			

\$32,000.0000

\$32,000.00

Maymead, Inc.

			CONTRACT CNR134
BRIDGE CATEGORY		UNIT PRICE	EXTENSION
604-10.44 EXPANSION JOINT REPAIRS			
Maymead, Inc.	96.000 L.F.	\$410.0000	\$39,360.00
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
Maymead, Inc.	65.000 S.Y.	\$375.0000	\$24,375.00
617-04.02 TYPE 2 THIN EPOXY OVERLAY (LOW-MOD EPOXY)			
Maymead, Inc.	1,294.000 S.Y.	\$42.0000	\$54,348.00
730-40 TEMPORARY TRAFFIC SIGNAL SYSTEM			

Maymead, Inc.

2.000 EACH

\$13,500.0000

\$27,000.00

Maymead, Inc. \$2,276,211.00

## SUB-TOTAL BRIDGE

Maymead, Inc. \$145,083.00

## **TOTAL CONTRACT**

Maymead, Inc. \$2,421,294.00

## KNOX COUNTY (Contract No. CNR082 Call 061)

HSIP-168(13),47057-3238-94,47057-4238-04

THE RESURFACING ON S.R. 168 FROM NEAR CINDER AVENUE (L.M. 11.60) TO U.S. 11E (U.S. 70, S.R. 9) (L.M. 16.00).

PROJECT LENGTH - 4.400 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 15, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

 APAC-Atlantic, Inc.
 \$1,013,583.80

 Duracap Asphalt Paving Co., Inc.
 \$1,074,397.54

 Rogers Group, Inc.
 \$1,202,686.15

			CC	NTRACT CNR082
201211			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		53.000 TON		
	APAC-Atlantic, Inc.		\$400.0000	\$21,200.00
	Duracap Asphalt Paving Co., Inc.		\$680.0000	\$36,040.00
	Rogers Group, Inc.		\$1,130.0000	\$59,890.00
411-01.07	7 ACS MIX (PG64-22) GRADING E SHOULDER			
		1,619.000 TON		
	APAC-Atlantic, Inc.		\$79.7500	\$129,115.25
	Duracap Asphalt Paving Co., Inc.		\$83.8300	\$135,720.77
	Rogers Group, Inc.		\$80.0000	\$129,520.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		6,386.000 TON		
	APAC-Atlantic, Inc.		\$79.9000	\$510,241.40
	Duracap Asphalt Paving Co., Inc.		\$90.5200	\$578,060.72
	Rogers Group, Inc.		\$90.0000	\$574,740.00
411-12.03	S SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (81	N WIDTH)		
		7.100 L.M.		
	APAC-Atlantic, Inc.		\$650.0000	\$4,615.00
	Duracap Asphalt Paving Co., Inc.		\$1,200.0000	\$8,520.00
	Rogers Group, Inc.		\$470.0000	\$3,337.00
415-01.01	I COLD PLANING BITUMINOUS PAVEMENT			
		7,985.000 TON		
	APAC-Atlantic, Inc.		\$17.0000	\$135,745.00
	Duracap Asphalt Paving Co., Inc.		\$8.4300	\$67,313.55
	Rogers Group, Inc.		\$18.0000	\$143,730.00
705-02.02	2 SINGLE GUARDRAIL (TYPE 2)			
		463.000 L.F.		
	APAC-Atlantic, Inc.		\$22.0000	\$10,186.00
	Duracap Asphalt Paving Co., Inc.		\$17.5000	\$8,102.50
	Rogers Group, Inc.		\$16.9000	\$7,824.70
705-04.03	3 GUARDRAIL TERMINAL (TYPE 13)			
		1.000 EACH		
	APAC-Atlantic, Inc.		\$1,150.0000	\$1,150.00
	Duracap Asphalt Paving Co., Inc.		\$963.0000	\$963.00
	Rogers Group, Inc.		\$920.0000	\$920.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		5.000 EACH		
	APAC-Atlantic, Inc.		\$1,650.0000	\$8,250.00
	Duracap Asphalt Paving Co., Inc.		\$1,320.0000	\$6,600.00
	Rogers Group, Inc.		\$1,250.0000	\$6,250.00

			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	0.000 54.011		
	APAC-Atlantic, Inc.	6.000 EACH	\$2,450.0000	\$14,700.00
	Duracap Asphalt Paving Co., Inc.		\$2,431.0000	\$14,586.00
	Rogers Group, Inc.		\$2,300.0000	\$13,800.00
706-01	GUARDRAIL REMOVED			
700-01	SOARDRAIE REMOVED	713.000 L.F.		
	APAC-Atlantic, Inc.		\$1.0000	\$713.00
	Duracap Asphalt Paving Co., Inc.		\$1.0000	\$713.00
	Rogers Group, Inc.		\$0.9000	\$641.70
712-01	TRAFFIC CONTROL			
		1.000 LS		
	APAC-Atlantic, Inc.		\$9,000.0000	\$9,000.00
	Duracap Asphalt Paving Co., Inc.		\$19,000.0000	\$19,000.00
	Rogers Group, Inc.		\$46,000.0000	\$46,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		142.000 EACH		
	APAC-Atlantic, Inc.		\$10.0000	\$1,420.00
	Duracap Asphalt Paving Co., Inc.		\$33.0000	\$4,686.00
	Rogers Group, Inc.		\$6.0000	\$852.00
712-05.01	WARNING LIGHTS (TYPE A)			
		71.000 EACH		
	APAC-Atlantic, Inc.		\$10.0000	\$710.00
	Duracap Asphalt Paving Co., Inc.		\$27.0000	\$1,917.00
	Rogers Group, Inc.		\$6.0000	\$426.00
712-06	SIGNS (CONSTRUCTION)			
		900.000 S.F.		
	APAC-Atlantic, Inc.		\$4.0000	\$3,600.00
	Duracap Asphalt Paving Co., Inc.		\$6.6000	\$5,940.00
	Rogers Group, Inc.		\$7.0000	\$6,300.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	APAC-Atlantic, Inc.		\$425.0000	\$850.00
	Duracap Asphalt Paving Co., Inc.		\$1,320.0000	\$2,640.00
	Rogers Group, Inc.		\$900.0000	\$1,800.00
713-16.20	SIGNS (W10-1)			
		2.000 EACH		
	APAC-Atlantic, Inc.		\$150.0000	\$300.00
	Duracap Asphalt Paving Co., Inc.		\$250.0000	\$500.00
	Rogers Group, Inc.		\$325.0000	\$650.00

				CONTRACT CNR082
			UNIT PRICE	EXTENSION
			•····•=	
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		627.000 EACH		
	APAC-Atlantic, Inc.		\$30.0000	\$18,810.00
	Duracap Asphalt Paving Co., Inc.		\$25.0000	\$15,675.00
	Rogers Group, Inc.		\$24.2500	\$15,204.75
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		80.000 EACH		
	APAC-Atlantic, Inc.		\$30.0000	\$2,400.00
	Duracap Asphalt Paving Co., Inc.		\$25.0000	\$2,000.00
	Rogers Group, Inc.		\$24.2500	\$1,940.00
716 02 04	DI ACTIC DAVEMENT MADVING/CHANNELIZATION CTDIDING			
110-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	404 000 0 V		
	ADAC Atlantia Inc	161.000 S.Y.	<b>\$40.4500</b>	ФО 000 4E
	APAC-Atlantic, Inc.  Duracap Asphalt Paving Co., Inc.		\$19.1500 \$20.0000	\$3,083.15 \$3,220.00
	Rogers Group, Inc.		\$19.0000	\$3,220.00 \$3,059.00
	Nogers Group, inc.		ψ19.0000	ψ5,059.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	, ,	120.000 L.F.		
	APAC-Atlantic, Inc.		\$10.5000	\$1,260.00
	Duracap Asphalt Paving Co., Inc.		\$11.0000	\$1,320.00
	Rogers Group, Inc.		\$10.5500	\$1,266.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		58.000 EACH		
	APAC-Atlantic, Inc.		\$160.0000	\$9,280.00
	Duracap Asphalt Paving Co., Inc.		\$165.0000	\$9,570.00
	Rogers Group, Inc.		\$155.0000	\$8,990.00
716 02 02	DI ASTIC MODE DAVEMENT MADKING (DVD)			
710-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)	2 000 54 CH		
	ADAC Atlantia Inc	2.000 EACH	¢400,0000	<b>\$000.00</b>
	APAC-Atlantic, Inc.		\$400.0000 \$400.0000	\$800.00 \$800.00
	Duracap Asphalt Paving Co., Inc. Rogers Group, Inc.		\$395.0000	\$790.00
	Nogera Group, Inc.		ψυθυ.υυυ	φ/ 90.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	,	1.000 EACH		
	APAC-Atlantic, Inc.		\$105.0000	\$105.00
	Duracap Asphalt Paving Co., Inc.		\$110.0000	\$110.00
	Rogers Group, Inc.		\$105.0000	\$105.00
	- · · · · · · · · · · · · · · · · · · ·		-	•

20.000 L.M.

716-05.01 PAINTED PAVEMENT MARKING (4" LINE)

Duracap Asphalt Paving Co., Inc.

APAC-Atlantic, Inc.

Rogers Group, Inc.

\$9,000.00 \$9,300.00

\$9,000.00

\$450.0000

\$465.0000

\$450.0000

				CONTRACT CNR082
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		20.000 L.M.		
	APAC-Atlantic, Inc.		\$3,950.0000	\$79,000.00
	Duracap Asphalt Paving Co., Inc.		\$4,000.0000	\$80,000.00
	Rogers Group, Inc.		\$3,950.0000	\$79,000.00
717-01	MOBILIZATION			
		1.000 LS		
	APAC-Atlantic, Inc.		\$16,000.0000	\$16,000.00
	Duracap Asphalt Paving Co., Inc.		\$22,600.0000	\$22,600.00
	Rogers Group, Inc.		\$66,000.0000	\$66,000.00
	2444			
/30-14.02	SAW SLOT			
		3,500.000 L.F.		
	APAC-Atlantic, Inc.		\$5.0000	\$17,500.00
	Duracap Asphalt Paving Co., Inc.		\$9.0000	\$31,500.00
	Rogers Group, Inc.		\$4.8000	\$16,800.00
730-14.03	LOOP WIRE			
		7,000.000 L.F.		

APAC-Atlantic, Inc.

Rogers Group, Inc.

Duracap Asphalt Paving Co., Inc.

\$4,550.00 \$7,000.00

\$3,850.00

\$0.6500

\$1.0000

\$0.5500

Rogers Group, Inc.	\$1,202,686.15
Duracap Asphalt Paving Co., Inc.	\$1,074,397.54
APAC-Atlantic, Inc.	\$1,013,583.80

## **TOTAL CONTRACT**

APAC-Atlantic, Inc.	\$1,013,583.80
Duracap Asphalt Paving Co., Inc.	\$1,074,397.54
Rogers Group, Inc.	\$1,202,686.15

### KNOX COUNTY (Contract No. CNR083 Call 062)

STP/HSIP-332(13),47033-3227-94,47033-8227-14

THE RESURFACING ON S.R. 332 FROM NEAR THE SOUTHERN RAILROAD BRIDGE (L.M. 1.70) TO NEAR NORTHSHORE HILLS BOULEVARD (L.M. 7.43).

PROJECT LENGTH - 5.730 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 15, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Rogers Group, Inc.
APAC-Atlantic, Inc.

\$825,302.45 \$883,137.50

				CONTRACT CNR083
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		87.000 TON		
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$860.0000 \$450.0000	\$74,820.00 \$39,150.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		573.000 TON	<b>4</b> =0.0500	<b>*</b> 44 450 55
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$72.3500 \$105.0000	\$41,456.55 \$60,165.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Rogers Group, Inc.	5,560.000 TON	\$83.8000	\$46E 029 00
	APAC-Atlantic, Inc.		\$93.5000	\$465,928.00 \$519,860.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN	WIDTH)		
		9.000 L.M.		
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$350.0000 \$540.0000	\$3,150.00 \$4,860.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		716.000 S.F.		<b>^</b>
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$24.8000 \$35.0000	\$17,756.80 \$25,060.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Pagera Craup, Inc.	13.000 EACH	¢4 240 0000	¢46 420 00
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$1,240.0000 \$1,400.0000	\$16,120.00 \$18,200.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	40.000 - 1.00		
	Rogers Group, Inc.	13.000 EACH	\$2,230.0000	\$28,990.00
	APAC-Atlantic, Inc.		\$2,550.0000	\$33,150.00
706-01	GUARDRAIL REMOVED			
	Damara Crayer Inc.	650.000 L.F.	<b>#0.0000</b>	Ф <b>Г</b> 70 00
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$0.8800 \$1.0000	\$572.00 \$650.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Rogers Group, Inc.	1.000 LS	\$21,000.0000	\$21,000.00
	APAC-Atlantic, Inc.		\$25,000.0000	\$25,000.00
712-06	SIGNS (CONSTRUCTION)			
	Daniera Occure Inc	938.000 S.F.	<b>AC 2225</b>	<b>#0.400.00</b>
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$6.6000 \$4.2500	\$6,190.80 \$3,986.50

				CONTRACT CNR083
			UNIT PRICE	EXTENSION
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Rogers Group, Inc.		\$899.0000	\$1,798.00
	APAC-Atlantic, Inc.		\$400.0000	\$800.00
713-16.21	SIGNS (OM-3)			
		4.000 EACH		
	Rogers Group, Inc.		\$210.0000	\$840.00
	APAC-Atlantic, Inc.		\$125.0000	\$500.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		404.000 EACH		
	Rogers Group, Inc.		\$23.7500	\$9,595.00
	APAC-Atlantic, Inc.		\$33.0000	\$13,332.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		485.000 EACH		
	Rogers Group, Inc.		\$23.7500	\$11,518.75
	APAC-Atlantic, Inc.		\$33.0000	\$16,005.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		180.000 L.F.		
	Rogers Group, Inc.		\$9.3000	\$1,674.00
	APAC-Atlantic, Inc.		\$10.0000	\$1,800.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		225.000 S.Y.		
	Rogers Group, Inc.		\$14.4500	\$3,251.25
	APAC-Atlantic, Inc.		\$16.0000	\$3,600.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	D 0 1	614.000 L.F.	Фо оооо	<b>#5 740 00</b>
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$9.3000 \$10.0000	\$5,710.20 \$6,140.00
	Ar Ac-Alianile, Inc.		\$10.0000	φ0, 140.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		50.000 EACH	<b>4</b>	<b>^-</b>
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$155.0000 \$170.0000	\$7,750.00 \$8,500.00
	AFAC-Allamic, Inc.		\$170.0000	φο,300.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	Deven Orace Inc	3.000 EACH	<b>#</b> 400 0005	<b>#007.00</b>
	Rogers Group, Inc. APAC-Atlantic, Inc.		\$129.0000 \$140.0000	\$387.00 \$420.00
	AL AO-AUGHUO, IIIO.		φ140.0000	φ <del>4</del> 20.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			

2.000 EACH

Rogers Group, Inc.

APAC-Atlantic, Inc.

\$206.00

\$220.00

\$103.0000

\$110.0000

			CONTRACT CNR083
		UNIT PRICE	EXTENSION
716-04.12 PLASTIC PAVEME			
	64.000 S.F.		
Rogers Group, Inc		\$12.4000	\$793.60
APAC-Atlantic, Inc		\$13.5000	\$864.00
716-05.01 PAINTED PAVEME	NT MARKING (4" LINE)		
	7.000 L.M.		
Rogers Group, Inc		\$440.0000	\$3,080.00
APAC-Atlantic, Inc		\$480.0000	\$3,360.00
716-12.01 ENHANCED FLATI	INE THERMO PVMT MRKNG (4IN LINE)		
	27.000 L.M.		
Rogers Group, Inc		\$2,635.0000	\$71,145.00
APAC-Atlantic, Inc		\$2,900.0000	\$78,300.00
716-12.05 ENHANCED FLATI	INE THERMO PVMT MRKNG (6IN DOTTED LINE)		
	650.000 L.F.		
Rogers Group, Inc		\$1.0300	\$669.50
APAC-Atlantic, Inc		\$1.1000	\$715.00
717-01 MOBILIZATION			

Rogers Group, Inc. APAC-Atlantic, Inc.

1.000 LS

\$30,900.0000 \$18,500.0000

\$30,900.00 \$18,500.00

APAC-Atlantic, Inc.	\$883,137.50
Rogers Group, Inc.	\$825,302.45

## TOTAL CONTRACT

Rogers Group, Inc.	\$825,302.45
APAC-Atlantic, Inc.	\$883,137.50

### KNOX AND SEVIER COUNTIES (Contract No. CNR129 Call 063)

HSIP-1254(10),47954-3565-94,HSIP-449(10),78449-3205-94,HSIP-71(30),78008-3257-94,R-PHSIP-33(111),47017-3224-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 33 AND PLEASANT RIDGE ROAD IN KNOX COUNTY AND ON S.R. 71 AND S.R. 449 IN SEVIER COUNTY.

PROJECT LENGTH - 6.380 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2017

TOTAL CONTRACT

Superior Traffic Control, Inc.

\$73,339.95

Highway Markings, Inc.

\$98,212.45

			CONTRACT CNR129
		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
411-12.04 SCORING FOR RUMBLE STRIPE (NON-C	ONTINUOUS) (4IN WIDTH)		
`	2.460 L.M.		
Superior Traffic Control, Inc.		\$2,220.0000	\$5,461.20
Highway Markings, Inc.		\$1,200.0000	\$2,952.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Superior Traffic Control, Inc.		\$2,500.0000	\$2,500.00
Highway Markings, Inc.		\$6,500.0000	\$6,500.00
713-02.20 ROADSIDE OBSTACLE DELINEATION			
	165.000 S.F.		
Superior Traffic Control, Inc.		\$11.0000	\$1,815.00
Highway Markings, Inc.		\$7.5000	\$1,237.50
713-02.21 SIGN POST DELINEATION ENHANCEMEN	NT		
	228.000 L.F.		
Superior Traffic Control, Inc.		\$5.0000	\$1,140.00
Highway Markings, Inc.		\$5.5000	\$1,254.00
713-02.22 BARRIER WALL DELINEATION ENHANC	EMENT		
	100.000 L.F.		
Superior Traffic Control, Inc.		\$4.5000	\$450.00
Highway Markings, Inc.		\$10.2500	\$1,025.00
713-11.01 "U" SECTION STEEL POSTS			
	572.000 LB.		
Superior Traffic Control, Inc.		\$3.5000	\$2,002.00
Highway Markings, Inc.		\$3.6500	\$2,087.80
713-11.02 PERFORATED/KNOCKOUT SQUARE TUE	BE POST		
	1,494.000 LB.		
Superior Traffic Control, Inc.		\$3.6000	\$5,378.40
Highway Markings, Inc.		\$3.9500	\$5,901.30
713-11.21 P POST SLIP BASE			
	5.000 EACH		
Superior Traffic Control, Inc.		\$350.0000	\$1,750.00
Highway Markings, Inc.		\$350.0000	\$1,750.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080"	тніск)		
	257.000 S.F.		
Superior Traffic Control, Inc.		\$12.6500	\$3,251.05
Highway Markings, Inc.		\$14.1500	\$3,636.55
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100"	тніск)		
	_		

277.000 S.F.

Superior Traffic Control, Inc.

Highway Markings, Inc.

\$3,711.80

\$4,058.05

\$13.4000

\$14.6500

CON	JTR A	CT	<b>CNR129</b>	١

			CO	NIRACI CNR129
			UNIT PRICE	EXTENSION
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		29.000 EACH		
	Superior Traffic Control, Inc.		\$10.0000	\$290.00
	Highway Markings, Inc.		\$20.0000	\$580.00
	Tigina, manango, mo.		Ψ20.0000	φοσο.σσ
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
		2.000 EACH		
	Superior Traffic Control, Inc.		\$290.0000	\$580.00
	Highway Markings, Inc.		\$350.0000	\$700.00
713-16 20	SIGNS (W2-2)			
713-10.20	515N5 (N2 2)	4 000 EACH		
	O : T # O : I !	1.000 EACH	<b>#</b> 000 0000	Фооо оо
	Superior Traffic Control, Inc.		\$200.0000 \$250.0000	\$200.00 \$250.00
	Highway Markings, Inc.		φ230.0000	φ250.00
713-16.50	REMOVE AND REPLACE SIGN (W11-2)			
		72.000 EACH		
	Superior Traffic Control, Inc.		\$62.5000	\$4,500.00
	Highway Markings, Inc.		\$165.0000	\$11,880.00
740.04.04	0 111 0 411 (0:0:34 0.1.)			
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	450 000 EACH		
	Our arise Traffic Ocatael Inc	150.000 EACH	<b>#05.000</b>	<b>#0.750.00</b>
	Superior Traffic Control, Inc. Highway Markings, Inc.		\$25.0000 \$25.0000	\$3,750.00 \$3,750.00
	Tilgriway Markings, inc.		φ23.0000	φ3,730.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		6.000 EACH		
	Superior Traffic Control, Inc.		\$25.0000	\$150.00
	Highway Markings, Inc.		\$25.0000	\$150.00
740 04 40	DEMOVE AND DEDUACE LENG ON CHOWDLOWARD F. DEFLEC	STIVE MADIZED		
716-01.40	REMOVE AND REPLACE LENS ON SNOWPLOWABLE REFLEC			
	0	215.000 EACH	40.5000	<b>A</b> 4 007 50
	Superior Traffic Control, Inc.		\$8.5000 \$7.5000	\$1,827.50
	Highway Markings, Inc.		\$7.5000	\$1,612.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		346.000 L.F.		
	Superior Traffic Control, Inc.		\$8.5000	\$2,941.00
	Highway Markings, Inc.		\$10.0000	\$3,460.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	0.000 54011		
	O : T (( O : 1 )	2.000 EACH	<b>#</b> 400,000	Фооо оо
	Superior Traffic Control, Inc.		\$100.0000	\$200.00
	Highway Markings, Inc.		\$150.0000	\$300.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		170.000 L.F.		
	Superior Traffic Control, Inc.		\$5.0000	\$850.00
	Highway Markings, Inc.		\$11.0000	\$1,870.00

CONTRACT C	NR1	29
------------	-----	----

				CONTRACT CNR129
			UNIT PRICE	EXTENSION
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		245.000 L.F.		
	Superior Traffic Control, Inc.		\$2.0000	\$490.00
	Highway Markings, Inc.		\$2.4500	\$600.25
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
		540.000 L.F.		
	Superior Traffic Control, Inc.		\$18.0000	\$9,720.00
	Highway Markings, Inc.		\$23.7500	\$12,825.00
716-02.23	PLASTIC PAVEMENT MARKING (12IN BARRIER LINE)			
		132.000 L.F.		
	Superior Traffic Control, Inc.	.02.000 2	\$4.0000	\$528.00
	Highway Markings, Inc.		\$4.7500	\$627.00
	Thighway Markings, me.		ψ4.7500	ψ027.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		2.000 EACH		*
	Superior Traffic Control, Inc.		\$125.0000	\$250.00
	Highway Markings, Inc.		\$275.0000	\$550.00
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
		2.000 EACH		
	Superior Traffic Control, Inc.		\$350.0000	\$700.00
	Highway Markings, Inc.		\$375.0000	\$750.00
716-03.09	PLASTIC WORD PAVEMENT MARKING (DO NOT BLOCK)			
	` ,	1.000 EACH		
	Superior Traffic Control, Inc.		\$300.0000	\$300.00
	Highway Markings, Inc.		\$675.0000	\$675.00
	The mainings, mo.		φον σ.σσσσ	φο. σ.σσ
716-04.16	PLASTIC PAVEMENT MARKING (NOISE STRIP)			
		144.000 L.F.		
	Superior Traffic Control, Inc.		\$10.0000	\$1,440.00
	Highway Markings, Inc.		\$7.7500	\$1,116.00
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
		48.000 L.F.		
	Superior Traffic Control, Inc.		\$5.0000	\$240.00
	Highway Markings, Inc.		\$4.0000	\$192.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	, ,,	5.360 L.M.		
	Superior Traffic Control, Inc.		\$1,500.0000	\$8,040.00
	Highway Markings, Inc.		\$1,625.0000	\$8,710.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		350.000 L.F.		
	Superior Traffic Control, Inc.		\$1.0000	\$350.00
	Highway Markings, Inc.		\$0.7500	\$262.50

			CONTRACT CNR129
		UNIT PRI	CE EXTENSION
717-01	MOBILIZATION		
•.		1.000 LS	
	Superior Traffic Control, Inc.	\$3,000.00	00 \$3,000.00
	Highway Markings, Inc.	\$9,000.00	
730-02.41	SIGNAL HEAD MODIFICATION (BACKPLATE W/ REFLECTIVE BORD	ER)	
	·	6.000 EACH	
	Superior Traffic Control, Inc.	\$209.00	00 \$1,254.00
	Highway Markings, Inc.	\$575.00	
730-26.05	COUNTDOWN PEDESTRIAN SIGNAL		
		2.000 EACH	
	Superior Traffic Control, Inc.	\$840.00	00 \$1,680.00
	Highway Markings, Inc.	\$750.00	
730-26.08	FLASHING WARNING BEACON (DESCRIPTION)		
		1.000 EACH	

Superior Traffic Control, Inc. Highway Markings, Inc. \$2,600.00 \$3,000.00

\$2,600.0000 \$3,000.0000

Highway Markings, Inc.	\$98,212.45
Superior Traffic Control, Inc.	\$73,339.95

## **TOTAL CONTRACT**

Superior Traffic Control, Inc. \$73,339.95 Highway Markings, Inc. \$98,212.45

#### LAWRENCE COUNTY (Contract No. CNR088 Call 064)

NH/HSIP-6(121),50001-3270-94,50001-8270-14

THE RESURFACING ON U.S. 43 (S.R. 6) FROM COUNTRYSIDE DRIVE (L.M. 4.91) TO SOUTH OF BUSBY ROAD (L.M. 9.65).

PROJECT LENGTH - 4.470 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,428,782.00

ROADWAY CATEGORY			UNIT PRICE	CONTRACT CNR088 EXTENSION
307-01.08 ASPHALT CONCE	RETE MIX (PG64-22) (BPMB-HM) GRADING B-M			
Rogers Group, In	ıc.	600.000 TON	\$70.0000	\$42,000.00
403-01 BITUMINOUS MA	TERIAL FOR TACK COAT (TC)			
Rogers Group, In	IC.	74.000 TON	\$560.0000	\$41,440.00
411-01.10 ACS MIX(PG64-22	2) GRADING D			
Rogers Group, In	ıc.	12,090.000 TON	\$73.0000	\$882,570.00
415-01.01 COLD PLANING E	BITUMINOUS PAVEMENT			
Rogers Group, In	IC.	11,976.000 TON	\$15.0000	\$179,640.00
502-03.13 CONCRETE PAVE	EMENT REMOVAL			
Rogers Group, In	IC.	6.000 S.Y.	\$40.5000	\$243.00
611-01.20 ADJUSTMENT OF	EXISTING MANHOLE			
Rogers Group, In	ic.	4.000 EACH	\$1,010.0000	\$4,040.00
702-03 CONCRETE COM	BINED CURB & GUTTER			
Rogers Group, In	ic.	2.000 C.Y.	\$560.0000	\$1,120.00
712-01 TRAFFIC CONTRO	OL			
Rogers Group, In	ic.	1.000 LS	\$37,439.0000	\$37,439.00
712-04.01 FLEXIBLE DRUMS	S (CHANNELIZING)			
Rogers Group, In	ic.	25.000 EACH	\$7.0000	\$175.00
712-05.01 WARNING LIGHTS	S (TYPE A)			
Rogers Group, In	ic.	4.000 EACH	\$7.0000	\$28.00
712-06 SIGNS (CONSTRU	JCTION)			
Rogers Group, In	IC.	928.000 S.F.	\$7.5000	\$6,960.00
716-01.21 Snwplwble Pvmt	Mrkrs (Bi-Dir)(1 Color)			

657.000 EACH

Rogers Group, Inc.

\$14,454.00

\$22.0000

			UNIT PRICE	CONTRACT CNR088 EXTENSION
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
	Rogers Group, Inc.	657.000 EACH	\$22.0000	\$14,454.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	Rogers Group, Inc.	130.000 L.F.	\$11.0000	\$1,430.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Rogers Group, Inc.	36.000 S.Y.	\$21.0000	\$756.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	668.000 L.F.	\$13.0000	\$8,684.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	42.000 EACH	\$130.0000	\$5,460.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Rogers Group, Inc.	24.400 L.M.	\$910.0000	\$22,204.00
716-05.10	PAINTED PAVEMENT MARKING (RXR)			
	Rogers Group, Inc.	18.000 EACH	\$210.0000	\$3,780.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	14.900 L.M.	\$4,620.0000	\$68,838.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Rogers Group, Inc.	9.500 L.M.	\$2,320.0000	\$22,040.00
717-01	MOBILIZATION			
	Rogers Group, Inc.	1.000 LS	\$44,867.0000	\$44,867.00
730-14.02	SAW SLOT			
	Rogers Group, Inc.	4,200.000 L.F.	\$4.0000	\$16,800.00
730-14.03	LOOP WIRE	0.000.000		
	Rogers Group, Inc.	9,360.000 L.F.	\$1.0000	\$9,360.00

Rogers Group, Inc. \$1,428,782.00

## **TOTAL CONTRACT**

Rogers Group, Inc. \$1,428,782.00

#### LAWRENCE COUNTY (Contract No. CNR112 Call 065)

STP/HSIP-242(163),50013-3228-94,50013-8228-14

THE RESURFACING ON S.R. 242 FROM U.S. 64 (S.R. 15) (L.M. 22.90) TO NORTH OF ETHRIDGE RED-HILL ROAD (L.M. 28.20).

PROJECT LENGTH - 5.300 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$798,482.00

ROADW <i>!</i>	AY CATEGORY		UNIT PRICE	CONTRACT CNR112 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	1,321.000 TON	\$19.0000	\$25,099.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADII			
	Rogers Group, Inc.	500.000 TON	\$68.0000	\$34,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	61.000 TON	\$590.0000	\$35,990.00
405-01.01	BITUMINOUS MATERIAL (BSC)			
	Rogers Group, Inc.	153.000 TON	\$700.0000	\$107,100.00
405-01.02	MINERAL AGGREGATE (BSC)			
	Rogers Group, Inc.	1,274.000 TON	\$42.0000	\$53,508.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Rogers Group, Inc.	4,442.000 TON	\$76.0000	\$337,592.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (81			
	Rogers Group, Inc.	8.500 L.M.	\$710.0000	\$6,035.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Rogers Group, Inc.	270.000 S.F.	\$32.0000	\$8,640.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Rogers Group, Inc.	3.000 EACH	\$2,760.0000	\$8,280.00
706-01	GUARDRAIL REMOVED			
	Rogers Group, Inc.	150.000 L.F.	\$2.0000	\$300.00
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$27,482.0000	\$27,482.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			

25.000 EACH

Rogers Group, Inc.

\$125.00

\$5.0000

	Rogers Group, Inc.	2,128.000 S.F.	\$7.5000	\$15,960.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	350.000 EACH		
	Rogers Group, Inc.		\$29.0000	\$10,150.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	250.000 L.F.		
	Rogers Group, Inc.		\$12.0000	\$3,000.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	1.000 EACH		
	Rogers Group, Inc.		\$170.0000	\$170.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)	2.000 EACH		
	Rogers Group, Inc.		\$480.0000	\$960.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)	1.000 EACH		
	Rogers Group, Inc.	1.000 EACH	\$190.0000	\$190.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	20.200 L.M.		
	Rogers Group, Inc.	20.200 L.W.	\$700.0000	\$14,140.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	0 C00 L M		
	Rogers Group, Inc.	9.600 L.M.	\$4,500.0000	\$43,200.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Rogers Group, Inc.	10.600 L.M.	\$2,500.0000	\$26,500.00
717-01	MOBILIZATION			
	Rogers Group, Inc.	1.000 LS	\$40,041.0000	\$40,041.00

Rogers Group, Inc. \$798,482.00

## **TOTAL CONTRACT**

Rogers Group, Inc. \$798,482.00

#### MARSHALL COUNTY (Contract No. CNR011 Call 066)

59019-4222-04, HSIP-129(12), 59019-3222-94

THE RESURFACING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 129 FROM U.S. 31A (S.R. 11) (L.M. 6.22) TO S.R. 272 (L.M. 11.97).

PROJECT LENGTH - 5.750 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Lincoln Paving, LLC

\$546,050.54

**Hudson Construction Company** 

\$597,234.22

				CONTRACT CNR011
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADI	ING D		
303-01	MINERAL AGGREGATE, TIPE A BASE, GRADI	725.000 TON		
	Lincoln Paving, LLC	723.300 1314	\$30.0000	\$21,750.00
	Hudson Construction Company		\$40.0000	\$29,000.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTIN	NUOUS) (8IN WIDTH)		
		10.000 L.M.		
	Lincoln Paving, LLC Hudson Construction Company		\$675.0000 \$600.0000	\$6,750.00 \$6,000.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		1,288.000 L.F.		
	Lincoln Paving, LLC Hudson Construction Company		\$17.0000 \$17.0000	\$21,896.00 \$21,896.00
705-04.04	GUARDRAIL TERMINAL (TYPE 21)			
	, ,	4.000 EACH		
	Lincoln Paving, LLC		\$1,875.0000	\$7,500.00
	Hudson Construction Company		\$1,875.0000	\$7,500.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)	4 000 54 011		
	Lincoln Paving, LLC	4.000 EACH	\$900.0000	\$3,600.00
	Hudson Construction Company		\$900.0000	\$3,600.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH			
		29.000 EACH		
	Lincoln Paving, LLC Hudson Construction Company		\$2,450.0000 \$2,500.0000	\$71,050.00 \$72,500.00
706-01	GUARDRAIL REMOVED			
		2,375.000 L.F.		
	Lincoln Paving, LLC Hudson Construction Company		\$0.5000 \$0.5000	\$1,187.50 \$1,187.50
706-06.03	RADIUS RAIL			
		25.000 L.F.		
	Lincoln Paving, LLC		\$25.0000	\$625.00
	Hudson Construction Company		\$25.0000	\$625.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Lincoln Paving, LLC		\$16,660.0000	\$16,660.00
	Hudson Construction Company		\$21,850.0000	\$21,850.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	<b></b>		
	Lincoln Boying LLC	25.000 EACH	0000	¢750.00

Lincoln Paving, LLC

**Hudson Construction Company** 

\$750.00

\$125.00

\$30.0000

\$5.0000

				CONTRACT CNR011
			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
	,	4.000 EACH		
	Lincoln Paving, LLC		\$25.0000	\$100.00
	Hudson Construction Company		\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
		640.000 S.F.		
	Lincoln Paving, LLC		\$6.0000	\$3,840.00
	Hudson Construction Company		\$7.5000	\$4,800.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		2.000 EACH		
	Lincoln Paving, LLC		\$100.0000	\$200.00
	Hudson Construction Company		\$50.0000	\$100.00
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
		2.000 EACH		
	Lincoln Paving, LLC		\$250.0000	\$500.00
	Hudson Construction Company		\$325.0000	\$650.00
713-16.20	SIGNS (W14-3 NO PASSING ZONE)			
		2.000 EACH		
	Lincoln Paving, LLC Hudson Construction Company		\$200.0000 \$290.0000	\$400.00 \$580.00
	Triudson Construction Company		φ290.0000	φ360.00
713-16.50	REMOVE AND REPLACE SIGN (12"X36" OBJECT MARK	ER W/ POST)		
		24.000 EACH		
	Lincoln Paving, LLC Hudson Construction Company		\$100.0000 \$220.0000	\$2,400.00 \$5,280.00
	Triudson Construction Company		Ψ220.0000	ψ3,200.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		380.000 EACH		<b>.</b>
	Lincoln Paving, LLC Hudson Construction Company		\$25.0000 \$25.0000	\$9,500.00 \$9,500.00
	Tradson Construction Company		Ψ23.0000	ψ3,500.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		22.000 L.F.		
	Lincoln Paving, LLC Hudson Construction Company		\$15.0000 \$15.0000	\$330.00 \$330.00
	Tradson Construction Company		Ψ10.0000	φοσο.σσ
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
		2.000 EACH	<b>**</b>	<b>*.</b> * = = = =
	Lincoln Paving, LLC Hudson Construction Company		\$650.0000 \$650.0000	\$1,300.00 \$1,300.00
	Traceon Constitution Company		ψοσο.οσου	ψ1,000.00

10.400 L.M.

716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)

Lincoln Paving, LLC

**Hudson Construction Company** 

\$49,920.00

\$49,920.00

\$4,800.0000

\$4,800.0000

				CONTRACT CNR011
			UNIT PRICE	EXTENSION
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	, ,,	23.000 L.M.		
	Lincoln Paving, LLC		\$1,800.0000	\$41,400.00
	Hudson Construction Company		\$1,800.0000	\$41,400.00
717-01	MOBILIZATION			
		1.000 LS		
	Lincoln Paving, LLC		\$25,640.0000	\$25,640.00
	Hudson Construction Company		\$15,000.0000	\$15,000.00

ROADWAY ALTERNATE AA1 CATEGORY		UNIT PRICE	EXTENSION
403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFAC	ING)		
Hudson Construction Company Lincoln Paving, LLC	15.000 TON	\$367.0000	\$5,505.00
414-03.01 EMULSIFIED ASPHALT FOR MICRO-SURFACING			
Hudson Construction Company Lincoln Paving, LLC	168.000 TON	\$839.6900	\$141,067.92
414-03.02 AGGREGATE FOR MICRO SURFACING			
Hudson Construction Company Lincoln Paving, LLC	1,394.000 TON	\$101.2000	\$141,072.80
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	21.900 L.M.		

**Hudson Construction Company** 

Lincoln Paving, LLC

\$16,425.00

\$750.0000

			(	CONTRACT CNR011
ROADW	AY ALTERNATE AA2 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	29.000 TON		
	Lincoln Paving, LLC Hudson Construction Company		\$590.0000	\$17,110.00
411-03.12	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		3,713.000 TON		
	Lincoln Paving, LLC		\$65.0800	\$241,642.04

Hudson Construction Company

Hudson Construction Company	\$293,163.50
Lincoln Paving, LLC	\$287,298.50
SUB-TOTAL ROADWAY ALTERNATE AA1	
Hudson Construction Company	\$304,070.72
SUB-TOTAL ROADWAY ALTERNATE AA2	
Lincoln Paving, LLC	\$258,752.04
TOTAL CONTRACT	
Lincoln Paving, LLC	\$546,050.54
Hudson Construction Company	\$597,234.22

#### LEWIS COUNTY (Contract No. CNR095 Call 067)

51003-4217-04, HSIP-48(54), 51003-3217-94

THE RESURFACING ON S.R. 48 FROM THE BRIDGE OVER TRACE CREEK (L.M. 5.15) TO S.R. 20 (L.M. 10.71).

PROJECT LENGTH - 5.560 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.00%

TOTAL CONTRACT

Rogers Group, Inc. \$673,000.00
Eubank Asphalt Paving & Sealing \$724,953.71
Wayne County Rock Inc. \$766,804.56

			CONTRACT CHRU95
		UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		
200 00 02	TEMPORARY SILT FENCE (WITHOUT BACKING)		
209-00.03	500.000 L	_	
	Rogers Group, Inc.	\$5.5000	\$2,750.00
	Eubank Asphalt Paving & Sealing	\$1.0000	\$500.00
	Wayne County Rock Inc.	\$2.8800	\$1,440.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	1,597.000 T	ΓΟN	
	Rogers Group, Inc.	\$19.0000	\$30,343.00
	Eubank Asphalt Paving & Sealing	\$22.4300	\$35,820.71
	Wayne County Rock Inc.	\$25.6600	\$40,979.02
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	500.000 T	<b>TON</b>	
	Rogers Group, Inc.	\$60.0000	\$30,000.00
	Eubank Asphalt Paving & Sealing	\$65.0000	\$32,500.00
	Wayne County Rock Inc.	\$80.0000	\$40,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	56.000 T	ΓΟN	
	Rogers Group, Inc.	\$550.0000	\$30,800.00
	Eubank Asphalt Paving & Sealing	\$450.0000	\$25,200.00
	Wayne County Rock Inc.	\$650.0000	\$36,400.00
405-01.01	BITUMINOUS MATERIAL (BSC)		
	142.000 T	ΓΟN	
	Rogers Group, Inc.	\$700.0000	\$99,400.00
	Eubank Asphalt Paving & Sealing	\$765.0000	\$108,630.00
	Wayne County Rock Inc.	\$470.3700	\$66,792.54
405-01.02	MINERAL AGGREGATE (BSC)		
	1,181.000 T	ΓΟN	
	Rogers Group, Inc.	\$44.0000	\$51,964.00
	Eubank Asphalt Paving & Sealing	\$45.0000	\$53,145.00
	Wayne County Rock Inc.	\$58.5600	\$69,159.36
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT		
	3,960.000 T	TON	
	Rogers Group, Inc.	\$65.5000	\$259,380.00
	Eubank Asphalt Paving & Sealing	\$75.0000	\$297,000.00
	Wayne County Rock Inc.	\$81.2500	\$321,750.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
	8.900 L	M.	
	Rogers Group, Inc.	\$785.0000	\$6,986.50
	Eubank Asphalt Paving & Sealing	\$350.0000	\$3,115.00
	Wayne County Rock Inc.	\$749.4300	\$6,669.93

			LINIT DDIOE	EVEL ON THE STATE OF THE STATE
			UNIT PRICE	EXTENSION
705 00 00	TANCENT ENERGY ARCORDING TERM MACULTI 2			
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	5 000 F4 OU		
	Denote October Inc.	5.000 EACH	<b>#0.705.0000</b>	£40.005.00
	Rogers Group, Inc. Eubank Asphalt Paving & Sealing		\$2,725.0000 \$2,100.0000	\$13,625.00 \$10,500.00
	Wayne County Rock Inc.		\$2,350.0000	\$11,750.00
	Wayno County Nook inc.		Ψ2,000.0000	ψ11,700.00
706-01	GUARDRAIL REMOVED			
		250.000 L.F.		
	Rogers Group, Inc.		\$1.0500	\$262.50
	Eubank Asphalt Paving & Sealing		\$3.0000	\$750.00
	Wayne County Rock Inc.		\$2.0000	\$500.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		500.000 L.F.		
	Rogers Group, Inc.		\$5.7500	\$2,875.00
	Eubank Asphalt Paving & Sealing		\$0.2500	\$125.00
	Wayne County Rock Inc.		\$10.0000	\$5,000.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$5,000.0000	\$5,000.00
	Eubank Asphalt Paving & Sealing		\$8,500.0000	\$8,500.00
	Wayne County Rock Inc.		\$6,751.8000	\$6,751.80
712-04-01	FLEXIBLE DRUMS (CHANNELIZING)			
712-04.01	FLEXIBLE DROINS (CHANNELIZING)	25.000 EACH		
	Rogers Group, Inc.	23.000 EACH	\$5.2500	\$131.25
	Eubank Asphalt Paving & Sealing		\$5.2500 \$5.0000	\$125.00
	Wayne County Rock Inc.		\$5.0000	\$125.00
	.,		,	•
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Rogers Group, Inc.		\$5.2500	\$21.00
	Eubank Asphalt Paving & Sealing		\$5.0000	\$20.00
	Wayne County Rock Inc.		\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
		1,064.000 S.F.		
	Rogers Group, Inc.		\$7.7500	\$8,246.00
	Eubank Asphalt Paving & Sealing		\$7.0000	\$7,448.00
	Wayne County Rock Inc.		\$6.5000	\$6,916.00
716 04 04	Spurphyble Dymt Mikro (D: Div)/4 Calary			
710-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Damara Crayer Inc.	370.000 EACH	<b>#00.4000</b>	фо <b>7</b> 00 00
	Rogers Group, Inc.		\$26.4000 \$35.0000	\$9,768.00 \$12,050.00
	Eubank Asphalt Paving & Sealing Wayne County Rock Inc.		\$35.0000 \$25.0000	\$12,950.00 \$9,250.00
	rrayno Jounty Rook inc.		Ψ20.0000	ψυ,200.00

0011			~~=
('() N	TRACT	CNR	ıus

				CONTRACT	CINKU95
			UNIT PRICE	EXT	ENSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)				
		200.000 L.F.			
	Rogers Group, Inc.		\$15.8500	\$3	3,170.00
	Eubank Asphalt Paving & Sealing		\$20.0000	\$4	4,000.00
	Wayne County Rock Inc.		\$15.0000	\$3	3,000.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)				
		20.300 L.M.			
	Rogers Group, Inc.		\$1,000.0000	\$20	0,300.00
	Eubank Asphalt Paving & Sealing		\$900.0000	\$18	8,270.00
	Wayne County Rock Inc.		\$950.0000	\$19	9,285.00
716-12.02	PENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		9.170 L.M.			
	Rogers Group, Inc.		\$5,250.0000	\$48	8,142.50
	Eubank Asphalt Paving & Sealing		\$5,500.0000	\$50	0,435.00
	Wayne County Rock Inc.		\$5,000.0000	\$45	5,850.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)				
		11.120 L.M.			
	Rogers Group, Inc.		\$2,850.0000	\$3^	1,692.00
	Eubank Asphalt Paving & Sealing		\$3,500.0000	\$38	8,920.00
	Wayne County Rock Inc.		\$2,700.0000	\$30	0,024.00
717-01	MOBILIZATION				
		1.000 LS			
	Rogers Group, Inc.		\$18,143.2500	\$18	8,143.25
	Eubank Asphalt Paving & Sealing		\$17,000.0000	\$17	7,000.00
	Wayne County Rock Inc.		\$45,141.9100	\$45	5,141.91

Wayne County Rock Inc.	\$766,804.56
Eubank Asphalt Paving & Sealing	\$724,953.71
Rogers Group, Inc.	\$673,000.00

#### **TOTAL CONTRACT**

Rogers Group, Inc.	\$673,000.00
Eubank Asphalt Paving & Sealing	\$724,953.71
Wayne County Rock Inc.	\$766,804.56

#### LINCOLN COUNTY (Contract No. CNR103 Call 068)

52021-4222-04, HSIP-275(10), 52021-3222-94

THE RESURFACING ON S.R. 275 FROM VANNTOWN ROAD (L.M. 7.16) TO U.S. 64 (S.R. 15) (L.M. 14.19).

PROJECT LENGTH - 7.030 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.50%

TOTAL CONTRACT

Lincoln Paving, LLC

\$764,262.54

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNR103 EXTENSION
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
	Lincoln Paving, LLC	500.000 L.F.	\$1.5000	\$750.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Lincoln Paving, LLC	5,884.000 TON	\$21.2500	\$125,035.00
307-01.08	S ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAI			
	Lincoln Paving, LLC	447.000 TON	\$75.7800	\$33,873.66
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Lincoln Paving, LLC	38.000 TON	\$725.0000	\$27,550.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Lincoln Paving, LLC	5,112.000 TON	\$74.7400	\$382,070.88
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)			
	Lincoln Paving, LLC	11.300 L.M.	\$745.0000	\$8,418.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Lincoln Paving, LLC	3,958.000 S.Y.	\$2.7500	\$10,884.50
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Lincoln Paving, LLC	500.000 L.F.	\$3.0000	\$1,500.00
712-01	TRAFFIC CONTROL			
	Lincoln Paving, LLC	1.000 LS	\$12,200.0000	\$12,200.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Lincoln Paving, LLC	25.000 EACH	\$35.0000	\$875.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Lincoln Paving, LLC	2.000 EACH	\$25.0000	\$50.00
712-06	SIGNS (CONSTRUCTION)			

1,688.000 S.F.

Lincoln Paving, LLC

\$12,660.00

\$7.5000

			UNIT PRICE	CONTRACT CNR103 EXTENSION
713-02.16	FLEXIBLE TYPE II OBJECT MARKER			
	Lincoln Paving, LLC	4.000 EACH	\$250.0000	\$1,000.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Lincoln Paving, LLC	465.000 EACH	\$25.0000	\$11,625.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Lincoln Paving, LLC	465.000 EACH	\$10.0000	\$4,650.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	2 222 2 V		
	Lincoln Paving, LLC	8.000 S.Y.	\$20.0000	\$160.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Lincoln Paving, LLC	315.000 L.F.	\$15.0000	\$4,725.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Lincoln Paving, LLC	1.000 EACH	\$150.0000	\$150.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Lincoln Paving, LLC	3.800 L.M.	\$950.0000	\$3,610.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Lincoln Paving, LLC	13.100 L.M.	\$4,800.0000	\$62,880.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Lincoln Paving, LLC	14.100 L.M.	\$2,200.0000	\$31,020.00
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)			
	Lincoln Paving, LLC	115.000 L.F.	\$5.0000	\$575.00
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
	Lincoln Paving, LLC	575.000 L.F.	\$4.0000	\$2,300.00
717-01	MOBILIZATION	4.000.0		
	Lincoln Paving, LLC	1.000 LS	\$25,700.0000	\$25,700.00

Lincoln Paving, LLC \$764,262.54

## **TOTAL CONTRACT**

Lincoln Paving, LLC \$764,262.54

#### MADISON COUNTY (Contract No. CNR072 Call 069)

BR-STP-138(8),57014-3222-94

THE CONSTRUCTION OF TWO (2) CONCRETE BOX BRIDGES ON S.R. 138 OVER MUDDY CREEK (L.M. 1.15).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2017

**DBE GOAL 10.00%** 

	TOTAL CONTRACT
Ford Construction Company	\$911,415.07
Thomson & Thomson, Inc.	\$1,049,728.30
Jones Bros., Inc.	\$1,050,935.45
Volunteer Bridge Construction, Inc.	\$1,157,953.10
Dement Construction Company, LLC	\$1,185,880.70

UNIT PRICE EXTENSION

_	$\sim$			A 1	.,	$\sim$	A -	ΓΕ	^	^	$\mathbf{a}$	₹.	•
н		Δ	 w	Δ	v		Δ			( )	ĸ	·v	•

ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Ford Construction Company		\$18,000.0000	\$18,000.00
	Thomson & Thomson, Inc.		\$22,000.0000	\$22,000.00
	Jones Bros., Inc.		\$19,518.0000	\$19,518.00
	Volunteer Bridge Construction, Inc.		\$25,000.0000	\$25,000.00
	Dement Construction Company, LLC		\$10,000.0000	\$10,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Ford Construction Company		\$10,000.0000	\$10,000.00
	Thomson & Thomson, Inc.		\$10,000.0000	\$10,000.00
	Jones Bros., Inc.		\$50,000.0000	\$50,000.00
	Volunteer Bridge Construction, Inc.		\$15,000.0000	\$15,000.00
	Dement Construction Company, LLC		\$25,000.0000	\$25,000.00
202-01.13	REMOVAL OF PIPE (12" , STA. 50+05; 24", STA. 52+86; 30	6" . STA. 55+36)		
202 01110		151.000 L.F.		
	Ford Construction Company		\$10.0000	\$1,510.00
	Thomson & Thomson, Inc.		\$35.0000	\$5,285.00
	Jones Bros., Inc.		\$40.0000	\$6,040.00
	Volunteer Bridge Construction, Inc.		\$25.0000	\$3,775.00
	Dement Construction Company, LLC		\$35.0000	\$5,285.00
202-04.50	REMOVAL OF STRUCTURES (28.47' SPAN, STA. 58+29)			
	,,	1.000 LS		
	Ford Construction Company		\$11,500.0000	\$11,500.00
	Thomson & Thomson, Inc.		\$8,000.0000	\$8,000.00
	Jones Bros., Inc.		\$10,000.0000	\$10,000.00
	Volunteer Bridge Construction, Inc.		\$15,000.0000	\$15,000.00
	Dement Construction Company, LLC		\$20,000.0000	\$20,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
200 0.		2,731.000 C.Y.		
	Ford Construction Company	,	\$6.6000	\$18,024.60
	Thomson & Thomson, Inc.		\$14.0000	\$38,234.00
	Jones Bros., Inc.		\$12.0000	\$32,772.00
	Volunteer Bridge Construction, Inc.		\$6.0000	\$16,386.00
	Dement Construction Company, LLC		\$12.0000	\$32,772.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
203-03	BONNOW EXCAVATION (UNGERSSIII IED)	408.000 C.Y.		
	Ford Construction Company		\$11.0000	\$4,488.00
	Thomson & Thomson, Inc.		\$26.0000	\$10,608.00
	Jones Bros., Inc.		\$15.0000	\$6,120.00
	Volunteer Bridge Construction, Inc.		\$13.0000	\$5,304.00
	Dement Construction Company, LLC		\$40.0000	\$16,320.00

			UNIT PRICE	EXTENSION
203-06	WATER			
		18.000 M.G.		
	Ford Construction Company		\$12.0000	\$216.00
	Thomson & Thomson, Inc.		\$30.0000	\$540.00
	Jones Bros., Inc.		\$50.0000	\$900.00
	Volunteer Bridge Construction, Inc.		\$1.0000	\$18.00
	Dement Construction Company, LLC		\$100.0000	\$1,800.00
204-08	FOUNDATION FILL MATERIAL			
		110.000 C.Y.		
	Ford Construction Company		\$53.0000	\$5,830.00
	Thomson & Thomson, Inc.		\$45.0000	\$4,950.00
	Jones Bros., Inc.		\$52.0000	\$5,720.00
	Volunteer Bridge Construction, Inc.		\$40.0000	\$4,400.00
	Dement Construction Company, LLC		\$90.0000	\$9,900.00
209-05	SEDIMENT REMOVAL			
		62.000 C.Y.		
	Ford Construction Company		\$3.4500	\$213.90
	Thomson & Thomson, Inc.		\$14.0000	\$868.00
	Jones Bros., Inc.		\$20.0000	\$1,240.00
	Volunteer Bridge Construction, Inc.		\$4.0000	\$248.00
	Dement Construction Company, LLC		\$30.0000	\$1,860.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		830.000 L.F.		
	Ford Construction Company		\$4.6000	\$3,818.00
	Thomson & Thomson, Inc.		\$6.0000	\$4,980.00
	Jones Bros., Inc.		\$6.0000	\$4,980.00
	Volunteer Bridge Construction, Inc.		\$7.0000	\$5,810.00
	Dement Construction Company, LLC		\$6.0000	\$4,980.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		500.000 L.F.		
	Ford Construction Company		\$1.5000	\$750.00
	Thomson & Thomson, Inc.		\$3.0000	\$1,500.00
	Jones Bros., Inc.		\$3.0000	\$1,500.00
	Volunteer Bridge Construction, Inc.		\$5.0000	\$2,500.00
	Dement Construction Company, LLC		\$3.0000	\$1,500.00
209-08.08	ENHANCED ROCK CHECK DAM			
		8.000 EACH		
	Ford Construction Company		\$550.0000	\$4,400.00
	Thomson & Thomson, Inc.		\$1,750.0000	\$14,000.00
	Jones Bros., Inc.		\$550.0000	\$4,400.00
	Volunteer Bridge Construction, Inc.		\$1,500.0000	\$12,000.00
	Dement Construction Company, LLC		\$550.0000	\$4,400.00

				EVEL COLOR
			UNIT PRICE	EXTENSION
209-09.01	SANDBAGS			
		300.000 BAG		
	Ford Construction Company		\$3.5600	\$1,068.00
	Thomson & Thomson, Inc.		\$7.0000	\$2,100.00
	Jones Bros., Inc.		\$6.0000	\$1,800.00
	Volunteer Bridge Construction, Inc.		\$5.0000	\$1,500.00
	Dement Construction Company, LLC		\$6.0000	\$1,800.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		4.000 EACH		
	Ford Construction Company		\$500.0000	\$2,000.00
	Thomson & Thomson, Inc.		\$600.0000	\$2,400.00
	Jones Bros., Inc.		\$550.0000	\$2,200.00
	Volunteer Bridge Construction, Inc.		\$300.0000	\$1,200.00
	Dement Construction Company, LLC		\$550.0000	\$2,200.00
	, ,,		·	
209-20.04	POLYETHYLENE SHEETING (10 MIL.)			
	,	200.000 S.Y.		
	Ford Construction Company	200.000 3.1.	\$2.0000	\$400.00
	Ford Construction Company Thomson & Thomson, Inc.		\$3.0000	\$600.00
	Jones Bros., Inc.		\$3.000 \$2.5000	\$500.00 \$500.00
	Volunteer Bridge Construction, Inc.		\$8.0000	\$1,600.00
	Dement Construction Company, LLC		\$2.5000	\$500.00
	Dement Construction Company, LLC		φ2.5000	\$500.00
200-65 04	TEMPORARY IN STREAM DIVERSION			
205-05.04	TEMPORART IN STREAM DIVERSION	000 000 1 5		
		330.000 L.F.	*	
	Ford Construction Company		\$12.0000	\$3,960.00
	Thomson & Thomson, Inc.		\$20.0000	\$6,600.00
	Jones Bros., Inc.		\$20.0000	\$6,600.00
	Volunteer Bridge Construction, Inc.		\$28.0000	\$9,240.00
	Dement Construction Company, LLC		\$10.0000	\$3,300.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,806.000 TON		
	Ford Construction Company		\$26.0000	\$46,956.00
	Thomson & Thomson, Inc.		\$30.0000	\$54,180.00
	Jones Bros., Inc.		\$35.0000	\$63,210.00
	Volunteer Bridge Construction, Inc.		\$30.0000	\$54,180.00
	Dement Construction Company, LLC		\$38.0000	\$68,628.00
303-01.01	GRANULAR BACKFILL (ROADWAY)			
		770.000 TON		
	Ford Construction Company		\$34.0000	\$26,180.00
	Thomson & Thomson, Inc.		\$31.0000	\$23,870.00
	Jones Bros., Inc.		\$35.0000	\$26,950.00
	Volunteer Bridge Construction, Inc.		\$35.0000	\$26,950.00
	Dement Construction Company, LLC		\$45.0000	\$34,650.00

			UNIT PRICE	EXTENSION
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	,	100.000 TON		
	Ford Construction Company		\$36.0000	\$3,600.00
	Thomson & Thomson, Inc.		\$35.0000	\$3,500.00
	Jones Bros., Inc.		\$40.0000	\$4,000.00
	Volunteer Bridge Construction, Inc.		\$40.0000	\$4,000.00
	Dement Construction Company, LLC		\$45.0000	\$4,500.00
303-10.03	MINERAL AGGREGATE (SIZE 68)			
		43.000 TON		
	Ford Construction Company		\$36.0000	\$1,548.00
	Thomson & Thomson, Inc.		\$33.0000	\$1,419.00
	Jones Bros., Inc.		\$40.0000	\$1,720.00
	Volunteer Bridge Construction, Inc.		\$40.0000	\$1,720.00
	Dement Construction Company, LLC		\$65.0000	\$2,795.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
		750.000 TON		
	Ford Construction Company		\$96.0000	\$72,000.00
	Thomson & Thomson, Inc.		\$90.0000	\$67,500.00
	Jones Bros., Inc.		\$90.0000	\$67,500.00
	Volunteer Bridge Construction, Inc.		\$95.0000	\$71,250.00
	Dement Construction Company, LLC		\$90.0000	\$67,500.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
		456.000 TON		
	Ford Construction Company		\$96.0000	\$43,776.00
	Thomson & Thomson, Inc.		\$94.0000	\$42,864.00
	Jones Bros., Inc.		\$94.0000	\$42,864.00
	Volunteer Bridge Construction, Inc.		\$99.0000	\$45,144.00
	Dement Construction Company, LLC		\$94.0000	\$42,864.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		7.000 TON		
	Ford Construction Company		\$200.0000	\$1,400.00
	Thomson & Thomson, Inc.		\$940.0000	\$6,580.00
	Jones Bros., Inc.		\$940.0000	\$6,580.00
	Volunteer Bridge Construction, Inc.		\$1,000.0000	\$7,000.00
	Dement Construction Company, LLC		\$940.0000	\$6,580.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		25.000 TON		
	Ford Construction Company		\$5.0000	\$125.00
	Thomson & Thomson, Inc.		\$38.0000	\$950.00
	Jones Bros., Inc.		\$38.0000	\$950.00
	Volunteer Bridge Construction, Inc.		\$40.0000	\$1,000.00
	Dement Construction Company, LLC		\$38.0000	\$950.00

			UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		3.000 TON		
	Ford Construction Company		\$100.0000	\$300.00
	Thomson & Thomson, Inc.		\$600.0000	\$1,800.00
	Jones Bros., Inc.		\$600.0000	\$1,800.00
	Volunteer Bridge Construction, Inc.		\$700.0000	\$2,100.00
	Dement Construction Company, LLC		\$600.0000	\$1,800.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		267.000 TON		
	Ford Construction Company		\$102.0000	\$27,234.00
	Thomson & Thomson, Inc.		\$96.0000	\$25,632.00
	Jones Bros., Inc.		\$96.0000	\$25,632.00
	Volunteer Bridge Construction, Inc.		\$99.0000	\$26,433.00
	Dement Construction Company, LLC		\$96.0000	\$25,632.00
607-39.03	24" PIPE CULVERT (SIDE DRAIN)			
		73.000 L.F.		
	Ford Construction Company		\$42.0000	\$3,066.00
	Thomson & Thomson, Inc.		\$50.0000	\$3,650.00
	Jones Bros., Inc.		\$85.0000	\$6,205.00
	Volunteer Bridge Construction, Inc.		\$80.0000	\$5,840.00
	Dement Construction Company, LLC		\$45.0000	\$3,285.00
607-50.30	PRECAST CONCRETE BOX BRIDGE (2 @ 14' X 6', 90° SKEW)			
		50.000 L.F.		
	Ford Construction Company		\$3,200.0000	\$160,000.00
	Thomson & Thomson, Inc.		\$3,800.0000	\$190,000.00
	Jones Bros., Inc.		\$3,400.0000	\$170,000.00
	Volunteer Bridge Construction, Inc.		\$3,400.0000	\$170,000.00
	Dement Construction Company, LLC		\$5,000.0000	\$250,000.00
607-50.31	PRECAST CONCRETE BOX BRIDGE (2 @ 14' X 4', 90° SKEW)			
		45.000 L.F.		
	Ford Construction Company		\$3,100.0000	\$139,500.00
	Thomson & Thomson, Inc.		\$3,500.0000	\$157,500.00
	Jones Bros., Inc.		\$3,400.0000	\$153,000.00
	Volunteer Bridge Construction, Inc.		\$3,777.7800	\$170,000.10
	Dement Construction Company, LLC		\$4,500.0000	\$202,500.00
611-07.32	24IN ENDWALL (SIDE DRAIN)			
		4.000 EACH		
	Ford Construction Company		\$4,000.0000	\$16,000.00
	Thomson & Thomson, Inc.		\$3,800.0000	\$15,200.00
	Jones Bros., Inc.		\$3,000.0000	\$12,000.00
	Volunteer Bridge Construction, Inc.		\$6,000.0000	\$24,000.00
	Dement Construction Company, LLC		\$3,000.0000	\$12,000.00

			•	
			UNIT PRICE	EXTENSION
621-03.02	18" TEMPORARY DRAINAGE PIPE			
		36.000 L.F.		
	Ford Construction Company	30.000 E.I .	\$29.0000	\$1,044.00
	Ford Construction Company		•	
	Thomson & Thomson, Inc.		\$28.0000	\$1,008.00
	Jones Bros., Inc.		\$75.0000	\$2,700.00
	Volunteer Bridge Construction, Inc.		\$50.0000	\$1,800.00
	Dement Construction Company, LLC		\$75.0000	\$2,700.00
705 04 04	METAL DEAM CHARD FENCE			
705-01.04	METAL BEAM GUARD FENCE			
		136.000 L.F.		
	Ford Construction Company		\$70.0000	\$9,520.00
	Thomson & Thomson, Inc.		\$70.0000	\$9,520.00
	Jones Bros., Inc.		\$70.0000	\$9,520.00
	Volunteer Bridge Construction, Inc.		\$72.0000	\$9,792.00
	Dement Construction Company, LLC		\$58.0000	\$7,888.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		638.000 L.F.		
	Ford Construction Company		\$21.0000	\$13,398.00
	Thomson & Thomson, Inc.		\$21.0000	\$13,398.00
	Jones Bros., Inc.		\$21.0000	\$13,398.00
	Volunteer Bridge Construction, Inc.		\$23.0000	\$14,674.00
	Dement Construction Company, LLC		\$15.0000	\$9,570.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Ford Construction Company		\$2,700.0000	\$10,800.00
	Thomson & Thomson, Inc.		\$2,700.0000	\$10,800.00
	Jones Bros., Inc.		\$2,700.0000	\$10,800.00
	Volunteer Bridge Construction, Inc.		\$3,000.0000	\$12,000.00
	Dement Construction Company, LLC		\$2,150.0000	\$8,600.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Ford Construction Company		\$4,400.0000	\$8,800.00
	Thomson & Thomson, Inc.		\$4,200.0000	\$8,400.00
	Jones Bros., Inc.		\$13,050.0000	\$26,100.00
	Volunteer Bridge Construction, Inc.		\$5,500.0000	\$11,000.00
	Dement Construction Company, LLC		\$4,400.0000	\$8,800.00
706-01	GUARDRAIL REMOVED			
		121.000 L.F.		
	Ford Construction Company		\$3.6700	\$444.07
	Thomson & Thomson, Inc.		\$4.2500	\$514.25
	Jones Bros., Inc.		\$4.2500	\$514.25
	Volunteer Bridge Construction, Inc.		\$4.0000	\$484.00
	Dement Construction Company, LLC		\$1.0000	\$121.00

T07-48.11   HIGH-VISIBILITY CONSTRUCTION FENCE		UNIT PRICE	EXTENSION
Ford Construction Company   \$2,1700   \$1,085.00   Thomson & Thomson, Inc.   \$2,5000   \$1,250.00   \$1,250.00   \$1,250.00   \$1,250.00   \$2,500.00   \$3,500.00   \$2,500.00   \$3,500.00   \$2,500.00   \$3,500.00   \$2,500.00   \$3,500.00   \$2,500.00   \$3,500.00   \$2,500.00   \$3	707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE	<u> </u>	
Thomson & Thomson, Inc.   \$2.5000   \$1,250.00   \$1,2			
Thomson & Thomson, Inc.   \$2.5000   \$1.250.00   Jones Bros., Inc.   \$2.5000   \$1.250.00   S1.250.00   Jones Bros., Inc.   \$2.5000   \$1.250.00   S2.500.00   S2.5	Ford Construction Company	\$2.1700	\$1,085.00
Jones Bros., Inc.   \$2.5000   \$1.250.00   \$2.500.00			
Volunteer Bridge Construction (n.c.   \$5.0000   \$1,250.00   \$1,2			
Dement Construction Company, LLC   \$2.5000   \$1,250.00		\$5.0000	
14.00 EACH	——————————————————————————————————————		\$1,250.00
Ford Construction Company   \$180.0000   \$2,520.00   Thomson & Thomson, Inc.   \$250,0000   \$3,500.00   \$3,500.00   \$3,500.00   \$3,500.00   \$3,500.00   \$3,500.00   \$3,500.00   \$3,400.00   \$4,200.00	708-02.01 MARKERS (CONCRETE R.O.W. POSTS)		
Thomson & Thomson, Inc. Jones Bros., Inc. Volunterer Bridge Construction, Inc. Dement Construction Company, LLC  709-05.05 MACHINED RIP-RAP (CLASS A-3)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunterer Bridge Construction, Inc. Dement Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wachined Rip-Rap (CLASS A-1)  709-05.06 MACHINED RIP-RAP (CLASS A-1)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wachined Rip-Rap (CLASS A-1)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wachined Rip-Rap (CLASS A-1)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS A-1)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS B)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS B)  #87.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS B)  #87.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS B)  #87.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS B)  #87.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS B)  #87.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Wathined Rip-Rap (CLASS B)  #87.000 TON  #87.00		14.000 EACH	
Jones Bros., Inc.   \$100.0000   \$1,400.00   \$1,400.00   \$300.00000   \$4,200.	Ford Construction Company	\$180.0000	\$2,520.00
Volunteer Bridge Construction, Inc.   \$300.0000   \$4,200.00   \$250.0000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,500.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,280.000   \$3,317.000   \$3,000.	Thomson & Thomson, Inc.	\$250.0000	\$3,500.00
Dement Construction Company, LLC   \$250.0000   \$3,500.00	Jones Bros., Inc.	\$100.0000	\$1,400.00
709-05.05 MACHINED RIP-RAP (CLASS A-3)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company Thomson & Thomson, Inc. S34.0000 S8,228.00 Volunteer Bridge Construction, Inc. S34.0000 S9,680.00 Dement Construction Company, LLC  86.000 TON  Ford Construction Company Thomson & Thomson, Inc. S38.0000 S3,268.00 S3,268.00 S3,268.00 S3,268.00 S3,268.00 S3,440.00 S3,440.00 S3,440.00 Dement Construction Company, LLC  709-05.08 MACHINED RIP-RAP (CLASS B)  487.000 TON  Ford Construction Company Thomson & Thomson, Inc. S38.0000 S3,440.00 S3,440.	Volunteer Bridge Construction, Inc.	\$300.0000	\$4,200.00
Pord Construction Company   \$34,000   \$8,228.00	Dement Construction Company, LLC	\$250.0000	\$3,500.00
Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company Thomson & Thomson, Inc.  Volunteer Bridge Construction Tog-05.08  MACHINED RIP-RAP (CLASS A-1)  86.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  87.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  87.000 TON  Ford Construction Company, LLC  Tog-05.08  MACHINED RIP-RAP (CLASS B)  487.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Sas.0000 S17,532.00 Thomson & Thomson, Inc. S35.0000 S17,532.00 Thomson & Thomson, Inc. S35.0000 S17,045.00 Volunteer Bridge Construction, Inc. S40.0000 S19,480.00 Dement Construction Company, LLC S38.5000 S18,749.50	709-05.05 MACHINED RIP-RAP (CLASS A-3)		
Thomson & Thomson, Inc. Jones Bros., Inc. S38.0000 S9,196.00 Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  709-05.06 MACHINED RIP-RAP (CLASS A-1)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company Thomson & Thomson, Inc. S38.0000 S3,268.00 Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  487.000 TON  709-05.08 MACHINED RIP-RAP (CLASS B)  487.000 TON  Ford Construction Company Thomson & Thomson, Inc. S38.0000 S17,532.00 Thomson & Thomson, Inc. S38.0000 S17,532.00 Thomson & Thomson, Inc. S38.0000 S17,045.00 Volunteer Bridge Construction, Inc. S38.0000 S17,045.00 Volunteer Bridge Construction, Inc. S38.5000 S17,045.00 Dement Construction Company, LLC		242.000 TON	
Jones Bros., Inc.   \$34.0000   \$8,228.00     Volunteer Bridge Construction, Inc.   \$40.0000   \$9,680.00     Dement Construction Company, LLC   \$38.5000   \$9,317.00     Tog-05.06   MACHINED RIP-RAP (CLASS A-1)	Ford Construction Company	\$34.0000	\$8,228.00
Volunteer Bridge Construction, Inc.   \$40,000   \$9,680.00	Thomson & Thomson, Inc.	\$38.0000	\$9,196.00
Dement Construction Company, LLC   \$38.5000   \$9,317.00	Jones Bros., Inc.	\$34.0000	\$8,228.00
709-05.06 MACHINED RIP-RAP (CLASS A-1)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  709-05.08 MACHINED RIP-RAP (CLASS B)  Ford Construction Company Thomson & Thomson, Inc. Sas.0000 \$3,440.00 \$3,440.00 \$3,440.00 \$3,440.00 \$3,440.00 \$3,440.00 \$3,440.00 \$3,440.00 \$3,440.00 \$3,440.00 \$3,311.00  709-05.08 MACHINED RIP-RAP (CLASS B)  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  \$38.0000 \$17,045.00 Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  \$38.5000 \$19,480.00 \$19,480.00 Dement Construction Company, LLC	Volunteer Bridge Construction, Inc.	\$40.0000	\$9,680.00
### Record Construction Company Ford Construction Company Thomson & Thomson, Inc.  Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  #### ARCHINED RIP-RAP (CLASS B)  ##### ARCHINED RIP-RAP (CLASS B)  #### ARCHINED RIP-RAP (CLASS B)  ##### ARCHINED RIP-RAP (CLASS B)  #### ARCHINED RIP-RAP (CLASS B)  ##### ARCHINED RIP-RAP (CLASS B)  ##### ARCHINED RIP-RAP (CLASS B)  ###################################	Dement Construction Company, LLC	\$38.5000	\$9,317.00
Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  Ford Construction Company Thomson & Thomson, Inc.  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Volunteer Bridge Construction, Inc. Dement Construction Company Thomson & Thomson, Inc. Sas.0000 S17,532.00 S18,506.00 Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC S38.5000 S18,749.50	709-05.06 MACHINED RIP-RAP (CLASS A-1)		
Thomson & Thomson, Inc. \$38.0000 \$3,268.00 Jones Bros., Inc. \$40.0000 \$3,440.00 Volunteer Bridge Construction, Inc. \$40.0000 \$3,440.00 Dement Construction Company, LLC \$38.5000 \$3,311.00  709-05.08 MACHINED RIP-RAP (CLASS B)  Ford Construction Company \$36.0000 \$17,532.00 Thomson & Thomson, Inc. \$38.0000 \$18,506.00 Jones Bros., Inc. \$35.0000 \$17,045.00 Volunteer Bridge Construction, Inc. \$40.0000 \$19,480.00 Dement Construction Company, LLC \$38.5000 \$18,749.50		86.000 TON	
Jones Bros., Inc.  Volunteer Bridge Construction, Inc.  Dement Construction Company, LLC  709-05.08 MACHINED RIP-RAP (CLASS B)  487.000 TON  Ford Construction Company Thomson & Thomson, Inc. Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company Thomson & Thomson, Inc. S38.0000 Jones Bros., Inc. Volunteer Bridge Construction, Inc. Dement Construction Company, LLC  \$38.5000 \$17,532.00 \$17,045.00 \$17,045.00 \$19,480.00 \$19,480.00 \$18,749.50	Ford Construction Company	\$35.0000	\$3,010.00
Volunteer Bridge Construction, Inc.       \$40.0000       \$3,440.00         Dement Construction Company, LLC       \$38.5000       \$3,311.00         709-05.08 MACHINED RIP-RAP (CLASS B)         487.000 TON         Ford Construction Company       \$36.0000       \$17,532.00         Thomson & Thomson, Inc.       \$38.0000       \$18,506.00         Jones Bros., Inc.       \$35.0000       \$17,045.00         Volunteer Bridge Construction, Inc.       \$40.0000       \$19,480.00         Dement Construction Company, LLC       \$38.5000       \$18,749.50	Thomson & Thomson, Inc.	\$38.0000	\$3,268.00
Dement Construction Company, LLC \$38.5000 \$3,311.00  709-05.08 MACHINED RIP-RAP (CLASS B)  487.000 TON  Ford Construction Company \$36.0000 \$17,532.00 Thomson & Thomson, Inc. \$38.0000 \$18,506.00 Jones Bros., Inc. \$35.0000 \$17,045.00 Volunteer Bridge Construction, Inc. \$40.0000 \$19,480.00 Dement Construction Company, LLC \$38.5000 \$18,749.50	Jones Bros., Inc.	\$40.0000	\$3,440.00
709-05.08 MACHINED RIP-RAP (CLASS B)  487.000 TON  Ford Construction Company \$36.0000 \$17,532.00 Thomson & Thomson, Inc. \$38.0000 \$18,506.00 Jones Bros., Inc. \$35.0000 \$17,045.00 Volunteer Bridge Construction, Inc. \$40.0000 \$19,480.00 Dement Construction Company, LLC \$38.5000 \$18,749.50	Volunteer Bridge Construction, Inc.	\$40.0000	\$3,440.00
487.000 TON         Ford Construction Company       \$36.0000       \$17,532.00         Thomson & Thomson, Inc.       \$38.0000       \$18,506.00         Jones Bros., Inc.       \$35.0000       \$17,045.00         Volunteer Bridge Construction, Inc.       \$40.0000       \$19,480.00         Dement Construction Company, LLC       \$38.5000       \$18,749.50	Dement Construction Company, LLC	\$38.5000	\$3,311.00
Ford Construction Company       \$36.0000       \$17,532.00         Thomson & Thomson, Inc.       \$38.0000       \$18,506.00         Jones Bros., Inc.       \$35.0000       \$17,045.00         Volunteer Bridge Construction, Inc.       \$40.0000       \$19,480.00         Dement Construction Company, LLC       \$38.5000       \$18,749.50	709-05.08 MACHINED RIP-RAP (CLASS B)		
Thomson & Thomson, Inc.       \$38.0000       \$18,506.00         Jones Bros., Inc.       \$35.0000       \$17,045.00         Volunteer Bridge Construction, Inc.       \$40.0000       \$19,480.00         Dement Construction Company, LLC       \$38.5000       \$18,749.50		487.000 TON	
Jones Bros., Inc.       \$35.0000       \$17,045.00         Volunteer Bridge Construction, Inc.       \$40.0000       \$19,480.00         Dement Construction Company, LLC       \$38.5000       \$18,749.50	Ford Construction Company	\$36.0000	\$17,532.00
Volunteer Bridge Construction, Inc.\$40.0000\$19,480.00Dement Construction Company, LLC\$38.5000\$18,749.50	Thomson & Thomson, Inc.	\$38.0000	\$18,506.00
Dement Construction Company, LLC \$38.5000 \$18,749.50	Jones Bros., Inc.	\$35.0000	\$17,045.00
	Volunteer Bridge Construction, Inc.	\$40.0000	\$19,480.00
709-05.09 MACHINED RIP-RAP (CLASS C)	Dement Construction Company, LLC	\$38.5000	\$18,749.50
	709-05.09 MACHINED RIP-RAP (CLASS C)		
1,062.000 TON		1,062.000 TON	
Ford Construction Company \$36.0000 \$38,232.00	Ford Construction Company	\$36.0000	\$38,232.00
Thomson & Thomson, Inc. \$38.0000 \$40,356.00	Thomson & Thomson, Inc.	\$38.0000	\$40,356.00
Jones Bros., Inc. \$36.0000 \$38,232.00	Jones Bros., Inc.	\$36.0000	\$38,232.00
Volunteer Bridge Construction, Inc. \$40.0000 \$42,480.00	Volunteer Bridge Construction, Inc.	\$40.0000	\$42,480.00
Dement Construction Company, LLC \$38.5000 \$40,887.00	Dement Construction Company, LLC	\$38.5000	\$40,887.00

			MINACI CINOIZ
		UNIT PRICE	EXTENSION
710-10.02 6" PERFORATED PLASTIC PIPE			
	64.000 L.F.		
Ford Construction Company		\$22.0000	\$1,408.00
Thomson & Thomson, Inc.		\$3.0000	\$192.00
Jones Bros., Inc.		\$25.0000	\$1,600.00
Volunteer Bridge Construction, Inc.		\$15.0000	\$960.00
Dement Construction Company, LLC		\$36.0000	\$2,304.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Ford Construction Company		\$8,000.0000	\$8,000.00
Thomson & Thomson, Inc.		\$8,000.0000	\$8,000.00
Jones Bros., Inc.		\$2,400.0000	\$2,400.00
Volunteer Bridge Construction, Inc.		\$14,000.0000	\$14,000.00
Dement Construction Company, LLC		\$9,425.0000	\$9,425.00
712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL			
	550.000 L.F.		
Ford Construction Company		\$23.0000	\$12,650.00
Thomson & Thomson, Inc.		\$32.0000	\$17,600.00
Jones Bros., Inc.		\$26.0000	\$14,300.00
Volunteer Bridge Construction, Inc.		\$30.0000	\$16,500.00
Dement Construction Company, LLC		\$50.0000	\$27,500.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
	26.000 EACH		
Ford Construction Company		\$21.0000	\$546.00
Thomson & Thomson, Inc.		\$31.0000	\$806.00
Jones Bros., Inc.		\$21.0000	\$546.00
Volunteer Bridge Construction, Inc.		\$26.0000	\$676.00
Dement Construction Company, LLC		\$21.0000	\$546.00
712-04.50 PORTABLE BARRIER RAIL DELINEATOR			
	17.000 EACH		
Ford Construction Company		\$8.0000	\$136.00
Thomson & Thomson, Inc.		\$10.0000	\$170.00
Jones Bros., Inc.		\$8.0000	\$136.00
Volunteer Bridge Construction, Inc.		\$10.0000	\$170.00
Dement Construction Company, LLC		\$8.0000	\$136.00
712-05.01 WARNING LIGHTS (TYPE A)			
	12.000 EACH		
Ford Construction Company		\$21.0000	\$252.00
Thomson & Thomson, Inc.		\$33.0000	\$396.00
Jones Bros., Inc.		\$21.0000	\$252.00
Volunteer Bridge Construction, Inc.		\$22.0000	\$264.00
Dement Construction Company, LLC		\$21.0000	\$252.00

		UNIT PRICE	EXTENSION
712-05.03 WARNING LIGHTS (TYPE C)			
	51.000 EACH		
Ford Construction Company		\$21.0000	\$1,071.00
Thomson & Thomson, Inc.		\$33.0000	\$1,683.00
Jones Bros., Inc.		\$21.0000	\$1,071.00
Volunteer Bridge Construction, Inc.		\$22.0000	\$1,122.00
Dement Construction Company, LLC		\$21.0000	\$1,071.00
712-06 SIGNS (CONSTRUCTION)			
	1,547.000 S.F.		
Ford Construction Company		\$6.6000	\$10,210.20
Thomson & Thomson, Inc.		\$7.1500	\$11,061.05
Jones Bros., Inc.		\$6.6000	\$10,210.20
Volunteer Bridge Construction, Inc.		\$8.0000	\$12,376.00
Dement Construction Company, LLC		\$6.6000	\$10,210.20
712-07.03 TEMPORARY BARRICADES (TYPE III)			
THE GROOT PERMIT STATE OF THE S	66.000 L.F.		
Food Construction Comment	66.000 L.F.	<b>#44.0000</b>	<b>#700.00</b>
Ford Construction Company		\$11.0000 \$12.5000	\$726.00
Thomson & Thomson, Inc.		\$12.5000 \$14.0000	\$825.00
Jones Bros., Inc.		\$11.0000 \$14.0000	\$726.00
Volunteer Bridge Construction, Inc.		\$14.0000	\$924.00
Dement Construction Company, LLC		\$11.0000	\$726.00
712-09.04 REMOVABLE PAVEMENT MARKING (STOP LINE)			
	24.000 L.F.		
Ford Construction Company		\$20.0000	\$480.00
Thomson & Thomson, Inc.		\$20.0000	\$480.00
Jones Bros., Inc.		\$20.0000	\$480.00
Volunteer Bridge Construction, Inc.		\$22.0000	\$528.00
Dement Construction Company, LLC		\$20.0000	\$480.00
713-15.36 REMOVE SIGN, SUPPORT & FOOTING			
,	2.000 EACH		
Ford Construction Company		\$20.0000	\$40.00
Thomson & Thomson, Inc.		\$40.0000	\$80.00
Jones Bros., Inc.		\$20.0000	\$40.00
Volunteer Bridge Construction, Inc.		\$100.0000	\$200.00
Dement Construction Company, LLC		\$20.0000	\$40.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	2.000 EACH		
Ford Construction Company		\$3,400.0000	\$6,800.00
Thomson & Thomson, Inc.		\$6,000.0000	\$12,000.00
Jones Bros., Inc.		\$2,200.0000	\$4,400.00
Volunteer Bridge Construction, Inc.		\$4,000.0000	\$8,000.00
Dement Construction Company, LLC		\$3,500.0000	\$7,000.00
		+5,000.000	ψ.,000.00

	UNIT PRICE	EXTENSION
713-16.20 SIGNS (STOP,R1-1)		
, , ,	1.000 EACH	
Ford Construction Comment		Ф47 <b>Г</b> ОО
Ford Construction Company	\$175.0000	\$175.00
Thomson & Thomson, Inc.	\$225.0000	\$225.00
Jones Bros., Inc.	\$175.0000	\$175.00
Volunteer Bridge Construction,		\$250.00
Dement Construction Company	y, LLC \$175.0000	\$175.00
713-16.21 SIGNS (D10-1)		
713-10.21 GIGNG (D10-1)	4 000 54 011	
	1.000 EACH	
Ford Construction Company	\$90.0000	\$90.00
Thomson & Thomson, Inc.	\$210.0000	\$210.00
Jones Bros., Inc.	\$90.0000	\$90.00
Volunteer Bridge Construction,	Inc. \$150.0000	\$150.00
Dement Construction Company	y, LLC \$90.0000	\$90.00
746 04 24 Countyly blo Dymt Mylero (Di Div)	/4 Color)	
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(		
	15.000 EACH	
Ford Construction Company	\$50.0000	\$750.00
Thomson & Thomson, Inc.	\$50.0000	\$750.00
Jones Bros., Inc.	\$50.0000	\$750.00
Volunteer Bridge Construction,	Inc. \$55.0000	\$825.00
Dement Construction Company	y, LLC \$50.0000	\$750.00
716-01.22 Snwplwble Pvmt Mrkrs (Mono-E	Dirl(1 Color)	
710-01.22 Onwpiwbie i vint wirkis (wono-		
	15.000 EACH	<b>_</b>
Ford Construction Company	\$50.0000	\$750.00
Thomson & Thomson, Inc.	\$50.0000	\$750.00
Jones Bros., Inc.	\$50.0000	\$750.00
Volunteer Bridge Construction,	Inc. \$55.0000	\$825.00
Dement Construction Company	y, LLC \$50.0000	\$750.00
716-02.05 PLASTIC PAVEMENT MARKING	S (STOP LINE)	
	8.000 L.F.	
Ford Construction Company	\$20.0000	\$160.00
Thomson & Thomson, Inc.	\$20.0000	\$160.00
Jones Bros., Inc.	\$20.0000	\$160.00
Volunteer Bridge Construction,		\$200.00
——————————————————————————————————————		
Dement Construction Company	y, LLC \$20.0000	\$160.00
716-05.01 PAINTED PAVEMENT MARKING	G (4" LINE)	
	2.000 L.M.	
Ford Construction Company	\$2,200.0000	\$4,400.00
Thomson & Thomson, Inc.	\$2,200.0000	\$4,400.00
Jones Bros., Inc.	\$2,200.0000	\$4,400.00
		\$4,400.00 \$6,400.00
Volunteer Bridge Construction, Dement Construction Company		\$6,400.00 \$4,400.00
Dement Construction Company	\$Z,200.0000	<del>Φ4,4</del> 00.00

			0	ONTINACT CHROTZ
			UNIT PRICE	EXTENSION
716-12.02	PENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	,	0.500 L.M.		
	Ford Construction Company		\$10,000.0000	\$5,000.00
	Thomson & Thomson, Inc.		\$10,000.0000	\$5,000.00
	Jones Bros., Inc.		\$10,000.0000	\$5,000.00
	Volunteer Bridge Construction, Inc.		\$12,000.0000	\$6,000.00
	Dement Construction Company, LLC		\$10,000.0000	\$5,000.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	, ,,	0.500 L.M.		
	Ford Construction Company		\$10,000.0000	\$5,000.00
	Thomson & Thomson, Inc.		\$10,000.0000	\$5,000.00
	Jones Bros., Inc.		\$10,000.0000	\$5,000.00
	Volunteer Bridge Construction, Inc.		\$12,000.0000	\$6,000.00
	Dement Construction Company, LLC		\$10,000.0000	\$5,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Ford Construction Company		\$42,527.0000	\$42,527.00
	Thomson & Thomson, Inc.		\$50,000.0000	\$50,000.00
	Jones Bros., Inc.		\$52,000.0000	\$52,000.00
	Volunteer Bridge Construction, Inc.		\$100,000.0000	\$100,000.00
	Dement Construction Company, LLC		\$59,250.0000	\$59,250.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
100 40	TEM START HAPPIS SISTAL STOTEM	1.000 EACH		
	Ford Construction Company		\$16,000.0000	\$16,000.00
	Thomson & Thomson, Inc.		\$21,000.0000	\$21,000.00
	Jones Bros., Inc.		\$22,500.0000	\$22,500.00
	Volunteer Bridge Construction, Inc.		\$22,000.0000	\$22,000.00
				\$16,000.00
	Dement Construction Company, LLC		\$16,000.0000	\$16,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		1,271.000 S.Y.		
	Ford Construction Company		\$2.5000	\$3,177.50
	Thomson & Thomson, Inc.		\$4.0000	\$5,084.00
	Jones Bros., Inc.		\$4.0000	\$5,084.00
	Volunteer Bridge Construction, Inc.		\$10.0000	\$12,710.00
	Dement Construction Company, LLC		\$4.0000	\$5,084.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		260.000 S.Y.		
	Ford Construction Company		\$3.2800	\$852.80
	Thomson & Thomson, Inc.		\$5.0000	\$1,300.00
	Jones Bros., Inc.		\$5.0000	\$1,300.00
	Volunteer Bridge Construction, Inc.		\$10.0000	\$2,600.00
	Dement Construction Company, LLC		\$5.0000	\$1,300.00
	·			

			CC	DNIRACI CNR072
			UNIT PRICE	EXTENSION
740-11.04	TEMPORARY SEDIMENT TUBE 20IN			
		300.000 L.F.		
	Ford Construction Company		\$6.0000	\$1,800.00
	Thomson & Thomson, Inc.		\$6.0000	\$1,800.00
	Jones Bros., Inc.		\$6.0000	\$1,800.00
	Volunteer Bridge Construction, Inc.		\$8.0000	\$2,400.00
	Dement Construction Company, LLC		\$6.0000	\$1,800.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		100.000 UNIT		
	Ford Construction Company		\$45.0000	\$4,500.00
	Thomson & Thomson, Inc.		\$50.0000	\$5,000.00
	Jones Bros., Inc.		\$50.0000	\$5,000.00
	Volunteer Bridge Construction, Inc.		\$55.0000	\$5,500.00
	Dement Construction Company, LLC		\$50.0000	\$5,000.00
801-03	WATER (SEEDING & SODDING)			
		105.000 M.G.		
	Ford Construction Company		\$10.0000	\$1,050.00
	Thomson & Thomson, Inc.		\$10.0000	\$1,050.00
	Jones Bros., Inc.		\$10.0000	\$1,050.00
	Volunteer Bridge Construction, Inc.		\$10.0000	\$1,050.00
	Dement Construction Company, LLC		\$10.0000	\$1,050.00
803-01	SODDING (NEW SOD)			
		8,750.000 S.Y.		
	Ford Construction Company		\$3.0000	\$26,250.00
	Thomson & Thomson, Inc.		\$3.0000	\$26,250.00
	Jones Bros., Inc.		\$3.0000	\$26,250.00
	Volunteer Bridge Construction, Inc.		\$4.0000	\$35,000.00
	Dement Construction Company, LLC		\$3.0000	\$26,250.00

UTILITY CATEGORY	UN	CONTRACT CNR072 IT PRICE EXTENSION
793-13.07 4IN SCHEDULE 40 PVC		
	534.000 L.F.	
Ford Construction Company		\$1.7500 \$934.50
Thomson & Thomson, Inc.		\$5.0000 \$2,670.00
Jones Bros., Inc.		\$1.7500 \$934.50
Volunteer Bridge Construction, Inc.	\$	\$10.0000 \$5,340.00
Dement Construction Company, LLC		\$1.7500 \$934.50
793-13.12 1 DUCT FORMATION @ 36IN DEPTH		
	534.000 L.F.	
Ford Construction Company		\$3.7500 \$2,002.50
Thomson & Thomson, Inc.		\$15.0000 \$8,010.00
Jones Bros., Inc.		\$3.7500 \$2,002.50
Volunteer Bridge Construction, Inc.		\$10.0000 \$5,340.00
Dement Construction Company, LLC		\$3.7500 \$2,002.50
793-14.19 4IN SCH 80 ORANGE FLEXPIPE		
	530.000 L.F.	
Ford Construction Company		\$4.0000 \$2,120.00
Thomson & Thomson, Inc.		\$5.0000 \$2,650.00
Jones Bros., Inc.		\$4.0000 \$2,120.00
Volunteer Bridge Construction, Inc.	\$	\$10.5000 \$5,565.00
Dement Construction Company, LLC		\$4.0000 \$2,120.00
793-16.04 DIRECTIONAL BORE 4IN/FLEX SLEEVE		
	530.000 L.F.	
Ford Construction Company	\$	\$16.0000 \$8,480.00
Thomson & Thomson, Inc.	\$	\$15.0000 \$7,950.00

1.000 EACH

Jones Bros., Inc.

793-98.04 REMOVE POLES ALL SIZES

Jones Bros., Inc.

Volunteer Bridge Construction, Inc.

Volunteer Bridge Construction, Inc.

Dement Construction Company, LLC

Ford Construction Company

Thomson & Thomson, Inc.

Dement Construction Company, LLC

\$8,480.00

\$23,850.00

\$8,480.00

\$600.00

\$150.00

\$600.00

\$100.00

\$600.00

\$16.0000

\$45.0000

\$16.0000

\$600.0000

\$150.0000

\$600.0000

\$100.0000

\$600.0000

Volunteer Bridge Construction, Inc.	\$1,117,758.10
Dement Construction Company, LLC	\$1,171,743.70
Jones Bros., Inc.	\$1,036,798.45
Ford Construction Company	\$897,278.07
Thomson & Thomson, Inc.	\$1,028,298.30

#### **SUB-TOTAL UTILITY**

Volunteer Bridge Construction, Inc.	\$40,195.00
Dement Construction Company, LLC	\$14,137.00
Jones Bros., Inc.	\$14,137.00
Ford Construction Company	\$14,137.00
Thomson & Thomson, Inc.	\$21,430.00

#### **TOTAL CONTRACT**

Ford Construction Company	\$911,415.07
Thomson & Thomson, Inc.	\$1,049,728.30
Jones Bros., Inc.	\$1,050,935.45
Volunteer Bridge Construction, Inc.	\$1,157,953.10
Dement Construction Company, LLC	\$1,185,880.70

MARION COUNTY	(Contract No.	CNR038	Call 070)
---------------	---------------	--------	-----------

The rehabilitation of the concrete I-beam bridge on S.R. 156 over Running Water Creek (L.M. 25.58).

PROJECT LENGTH -

DBE GOAL 5.00%

PROPOSAL REJECTED

No Valid Bids

#### MARSHALL COUNTY (Contract No. CNR106 Call 071)

STP/HSIP-11(87),59002-3215-94,59002-8215-14

THE RESURFACING ON U.S. 31A (S.R. 11) FROM NORTH OF UNDERPASS ROAD (L.M. 5.49) TO SOUTHWEST OF U.S. 431 (S.R. 50) (L.M. 12.66).

PROJECT LENGTH - 7.170 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Lincoln Paving, LLC

\$996,582.68

				CONTRACT CNR106
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
000 01		125.000 TON	<b>\$20,000</b>	<b>#0.750.00</b>
	Lincoln Paving, LLC		\$30.0000	\$3,750.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	332.000 TON		
	Lincoln Paving, LLC		\$74.9000	\$24,866.80
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	71.000 TON		
	Lincoln Paving, LLC	7 1.000 1 0 11	\$690.0000	\$48,990.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Lincoln Paving, LLC	6,996.000 TON	\$69.5800	\$486,781.68
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN	WIDTH)		
	Lincoln Paving, LLC	9.300 L.M.	\$730.0000	\$6,789.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Lincoln Paving, LLC	6,504.000 TON	\$14.0500	\$91,381.20
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN		Ψσσσ	<b>\$0.1,00.1.20</b>
011 00.01		13.000 EACH	<b>4</b> =0= 0000	<b>#0.405.00</b>
	Lincoln Paving, LLC		\$725.0000	\$9,425.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)	1,530.000 S.F.		
	Lincoln Paving, LLC		\$20.7500	\$31,747.50
705-02.02	SINGLE GUARDRAIL (TYPE 2)	100.000 L.F.		
	Lincoln Paving, LLC	100.000 2	\$18.9000	\$1,890.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Lincoln Paving, LLC	5.000 EACH	\$2,500.0000	\$12,500.00
706-01	GUARDRAIL REMOVED			
	Lincoln Paving, LLC	352.000 L.F.	\$4.0000	\$1,408.00
712-01	TRAFFIC CONTROL			
	Lincoln Paving, LLC	1.000 LS	\$17,900.0000	\$17,900.00

			UNIT PRICE	CONTRACT CNR106 EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Lincoln Paving, LLC	25.000 EACH	\$5.0000	\$125.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Lincoln Paving, LLC	4.000 EACH	\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
	Lincoln Paving, LLC	2,287.000 S.F.	\$7.0000	\$16,009.00
712-08.03	ARROW BOARD (TYPE C)			
	Lincoln Paving, LLC	2.000 EACH	\$500.0000	\$1,000.00
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
	Lincoln Paving, LLC	2.000 EACH	\$325.0000	\$650.00
713-16.20	SIGNS (R3-17)			
	Lincoln Paving, LLC	14.000 EACH	\$200.0000	\$2,800.00
713-16.21	SIGNS (R3-17A)			
	Lincoln Paving, LLC	1.000 EACH	\$40.0000	\$40.00
713-16.22	SIGNS (R3-17B)			
	Lincoln Paving, LLC	3.000 EACH	\$40.0000	\$120.00
713-16.23	SIGNS (W11-1 & W16-1P)			
	Lincoln Paving, LLC	2.000 EACH	\$240.0000	\$480.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Lincoln Paving, LLC	753.000 EACH	\$25.0000	\$18,825.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
	Lincoln Paving, LLC	50.000 EACH	\$25.0000	\$1,250.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Lincoln Paving, LLC	792.000 S.Y.	\$20.0000	\$15,840.00

		UNIT PRICE	CONTRACT CNR106 EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)	718.000 L.F.		
Lincoln Paving, LLC		\$15.0000	\$10,770.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Lincoln Paving, LLC	8.000 EACH	\$150.0000	\$1,200.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
Lincoln Paving, LLC	430.000 L.F.	\$35.0000	\$15,050.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
Lincoln Paving, LLC	2.000 EACH	\$315.0000	\$630.00
716-03.02 PLASTIC WORD PAVEMENT MARKING (RXR)			
Lincoln Paving, LLC	2.000 EACH	\$745.0000	\$1,490.00
716-03.07 PLASTIC WORD PAVEMENT MARKING (STOP)			
Lincoln Paving, LLC	1.000 EACH	\$350.0000	\$350.00
716-03.09 PLASTIC WORD PAVEMENT MARKING (YIELD)			
Lincoln Paving, LLC	1.000 EACH	\$400.0000	\$400.00
716-04.13 PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROW)	23.000 EACH		
Lincoln Paving, LLC	23.000 EACH	\$450.0000	\$10,350.00
716-04.15 PLASTIC PAVEMENT MARKING-BIKE SYMBOL/ARROW SHARED	0.000 54.011		
Lincoln Paving, LLC	3.000 EACH	\$370.0000	\$1,110.00
716-04.17 PLASTIC PAVEMENT MARKING (YIELD SYMBOL)			
Lincoln Paving, LLC	2.000 EACH	\$200.0000	\$400.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
Lincoln Paving, LLC	24.000 L.M.	\$800.0000	\$19,200.00
716-10.30 TRUNCATED DOME DETECTABLE WARNING MAT	400,000,0,5		
Lincoln Paving, LLC	128.000 S.F.	\$45.0000	\$5,760.00

		UNIT PRICE	CONTRACT CNR106 EXTENSION
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	40 200 L M		
Lincoln Paving, LLC	10.200 L.M.	\$4,700.0000	\$47,940.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	40 700 L M		
Lincoln Paving, LLC	16.700 L.M.	\$2,500.0000	\$41,750.00
716-13.03 SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)	4 400 000 1 5		
Lincoln Paving, LLC	1,400.000 L.F.	\$4.0000	\$5,600.00
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
Lincoln Paving, LLC	110.000 L.F.	\$3.0000	\$330.00
716-13.05 SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
Lincoln Paving, LLC	1,997.000 L.F.	\$3.0000	\$5,991.00
716-13.11 SPRAY THERMO PVMT KRKNG (60 MIL 12IN BARRIER LINE)			
Lincoln Paving, LLC	392.000 L.F.	\$9.0000	\$3,528.00
717-01 MOBILIZATION			
Lincoln Paving, LLC	1.000 LS	\$23,200.0000	\$23,200.00
730-14.02 SAW SLOT			
Lincoln Paving, LLC	1,513.000 L.F.	\$3.5000	\$5,295.50
730-14.03 LOOP WIRE			
	3,300.000 L.F.	00	

Lincoln Paving, LLC

\$1,650.00

\$0.5000

Lincoln Paving, LLC \$996,582.68

### **TOTAL CONTRACT**

Lincoln Paving, LLC \$996,582.68

#### MAURY COUNTY (Contract No. CNR104 Call 072)

STP/HSIP-245(9),60018-3217-94,60018-8217-14

THE RESURFACING ON S.R. 245 FROM THE GILES COUNTY LINE (L.M. 0.00) TO NEELEY HOLLOW ROAD (L.M. 6.33).

PROJECT LENGTH - 6.330 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 2.50%

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$621,113.05Rogers Group, Inc.\$622,000.00Tennessee Valley Paving Co., Inc.\$822,617.00

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
202 04 MINERAL ACCRECATE TYPE A PAGE CRADING D		
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D 1,829.000	n TON	
Vulcan Construction Materials, LLC	\$21.0000	\$38,409.00
Rogers Group, Inc.	\$15.0000	\$27,435.00
Tennessee Valley Paving Co., Inc.	\$20.0000	\$36,580.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
349.000	D TON	
Vulcan Construction Materials, LLC	\$65.0000	\$22,685.00
Rogers Group, Inc.	\$77.0000	\$26,873.00
Tennessee Valley Paving Co., Inc.	\$100.0000	\$34,900.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
43.000	) TON	
Vulcan Construction Materials, LLC	\$600.0000	\$25,800.00
Rogers Group, Inc.	\$550.0000	\$23,650.00
Tennessee Valley Paving Co., Inc.	\$700.0000	\$30,100.00
411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT		
4,221.000		
Vulcan Construction Materials, LLC	\$70.0000	\$295,470.00
Rogers Group, Inc.	\$65.0000	\$274,365.00
Tennessee Valley Paving Co., Inc.	\$85.2500	\$359,840.25
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
10.200		
Vulcan Construction Materials, LLC	\$700.0000	\$7,140.00
Rogers Group, Inc.	\$735.0000 \$1,800.0000	\$7,497.00 \$18,360.00
Tennessee Valley Paving Co., Inc.	\$1,000.0000	\$18,360.00
415-01.01 COLD PLANING BITUMINOUS PAVEMENT		
4,081.000		•
Vulcan Construction Materials, LLC	\$14.0000	\$57,134.00
Rogers Group, Inc. Tennessee Valley Paving Co., Inc.	\$22.0000 \$24.0000	\$89,782.00 \$97,944.00
Termessee valley raving Co., mc.	φ <b>24.0000</b>	φ <i>91</i> ,944.00
705-02.02 SINGLE GUARDRAIL (TYPE 2)		
155.000		
Vulcan Construction Materials, LLC	\$17.5000	\$2,712.50
Rogers Group, Inc. Tennessee Valley Paving Co., Inc.	\$19.0000 \$23.2500	\$2,945.00 \$3,603.75
Termessee valley raving Co., mc.	φ23.2300	φ3,003.73
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3		
	0 EACH	•
Vulcan Construction Materials, LLC	\$2,500.0000	\$15,000.00
Rogers Group, Inc. Tennessee Valley Paving Co., Inc.	\$2,425.0000 \$3,100.0000	\$14,550.00 \$18,600.00
Termessee valley raving Co., Inc.	<b>\$3,100.0000</b>	φ10,000.00

			UNIT PRICE	EXTENSION
			0.4.1.1.4.02	
706-01	GUARDRAIL REMOVED			
		206.000 L.F.		
	Vulcan Construction Materials, LLC		\$1.0500	\$216.30
	Rogers Group, Inc.		\$0.9500	\$195.70
	Tennessee Valley Paving Co., Inc.		\$6.5000	\$1,339.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$20,000.0000	\$20,000.00
	Rogers Group, Inc.		\$16,000.0000	\$16,000.00
	Tennessee Valley Paving Co., Inc.		\$26,500.0000	\$26,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	25.000 EACH		
	Vulcan Construction Materials, LLC		\$5.0000	\$125.00
	Rogers Group, Inc.		\$5.2500	\$131.25
	Tennessee Valley Paving Co., Inc.		\$50.0000	\$1,250.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Vulcan Construction Materials, LLC	41000 EMOIT	\$5.0000	\$20.00
	Rogers Group, Inc.		\$5.2500	\$21.00
	Tennessee Valley Paving Co., Inc.		\$50.0000	\$200.00
712-06	SIGNS (CONSTRUCTION)			
7.12.00	sione (conomiconom)	624.000 S.F.		
	Vulcan Construction Materials, LLC	0241000 OH 1	\$9.5000	\$5,928.00
	Rogers Group, Inc.		\$7.7500	\$4,836.00
	Tennessee Valley Paving Co., Inc.		\$15.0000	\$9,360.00
716-01-21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	(3. 2). (3. 2)	419.000 EACH		
	Vulcan Construction Materials, LLC		\$20.5000	\$8,589.50
	Rogers Group, Inc.		\$21.1100	\$8,845.09
	Tennessee Valley Paving Co., Inc.		\$35.0000	\$14,665.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		25.000 EACH		
	Vulcan Construction Materials, LLC		\$10.2500	\$256.25
	Rogers Group, Inc.		\$10.5000	\$262.50
	Tennessee Valley Paving Co., Inc.		\$25.0000	\$625.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	. ,	24.700 L.M.		
	Vulcan Construction Materials, LLC		\$775.0000	\$19,142.50
	Rogers Group, Inc.		\$790.0000	\$19,513.00
	Tennessee Valley Paving Co., Inc.		\$1,000.0000	\$24,700.00

			CONTI	RACT	CNR104
		UNI	T PRICE	EXTE	NSION
746 42 02	ENHANCED ELATI INE THERMO DVMT MRIZNO (CIN L'INE)				
/16-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		11.200 L.M.			
	Vulcan Construction Materials, LLC	\$4,7	00.000	\$52,6	640.00
	Rogers Group, Inc.	\$4,8	50.0000	\$54,3	320.00
	Tennessee Valley Paving Co., Inc.	\$5,5	00.0000	\$61,6	600.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)				
		12.700 L.M.			
	Vulcan Construction Materials, LLC	\$2,3	50.0000	\$29,8	345.00
	Rogers Group, Inc.	\$2,4	30.0000	\$30,8	361.00
	Tennessee Valley Paving Co., Inc.	\$3,5	00.0000	\$44,4	450.00
717-01	MOBILIZATION				
-		1.000 LS			
	Vulcan Construction Materials, LLC	\$20,0	00.000	\$20,0	00.00
	Rogers Group, Inc.		17.4600		917.46
	Tennessee Valley Paving Co., Inc.		00.000		00.00
	•				

Tennessee Valley Paving Co., Inc.	\$822,617.00
Rogers Group, Inc.	\$622,000.00
Vulcan Construction Materials, LLC	\$621,113.05

#### **TOTAL CONTRACT**

Vulcan Construction Materials, LLC	\$621,113.05
Rogers Group, Inc.	\$622,000.00
Tennessee Valley Paving Co., Inc.	\$822,617.00

#### MAURY COUNTY (Contract No. CNR126 Call 073)

STP/NH-SIP-6(88),60002-3291-94

THE GRADING, DRAINAGE, CONSTRUCTION OF A CONCRETE BOX BRIDGE AND PAVING ON U.S. 31 (S.R. 6) AT THE INTERSECTION OF NORTH POINTE ROAD (L.M. 25.63) IN COLUMBIA.

PROJECT LENGTH - 0.354 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 8.00%

	TOTAL CONTRACT
Jones Bros., Inc.	\$1,223,134.55
Dement Construction Company, LLC	\$1,352,033.14
Rogers Group, Inc.	\$1,414,000.00
Civil Constructors, LLC	\$1,537,747.15

		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY		
105-01	CONSTRUCTION STAKES, LINES AND GRADES		
103-01	1.000 LS		
	Jones Bros., Inc.	\$20,000.0000	\$20,000.00
	Dement Construction Company, LLC	\$20,000.0000	\$20,000.00
	Rogers Group, Inc.	\$12,650.0000	\$12,650.00
	Civil Constructors, LLC	\$18,920.0000	\$18,920.00
201-01	CLEARING AND GRUBBING		
	1.000 LS		
	Jones Bros., Inc.	\$92,000.0000	\$92,000.00
	Dement Construction Company, LLC	\$72,000.0000	\$72,000.00
	Rogers Group, Inc.	\$15,850.0000	\$15,850.00
	Civil Constructors, LLC	\$88,500.0000	\$88,500.00
202-04.01	REMOVAL OF STRUCTURES (CATCH BASIN, STA. 277+00)		
	1.000 LS		
	Jones Bros., Inc.	\$500.0000	\$500.00
	Dement Construction Company, LLC	\$1,500.0000	\$1,500.00
	Rogers Group, Inc.	\$530.0000	\$530.00
	Civil Constructors, LLC	\$3,500.0000	\$3,500.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)		
	3,578.000 C.Y.		
	Jones Bros., Inc.	\$10.0000	\$35,780.00
	Dement Construction Company, LLC	\$12.8600	\$46,013.08
	Rogers Group, Inc. Civil Constructors, LLC	\$10.5500 \$18.5000	\$37,747.90
	Civil Constituctors, LLC	\$18.5000	\$66,193.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)		
	1,793.000 TON		
	Jones Bros., Inc.	\$14.3100	\$25,657.83
	Dement Construction Company, LLC	\$25.0000	\$44,825.00
	Rogers Group, Inc. Civil Constructors, LLC	\$21.1000 \$18.0000	\$37,832.30 \$32,274.00
	GIVII GONSHIUGIOIS, ELEG	ψ10.0000	Ψ32,27 4.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)		
	15,959.000 C.Y.		
	Jones Bros., Inc.	\$10.5500	\$168,367.45
	Dement Construction Company, LLC	\$13.2400	\$211,297.16
	Rogers Group, Inc. Civil Constructors, LLC	\$15.8500 \$15.7000	\$252,950.15 \$250,556.30
	Civil Constituctors, ELC	ψ13.7000	Ψ230,330.30
203-04	PLACING AND SPREADING TOPSOIL		
	1,198.000 C.Y.		•-
	Jones Bros., Inc.	\$6.0000	\$7,188.00
	Dement Construction Company, LLC	\$10.0000 \$10.5500	\$11,980.00 \$12,638.00
	Rogers Group, Inc. Civil Constructors, LLC	\$10.5500 \$11.0000	\$12,638.90 \$13,178.00
	Olvii Oolistiuotois, LLO	φ11.0000	φ13,176.00

			UNIT PRICE	EXTENSION
203-06	WATER			
		55.000 M.G.		
	Jones Bros., Inc.		\$35.0000	\$1,925.00
	Dement Construction Company, LLC		\$5.0000	\$275.00
	Rogers Group, Inc.		\$5.2500	\$288.75
	Civil Constructors, LLC		\$8.0000	\$440.00
204-08	FOUNDATION FILL MATERIAL			
		115.000 C.Y.		
	Jones Bros., Inc.		\$67.0000	\$7,705.00
	Dement Construction Company, LLC		\$50.0000	\$5,750.00
	Rogers Group, Inc.		\$63.3500	\$7,285.25
	Civil Constructors, LLC		\$62.0000	\$7,130.00
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		3.000 C.Y.		
	Jones Bros., Inc.		\$400.0000	\$1,200.00
	Dement Construction Company, LLC		\$500.0000	\$1,500.00
	Rogers Group, Inc.		\$315.0000	\$945.00
	Civil Constructors, LLC		\$600.0000	\$1,800.00
209-05	SEDIMENT REMOVAL			
		76.000 C.Y.		
	Jones Bros., Inc.		\$10.0000	\$760.00
	Dement Construction Company, LLC		\$15.0000	\$1,140.00
	Rogers Group, Inc.		\$2.1500	\$163.40
	Civil Constructors, LLC		\$15.0000	\$1,140.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	,	3,172.000 L.F.		
	Jones Bros., Inc.	<b>-,</b>	\$4.0000	\$12,688.00
	Dement Construction Company, LLC		\$4.2200	\$13,385.84
	Rogers Group, Inc.		\$4.5000	\$14,274.00
	Civil Constructors, LLC		\$4.2500	\$13,481.00
209-08.07	ROCK CHECK DAM PER			
		11.000 EACH		
	Jones Bros., Inc.		\$385.0000	\$4,235.00
	Dement Construction Company, LLC		\$215.0000	\$2,365.00
	Rogers Group, Inc.		\$227.0000	\$2,497.00
	Civil Constructors, LLC		\$365.0000	\$4,015.00
209-08.08	ENHANCED ROCK CHECK DAM			
		10.000 EACH		
	Jones Bros., Inc.		\$365.0000	\$3,650.00
	Dement Construction Company, LLC		\$385.0000	\$3,850.00
	Rogers Group, Inc.		\$406.5000	\$4,065.00
	Civil Constructors, LLC		\$425.0000	\$4,250.00

		UNIT PRICE	EXTENSION
209-09.04 SEDIMENT FILTER BAG(15' X 10')			
	1.000 EACH		
Jones Bros., Inc.		\$500.0000	\$500.00
Dement Construction Company, LLC		\$625.0000	\$625.00
Rogers Group, Inc.		\$660.0000	\$660.00
Civil Constructors, LLC		\$525.0000	\$525.00
209-40.30 CATCH BASIN PROTECTION (TYPE A)			
	1.000 EACH		
Jones Bros., Inc.		\$600.0000	\$600.00
Dement Construction Company, LLC		\$275.0000	\$275.00
Rogers Group, Inc.		\$290.0000	\$290.00
Civil Constructors, LLC		\$775.0000	\$775.00
209-40.33 CATCH BASIN PROTECTION (TYPE D)			
	4.000 EACH		
Jones Bros., Inc.		\$175.0000	\$700.00
Dement Construction Company, LLC		\$425.0000	\$1,700.00
Rogers Group, Inc.		\$450.0000	\$1,800.00
Civil Constructors, LLC		\$265.0000	\$1,060.00
209-65.03 TEMPORARY DIVERSION CHANNEL			
	291.000 L.F.		
Jones Bros., Inc.		\$25.0000	\$7,275.00
Dement Construction Company, LLC		\$25.0000	\$7,275.00
Rogers Group, Inc.		\$42.2500	\$12,294.75
Civil Constructors, LLC		\$37.0000	\$10,767.00
209-65.04 TEMPORARY IN STREAM DIVERSION			
	35.000 L.F.		
Jones Bros., Inc.		\$25.0000	\$875.00
Dement Construction Company, LLC		\$50.0000	\$1,750.00
Rogers Group, Inc.		\$58.0000	\$2,030.00
Civil Constructors, LLC		\$52.0000	\$1,820.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADI	NG D		
	4,606.000 TON		
Jones Bros., Inc.		\$19.0000	\$87,514.00
Dement Construction Company, LLC		\$17.9600	\$82,723.76
Rogers Group, Inc.		\$18.0000	\$82,908.00
Civil Constructors, LLC		\$21.5000	\$99,029.00
303-01.01 GRANULAR BACKFILL (ROADWAY)			
	1,151.000 TON		
Jones Bros., Inc.		\$20.0000	\$23,020.00
Dement Construction Company, LLC		\$35.0000	\$40,285.00
Rogers Group, Inc.		\$31.6500	\$36,429.15
Civil Constructors, LLC		\$26.0000	\$29,926.00

		UNIT PRICE	EXTENSION
303-10.01	MINERAL AGGREGATE (SIZE 57)		
	31.000 TON		
	Jones Bros., Inc.	\$65.0000	\$2,015.00
	Dement Construction Company, LLC	\$35.0000	\$1,085.00
	Rogers Group, Inc.	\$52.7500	\$1,635.25
	Civil Constructors, LLC	\$52.0000	\$1,612.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A		
	876.000 TON		
	Jones Bros., Inc.	\$72.5000	\$63,510.00
	Dement Construction Company, LLC	\$72.5000	\$63,510.00
	Rogers Group, Inc.	\$70.0000	\$61,320.00
	Civil Constructors, LLC	\$75.0000	\$65,700.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
	515.000 TON		
	Jones Bros., Inc.	\$75.0000	\$38,625.00
	Dement Construction Company, LLC	\$75.0000	\$38,625.00
	Rogers Group, Inc.	\$77.0000	\$39,655.00
	Civil Constructors, LLC	\$77.0000	\$39,655.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
	11.000 TON		
	Jones Bros., Inc.	\$850.0000	\$9,350.00
	Dement Construction Company, LLC	\$850.0000	\$9,350.00
	Rogers Group, Inc.	\$815.0000	\$8,965.00
	Civil Constructors, LLC	\$875.0000	\$9,625.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)		
	44.000 TON		
	Jones Bros., Inc.	\$37.5000	\$1,650.00
	Dement Construction Company, LLC	\$37.5000	\$1,650.00
	Rogers Group, Inc.	\$97.0000	\$4,268.00
	Civil Constructors, LLC	\$39.0000	\$1,716.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	11.000 TON		
	Jones Bros., Inc.	\$600.0000	\$6,600.00
	Dement Construction Company, LLC	\$600.0000	\$6,600.00
	Rogers Group, Inc.	\$630.0000	\$6,930.00
	Civil Constructors, LLC	\$625.0000	\$6,875.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER		
	207.000 TON		
	Jones Bros., Inc.	\$85.0000	\$17,595.00
	Dement Construction Company, LLC	\$85.0000	\$17,595.00
	Rogers Group, Inc.	\$87.0000	\$18,009.00
	Civil Constructors, LLC	\$87.0000	\$18,009.00

	UNIT PRICE	EXTENSION
411-02.10 ACS MIX(PG70-22) GRADING D		
611.00	00 TON	
Jones Bros., Inc.	\$85.0000	\$51,935.00
Dement Construction Company, LLC	\$85.0000	\$51,935.00
Rogers Group, Inc.	\$105.0000	\$64,155.00
Civil Constructors, LLC	\$87.0000	\$53,157.00
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)		
0.40	00 L.M.	
Jones Bros., Inc.	\$7,885.0000	\$3,154.00
Dement Construction Company, LLC	\$8,000.0000	\$3,200.00
Rogers Group, Inc.	\$10,850.0000	\$4,340.00
Civil Constructors, LLC	\$8,000.0000	\$3,200.00
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
0.30	00 L.M.	
Jones Bros., Inc.	\$7,885.0000	\$2,365.50
Dement Construction Company, LLC	\$8,000.0000	\$2,400.00
Rogers Group, Inc.	\$11,685.0000	\$3,505.50
Civil Constructors, LLC	\$10,500.0000	\$3,150.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT		
7,036.00	00 S.Y.	
Jones Bros., Inc.	\$4.1700	\$29,340.12
Dement Construction Company, LLC	\$4.0000	\$28,144.00
Rogers Group, Inc.	\$3.6500	\$25,681.40
Civil Constructors, LLC	\$5.0000	\$35,180.00
604-10.51 SCARIFYING		
2,416.00	00 S.Y.	
Jones Bros., Inc.	\$2.5000	\$6,040.00
Dement Construction Company, LLC	\$5.0000	\$12,080.00
Rogers Group, Inc.	\$5.2500	\$12,684.00
Civil Constructors, LLC	\$2.0000	\$4,832.00
607-20.01 18" CROSSDRAIN PIPE CULVERT(COLLECTORS & LOCAL ROADS)		
292.00	00 L.F.	
Jones Bros., Inc.	\$40.0000	\$11,680.00
Dement Construction Company, LLC	\$45.0000	\$13,140.00
Rogers Group, Inc.	\$38.8000	\$11,329.60
Civil Constructors, LLC	\$65.0000	\$18,980.00
607 20 02 20" CDOSSDDAIN DIDE CHI VEDT/COLL ECTORS & LOCAL DOADS)		
607-20.03 30" CROSSDRAIN PIPE CULVERT(COLLECTORS & LOCAL ROADS)  165.00	00 L E	
		¢11 550 00
Jones Bros., Inc.	\$70.0000 \$80.0000	\$11,550.00 \$13,200.00
Dement Construction Company, LLC Rogers Group, Inc.	\$80.0000 \$90.0000	\$13,200.00 \$14,850.00
Civil Constructors, LLC	\$235.0000	\$38,775.00
5 55.15.135.15.5, <u>22</u> 5	Ψ200.0000	<del>400,110.00</del>

		UNIT PRICE	EXTENSION
607-37.04 30" CORRUGATED METAL PIPE CULVERT			
	24.000 L.F.		
Jones Bros., Inc.		\$85.0000	\$2,040.00
Dement Construction Company, LLC		\$30.0000	\$720.00
Rogers Group, Inc.		\$90.0000	\$2,160.00
Civil Constructors, LLC		\$375.0000	\$9,000.00
611-02.12 JUNCTION BOX, TYPE 3			
	2.000 EACH		
Jones Bros., Inc.		\$5,300.0000	\$10,600.00
Dement Construction Company, LLC		\$1,200.0000	\$2,400.00
Rogers Group, Inc.		\$5,915.0000	\$11,830.00
Civil Constructors, LLC		\$4,500.0000	\$9,000.00
611-09.03 CAPPING EXISTING CATCHBASIN			
	2.000 EACH		
Jones Bros., Inc.		\$1,450.0000	\$2,900.00
Dement Construction Company, LLC		\$1,500.0000	\$3,000.00
Rogers Group, Inc.		\$528.0000	\$1,056.00
Civil Constructors, LLC		\$650.0000	\$1,300.00
611-38.01 CATCH BASINS, TYPE 38, 0' - 4' DEPTH			
, ,	1.000 EACH		
Jones Bros., Inc.		\$3,500.0000	\$3,500.00
Dement Construction Company, LLC		\$3,500.0000	\$3,500.00
Rogers Group, Inc.		\$1,740.0000	\$1,740.00
Civil Constructors, LLC		\$2,750.0000	\$2,750.00
611-38.02 CATCH BASINS, TYPE 38, > 4' - 8' DEPTH			
	1.000 EACH		
Jones Bros., Inc.	11000 EAOIT	\$4,500.0000	\$4.500.00
Dement Construction Company, LLC		\$4,000.0000	\$4,000.00
Rogers Group, Inc.		\$2,325.0000	\$2,325.00
Civil Constructors, LLC		\$2,900.0000	\$2,900.00
705-02.02 SINGLE GUARDRAIL (TYPE 2)			
	700.000 L.F.		
Jones Bros., Inc.	700.000 E.1 .	\$17.6500	\$12,355.00
Dement Construction Company, LLC		\$17.6500 \$17.6500	\$12,355.00
Rogers Group, Inc.		\$22.7000	\$15,890.00
Civil Constructors, LLC		\$18.0000	\$12,600.00
705-04.03 GUARDRAIL TERMINAL (TYPE 13)			
100-04.00 GOARDINAL LERMINAL (TIFE 13)	1.000 EACH		
Jones Prog. Jrs.	1.000 EACH	<u> </u>	ቀሰበስ ሰሰ
Jones Bros., Inc.		\$900.0000	\$900.00
Dement Construction Company, LLC		\$900.0000	\$900.00
Rogers Group, Inc. Civil Constructors, LLC		\$605.0000 \$925.0000	\$605.00 \$925.00
Civil Collatiuctora, ELC		φ923.0000	φ <del>9</del> ∠3.00

	UNIT PRICE	EXTENSION
705-04.04 GUARDRAIL TERMINAL (TYPE 21)		
2.000 EAG	СН	
Jones Bros., Inc.	\$1,850.0000	\$3,700.00
Dement Construction Company, LLC	\$1,850.0000	\$3,700.00
Rogers Group, Inc.	\$2,955.0000	\$5,910.00
Civil Constructors, LLC	\$1,900.0000	\$3,800.00
705-04.23 GUARDRAIL DELINEATION ENHANCEMENT (BI-DIRECTIONAL)		
225.000 L.F.		
Jones Bros., Inc.	\$12.5000	\$2,812.50
Dement Construction Company, LLC	\$25.0000	\$5,625.00
Rogers Group, Inc.	\$13.2500	\$2,981.25
Civil Constructors, LLC	\$13.0000	\$2,925.00
705-04.50 PORTABLE BARRIER RAIL DELINEATOR		
80.000 EAG	СН	
Jones Bros., Inc.	\$11.0000	\$880.00
Dement Construction Company, LLC	\$12.0000	\$960.00
Rogers Group, Inc.	\$11.6000	\$928.00
Civil Constructors, LLC	\$11.5000	\$920.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3		
2.000 EAG	СН	
Jones Bros., Inc.	\$2,550.0000	\$5,100.00
Dement Construction Company, LLC	\$2,550.0000	\$5,100.00
Rogers Group, Inc.	\$3,165.0000	\$6,330.00
Civil Constructors, LLC	\$2,600.0000	\$5,200.00
705-08.51 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3		
4.000 EAG	СН	
Jones Bros., Inc.	\$4,500.0000	\$18,000.00
Dement Construction Company, LLC	\$4,500.0000	\$18,000.00
Rogers Group, Inc.	\$4,750.0000	\$19,000.00
Civil Constructors, LLC	\$4,750.0000	\$19,000.00
706-02.01 GUARDRAIL REMOVED AND RESET		
411.000 L.F.		
Jones Bros., Inc.	\$5.5000	\$2,260.50
Dement Construction Company, LLC	\$5.5000	\$2,260.50
Rogers Group, Inc.	\$6.3500	\$2,609.85
Civil Constructors, LLC	\$5.6500	\$2,322.15
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE		
470.000 L.F.		
Jones Bros., Inc.	\$1.5000	\$705.00
Dement Construction Company, LLC	\$5.0000	\$2,350.00
Rogers Group, Inc.	\$5.2500	\$2,467.50
Civil Constructors, LLC	\$2.8500	\$1,339.50

		UNIT PRICE	EXTENSION
708-02.01 MAR	KERS (CONCRETE R.O.W. POSTS)		
		3.000 EACH	
Jone	s Bros., Inc.	\$200.0000	\$600.00
	ent Construction Company, LLC	\$225.0000	\$675.00
Roge	ers Group, Inc.	\$263.9000	\$791.70
Civil	Constructors, LLC	\$420.0000	\$1,260.00
709-05.05 MAC	HINED RIP-RAP (CLASS A-3)		
	1	00.000 TON	
Jone	s Bros., Inc.	\$31.0000	\$3,100.00
Dem	ent Construction Company, LLC	\$35.0000	\$3,500.00
	ers Group, Inc.	\$39.6000	\$3,960.00
Civil	Constructors, LLC	\$60.0000	\$6,000.00
709-05.06 MAC	HINED RIP-RAP (CLASS A-1)		
	8	04.000 TON	
Jone	s Bros., Inc.	\$31.0000	\$24,924.00
Dem	ent Construction Company, LLC	\$35.0000	\$28,140.00
-	ers Group, Inc.	\$31.6500	\$25,446.60
Civil	Constructors, LLC	\$35.0000	\$28,140.00
709-05.09 MAC	HINED RIP-RAP (CLASS C)		
	2	25.000 TON	
Jone	s Bros., Inc.	\$31.0000	\$6,975.00
Dem	ent Construction Company, LLC	\$35.0000	\$7,875.00
Roge	ers Group, Inc.	\$31.6500	\$7,121.25
Civil	Constructors, LLC	\$45.0000	\$10,125.00
710-10.08 18" P	PERFORATED PLASTIC PIPE		
		37.000 L.F.	
Jone	s Bros., Inc.	\$75.0000	\$2,775.00
Dem	ent Construction Company, LLC	\$35.0000	\$1,295.00
	ers Group, Inc.	\$42.2500	\$1,563.25
Civil	Constructors, LLC	\$45.0000	\$1,665.00
712-01 TRAF	FFIC CONTROL		
		1.000 LS	
Jone	s Bros., Inc.	\$10,000.0000	\$10,000.00
Dem	ent Construction Company, LLC	\$26,460.0000	\$26,460.00
-	ers Group, Inc.	\$60,000.0000	\$60,000.00
Civil	Constructors, LLC	\$24,950.0000	\$24,950.00
712-02.02 INTE	RCONNECTED PORTABLE BARRIER RAIL		
	1,5	40.000 L.F.	
Jone	s Bros., Inc.	\$22.0000	\$33,880.00
	ent Construction Company, LLC	\$35.0000	\$53,900.00
-	ers Group, Inc.	\$35.6500	\$54,901.00
Civil	Constructors, LLC	\$38.0000	\$58,520.00

		UNIT PRICE	EXTENSION
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
, ,	60.000 EACH		
Jones Bros., Inc.		\$30.0000	\$1,800.00
Dement Construction Company, LLC		\$30.0000	\$1,800.00
Rogers Group, Inc.		\$31.6500	\$1,899.00
Civil Constructors, LLC		\$32.0000	\$1,920.00
712-05.01 WARNING LIGHTS (TYPE A)			
	4.000 EACH		
Jones Bros., Inc.		\$34.0000	\$136.00
Dement Construction Company, LLC		\$34.0000	\$136.00
Rogers Group, Inc.		\$35.9000	\$143.60
Civil Constructors, LLC		\$36.0000	\$144.00
712-05.03 WARNING LIGHTS (TYPE C)			
	3.000 EACH		
Jones Bros., Inc.		\$34.0000	\$102.00
Dement Construction Company, LLC		\$34.0000	\$102.00
Rogers Group, Inc.		\$35.9000	\$107.70
Civil Constructors, LLC		\$36.0000	\$108.00
712-06 SIGNS (CONSTRUCTION)			
	300.000 S.F.		
Jones Bros., Inc.		\$7.3000	\$2,190.00
Dement Construction Company, LLC		\$7.3000	\$2,190.00
Rogers Group, Inc.		\$7.7000	\$2,310.00
Civil Constructors, LLC		\$7.7500	\$2,325.00
712-07.03 TEMPORARY BARRICADES (TYPE III)			
	84.000 L.F.		
Jones Bros., Inc.		\$13.0000	\$1,092.00
Dement Construction Company, LLC		\$13.0000	\$1,092.00
Rogers Group, Inc.		\$13.7500	\$1,155.00
Civil Constructors, LLC		\$13.5000	\$1,134.00
712-08.03 ARROW BOARD (TYPE C)			
	2.000 EACH		
Jones Bros., Inc.		\$965.0000	\$1,930.00
Dement Construction Company, LLC		\$965.0000	\$1,930.00
Rogers Group, Inc.		\$1,025.0000	\$2,050.00
Civil Constructors, LLC		\$975.0000	\$1,950.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	6.000 L.F.		
Jones Bros., Inc.		\$8.0000	\$48.00
Dement Construction Company, LLC		\$8.0000	\$48.00
Rogers Group, Inc.		\$8.4500	\$50.70
Civil Constructors, LLC		\$8.2500	\$49.50

	UNIT PRICE	EXTENSION
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
	230.000 LB.	
Jones Bros., Inc.	\$4.2500	\$977.50
Dement Construction Company, LLC	\$4.2500	\$977.50
Rogers Group, Inc.	\$4.5000	\$1,035.00
Civil Constructors, LLC	\$4.3500	\$1,000.50
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
	26.200 S.F.	
Jones Bros., Inc.	\$14.5000	\$379.90
Dement Construction Company, LLC	\$14.5000	\$379.90
Rogers Group, Inc.	\$15.3000	\$400.86
Civil Constructors, LLC	\$15.2500	\$399.55
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
	45.000 S.F.	
Jones Bros., Inc.	\$16.0000	\$720.00
Dement Construction Company, LLC	\$16.0000	\$720.00
Rogers Group, Inc.	\$16.9000	\$760.50
Civil Constructors, LLC	\$16.5000	\$742.50
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
	1.000 EACH	
Jones Bros., Inc.	\$50.0000	\$50.00
Dement Construction Company, LLC	\$50.0000	\$50.00
Rogers Group, Inc.	\$52.7500	\$52.75
Civil Constructors, LLC	\$55.0000	\$55.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT		
	2.000 EACH	
Jones Bros., Inc.	\$5,650.0000	\$11,300.00
Dement Construction Company, LLC	\$5,650.0000	\$11,300.00
Rogers Group, Inc.	\$5,965.0000	\$11,930.00
Civil Constructors, LLC	\$5,800.0000	\$11,600.00
713-16.41 RELOCATE SIGN		
	1.000 LS	
Jones Bros., Inc.	\$100.0000	\$100.00
Dement Construction Company, LLC	\$100.0000	\$100.00
Rogers Group, Inc.	\$105.5000	\$105.50
Civil Constructors, LLC	\$110.0000	\$110.00
716-01.23 Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)		
	60.000 EACH	
Jones Bros., Inc.	\$60.0000	\$3,600.00
Dement Construction Company, LLC	\$60.0000	\$3,600.00
Rogers Group, Inc.	\$63.3500	\$3,801.00
Civil Constructors, LLC	\$50.0000	\$3,000.00

	UNIT PRICE	EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
65.000 S.Y	:	
Jones Bros., Inc.	\$20.0000	\$1,300.00
Dement Construction Company, LLC	\$20.0000	\$1,300.00
Rogers Group, Inc.	\$21.1500	\$1,374.75
Civil Constructors, LLC	\$23.0000	\$1,495.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
44.000 L.F.		
Jones Bros., Inc.	\$15.0000	\$660.00
Dement Construction Company, LLC	\$15.0000	\$660.00
Rogers Group, Inc.	\$15.8500	\$697.40
Civil Constructors, LLC	\$13.0000	\$572.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
6.000 EAG	СН	
Jones Bros., Inc.	\$150.0000	\$900.00
Dement Construction Company, LLC	\$150.0000	\$900.00
Rogers Group, Inc.	\$158.3500	\$950.10
Civil Constructors, LLC	\$160.0000	\$960.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
1.000 L.M	l.	
Jones Bros., Inc.	\$2,500.0000	\$2,500.00
Dement Construction Company, LLC	\$2,500.0000	\$2,500.00
Rogers Group, Inc.	\$2,640.0000	\$2,640.00
Civil Constructors, LLC	\$1,850.0000	\$1,850.00
716-05.02 PAINTED PAVEMENT MARKING (8" BARRIER LINE)		
3,600.000 L.F.		
Jones Bros., Inc.	\$0.5000	\$1,800.00
Dement Construction Company, LLC	\$0.5000	\$1,800.00
Rogers Group, Inc.	\$0.5500	\$1,980.00
Civil Constructors, LLC	\$0.6000	\$2,160.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
1.700 L.M	I.	
Jones Bros., Inc.	\$3,500.0000	\$5,950.00
Dement Construction Company, LLC	\$3,500.0000	\$5,950.00
Rogers Group, Inc.	\$3,695.0000	\$6,281.50
Civil Constructors, LLC	\$2,100.0000	\$3,570.00
716-12.01 ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)		
0.700 L.M	l.	
Jones Bros., Inc.	\$6,500.0000	\$4,550.00
Dement Construction Company, LLC	\$6,500.0000	\$4,550.00
Rogers Group, Inc.	\$6,865.0000	\$4,805.50
Civil Constructors, LLC	\$4,250.0000	\$2,975.00

716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	
1.000 L.M.	
Jones Bros., Inc. \$7,500.0000 \$7	,500.00
Dement Construction Company, LLC \$7,500.0000 \$7	,500.00
The state of the s	,915.00
Civil Constructors, LLC \$5,600.0000 \$8	,600.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)	
160.000 L.F.	
·	\$640.00
, ,,	\$640.00
	\$680.00
Civil Constructors, LLC \$1.8000	\$288.00
717-01 MOBILIZATION	
1.000 LS	
Jones Bros., Inc. \$57,000.0000 \$57	,000.00
Dement Construction Company, LLC \$62,000.0000 \$62	,000.00
Rogers Group, Inc. \$60,016.5400 \$66	,016.54
Civil Constructors, LLC \$77,240.0000 \$77	,240.00
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)	
2,344.000 S.Y.	
Jones Bros., Inc. \$2.6000	,094.40
	,860.00
·	,211.60
	,852.40
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)	
375.000 S.Y.	
	\$562.50
	\$750.00
·	\$656.25
	,025.00
740-11.04 TEMPORARY SEDIMENT TUBE 20IN	
1,565.000 L.F.	
·	,303.75
	5,087.85
•	,007.05 5,494.75
	,929.75
801-01.02 CROWN VETCH MIXTURE (WITH MULCH)	
18.000 UNIT	1000 00
· · · · · · · · · · · · · · · · · · ·	\$630.00
• • •	,071.00
	,130.40
Civil Constructors, LLC \$105.0000 \$	,890.00

				CONTRACT CNR126
				CONTRACT CNR120
			UNIT PRICE	EXTENSION
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		51.000 UNIT		
	Jones Bros., Inc.		\$85.0000	\$4,335.00
	Dement Construction Company, LLC		\$20.2500	\$1,032.75
	Rogers Group, Inc.		\$21.4000	\$1,091.40
	Civil Constructors, LLC		\$52.0000	\$2,652.00
801-03	WATER (SEEDING & SODDING)			
		44.000 M.G.		
	Jones Bros., Inc.		\$10.0000	\$440.00
	Dement Construction Company, LLC		\$30.0000	\$1,320.00
	Rogers Group, Inc.		\$31.6500	\$1,392.60
	Civil Constructors, LLC		\$31.5000	\$1,386.00
803-01	SODDING (NEW SOD)			
		3,900.000 S.Y.		
	Jones Bros., Inc.	•	\$3.9500	\$15,405.00
	Dement Construction Company, LLC		\$3.0000	\$11,700.00
	2 0		ψο.σσσσ	ψ. 1,1 σσ.σσ

Rogers Group, Inc.

Civil Constructors, LLC

\$3.1500

\$4.2500

\$12,285.00

\$16,575.00

		CONTRACT CNR126
	UNIT PRICE	EXTENSION
BOX BRIDGE CATEGORY		
604-02.01 CLASS A CONCRETE (BOX BRIDGES)		
320.000 C.Y.		
Jones Bros., Inc.	\$410.0000	\$131,200.00
Dement Construction Company, LLC	\$450.0000	\$144,000.00
Rogers Group, Inc.	\$555.0000	\$177,600.00

604-02.02	STEEL BAR	REINFORCEMENT	(BOX BRIDGES)
			(

Civil Constructors, LLC

53,602.00	0 LB.	
Jones Bros., Inc.	\$0.8000	\$42,881.60
Dement Construction Company, LLC	\$0.9000	\$48,241.80
Rogers Group, Inc.	\$0.9500	\$50,921.90
Civil Constructors, LLC	\$1.0000	\$53,602.00

\$535.0000

\$171,200.00

\$1,185,478.10
\$1,312,945.15
\$1,049,052.95
\$1,159,791.34

### **SUB-TOTAL BOX BRIDGE**

Rogers Group, Inc.	\$228,521.90
Civil Constructors, LLC	\$224,802.00
Jones Bros., Inc.	\$174,081.60
Dement Construction Company, LLC	\$192,241.80

## TOTAL CONTRACT

Jones Bros., Inc.	\$1,223,134.55
Dement Construction Company, LLC	\$1,352,033.14
Rogers Group, Inc.	\$1,414,000.00
Civil Constructors, LLC	\$1,537,747.15

#### MCMINN COUNTY (Contract No. CNR128 Call 074)

NH/HSIP-30(77),54005-3239-94,54005-8239-14

THE RESURFACING ON S.R. 30 FROM EAST OF MILTON DRIVE (L.M. 6.50) TO EAST OF JACKSON STREET (L.M. 10.86).

PROJECT LENGTH - 4.360 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$2,795,302.71

			CONTRACT CNR128
ROADWAY CATEGORY		UNIT PRICE	EXTENSION
202-08.15 REMOVAL OF CURB AND GUTTER (SEE PLANS)			
Rogers Group, Inc.	2,097.000 L.F.	\$8.4500	\$17,719.65
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D			
Rogers Group, Inc.	694.000 TON	\$45.0000	\$31,230.00
307-02.01 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	RADING A 200.000 TON		
Rogers Group, Inc.		\$79.0000	\$15,800.00
307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	B-M2 750.000 TON		
Rogers Group, Inc.	750.000 TON	\$90.0000	\$67,500.00
403-02.01 TRACKLESS TACK COAT	95.000 TON		
Rogers Group, Inc.		\$800.0000	\$76,000.00
411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER	2,300.000 TON		
Rogers Group, Inc.	2,000.000 10.10	\$71.5000	\$164,450.00
411-02.10 ACS MIX(PG70-22) GRADING D	12,100.000 TON		
Rogers Group, Inc.		\$88.0000	\$1,064,800.00
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)	4.200 L.M.		
Rogers Group, Inc.		\$580.0000	\$2,436.00
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	7.000 L.M.		
Rogers Group, Inc.		\$580.0000	\$4,060.00
415-01.01 COLD PLANING BITUMINOUS PAVEMENT	323.000 TON		
Rogers Group, Inc.		\$33.0000	\$10,659.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT	198,984.000 S.Y.		
Rogers Group, Inc.		\$1.3000	\$258,679.20
604-01.01 CLASS A CONCRETE (ROADWAY)	12.000 C.Y.		
Rogers Group, Inc.		\$1,265.0000	\$15,180.00

			UNIT PRICE	CONTRACT CNR128  EXTENSION
			UNIT PRICE	EXTENSION
611-01.20	ADJUSTMENT OF EXISTING MANHOLE			
	Rogers Group, Inc.	52.000 EACH	\$400.0000	\$20,800.00
611-03.04	GRAY IRON CASTINGS (CATCHBASIN)			
	Rogers Group, Inc.	36,565.000 LB.	\$3.1500	\$115,179.75
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Rogers Group, Inc.	2.000 EACH	\$582.0000	\$1,164.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Rogers Group, Inc.	5,952.000 S.F.	\$37.0000	\$220,224.00
702-03	CONCRETE COMBINED CURB & GUTTER			
	Rogers Group, Inc.	134.800 C.Y.	\$688.0000	\$92,742.40
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
	Rogers Group, Inc.	4,700.000 L.F.	\$15.8500	\$74,495.00
705-04.03	GUARDRAIL TERMINAL (TYPE 13)			
	Rogers Group, Inc.	1.000 EACH	\$950.0000	\$950.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
	Rogers Group, Inc.	3.000 EACH	\$634.0000	\$1,902.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Rogers Group, Inc.	7.000 EACH	\$2,585.0000	\$18,095.00
705-07.11	TRUCK MOUNTED ENERGY ATTENUATOR			
	Rogers Group, Inc.	2.000 EACH	\$12,500.0000	\$25,000.00
706-01	GUARDRAIL REMOVED	5,260.000 L.F.		
	Rogers Group, Inc.		\$0.6000	\$3,156.00
706-06.03	RADIUS RAIL			
	Rogers Group, Inc.	225.000 L.F.	\$26.0000	\$5,850.00

			UNIT PRICE	CONTRACT CNR128  EXTENSION
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.		\$84,000.0000	\$84,000.00
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)	250.000 EACH		
	Rogers Group, Inc.	200,000 2,7011	\$26.5000	\$6,625.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Rogers Group, Inc.	89.000 EACH	\$21.5000	\$1,913.50
712-05.03	WARNING LIGHTS (TYPE C)			
	Rogers Group, Inc.	30.000 EACH	\$21.5000	\$645.00
712-06	SIGNS (CONSTRUCTION)	1,773.000 S.F.		
	Rogers Group, Inc.		\$7.0000	\$12,411.00
712-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
	Rogers Group, Inc.		\$1,180.0000	\$2,360.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Rogers Group, Inc.	4.000 EACH	\$1,940.0000	\$7,760.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	660.000 EACH		
	Rogers Group, Inc.	000.000 EACH	\$24.8500	\$16,401.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
	Rogers Group, Inc.	1,405.000 EACH	\$24.8500	\$34,914.25
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	Rogers Group, Inc.	800.000 L.F.	\$8.4500	\$6,760.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Rogers Group, Inc.	200.000 S.Y.	\$15.8600	\$3,172.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			

1,420.000 L.F.

Rogers Group, Inc.

\$12,013.20

\$8.4600

			UNIT PRICE	CONTRACT CNR128  EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	76.000 EACH	\$105.7100	\$8,033.96
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	Rogers Group, Inc.	110.000 L.F.	\$16.9100	\$1,860.10
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	Rogers Group, Inc.	3.000 EACH	\$132.1400	\$396.42
716-03.09	PLASTIC WORD PAVEMENT MARKING (PED XNG )			
	Rogers Group, Inc.	4.000 EACH	\$184.9900	\$739.96
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	Rogers Group, Inc.	6.000 EACH	\$211.4200	\$1,268.52
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)	250.000 L.F.		
	Rogers Group, Inc.		\$5.2900	\$1,322.50
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	Rogers Group, Inc.	6.000 EACH	\$84.5700	\$507.42
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Rogers Group, Inc.	30.000 S.F.	\$12.6800	\$380.40
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Rogers Group, Inc.	28.000 L.M.	\$491.5400	\$13,763.12
716-10.30	TRUNCATED DOME DETECTABLE WARNING MAT			
	Rogers Group, Inc.	50.000 S.F.	\$200.8500	\$10,042.50
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Rogers Group, Inc.	28.000 L.M.	\$2,219.8700	\$62,156.36
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)			
	Rogers Group, Inc.	2,700.000 L.F.	\$1.0600	\$2,862.00

				CONTRACT CNR128
			UNIT PRICE	EXTENSION
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		500.000 L.F.		
	Rogers Group, Inc.		\$1.0600	\$530.00
717-01	MOBILIZATION	1.000 LS		
	Rogers Group, Inc.	1.000 L3	\$115,000.0000	\$115,000.00
730-14.02	SAW SLOT			
		10,450.000 L.F.		
	Rogers Group, Inc.		\$4.0000	\$41,800.00

68,350.000 L.F.

\$0.5500

\$37,592.50

730-14.03 LOOP WIRE

Rogers Group, Inc.

# **SUB-TOTAL ROADWAY**

Rogers Group, Inc. \$2,795,302.71

# **TOTAL CONTRACT**

Rogers Group, Inc. \$2,795,302.71

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MARCH 31, 2017

#### MCMINN COUNTY (Contract No. CNR078 Call 075)

NH-30(59),54007-3220-14

THE GRADING, DRAINAGE AND PAVING ON S.R. 30 (WHITE STREET) FROM NEAR PARK STREET (L.M. 10.95) TO EAST OF KNIGHT ROAD (L.M. 12.05) IN ATHENS.

PROJECT LENGTH - 1.212 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

Talley Construction Company, Inc.

\$10,241,728.92

Greenstar, LLC

\$13,232,493.52

UNIT PRICE

**EXTENSION** 

ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES	1.000 LS		
	Talley Construction Company, Inc. Greenstar, LLC	1.000 LS	\$157,456.5000 \$115,000.0000	\$157,456.50 \$115,000.00
109-10.01	TRAINEE	4 700 000 110110		
	Talley Construction Company, Inc. Greenstar, LLC	1,760.000 HOUR	\$0.8000 \$0.8000	\$1,408.00 \$1,408.00
201-01	CLEARING AND GRUBBING			
	Talley Construction Company, Inc. Greenstar, LLC	1.000 LS	\$221,172.9700 \$827,000.0000	\$221,172.97 \$827,000.00
202-02.01	REMOVAL OF PIPE (18", STA. 73+50)	40.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC	40.000 L.F.	\$8.0000 \$41.0000	\$320.00 \$1,640.00
202-02.02	REMOVAL OF PIPE (18", STA. 74+80)			
	Talley Construction Company, Inc. Greenstar, LLC	45.000 L.F.	\$8.0000 \$35.0000	\$360.00 \$1,575.00
202-02.03	REMOVAL OF PIPE (15", STA. 78+00)			
	Talley Construction Company, Inc. Greenstar, LLC	70.000 L.F.	\$8.0000 \$40.0000	\$560.00 \$2,800.00
202-02.04	REMOVAL OF PIPE (18", STA. 78+40)			
	Talley Construction Company, Inc. Greenstar, LLC	45.000 L.F.	\$8.0000 \$50.0000	\$360.00 \$2,250.00
202-02.05	REMOVAL OF PIPE (18", STA. 78+40)			
	Talley Construction Company, Inc. Greenstar, LLC	45.000 L.F.	\$8.0000 \$50.0000	\$360.00 \$2,250.00
202-02.06	REMOVAL OF PIPE (15", STA. 82+50)			
	Talley Construction Company, Inc. Greenstar, LLC	60.000 L.F.	\$8.0000 \$30.0000	\$480.00 \$1,800.00
202-02.07	REMOVAL OF PIPE (15", STA. 82+50)	250.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC	230.000 L.F.	\$8.0000 \$30.0000	\$2,000.00 \$7,500.00

			CC	NIRACI CNRU/
			UNIT PRICE	EXTENSION
202-02.08	REMOVAL OF PIPE (15", STA. 89+45)			
	Talley Construction Company, Inc. Greenstar, LLC	95.000 L.F.	\$8.0000 \$60.0000	\$760.00 \$5,700.00
202-02.09	REMOVAL OF PIPE (18", STA. 89+55)			
	Talley Construction Company, Inc. Greenstar, LLC	30.000 L.F.	\$8.0000 \$70.0000	\$240.00 \$2,100.00
202-02.10	REMOVAL OF PIPE (15", STA. 100+00)			
	Talley Construction Company, Inc. Greenstar, LLC	140.000 L.F.	\$8.0000 \$100.0000	\$1,120.00 \$14,000.00
202-02.11	REMOVAL OF PIPE (36", STA. 101+40)			
	Talley Construction Company, Inc. Greenstar, LLC	180.000 L.F.	\$8.0000 \$115.0000	\$1,440.00 \$20,700.00
202-02.12	REMOVAL OF PIPE (18", STA. 101+00)			
	Talley Construction Company, Inc. Greenstar, LLC	80.000 L.F.	\$8.0000 \$40.0000	\$640.00 \$3,200.00
202-02.13	REMOVAL OF PIPE (18", STA. 101+75)			
	Talley Construction Company, Inc. Greenstar, LLC	60.000 L.F.	\$8.0000 \$40.0000	\$480.00 \$2,400.00
202-02.14	REMOVAL OF PIPE (15", STA. 102+10)			
	Talley Construction Company, Inc. Greenstar, LLC	20.000 L.F.	\$8.0000 \$36.0000	\$160.00 \$720.00
202-02.15	REMOVAL OF PIPE (18", STA. 104+15)			
	Talley Construction Company, Inc. Greenstar, LLC	50.000 L.F.	\$8.0000 \$40.0000	\$400.00 \$2,000.00
202-02.17	REMOVAL OF PIPE (15", STA. 109+60)			
	Talley Construction Company, Inc. Greenstar, LLC	45.000 L.F.	\$8.0000 \$35.0000	\$360.00 \$1,575.00
202-02.18	REMOVAL OF PIPE (18", STA. 109+60)	/=· =		
	Talley Construction Company, Inc. Greenstar, LLC	45.000 L.F.	\$8.0000 \$35.0000	\$360.00 \$1,575.00

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
202-02.19	REMOVAL OF PIPE (15", STA. 110+50)			
	Talley Construction Company, Inc. Greenstar, LLC	70.000 L.F.	\$8.0000 \$30.0000	\$560.00 \$2,100.00
202-02.20	REMOVAL OF PIPE (SIZE ,STA.)			
	Talley Construction Company, Inc. Greenstar, LLC	40.000 L.F.	\$8.0000 \$40.0000	\$320.00 \$1,600.00
202-02.21	REMOVAL OF PIPE (18", STA. 119+90)			
	Talley Construction Company, Inc. Greenstar, LLC	65.000 L.F.	\$8.0000 \$40.0000	\$520.00 \$2,600.00
202-02.22	REMOVAL OF PIPE (18", STA. 109+60)			
	Talley Construction Company, Inc. Greenstar, LLC	95.000 L.F.	\$8.0000 \$40.0000	\$760.00 \$3,800.00
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
	Talley Construction Company, Inc. Greenstar, LLC	6,572.000 S.Y.	\$5.8000 \$6.4000	\$38,117.60 \$42,060.80
202-04.50	REMOVAL OF STRUCTURES (400' OF 8'X10' BOX CULV., S	TA. 98+78)		
	Talley Construction Company, Inc. Greenstar, LLC	1.000 LS	\$65,073.5800 \$347,000.0000	\$65,073.58 \$347,000.00
202-06.01	REMOVAL OF BUILDINGS (TRACT 48)			
	Talley Construction Company, Inc. Greenstar, LLC	1.000 LS	\$9,850.0000 \$10,500.0000	\$9,850.00 \$10,500.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Talley Construction Company, Inc. Greenstar, LLC	22,635.000 C.Y.	\$17.2000 \$19.7500	\$389,322.00 \$447,041.25
203-06	WATER			
	Talley Construction Company, Inc. Greenstar, LLC	1,571.000 M.G.	\$8.6000 \$5.0000	\$13,510.60 \$7,855.00
203-07	FURNISHING & SPREADING TOPSOIL			
	Talley Construction Company, Inc. Greenstar, LLC	549.000 C.Y.	\$22.9200 \$32.0000	\$12,583.08 \$17,568.00

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
204-08	FOUNDATION FILL MATERIAL			
		139.000 C.Y.		
	Talley Construction Company, Inc. Greenstar, LLC		\$71.7900 \$40.0000	\$9,978.81 \$5,560.00
209-05	SEDIMENT REMOVAL			
		326.000 C.Y.		
	Talley Construction Company, Inc. Greenstar, LLC		\$12.6400 \$15.0000	\$4,120.64 \$4,890.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		34,808.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$3.5000 \$3.5000	\$121,828.00 \$121,828.00
209-08.08	ENHANCED ROCK CHECK DAM			
		30.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$400.0000 \$330.0000	\$12,000.00 \$9,900.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		4.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$606.9900 \$650.0000	\$2,427.96 \$2,600.00
209-09.43	CURB INLET PROTECTION (TYPE 4)			
		87.000 EACH		
	Talley Construction Company, Inc.		\$120.0000	\$10,440.00
	Greenstar, LLC		\$165.0000	\$14,355.00
209-40.30	CATCH BASIN PROTECTION (TYPE A)			
		1.000 EACH		
	Talley Construction Company, Inc.		\$1,000.0000	\$1,000.00
	Greenstar, LLC		\$500.0000	\$500.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
		32.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$175.0000 \$412.5000	\$5,600.00 \$13,200.00
	Greenstar, ELO		ψ+12.3000	Ψ13,200.00
209-40.42	CATCH BASIN FILTER ASSEMBLY(TYPE 2)			
	T. II. O. J. J. O. J.	17.000 EACH	Φ=00.0000	Фо 500 00
	Talley Construction Company, Inc. Greenstar, LLC		\$500.0000 \$500.0000	\$8,500.00 \$8,500.00
209-40.46	CATCH BASIN FILTER ASSEMBLY(TYPE 6)			
		10.000 EACH	_	_
	Talley Construction Company, Inc. Greenstar, LLC		\$500.0000 \$500.0000	\$5,000.00 \$5,000.00
	Groondar, LLO		ψ500.0000	ψο,οοο.οο

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
200-40 47 CATCH BASIN	FILTER ASSEMBLY(TYPE 7)			
209-40.47 CATCH BASIN	FILTER ASSEMBLI(TITE 1)	12.000 EACH		
Talley Constru	ction Company, Inc.		\$1,250.0000	\$15,000.00
Greenstar, LLC			\$1,100.0000	\$13,200.00
303-01.01 GRANULAR BA	ACKFILL (ROADWAY)			
		8,677.000 TON		
	ction Company, Inc.		\$21.4400	\$186,034.88
Greenstar, LLC	<i>;</i>		\$25.0000	\$216,925.00
303-10.01 MINERAL AGG	REGATE (SIZE 57)			
		101.000 TON		•
Talley Constru Greenstar, LL0	ction Company, Inc.		\$24.5600 \$29.0000	\$2,480.56 \$2,929.00
<b>3</b> .555ta, <b>22</b> .			Ψ=0.0000	ΨΞ,0Ξ0:00
411-12.02 SCORING SHO	ULDERS (NON-CONTINUOUS) (16IN WIDTH			
Talloy Constru	ction Company, Inc.	2.400 L.M.	\$1,250.0000	\$3,000.00
Greenstar, LLC			\$3,600.0000	\$8,640.00
415-01.02 COLD PLANING	G BITUMINOUS PAVEMENT	E 627 000 S V		
Tallev Constru	ction Company, Inc.	5,637.000 S.Y.	\$4.1300	\$23,280.81
Greenstar, LLC			\$5.3500	\$30,157.95
604-01.01 CLASS A CON	CRETE (ROADWAY)			
004-01.01 CLASS A CON	CRETE (ROADWAT)	56.000 C.Y.		
•	ction Company, Inc.		\$1,199.8300	\$67,190.48
Greenstar, LLC			\$1,050.0000	\$58,800.00
604-01.02 STEEL BAR RE	EINFORCEMENT (ROADWAY)			
		5,903.000 LB.		
-	ction Company, Inc.		\$0.0100	\$59.03
Greenstar, LLC	,		\$2.5000	\$14,757.50
604-01.20 BOX TUBE SAI	FETY RAIL			
<b>-</b>		2,525.000 L.F.		********
Talley Constru Greenstar, LL0	ction Company, Inc.		\$137.0000 \$139.3000	\$345,925.00 \$351,732.50
,			·	,
607-03.02 18" CONCRETI	E PIPE CULVERT (CLASS III)			
Talley Constru	ction Company, Inc.	6,111.000 L.F.	\$46.8400	\$286,239.24
Greenstar, LLC			\$67.0000	\$409,437.00
007.00.00.40#.5!55.00	EDT			
607-03.30 18" PIPE CULV	EKI	288.000 L.F.		
Talley Constru	ction Company, Inc.	200000 2.7 .	\$60.2300	\$17,346.24
Greenstar, LLC			\$51.0000	\$14,688.00

			co	NTRACT CNR078
			UNIT PRICE	EXTENSION
607-05.02 24" CON	CRETE PIPE CULVERT (CLASS III)			
		747.000 L.F.		
Talley Co Greensta	onstruction Company, Inc. nr, LLC		\$68.6300 \$133.0000	\$51,266.61 \$99,351.00
607-50.12 PRECAST	T CONCRETE BOX CULVERT (6'X6')			
		127.000 L.F.		
Talley Co Greensta	onstruction Company, Inc. ar, LLC		\$529.7400 \$1,100.0000	\$67,276.98 \$139,700.00
607-50.13 PRECAST	T CONCRETE BOX CULVERT (8'-0" x 8'-0")			
		450.000 L.F.		
Talley Co Greensta	onstruction Company, Inc. ar, LLC		\$598.5700 \$1,050.0000	\$269,356.50 \$472,500.00
611-01.04 MANHOL	.ES, > 12' - 16' DEPTH			
		1.000 EACH		
Talley Co Greensta	onstruction Company, Inc. ar, LLC		\$34,722.4800 \$21,500.0000	\$34,722.48 \$21,500.00
611-02.11 JUNCTIO	N BOX, TYPE 2			
<b>T</b> " 0		3.000 EACH	Φο οοο ο τοο	40.000.00
Falley Co Greensta	onstruction Company, Inc. ar, LLC		\$3,329.6400 \$5,500.0000	\$9,988.92 \$16,500.00
611-07.54 18IN END	OWALL (CROSS DRAIN) 3:1			
		2.000 EACH		
Talley Co Greensta	onstruction Company, Inc. ar. LLC		\$987.8500 \$1,925.0000	\$1,975.70 \$3,850.00
	OWALL (CROSS DRAIN) 4:1		*.,.	<b>V</b> 3,333.33
011-07:55 TOIN END	WALL (CROSS BRAIN) 4.1	3.000 EACH		
Talley Co	onstruction Company, Inc.	3.000 EAGIT	\$1,056.6800	\$3,170.04
Greensta			\$2,100.0000	\$6,300.00
611-12.01 CATCH B	BASINS, TYPE 12, 0' - 4' DEPTH			
		2.000 EACH		
•	onstruction Company, Inc.		\$2,891.4400	\$5,782.88
Greensta	ar, LLC		\$2,250.0000	\$4,500.00
611-12.02 CATCH B	BASINS, TYPE 12, > 4' - 8' DEPTH			
		13.000 EACH		
Talley Co Greensta	onstruction Company, Inc. ar, LLC		\$3,902.1700 \$3,500.0000	\$50,728.21 \$45,500.00
611-12.03 CATCH B	BASINS, TYPE 12, > 8' - 12' DEPTH			
		2.000 EACH		
	onstruction Company, Inc.		\$5,872.3000	\$11,744.60
Greensta	or IIC		\$7 100 0000	\$14 200 00

Greenstar, LLC

\$14,200.00

\$7,100.0000

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
611-13.01	CATCH BASINS, TYPE 13, 0' - 4' DEPTH			
		4.000 EACH		
	Talley Construction Company, Inc.		\$3,779.3700	\$15,117.48
	Greenstar, LLC		\$3,250.0000	\$13,000.00
611-13.02	CATCH BASINS, TYPE 13, > 4' - 8' DEPTH			
		7.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$3,684.7800 \$3,450.0000	\$25,793.46 \$24,150.00
	Oreenstar, LLO		ψο,+ου.υυυυ	Ψ24,100.00
611-14.02	CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
	Tallace Construction Commence Inc	10.000 EACH	ФБ <b>7</b> 40 0000	<b>#57.400.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$5,749.3800 \$4,100.0000	\$57,493.80 \$41,000.00
611-42.02	CATCH BASINS, TYPE 42, > 4' - 8' DEPTH	4 000 54 011		
	Talley Construction Company, Inc.	1.000 EACH	\$4,960.1800	\$4,960.18
	Greenstar, LLC		\$2,400.0000	\$2,400.00
704 04 04	CONCRETE SIDEWALK (4 ")			
701-01.01	CONCRETE SIDEWALK (4 ")	51,876.000 S.F.		
	Talley Construction Company, Inc.	0.,0.0000 0	\$4.6100	\$239,148.36
	Greenstar, LLC		\$5.9000	\$306,068.40
701-02	CONCRETE DRIVEWAY			
		10,550.000 S.F.		
	Talley Construction Company, Inc.		\$7.3600	\$77,648.00
	Greenstar, LLC		\$8.7000	\$91,785.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	_ , _ , , , , _ , , , , , , , , , , , ,	125.000 S.F.		<b>*</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$40.6300 \$44.1000	\$5,078.75 \$5,512.50
	,		·	, ,
701-02.03	CONCRETE CURB RAMP			
	Talley Construction Company, Inc.	1,600.000 S.F.	\$20.1300	\$32,208.00
	Greenstar, LLC		\$20.9000	\$33,440.00
702.02	CONCRETE COMPINED CURP & CUTTER			
702-03	CONCRETE COMBINED CURB & GUTTER	828.000 C.Y.		
	Talley Construction Company, Inc.	3 <u>2</u> 51333 G	\$421.1700	\$348,728.76
	Greenstar, LLC		\$431.0000	\$356,868.00
705-01.04	METAL BEAM GUARD FENCE			
		288.000 L.F.		
	Talley Construction Company, Inc.		\$51.7500 \$54.0000	\$14,904.00 \$45,553.00
	Greenstar, LLC		\$54.0000	\$15,552.00

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
705-02 02	SINGLE GUARDRAIL (TYPE 2)			
700 02.02	SINGLE GOARDRAIL (THE 2)	2,507.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC	·	\$15.5000 \$16.0000	\$38,858.50 \$40,112.00
705-04.03	GUARDRAIL TERMINAL (TYPE 13)			
	T. II. O	2.000 EACH	<b>#</b>	<b>A</b> 4 050 00
	Talley Construction Company, Inc. Greenstar, LLC		\$825.0000 \$870.0000	\$1,650.00 \$1,740.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
	T. II. O	1.000 EACH	<b>#</b> 500.000	<b>#=00.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$500.0000 \$530.0000	\$500.00 \$530.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Tallow Construction Comments has	1.000 EACH	<b>\$0.075.0000</b>	<b>#0.075.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$2,075.0000 \$2,200.0000	\$2,075.00 \$2,200.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	Tallou Construction Common las	25.000 EACH	Φ2 F7F 0000	<b>\$00.275.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$3,575.0000 \$7,000.0000	\$89,375.00 \$175,000.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Talley Construction Company, Inc.	1,039.000 L.F.	\$1.5000	\$1,558.50
	Greenstar, LLC		\$2.0000	\$2,078.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Tallow Construction Comments has	200.000 TON	<b>\$00.7400</b>	<b>#</b> F 040 00
	Talley Construction Company, Inc. Greenstar, LLC		\$29.7400 \$33.2500	\$5,948.00 \$6,650.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Talley Construction Company, Inc.	182.000 TON	\$31.3700	\$5,709.34
	Greenstar, LLC		\$32.2500	\$5,869.50
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
	Talley Construction Company, Inc.	12,030.000 L.F.	\$4.5000	\$54,135.00
	Greenstar, LLC		\$4.7000	\$56,541.00
711-05.70	32IN SINGLE SLOPE CONCRETE BARRIER WALL			
	Talley Construction Company, Inc.	20.000 L.F.	\$250.0000	\$5,000.00
	Greenstar, LLC		\$342.0000	\$6,840.00

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
	T	1.000 LS	<b>#70.400.0500</b>	<b>#</b> 70,400,05
	Talley Construction Company, Inc. Greenstar, LLC		\$76,430.8500 \$636,000.0000	\$76,430.85 \$636,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL	4,463.000 L.F.		
	Talley Construction Company, Inc.	4,403.000 L.F.	\$35.6000	\$158,882.80
	Greenstar, LLC		\$46.0000	\$205,298.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	·	120.000 EACH		
	Talley Construction Company, Inc.		\$30.0000 \$50.0000	\$3,600.00
	Greenstar, LLC		φ50.0000	\$6,000.00
712-04.50	PORTABLE BARRIER RAIL DELINEATOR			
	Tellar Construction Common Inc	400.000 EACH	¢40,0000	¢4,000,00
	Talley Construction Company, Inc. Greenstar, LLC		\$10.0000 \$13.2500	\$4,000.00 \$5,300.00
712-05.01	WARNING LIGHTS (TYPE A)	8.000 EACH		
	Talley Construction Company, Inc.	0.000 LACIT	\$45.0000	\$360.00
	Greenstar, LLC		\$20.0000	\$160.00
712-05.03	WARNING LIGHTS (TYPE C)			
	,	50.000 EACH		
	Talley Construction Company, Inc.		\$45.0000 \$20.0000	\$2,250.00
	Greenstar, LLC		\$20.0000	\$1,000.00
712-06	SIGNS (CONSTRUCTION)			
	Tolloy Construction Company, Inc.	225.000 S.F.	<b>\$7,6500</b>	¢4 724 25
	Talley Construction Company, Inc. Greenstar, LLC		\$7.6500 \$9.0000	\$1,721.25 \$2,025.00
712-07.03	TEMPORARY BARRICADES (TYPE III)	110.000 L.F.		
	Talley Construction Company, Inc.	110.000 E.11 .	\$15.5000	\$1,705.00
	Greenstar, LLC		\$45.0000	\$4,950.00
712-08.03	ARROW BOARD (TYPE C)			
	·	2.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$1,050.0000 \$4,000.0000	\$2,100.00 \$8,000.00
	Gieeristai, LLO		φ4,000.0000	φο,υυυ.υυ
712-09.01	REMOVABLE PAVEMENT MARKING LINE			

500.000 L.F.

Talley Construction Company, Inc.

Greenstar, LLC

\$1,250.00

\$1,875.00

\$2.5000

\$3.7500

			CONTRACT CNR078
		UNIT PRICE	EXTENSION
713-11.01 "U" SECTION STEEL POSTS			
	328.000 LB.		
Talley Construction Company, Inc.		\$3.2500	\$1,066.00
Greenstar, LLC		\$3.3000	\$1,082.40
713-11.02 PERFORATED/KNOCKOUT SQUARE TO	UBE POST		
	1,546.000 LB.		
Talley Construction Company, Inc.		\$4.0000	\$6,184.00
Greenstar, LLC		\$5.4000	\$8,348.40
713-11.21 P POST SLIP BASE			
	7.000 EACH		
Talley Construction Company, Inc. Greenstar, LLC		\$350.0000 \$379.5000	\$2,450.00 \$2,656.50
Greenstar, LLC		φ379.5000	φ2,030.30
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080	" THICK)		
	295.000 S.F.		
Talley Construction Company, Inc. Greenstar, LLC		\$13.0000 \$14.3000	\$3,835.00 \$4,218.50
Greenstar, LEG		ψ14.3000	ψ+,210.50
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100	" THICK)		
	150.000 S.F.		
Talley Construction Company, Inc. Greenstar, LLC		\$14.0000 \$15.6500	\$2,100.00 \$2,347.50
3.33.13.11, 223		ψ.σ.σσσσ	ψ_,σσσ
713-14.22 STREET NAME SIGN (SUSPENDED 0.1)			
Teller Operatoration Operators Inc.	69.000 S.F.	<b>#</b> 40,0000	ФО <b>7</b> 00 00
Talley Construction Company, Inc. Greenstar, LLC		\$40.0000 \$42.4000	\$2,760.00 \$2,925.60
713-15 REMOVAL OF SIGNS, POSTS AND FOO			
Talley Construction Company, Inc.	1.000 LS	\$500.0000	\$500.00
Greenstar, LLC		\$3,500.0000	\$3,500.00
713-15.07 SUSPENDED FLAT SHEET ALUMINUM	SIGN (0.080" THICK) 2.000 EACH		
Talley Construction Company, Inc.	2.000 EACH	\$240.0000	\$480.00
Greenstar, LLC		\$254.4000	\$508.80
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
713-10.01 GHANGEADLE MESSAGE SIGN UNIT	2,000 EACH		
Talley Construction Company, Inc.		\$9,100.0000	\$18,200.00
Greenstar, LLC		\$8,900.0000	\$17,800.00
716-01.05 TEMPORARY RAISED PAVEMENT MAR	RKER		
	40.000 EACH		
Talley Construction Company, Inc.		\$7.5000	\$300.00
Greenstar, LLC		\$8.0000	\$320.00

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
710 01121		178.000 EACH		
	Talley Construction Company, Inc.		\$27.0000	\$4,806.00
	Greenstar, LLC		\$29.0000	\$5,162.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		193.000 EACH		
	Talley Construction Company, Inc.		\$27.0000	\$5,211.00
	Greenstar, LLC		\$29.0000	\$5,597.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		463.000 L.F.		
	Talley Construction Company, Inc.		\$7.7500 \$8.0000	\$3,588.25
	Greenstar, LLC		\$6.0000	\$3,704.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		84.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$10.0000 \$15.0000	\$840.00 \$1,260.00
	Greenstar, LLC		\$15.0000	φ1,200.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		5.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$145.0000 \$160.0000	\$725.00 \$800.00
	Creenstar, LEC		ψ100.0000	ψουσ.σο
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
		25.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$1.5000 \$2.0000	\$37.50 \$50.00
	Creenstar, LEC		Ψ2.0000	ψ50.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
		7.000 EACH	<b>*</b>	4
	Talley Construction Company, Inc. Greenstar, LLC		\$185.0000 \$200.0000	\$1,295.00 \$1,400.00
	0.00.10.001, 2.20		Ψ200.0000	ψ1,100.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Tallow Construction Comments Inc.	16.900 L.M.	Фоос оооо	<b>#40 570 40</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$626.0000 \$700.0000	\$10,579.40 \$11,830.00
	0.00.00.00.00.00.00.00.00.00.00.00.00.0		ψ. σσ.σσσσ	<b>V.1,000.00</b>
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Talloy Construction Company Inc	6.300 L.M.	¢4.40E.0000	¢25 007 50
	Talley Construction Company, Inc. Greenstar, LLC		\$4,125.0000 \$4,400.0000	\$25,987.50 \$27,720.00
			γ., .23. <b>333</b>	<del>,</del>
717-01	MOBILIZATION			
	Talloy Construction Company Inc	1.000 LS	\$642.262.0000	¢642.262.00
	Talley Construction Company, Inc. Greenstar, LLC		\$643,263.0000 \$660,500.0000	\$643,263.00 \$660,500.00
	,		, - > - ,	, , - <b></b>

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
730-01 02	REMOVAL OF SIGNAL EQUIPMENT			
730-01.02	REMOVAL OF SIGNAL EQUIPMENT	2.000 EACH		
	Talley Construction Company, Inc.		\$2,658.0000	\$5,316.00
	Greenstar, LLC		\$2,817.5000	\$5,635.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
		9.000 EACH		
	Talley Construction Company, Inc.		\$792.0000	\$7,128.00
	Greenstar, LLC		\$839.5500	\$7,555.95
730-02.17	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
		5.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$1,263.0000 \$1,338.8000	\$6,315.00 \$6,694.00
	3.661.6td., 226		ψ1,000.000	ψο,σοσο
730-03.20	INSTALL PULL BOX (TYPE A)			
	Tallay Caratrustica Caranany Inc	8.000 EACH	<b>#205.0000</b>	<b>#2.000.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$325.0000 \$344.5000	\$2,600.00 \$2,756.00
730-03.21	INSTALL PULL BOX (TYPE B)	0.000 54 011		
	Talley Construction Company, Inc.	3.000 EACH	\$430.0000	\$1,290.00
	Greenstar, LLC		\$455.8000	\$1,367.40
720 0E 04	ELECTRICAL SERVICE CONNECTION			
730-03.01	ELECTRICAL SERVICE CONNECTION	2.000 EACH		
	Talley Construction Company, Inc.		\$1,199.0000	\$2,398.00
	Greenstar, LLC		\$1,270.9500	\$2,541.90
730-08.01	SIGNAL CABLE - 3 CONDUCTOR			
		1,540.000 L.F.		
	Talley Construction Company, Inc.		\$0.9500	\$1,463.00
	Greenstar, LLC		\$1.0500	\$1,617.00
730-08.02	SIGNAL CABLE - 5 CONDUCTOR			
		1,926.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$1.1000 \$1.2000	\$2,118.60 \$2,311.20
	3.661.6td., 226		ψ1. <u>2</u> 000	ΨΞ,Ο Ι Ι.ΞΟ
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
	Talley Construction Company, Inc.	1,326.000 L.F.	\$1.3000	\$1,723.80
	Greenstar, LLC		\$1.4000	\$1,856.40
730-09.01	SPAN WIRE ASSEMBLY(22,150 LBS.MIN.BRK STRENGTH)	480.000 L.F.		
	Talley Construction Company, Inc.	400.000 L.F.	\$3.3000	\$1,584.00
	Greenstar, LLC		\$3.5000	\$1,680.00

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
730-09.02	SPAN WIRE ASSEMBLY(20,550 LBS.MIN.BRK STRENGTH)			
	,	268.000 L.F.		
	Talley Construction Company, Inc.		\$3.3000	\$884.40
	Greenstar, LLC		\$3.5000	\$938.00
730-10.01	TETHER WIRE ASSEMBLY - 1/4" DIAMETER			
		748.000 L.F.		
	Talley Construction Company, Inc.		\$2.8000	\$2,094.40
	Greenstar, LLC		\$3.0000	\$2,244.00
730-12.01	CONDUIT 1" DIAMETER (PVC)			
		789.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$9.0000 \$9.5500	\$7,101.00 \$7,534.95
	Greenstal, LLG		ψ9.3300	ψ1,334.93
730-12.02	CONDUIT 2" DIAMETER (PVC)			
	T	315.000 L.F.	<b>#</b> 40.000	<b>#0.450.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$10.0000 \$10.6000	\$3,150.00 \$3,339.00
			*********	<b>V</b> 0,00000
730-13.01	VEHICLE LOOP DETECTOR (SHELF MOUNT)			
	Tallan Construction Comments to	16.000 EACH	ФО4.4.0000	ФО 404 OO
	Talley Construction Company, Inc. Greenstar, LLC		\$214.0000 \$226.8500	\$3,424.00 \$3,629.60
730-14.01	SHIELDED DETECTOR CABLE	0.004.0001.5		
	Talley Construction Company, Inc.	3,091.000 L.F.	\$1.0000	\$3,091.00
	Greenstar, LLC		\$1.1000	\$3,400.10
700 44 00	244401.07			
730-14.02	SAW SLOT	3,216.000 L.F.		
	Talley Construction Company, Inc.	3,210.000 L.I .	\$4.0000	\$12,864.00
	Greenstar, LLC		\$4.2500	\$13,668.00
730-14.03	LOOP WIRE			
		8,238.000 L.F.		
	Talley Construction Company, Inc.	·	\$0.7000	\$5,766.60
	Greenstar, LLC		\$0.7500	\$6,178.50
730-15.32	CABINET (EIGHT PHASE BASE MOUNTED)			
	•	2.000 EACH		
	Talley Construction Company, Inc.		\$13,261.0000	\$26,522.00
	Greenstar, LLC		\$14,056.6000	\$28,113.20
730-16.02	EIGHT PHASE ACTUATED CONTROLLER			
		2.000 EACH		
	Talley Construction Company, Inc.		\$3,972.0000 \$4,210.3500	\$7,944.00 \$8,420.70
	Greenstar, LLC		\$4,210.3500	\$8,420.70

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
700 00 04	OTES, OTRAIN DOLE (CIONAL CURRENT)			
/30-23.01	STEEL STRAIN POLE (SIGNAL SUPPORT)	3.000 EACH		
	Talley Construction Company, Inc.	3.000 EAGI1	\$18,704.0000	\$56,112.00
	Greenstar, LLC		\$19,826.2500	\$59,478.75
730-23.02	STEEL STRAIN POLE (SIGNAL SUPPORT)			
		1.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$18,347.0000 \$19,447.9000	\$18,347.00 \$19,447.90
	Greenstar, LLC		φ19, <del>44</del> 7.9000	φ19, <del>44</del> 7.90
730-23.03	STEEL STRAIN POLE (SIGNAL SUPPORT)			
		1.000 EACH		
	Talley Construction Company, Inc.		\$10,469.0000	\$10,469.00
	Greenstar, LLC		\$11,097.1500	\$11,097.15
730-23.04	STEEL STRAIN POLE (SIGNAL SUPPORT)			
	,	3.000 EACH		
	Talley Construction Company, Inc.		\$9,789.0000	\$29,367.00
	Greenstar, LLC		\$10,376.3500	\$31,129.05
700 00 00	DEDECTAL DOLE (DEDECTDIAL CIONAL CURRENT)			
730-23.30	PEDESTAL POLE (PEDESTRIAN SIGNAL SUPPORT)	40.000 54.011		
	Talley Construction Company, Inc.	10.000 EACH	\$1,528.0000	\$15,280.00
	Greenstar, LLC		\$1,619.7000	\$16,197.00
730-26.11	COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH B	UTTON & 15IN SIGN		
		12.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$1,285.0000 \$1,362.1000	\$15,420.00 \$16,345.20
	Greenstar, LLC		\$1,302.1000	φ10,343.20
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		2.000 EACH		
	Talley Construction Company, Inc.		\$11,911.0000	\$23,822.00
	Greenstar, LLC		\$12,625.7000	\$25,251.40
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	, ,	1,603.000 S.Y.		
	Talley Construction Company, Inc.	·	\$2.7300	\$4,376.19
	Greenstar, LLC		\$4.5000	\$7,213.50
740 44 02	TEMPODADY CEDIMENT TUDE 40IN			
740-11.03	TEMPORARY SEDIMENT TUBE 18IN	4,278.000 L.F.		
	Talley Construction Company, Inc.	4,210.000 L.F.	\$3.0000	\$12,834.00
	Greenstar, LLC		\$3.8000	\$16,256.40
801-01	SEEDING (WITH MULCH)			
	T. II. O	13.000 UNIT	<b>*</b> 40 - 22 - 2	<b>A</b> =0.2.2.2
	Talley Construction Company, Inc. Greenstar, LLC		\$40.0000 \$31.3500	\$520.00 \$407.55
	Oreensial, LLO		φ31.3300	φ <del>4</del> υ1.33

			UNIT PRICE	CONTRACT CNR078  EXTENSION
801-02	SEEDING (WITHOUT MULCH)			
		12.000 UNIT		
	Talley Construction Company, Inc.		\$40.0000	\$480.00
	Greenstar, LLC		\$17.0500	\$204.60
801-02.01	CROWN VETCH MIXTURE (WITHOUT MULCH)			
	,	15.000 UNIT		
	Talley Construction Company, Inc.		\$35.0000	\$525.00
	Greenstar, LLC		\$33.0000	\$495.00
801-03	WATER (SEEDING & SODDING)			
	T	102.000 M.G.	Фод осоо	<b>#</b> 0.040.00
	Talley Construction Company, Inc. Greenstar, LLC		\$20.0000 \$16.5000	\$2,040.00 \$1,683.00
	Groonstar, 220		ψ10.0000	ψ1,000.00
803-01	SODDING (NEW SOD)			
		6,587.000 S.Y.		
	Talley Construction Company, Inc.		\$3.9000	\$25,689.30
	Greenstar, LLC		\$3.9600	\$26,084.52
	DDG IFOT MOUNING			
806-02.03	PROJECT MOWING	2 222 2721		
	Tallay Construction Company, Inc.	3.000 CYCL	\$4,000.0000	\$12,000.00
	Talley Construction Company, Inc. Greenstar, LLC		\$1,320.0000	\$3,960.00
			ψ.,σ=σ.σσσσ	ψο,σσσ.σσ
920-08.22	TEMPORARY SHORING			
		4,020.000 S.F.		
	Talley Construction Company, Inc.		\$25.0000	\$100,500.00
	Greenstar, LLC		\$26.9500	\$108,339.00

				CONTRACT CNR078
UTILITY	CATEGORY		UNIT PRICE	EXTENSION
791-01.02	2IN STEEL GAS MAIN			
		980.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$48.2500 \$49.3000	\$47,285.00 \$48,314.00
791-02.04	4IN MDPE GAS MAIN			
		1,815.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$52.5000 \$32.3500	\$95,287.50 \$58,715.25
791-04.04	HDD 4IN PE PIPE - UNCONSOLIDATED			
		285.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$48.5000 \$51.9500	\$13,822.50 \$14,805.75
791-04.20	HDD 2IN STEEL PIPE - UNCONSOLIDATED			
	- 11 - 0 - 11 - 0	200.000 L.F.	<b>^</b>	
	Talley Construction Company, Inc. Greenstar, LLC		\$84.5000 \$68.2000	\$16,900.00 \$13,640.00
791-06.10	CONNECT TO 2IN EX. STL MAIN			
	Talley Construction Company, Inc.	2.000 EACH	\$1,550.0000	\$3,100.00
	Greenstar, LLC		\$2,459.2000	\$4,918.40
791-06.12	CONNECT TO 6IN EX. STL MAIN	4 000 54011		
	Talley Construction Company, Inc.	1.000 EACH	\$9,500.0000	\$9,500.00
	Greenstar, LLC		\$8,268.0000	\$8,268.00
791-06.24	CONNECT TO 4IN EX. PE MAIN	4 000 54011		
	Talley Construction Company, Inc.	1.000 EACH	\$1,250.0000	\$1,250.00
	Greenstar, LLC		\$1,346.2000	\$1,346.20
791-06.31	CONNECT TO 2IN EX. STL MAIN W/ STOPPLE			
	Tallace Consistence time Consessed by	2.000 EACH	<b>#0.000.000</b>	<b>#F 000 00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$2,800.0000 \$3,058.1000	\$5,600.00 \$6,116.20
791-07.02	4IN PE GAS VALVE ASSEMBLY			
	Tolloy Construction Company, Inc.	1.000 EACH	<b>ቀ</b> 07፫ 0000	<b>4075.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$875.0000 \$609.5000	\$875.00 \$609.50
791-07.09	2IN STEEL GAS VALVE ASSEMBLY	4 000 FACU		
	Teller Occupation Occupancy In-	1.000 EACH	<b>#4.050.0000</b>	<b>#4.050.00</b>

Talley Construction Company, Inc.

Greenstar, LLC

\$1,250.00 \$922.20

\$1,250.0000

\$922.2000

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
791-08 02	3/4IN SERVICE ASSEMBLY			
751-00.02	SHIN CERVICE ACCEMBET	7.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC	,,,,,,,	\$1,150.0000 \$699.6000	\$8,050.00 \$4,897.20
791-08.07	3/4IN PE SERVICE PIPE			
		120.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$17.5000 \$19.8000	\$2,100.00 \$2,376.00
791-08.12	3/4IN STEEL SERVICE PIPE			
		10.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$65.0000 \$181.2500	\$650.00 \$1,812.50
791-08.17	HDD 3/4IN PE SERVICE PIPE			
		500.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$24.5000 \$38.5000	\$12,250.00 \$19,250.00
791-08.22	HDD 3/4IN STEEL SERVICE PIPE			
		200.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$32.5000 \$61.4000	\$6,500.00 \$12,280.00
791-10.04	RETIRE IN PLACE 2IN SERV CUT & PLUG			
		2.000 EACH		_
	Talley Construction Company, Inc. Greenstar, LLC		\$1,350.0000 \$704.9000	\$2,700.00 \$1,409.80
793-01.12	POLE 40FT CLASS 4 WOOD			
		11.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$2,120.0000 \$2,247.2000	\$23,320.00 \$24,719.20
793-01.41	ANCHOR 1IN			
		2.000 EACH		_
	Talley Construction Company, Inc. Greenstar, LLC		\$519.0000 \$550.1500	\$1,038.00 \$1,100.30
793-13.07	4IN SCHEDULE 40 PVC			
		10,860.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$4.0000 \$4.2500	\$43,440.00 \$46,155.00
793-13.32	6 DUCT FORMATION @ 36IN DEPTH			
		1,810.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$21.0000 \$22.3000	\$38,010.00 \$40,363.00

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
793-14.03	MH PRECAST 6-FT W X 12-FT L X 7-FT H			
		3.000 EACH	<b></b>	<b></b>
	Talley Construction Company, Inc. Greenstar, LLC		\$16,579.0000 \$17,573.7500	\$49,737.00 \$52,721.25
793-16.01	MH(RETIRE/REMOVE/GRAVEL BACKFILL)	1.000 EACH		
	Talley Construction Company, Inc.	1.000 EACH	\$2,919.0000	\$2,919.00
	Greenstar, LLC		\$3,094.1500	\$3,094.15
793-98.04	REMOVE POLES ALL SIZES			
		11.000 EACH		
	Talley Construction Company, Inc.		\$242.0000	\$2,662.00
	Greenstar, LLC		\$256.5500	\$2,822.05
793-98.05	RETIRE BURIED FACILITIES IN PLACE			
	Talley Construction Comments by	1,810.000 L.F.	<b>#0.5000</b>	<b>#0.005.00</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$3.5000 \$3.7500	\$6,335.00 \$6,787.50
793-98.08	REMOVE ANCHOR (ANY SIZE)	3.000 EACH		
	Talley Construction Company, Inc.	0.000 EAGI1	\$191.0000	\$573.00
	Greenstar, LLC		\$202.5000	\$607.50
795-01.04	6IN DIP SLIP JOINT WATER LINE			
		250.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$65.5500 \$48.9000	\$16,387.50 \$12,225.00
	Groci star, ELO		ψ+0.0000	Ψ12,223.00
795-01.05	8IN DIP RESTRAINED JOINT WATER LINE			
	Talley Construction Company, Inc.	100.000 L.F.	\$50.7400	\$5,074.00
	Greenstar, LLC		\$56.7500	\$5,675.00
705-01 06	8IN DIP SLIP JOINT WATER LINE			
793-01.00	SIN DII SEII SOINI WATEN EINE	21.000 L.F.		
	Talley Construction Company, Inc.		\$97.4100	\$2,045.61
	Greenstar, LLC		\$88.7500	\$1,863.75
795-01.09	12IN DIP RESTRAINED JOINT WATER LINE			
		120.000 L.F.	_	<b>.</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$63.3700 \$81.7500	\$7,604.40 \$9,810.00
			, 2 2 3 6	¥-7
795-01.10	12IN DIP SLIP JOINT WATER LINE			

5,475.000 L.F.

Talley Construction Company, Inc.

Greenstar, LLC

\$329,595.00

\$453,877.50

\$60.2000

\$82.9000

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
795-05.65	BORE/JACK 16IN STEEL CASING PIPE-UNCON.			
		50.000 L.F.		
	Talley Construction Company, Inc.		\$329.9100	\$16,495.50
	Greenstar, LLC		\$294.3000	\$14,715.00
795-05.68	BORE/JACK 24IN STEEL CASING PIPE-UNCON.			
		108.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$402.6700 \$445.2000	\$43,488.36 \$48,081.60
	Citedistal, LEG		ψ443.2000	ψ+0,001.00
795-05.79	BORE/JACK 16IN STEEL CASING PIPE-ROCK.			
	T. II. O	50.000 L.F.	<b>#</b> 404.0400	<b>004.045.50</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$484.9100 \$419.2500	\$24,245.50 \$20,962.50
	·		·	. ,
795-05.82	BORE/JACK 24IN STEEL CASING PIPE-ROCK.			
	Talley Construction Company, Inc.	107.000 L.F.	\$628.6300	\$67,263.41
	Greenstar, LLC		\$722.9500	\$77,355.65
795-06.04	CONNECT TO 6IN WATER LINE	3.000 EACH		
	Talley Construction Company, Inc.	3.000 EACH	\$1,661.3400	\$4,984.02
	Greenstar, LLC		\$1,102.4000	\$3,307.20
705-06 05	CONNECT TO 8IN WATER LINE			
793-00.03	CONNECT TO SIN WATER LINE	1.000 EACH		
	Talley Construction Company, Inc.		\$1,819.3900	\$1,819.39
	Greenstar, LLC		\$2,008.7000	\$2,008.70
795-06.07	CONNECT TO 12IN WATER LINE			
		4.000 EACH		
	Talley Construction Company, Inc.		\$1,786.8300	\$7,147.32
	Greenstar, LLC		\$2,862.0000	\$11,448.00
795-07.15	12IN X 12IN TAPPING SLEEVE AND VALVE			
		1.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$6,833.4300 \$10,600.0000	\$6,833.43 \$10,600.00
	Gleenstal, LLO		\$10,000.0000	\$10,000.00
795-08.04	6IN GATE VALVE ASSEMBLY			
	T. II. O	12.000 EACH	<b>#4.005.4400</b>	<b>#</b> 40.004.00
	Talley Construction Company, Inc. Greenstar, LLC		\$1,025.4100 \$1,113.0000	\$12,304.92 \$13,356.00
			, ,	. ,
795-08.05	8IN GATE VALVE ASSEMBLY			
	Talley Construction Company, Inc.	1.000 EACH	\$1,399.6400	\$1,399.64
	Greenstar, LLC		\$1,621.8000	\$1,621.80

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
795-08 09	12IN GATE VALVE ASSEMBLY			
793-00.09	12N GATE VALVE AGGEMBET	6.000 EACH		
	Talley Construction Company, Inc.		\$2,835.1400	\$17,010.84
	Greenstar, LLC		\$3,063.4000	\$18,380.40
795-09.01	3/4IN WATER SERVICE METER ASSEMBLY			
		25.000 EACH		
	Talley Construction Company, Inc.		\$819.4800	\$20,487.00
	Greenstar, LLC		\$948.7000	\$23,717.50
795-09.02	1IN WATER SERVICE METER ASSEMBLY			
		5.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$871.2600 \$1,012.3000	\$4,356.30 \$5,061.50
	Greenstar, LLC		\$1,012.3000	φ5,061.50
795-09.04	2IN WATER SERVICE METER ASSEMBLY			
		1.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$1,770.8900 \$200.3500	\$1,770.89 \$200.35
	Croundia, LEC		Ψ200.0000	Ψ200.00
795-09.09	RELOCATE/RECONNECT SERVICE ASSEMBLY			
	T	31.000 EACH	<b>0.4.450.5500</b>	005.045.05
	Talley Construction Company, Inc. Greenstar, LLC		\$1,158.5500 \$466.4000	\$35,915.05 \$14,458.40
	,		·	, ,
795-09.12	2IN COPPER SERVICE PIPE			
	Talley Construction Company, Inc.	15.000 L.F.	\$30.2000	\$453.00
	Greenstar, LLC		\$29.9500	\$449.25
795-09.28	3/4IN COPPER SERVICE PIPE	375.000 L.F.		
	Talley Construction Company, Inc.	3/5.000 L.F.	\$17.9000	\$6,712.50
	Greenstar, LLC		\$14.0500	\$5,268.75
705 00 20	1IN COPPER SERVICE PIPE			
793-09.29	IN COFFER SERVICE FIFE	75.000 L.F.		
	Talley Construction Company, Inc.	. 6.000 <u></u>	\$20.4400	\$1,533.00
	Greenstar, LLC		\$12.2000	\$915.00
795-10.03	1IN AUTO AIR RELEASE VALVE ASSEMBLY			
		2.000 EACH		
	Talley Construction Company, Inc.		\$1,533.1800	\$3,066.36
	Greenstar, LLC		\$3,434.4000	\$6,868.80
795-11.01	BLOW-OFF ASSEMBLY			
		1.000 EACH		
	Talley Construction Company, Inc.		\$2,911.2300	\$2,911.23 \$3,603,40
	Greenstar, LLC		\$2,692.4000	\$2,692.40

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
705-11 02	FIRE HYDRANT ASSEMBLY			
793-11.02	FIRE HIDRANI ASSEMBEI	7.000 EACH		
	Talley Construction Company, Inc.		\$3,655.0700	\$25,585.49
	Greenstar, LLC		\$4,876.0000	\$34,132.00
795-13.01	DI FITTINGS			
		7,375.000 LB.		
	Talley Construction Company, Inc.		\$5.7000	\$42,037.50
	Greenstar, LLC		\$4.2500	\$31,343.75
795-14.05	CONCRETE ENCASEMENT			
		100.000 L.F.		
	Talley Construction Company, Inc.		\$61.7400 \$64.2500	\$6,174.00 \$6,435.00
	Greenstar, LLC		\$61.2500	\$6,125.00
795-14.08	RESTORE ASPHALT			
		1,487.000 S.Y.		
	Talley Construction Company, Inc. Greenstar, LLC		\$30.5900 \$55.1500	\$45,487.33 \$82,008.05
	0.000.00.00.00.00.00.00.00.00.00.00.00.		φοσ.1000	ψ02,000.00
795-21.02	RETIRE WATER VALVES AND HYDRANTS			
	Tallow Construction Comments by	1.000 LS	<b>#</b> 40,000,0400	<b>#40.000.04</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$10,096.6400 \$4,584.5000	\$10,096.64 \$4,584.50
797-03.04	2IN PVC FORCE MAIN	0.47.000   5		
	Talley Construction Company, Inc.	947.000 L.F.	\$26.8000	\$25,379.60
	Greenstar, LLC		\$41.1000	\$38,921.70
797-05.01	8IN DIP GRAVITY SEWER 0FT-6FT DEPTH	10.000 L.F.		
	Talley Construction Company, Inc.	10.000 L.I .	\$119.2200	\$1,192.20
	Greenstar, LLC		\$67.1000	\$671.00
797-05.02	8IN DIP GRAVITY SEWER 6FT-12FT DEPTH			
		259.000 L.F.		
	Talley Construction Company, Inc.		\$156.6100	\$40,561.99
	Greenstar, LLC		\$73.1500	\$18,945.85
797-05.11	12IN DIP GRAVITY SEWER 12FT-18FT DEPTH			
		114.000 L.F.		
	Talley Construction Company, Inc.		\$248.6600	\$28,347.24
	Greenstar, LLC		\$239.9500	\$27,354.30
797-05.12	12IN DIP GRAVITY SEWER >18FT DEPTH			
		59.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$324.2600 \$329.4000	\$19,131.34 \$19,434.60
	Groonstal, LLO		Ψ323.4000	ψ13,434.00

			C	ONTRACT CNR078
			UNIT PRICE	EXTENSION
797-05.21	24IN DIP GRAVITY SEWER 0FT-6FT DEPTH			
		8.000 L.F.		
	Talley Construction Company, Inc.		\$306.1800	\$2,449.44
	Greenstar, LLC		\$198.2500	\$1,586.00
797-05.22	24IN DIP GRAVITY SEWER 6FT-12FT DEPTH			
		43.000 L.F.		
	Talley Construction Company, Inc.		\$242.8400	\$10,442.12
	Greenstar, LLC		\$198.2500	\$8,524.75
797-05.23	24IN DIP GRAVITY SEWER 12FT-18FT DEPTH			
		75.000 L.F.		
	Talley Construction Company, Inc.		\$131.7600	\$9,882.00
	Greenstar, LLC		\$198.2500	\$14,868.75
797-05.24	24IN DIP GRAVITY SEWER >18FT DEPTH			
		106.000 L.F.		
	Talley Construction Company, Inc.		\$136.5200	\$14,471.12
	Greenstar, LLC		\$198.2500	\$21,014.50
797-05.30	IN DIP GRAVITY SEWER 6FT-12FT DEPTH			
		20.000 L.F.		
	Talley Construction Company, Inc.		\$181.4200	\$3,628.40
	Greenstar, LLC		\$111.3000	\$2,226.00
797-05.31	IN DIP GRAVITY SEWER 12FT-18FT DEPTH			
		20.000 L.F.	<b>.</b>	
	Talley Construction Company, Inc. Greenstar, LLC		\$250.5100 \$111.3000	\$5,010.20 \$2,226.00
	Greensiar, LLC		\$111.5000	φ2,220.00
797-05.32	IN DIP GRAVITY SEWER >18FT DEPTH			
		175.000 L.F.		
	Talley Construction Company, Inc.		\$88.5200	\$15,491.00
	Greenstar, LLC		\$111.3000	\$19,477.50
797-05.51	8IN PVC GRAVITY SEWER 0FT-6FT DEPTH			
		622.000 L.F.		
	Talley Construction Company, Inc.		\$64.6000	\$40,181.20 \$42,855,80
	Greenstar, LLC		\$68.9000	\$42,855.80
797-05.52	8IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
		498.000 L.F.	_	
	Talley Construction Company, Inc. Greenstar, LLC		\$99.8000 \$105.8500	\$49,700.40 \$52,713,30
	Greenstar, LLC		\$105.8500	\$52,713.30
797-05.60	12IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
	Talley Construction Construction	235.000 L.F.	#400 0000	<b>#00.000.70</b>
	Talley Construction Company, Inc. Greenstar, LLC		\$122.8200 \$121.0500	\$28,862.70 \$28,446.75
	5.55.16tar, 225		Ψ121.0000	Ψ20, 110.70

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
797-05.61	12IN PVC GRAVITY SEWER 12FT-18FT DEPTH			
		16.000 L.F.		
	Talley Construction Company, Inc.		\$222.4400	\$3,559.04
	Greenstar, LLC		\$221.8500	\$3,549.60
797-06.64	BORE/JACK 16IN STEEL CASING PIPE-UNCON.			
		103.000 L.F.		
	Talley Construction Company, Inc. Greenstar, LLC		\$351.3600 \$262.1000	\$36,190.08 \$26,996.30
	Greenstar, LEG		Ψ202.1000	Ψ20,330.30
797-06.68	BORE/JACK 30IN STEEL CASING PIPE-UNCON.			
	T	84.000 L.F.	<b>4500 7400</b>	<b>#</b> 40.004.40
	Talley Construction Company, Inc. Greenstar, LLC		\$523.7400 \$585.8500	\$43,994.16 \$49,211.40
	·			
797-06.71	BORE/JACKIN STEEL CASING PIPE-UNCON.			
	Talley Construction Company, Inc.	105.000 L.F.	\$724.1200	\$76,032.60
	Greenstar, LLC		\$754.5000	\$79,222.50
797-06.77	BORE/JACK 16IN STEEL CASING PIPE-ROCK.	103.000 L.F.		
	Talley Construction Company, Inc.	103.000 L.F.	\$510.8300	\$52,615.49
	Greenstar, LLC		\$388.2500	\$39,989.75
707-06 81	BORE/JACK 30IN STEEL CASING PIPE-ROCK.			
737-00.01	BONE GAGING THE E-NOON.	84.000 L.F.		
	Talley Construction Company, Inc.		\$789.6500	\$66,330.60
	Greenstar, LLC		\$828.4000	\$69,585.60
797-06.84	BORE/JACKIN STEEL CASING PIPE-ROCK			
		105.000 L.F.		
	Talley Construction Company, Inc.		\$1,039.8900	\$109,188.45
	Greenstar, LLC		\$1,001.8500	\$105,194.25
797-07.01	48IN MANHOLE 0FT-4FT DEPTH			
		1.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$2,377.9800 \$3,561.6000	\$2,377.98 \$3,561.60
	0.00.00.00.00.00.00.00.00.00.00.00.00.0		ψο,σοισσσσ	ψο,σοσο
797-07.02	48IN MANHOLE 4FT-6FT DEPTH			
	Talley Construction Company, Inc.	5.000 EACH	\$2,250.1600	\$11,250.80
	Greenstar, LLC		\$3,869.0000	\$19,345.00
797-07.03	48IN MANHOLE 6FT-8FT DEPTH	4.000 EACH		
	Talley Construction Company, Inc.	4.000 EACH	\$2,646.9900	\$10,587.96
	Greenstar, LLC		\$4,314.2000	\$17,256.80

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
797-07.04	48IN MANHOLE 8FT-10FT DEPTH			
		1.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$3,849.9500 \$5,591.5000	\$3,849.95 \$5,591.50
797-07.05	48IN MANHOLE 10FT-12FT DEPTH			
	Talley Construction Company, Inc.	3.000 EACH	\$3,653.5800	\$10,960.74
	Greenstar, LLC		\$5,909.5000	\$17,728.50
797-07.06	48IN MANHOLE 12FT-14FT DEPTH			
	T. II. O	3.000 EACH	<b>#</b> 4.000.4000	<b>#</b> 40.044.00
	Talley Construction Company, Inc. Greenstar, LLC		\$4,338.1200 \$6,969.5000	\$13,014.36 \$20,908.50
797-07.09	48IN MANHOLE 20FT-24FT DEPTH			
	Talloy Construction Company Inc	2.000 EACH	\$6,050.9500	¢12.101.00
	Talley Construction Company, Inc. Greenstar, LLC		\$16,504.2000	\$12,101.90 \$33,008.40
797-07.27	72IN MANHOLE 10FT-12FT DEPTH			
		2.000 EACH	•	•
	Talley Construction Company, Inc. Greenstar, LLC		\$6,663.5500 \$24,772.2000	\$13,327.10 \$49,544.40
797-07.28	72IN MANHOLE 12FT-14FT DEPTH			
	Talley Construction Company, Inc.	1.000 EACH	\$8,216.4700	\$8,216.47
	Greenstar, LLC		\$28,763.1000	\$28,763.10
797-07.56	MANHOLE DROP CONNECTION ASSEMBLY			
	Talley Construction Company, Inc.	1.000 EACH	\$2,319.9400	\$2,319.94
	Greenstar, LLC		\$439.9000	\$439.90
797-08.05	6IN PVC PIPE FOR SERVICE LATERAL			
	Talley Construction Company, Inc.	100.000 L.F.	\$72.9500	\$7,295.00
	Greenstar, LLC		\$37.1000	\$3,710.00
797-08.08	6IN CLEAN OUT ASSEMBLY			
	Talley Construction Company, Inc.	5.000 EACH	\$512.1700	\$2,560.85
	Greenstar, LLC		\$512.1700	\$2,554.75
797-08.10	2IN LOW PRESS SERVICE ASSEMBLY			
	Talley Construction Company, Inc.	6.000 EACH	\$1,018.2600	¢6 100 56
	Greenstar, LLC		\$1,229.6000	\$6,109.56 \$7,377.60

				CONTRACT CNR078
			UNIT PRICE	EXTENSION
707 09 12	2IN END OF LINE FLUSHING ASSEMBLY			
797-00.12	ZIN END OF LINE FLUSHING ASSEMBLY	1.000 EACH		
	Talley Construction Company, Inc.		\$1,392.9700	\$1,392.97
	Greenstar, LLC		\$1,621.8000	\$1,621.80
797-08.20	CONNECT SERVICE LINES (ALL SIZES)			
		5.000 EACH		
	Talley Construction Company, Inc.		\$1,997.9700	\$9,989.85
	Greenstar, LLC		\$736.7000	\$3,683.50
797-09.20	2IN COMBO AIR RELEASE VALVE ASSEMBLY			
		1.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$1,829.9700 \$5,204.6000	\$1,829.97 \$5,204.60
			ψο,20 ποσοσ	ψο,20σσ
797-10.02	CONNECT 8IN SEWER TO EXIST. MANHOLE			
	Tallou Construction Company, Inc.	1.000 EACH	¢4 224 2600	¢4 224 26
	Talley Construction Company, Inc. Greenstar, LLC		\$1,321.3600 \$1,950.4000	\$1,321.36 \$1,950.40
797-10.09	CONNECT EX. 8IN SEWER TO NEW MANHOLE	4 000 7 4 0 1 1		
	Talley Construction Company, Inc.	4.000 EACH	\$164.2100	\$656.84
	Greenstar, LLC		\$932.8000	\$3,731.20
707 40 40	CONNECT EX.10-18IN SEWER TO NEW MANHOLE			
797-10.10	CONNECT EX.10-18IN SEWER TO NEW MANHOLE	2.000 EACH		
	Talley Construction Company, Inc.	2.000 27(0)1	\$848.7000	\$1,697.40
	Greenstar, LLC		\$1,409.8000	\$2,819.60
797-10.11	CONNECT EX. >18IN SEWER TO NEW MANHOLE			
		4.000 EACH		
	Talley Construction Company, Inc.		\$848.7000	\$3,394.80
	Greenstar, LLC		\$9,190.2000	\$36,760.80
797-10.31	RESIDENTIAL GRINDER PUMP STATION			
		6.000 EACH		
	Talley Construction Company, Inc. Greenstar, LLC		\$11,297.5200 \$6,598.5000	\$67,785.12 \$39,591.00
	Groonstar, LEG		ψ0,550.5000	φοσ,σσ1.σσ
797-11.25	RETIREIN PLACE 48IN MANHOLE			
	Tallou Construction Company, Inc.	8.000 EACH	¢4 275 5000	¢44.004.72
	Talley Construction Company, Inc. Greenstar, LLC		\$1,375.5900 \$1,022.9000	\$11,004.72 \$8,183.20
797-11.38	BY-PASS PUMPING	4.0001.0		
	Talley Construction Company, Inc.	1.000 LS	\$24,621.8600	\$24,621.86
	Greenstar, LLC		\$43,990.0000	\$43,990.00

## **CONTRACT CNR078**

UNIT PRICE EXTENSION

## 797-11.40 RESTORE ASPHALT

2,911.000 S.Y.

 Talley Construction Company, Inc.
 \$26.1000
 \$75,977.10

 Greenstar, LLC
 \$56.2000
 \$163,598.20

				CONTRACT CNR078
BO A DW/	AY ALTERNATE "AA1" CATEGORY		UNIT PRICE	EXTENSION
ROADWA	AT ALIERNATE "AAT" CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		32,996.000 TON		
	Talley Construction Company, Inc. Greenstar, LLC		\$18.9500 \$26.0000	\$625,274.20 \$857,896.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GR	ADING A		
		115.000 TON		
	Talley Construction Company, Inc. Greenstar, LLC		\$122.0000 \$127.5000	\$14,030.00 \$14,662.50
			ψ127.0000	Ψ11,002.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GR	ADING B-M2 2,033.000 TON		
	Talley Construction Company, Inc.	2,033.000 TON	\$101.0000	\$205,333.00
	Greenstar, LLC		\$105.5500	\$214,583.15
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GR	ADING A		
		9,454.000 TON		
	Talley Construction Company, Inc.		\$67.0000	\$633,418.00
	Greenstar, LLC		\$70.0500	\$662,252.70
307-02.02	ASPHALT CEMENT (PG70-22)(BPMB-HM) GRADING			
	T. II. O. 1. 17. O. 1.	240.000 TON	<b>#540,000</b>	<b>#</b> 400.000.00
	Talley Construction Company, Inc. Greenstar, LLC		\$542.0000 \$566.4000	\$130,080.00 \$135,936.00
307-02.03	AGGREGATE (BPMB-HM) GRADING A-S MIX			
		7,158.000 TON		
	Talley Construction Company, Inc.		\$57.0000	\$408,006.00
	Greenstar, LLC		\$59.6000	\$426,616.80
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GR	ADING B-M2		
		6,193.000 TON		
	Talley Construction Company, Inc.		\$72.7500	\$450,540.75
	Greenstar, LLC		\$76.0500	\$470,977.65
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Telley Construction Common las	122.000 TON	<b>\$500,0000</b>	<b>PC4</b> 000 00
	Talley Construction Company, Inc. Greenstar, LLC		\$500.0000 \$500.0000	\$61,000.00 \$61,000.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		483.000 TON		
	Talley Construction Company, Inc.		\$20.0000	\$9,660.00
	Greenstar, LLC		\$20.0000	\$9,660.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		55.000 TON		

Talley Construction Company, Inc.

Greenstar, LLC

\$43,175.00

\$785.0000

\$820.3500

			CONTRACT CNR078
		UNIT PRICE	EXTENSION
/11-01 10 ACS	MIX(PG64-22) GRADING D		
411-01.10 ACS	MIX(1 004-22) GRADING D	462 000 TON	
		163.000 TON	
Talle	y Construction Company, Inc.	\$137.0000	\$22,331.00
Gree	nstar, LLC	\$143.2000	\$23,341.60
411-02.10 ACS	MIX(PG70-22) GRADING D		
	5	,080.000 TON	
Talle	y Construction Company, Inc.	\$96.0000	\$487,680.00
	nstar, LLC	\$100.3500	\$509,778.00

**UNIT PRICE** 

**EXTENSION** 

#### **ROADWAY ALTERNATE "AA2" CATEGORY**

303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D

19,582.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A

115.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2

2,033.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

307-02.01 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A

9,454.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

307-02.02 ASPHALT CEMENT (PG70-22)(BPMB-HM) GRADING A-S

240.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

307-02.03 AGGREGATE (BPMB-HM) GRADING A-S MIX

7,158.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2

6,193.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

309-01.01 MINERAL AGGREGATE (A-CBC)

14,809.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

309-01.02 PORTLAND CEMENT (A-CBC)

572.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

309-02 BITUMINOUS MATERIAL (A-CBC)

48.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

**UNIT PRICE** 

**EXTENSION** 

402-01 BITUMINOUS MATERIAL FOR PRIME COAT (PC)

122.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

402-02 AGGREGATE FOR COVER MATERIAL (PC)

483.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)

71.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

411-01.10 ACS MIX(PG64-22) GRADING D

163.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

411-02.10 ACS MIX(PG70-22) GRADING D

5,080.000 TON

Talley Construction Company, Inc.

Greenstar, LLC

Greenstar, LLC \$7,305,565.02
Talley Construction Company, Inc. \$4,999,475.87

## **SUB-TOTAL UTILITY**

Greenstar, LLC \$2,495,104.85
Talley Construction Company, Inc. \$2,151,725.10

## **SUB-TOTAL ROADWAY ALTERNATE "AA1"**

Greenstar, LLC \$3,431,823.65
Talley Construction Company, Inc. \$3,090,527.95

## **SUB-TOTAL ROADWAY ALTERNATE "AA2"**

## **TOTAL CONTRACT**

Talley Construction Company, Inc. \$10,241,728.92
Greenstar, LLC \$13,232,493.52

## MONTGOMERY AND ROBERTSON COUNTIES (Contract No. CNR097 Call 076)

HSIP-1888(10),63033-3406-94,HSIP-25(47),74018-3206-94,HSIP-257(9),74019-3210-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 25 AND S.R. 257 IN ROBERTSON COUNTY AND ON HICKORY POINT ROAD IN MONTGOMERY COUNTY.

PROJECT LENGTH - 16.220 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

TOTAL CONTRACT

Highway Markings, Inc.

\$249,828.95

Superior Traffic Control, Inc.

\$264,524.55

CONTRACT CN	IR097
-------------	-------

			CC	NTRACT CNR097
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUO	US) (4IN WIDTH)		
		8.000 L.M.		
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$785.0000 \$985.0000	\$6,280.00 \$7,880.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		1,050.000 L.F.		
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$3.7000 \$2.8500	\$3,885.00 \$2,992.50
705-04.24	GUARDRAIL END TERMINAL DELINEATION SHEET			
		5.600 S.F.	<b>^</b>	<b></b>
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$8.5000 \$15.0000	\$47.60 \$84.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Highway Markings, Inc.	1.000 LS	\$6,000.0000	\$6,000.00
	Superior Traffic Control, Inc.		\$5,000.0000	\$5,000.00
713-02.11	REMOVAL OF EXISTING DELINEATORS	44.000 EACH		
	Highway Markings, Inc.	44.000 EAGIT	\$20.0000	\$880.00
	Superior Traffic Control, Inc.		\$6.0000	\$264.00
713-02.14	FLEXIBLE DELINEATOR (WHITE)	3.000 EACH		
	Highway Markings, Inc.	3.500 EAST	\$40.0000	\$120.00
	Superior Traffic Control, Inc.		\$34.0000	\$102.00
713-02.20	ROADSIDE OBSTACLE DELINEATION	173.000 S.F.		
	Highway Markings, Inc.		\$6.5000	\$1,124.50
	Superior Traffic Control, Inc.		\$11.0000	\$1,903.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT	1,170.000 L.F.		
	Highway Markings, Inc.	1,170.000 2.11 1	\$5.1500	\$6,025.50
	Superior Traffic Control, Inc.		\$5.4000	\$6,318.00
713-11.01	"U" SECTION STEEL POSTS	2,477.000 LB.		
	Highway Markings, Inc.	_,	\$3.4000	\$8,421.80
	Superior Traffic Control, Inc.		\$3.4500	\$8,545.65
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST	8,489.000 LB.		
	Highway Markings, Inc.	•	\$3.7000	\$31,409.30
	Superior Traffic Control, Inc.		\$3.6000	\$30,560.40 PAGE
				FAGE

				CONTRACT CNR097
			UNIT PRICE	EXTENSION
713-11.21	P POST SLIP BASE			
		32.000 EACH		
	Highway Markings, Inc.		\$300.0000	\$9,600.00
	Superior Traffic Control, Inc.		\$315.0000	\$10,080.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		560.000 S.F.	<b>#40.4500</b>	<b>\$7.004.00</b>
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$13.1500 \$13.0000	\$7,364.00 \$7,280.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)	4 907 000 S E		
	Highway Markings, Inc.	1,897.000 S.F.	\$13.2500	\$25,135.25
	Superior Traffic Control, Inc.		\$13.5000	\$25,609.50
713-15 02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
7.10 10102		1.000 EACH		
	Highway Markings, Inc.		\$150.0000	\$150.00
	Superior Traffic Control, Inc.		\$60.0000	\$60.00
713-15.35	METAL BARRICADE (TYPE III)			
		1.000 EACH		
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$875.0000 \$465.0000	\$875.00 \$465.00
			**********	********
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
	Highway Markings, Inc.	166.000 EACH	\$17.5000	\$2,905.00
	Superior Traffic Control, Inc.		\$8.0000	\$1,328.00
74.0 04.04	Constitute Direct Malara (Di Direct Color)			
710-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	745.000 EACH		
	Highway Markings, Inc.		\$23.0000	\$17,135.00
	Superior Traffic Control, Inc.		\$25.0000	\$18,625.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		33.000 EACH		
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$23.0000 \$25.0000	\$759.00 \$825.00
	Superior Traine Control, Inc.		Ψ23.0000	ψ023.00
716-01.40	REMOVE AND REPLACE LENS ON SNOWPLOWABLE REFLECT			
	Highway Markings Inc	260.000 EACH	\$8.0000	\$2,080.00
	Highway Markings, Inc. Superior Traffic Control, Inc.		\$8.0000 \$6.0000	\$2,080.00 \$1,560.00

46.000 S.Y.

716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)

Highway Markings, Inc.

Superior Traffic Control, Inc.

\$966.00

\$920.00

\$21.0000

\$20.0000

				CONTRACT CNR097
			UNIT PRICE	EXTENSION
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.03	FLASTIC PAVEMENT MARKING (STOP LINE)	1,043.000 L.F.		
	Highway Markings, Inc.	.,	\$9.5000	\$9,908.50
	Superior Traffic Control, Inc.		\$15.0000	\$15,645.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	,	7.000 EACH		
	Highway Markings, Inc.		\$125.0000	\$875.00
	Superior Traffic Control, Inc.		\$150.0000	\$1,050.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	,	1,635.000 L.F.		
	Highway Markings, Inc.		\$2.2500	\$3,678.75
	Superior Traffic Control, Inc.		\$3.0000	\$4,905.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		11.000 EACH		
	Highway Markings, Inc.		\$365.0000	\$4,015.00
	Superior Traffic Control, Inc.		\$650.0000	\$7,150.00
716-03.07	PLASTIC WORD PAVEMENT MARKING (STOP)			
		13.000 EACH		
	Highway Markings, Inc.		\$325.0000	\$4,225.00
	Superior Traffic Control, Inc.		\$350.0000	\$4,550.00
716-04.16	PLASTIC PAVEMENT MARKING (NOISE STRIP)			
		240.000 L.F.		
	Highway Markings, Inc.		\$6.7500	\$1,620.00
	Superior Traffic Control, Inc.		\$16.0000	\$3,840.00
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
		125.000 L.F.		
	Highway Markings, Inc.		\$4.0000	\$500.00
	Superior Traffic Control, Inc.		\$5.0000	\$625.00
716-08.11	REMOVAL OF WORD PAVEMENT MARKING (STOP AHEAD)			
		5.000 EACH		
	Highway Markings, Inc.		\$250.0000	\$1,250.00
	Superior Traffic Control, Inc.		\$200.0000	\$1,000.00
716-08.12	REMOVAL OF WORD PAVEMENT MARKING (STOP)			
		3.000 EACH		
	Highway Markings, Inc.		\$125.0000	\$375.00
	Superior Traffic Control, Inc.		\$150.0000	\$450.00

56.650 L.M.

716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)

Highway Markings, Inc.

Superior Traffic Control, Inc.

\$75,061.25

\$76,477.50

\$1,325.0000

\$1,350.0000

				CONTRACT C	NR097
			UNIT PRICE	EXTEN	ISION
716 12 04	SDD AV THERMO DVMT MRIVNC (SO will (AIN DOTTER LINE)				
710-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)	1,915.000 L.F.			
	Highway Markings, Inc.	1,313.000 E.1 .	\$0.5000	402	57.50
	Superior Traffic Control, Inc.		\$2.0000	•	30.00
	Superior Traine Control, Inc.		φ2.0000	φο,οι	30.00
717-01	MOBILIZATION				
		1.000 LS			
	Highway Markings, Inc.		\$5,000.0000	\$5,00	00.00
	Superior Traffic Control, Inc.		\$4,000.0000	\$4,00	00.00
730-26.08	FLASHING WARNING BEACON (DESCRIPTION)				
	,	4.000 EACH			

Highway Markings, Inc. Superior Traffic Control, Inc. \$11,200.00 \$10,600.00

\$2,800.0000 \$2,650.0000

Superior Traffic Control, Inc. \$264,524.55 Highway Markings, Inc. \$249,828.95

## **TOTAL CONTRACT**

Highway Markings, Inc. \$249,828.95 Superior Traffic Control, Inc. \$264,524.55

## OVERTON COUNTY (Contract No. CNR074 Call 077)

STP/HSIP-85(26),67006-3229-94,67006-8229-14

THE RESURFACING (SCRUB SEAL) ON S.R. 85 FROM S.R. 52 (L.M. 11.92) TO THE SCOTT BRANCH BRIDGE (L.M. 19.14).

PROJECT LENGTH - 7.220 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 4.50%

TOTAL CONTRACT

Hudson Construction Company Pavement Restorations, Inc.

\$356,816.01

\$408,343.63

CONTR	ACT	CNR074
	$\sim$	

			CC	ONTRACT CNR074
DO 4 DV4	AV OATEOORY		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		100.000 TON		
	Hudson Construction Company Pavement Restorations, Inc.		\$45.0000 \$50.0000	\$4,500.00 \$5,000.00
405-03 0	I PM REJUVENATING SCRUB SEAL			
403-03.0	TIM RESOVERATING SCROB SEAL	87,516.000 S.Y.		
	Hudson Construction Company		\$2.3600	\$206,537.76
	Pavement Restorations, Inc.		\$2.7800	\$243,294.48
411-12.0	4 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN V	•		
		11.500 L.M.		
	Hudson Construction Company		\$525.0000	\$6,037.50 \$3,705.00
	Pavement Restorations, Inc.		\$330.0000	\$3,795.00
705-02.0	2 SINGLE GUARDRAIL (TYPE 2)			
		75.000 L.F.		
	Hudson Construction Company		\$18.7500	\$1,406.25
	Pavement Restorations, Inc.		\$30.0000	\$2,250.00
705-02.2	SINGLE GUARDRAIL (TYPE 2) LONG POST (6 FT-9 FT)			
		525.000 L.F.		
	Hudson Construction Company		\$23.0000	\$12,075.00
	Pavement Restorations, Inc.		\$31.0000	\$16,275.00
705-04.0	5 GUARDRAIL TERMINAL (TYPE-IN-LINE)			
		2.000 EACH		
	Hudson Construction Company		\$600.0000	\$1,200.00
	Pavement Restorations, Inc.		\$600.0000	\$1,200.00
705-06.2	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		3.000 EACH		
	Hudson Construction Company Pavement Restorations, Inc.		\$2,550.0000 \$3,250.0000	\$7,650.00 \$9,750.00
	i avement ivestorations, inc.		ψ3,230.0000	ψ9,730.00
706-01	GUARDRAIL REMOVED			
		750.000 L.F.		
	Hudson Construction Company		\$1.0000 \$8.0000	\$750.00 \$6,000.00
	Pavement Restorations, Inc.		\$6.0000	\$6,000.00
706-05	GUARDRAIL ADJUSTMENT			
		100.000 L.F.		
	Hudson Construction Company		\$5.0000 \$10,0000	\$500.00
	Pavement Restorations, Inc.		\$10.0000	\$1,000.00
712-01	TRAFFIC CONTROL			
		1.000 LS	<b>Ac.</b>	<b>^-</b> · <b>-</b>
	Hudson Construction Company Payament Restorations, Inc.		\$21,300.0000 \$10,500.0000	\$21,300.00 \$10,500.00
	Pavement Restorations, Inc.		φ10,500.0000	\$10,500.00
				PAGE

CONTRACT CNR074
-----------------

			C	JNIKACI CNKU/4
			UNIT PRICE	EXTENSION
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
		10.000 EACH		
	Hudson Construction Company	10.000 =. 10.1	\$25.0000	\$250.00
	• •		· ·	
	Pavement Restorations, Inc.		\$5.5000	\$55.00
712-05.01	WARNING LIGHTS (TYPE A)			
		10.000 EACH		
	Hudson Construction Company		\$25.0000	\$250.00
	Pavement Restorations, Inc.		\$5.5000	\$55.00
712-06	SIGNS (CONSTRUCTION)			
	,	202 000 6 5		
		392.000 S.F.		
	Hudson Construction Company		\$5.0000	\$1,960.00
	Pavement Restorations, Inc.		\$8.8000	\$3,449.60
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	· ,	20.000 EACH		
		20.000 LACI1	<b>#04.000</b>	<b>#</b> 000 00
	Hudson Construction Company		\$31.0000	\$620.00
	Pavement Restorations, Inc.		\$38.5000	\$770.00
713-16.20	SIGNS (OBJECT MARKER (LEFT)			
		2.000 EACH		
	Hudaan Canatrustian Campany	2.000 EAGI1	¢450,0000	\$300.00
	Hudson Construction Company		\$150.0000	
	Pavement Restorations, Inc.		\$220.0000	\$440.00
713-16.21	SIGNS (OBJECT MARKER (RIGHT)			
		2.000 EACH		
	Hudson Construction Company		\$150.0000	\$300.00
	Pavement Restorations, Inc.		\$220.0000	\$440.00
	Taromon residuations, inc.		Ψ220.0000	Ψ1.0.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		477.000 EACH		
	Hudson Construction Company		\$26.5000	\$12,640.50
	Pavement Restorations, Inc.		\$29.1500	\$13,904.55
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.03	LASTIC FAVEMENT MARKING (STOT LINE)	440,0001 5		
		112.000 L.F.	<b>.</b>	
	Hudson Construction Company		\$10.7500	\$1,204.00
	Pavement Restorations, Inc.		\$12.0000	\$1,344.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
	,	1.000 EACH		
	Hudson Construction Company		\$475.0000	\$475.00
	Pavement Restorations, Inc.		\$525.0000	\$525.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		28.900 L.M.		
	Hudson Construction Company		\$550.0000	\$15,895.00
	Pavement Restorations, Inc.		\$605.0000	\$17,484.50
	. aromoni nostorationo, mo.		ψοσο.σσσσ	ψ17, <del>101</del> .00

				CONTRACT	CNR074
			UNIT PRICE	EXTE	NSION
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)				
		28.900 L.M.			
	Hudson Construction Company		\$1,850.0000	\$53,	465.00
	Pavement Restorations, Inc.		\$2,035.0000	\$58,	811.50
717-01	MOBILIZATION				
		1.000 LS			
	Hudson Construction Company		\$7,500.0000	\$7,	500.00

\$12,000.0000

\$12,000.00

Pavement Restorations, Inc.

Pavement Restorations, Inc.	\$408,343.63
Hudson Construction Company	\$356,816.01

## TOTAL CONTRACT

••	
Hudson Construction Company	\$356,816.01
Pavement Restorations, Inc.	\$408,343.63

## OVERTON AND PICKETT COUNTIES (Contract No. CNR075 Call 078)

NH/HSIP-111(102),67001-3290-94,67001-8290-14,NH/HSIP-111(103),69002-3255-94,69002-8255-14

THE RESURFACING ON S.R. 111 FROM NORTH OF BIG SPRINGS ROAD IN OVERTON COUNTY (L.M. 20.07) TO NORTH OF JIM BEATY ROAD IN PICKETT COUNTY (L.M. 2.31).

PROJECT LENGTH - 6.240 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,047,248.67

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNR075 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	110.000 TON	\$48.3300	\$5,316.30
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	78.000 TON	\$350.0000	\$27,300.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	7 476 000 TON		
	Rogers Group, Inc.	7,176.000 TON	\$89.6600	\$643,400.16
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	9.900 L.M.		
	Rogers Group, Inc.	3.300 E.M.	\$653.8500	\$6,473.12
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	105,387.000 S.Y.		
	Rogers Group, Inc.	103,307.000 0.1.	\$1.2400	\$130,679.88
705-02.02	SINGLE GUARDRAIL (TYPE 2)	575.000 L.F.		
	Rogers Group, Inc.		\$21.9600	\$12,627.00
705-04.04	GUARDRAIL TERMINAL (TYPE 21)	1.000 EACH		
	Rogers Group, Inc.		\$2,373.4300	\$2,373.43
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)	1.000 EACH		
	Rogers Group, Inc.		\$712.0300	\$712.03
706-01	GUARDRAIL REMOVED	637.500 L.F.		
	Rogers Group, Inc.		\$1.1900	\$758.63
706-06.06	RADIUS RAIL LONG POST (9-12 FT)	62.500 L.F.		
	Rogers Group, Inc.		\$30.2600	\$1,891.25
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.		\$21,500.0000	\$21,500.00
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)	22.000 EACH		
	Rogers Group, Inc.		\$35.6000	\$783.20

			UNIT PRICE	CONTRACT CNR075 EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
	Rogers Group, Inc.	12.000 EACH	\$17.8000	\$213.60
712-05.03	WARNING LIGHTS (TYPE C)	40,000 54 611		
	Rogers Group, Inc.	10.000 EACH	\$17.8000	\$178.00
712-06	SIGNS (CONSTRUCTION)	004 000 0 5		
	Rogers Group, Inc.	981.000 S.F.	\$8.9000	\$8,730.90
712-08.03	ARROW BOARD (TYPE C)	0.000 54.00		
	Rogers Group, Inc.	2.000 EACH	\$2,432.7700	\$4,865.54
713-02.14	FLEXIBLE DELINEATOR (WHITE)	0.000 54.011		
	Rogers Group, Inc.	8.000 EACH	\$47.4700	\$379.76
713-16.01	CHANGEABLE MESSAGE SIGN UNIT	0.000 54.011		
	Rogers Group, Inc.	2.000 EACH	\$2,907.4600	\$5,814.92
713-16.20	SIGNS (W2-1, INTERSECTION WARNING, 30"x30")	0.000 54.00		
	Rogers Group, Inc.	3.000 EACH	\$415.3500	\$1,246.05
713-16.21	SIGNS (W11-8, EMERGENCY VEHICLE, 30"x30")	0.000 54.011		
	Rogers Group, Inc.	2.000 EACH	\$415.3500	\$830.70
713-16.22	SIGNS (W2-2R, RIGHT ENTRANCE WARNING, 30"x30")	4 000 54 011		
	Rogers Group, Inc.	1.000 EACH	\$415.3500	\$415.35
713-16.23	SIGNS (R1-1, STOP, 30"x30")	4 000 54 011		
	Rogers Group, Inc.	1.000 EACH	\$415.3500	\$415.35
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Rogers Group, Inc.	415.000 EACH	\$30.5700	\$12,686.55
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)	05 000 510		
	Rogers Group, Inc.	35.000 EACH	\$30.5700	\$1,069.95

			UNIT PRICE	CONTRACT CNR075 EXTENSION
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Rogers Group, Inc.	145.000 EACH	\$10.1900	\$1,477.55
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Rogers Group, Inc.	52.000 S.Y.	\$25.7700	\$1,340.04
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	290.000 L.F.	\$12.5900	\$3,651.10
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	0.000 54.00		
	Rogers Group, Inc.	8.000 EACH	\$161.8100	\$1,294.48
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Rogers Group, Inc.	27.600 L.M.	\$659.2100	\$18,194.20
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	22.500 L.M.	\$4,494.6500	\$101,129.63
717-01	MOBILIZATION			
		1.000 LS		

Rogers Group, Inc.

\$29,500.00

\$29,500.0000

Rogers Group, Inc. \$1,047,248.67

## **TOTAL CONTRACT**

Rogers Group, Inc. \$1,047,248.67

## RUTHERFORD COUNTY (Contract No. CNR111 Call 079)

NH/HSIP-1(369),75004-3212-94,75004-8212-14

THE RESURFACING ON U.S. 41 (U.S. 70S, S.R. 1) FROM KEN PILKERTON DRIVE (L.M. 6.42) TO WEST OF FLORENCE ROAD (L.M. 9.82).

PROJECT LENGTH - 3.400 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Hoover, Inc. \$947,543.20 Jones Bros. Contractors, LLC \$1,044,082.85

Vulcan Construction Materials, LLC \$1,077,955.00

			CONTRACT CNR111
POADWA	AY CATEGORY	UNIT PRICE	EXTENSION
KOADW	AT CATEGORY		
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	700.000 TON		
	Hoover, Inc.	\$12.0000	\$8,400.00
	Jones Bros. Contractors, LLC	\$26.0000	\$18,200.00
	Vulcan Construction Materials, LLC	\$25.0000	\$17,500.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
	400.000 TON		
	Hoover, Inc.	\$50.0000	\$20,000.00
	Jones Bros. Contractors, LLC	\$71.0000	\$28,400.00
	Vulcan Construction Materials, LLC	\$75.0000	\$30,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	46.000 TON		
	Hoover, Inc.	\$575.0000	\$26,450.00
	Jones Bros. Contractors, LLC	\$550.0000	\$25,300.00
	Vulcan Construction Materials, LLC	\$700.0000	\$32,200.00
403-05.01	BITUMINOUS MATERIAL (FOG SEAL) SHOULDER		
	14.000 TON		
	Hoover, Inc.	\$675.0000	\$9,450.00
	Jones Bros. Contractors, LLC	\$825.0000	\$11,550.00
	Vulcan Construction Materials, LLC	\$800.0000	\$11,200.00
411-02.10	ACS MIX(PG70-22) GRADING D		
	6,991.000 TON		
	Hoover, Inc.	\$73.0000	\$510,343.00
	Jones Bros. Contractors, LLC	\$83.0000	\$580,253.00
	Vulcan Construction Materials, LLC	\$80.0000	\$559,280.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
	13.600 L.M.		
	Hoover, Inc.	\$320.0000	\$4,352.00
	Jones Bros. Contractors, LLC	\$800.0000	\$10,880.00
	Vulcan Construction Materials, LLC	\$800.0000	\$10,880.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
	6,925.000 TON		
	Hoover, Inc.	\$13.5000	\$93,487.50
	Jones Bros. Contractors, LLC	\$17.6500	\$122,226.25
	Vulcan Construction Materials, LLC	\$17.6500	\$122,226.25
705-02.02	SINGLE GUARDRAIL (TYPE 2)		

375.000 L.F.

Hoover, Inc.

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC

\$5,625.00

\$6,562.50 \$6,000.00

\$15.0000

\$17.5000

\$16.0000

				CONTRACT CNR111
			UNIT PRICE	EXTENSION
705-06 20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
703-00.20	TANGENT ENERGY ADSORDING TERM MAGIT TE-S	16.000 EACH		
		16.000 EACH		
	Hoover, Inc.		\$2,000.0000	\$32,000.00
	Jones Bros. Contractors, LLC		\$2,300.0000	\$36,800.00
	Vulcan Construction Materials, LLC		\$2,300.0000	\$36,800.00
706-01	GUARDRAIL REMOVED			
		1,063.000 L.F.		
	Hoover, Inc.		\$1.0000	\$1,063.00
	Jones Bros. Contractors, LLC		\$0.9500	\$1,009.85
	Vulcan Construction Materials, LLC		\$1.0000	\$1,063.00
712-01	TRAFFIC CONTROL			
712-01	THAI TIO GONTHOL	1.000 LS		
	Hoover, Inc.		\$50,000.0000	\$50,000.00
	Jones Bros. Contractors, LLC		\$32,000.0000	\$32,000.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
	vuican construction iviaterials, LLC		ψ30,000.0000	ψ30,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		150.000 EACH		

712-04.01	FLEXIBLE DRUMS (CHANNELIZING)

Hoover, Inc.	\$10.0000	\$1,500.00
Jones Bros. Contractors, LLC	\$10.2500	\$1,537.50
Vulcan Construction Materials, LLC	\$10.0000	\$1,500.00

# 712-05.01 WARNING LIGHTS (TYPE A)

Hoover, Inc.	\$5.0000	\$20.00
Jones Bros. Contractors, LLC	\$5.0000	\$20.00
Vulcan Construction Materials, LLC	\$5.0000	\$20.00

4.000 EACH

#### SIGNS (CONSTRUCTION) 712-06

Hoover, Inc.	\$6.0000	\$10,914.00
Jones Bros. Contractors, LLC	\$6.2500	\$11,368.75
Vulcan Construction Materials, LLC	\$9.2500	\$16,825.75

1,819.000 S.F.

# 712-08.03 ARROW BOARD (TYPE C)

3 ARROW BOARD (TIPE C)			
	2.000 EACH		
Hoover, Inc.		\$925.0000	\$1,850.00
Jones Bros. Contractors, LLC		\$950.0000	\$1,900.00
Vulcan Construction Materials, LLC		\$975.0000	\$1,950.00
3 Snwplwble Pymt Mrkrs (Bi-Dir)(2 Color)			

# 716-01.23 Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)

	629.000 EACH	
Hoover, Inc.	\$30.0000	\$18,870.00
Jones Bros. Contractors, LLC	\$29.5000	\$18,555.50
Vulcan Construction Materials, LLC	\$25.0000	\$15,725.00

		UNIT PRICE	EXTENSION
716-02.04 P	LASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
	12.000 S.Y.		
Н	loover, Inc.	\$20.0000	\$240.00
	ones Bros. Contractors, LLC	\$20.0000	\$240.00
V	ulcan Construction Materials, LLC	\$60.0000	\$720.00
716-02.05 P	LASTIC PAVEMENT MARKING (STOP LINE)		
	225.000 L.F.		
Н	loover, Inc.	\$11.0000	\$2,475.00
Jo	ones Bros. Contractors, LLC	\$11.0000	\$2,475.00
V	ulcan Construction Materials, LLC	\$15.0000	\$3,375.00
716-02.06 P	LASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	19.000 EACH		
Н	loover, Inc.	\$128.0000	\$2,432.00
	ones Bros. Contractors, LLC	\$130.0000	\$2,470.00
V	ulcan Construction Materials, LLC	\$150.0000	\$2,850.00
716-02.07 P	LASTIC PAVEMENT MARKING (24" BARRIER LINE)		
	52.000 L.F.		
Н	loover, Inc.	\$8.0000	\$416.00
Jo	ones Bros. Contractors, LLC	\$8.0000	\$416.00
V	ulcan Construction Materials, LLC	\$15.0000	\$780.00
716-02.08 P	LASTIC PAVEMENT MARKING (8" DOTTED LINE)		
	34.000 L.F.		
Н	loover, Inc.	\$2.3000	\$78.20
	ones Bros. Contractors, LLC	\$2.5000	\$85.00
V	ulcan Construction Materials, LLC	\$5.0000	\$170.00
716-02.11 P	LASTIC PAVEMENT MARKING (6" DOTTED LINE)		
	590.000 L.F.		
	loover, Inc.	\$2.0000	\$1,180.00
	ones Bros. Contractors, LLC	\$2.0000	\$1,180.00
V	ulcan Construction Materials, LLC	\$3.0000	\$1,770.00
716-05.01 P	AINTED PAVEMENT MARKING (4" LINE)		
	30.600 L.M.		
	loover, Inc.	\$635.0000	\$19,431.00
	ones Bros. Contractors, LLC	\$645.0000	\$19,737.00
V	ulcan Construction Materials, LLC	\$750.0000	\$22,950.00
716-12.02 E	NHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
	15.300 L.M.		
	loover, Inc.	\$4,615.0000	\$70,609.50
	ones Bros. Contractors, LLC	\$4,750.0000	\$72,675.00
V	ulcan Construction Materials, LLC	\$5,000.0000	\$76,500.00

CONTRACT	CNR111
----------	--------

			UNIT PRICE	EXTENSION
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER L	INE)		
		690.000 L.F.		
	Hoover, Inc.		\$1.3000	\$897.00
	Jones Bros. Contractors, LLC		\$1.3500	\$931.50
	Vulcan Construction Materials, LLC		\$5.0000	\$3,450.00
717-01	MOBILIZATION			
		1.000 LS		
	Hoover, Inc.		\$30,000.0000	\$30,000.00
	Jones Bros. Contractors, LLC		\$11,850.0000	\$11,850.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
730-14.02	SAW SLOT			
		5,800.000 L.F.		
	Hoover, Inc.	·	\$3.2500	\$18,850.00
	Jones Bros. Contractors, LLC		\$3.2500	\$18,850.00
	Vulcan Construction Materials, LLC		\$5.0000	\$29,000.00
730-14.03	LOOP WIRE			
		13,220.000 L.F.		
	Hoover, Inc.	•	\$0.5000	\$6,610.00
	Jones Bros. Contractors, LLC		\$0.5000	\$6,610.00
	Vulcan Construction Materials, LLC		\$1.0000	\$13,220.00

Vulcan Construction Materials, LLC	\$1,077,955.00
Jones Bros. Contractors, LLC	\$1,044,082.85
Hoover, Inc.	\$947,543.20

## **TOTAL CONTRACT**

Hoover, Inc.	\$947,543.20
Jones Bros. Contractors, LLC	\$1,044,082.85
Vulcan Construction Materials, LLC	\$1,077,955.00

#### RUTHERFORD AND WILLIAMSON COUNTIES (Contract No. CNR108 Call 080)

HSIP-1055(10),75061-3404-94,HSIP-106(35),94015-3232-94,HSIP-46(23),94019-3204-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 46 AND U.S. 431 (S.R. 106) IN WILLIAMSON COUNTY AND ON VARIOUS LOCAL ROADS IN RUTHERFORD COUNTY.

PROJECT LENGTH - 14.300 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

C & D Safety Company, LLC Highway Markings, Inc.

\$358,680.85

\$390,451.59

				CONTRACT CNR108
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
411-12.04	SCORING FOR RUMBLE STRIPE (NON-COI	NTINUOUS) (4IN WIDTH)		
		11.280 L.M.		
	C & D Safety Company, LLC Highway Markings, Inc.		\$450.0000 \$775.0000	\$5,076.00 \$8,742.00
705-01.01	GUARDRAIL AT BRIDGE ENDS			
		108.000 L.F.		
	C & D Safety Company, LLC Highway Markings, Inc.		\$72.5000 \$72.5000	\$7,830.00 \$7,830.00
705-01.04	METAL BEAM GUARD FENCE			
		50.000 L.F.		
	C & D Safety Company, LLC Highway Markings, Inc.		\$71.6500 \$74.0000	\$3,582.50 \$3,700.00
705-02.02	SINGLE GUARDRAIL (TYPE 2)			
		3,950.000 L.F.		
	C & D Safety Company, LLC		\$16.0000	\$63,200.00
	Highway Markings, Inc.		\$17.7500	\$70,112.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREAT	MENT		
		16.000 EACH		
	C & D Safety Company, LLC Highway Markings, Inc.		\$1,000.0000 \$1,100.0000	\$16,000.00 \$17,600.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMEN	ІТ		
		8,050.000 L.F.		
	C & D Safety Company, LLC Highway Markings, Inc.		\$2.4000 \$2.7500	\$19,320.00 \$22,137.50
705-06.20	TANGENT ENERGY ABSORBING TERM MA	ASH TL-3		
		16.000 EACH		
	C & D Safety Company, LLC Highway Markings, Inc.		\$2,500.0000 \$2,575.0000	\$40,000.00 \$41,200.00
706-01	GUARDRAIL REMOVED			
		1,725.000 L.F.		
	C & D Safety Company, LLC Highway Markings, Inc.		\$1.0000 \$0.5000	\$1,725.00 \$862.50
712-01	TRAFFIC CONTROL			
		1.000 LS		
	C & D Safety Company, LLC Highway Markings, Inc.		\$7,300.0000 \$6,500.0000	\$7,300.00 \$6,500.00
713-02.20	ROADSIDE OBSTACLE DELINEATION			
		46.000 S.F.		
	C & D Safety Company, LLC Highway Markings, Inc.		\$8.5000 \$6.2500	\$391.00 \$287.50

Highway Markings, Inc.

\$287.50

\$6.2500

				CONTRACT CNR108
			UNIT PRICE	EXTENSION
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
		684.000 L.F.		
	C & D Safety Company, LLC		\$5.1000	\$3,488.40
	Highway Markings, Inc.		\$5.1000	\$3,488.40
713-02.22	BARRIER WALL DELINEATION ENHANCEMENT			
		1,200.000 L.F.		
	C & D Safety Company, LLC		\$4.1000	\$4,920.00
	Highway Markings, Inc.		\$6.7500	\$8,100.00
713-11.01	"U" SECTION STEEL POSTS			
		1,339.000 LB.		
	C & D Safety Company, LLC		\$3.5000	\$4,686.50
	Highway Markings, Inc.		\$3.3500	\$4,485.65
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		5,353.000 LB.		
	C & D Safety Company, LLC		\$3.3000	\$17,664.90
	Highway Markings, Inc.		\$3.6800	\$19,699.04
713-11.21	P POST SLIP BASE			
		12.000 EACH		
	C & D Safety Company, LLC		\$310.0000	\$3,720.00
	Highway Markings, Inc.		\$325.0000	\$3,900.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		473.000 S.F.		
	C & D Safety Company, LLC		\$12.8500	\$6,078.05
	Highway Markings, Inc.		\$13.5000	\$6,385.50
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		1,130.000 S.F.		
	C & D Safety Company, LLC		\$13.4500	\$15,198.50
	Highway Markings, Inc.		\$13.7500	\$15,537.50
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		180.000 EACH		
	C & D Safety Company, LLC		\$8.0000	\$1,440.00
	Highway Markings, Inc.		\$20.0000	\$3,600.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		745.000 EACH		
	C & D Safety Company, LLC		\$25.0000	\$18,625.00
	Highway Markings, Inc.		\$30.0000	\$22,350.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		18.000 EACH		
	C & D Safety Company, LLC		\$25.0000	\$450.00
	Highway Markings, Inc.		\$30.0000	\$540.00

				CONTRACT CNR108
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	0.	125.000 S.Y.	<b>#00.000</b>	<b>#0.500.00</b>
	C & D Safety Company, LLC Highway Markings, Inc.		\$20.0000 \$24.0000	\$2,500.00 \$3,000.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	C & D Safaty Company II C	937.000 L.F.	¢10,0000	¢0.270.00
	C & D Safety Company, LLC Highway Markings, Inc.		\$10.0000 \$10.0000	\$9,370.00 \$9,370.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	10 000 54 011		
	C & D Safety Company, LLC	19.000 EACH	\$150.0000	\$2,850.00
	Highway Markings, Inc.		\$125.0000	\$2,375.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	C & D Cafaty Commany, LLC	650.000 L.F.	<b>#2.000</b> 0	¢4.050.00
	C & D Safety Company, LLC Highway Markings, Inc.		\$3.0000 \$3.2500	\$1,950.00 \$2,112.50
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)	2 000 54 011		
	C & D Safety Company, LLC	2.000 EACH	\$325.0000	\$650.00
	Highway Markings, Inc.		\$325.0000	\$650.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)	4 000 54 011		
	C & D Safety Company, LLC	1.000 EACH	\$630.0000	\$630.00
	Highway Markings, Inc.		\$525.0000	\$525.00
716-03.07	PLASTIC WORD PAVEMENT MARKING (STOP)	1.000 EACH		
	C & D Safety Company, LLC	1.000 EACH	\$450.0000	\$450.00
	Highway Markings, Inc.		\$350.0000	\$350.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
		1.000 EACH		
	C & D Safety Company, LLC		\$200.0000	\$200.00
	Highway Markings, Inc.		\$175.0000	\$175.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)	E 000 E 4 011		
	C & D Safety Company, LLC	5.000 EACH	\$125.0000	\$625.00
	Highway Markings, Inc.		\$115.0000	\$575.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)	41.000 L.M.		
	0.0.0.0.4.4.0	41.000 L.IVI.	<b>#4.000.0000</b>	<b>#</b> F0 000 00

C & D Safety Company, LLC

Highway Markings, Inc.

\$53,300.00

\$59,450.00

\$1,300.0000

\$1,450.0000

CONTRACT	CNR108
----------	--------

			_	CHILITAGE CHILLION
			UNIT PRICE	EXTENSION
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		1,380.000 L.F.		
	C & D Safety Company, LLC	.,	\$3.0000	\$4,140.00
	Highway Markings, Inc.		\$0.4500	\$621.00
	riighway Markings, mo.		ψ0. <del>1</del> 300	Ψ021.00
717-01	MOBILIZATION			
		1.000 LS		
	0.000 / 1.00	1.000 LS	<b>* * * * * * * * * *</b>	<b>**</b> **********************************
	C & D Safety Company, LLC		\$11,000.0000	\$11,000.00
	Highway Markings, Inc.		\$7,000.0000	\$7,000.00
730-02.41	SIGNAL HEAD MODIFICATION (Backplate w/ Reflective Border)			
		53.000 EACH		
	C & D Safety Company, LLC		\$240.0000	\$12,720.00
	Highway Markings, Inc.		\$360.0000	\$19,080.00
	riigimay maninge, iiie.		φοσοίσσος	ψ.ο,σσσ.σσ
730-26.08	FLASHING WARNING BEACON (DESCRIPTION)			
		4.000 EACH		
	C & D Safety Company, LLC		\$2,550.0000	\$10,200.00
	Highway Markings, Inc.		\$2,950.0000	\$11,800.00
	riigiiway mainiigo, iiio.		Ψ2,550.0000	ψ11,000.00

NON-PA	RTICIPATING ROADWAY 90% CATEGORY		UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
		180.000 S.Y.		
	C & D Safety Company, LLC		\$25.0000	\$4,500.00
	Highway Markings, Inc.		\$28.5000	\$5,130.00
801-03	WATER (SEEDING & SODDING)			
		2.000 M.G.		
	C & D Safety Company, LLC		\$100.0000	\$200.00
	Highway Markings, Inc.		\$50.0000	\$100.00
803-01	SODDING (NEW SOD)			
		180.000 S.Y.		
	C & D Safety Company, LLC		\$15.0000	\$2,700.00
	Highway Markings, Inc.		\$6.0000	\$1,080.00

Highway Markings, Inc. C & D Safety Company, LLC	\$384,141.59 \$351,280.85
SUB-TOTAL NON-PARTICIPATING ROADWAY 90%	
Highway Markings, Inc.	\$6,310.00
C & D Safety Company, LLC	\$7,400.00
TOTAL CONTRACT	
C & D Safety Company, LLC	\$358,680.85
Highway Markings, Inc.	\$390,451.59

## SULLIVAN COUNTY (Contract No. CNR100 Call 081)

NH/HSIP-1(364),82002-3284-94,82002-8284-14

THE RESURFACING ON U.S. 11W (S.R. 1) FROM NEAR INDIAN TRAIL DRIVE (L.M. 5.85) TO NEAR PENDLETON ROAD (L.M. 13.06).

PROJECT LENGTH - 7.210 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 15, 2017

DBE GOAL 2.50%

TOTAL CONTRACT

W-L Construction & Paving, Inc.

Summers-Taylor, Inc.

\$3,489,862.82

\$3,512,948.21

				CONTRACT CNR100
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	444 000 TON		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	141.000 TON	\$535.0000 \$775.0000	\$75,435.00 \$109,275.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	5,156.000 TON		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	3,130.000 1014	\$75.3800 \$82.0000	\$388,659.28 \$422,792.00
411-02.10	ACS MIX(PG70-22) GRADING D	45 0TT 000 TON		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	15,877.000 TON	\$87.0500 \$85.5500	\$1,382,092.85 \$1,358,277.35
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN W			
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	2.300 L.M.	\$1,082.0000 \$4,995.0000	\$2,488.60 \$11,488.50
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	20,957.000 TON		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	20,957.000 TON	\$14.5800 \$14.8800	\$305,553.06 \$311,840.16
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	4 000 54 011		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	4.000 EACH	\$3,900.0000 \$1,525.0000	\$15,600.00 \$6,100.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	4 000 54 011		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	4.000 EACH	\$2,000.0000 \$3,400.0000	\$8,000.00 \$13,600.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	2.000 EACH	\$4,300.0000 \$4,300.0000	\$8,600.00 \$8,600.00
706-01	GUARDRAIL REMOVED			
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.	335.000 L.F.	\$7.0000 \$1.1000	\$2,345.00 \$368.50
712-01	TRAFFIC CONTROL	4 200 1 2		
		1.000 LS		

W-L Construction & Paving, Inc.

Summers-Taylor, Inc.

\$60,715.72

\$60,715.7200

\$83,332.0000

				CONTRACT CNR100
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	W-L Construction & Paving, Inc.	284.000 EACH	\$5.5000	\$1,562.00
	Summers-Taylor, Inc.		\$19.5000	\$5,538.00
712-05.01	WARNING LIGHTS (TYPE A)			
	, ,	142.000 EACH		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.		\$5.5000 \$19.5000	\$781.00 \$2,769.00
	·		**********	<del>-</del> ,
712-06	SIGNS (CONSTRUCTION)	1,543.000 S.F.		
	W-L Construction & Paving, Inc.	1,040.000 0.11.	\$8.0300	\$12,390.29
	Summers-Taylor, Inc.		\$10.5000	\$16,201.50
712-08.03	ARROW BOARD (TYPE C)			
	W-L Construction & Paving, Inc.	4.000 EACH	\$1,029.3000	\$4,117.20
	Summers-Taylor, Inc.		\$458.0000	\$1,832.00
713-16.20	SIGNS (R3-17)			
		55.000 EACH		
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.		\$217.4100 \$125.0000	\$11,957.55 \$6,875.00
	·			
713-16.21	SIGNS (R3-17bP)	4,000 EACH		
	W-L Construction & Paving, Inc.		\$50.0000	\$200.00
	Summers-Taylor, Inc.		\$75.0000	\$300.00
713-16.22	SIGNS (W11-1)			
	W-L Construction & Paving, Inc.	5.000 EACH	\$254.2800	\$1,271.40
	Summers-Taylor, Inc.		\$160.0000	\$800.00
713-16.23	SIGNS (W16-1P)			
		5.000 EACH	Φ=4.4000	<b>4070.00</b>
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.		\$54.1200 \$60.0000	\$270.60 \$300.00
712 46 24	SIGNS (D11-1)			
113-10.24	SIGNS (D11-1)	2.000 EACH		
	W-L Construction & Paving, Inc.		\$217.4100	\$434.82 \$70.00
	Summers-Taylor, Inc.		\$35.0000	\$70.00

1,410.000 EACH

716-01.23 Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)

Summers-Taylor, Inc.

W-L Construction & Paving, Inc.

\$31,020.00

\$35,250.00

\$22.0000

\$25.0000

CONTRACT (	CN	IR1	00
------------	----	-----	----

				CONTRACT CNR100
			UNIT PRICE	EXTENSION
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		1,410.000 EACH		
	W-L Construction & Paving, Inc.	•	\$6.0000	\$8,460.00
	Summers-Taylor, Inc.		\$6.0000	\$8,460.00
716 02 02	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
710-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)	110.000 L.F.		
	W-L Construction & Paving, Inc.		\$7.7500	\$852.50
	Summers-Taylor, Inc.		\$8.0000	\$880.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		18,385.000 S.Y.		
	W-L Construction & Paving, Inc.	10,000.000 0.11.	\$17.7500	\$326,333.75
	Summers-Taylor, Inc.		\$22.2000	\$408,147.00
740 00 05	DI ACTIC DAVEMENT MADIZINO (CTOD LINE)			
/16-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	440,000   5		
	WIO CE OF THE	410.000 L.F.	<b>#0.0500</b>	<b>#0.000.50</b>
	W-L Construction & Paving, Inc. Summers-Taylor, Inc.		\$8.2500 \$8.5000	\$3,382.50 \$3,485.00
			******	<b>,</b> , , , , , , , , , , , , , , , , , ,
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		46.000 EACH		
	W-L Construction & Paving, Inc.		\$125.0000	\$5,750.00
	Summers-Taylor, Inc.		\$135.0000	\$6,210.00
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
		95,040.000 L.F.		
	W-L Construction & Paving, Inc.		\$1.0000	\$95,040.00
	Summers-Taylor, Inc.		\$1.1800	\$112,147.20
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		7,500.000 L.F.		
	W-L Construction & Paving, Inc.		\$4.2500	\$31,875.00
	Summers-Taylor, Inc.		\$5.0000	\$37,500.00
716-04.13	PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARRO	W)		
	·	50.000 EACH		
	W-L Construction & Paving, Inc.		\$325.0000	\$16,250.00
	Summers-Taylor, Inc.		\$365.0000	\$18,250.00
716-04 14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
710-04.14	TEACHOT AVEINENT MARKING (EARL REDOCTION ARROW)	2.000 EACH		
	W-L Construction & Paving, Inc.	2.000 LAOI1	\$175.0000	\$350.00
	Summers-Taylor, Inc.		\$195.0000	\$390.00
716-05 01	PAINTED PAVEMENT MARKING (4" LINE)			
1 10-03.0 I	I ANTIED I AVENIENT MANNING (4 LINE)	36.000 L.M.		
	W-L Construction & Paving, Inc.	JUJUU LINI.	\$475.0000	\$17,100.00
	Summers-Taylor, Inc.		\$595.0000	\$21,420.00
	•		, <del>-</del>	. ,

		C	CONTRACT CNR100
		UNIT PRICE	EXTENSION
716-12.01 ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE	)		
	11.000 L.M.		
W-L Construction & Paving, Inc.		\$2,800.0000	\$30,800.00
Summers-Taylor, Inc.		\$3,500.0000	\$38,500.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE	)		
	36.000 L.M.		
W-L Construction & Paving, Inc.		\$3,525.0000	\$126,900.00
Summers-Taylor, Inc.		\$4,250.0000	\$153,000.00
TAT OA MODILITATION			
717-01 MOBILIZATION	4.0001.0		
	1.000 LS		
W-L Construction & Paving, Inc.		\$53,274.7000	\$53,274.70
Summers-Taylor, Inc.		\$115,750.0000	\$115,750.00
730-14.02 SAW SLOT			
730-14.02 SAW SLOT	00 000 000   5		
W.I. Construction & Device a land	92,000.000 L.F.	<b>#4.0000</b>	<b>#</b> 000 000 00
W-L Construction & Paving, Inc. Summers-Taylor, Inc.		\$4.0000 \$1.5000	\$368,000.00 \$138,000.00
Summers-rayion, inc.		φ1.5000	φ130,000.00
730-14.03 LOOP WIRE			
	184,000.000 L.F.		

W-L Construction & Paving, Inc. Summers-Taylor, Inc.

\$92,000.00

\$55,200.00

\$0.5000

\$0.3000

Summers-Taylor, Inc.	\$3,512,948.21
W-L Construction & Paving, Inc.	\$3,489,862.82

## TOTAL CONTRACT

W-L Construction & Paving, Inc.	\$3,489,862.82
Summers-Taylor, Inc.	\$3,512,948.21

## WILSON COUNTY (Contract No. CNR010 Call 082)

R-PHSIP-26(63),95008-3205-94

THE INSTALLATION OF SIGNALS ON U.S. 70 (S.R. 26) AT THE INTERSECTION OF BLUEBIRD ROAD/C.L. MANIER STREET, INCLUDING SIGNAL TIMING FROM U.S. 70N (S.R. 24) TO TENNESSEE BOULEVARD.

PROJECT LENGTH - 0.132 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2017

DBE GOAL 6.00%

TOTAL CONTRACT

Stansell Electric Company, Inc.

\$130,656.25

Davis H. Elliot Construction Company, Inc.

\$175,595.00

				CONTRACT CNR010
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Stansell Electric Company, Inc.		\$5,515.0000	\$5,515.00
	Davis H. Elliot Construction Company, Inc.		\$1,500.0000	\$1,500.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		550.000 L.F.		
	Stansell Electric Company, Inc.		\$1.0000	\$550.00
	Davis H. Elliot Construction Company, Inc.		\$6.4900	\$3,569.50
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Stansell Electric Company, Inc.		\$2,150.0000	\$2,150.00
	Davis H. Elliot Construction Company, Inc.		\$6,000.7900	\$6,000.79
712-06	SIGNS (CONSTRUCTION)			
		334.000 S.F.		
	Stansell Electric Company, Inc.		\$9.0000	\$3,006.00
	Davis H. Elliot Construction Company, Inc.		\$7.6500	\$2,555.10
712-08.03	ARROW BOARD (TYPE C)			
		1.000 EACH		
	Stansell Electric Company, Inc.		\$700.0000	\$700.00
	Davis H. Elliot Construction Company, Inc.		\$900.0000	\$900.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		56.000 LB.		
	Stansell Electric Company, Inc.		\$6.0000	\$336.00
	Davis H. Elliot Construction Company, Inc.		\$4.0000	\$224.00
713-14.21	STREET NAME SIGN (RIGID 0.100IN THICK			
		51.000 S.F.		
	Stansell Electric Company, Inc.		\$33.0000	\$1,683.00
	Davis H. Elliot Construction Company, Inc.		\$50.0000	\$2,550.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Stansell Electric Company, Inc.		\$500.0000	\$500.00
	Davis H. Elliot Construction Company, Inc.		\$150.0000	\$150.00
713-15.07	SUSPENDED FLAT SHEET ALUMINUM SIGN (0.080" THICK)			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$147.0000	\$294.00
	Davis H. Elliot Construction Company, Inc.		\$100.0000	\$200.00
713-16.20	SIGNS (W3-3)			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$177.0000	\$354.00
	Davis H. Elliot Construction Company, Inc.		\$275,0000	\$550.00

Davis H. Elliot Construction Company, Inc.

\$550.00

\$275.0000

				CONTRACT CNR010
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	,	45.000 S.Y.		
	Stansell Electric Company, Inc.		\$37.0000	\$1,665.00
	Davis H. Elliot Construction Company, Inc.		\$26.5000	\$1,192.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		98.000 L.F.		
	Stansell Electric Company, Inc.  Davis H. Elliot Construction Company, Inc.		\$25.0000 \$12.5000	\$2,450.00 \$1,225.00
	Davie v. i. Eliliot Gollottadion Gollipany, inc.		Ψ12.0000	ψ1, <b>22</b> 0.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Stansell Electric Company, Inc.	2.000 EACH	\$247.0000	\$494.00
	Davis H. Elliot Construction Company, Inc.		\$175.0000	\$350.00
716 09 01	REMOVAL OF PAVEMENT MARKING (LINE)			
710-00.01	REMOVAL OF PAVEMENT MARKING (LINE)	30.000 L.F.		
	Stansell Electric Company, Inc.		\$2.0000	\$60.00
	Davis H. Elliot Construction Company, Inc.		\$1.5000	\$45.00
716-13.06	SPRAY THERMO PVMT MRKNG (40 mil) (4IN LINE)			
		0.400 L.M.		
	Stansell Electric Company, Inc.  Davis H. Elliot Construction Company, Inc.		\$9,200.0000 \$5,000.0000	\$3,680.00 \$2,000.00
	Davis 11. Elliot Constituction Company, inc.		ψο,σσο.σσσσ	ψ2,000.00
717-01	MOBILIZATION			
	Stancell Floatric Company, Inc.	1.000 LS	¢2 400 0000	\$2,400.00
	Stansell Electric Company, Inc. Davis H. Elliot Construction Company, Inc.		\$2,400.0000 \$8,935.0000	\$8,935.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)	6.000 EACH		
	Stansell Electric Company, Inc.	0.000 EAGI1	\$826.0000	\$4,956.00
	Davis H. Elliot Construction Company, Inc.		\$650.0000	\$3,900.00
730-02.17	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
	· · · · · · · · · · · · · · · · · · ·	2.000 EACH		
	Stansell Electric Company, Inc.		\$1,295.0000 \$900.0000	\$2,590.00 \$1,800.00
	Davis H. Elliot Construction Company, Inc.		φ900.0000	φ1,600.00
730-03.20	INSTALL PULL BOX (TYPE A)			
	Stancoll Floatric Company, Inc.	1.000 EACH	<b>\$224,000</b> 0	¢224.00
	Stansell Electric Company, Inc. Davis H. Elliot Construction Company, Inc.		\$331.0000 \$500.0000	\$331.00 \$500.00

6.000 EACH

730-03.21 INSTALL PULL BOX (TYPE B)

Stansell Electric Company, Inc.

Davis H. Elliot Construction Company, Inc.

\$2,628.00

\$4,500.00

\$438.0000

\$750.0000

				CONTRACT CNR010
			UNIT PRICE	EXTENSION
730-05.01 ELECTRICAL SERVICE CON	INECTION			
Stansell Electric Company,	Inc	1.000 EACH	\$1,300.0000	\$1,300.00
Davis H. Elliot Construction			\$2,500.0000	\$2,500.00
730-08.03 SIGNAL CABLE - 7 CONDUC	CTOR			
		960.000 L.F.		
Stansell Electric Company, Davis H. Elliot Construction			\$1.3000 \$1.0000	\$1,248.00 \$960.00
David III. Elliot Gollottadiidii	Company, mo		ψ1.0000	φοσο.σσ
730-11.01 STEEL CONDUIT RISER ASS	SEMBLY	1.000 EACH		
Stansell Electric Company,	Inc.	1.000 EACH	\$279.0000	\$279.00
Davis H. Elliot Construction	Company, Inc.		\$1,500.0000	\$1,500.00
730-12.01 CONDUIT 1" DIAMETER (PV	C)			
0, 1151, 0		145.000 L.F.	Φ= 0000	<b>*</b> • • • • • • • • • • • • • • • • • • •
Stansell Electric Company, Davis H. Elliot Construction			\$7.0000 \$0.5000	\$1,015.00 \$72.50
720 42 02 CONDUIT 2" DIAMETED /DV	C)			
730-12.02 CONDUIT 2" DIAMETER (PV	<b>C)</b>	290.000 L.F.		
Stansell Electric Company,			\$7.5000	\$2,175.00
Davis H. Elliot Construction	Company, Inc.		\$1.0000	\$290.00
730-12.13 CONDUIT 2" DIAMETER (JA	CK AND BORE)			
Stansell Electric Company,	Inc	300.000 L.F.	\$34.0000	\$10,200.00
Davis H. Elliot Construction			\$25.0000	\$7,500.00
730-13.01 VEHICLE LOOP DETECTOR	(SHELF MOUNT)			
	,	2.000 EACH		
Stansell Electric Company, Davis H. Elliot Construction			\$159.0000 \$250.0000	\$318.00 \$500.00
Davio 11. Elliot Corioti dollori	Company, mo.		Ψ200.0000	φοσο.σσ
730-14.01 SHIELDED DETECTOR CAB	LE	455.000 L.F.		
Stansell Electric Company,	Inc.	455.000 L.F.	\$1.0000	\$455.00
Davis H. Elliot Construction	Company, Inc.		\$0.5000	\$227.50
730-14.02 SAW SLOT				
0		680.000 L.F.	<b>*</b> 0 <b>*</b> 0.5	фо ооо оо
Stansell Electric Company, Davis H. Elliot Construction			\$3.5000 \$15.0000	\$2,380.00 \$10,200.00

1,535.000 L.F.

730-14.03 LOOP WIRE

Stansell Electric Company, Inc.

Davis H. Elliot Construction Company, Inc.

\$997.75

\$383.75

\$0.6500

\$0.2500

		1.18	NIT PRICE	CONTRACT CNR010  EXTENSION
		Ol	III PRICE	EXTENSION
730-15.11 MOI	DIFY CABINET (INTERCONNECT)	2.000 EACH		
Star	nsell Electric Company, Inc.		357.0000	\$714.00
Dav	vis H. Elliot Construction Company, Inc.	\$5,	,000.0000	\$10,000.00
730-15.32 CAE	BINET (EIGHT PHASE BASE MOUNTED)			
Ctor	ncell Floatric Company Inc	1.000 EACH	F28 0000	¢40 539 00
	nsell Electric Company, Inc. /is H. Elliot Construction Company, Inc.		,528.0000 ,500.0000	\$10,528.00 \$12,500.00
730-16.02 FIG	HT PHASE ACTUATED CONTROLLER			
100 10102 210		1.000 EACH		
	nsell Electric Company, Inc.		,431.0000	\$3,431.00
Dav	vis H. Elliot Construction Company, Inc.	φ3,	,000.0000	\$5,000.00
730-18.01 MAS	STER CONTROLLER			
Star	nsell Electric Company, Inc.	1.000 EACH	,360.0000	\$3,360.00
	vis H. Elliot Construction Company, Inc.		,500.0000	\$5,500.00
730-23.96 CAN	NTILEVER SIGNAL SUPPORT (2 @ 45' & 65')			
		1.000 EACH		
	nsell Electric Company, Inc. vis H. Elliot Construction Company, Inc.		,842.0000 ,000.0000	\$20,842.00 \$25,000.00
		Ψ=0,	000.0000	Ψ20,000.00
730-23.97 CAN	NTILEVER SIGNAL SUPPORT (2 @ 50' & 70')	1.000 EACH		
Star	nsell Electric Company, Inc.		,797.0000	\$24,797.00
	vis H. Elliot Construction Company, Inc.		,000.0000	\$30,000.00
730-35.01 RF I	DATA SYSTEM (BROAD SPECTRUM)			
		3.000 EACH		
	nsell Electric Company, Inc. vis H. Elliot Construction Company, Inc.		,768.0000 ,500.0000	\$5,304.00 \$7,500.00
Dav	vis 11. Elliot Construction Company, inc.	Ψ∠,	300.0000	\$7,300.00
730-35.05 DAT	TA SYSTEM POWER SUPPLY	2 202 54 211		
Star	nsell Electric Company, Inc.	3.000 EACH	\$56.5000	\$169.50
	vis H. Elliot Construction Company, Inc.		,500.0000	\$4,500.00
730-35.11 ANT	TENNA (YAGI)			
		3.000 EACH		
	nsell Electric Company, Inc. vis H. Elliot Construction Company, Inc.		,000.0000	\$1,881.00 \$3,000.00
Dav	Emot Gonott dotton Gompany, mo.	Ψ1,	230.0000	ψο,σσσ.σσ
720 25 20 05	DATA CVCTEM CADIE			

150.000 L.F.

730-35.20 RF DATA SYSTEM CABLE

Stansell Electric Company, Inc.

Davis H. Elliot Construction Company, Inc.

\$825.00

\$225.00

\$5.5000

\$1.5000

				CONTRACT CNR010
			UNIT PRICE	EXTENSION
740-11.02	TEMPORARY SEDIMENT TUBE 12IN			
		500.000 L.F.		
	Stansell Electric Company, Inc.		\$2.2500	\$1,125.00
	Davis H. Elliot Construction Company, Inc.		\$6.6000	\$3,300.00
801-03	WATER (SEEDING & SODDING)			
		0.100 M.G.		
	Stansell Electric Company, Inc.		\$900.0000	\$90.00
	Davis H. Elliot Construction Company, Inc.		\$100.0000	\$10.00
803-01	SODDING (NEW SOD)			
		16.000 S.Y.		

Stansell Electric Company, Inc. Davis H. Elliot Construction Company, Inc. \$880.00

\$2,279.36

\$55.0000 \$142.4600

Davis H. Elliot Construction Company, Inc.	\$175,595.00
Stansell Electric Company, Inc.	\$130,656.25

## **TOTAL CONTRACT**

Stansell Electric Company, Inc.	\$130,656.25
Davis H. Elliot Construction Company, Inc.	\$175,595.00